Umfangreiches Lieferprogramm
mit uber 1.000 verschiedenen Referenzen

2019

STARK www.stark-germany.de




ADVANTAGES OF

STARK PROFESSIONAL LINE

STEERING RODS

CORROSION RESISTANT

Stark Professional Line steering rods are made of special alloys and undergo special treatment. Therefore,
they are not damaged under the influence of moisture and dirt. Components’ high resistance to corrosion is
confirmed by the results of 24-hour salt fog testing.

They are protected from external effects. High quality elastic dust caps provided for the hinges of Stark
Professional Line steering rods can retain their initial properties for a long time. They withstand extreme
temperatures well, are resistant to mechanical damage and road reactants,and ensure long protection of
moving joints from moisture and dirt.

They efficiently dampen vibrations. Stark Professional Line ball heads and hinges inserts not only withstand
well increased mechanical loads, but also have excellent shock absorbing properties. This ensures
protection of the suspension, and helps achieving high level of comfort for driver and passengers.

NOISELESS

The precise design, carefully chosen materials, the use of modem technology make operation of these
components quiet and efficient.

MATCHES ORIGINAL COMPONENTS

The process of manufacturing Stark Professional Line steering rods is closely monitored at all stages.
Therefore, the size and the shape of the components, and their specifications exactly match the
characteristics of the genuine equipment. This guarantees ease of installation and good performance of the
steering components. Installation of Stark Professional Line steering rods makes it possible to shorten the
braking distance and ensures high accuracy of control over the vehicle.

DURABILITY

The lubricant used in the hinges is resistant to temperature changes and contamination. This reduces wear
of the mating parts,and ensures free sliding.




Tie rod\steering rod for 7465 car modifications

TABLE OF CONTENTS

A
G

ALFA ROMEO
AUDI

GE—o

FIAT
FORD

M
E—o»

MAZDA
MERCEDES-BENZ
MITSUBISHI

P
G—

PEUGEOT

T
G

TOYOTA

Page :

Page :

75
87

Page :

101
103
131

Page :
175

Page :
248

G—o

BMW

G—o

HONDA

N
G—

NISSAN

R
G—o

RENAULT
ROVER

vV
G—

VOLKSWAGEN
VOLVO

Page :
40

Page :
94

Page :
140

Page :

193
219

Page :

251
298

C
G

CITROEN

L
G

LANCIA

G

OPEL

©_>

SAAB
SEAT
SKODA

Page :
61

Page :
99

Page :
155

Page :
220

225
238



ALFA ROMEO 147

MODEL YEAR FITTING POSITION ITEM NUMBER ITEM DETAILS

147 (937) 1.9 JTD 16V (103 KW / 140 HP) 11.2002 - 03.2010 Vorderachse SKTR-0240015 ffWim['E"ﬁ]fS Mlé);is,r;
dnge [mm
Aufdengewinde M14x1,5
[mm]

147 (937) 1.9 JTD (74 KW / 101 HP) 06.2003 - 03.2010 Vorderachse SKTR-0240015 EfWim:ema]ﬁ ”1"*118'3
dnge [mm
Aufdengewinde M14x1,5
[mm]

147 (937) 3.2 GTA (191 KW / 260 HP) 08.2008 - 03.2010 Vorderachse SKTR-0240015 ffWi"‘[’ema]B M“’fgi
dnge [mm
Auflengewinde M14x1,5
[mm]

147 (937) 1.9 JTD (937AXD1A) (85 KW / 115 HP) 04.2001 - 03.2010 Vorderachse SKTR-0240015 ffWi"?ema]ﬁ Mm;ls’:
dnge [mm
Au3engewinde M14x1,5
[mm]

147 (937) 1.9 JTD 16V (93 KW / 126 HP) 09.2003 - 09.2004 Vorderachse SKTR-0240015 ffwinc[lema]fs Mlé);is,r;
dnge [mm
Aufdengewinde M14x1,5
[mm]

147 (937) 1.9 JTD 16V (100 KW / 136 HP) 10.2004 - 03.2010 Vorderachse SKTR-0240015 EfWim:ema]ﬁ ”1"*118'3
dnge [mm
Aufdengewinde M14x1,5
[mm]

147 (937) 1.9 JTDM (85 KW / 115 HP) 10.2004 - 03.2010 Vorderachse SKTR-0240015 EfWi"‘[’ema]B M“’fs’i
dnge [mm
Auflengewinde M14x1,5
[mm]

147 (937) 2.0 (121 KW / 165 HP) 07.2002 - 05.2005 Vorderachse SKTR-0240015 ffWi"?ema]ﬁ Mm;ls’:
dnge [mm
Au3engewinde M14x1,5
[mm]

147 (937) 1.9 JTDM 16V (125 KW / 170 HP) 06.2008 - 03.2010 Vorderachse SKTR-0240015 ffwinc[lema]fs Mlé);is,r;
dnge [mm
Aufdengewinde M14x1,5
[mm]

147 (937) 2.0 16V T.SPARK (937AXC1) (110 KW / 150 01.2001 - 03.2010 Vorderachse SKTR-0240015 EfWim:ema]ﬁ ”1"*118'3
dnge [mm

HP) Aufdengewinde M14x1,5
[mm]

147 (937) 1.6 16V T.SPARK (937AXB1A) (88 KW / 120 HP) 01.2001 - 03.2010 Vorderachse SKTR-0240015 ffWi"‘[’ema]B M“’fs’i
dnge [mm
Auflengewinde M14x1,5
[mm]

147 (937) 1.6 16V T.SPARK ECO (937AXA1A) (77 KW / 01.2001 - 03.2010 Vorderachse SKTR-0240015 Gewindemafs M16x1,5

105 HP) ;ange [mm.] 183
uBengewinde M14x1,5
[mm]

147 (937) 3.2 GTA (184 KW / 250 HP) 02.2003 - 03.2010 Vorderachse SKTR-0240015 ffwinc[lema]fs Mlé);is,r;
dnge [mm
Aufdengewinde M14x1,5
[mm]

147 (937) 1.9 JTDM 8V (88 KW / 120 HP) 07.2005 - 03.2010 Vorderachse SKTR-0240015 EfWim:ema]ﬁ ”1"*118'3
dnge [mm
Aufdengewinde M14x1,5
[mm]

147 (937) 1.9 JTDM 16V (110 KW / 150 HP) 09.2004 - 03.2010 Vorderachse SKTR-0240015 ffWi"‘[’ema]B M“’fs’i
dnge [mm
Auflengewinde M14x1,5
[mm]




ALFA ROMEO 156

MODEL

156 (932) 1.8 16V T.SPARK (932A31_) (103 KW / 140
HP)

156 (932) 2.0 16V T.SPARK (932A21_) (110 KW / 150

HP)

156 (932) 1.9 JTD 16V (103 KW / 140 HP)

156 (932) 2.0 Twin Spark (118 KW / 160 HP)

156 (932) 2.5 V6 24V (932A11) (141 KW /192 HP)

156 (932) 1.9 JTD (93 KW / 126 HP)

156 (932) 1.9 JTD (100 KW / 136 HP)

156 (932) 1.9 JTD (932A28B_) (81 KW / 110 HP)

156 (932) 1.9 JTD (110 KW / 150 HP)

156 (932) 2.4 JTD (120 KW / 163 HP)

156 (932) 2.4 JTD (932A1B_) (103 KW / 140 HP)

156 (932) 1.6 16V T.SPARK (932A4) (88 KW / 120 HP)

156 (932) 1.8 16V T.SPARK (932A3) (106 KW / 144 HP)

156 (932) 2.0 16V T.SPARK (932A2) (114 KW / 155 HP)

156 (932) 2.5 V6 24V (932A1) (140 KW / 190 HP)

156 (932) 1.9 JTD (932B2) (77 KW / 105 HP)

156 (932) 2.4 JTD (932B1) (100 KW / 136 HP)

156 (932) 1.6 16V T.SPARK (82 KW / 112 HP)

156 (932) 1.9 JTD (932A2B, 932A2C) (85 KW / 115 HP)

YEAR

10.2000 - 09.2005

10.2000 - 03.2002

11.2002 - 09.2005

01.2002 - 09.2005

10.2000 - 09.2005

11.2003 - 09.2005

11.2002 - 11.2004

10.2000 - 05.2001

07.2004 - 09.2005

06.2003 - 09.2005

10.2000 - 09.2005

09.1997 - 09.2005

09.1997 - 10.2000

09.1997 - 06.2002

09.1997 - 12.2001

09.1997 - 10.2000

09.1997 - 09.2003

09.1997 - 09.2005

05.2001 - 09.2005

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEMNUMBER

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

ITEM DETAILS

Gewindemaf}
Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf
Linge [mm]
Auflengewinde
[mm]

Gewindemaf}
Linge [mm]
AuBengewinde
[mm]

Gewindemaf}
Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf
Linge [mm]
Auflengewinde
[mm]

Gewindemaf}
Linge [mm]
AuBengewinde
[mm]

Gewindemaf}
Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}
Linge [mm]
Auflengewinde
[mm]

Gewindemaf}
Linge [mm]
AuRengewinde
[mm]

Gewindemaf}
Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}
Linge [mm]
Auflengewinde
[mm]

Gewindemaf}
Linge [mm]
AuBengewinde
[mm]

Gewindemaf}
Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}
Linge [mm]
Auflengewinde
[mm]

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5



156 (932) 2.4 JTD (129 KW / 175 HP)

156 (932) 3.2 GTA (932AXB) (184 KW / 250 HP)

156 (932) 2.0 JTS (932AXA) (122 KW / 166 HP)

156 (932) 2.4 JTD (932AXC) (110 KW / 150 HP)

156 Sportwagon (932) 1.8 16V T.SPARK (932B31_) (103
KW / 140 HP)

156 Sportwagon (932) 2.0 16V T.SPARK (932B21_) (110
KW / 150 HP)

156 Sportwagon (932) 1.9 JTD 16V (103 KW / 140 HP)

156 Sportwagon (932) 1.9 JTD 16V Q4 (110 KW / 150 HP)

156 Sportwagon (932) 2.5 V6 24V (932B11 ) (141 KW /
192 HP)

156 Sportwagon (932) 1.9 JTD (932B2B_) (81 KW /110
HP)

156 Sportwagon (932) 2.4 JTD (932B1B_) (103 KW / 140
HP)

156 Sportwagon (932) 1.6 16V T.SPARK. (932.B4B00) (81

KW /110 HP)

156 Sportwagon (932) 1.9 JTD (110 KW / 150 HP)

156 Sportwagon (932) 1.9 JTD (93 KW / 126 HP)

156 Sportwagon (932) 1.9 JTD (100 KW / 136 HP)

156 Sportwagon (932) 2.0 (119 KW / 162 HP)

156 Sportwagon (932) 2.4 JTD (120 KW / 163 HP)

156 Sportwagon (932) 1.6 16V T.SPARK (82 KW / 112 HP)

156 Sportwagon (932) 1.6 16V T.SPARK. (932A4) (88 KW /

120 HP)

156 Sportwagon (932) 1.8 16V T.SPARK (932A3) (106 KW
/144 HP)

10.2003 - 09.2005

03.2002 - 09.2005

03.2002 - 09.2005

03.2002 - 09.2005

10.2000 - 05.2006

10.2000 - 03.2002

11.2002 - 05.2006

07.2004 - 05.2006

10.2000 - 05.2006

10.2000 - 05.2001

10.2000 - 05.2006

07.2000 - 07.2005

03.2005 - 05.2006

11.2003 - 05.2006

11.2002 - 11.2004

03.2002 - 05.2006

06.2003 - 05.2006

01.2000 - 09.2005

05.2000 - 05.2006

05.2000 - 10.2000

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

SKTR-0240015

Gewindemaf’
Linge [mm]
Auflengewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf’
Linge [mm]
Auflengewinde
[mm]

Gewindemaf}
Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf
Linge [mm]
Auflengewinde
[mm]

Gewindemaf}
Lange [mm]
Au3engewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf
Linge [mm]
Auflengewinde
[mm]

Gewindemaf}
Lange [mm]
Au3engewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf
Linge [mm]
Auflengewinde
[mm]

Gewindemaf}
Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}
Lange [mm]
Aufdengewinde
[mm]

Gewindemaf
Linge [mm]
Auflengewinde
[mm]

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5

M16x1,5
183
M14x1,5



156 Sportwagon (932) 2.0 16V T.SPARK (932A2) (114 KW  05.2000 - 06.2002  Vorderachse SKTR-0240015 Gewindematy M16x1,5

Linge [mm] 183
/155 HP) AuRengewinde M14x1,5
[mm]
156 Sportwagon (932) 2.5 V6 24V (932A1) (140 KW /190  05.2000 - 08.2003 Vorderachse SKTR-0240015 Gewindematy M16x1,5
HP) ;—\ar{l&ge [mm'] d M14; 118:
ufdengewinde x1,
[mm]
156 Sportwagon (932) 1.9 JTD (932B2) (77 KW /105 HP)  05.2000 - 10.2000 Vorderachse SKTR-0240015 ffWinc['emalﬁ M16);18,§
dnge [mm
Aufdengewinde M14x1,5
[mm]
156 Sportwagon (932) 2.4 JTD (932B1) (100 KW / 136 HP)  05.2000 - 09.2003 Vorderachse SKTR-0240015 ffwinc[lema]i% ”1"*118'3
dnge [mm
Aufdengewinde M14x1,5
[mm]
156 Sportwagon (932) 1.9 JTD (932B2B, 932B2(C) (85 KW 05.2001 - 05.2006 Vorderachse SKTR-0240015 Gewindemafy M16x1,5
Linge [mm] 183
/115 HP) Auf3engewinde M14x1,5
[mm]
156 Sportwagon (932) 2.4 JTD (129 KW / 175 HP) 10.2003 - 05.2006 Vorderachse SKTR-0240015 Gewindemafy M16x1,5
Lange [mm] 183
Aulengewinde M14x1,5
[mm]
156 Sportwagon (932) 3.2 GTA (932BXB) (184 KW /250  03.2002 - 05.2006 Vorderachse SKTR-0240015 Gewindemafy M16x1,5
HP) Linge [mm] 183
Aufdengewinde M14x1,5
[mm]
156 Sportwagon (932) 2.0 JTS (932BXA) (122 KW / 166 03.2002 - 05.2006 Vorderachse SKTR-0240015 Gewindemafy M16x1,5
HP) Linge [mm] 183
Aufdengewinde M14x1,5
[mm]
156 Sportwagon (932) 2.4 JTD (932BXC) (110 KW / 150 03.2002 - 05.2006 Vorderachse SKTR-0240015 Gewindemafy M16x1,5
HP) Lange [mm] 183
Auflengewinde M14x1,5
[mm]
MODEL YEAR FITTING POSITION ITEMNUMBER ITEM DETAILS
GT (937) 3.2 GTA (191 KW / 260 HP) 08.2008 - 09.2010 Vorderachse SKTR-0240015 Gewindemafy M16x1,5
Lange [mm] 183
Au3engewinde M14x1,5
[mm]
GT (937) 2.0 (110 KW / 150 HP) 09.2006 - 12.2008 Vorderachse SKTR-0240015 Gewindemafy M16x1,5
Lange [mm] 183
Aufdengewinde M14x1,5
[mm]
GT (937) 1.8 TS (103 KW / 140 HP) 11.2003 - 09.2010 Vorderachse SKTR-0240015 ffWi"?emalﬁ Mlé);ls,;:
dnge [mm
Aufdengewinde M14x1,5
[mm]
GT (937) 2.0 JTS (121 KW / 165 HP) 11.2003 - 09.2010 Vorderachse SKTR-0240015 ffWim[‘ema]ﬂ M“’fs’i
dnge [mm
Auflengewinde M14x1,5
[mm]
GT (937) 3.2 GTA (176 KW / 240 HP) 11.2003 - 09.2010 Vorderachse SKTR-0240015 Gewindemay M16x1,5
Lange [mm] 183
Au3engewinde M14x1,5
[mm]
GT (937) 1.9 JTD (110 KW / 150 HP) 11.2003 - 09.2010 Vorderachse SKTR-0240015 ffwinc[lema]fs M“’fs’;
dnge [mm
Aufdengewinde M14x1,5
[mm]
GT (937) 1.9 JTD (125 KW / 170 HP) 05.2008 - 09.2010 Vorderachse SKTR-0240015 ffWi"?emalﬁ Mlé);ls,;:
dnge [mm
Aufdengewinde M14x1,5
[mm]
GT (937) 3.2 JTS (177 KW / 237 HP) 09.2006 - 12.2007 Vorderachse SKTR-0240015 EfWim[‘ema]B ”“*118';
dnge [mm
Auflengewinde M14x1,5
[mm]




GT (937) 2.0 JTS (119 KW / 162 HP) 12.2006 - 09.2010  Vorderachse SKTR-0240015 Gewindemafs M16x1,5
Lange [mm] 183
Aufiengewinde M14x1,5
[mm]




s AUD

AUDI 100

MODEL
100 (4A, C4) S4 V8 quattro (206 KW / 280 HP)

100 (4A, C4) 2.4 D (60 KW / 82 HP)

100 (4A, C4) 2.5 TDI (85 KW / 115 HP)

100 (4A, C4) 2.0 (74 KW / 100 HP)

100 (4A, C4) 2.0 E (85 KW / 115 HP)

100 (4A, C4) 2.3 E (98 KW / 134 HP)

100 (4A, C4) 2.6 (110 KW / 150 HP)

100 (4A, C4) 2.8 E (128 KW / 174 HP)

100 (4A, C4) S4 Turbo quattro (169 KW / 230 HP)
100 (4A, C4) 2.3 E quattro (98 KW / 134 HP)

100 (4A, C4) 2.6 quattro (110 KW / 150 HP)

100 (4A, C4) 2.8 E quattro (128 KW / 174 HP)

100 (4A, C4) 2.0 E quattro (85 KW / 115 HP)

100 (4A, C4) 2.0 E 16V (103 KW / 140 HP)

100 (4A, C4) 2.0 E 16V quattro (103 KW / 140 HP)
100 (4A, C4) 2.6 (102 KW / 139 HP)

100 Avant (4A, C4) S4 V8 quattro (206 KW / 280 HP)
100 Avant (4A, C4) 2.0 E quattro (85 KW / 115 HP)
100 Avant (4A, C4) 2.0 E 16V (103 KW / 140 HP)
100 Avant (4A, C4) 2.0 E 16V quattro (103 KW / 140 HP)
100 Avant (4A, C4) 2.4 D (60 KW / 82 HP)

100 Avant (4A, C4) 2.5 TDI (85 KW / 115 HP)

100 Avant (4A, C4) 2.0 E (74 KW / 100 HP)

100 Avant (4A, C4) 2.0 E (85 KW / 115 HP)

100 Avant (4A, C4) S4 Turbo quattro (169 KW / 230 HP)
100 Avant (4A, C4) 2.6 (110 KW / 150 HP)

100 Avant (4A, C4) 2.6 E quattro (102 KW / 139 HP)
100 Avant (4A, C4) 2.3 E (98 KW / 133 HP)

100 Avant (4A, C4) 2.8 E (128 KW / 174 HP)

100 Avant (4A, C4) 2.3 E quattro (98 KW / 134 HP)

100 Avant (4A, C4) 2.6 quattro (110 KW / 150 HP)

YEAR

10.1992 - 07.1994

12.1990 - 07.1994

12.1990 - 07.1994

12.1990 - 07.1994

12.1990 - 07.1994

12.1990 - 07.1994

03.1992 - 07.1994

12.1990 - 07.1994

08.1991 - 07.1994

12,1990 - 07.1994

04.1992 - 07.1994

12.1990 - 07.1994

12.1990 - 07.1992

01.1992 - 07.1994

07.1992 - 07.1994

07.1993 - 07.1994

10.1992 - 07.1994

12.1990 - 07.1992

07.1992 - 07.1994

07.1992 - 07.1994

12.1990 - 07.1994

12.1990 - 07.1994

09.1991 - 07.1994

09.1991 - 07.1994

09.1991 - 07.1994

03.1992 - 07.1994

08.1993 - 07.1994

09.1991 - 07.1994

09.1991 - 07.1994

09.1991 - 07.1994

07.1992 - 07.1994

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEM NUMBER

SKRA-0250032
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031

SKRA-0250031

ITEM DETAILS



100 Avant (4A, C4) 2.8 E quattro (128 KW / 174 HP)

100 Avant (4A, C4) 2.6 (102 KW / 139 HP)

AUDI 80

MODEL
80 (81, 85, B2) 2.2 (85 KW / 115 HP)

80 (81, 85, B2) 1.3 (44 KW / 60 HP)

80 (81, 85, B2) 1.3 (40 KW / 55 HP)

80 (81, 85, B2) 1.3 (44 KW / 60 HP)

80 (81, 85, B2) 1.6 (54 KW / 73 HP)

80 (81, 85, B2) 1.6 (55 KW / 75 HP)

80 (81, 85, B2) 1.6 (63 KW / 85 HP)

80 (81, 85, B2) 1.6 GLE (81 KW / 110 HP)

80 (81, 85, B2) 1.8 (65 KW / 88 HP)

80 (81, 85, B2) 1.8 (66 KW / 90 HP)

80 (81, 85, B2) 1.8 GTE (82 KW / 112 HP)

80 (81, 85, B2) 1.6 D (40 KW / 54 HP)

80 (81, 85, B2) 1.6 TD (51 KW / 70 HP)

80 (81, 85, B2) 1.6 (55 KW / 75 HP)

80 (81, 85, B2) 1.8 CC quattro (85Q) (66 KW / 90 HP)
80 (81, 85, B2) 1.8 GTE quattro (85Q) (82 KW / 112 HP)
80 (81, 85, B2) 1.8 (68 KW / 93 HP)

80 (81, 85, B2) 1.8 GTE (81 KW / 110 HP)

80 (81, 85, B2) 1.8 CC quattro (85Q) (68 KW / 93 HP)
80 (81, 85, B2) 1.8 GTE quattro (85Q) (81 KW / 110 HP)
80 (81, 85, B2) 2.0 (85 KW / 115 HP)

80 (81, 85, B2) 2.2 quattro (100 KW / 136 HP)

80 (81, 85, B2) 2.0 quattro (85Q) (85 KW / 115 HP)
80 (81, 85, B2) 2.2 quattro (85Q) (100 KW / 136 HP)
80 (81, 85, B2) 1.6 (51 KW / 70 HP)

80 (81, 85, B2) 2.2 quattro (96 KW / 131 HP)

80 (81, 85, B2) 1.9 CD-5S (85 KW / 115 HP)

80 (89, 890, 8A, B3) 2.0 (82 KW / 112 HP)

80 (89, 890, 8A, B3) 1.6 (55 KW / 75 HP)

80 (89, 890, 8A, B3) 1.8 (55 KW / 75 HP)

80 (89, 890, 8A, B3) 1.8 S (65 KW / 88 HP)

80 (89, 890, 8A, B3) 1.8 S (66 KW / 90 HP)

80 (89, 890Q, 8A, B3) 1.8 E (82 KW /112 HP)

09.1991 - 07.1994

07.1993 - 07.1994

YEAR

10.1980 - 07.1983

09.1978 - 07.1981

09.1978 - 07.1981

09.1978 - 07.1986

02.1986 - 07.1986

08.1978 - 07.1986

08.1978 - 02.1983

08.1978 - 07.1982

02.1986 - 07.1986

01.1983 - 08.1986

10.1984 - 08.1986

08.1980 - 08.1986

08.1981 - 05.1986

08.1978 - 07.1986

08.1984 - 08.1986

08.1984 - 08.1986

08.1983 - 08.1986

08.1985 - 07.1986

08.1985 - 08.1986

03.1985 - 08.1986

10.1983 - 09.1984

08.1982 - 07.1984

10.1983 - 09.1984

08.1982 - 07.1984

08.1978 - 07.1981

08.1982 - 07.1984

09.1981 - 07.1983

10.1990 - 08.1991

09.1986 - 08.1991

10.1986 - 01.1990

08.1986 - 01.1990

09.1986 - 10.1991

06.1986 - 08.1991

Vorderachse

Vorderachse

FITTING POSITION

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

SKRA-0250031

SKRA-0250031

ITEMNUMBER

SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019

ITEM DETAILS

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585



80 (89, 890, 8A, B3) 1.8 (83 KW / 113 HP)
80 (89, 890, 8A, B3) 2.0 E (83 KW / 113 HP)

80 (89, 890, 8A, B3) 1.6 D (40 KW / 54 HP)

80 (89, 890, 8A, B3) 1.6 TD (59 KW / 80 HP)

80 (89, 890, 8A, B3) 1.9 D (50 KW / 68 HP)

80 (89, 890, 8A, B3) 1.6 (51 KW / 70 HP)

80 (89, 890, 8A, B3) 2.0 E 16V (101 KW / 137 HP)
80 (89, 890, 8A, B3) 1.8 S quattro (65 KW / 88 HP)
80 (89, 890, 8A, B3) 1.8 S quattro (66 KW / 90 HP)
80 (89, 890, 8A, B3) 1.8 quattro (83 KW / 113 HP)
80 (89, 890, 8A, B3) 2.0 E quattro (83 KW / 113 HP)
80 (89, 890, 8A, B3) 2.0 quattro (85 KW / 115 HP)
80 (89, 890, 8A, B3) 2.0 E 16V quattro (101 KW / 137 HP)
80 (89, 890, 8A, B3) 1.8 E quattro (82 KW / 112 HP)
80 (89, 890, 8A, B3) 2.0 quattro (82 KW / 112 HP)
80 (89, 890, 8A, B3) 1.6 (75 KW / 102 HP)

80 (89, 890, 8A, B3) 1.4 (48 KW / 65 HP)

80 (89, 890, 8A, B3) 2.3 quattro (98 KW / 133 HP)
80 (8C, B4) 1.9 TD (55 KW / 75 HP)

80 (8C, B4) 1.9 TDI (66 KW / 90 HP)

80 (8C, B4) 1.6 (52 KW / 71 HP)

80 (8C, B4) 1.6 E (74 KW / 101 HP)

80 (8C, B4) 2.0 (66 KW / 90 HP)

80 (8C, B4) 2.0 E (85 KW / 115 HP)

80 (8C, B4) 2.0 E 16V (103 KW / 140 HP)

80 (8C, B4) 2.3 E (98 KW / 133 HP)

80 (8C, B4) 2.6 (110 KW / 150 HP)

80 (8C, B4) 2.8 (128 KW / 174 HP)

80 (8C, B4) 2.0 E 16V quattro (103 KW / 140 HP)

80 (8C, B4) 2.0 E quattro (85 KW / 115 HP)

80 (8C, B4) S2 quattro (169 KW / 230 HP)

80 (8C, B4) 2.3 E quattro (98 KW / 133 HP)

80 (8C, B4) 2.6 quattro (110 KW / 150 HP)

80 (8C, B4) 2.8 quattro (128 KW / 174 HP)

80 (8C, B4) 2.0 E 16V (101 KW / 137 HP)

80 (8C, B4) 2.0 quattro (79 KW / 107 HP)

80 Avant (8C, B4) 1.9 TD (55 KW / 75 HP)

80 Avant (8C, B4) RS2 quattro (P1) (232 KW / 315 HP)
80 Avant (8C, B4) 2.3 E quattro (98 KW / 133 HP)

80 Avant (8C, B4) 1.9 TDI (66 KW / 90 HP)

09.1986 - 07.1988

08.1988 - 10.1990

02.1987 - 07.1989

09.1986 - 08.1991

08.1989 - 08.1991

08.1987 - 09.1991

03.1990 - 09.1991

09.1986 - 07.1990

09.1986 - 09.1991

09.1986 - 08.1990

08.1988 - 09.1990

10.1990 - 08.1991

03.1990 - 08.1991

09.1986 - 08.1991

08.1988 - 07.1990

08.1990 - 10.1991

08.1986 - 07.1988

10.1987 - 07.1989

09.1991 - 12.1994

09.1991 - 12.1994

09.1991 - 12.1994

06.1993 - 12.1994

09.1991 - 12.1994

09.1991 - 12.1994

08.1992 - 12.1994

09.1991 - 12.1994

07.1992 - 12.1994

09.1991 - 12.1994

04.1992 - 12.1994

09.1991 - 12.1994

02.1993 - 12.1994

09.1991 - 12.1994

06.1992 - 12.1994

09.1991 - 12.1994

09.1991 - 07.1992

11.1993 - 07.1994

09.1991 - 12,1994

03.1994 - 05.1995

09.1991 - 11.1994

07.1992 - 01.1996

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019

SKRA-0250019

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585



80 Avant (8C, B4) 1.6 E (74 KW / 101 HP)
80 Avant (8C, B4) 2.0 (66 KW / 90 HP)

80 Avant (8C, B4) 2.0 E (85 KW / 115 HP)

80 Avant (8C, B4) 2.0 E 16V (103 KW / 140 HP)
80 Avant (8C, B4) 2.3 E (98 KW / 133 HP)

80 Avant (8C, B4) 2.6 (110 KW / 150 HP)

80 Avant (8C, B4) 2.0 quattro (79 KW / 107 HP)

80 Avant (8C, B4) S2 quattro (169 KW / 230 HP)
80 Avant (8C, B4) 2.6 quattro (110 KW / 150 HP)
80 Avant (8C, B4) 2.8 quattro (128 KW / 174 HP)
80 Avant (8C, B4) 2.8 (128 KW / 174 HP)

80 Avant (8C, B4) 2.0 E 16V quattro (103 KW / 140 HP)

AUDI 90

MODEL
90 (81, 85, B2) 2.0 (83 KW / 113 HP)

90 (81, 85, B2) 1.6 TD (51 KW / 70 HP)

90 (81, 85, B2) 2.0 (85 KW / 115 HP)

90 (81, 85, B2) 2.2 (85 KW / 115 HP)

90 (81, 85, B2) 2.2 (100 KW / 136 HP)

90 (81, 85, B2) 2.2 E quattro (38 KW / 120 HP)

90 (81, 85, B2) 2.2 E quattro (100 KW / 136 HP)

90 (81, 85, B2) 2.0 quattro (85 KW / 116 HP)

90 (89, 890, 8A, B3) 2.0 20 V quattro (118 KW / 160 HP)
90 (89, 89Q, 8A, B3) 2.0 20 V (118 KW / 160 HP)

90 (89, 890, 8A, B3) 1.6 TD (59 KW / 80 HP)

90 (89, 890Q, 8A, B3) 2.2 E (100 KW / 136 HP)

90 (89, 890, 8A, B3) 2.0 (85 KW / 115 HP)

90 (89, 890, 8A, B3) 2.2 E quattro (100 KW / 136 HP)

90 (89, 890, 8A, B3) 2.3 E (100 KW / 136 HP)

90 (89, 890, 8A, B3) 2.3 E 20V (125 KW / 170 HP)

90 (89, 890, 8A, B3) 2.3 E (98 KW / 133 HP)

90 (89, 890, 8A, B3) 2.3 E 20V (123 KW / 167 HP)

90 (89, 890, 8A, B3) 2.3 E quattro (100 KW / 136 HP)

90 (89, 89Q, 8A, B3) 2.3 E 20V quattro (125 KW / 170 HP)
90 (89, 89Q, 8A, B3) 2.3 E quattro (98 KW / 133 HP)

90 (89, 89Q, 8A, B3) 2.3 E 20V quattro (123 KW / 167 HP)

90 (89, 890, 8A, B3) 2.0 quattro (101 KW / 137 HP)

06.1993 - 01.1996

07.1992 - 01.1996

07.1992 - 01.1996

02.1993 - 01.1996

07.1992 - 01.1996

07.1992 - 01.1996

11.1993 - 01.1996

02.1993 - 07.1995

07.1992 - 07.1995

08.1992 - 07.1995

09.1991 - 01.1996

12.1992 - 07.1995

YEAR

03.1986 - 03.1987

10.1985 - 01.1987

10.1984 - 03.1987

01.1985 - 03.1987

10.1984 - 03.1987

08.1985 - 03.1987

11.1984 - 03.1987

08.1984 - 08.1986

08.1988 - 09.1991

08.1989 - 07.1991

04.1987 - 09.1991

04.1987 - 07.1991

07.1988 - 09.1991

04.1987 - 09.1991

04.1987 - 07.1991

08.1988 - 07.1991

04.1987 - 09.1991

04.1990 - 07.1991

04.1987 - 07.1991

06.1988 - 09.1991

04.1987 - 09.1991

04.1990 - 09.1991

08.1989 - 07.1990

links

links

links

links

links

links

links

links

links

links

links

links

FITTING POSITION

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019

ITEMNUMBER

SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

ITEM DETAILS

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585



AUDI A3

MODEL

A3 (8L1) S3 quattro (154 KW / 210 HP)

A3 (8L1) 1.9 TDI quattro (96 KW / 130 HP)
A3 (8L1) 1.9 TDI (74 KW / 100 HP)

A3 (8L1) 1.8 T quattro (110 KW / 150 HP)
A3 (8L1) 1.8 T (132 KW / 180 HP)

A3 (8L1) 1.9 TDI (96 KW / 130 HP)

A3 (8L1) 1.6 (75 KW / 102 HP)

A3 (8L1) S3 (165 KW / 224 HP)

A3 (8L1) 1.9 TDI (81 KW / 110 HP)
A3 (8L1) 1.6 (74 KW / 101 HP)

A3 (8L1) 1.8 (92 KW / 125 HP)

A3 (8L1) 1.8 T quattro (132 KW / 180 HP)
A3 (8L1) 1.8 T (110 KW / 150 HP)

A3 (8L1) 1.9 TDI (66 KW / 90 HP)

A3 (8P1) S3 quattro (188 KW / 256 HP)
A3 (8P1) 1.8 TFS| quattro (118 KW / 160 HP)
A3 (8P1) 1.6 (75 KW / 102 HP)

A3 (8P1) 2.0 TDI 16V (103 KW / 140 HP)

A3 (8P1) 1.8 T (110 KW / 150 HP)

A3 (8P1) 2.0 TDI (100 KW / 136 HP)

A3 (8P1) 1.6 TDI (66 KW / 90 HP)

A3 (8P1) 1.6 TDI (77 KW / 105 HP)

A3 (8P1) 2.0 FSI (110 KW / 150 HP)

A3 (8P1) 1.8 TFSI (118 KW / 160 HP)

A3 (8P1) 2.0 (120 KW / 163 HP)

A3 (8P1) 1.6 E-Power (75 KW / 102 HP)

A3 (8P1) 2.0 TDI (125 KW / 170 HP)

YEAR

03.1999 - 04.2002

08.2000 - 05.2003

10.2000 - 05.2003

12.1996 - 05.2003

12.1998 - 05.2003

08.2000 - 05.2003

08.2000 - 05.2003

10.2001 - 05.2003

08.1997 - 07.2001

09.1996 - 05.2003

09.1996 - 05.2003

10.1998 - 05.2003

12.1996 - 05.2003

09.1996 - 07.2001

02.2007 - 08.2012

07.2008 - 08.2012

05.2003 - 08.2012

05.2003 - 08.2012

08.2006 - 08.2012

05.2003 - 08.2012

05.2009 - 08.2012

05.2009 - 08.2012

05.2003 - 06.2008

11.2006 - 08.2012

06.2006 - 08.2012

01.2011 - 08.2012

03.2006 - 08.2012

FITTING POSITION

Vorderachse
rechts

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse
rechts

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

ITEMNUMBER

SKRA-0250023

SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005

SKRA-0250023

SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEM DETAILS

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



A3 (8P1) 2.0 TDI quattro (125 KW / 170 HP)

A3 (8P1) 3.2 V6 quattro (184 KW / 250 HP)

A3 (8P1) 1.6 FSI (85 KW / 115 HP)

A3 (8P1) 2.0 TDI (120 KW / 163 HP)

A3 (8P1) 2.0 TDI quattro (100 KW / 136 HP)

A3 (8P1) 2.0 TFSI (147 KW / 200 HP)

A3 (8P1) 2.0 TFSI quattro (147 KW / 200 HP)

A3 (8P1) 2.0 TDI 16V quattro (103 KW / 140 HP)

A3 (8P1) S3 quattro (195 KW / 265 HP)

A3 (8P1) 1.4 TFSI (92 KW / 125 HP)

A3 (8P1) 1.2 TSI (77 KW / 105 HP)

A3 (8P1) 1.9 TDI (77 KW / 105 HP)

A3 (8P1) 2.0 TDI (103 KW / 140 HP)

A3 (8P1) 2.0 TDI quattro (103 KW / 140 HP)

A3 (8V1) S3 quattro (213 KW / 290 HP)

A3 (8V1) 1.0 TFSI (85 KW / 115 HP)

A3 (8V1) S3 quattro (228 KW / 310 HP)

A3 (8V1) 1.6 TDI (77 KW / 105 HP)

A3 (8V1) 2.0 TDI (81 KW /110 HP)

A3 (8V1) 2.0 TFSI quattro (140 KW / 190 HP)

A3 (8V1) 2.0 TDI quattro (110 KW / 150 HP)

A3 (8V1) 2.0 TDI (135 KW / 184 HP)

A3 (8V1) 2.0 TDI quattro (135 KW / 184 HP)

A3 (8V1) 1.4 TFSI (103 KW / 140 HP)

A3 (8V1) 2.0 TFSI (140 KW / 190 HP)

03.2006 - 08.2012

07.2003 - 05.2009

08.2003 - 09.2007

06.2006 - 06.2008

05.2003 - 06.2008

09.2004 - 08.2012

09.2004 - 08.2012

08.2004 - 08.2012

11.2006 - 08.2012

09.2007 - 08.2012

04.2010 - 08.2012

05.2003 - 05.2010

06.2005 - 06.2008

01.2006 - 06.2008

07.2016 -

07.2016 -

06.2016 -

10.2012 -

01.2013 -

05.2016 -

10.2012 -

05.2013 -

12.2012 -

03.2013 -

05.2016 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



A3 (8V1) 1.4 TFSI (90 KW / 122 HP)

A3 (8V1) 1.8 TFSI (132 KW / 180 HP)

A3 (8V1) 2.0 TDI (105 KW / 143 HP)

A3 (8V1) 2.0 TDI (110 KW / 150 HP)

A3 (8V1) 1.2 TFSI (77 KW / 105 HP)

A3 (8V1) S3 quattro (206 KW / 280 HP)

A3 (8V1) S3 quattro (221 KW / 300 HP)

A3 (8V1) 1.2 TFSI (81 KW / 110 HP)

A3 (8V1) 1.4 TFSI (92 KW / 125 HP)

A3 (8V1) 1.6 TDI (85 KW / 115 HP)

A3 (8V1) 1.4 TFSI (110 KW / 150 HP)

A3 (8V1) S3 quattro (210 KW / 286 HP)

A3 (8V1) 1.5 TFSI (110 KW / 150 HP)

A3 (8V1) 1.8 TFSI quattro (132 KW / 180 HP)

A3 (8V1) 1.6 TDI (81 KW / 110 HP)

A3 (8V1) 2.0 TDI (100 KW / 136 HP)

A3 Cabriolet (8P7) 1.4 TFSI (92 KW / 125 HP)

A3 Cabriolet (8P7) 1.2 TFSI (77 KW / 105 HP)

A3 Cabriolet (8P7) 1.6 TDI (77 KW / 105 HP)

A3 Cabriolet (8P7) 1.6 (75 KW / 102 HP)

A3 Cabriolet (8P7) 1.8 TFSI (118 KW / 160 HP)

A3 Cabriolet (8P7) 2.0 TFSI (147 KW / 200 HP)

A3 Cabriolet (8P7) 1.9 TDI (77 KW / 105 HP)

A3 Cabriolet (8P7) 2.0 TDI (103 KW / 140 HP)

A3 Cabriolet (8P7) 2.0 TDI (100 KW / 136 HP)

04.2012 -

04.2012 -

09.2012 -

04.2012 -

02.2013 -

02.2013 -

11.2012 -

05.2014 -

05.2014 -

02.2017 -

05.2014 -

05.2014 -

05.2017 -

08.2012 -

09.2013 -

05.2013 -

02.2011 - 05.2013

03.2010 - 05.2013

05.2009 - 05.2013

09.2008 - 05.2010

04.2008 - 05.2013

04.2008 - 05.2013

04.2008 - 10.2009

04.2008 - 05.2013

04.2008 - 05.2013

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



A3 Cabriolet (8V7) 1.4 TFSI (85 KW / 115 HP)

A3 Cabriolet (8V7) S3 quattro (228 KW / 310 HP)

A3 Cabriolet (8V7) 2.0 TFSI quattro (140 KW / 190 HP)

A3 Cabriolet (8V7) 2.0 TFSI (140 KW / 190 HP)

A3 Cabriolet (8V7) S3 quattro (221 KW / 300 HP)

A3 Cabriolet (8V7) 1.6 TDI (85 KW / 115 HP)

A3 Cabriolet (8V7) 2.0 TDI (100 KW / 136 HP)

A3 Cabriolet (8V7) S3 quattro (210 KW / 286 HP)

A3 Cabriolet (8V7) 1.6 TDI (81 KW / 110 HP)

A3 Cabriolet (8V7) 1.8 TFSI quattro (132 KW / 180 HP)

A3 Cabriolet (8V7) 2.0 TDI quattro (110 KW / 150 HP)

A3 Cabriolet (8V7) 1.4 TFSI (92 KW / 125 HP)

A3 Cabriolet (8V7) 1.5 TFSI (110 KW / 150 HP)

A3 Cabriolet (8V7) 1.4 TFSI (103 KW / 140 HP)

A3 Cabriolet (8V7) 1.8 TFSI (132 KW / 180 HP)

A3 Cabriolet (8V7) 2.0 TDI (110 KW / 150 HP)

A3 Cabriolet (8V7) 2.0 TDI (135 KW / 184 HP)

A3 Cabriolet (8V7) 2.0 TDI quattro (135 KW / 184 HP)

A3 Cabriolet (8V7) 1.8 TFSI (125 KW / 170 HP)

A3 Cabriolet (8V7) 1.4 TFSI (110 KW / 150 HP)

A3 Limousine (8VS) S3 quattro (213 KW / 290 HP)

A3 Limousine (8VS) 1.4 TFSI Flex (110 KW / 150 HP)

A3 Limousine (8VS) 1.8 TFSI quattro (132 KW / 180 HP)

A3 Limousine (8VS) 2.0 TDI (105 KW / 143 HP)

A3 Limousine (8VS) 1.0 TFSI (85 KW / 115 HP)

02.2016 -

07.2016 -

05.2016 -

05.2016 -

04.2014 -

04.2017 -

10.2013 -

03.2014 -

02.2014 -

03.2014 -

03.2014 -

02.2014 -

05.2017 -

10.2013 -

10.20153 -

10.20153 -

05.2014 -

05.2014 -

05.2014 -

05.2014 -

08.2016 -

01.2017 -

11.2013 -

10.2013 -

07.2016 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
AuRengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
AuRengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



A3 Limousine (8VS) S3 quattro (228 KW / 310 HP)

A3 Limousine (8VS) 2.0 TFSI quattro (140 KW / 190 HP)

A3 Limousine (8VS) 2.0 TFSI (140 KW / 190 HP)

A3 Limousine (8VS) 1.2 TFSI (77 KW / 105 HP)

A3 Limousine (8VS) 1.4 TFSI (90 KW / 122 HP)

A3 Limousine (8VS) 1.6 TDI (77 KW / 105 HP)

A3 Limousine (8VS) 1.6 TDI (85 KW / 115 HP)

A3 Limousine (8VS) 1.2 TFSI (81 KW / 110 HP)

A3 Limousine (8VS) 1.4 TFSI (110 KW / 150 HP)

A3 Limousine (8VS) 1.6 TDI (81 KW / 110 HP)

A3 Limousine (8VS) S3 quattro (210 KW / 286 HP)

A3 Limousine (8VS) 2.0 TDI (135 KW / 184 HP)

A3 Limousine (8VS) 2.0 TDI quattro (135 KW / 184 HP)

A3 Limousine (8VS) RS3 quattro (294 KW / 400 HP)

A3 Limousine (8VS) 1.8 TFSI (125 KW / 170 HP)

A3 Limousine (8VS) 1.4 TFSI (92 KW / 125 HP)

A3 Limousine (8VS) 1.5 TFSI (110 KW / 150 HP)

A3 Limousine (8VS) 2.0 TDI quattro (110 KW / 150 HP)

A3 Limousine (8VS) S3 quattro (221 KW / 300 HP)

A3 Limousine (8VS) 1.4 TFSI (103 KW / 140 HP)

A3 Limousine (8VS) 1.8 TFSI (132 KW / 180 HP)

A3 Limousine (8VS) 2.0 TDI (81 KW / 110 HP)

A3 Limousine (8VS) 2.0 TDI (110 KW / 150 HP)

A3 Limousine (8VS) 2.0 TDI (100 KW / 136 HP)

A3 Limousine (8VS) 2.0 TFSI (162 KW / 220 HP)

A3 Limousine (8VS) S3 (206 KW / 280 HP)

06.2016 -

05.2016 -

05.2016 -

10.20153 -

09.2013 -

09.2013 -

03.2017 -

05.2014 -

05.2014 -

05.2014 -

05.2014 -

05.2014 -

05.2014 -

04.2017 -

11.20153 -

09.2013 -

05.2017 -

10.2013 -

10.20153 -

05.2013 -

05.2013 -

05.2013 -

05.2013 -

09.2013 -

11.2015 -

10.2013 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



A3 Sportback (8PA) 2.0 TDI (103 KW / 140 HP)

A3 Sportback (8PA) 2.0 TDI quattro (103 KW / 140 HP)

A3 Sportback (8PA) 1.8 TFSI quattro (118 KW / 160 HP)

A3 Sportback (8PA) 2.0 TDI 16V quattro (103 KW / 140 HP)

A3 Sportback (8PA) RS3 quattro (250 KW / 340 HP)

A3 Sportback (8PA) 1.6 TDI (66 KW / 90 HP)

A3 Sportback (8PA) 1.6 TDI (77 KW / 105 HP)

A3 Sportback (8PA) S3 quattro (188 KW / 256 HP)

A3 Sportback (8PA) 1.6 (75 KW / 102 HP)

A3 Sportback (8PA) 1.9 TDI (77 KW / 105 HP)

A3 Sportback (8PA) 1.6 FSI (85 KW /115 HP)

A3 Sportback (8PA) 2.0 FSI (110 KW / 150 HP)

A3 Sportback (8PA) 3.2 V6 quattro (184 KW / 250 HP)

A3 Sportback (8PA) 2.0 TDI 16V (103 KW / 140 HP)

A3 Sportback (8PA) 1.6 E-Power (75 KW /102 HP)

A3 Sportback (8PA) 2.0 TDI (125 KW / 170 HP)

A3 Sportback (8PA) 2.0 TDI quattro (125 KW / 170 HP)

A3 Sportback (8PA) 2.0 TFSI (147 KW / 200 HP)

A3 Sportback (8PA) 1.8 TFSI (118 KW / 160 HP)

A3 Sportback (8PA) 2.0 TFSI quattro (147 KW / 200 HP)

A3 Sportback (8PA) 2.0 (120 KW / 163 HP)

A3 Sportback (8PA) S3 quattro (195 KW / 265 HP)

A3 Sportback (8PA) 2.0 TDI (120 KW / 163 HP)

A3 Sportback (8PA) 2.0 TDI (100 KW / 136 HP)

06.2005 - 06.2008

01.2006 - 06.2008

07.2008 - 03.2013

11.2005 - 03.2013

01.2011 - 12.2012

05.2009 - 03.2013

05.2009 - 03.2013

07.2008 - 03.2013

09.2004 - 03.2013

09.2004 - 05.2010

09.2004 - 09.2007

09.2004 - 06.2008

09.2004 - 05.2009

09.2004 - 03.2013

01.2011 - 03.2013

03.2006 - 03.2013

03.2006 - 03.2013

09.2004 - 03.2013

11.2006 - 03.2013

09.2004 - 03.2013

06.2006 - 03.2013

06.2008 - 03.2013

06.2006 - 06.2008

09.2004 - 03.2013

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



A3 Sportback (8PA) 1.4 TFSI (92 KW / 125 HP)

A3 Sportback (8PA) 1.2 TSI (77 KW / 105 HP)

A3 Sportback (8VA) S3 quattro (213 KW / 290 HP)

A3 Sportback (8VA) 1.0 TFSI (85 KW / 115 HP)

A3 Sportback (8VA) S3 quattro (228 KW / 310 HP)

A3 Sportback (8VA) 2.0 TFSI quattro (140 KW / 190 HP)

A3 Sportback (8VA) 1.4 TFSI (90 KW / 122 HP)

A3 Sportback (8VA) 2.0 TDI (110 KW / 150 HP)

A3 Sportback (8VA) 2.0 TDI quattro (135 KW / 184 HP)

A3 Sportback (8VA) 2.0 TDI (105 KW / 143 HP)

A3 Sportback (8VA) 1.8 TFSI (132 KW / 180 HP)

A3 Sportback (8VA) 2.0 TFSI (140 KW / 190 HP)

A3 Sportback (8VA) 2.0 TDI (81 KW / 110 HP)

A3 Sportback (8VA) 1.4 TFSI (103 KW / 140 HP)

A3 Sportback (8VA) 2.0 TDI quattro (110 KW / 150 HP)

A3 Sportback (8VA) 1.6 TDI (77 KW / 105 HP)

A3 Sportback (8VA) S3 quattro (221 KW / 300 HP)

A3 Sportback (8VA) 1.8 TFSI quattro (132 KW / 180 HP)

A3 Sportback (8VA) 1.2 TFSI (77 KW / 105 HP)

A3 Sportback (8VA) 1.6 TDI (85 KW / 115 HP)

A3 Sportback (8VA) 1.2 TFSI (81 KW / 110 HP)

A3 Sportback (8VA) 1.4 TFSI (92 KW / 125 HP)

A3 Sportback (8VA) 1.4 TFSI (110 KW / 150 HP)

A3 Sportback (8VA) 1.4 TFSl e-tron (110 KW / 150 HP)

A3 Sportback (8VA) S3 quattro (210 KW / 286 HP)

A3 Sportback (8VA) RS3 quattro (294 KW / 400 HP)

09.2007 - 03.2013

04.2010 - 03.2013

07.2016 -

07.2016 -

06.2016 -

05.2016 -

09.2012 -

09.2012 -

05.2013 -

03.2013 -

09.2012 -

05.2016 -

05.2013 -

03.2013 -

02.2013 -

10.2012 -

11.2012 -

05.2013 -

05.2013 -

02.2017 -

05.2014 -

05.2014 -

05.2014 -

05.2014 -

05.2014 -

04.2017 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



A3 Sportback (8VA) 1.5 TFSI (110 KW / 150 HP)

A3 Sportback (8VA) 1.6 TDI (81 KW /110 HP)

A3 Sportback (8VA) 1.4 TFSI g-tron (81 KW / 110 HP)

A3 Sportback (8VA) 2.0 TDI (135 KW / 184 HP)

A3 Sportback (8VA) 2.0 TDI (100 KW / 136 HP)

A3 Sportback (8VA) S3 (206 KW / 280 HP)

AUDI A4

MODEL

A4 (8D2, B5) 1.6 (74 KW / 100 HP)

A4 (8D2, B5) 1.9 TDI (81 KW / 110 HP)

A4 (8D2, B5) 1.8 (85 KW / 115 HP)

A4 (8D2, B5) 1.8 (92 KW / 125 HP)

A4 (8D2, B5) 1.8 T (110 KW / 150 HP)

A4 (8D2, B5) 2.6 (110 KW / 150 HP)

A4 (8D2, B5) 1.8 quattro (85 KW / 115 HP)

A4 (8D2, B5) 2.8 (128 KW / 174 HP)

A4 (8D2, B5) 1.9 TDI (66 KW / 90 HP)

A4 (8D2, B5) 1.8 quattro (92 KW / 125 HP)

A4 (8D2, B5) 1.8 T quattro (110 KW / 150 HP)

A4 (8D2, B5) 2.6 quattro (110 KW / 150 HP)

A4 (8D2, B5) 2.8 quattro (128 KW / 174 HP)

05.2017 -

09.2013 -

11.2013 -

05.2013 -

05.2013 -

05.2013 -

YEAR

11.1994 - 10.2000

10.1995 - 11.2000

04.1995 - 11.2000

11.1994 - 11.2000

01.1995 - 11.2000

01.1995 - 11.2000

07.1995 - 11.2000

09.1995 - 07.1997

01.1995 - 11.2000

01.1995 - 11.2000

01.1995 - 11.2000

01.1995 - 11.2000

01.1995 - 07.1997

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION
Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEMNUMBER

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

ITEM DETAILS
Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



A4 (8D2, B5) 2.8 (142 KW / 193 HP)

A4 (8D2, B5) 1.9 TDI (85 KW / 116 HP)

A4 (8D2, B5) 2.8 quattro (142 KW / 193 HP)

A4 (8D2, B5) 2.4 (120 KW / 163 HP)

A4 (8D2, B5) 2.4 quattro (120 KW / 163 HP)

A4 (8D2, B5) 1.8 T quattro (132 KW / 180 HP)

A4 (8D2, B5) 1.8 T (132 KW / 180 HP)

A4 (8D2, B5) 1.9 TDI quattro (85 KW / 116 HP)

A4 (8D2, B5) 1.9 TDI (55 KW / 75 HP)

A4 (8D2, B5) 2.4 (110 KW / 150 HP)

A4 (8D2, B5) 2.6 (102 KW / 139 HP)

A4 (8D2, B5) 2.8 24V (142 KW / 193 HP)

A4 (8D2, B5) 1.8 (125 KW / 170 HP)

A4 (8D2, B5) 2.8 quattro (140 KW / 190 HP)

A4 (8D2, B5) 2.4 (121 KW / 165 HP)

A4 (8D2, B5) 2.4 quattro (121 KW / 165 HP)

A4 (8D2, B5) S4 quattro (195 KW / 265 HP)

A4 (8D2, B5) 2.5 TDI (110 KW / 150 HP)

A4 (8D2, B5) 2.5 TDI quattro (110 KW / 150 HP)

A4 (8D2, B5) 1.6 (75 KW / 102 HP)

10.1996 - 11.2000

03.2000 - 11.2000

10.1996 - 08.2001

08.1997 - 11.2000

08.1997 - 11.2000

12,1997 - 11.2000

12.1997 - 11.2000

03.2000 - 11.2000

12,1995 - 11.2000

07.1995 - 07.1997

01.1996 - 07.1997

10.1996 - 07.1999

05.2000 - 09.2000

09.1999 - 10.2000

03.1997 - 11.2000

03.1997 - 11.2000

09.1997 - 09.2001

09.1997 - 11.2000

09.1997 - 11.2000

07.2000 - 11.2000

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

aufien

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5



A4 (8D2, B5) 2.8 24V (140 KW / 190 HP)

A4 (8D2, B5) 1.9 TDI quattro (81 KW / 110 HP)

A4 (8D2, B5) 2.7 Turbo quattro (169 KW / 230 HP)

A4 (8D2, B5) 2.7 Bi Turbo quattro (187 KW / 254 HP)

A4 (8E2, B6) 1.9 TDI (85 KW / 116 HP)

A4 (8E2, B6) 2.4 (120 KW / 163 HP)

A4 (SE2, B6) 1.9 TDI (74 KW / 101 HP)

A4 (SE2, B6) 1.6 (75 KW / 102 HP)

A4 (8E2, B6) 1.8 T (110 KW / 150 HP)

A4 (8E2, B6) 2.5 TDI (114 KW / 155 HP)

A4 (SE2, B6) 2.0 (96 KW / 130 HP)

A4 (8E2, B6) 1.8 T quattro (110 KW / 150 HP)

A4 (8E2, B6) 3.0 (162 KW / 220 HP)

A4 (8E2, B6) 3.0 quattro (162 KW / 220 HP)

A4 (SE2, B6) 1.9 TDI (96 KW / 130 HP)

A4 (8E2, B6) 2.5 TDI quattro (132 KW / 180 HP)

A4 (8E2,B6) 1.8 T (125 KW /170 HP)

A4 (8E2, B6) 1.8 T quattro (125 KW / 170 HP)

A4 (SE2, B6) 3.0 (160 KW / 218 HP)

A4 (8E2, B6) 2.4 (125 KW / 170 HP)

09.1999 - 10.2000

09.1996 - 11.2000

02.1999 - 09.2000

10.1997 - 12.1998

06.2004 - 12.2004

09.2001 - 12.2004

05.2001 - 12.2004

11.2000 - 12.2004

11.2000 - 07.2002

08.2001 - 07.2002

11.2000 - 12.2004

11.2000 - 07.2002

11.2000 - 12.2004

11.2000 - 12.2004

11.2000 - 12.2004

11.2000 - 12.2004

07.2001 - 12.2004

07.2001 - 12.2004

04.2001 - 12.2004

09.2001 - 12.2004

Vorderachse
beidseitig

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



A4 (8E2, B6) 3.0 quattro (160 KW / 218 HP)

A4 (8E2, B6) 2.0 FSI (110 KW / 150 HP)

A4 (8E2, B6) 1.9 TDI quattro (96 KW / 130 HP)

A4 (SE2, B6) 1.8 T (120 KW / 163 HP)

A4 (8E2, B6) 1.8 T quattro (120 KW / 163 HP)

A4 (8E2, B6) 2.5 TDI (120 KW / 163 HP)

A4 (8E2, B6) S4 quattro (253 KW / 344 HP)

A4 (SE2, B6) 1.8 T (140 KW / 190 HP)

A4 (8E2, B6) 1.8 T quattro (140 KW / 190 HP)

A4 (8EC, B7) 2.0 TDI (103 KW / 140 HP)

A4 (8EC, B7) 2.7 TDI (120 KW / 163 HP)

A4 (8EC, B7) S4 quattro (253 KW / 344 HP)

A4 (SEC, B7) 3.0 (160 KW / 218 HP)

A4 (8EC, B7) 2.0 TDI quattro (103 KW / 140 HP)

A4 (8EC, B7) RS4 quattro (309 KW / 420 HP)

A4 (8EC, B7) 2.0 TDI (125 KW / 170 HP)

A4 (8EC, B7) 2.0 TDI quattro (125 KW / 170 HP)

A4 (8EC, B7) 2.7 TDI (132 KW / 180 HP)

A4 (8EC, B7) 3.0 TDI quattro (171 KW / 233 HP)

A4 (8EC, B7) 2.0 TFSI (125 KW / 170 HP)

A4 (8EC, B7) 2.0 TDI (89 KW / 121 HP)

A4 (8EC, B7) 3.0 quattro (160 KW / 218 HP)

A4 (8EC, B7) 2.0 TDI (120 KW / 163 HP)

04.2001 - 12.2004

07.2002 - 12.2004

11.2001 - 12.2004

07.2002 - 12.2004

07.2002 - 12.2004

07.2002 - 12.2004

03.2003 - 12.2004

11.2002 - 12.2004

11.2002 - 12.2004

11.2004 - 06.2008

11.2005 - 06.2008

11.2004 - 06.2008

11.2004 - 05.2006

01.2006 - 06.2008

09.2005 - 06.2008

06.2006 - 06.2008

06.2006 - 06.2008

01.2006 - 06.2008

01.2006 - 06.2008

10.2006 - 06.2008

09.2005 - 09.2006

11.2004 - 07.2006

06.2006 - 06.2008

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M14x1,5
128

Mi16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128



A4 (8EC, B7) 2.0 TDI quattro (120 KW / 163 HP)

A4 (8EC, B7) 2.0 TDI (93 KW / 126 HP)

A4 (8EC, B7) 2.0 TFSI (147 KW / 200 HP)

A4 (8EC, B7) 2.0 TFSI quattro (147 KW / 200 HP)

A4 (8EC, B7) 3.2 FSI (188 KW / 255 HP)

A4 (8EC, B7) 3.2 FSI quattro (188 KW / 255 HP)

A4 (8EC, B7) 2.0 TDI (100 KW / 136 HP)

A4 (8EC, B7) 2.0 TDI 16V (103 KW / 140 HP)

A4 (8EC, B7) 3.0 TDI quattro (150 KW / 204 HP)

A4 (S8EC, B7) 1.8 T (120 KW / 163 HP)

A4 (8EC, B7) 1.8 T quattro (120 KW / 163 HP)

A4 (8EC, B7) 2.0 (96 KW / 130 HP)

A4 (8EC, B7) 1.6 (75 KW / 102 HP)

A4 (8EC, B7) 1.9 TDI (85 KW / 116 HP)

A4 (8EC, B7) 2.5 TDI (120 KW / 163 HP)

A4 (8EC, B7) 2.0 TFSI (162 KW / 220 HP)

A4 (8EC, B7) 2.0 TFSI quattro (162 KW / 220 HP)

A4 Avant (8D5, B5) 1.8 (85 KW / 115 HP)

A4 Avant (8D5, B5) 1.8 quattro (85 KW / 115 HP)

A4 Avant (8D5, B5) 2.8 (142 KW / 193 HP)

A4 Avant (8D5, B5) 1.9 TDI (85 KW / 115 HP)

A4 Avant (8D5, B5) 2.8 quattro (142 KW / 193 HP)

A4 Avant (8D5, B5) RS4 quattro (280 KW / 380 HP)

A4 Avant (8D5, B5) 2.4 (120 KW / 163 HP)

06.2006 - 06.2008

11.2005 - 11.2006

11.2004 - 06.2008

11.2004 - 06.2008

01.2005 - 06.2008

01.2005 - 06.2008

11.2004 - 06.2008

11.2004 - 06.2008

11.2004 - 06.2008

11.2004 - 06.2008

11.2004 - 06.2008

11.2004 - 06.2008

11.2004 - 06.2008

11.2004 - 06.2008

11.2004 - 05.2006

06.2005 - 06.2008

06.2005 - 06.2008

07.1995 - 09.2001

07.1995 - 09.2001

10.1996 - 09.2001

03.2000 - 09.2001

10.1996 - 09.2001

05.2000 - 09.2001

08.1997 - 09.2001

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

Mi16x1,5/
M14x1,5
128

Mi16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

Mi16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



A4 Avant (8D5, B5) 2.4 quattro (120 KW / 163 HP)

A4 Avant (8D5, B5) 1.8 T quattro (132 KW / 180 HP)

A4 Avant (8D5, B5) 1.8 T (132 KW / 180 HP)

A4 Avant (8D5, B5) 1.9 TDI quattro (85 KW / 115 HP)

A4 Avant (8D5, B5) 1.9 TDI (55 KW / 75 HP)

A4 Avant (8D5, B5) 2.8 (140 KW / 190 HP)

A4 Avant (8D5, B5) 2.8 quattro (140 KW / 190 HP)

A4 Avant (8D5, B5) 2.8 quattro (280 KW / 381 HP)

A4 Avant (8D5, B5) 1.9 DUO (66 KW / 90 HP)

A4 Avant (8D5, B5) 2.4 (121 KW / 165 HP)

A4 Avant (8D5, B5) 2.4 quattro (121 KW / 165 HP)

A4 Avant (8D5, B5) 1.6 (74 KW / 100 HP)

A4 Avant (8D5, B5) 1.8 (92 KW / 125 HP)

A4 Avant (8D5, B5) 1.8 T (110 KW / 150 HP)

A4 Avant (8D5, B5) 2.6 (110 KW / 150 HP)

A4 Avant (8D5, B5) S4 quattro (195 KW / 265 HP)

A4 Avant (8D5, B5) 2.8 (128 KW / 174 HP)

A4 Avant (8D5, B5) 2.5 TDI (110 KW / 150 HP)

A4 Avant (8D5, B5) 1.9 TDI (66 KW / 90 HP)

A4 Avant (8D5, B5) 2.5 TDI quattro (110 KW / 150 HP)

08.1997 - 09.2001

12.1997 - 09.2001

12.1997 - 09.2001

03.2000 - 09.2001

03.1996 - 09.2001

03.1999 - 09.2000

03.1999 - 09.2000

10.2000 - 09.2001

03.1998 - 09.2001

03.1997 - 09.2001

03.1997 - 09.2001

11.1994 - 09.2001

02.1996 - 09.2001

03.1996 - 09.2001

02.1996 - 09.2001

09.1997 - 09.2001

03.1996 - 09.1996

09.1997 - 09.2001

02.1996 - 09.2001

09.1997 - 09.2001

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



A4 Avant (8D5, B5) 1.9 TDI (81 KW / 110 HP)

A4 Avant (8D5, B5) 1.8 quattro (92 KW / 125 HP)

A4 Avant (8D5, B5) 1.8 T quattro (110 KW / 150 HP)

A4 Avant (8D5, B5) 2.6 quattro (110 KW / 150 HP)

A4 Avant (8D5, B5) 2.8 quattro (128 KW / 174 HP)

A4 Avant (8D5, B5) 1.6 (75 KW / 102 HP)

A4 Avant (8D5, B5) 1.9 TDI quattro (81 KW / 110 HP)

A4 Avant (8D5, B5) 2.4 (110 KW / 150 HP)

A4 Avant (8E5, B6) S4 quattro (253 KW / 344 HP)

A4 Avant (8E5, B6) 1.9 TDI (85 KW / 116 HP)

A4 Avant (8E5, B6) 1.8 T quattro (110 KW / 150 HP)

A4 Avant (8E5, B6) 3.0 quattro (162 KW / 220 HP)

A4 Avant (8E5, B6) 2.4 (120 KW / 163 HP)

A4 Avant (8E5, B6) 1.6 (75 KW / 102 HP)

A4 Avant (8E5, B6) 2.0 (96 KW / 130 HP)

A4 Avant (8E5, B6) 1.8 T (110 KW / 150 HP)

A4 Avant (8E5, B6) 3.0 (162 KW / 220 HP)

A4 Avant (8E5, B6) 1.9 TDI (96 KW / 130 HP)

A4 Avant (8E5, B6) 1.8 T quattro (125 KW / 170 HP)

A4 Avant (8E5, B6) 2.4 (125 KW / 170 HP)

02.1996 - 09.2001

01.1996 - 09.2001

01.1996 - 09.2001

01.1996 - 09.2001

01.1996 - 09.1996

07.2000 - 09.2001

09.1996 - 09.2001

07.1995 - 07.1997

03.2003 - 12.2004

06.2004 - 12.2004

09.2001 - 07.2002

09.2001 - 12.2004

09.2001 - 12.2004

09.2001 - 12.2004

09.2001 - 12.2004

09.2001 - 07.2002

09.2001 - 12.2004

09.2001 - 12.2004

09.2001 - 12.2004

09.2001 - 12.2004

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Gewindemaf}

Linge [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5



A4 Avant (8E5, B6) 3.0 (160 KW / 218 HP)

A4 Avant (8E5, B6) 3.0 quattro (160 KW / 218 HP)

A4 Avant (8E5, B6) 2.5 TDI quattro (132 KW / 180 HP)

A4 Avant (8E5, B6) 2.5 TDI (114 KW / 155 HP)

A4 Avant (8E5, B6) 1.9 TDI (74 KW / 101 HP)

A4 Avant (8E5, B6) 1.9 TDI quattro (96 KW / 130 HP)

A4 Avant (8E5, B6) 2.0 FSI (110 KW / 150 HP)

A4 Avant (8E5, B6) 1.8 T (120 KW /163 HP)

A4 Avant (8E5, B6) 1.8 T quattro (120 KW / 163 HP)

A4 Avant (8E5, B6) 2.5 TDI (120 KW / 163 HP)

A4 Avant (8E5, B6) 1.8 T (140 KW / 190 HP)

A4 Avant (8E5, B6) 1.8 T quattro (140 KW / 190 HP)

A4 Avant (8ED, B7) 2.0 TDI (103 KW / 140 HP)

A4 Avant (8ED, B7) 3.0 (160 KW / 218 HP)

A4 Avant (8ED, B7) S4 quattro (253 KW / 344 HP)

A4 Avant (8ED, B7) RS4 (309 KW / 420 HP)

A4 Avant (8ED, B7) 2.0 TDI quattro (103 KW / 140 HP)

A4 Avant (8ED, B7) 2.0 TFSI (162 KW / 220 HP)

A4 Avant (8ED, B7) 2.7 TDi (120 KW / 163 HP)

A4 Avant (8ED, B7) 2.0 TFSI quattro (162 KW / 220 HP)

A4 Avant (8ED, B7) 2.0 TDI (125 KW / 170 HP)

A4 Avant (8ED, B7) 2.0 TDI quattro (125 KW / 170 HP)

04.2001 - 12.2004

04.2001 - 12.2004

09.2001 - 12.2004

09.2001 - 07.2002

11.2001 - 12.2004

11.2001 - 12.2004

07.2002 - 12.2004

07.2002 - 12.2004

07.2002 - 12.2004

07.2002 - 12.2004

11.2002 - 12.2004

11.2002 - 12.2004

11.2004 - 06.2008

11.2004 - 05.2006

11.2004 - 06.2008

09.2005 - 06.2008

01.2006 - 06.2008

06.2005 - 06.2008

11.2005 - 03.2008

06.2005 - 06.2008

06.2006 - 06.2008

06.2006 - 06.2008

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128



A4 Avant (8ED, B7) 2.7 TDI (132 KW / 180 HP) 01.2006 - 06.2008  Vorderachse SKTR-0240144 Gewindematy M16x1,5 /

M14x1,5

rechts Linge [mm] 128

A4 Avant (8ED, B7) 2.0 TDI (100 KW / 136 HP) 11.2004 - 06.2008  Vorderachse SKTR-0240144 Gewindemafs MLexs /
X1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 3.0 TDI quattro (171 KW / 233 HP) 01.2006 - 06.2008 Vorderachse SKTR-0240144 Gewindemaf3 M:Iiilfsl
X1,

rechts Linge [mm] 128

A4 Avant (8ED, B7) 2.0 TDI (93 KW / 126 HP) 11.2005 - 11.2006 Vorderachse SKTR-0240144 Gewindemaf} M;:ffs/
X1,

rechts Linge [mm] 128

A4 Avant (8ED, B7) 2.0 TFSI (125 KW / 170 HP) 10.2006 - 06.2008 Vorderachse SKTR-0240144 Gewindemaf3 M:Iiil-f;
X1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 2.0 TDI (89 KW / 121 HP) 09.2005 - 09.2006 Vorderachse SKTR-0240144 Gewindemaf3 Mélizl-fs/
X1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 3.0 quattro (160 KW / 218 HP) 11.2004 - 07.2006 Vorderachse SKTR-0240144 Gewindemaf3 Msliilfs/
X1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 2.0 TDI (120 KW / 163 HP) 06.2006 - 06.2008 Vorderachse SKTR-0240144 Gewindemaf3 M:Iiilfsl
X1,

rechts Linge [mm] 128

A4 Avant (8ED, B7) 2.0 TDI quattro (120 KW / 163 HP) 06.2006 - 06.2008  Vorderachse SKTR-0240144 Gewindemaft MLexs /
X1,

rechts Linge [mm] 128

A4 Avant (8ED, B7) 1.6 (75 KW / 102 HP) 11.2004 - 06.2008 Vorderachse SKTR-0240144 Gewindemaf3 M:Iiil-f;
X1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 2.0 (96 KW / 130 HP) 11.2004 - 06.2008 Vorderachse SKTR-0240144 Gewindemafs ML6xL5 /
x1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 1.8 T (120 KW / 163 HP) 11.2004 - 06.2008 Vorderachse SKTR-0240144 Gewindemaf3 Msliilfs/
X1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 1.8 T quattro (120 KW / 163 HP) 11.2004 - 06.2008 Vorderachse SKTR-0240144 Gewindemaf3 M:Iiilfsl
X1,

rechts Linge [mm] 128

A4 Avant (8ED, B7) 2.0 TFSI (147 KW / 200 HP) 11.2004 - 06.2008 Vorderachse SKTR-0240144 Gewindemaf} M;:ffs/
x1,.

rechts Lange [mm] 128

A4 Avant (8ED, B7) 2.0 TFSI quattro (147 KW / 200 HP) 11.2004 - 06.2008 Vorderachse SKTR-0240144 Gewindemafy M:.iil'f !
X1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 3.2 FSI (188 KW / 255 HP) 01.2005 - 06.2008 Vorderachse SKTR-0240144 Gewindemaf3 Mélizl-fs/
x1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 3.2 FSI quattro (188 KW / 255 HP) 01.2005 - 06.2008 Vorderachse SKTR-0240144 Gewindemaf3 Mslizlfs/
X1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 1.9 TDI (85 KW / 116 HP) 11.2004 - 06.2008 Vorderachse SKTR-0240144 Gewindemaf} M:Iiilfsl
X1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 2.0 TDI 16V (103 KW / 140 HP) 11.2004 - 06.2008  Vorderachse SKTR-0240144 Gewindemafs MiexLs /
x1,.

rechts Linge [mm] 128

A4 Avant (8ED, B7) 2.5 TDI (120 KW / 163 HP) 11.2004 - 05.2006 Vorderachse SKTR-0240144 Gewindemaf3 M:Iiil-f;
X1,

rechts Lange [mm] 128

A4 Avant (8ED, B7) 3.0 TDI quattro (150 KW / 204 HP) 11.2004 - 06.2008 Vorderachse SKTR-0240144 Gewindemaf3 Mélizl-fs/
x1,

rechts Lange [mm] 128

A4 Cabriolet (8H7, B6, 8HE, B7) 2.0 TDI (100 KW /136 HP) 01.2006 - 03.2009 Vorderachse SKTR-0240144 Gewindemaf3 Msliilfs/
X1,

rechts Lange [mm] 128

A4 Cabriolet (8H7, B6, 8HE, B7) 2.0 TFSi quattro (147 KW /  11.2005 - 03.2009 Vorderachse SKRA-0250059 Gewindemafd Mslﬁxg /

200 HP) beidseitig Linge [mm] 8’; 4'05/

276,5

A4 Cabriolet (8H7, B6, 8HE, B7) 2.0 TFSI 16V (147 KW / 01.2006 - 03.2009 Vorderachse SKRA-0250059 Gewindemaf} M;g*i,i /

200 HP) beidseitig Linge [mm] by

276,5

A4 Cabriolet (8H7, B6, 8HE, B7) 2.7 TDI (132 KW /180 HP)  06.2006 - 03.2009 Vorderachse SKRA-0250059 Gewindemaf3 Mslgxi-;;

L x1,
beidseitig Liinge [mm] 240/
276,5




A4 Cabriolet (8H7, B6, 8HE, B7) RS4 (309 KW / 420 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 2.4 (120 KW / 163 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 3.0 TDI quattro (150 KW /
204 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 2.5 TDI (120 KW / 163 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 1.8 T quattro (127 KW /
173 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 3.0 (160 KW / 218 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 1.8 T quattro (120 KW /
163 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 3.0 quattro (162 KW / 220
HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 1.8 T (125 KW / 170 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 2.4 (125 KW / 170 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 3.0 (162 KW / 220 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) S4 quatiro (253 KW / 344
HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 3.2 FSI (188 KW / 255 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 3.2 FSI quattro (188 KW /
255 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 2.0 TDI (103 KW / 140 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 3.0 TDI quattro (171 KW /
233 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 1.8 T (120 KW / 163 HP)

A4 Cabriolet (8H7, B6, 8HE, B7) 2.0 (96 KW / 130 HP)

AUDI A6

MODEL
A6 (4A, C4) 2.5 TDI quattro (103 KW / 140 HP)

A6 (4A, C4) 2.0 (74 KW / 101 HP)

06.2006 - 03.2009

04.2002 - 12.2005

01.2006 - 03.2009

08.2002 - 12.2005

09.2003 - 12.2004

04.2002 - 12.2005

05.2003 - 03.2009

05.2003 - 12.2005

10.2002 - 10.2005

04.2002 - 12.2005

04.2002 - 12.2005

03.2004 - 03.2009

01.2006 - 03.2009

01.2006 - 03.2009

01.2006 - 03.2009

01.2006 - 03.2009

07.2002 - 03.2009

09.2004 - 12.2005

YEAR

10.1995 - 10.1997

06.1994 - 10.1997

Vorderachse
rechts

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

rechts

Vorderachse
rechts

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
rechts
Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION
Vorderachse

Vorderachse

SKTR-0240144

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKTR-0240144

SKTR-0240144

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKTR-0240144

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

ITEM NUMBER

SKRA-0250031

SKRA-0250031

Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

ITEM DETAILS

M16x1,5 /
M14x1,5
128

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M14x1,5
128

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/



A6 (4A, C4) 2.0 (85 KW / 115 HP)

A6 (4A, C4) 2.0 16V (103 KW / 140 HP)
A6 (4A, C4) 2.6 (110 KW / 150 HP)

A6 (4A, C4) 2.8 (128 KW /174 HP)

A6 (4A, C4) 2.5 TDI (85 KW / 116 HP)

A6 (4A, C4) 2.5 TDI (84 KW / 114 HP)

A6 (4A, C4) 1.9 TDI (66 KW / 90 HP)

A6 (4A, C4) 2.0 16V quattro (103 KW / 140 HP)
A6 (4A, C4) 2.6 quattro (110 KW / 150 HP)
A6 (4A, C4) 2.8 quattro (128 KW / 174 HP)
A6 (4A, C4) S6 Turbo quattro (169 KW / 230 HP)
A6 (4A, C4) 2.5 TDI (103 KW / 140 HP)

A6 (4A, C4) 2.4 (110 KW / 150 HP)

A6 (4A, C4) 2.0 (79 KW / 107 HP)

A6 (4A, C4) 2.8 (120 KW / 163 HP)

A6 (4A, C4) 2.3 (98 KW / 133 HP)

A6 (4A, C4) 2.3 quattro (98 KW / 133 HP)
A6 (4A, C4) 1.8 (92 KW / 125 HP)

A6 (4A, C4) 1.8 quattro (92 KW / 125 HP)
A6 (4A, C4) 2.8 (142 KW / 193 HP)

A6 (4A, C4) 2.8 quattro (142 KW / 193 HP)
A6 (4A, C4) 2.6 (102 KW / 139 HP)

A6 (4B2, C5) 2.7 T (169 KW / 230 HP)

A6 (4B2, C5) 2.7 T quattro (169 KW / 230 HP)

A6 (4B2, C5) 2.4 (115 KW / 156 HP)

A6 (4B2, C5) 2.4 quattro (115 KW / 156 HP)

A6 (4B2, C5) 1.8 (85 KW / 116 HP)

A6 (4B2, C5) 2.8 (132 KW / 180 HP)

A6 (4B2, C5) 2.8 (140 KW / 190 HP)

A6 (4B2, €5) 1.8 T (110 KW / 150 HP)

06.1994 - 10.1997

06.1994 - 10.1997

06.1994 - 10.1997

06.1994 - 10.1997

06.1994 - 10.1997

01.1995 - 10.1997

06.1994 - 10.1997

06.1994 - 10.1997

06.1994 - 10.1997

06.1994 - 10.1997

06.1994 - 10.1997

08.1994 - 10.1997

07.1995 - 06.1996

06.1994 - 07.1995

08.1995 - 07.1996

06.1994 - 12.1995

06.1994 - 12,1995

12.1995 - 10.1997

12,1995 - 10.1997

12.1995 - 10.1997

12,1995 - 10.1997

06.1994 - 10.1997

02.1999 - 01.2005

12.1997 - 01.2005

02.1997 - 01.2005

08.1998 - 07.1999

05.1997 - 01.2005

10.1997 - 05.2000

07.1999 - 01.2005

01.1997 - 01.2005

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



A6 (4B2, C5) 2.4 (120 KW / 163 HP)

A6 (4B2, C5) 2.4 quattro (120 KW / 163 HP)

A6 (4B2, €5) 3.0 quattro (160 KW / 218 HP)

A6 (4B2, C5) 2.8 quattro (140 KW / 190 HP)

A6 (4B2, C5) 2.5 TDI (120 KW / 163 HP)

A6 (4B2, C5) 3.7 quattro (191 KW / 260 HP)

A6 (4B2, C5) 1.8 T (132 KW / 180 HP)

A6 (4B2, C5) S6 quattro (250 KW / 340 HP)

A6 (4B2, C5) 2.5 TDI quattro (110 KW / 150 HP)

A6 (4B2, C5) 1.8 (92 KW / 125 HP)

A6 (4B2, €5) 1.8 T quattro (110 KW / 150 HP)

A6 (4B2, C5) 2.4 (121 KW / 165 HP)

A6 (4B2, C5) 2.4 quattro (121 KW / 165 HP)

A6 (4B2, C5) 1.9 TDI (81 KW / 110 HP)

A6 (4B2, C5) 2.5 TDI (110 KW / 150 HP)

A6 (4B2, C5) 2.8 (142 KW / 193 HP)

A6 (4B2, C5) 2.0 (96 KW / 130 HP)

A6 (4B2, C5) 3.0 (162 KW / 220 HP)

A6 (4B2, €5) 3.0 quattro (162 KW / 220 HP)

A6 (4B2, C5) 2.4 (125 KW / 170 HP)

02.1997 - 01.2005

02.1997 - 01.2005

06.2001 - 07.2004

07.1999 - 05.2001

07.2002 - 01.2005

03.1999 - 01.2005

12.1997 - 01.2005

09.1999 - 01.2005

07.1997 - 01.2005

07.1997 - 01.2005

02.1997 - 01.2005

02.1997 - 01.2005

02.1997 - 01.2005

04.1997 - 10.2000

07.1997 - 01.2005

02.1997 - 01.2005

08.2001 - 01.2005

08.2001 - 01.2005

08.2001 - 01.2005

08.2001 - 01.2005

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5



A6 (4B2, C5) 2.4 quattro (125 KW / 170 HP)

A6 (4B2, C5) 2.5 TDI (114 KW / 155 HP)

A6 (4B2, €5) 2.7 T quattro (184 KW / 250 HP)

A6 (4B2, C5) 1.9 TDI (96 KW / 130 HP)

A6 (4B2, C5) 2.7 (187 KW / 254 HP)

A6 (4B2, C5) 2.7 quattro (187 KW / 254 HP)

A6 (4B2, €5) 2.7 quattro (195 KW / 265 HP)

A6 (4B2, C5) 2.8 quattro (142 KW / 193 HP)

A6 (4B2, C5) 2.8 quattro (132 KW / 180 HP)

A6 (4B2, C5) 3.7 (191 KW / 260 HP)

A6 (4B2, (5) 4.2 quattro (220 KW / 299 HP)

A6 (4B2, C5) 3.0 (160 KW / 218 HP)

A6 (4B2, C5) 2.4 (100 KW / 136 HP)

A6 (4B2, C5) 1.8 T quattro (132 KW / 180 HP)

A6 (4B2, C5) RS6 quattro (331 KW / 450 HP)

A6 (4B2, C5) 2.5 TDI (132 KW / 180 HP)

A6 (4B2, C5) 1.9 TDI (85 KW / 115 HP)

A6 (4B2, C5) 2.5 TDI quattro (132 KW / 180 HP)

A6 Avant (4A, C4) 2.5 TDI quattro (103 KW / 140 HP)

A6 Avant (4A, C4) S6 Plus quattro (240 KW / 326 HP)

A6 Avant (4A, C4) 2.0 (74 KW /100 HP)

A6 Avant (4A, C4) 2.0 (85 KW / 115 HP)

A6 Avant (4A, C4) 2.0 16V (103 KW / 140 HP)

08.2001 - 01.2005

08.2001 - 01.2005

08.2001 - 01.2005

08.2001 - 01.2005

05.2001 - 07.2004

05.2001 - 07.2004

11.2003 - 07.2004

02.1997 - 01.2005

01.1998 - 04.2000

03.1999 - 01.2005

11.1998 - 01.2005

06.2001 - 01.2005

07.1998 - 01.2005

12.1997 - 01.2005

07.2002 - 01.2005

02.2000 - 01.2005

07.2000 - 01.2005

02.2000 - 01.2005

07.1995 - 12,1997

04.1996 - 12.1997

06.1994 - 12,1997

06.1994 - 12.1997

06.1994 - 12,1997

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031

SKRA-0250031

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



A6 Avant (4A, C4) 2.6 (110 KW / 150 HP)

A6 Avant (4A, C4) 2.8 (128 KW / 174 HP)

A6 Avant (4A, C4) 2.5 TDI (84 KW / 114 HP)

A6 Avant (4A, C4) 2.5 TDI (85 KW / 116 HP)

A6 Avant (4A, C4) 1.9 TDI (66 KW / 90 HP)

A6 Avant (4A, C4) 2.0 16V quattro (103 KW / 140 HP)
A6 Avant (4A, C4) S6 4.2 quattro (213 KW / 290 HP)
A6 Avant (4A, C4) 2.5 TDI (103 KW / 140 HP)

A6 Avant (4A, C4) 2.8 quattro (128 KW / 174 HP)

A6 Avant (4A, C4) S6 Turbo quattro (169 KW / 230 HP)
A6 Avant (4A, C4) 2.4 (110 KW / 150 HP)

A6 Avant (4A, C4) 2.6 quattro (110 KW / 150 HP)

A6 Avant (4A, C4) 2.3 (98 KW / 133 HP)

A6 Avant (4A, C4) 2.3 quattro (98 KW / 133 HP)

A6 Avant (4A, C4) 1.8 (92 KW / 125 HP)

A6 Avant (4A, C4) 1.8 quattro (92 KW / 125 HP)

A6 Avant (4A, C4) 2.8 (142 KW / 193 HP)

A6 Avant (4A, C4) 2.8 quattro (142 KW / 193 HP)

A6 Avant (4A, C4) 2.6 (102 KW / 139 HP)

A6 Avant (4B5, C5) 2.7 T (169 KW / 230 HP)

A6 Avant (4B5, C5) 2.7 T quattro (169 KW / 230 HP)

A6 Avant (4B5, C5) 2.4 (115 KW / 156 HP)

A6 Avant (4B5, C5) 2.4 quattro (115 KW / 156 HP)

A6 Avant (4B5, C5) 1.8 (85 KW / 116 HP)

A6 Avant (4B5, C5) 2.8 (132 KW / 180 HP)

A6 Avant (4B5, C5) 2.8 (140 KW / 190 HP)

A6 Avant (4B5, C5) 1.9 TDI (96 KW / 130 HP)

A6 Avant (4B5, C5) 2.4 (120 KW / 163 HP)

A6 Avant (4B5, C5) 2.4 quattro (120 KW / 163 HP)

A6 Avant (4B5, C5) 2.5 TDI (120 KW / 163 HP)

06.1994 - 12,1997

06.1994 - 12.1997

01.1995 - 12,1997

06.1994 - 12.1997

06.1994 - 12,1997

06.1994 - 12.1997

06.1994 - 12,1997

08.1994 - 12.1997

06.1994 - 12,1997

06.1994 - 12.1997

07.1996 - 12.1997

06.1994 - 12,1997

06.1994 - 12.1995

06.1994 - 12.1995

12.1995 - 12.1997

12,1995 - 12.1997

12.1995 - 12.1997

12,1995 - 12,1997

06.1994 - 02.1997

02.1999 - 01.2005

12.1997 - 01.2005

12.1997 - 01.2005

08.1998 - 05.2001

02.1998 - 01.2005

12,1997 - 05.2000

07.1999 - 01.2005

08.2001 - 01.2005

12.1997 - 01.2005

12.1997 - 01.2005

07.2002 - 01.2005

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250031
SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5



A6 Avant (4B5, C5) 1.8 T quattro (132 KW / 180 HP)

A6 Avant (4B5, C5) 3.7 quattro (191 KW / 260 HP)

A6 Avant (4B5, C5) 3.7 (191 KW / 260 HP)

A6 Avant (4B5, C5) 4.2 quattro (220 KW / 299 HP)

A6 Avant (4B5, C5) S6 quattro (250 KW / 340 HP)

A6 Avant (4B5, C5) RS6 plus quattro (353 KW / 480 HP)

A6 Avant (4B5, C5) 2.0 (96 KW / 130 HP)

A6 Avant (4B5, C5) 2.4 (125 KW / 170 HP)

A6 Avant (4B5, C5) 2.4 quattro (125 KW / 170 HP)

A6 Avant (4B5, C5) 2.5 TDI (114 KW / 155 HP)

A6 Avant (4B5, C5) 2.7 T quattro (184 KW / 250 HP)

A6 Avant (4B5, C5) 3.0 (162 KW / 220 HP)

A6 Avant (4B5, C5) 3.0 quattro (164 KW / 223 HP)

A6 Avant (4B5, C5) 3.0 quattro (162 KW / 220 HP)

A6 Avant (4B5, C5) 3.0 (160 KW / 218 HP)

A6 Avant (4B5, C5) 3.0 quattro (160 KW / 218 HP)

A6 Avant (4B5, C5) 1.8 T (132 KW / 180 HP)

A6 Avant (4B5, C5) 2.4 (100 KW / 136 HP)

A6 Avant (4B5, C5) 1.9 TDI (81 KW / 110 HP)

A6 Avant (4B5, C5) 1.8 (92 KW / 125 HP)

A6 Avant (4B5, C5) 2.8 quattro (142 KW / 193 HP)

12.1997 - 01.2005

03.1999 - 01.2005

03.1999 - 01.2005

11.1998 - 01.2005

09.1999 - 01.2005

04.2004 - 01.2005

08.2001 - 01.2005

08.2001 - 01.2005

08.2001 - 01.2005

08.2001 - 01.2005

08.2001 - 01.2005

08.2001 - 01.2005

09.2001 - 12.2004

08.2001 - 01.2005

06.2001 - 01.2005

06.2001 - 01.2005

04.1999 - 01.2005

07.1998 - 01.2005

02.1998 - 04.2001

12.1997 - 01.2005

12.1997 - 01.2005

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
rechts

Vorderachse
beidseitig

aufien

aufden

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKTR-0240144

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M14x1,5
128

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



A6 Avant (4B5, C5) 1.8 T (110 KW / 150 HP)

A6 Avant (4B5, C5) 2.4 (121 KW / 165 HP)

A6 Avant (4B5, C5) 2.8 (142 KW / 193 HP)

A6 Avant (4B5, €5) 1.8 T quattro (110 KW / 150 HP)

A6 Avant (4B5, C5) 2.4 quattro (121 KW / 165 HP)

A6 Avant (4B5, C5) 2.5 TDI (110 KW / 150 HP)

A6 Avant (4B5, C5) 2.5 TDI quattro (110 KW / 150 HP)

A6 Avant (4B5, C5) RS6 quattro (331 KW / 450 HP)

A6 Avant (4B5, C5) 1.9 TDI (85 KW / 115 HP)

A6 Avant (4B5, C5) 2.5 TDI (132 KW / 180 HP)

A6 Avant (4B5, C5) 2.5 TDI quattro (132 KW / 180 HP)

A6 Avant (4F5, C6) S6 (320 KW / 435 HP)

A6 Avant (4F5, C6) 4.2 FSI quattro (257 KW / 350 HP)

A6 Avant (4F5, C6) 3.0 TDI quattro (171 KW / 233 HP)

A6 Avant (4F5, C6) 3.0 (160 KW / 218 HP)

A6 Avant (4F5, C6) 2.0 TDI (120 KW / 163 HP)

A6 Avant (4F5, C6) 2.0 TDI (100 KW / 136 HP)

A6 Avant (4F5, C6) 2.7 TDI quattro (120 KW / 163 HP)

A6 Avant (4F5, C6) 3.0 quattro (160 KW / 218 HP)

A6 Avant (4F5, C6) 3.0 TDi (171 KW / 232 HP)

A6 Avant (4F5, C6) 2.8 FSI (154 KW / 210 HP)

A6 Avant (4F5, C6) 2.8 FS| quattro (154 KW / 210 HP)

A6 Avant (4F5, C6) 2.0 TDI (125 KW / 170 HP)

12.1997 - 01.2005

12.1997 - 01.2005

12.1997 - 01.2005

12.1997 - 01.2005

12.1997 - 01.2005

12.1997 - 01.2005

12.1997 - 01.2005

07.2002 - 01.2005

07.2000 - 01.2005

02.2000 - 01.2005

02.2000 - 01.2005

03.2006 - 08.2011

06.2006 - 08.2011

06.2006 - 10.2008

03.2005 - 05.2006

04.2009 - 08.2011

06.2005 - 08.2011

06.2005 - 08.2011

03.2005 - 05.2006

06.2006 - 08.2011

11.2006 - 10.2008

06.2007 - 10.2008

10.2008 - 08.2011

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128



A6 Avant (4F5, C6) 2.7 TDI (140 KW / 190 HP)

A6 Avant (4F5, C6) 2.7 TDI quattro (140 KW / 190 HP)

A6 Avant (4F5, C6) 2.8 FSI (140 KW / 190 HP)

A6 Avant (4F5, C6) 2.8 FSI (162 KW / 220 HP)

A6 Avant (4F5, C6) 2.8 FSI quattro (140 KW / 190 HP)

A6 Avant (4F5, C6) 2.8 FS| quattro (162 KW / 220 HP)

A6 Avant (4F5, C6) 3.0 TDI quattro (176 KW / 240 HP)

A6 Avant (4F5, C6) 3.0 TFSI quattro (213 KW / 290 HP)

A6 Avant (4F5, C6) RS6 quattro (426 KW / 580 HP)

A6 Avant (4F5, C6) 2.0 TDI (89 KW / 121 HP)

A6 Avant (4F5, C6) 3.0 TFSI quattro (220 KW / 299 HP)

A6 Avant (4F5, C6) 2.0 TDI (103 KW / 140 HP)

A6 Avant (4F5, C6) 2.7 TDI (120 KW / 163 HP)

A6 Avant (4F5, C6) 2.7 TDI (132 KW / 180 HP)

A6 Avant (4F5, C6) 3.0 TDI quattro (165 KW / 225 HP)

A6 Avant (4F5, C6) 2.7 TDI quattro (132 KW / 180 HP)

A6 Avant (4F5, C6) 3.2 FSI (188 KW / 255 HP)

A6 Avant (4F5, C6) 3.2 FSI quattro (188 KW / 255 HP)

A6 Avant (4F5, C6) 4.2 quattro (246 KW / 335 HP)

A6 Avant (4F5, C6) 2.4 (130 KW / 177 HP)

A6 Avant (4F5, C6) 2.4 quattro (130 KW / 177 HP)

A6 Avant (4F5, C6) 3.0 TDI quattro (155 KW / 211 HP)

A6 Avant (4F5, C6) 2.0 TFSI (125 KW / 170 HP)

10.2008 - 08.2011

10.2008 - 08.2011

10.2008 - 08.2011

10.2008 - 08.2011

10.2008 - 08.2011

10.2008 - 08.2011

10.2008 - 08.2011

10.2008 - 08.2011

04.2008 - 08.2010

09.2005 - 06.2006

10.2008 - 08.2011

06.2005 - 10.2008

03.2005 - 08.2011

03.2005 - 10.2008

03.2005 - 05.2006

03.2005 - 10.2008

03.2005 - 10.2008

03.2005 - 10.2008

03.2005 - 05.2006

03.2005 - 10.2008

03.2005 - 10.2008

03.2005 - 08.2011

06.2005 - 08.2011

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

Mi16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

Mi1é6x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128



AUDI A8

MODEL

A8 (4D2, 4D8) 3.7 (169 KW / 230 HP)

A8 (4D2, 4D8) 3.7 quattro (169 KW / 230 HP)

A8 (4D2, 4D8) 2.8 (142 KW / 193 HP)

A8 (4D2, 4D8) 2.8 quattro (142 KW / 193 HP)

A8 (4D2, 4D8) 4.2 quattro (220 KW / 299 HP)

A8 (4D2, 4D8) 2.8 (128 KW / 174 HP)

A8 (4D2, 4D8) 2.8 quattro (128 KW / 174 HP)

A8 (4D2, 4D8) 4.2 quattro (180 KW / 245 HP)

A8 (4D2, 4D8) 2.5 TDI (110 KW / 150 HP)

A8 (4D2, 4D8) 3.3 TDI quattro (165 KW / 224 HP)

A8 (4D2, 4D8) 3.7 (191 KW / 260 HP)

A8 (4D2, 4D8) 4.2 quattro (210 KW / 286 HP)

A8 (4D2, 4D8) 2.5 TDI quattro (110 KW / 150 HP)

A8 (4D2, 4D8) 2.8 (120 KW / 163 HP)

A8 (4D2, 4D8) 2.8 quattro (120 KW / 163 HP)

A8 (4D2, 4D8) 6.0 W12 quattro (309 KW / 420 HP)

A8 (4D2, 4D8) 4.2 40V quattro (224 KW / 305 HP)

A8 (4D2, 4D8) 4.2 quattro (175 KW / 238 HP)

A8 (4D2, 4D8) 4.2 quattro (228 KW / 310 HP)

YEAR

07.1995 - 12,1998

07.1995 - 11.1998

04.1996 - 09.2002

04.1996 - 09.2002

03.1994 - 11.1998

03.1994 - 03.1996

03.1994 - 03.1996

03.1994 - 07.1996

01.1997 - 04.2000

06.2000 - 09.2002

11.1998 - 09.2002

07.1995 - 09.1998

07.1997 - 04.2000

07.1995 - 03.1996

07.1995 - 03.1996

01.2001 - 09.2002

09.1999 - 12.2002

02.1999 - 04.2000

11.1998 - 09.2002

FITTING POSITION
Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
rechts
Vorderachse

beidseitig

Vorderachse
beidseitig

ITEMNUMBER

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKTR-0240144

SKRA-0250059

SKRA-0250059

ITEM DETAILS

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M14x1,5
128

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



A8 (4D2, 4D8) S 8 quattro (265 KW / 360 HP)

A8 (4D2, 4D8) S 8 quattro (250 KW / 340 HP)

A8 (4D2, 4D8) 3.7 quattro (191 KW / 260 HP)

A8 (4D2, 4D8) 2.5 TDI quattro (132 KW / 180 HP)

A8 (4D2, 4D8) 2.5 TDI (132 KW / 180 HP)

AUDI ALLROAD

MODEL

ALLROAD (4BH, C5) 4.2 V8 quattro (220 KW / 299 HP)

ALLROAD (4BH, C5) 2.5 TDI quattro (120 KW / 163 HP)

ALLROAD (4BH, C5) 4.2 quattro (224 KW / 305 HP)

ALLROAD (4BH, C5) 2.7 quattro (187 KW / 254 HP)

ALLROAD (4BH, C5) 2.5 TDI quattro (132 KW / 180 HP)

ALLROAD (4BH, C5) 2.7 T quattro (184 KW / 250 HP)

AUDI CABRIOLET

MODEL
CABRIOLET (8G7, B4) 2.0 16V (103 KW / 140 HP)
CABRIOLET (8G7, B4) 1.9 TDI (66 KW / 90 HP)
CABRIOLET (8G7, B4) 1.8 (92 KW / 125 HP)
CABRIOLET (8G7, B4) 2.6 (102 KW / 139 HP)
CABRIOLET (8G7, B4) 2.0 E (85 KW / 115 HP)
CABRIOLET (8G7, B4) 2.3 E (98 KW / 133 HP)
CABRIOLET (8G7, B4) 2.6 (110 KW / 150 HP)

CABRIOLET (8G7, B4) 2.8 (128 KW / 174 HP)

06.1999 - 09.2002

07.1996 - 06.1999

11.1998 - 09.2002

09.2000 - 09.2002

09.2000 - 09.2002

YEAR

07.2002 - 08.2005

05.2003 - 08.2005

09.2002 - 08.2005

09.2000 - 08.2005

05.2000 - 08.2005

05.2000 - 08.2005

YEAR

06.1995 - 07.1996

06.1995 - 08.2000

01.1997 - 08.2000

05.1995 - 08.2000

01.1993 - 07.1998

05.1991 - 07.1994

06.1993 - 08.2000

11.1992 - 08.2000

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION
Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
rechts
Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION
links
links
links
links
links
links
links

links

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

ITEMNUMBER

SKRA-0250059

SKRA-0250059

SKTR-0240144

SKRA-0250059

SKRA-0250059

SKRA-0250059

ITEMNUMBER

SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019

SKRA-0250019

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

ITEM DETAILS

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}
Linge [mm]
Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

ITEM DETAILS

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M14x1,5
128
M16x1,5 /
M8x1,25
240/
276,5
M16x1,5 /
M8x1,25
240/
276,5
M16x1,5 /
M8x1,25

240/
276,5

585

585

585

585

585

585

585

585



AUDI COUPE

MODEL
COUPE (81, 85) 1.8 (55 KW / 75 HP)

COUPE (81, 85) 1.8 GT (65 KW / 88 HP)

COUPE (81, 85) 1.8 GT (66 KW / 90 HP)

COUPE (81, 85) 1.8 GT (79 KW / 107 HP)

COUPE (81, 85) 1.9 (85 KW / 115 HP)

COUPE (81, 85) 2.0 (85 KW / 115 HP)

COUPE (81, 85) 2.1 GT (96 KW / 131 HP)

COUPE (81, 85) 2.2 GT (85 KW / 115 HP)

COUPE (81, 85) 2.2 GT (100 KW / 136 HP)

COUPE (81, 85) 2.2 quattro (100 KW / 136 HP)
COUPE (81, 85) 2.1 GT (79 KW / 107 HP)

COUPE (81, 85) 2.2 quattro (88 KW / 120 HP)
COUPE (81, 85) 2.3 (100 KW / 136 HP)

COUPE (81, 85) 2.3 quattro (100 KW / 136 HP)
COUPE (81, 85) 2.0 (83 KW / 113 HP)

COUPE (81, 85) 1.6 (55 KW / 75 HP)

COUPE (81, 85) 1.8 GT (68 KW / 93 HP)

COUPE (81, 85) 1.8 GT (82 KW / 112 HP)

COUPE (81, 85) 1.8 GT quattro (82 KW / 112 HP)
COUPE (89, 8B) 2.0 (82 KW / 112 HP)

COUPE (89, 8B) 2.0 (83 KW / 113 HP)

COUPE (89, 8B) 2.0 20 V quattro (118 KW / 160 HP)
COUPE (89, 8B) 2.3 (100 KW / 136 HP)

COUPE (89, 8B) 2.0 (85 KW / 115 HP)

COUPE (89, 8B) 2.0 16 V (103 KW / 140 HP)
COUPE (89, 8B) 2.3 (98 KW / 133 HP)

COUPE (89, 8B) 2.3 20V (123 KW / 167 HP)

COUPE (89, 8B) 2.6 (110 KW / 150 HP)

COUPE (89, 8B) 2.8 (128 KW / 174 HP)

COUPE (89, 8B) 2.3 quattro (100 KW / 136 HP)
COUPE (89, 8B) 2.3 20V quattro (125 KW / 170 HP)
COUPE (89, 8B) S2 quattro (162 KW / 220 HP)
COUPE (89, 8B) S2 quattro (169 KW / 230 HP)
COUPE (89, 8B) 2.3 quattro (98 KW / 134 HP)
COUPE (89, 8B) 2.3 20V quattro (123 KW / 167 HP)
COUPE (89, 8B) 2.6 quattro (110 KW / 150 HP)

COUPE (89, 8B) 2.8 quattro (128 KW / 174 HP)

YEAR

08.1981 - 07.1983

04.1986 - 10.1988

09.1982 - 10.1988

08.1986 - 10.1987

08.1980 - 07.1983

09.1983 - 07.1986

09.1982 - 10.1987

07.1981 - 10.1987

09.1984 - 10.1988

10.1984 - 10.1988

01.1981 - 07.1983

08.1985 - 10.1988

01.1987 - 10.1988

01.1987 - 10.1988

03.1986 - 04.1988

07.1980 - 08.1981

01.1985 - 07.1988

08.1986 - 10.1988

12.1984 - 10.1988

03.1990 - 07.1990

05.1989 - 03.1990

08.1989 - 07.1991

10.1988 - 07.1994

05.1989 - 12.1996

08.1992 - 12.1996

03.1990 - 12.1996

08.1990 - 07.1991

08.1992 - 12.1996

09.1991 - 12,1996

11.1988 - 12.1992

11.1988 - 07.1991

09.1990 - 09.1992

10.1992 - 12.1996

05.1990 - 12.1996

05.1990 - 12.1996

08.1992 - 12.1996

08.1991 - 12.1996

FITTING POSITION

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

ITEMNUMBER

SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019

SKRA-0250019

ITEM DETAILS

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585



COUPE (89, 8B) 2.0 16 V (101 KW / 137 HP)
COUPE (89, 8B) 2.0 20 V (118 KW / 160 HP)
COUPE (89, 8B) 1.8 (82 KW / 112 HP)

COUPE (89, 8B) 2.3 20V (125 KW / 170 HP)

COUPE (89, 8B) 2.2 quattro (100 KW / 136 HP)

AUDI Q3

MODEL

03 (8U) 2.0 TDI (100 KW / 136 HP)
03 (8U) 2.0 TDI quattro (120 KW / 163 HP)

Q3 (8U) 2.0 TDI quattro (130 KW / 177 HP)

Q3 (8U) RS (228 KW / 310 HP)

Q3 (8U) 2.0 TFSI quattro (155 KW / 211 HP)

03 (8U) 2.0 TDI (103 KW / 140 HP)

03 (8U) 2.0 TFSI quattro (125 KW / 170 HP)

Q3 (8U) 1.4 TFSI (92 KW / 125 HP)

Q3 (8U) RS performance 2.5 quattro (270 KW / 367 HP)
Q3 (8U) 2.0 TDI (130 KW / 177 HP)

03 (8U) 2.0 TDI quattro (103 KW / 140 HP)

03 (8U) 1.4 TFSI (110 KW / 150 HP)

01.1992 - 07.1992

08.1989 - 07.1991

08.1989 - 07.1991

08.1989 - 07.1991

11.1988 - 07.1991

YEAR

09.2011 -

06.2011 -

06.2011 -

10.20153 -

06.2011 -

09.2011 -

06.2011 -

07.2016 -

01.2015 -

05.2013 -

01.2012 -

10.2013 -

links

links

links

links

links

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019

SKRA-0250019

ITEM NUMBER

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

585

585

585

585

585

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



=« BMW

BMW 1ER-REIHE

MODEL

1 (E81) 116 i (85 KW / 115 HP)
1 (E81) 120 d (120 KW / 163 HP)
1 (E81) 118 i (95 KW / 129 HP)

1 (E81) 120 i (115 KW / 156 HP)
1 (E81) 120 d (145 KW / 197 HP)
1 (E81) 116 d (66 KW / 90 HP)

1 (E81) 116 i (89 KW / 121 HP)

1 (E81) 130 i (195 KW / 265 HP)
1 (E81) 123 d (150 KW / 204 HP)
1 (E81) 118 i (100 KW / 136 HP)
1 (E81) 116 i (90 KW / 122 HP)

1 (E81) 118 i (105 KW / 143 HP)
1 (E81) 120 i (125 KW / 170 HP)
1 (E81) 118 d (105 KW / 143 HP)
1 (E81) 120 d (130 KW / 177 HP)
1 (E81) 118 d (100 KW / 136 HP)
1 (E81) 120 i (120 KW / 163 HP)
1 (E81) 116 i (90 KW / 122 HP)

1 (E81) 116 d (85 KW / 116 HP)

1 (E81) 130 i (190 KW / 258 HP)

YEAR

04.2007 - 12.2011

09.2006 - 12.2011

09.2006 - 02.2008

09.2006 - 10.2011

09.2006 - 12.2011

01.2011 - 12.2011

08.2007 - 11.2011

09.2006 - 12.2011

03.2007 - 12.2011

09.2006 - 12.2011

03.2007 - 11.2011

09.2006 - 12.2011

09.2006 - 12.2011

09.2006 - 12.2011

09.2006 - 12.2011

09.2006 - 12.2011

09.2006 - 12.2011

11.2008 - 12.2011

11.2008 - 12.2011

09.2006 - 12.2011

FITTING POSITION

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

ITEM NUMBER

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5



1 (E81) 125i (224 KW / 305 HP)

1 (E87) 116 i (89 KW / 121 HP)

1 (E87) 116 i (85 KW / 115 HP)

1 (E87) 116 i (90 KW / 122 HP)

1 (E87) 116 i (90 KW / 122 HP)

1 (E87) 118 i (95 KW / 129 HP)

1 (E87) 118 i (100 KW / 136 HP)

1 (E87) 118 i (105 KW / 143 HP)

1 (E87) 120 i (110 KW / 150 HP)

1 (E87) 116 d (66 KW / 90 HP)

1 (E87) 118 i (125 KW / 170 HP)

1 (E87) 120 i (115 KW / 156 HP)

1 (E87) 120 i (120 KW / 163 HP)

1 (E87) 120 d (110 KW / 150 HP)

1 (E87) 120 i (125 KW / 170 HP)

1 (E87) 130 i (190 KW / 258 HP)

1 (E87) 130 i (195 KW / 265 HP)

1 (E87) 116 d (85 KW / 116 HP)

1 (E87) 118 d (90 KW / 122 HP)

1 (E87) 118 d (100 KW / 136 HP)

1 (E87) 118 d (105 KW / 143 HP)

1 (E87) 120 d (120 KW / 163 HP)

1 (E87) 120 d (130 KW / 177 HP)

1 (E87) 123 d (150 KW / 204 HP)

1 Cabriolet (E88) 120 i (115 KW / 156 HP)

1 Cabriolet (E88) 135 i (240 KW / 326 HP)

09.2007 - 12.2011

03.2007 - 06.2011

11.2003 - 06.2011

03.2007 - 06.2011

01.2009 - 06.2011

07.2004 - 02.2007

10.2006 - 06.2011

09.2006 - 06.2011

11.2003 - 06.2011

01.2011 - 12.2011

03.2007 - 12.2007

11.2003 - 06.2011

09.2006 - 06.2011

03.2003 - 02.2007

09.2006 - 06.2011

03.2005 - 09.2012

03.2005 - 09.2012

12.2008 - 09.2012

11.2003 - 02.2007

09.2006 - 06.2011

09.2006 - 06.2011

03.2003 - 06.2011

09.2006 - 06.2011

03.2007 - 09.2012

03.2008 - 12.2013

03.2008 - 12.2013

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf

Linge [mm]

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5



1 Cabriolet (E88) 120 d (145 KW / 197 HP)

1 Cabriolet (E88) 118 i (105 KW / 143 HP)

1 Cabriolet (E88) 135 i (225 KW / 306 HP)

1 Cabriolet (E88) 120 d (130 KW / 177 HP)

1 Cabriolet (E88) 120 i (125 KW / 170 HP)

1 Cabriolet (E88) 125 i (160 KW / 218 HP)

1 Cabriolet (E88) 118 i (100 KW / 136 HP)

1 Cabriolet (E88) 120 i (120 KW / 163 HP)

1 Cabriolet (E88) 120 d (120 KW / 163 HP)

1 Cabriolet (E88) 118 d (100 KW / 136 HP)

1 Cabriolet (E88) 128 i (171 KW / 233 HP)

1 Cabriolet (E88) 118 d (105 KW / 143 HP)

1 Cabriolet (E88) 123 d (150 KW / 204 HP)

1 Coupe (E82) 135 i (240 KW / 326 HP)

1 Coupe (E82) 125 i (160 KW / 218 HP)

1 Coupe (E82) 118 i (127 KW / 173 HP)

1 Coupe (E82) 135 i (225 KW / 306 HP)

1 Coupe (E82) 120 d (130 KW / 177 HP)

1 Coupe (E82) 123 d (150 KW / 204 HP)

1 Coupe (E82) M (250 KW / 340 HP)

1 Coupe (E82) 128 i (172 KW / 234 HP)

1 Coupe (E82) 120i (125 KW /170 HP)

1 Coupe (E82) 118 d (105 KW / 143 HP)

1 Coupe (E82) 120 d (145 KW / 197 HP)

1 Coupe (E82) 120 i (115 KW / 156 HP)

1 Coupe (E82) 120 d (120 KW / 163 HP)

03.2008 - 12.2013

03.2008 - 12.2013

03.2008 - 12.2013

03.2008 - 12.2013

03.2008 - 12.2013

03.2008 - 12.2013

09.2008 - 12.2013

03.2008 - 12.2013

03.2008 - 12.2013

09.2008 - 12.2013

03.2008 - 12.2013

09.2008 - 12.2013

09.2008 - 12.2013

10.2007 - 10.2013

10.2007 - 10.2013

09.2011 - 10.2013

10.2007 - 10.2013

10.2007 - 10.2013

10.2007 - 10.2013

04.2011 - 06.2012

10.2007 - 10.2013

10.2007 - 10.2013

09.2009 - 10.2013

10.2006 - 10.2013

09.2009 - 10.2013

10.2007 - 10.2013

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf

Linge [mm]

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5



1 Coupe (E82) 118 d (100 KW / 136 HP)

BMW 3ER-REIHE

MODEL
3 (E36) M3 3.0 (210 KW / 286 HP)
3 (E36) 328 i (142 KW / 193 HP)

3 (E36) 323 i (125 KW / 170 HP)

3 (E36) 318 i (85 KW / 115 HP)

3 (E36) 316 i (73 KW / 100 HP)

3 (E36) 316 i (75 KW / 102 HP)

3 (E36) 318 i (83 KW / 113 HP)

3 (E36) 318 is (103 KW / 140 HP)
3 (E36) 320 i (110 KW / 150 HP)

3 (E36) 325 i (141 KW / 192 HP)

3 (E36) 325 td (85 KW / 115 HP)

3 (E36) 325 tds (105 KW / 143 HP)
3 (E36) 316 i (75 KW / 102 HP)

3 (E36) 318 tds (66 KW / 90 HP)

3 (E36) 318 is (103 KW / 140 HP)
3 (E36) M3 3.2 (236 KW / 321 HP)

3 (E46) 318 i (87 KW / 118 HP)
3 (E46) 328 i (142 KW / 193 HP)
3 (E46) 316 i (77 KW / 105 HP)
3 (E46) 318 d (85 KW / 116 HP)
3 (E46) 316 i (77 KW / 105 HP)
3 (E46) 330 d (135 KW / 184 HP)
3 (E46) 330 i (168 KW / 228 HP)
3 (E46) 318 i (105 KW / 143 HP)
3 (E46) 320 d (110 KW / 150 HP)

3 (E46) 330 i (170 KW / 231 HP)

09.2009 - 10.2013

YEAR

08.1994 - 09.1995

01.1995 - 02.1998

03.1995 - 02.1998

10.1993 - 02.1998

09.1990 - 09.1993

07.1993 - 02.1998

12.1990 - 10.1993

03.1993 - 02.1998

09.1990 - 02.1998

09.1990 - 09.1995

09.1991 - 02.1998

05.1993 - 02.1998

09.1990 - 09.1993

01.1995 - 02.1998

09.1995 - 02.1998

09.1995 - 02.1998

02.1998 - 09.2001

02.1998 - 06.2000

04.2000 - 02.2005

03.2003 - 02.2005

09.1998 - 02.2005

10.1999 - 02.2005

01.2001 - 04.2005

09.2001 - 02.2005

09.2001 - 02.2005

06.2000 - 02.2005

Vorderachse
beidseitig

FITTING POSITION
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240078

ITEMNUMBER

SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M18X1.5/
M14X1.5
262,5

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2



3 (E46) 320 d (100 KW / 136 HP)

3 (E46) 330 xi (168 KW / 228 HP)

3 (E46) 320 (125 KW /170 HP)

3 (E46) 325 xi (137 KW / 186 HP)

3 (E46) 325 i (141 KW / 192 HP)

3 (E46) 325 xi (141 KW / 192 HP)

3 (E46) 318 i (100 KW / 136 HP)

3 (E46) 320 (120 KW /163 HP)

3 (E46) 323i(125 KW /170 HP)

3 (E46) 320 i (110 KW / 150 HP)

3 (E46) 316 i (85 KW / 115 HP)

3 (E46) 320 d (95 KW / 129 HP)

3 (E46) 3231 (120 KW /163 HP)

3 (E46) 330 xd (135 KW / 184 HP)

3 (E46) 318 d (85 KW / 116 HP)

3 (E46) 316 i (85 KW / 115 HP)

3 (E46) 330 d (150 KW / 204 HP)

3 (E46) 330 xd (150 KW / 204 HP)

3 (E46) 330 xi (170 KW / 231 HP)

3 (E46) 325 (137 KW / 186 HP)

3 (E90) 328 i xDrive (171 KW / 234 HP)

3 (E90) 335 xi (224 KW / 305 HP)

3 (E90) 335 i xDrive (224 KW / 305 HP)

3 (E90) 328 i (187 KW / 254 HP)

3 (E90) 320 i (110 KW / 150 HP)

04.1998 - 09.2001

09.2004 - 04.2005

09.2000 - 02.2005

09.2000 - 04.2005

09.2000 - 02.2005

09.2000 - 02.2005

09.2001 - 02.2005

09.2000 - 02.2005

03.1998 - 09.2000

03.1998 - 09.2000

06.2002 - 02.2005

02.1998 - 04.2005

03.1998 - 09.2000

01.2000 - 02.2003

09.2001 - 03.2003

02.2002 - 02.2005

03.2003 - 02.2005

09.2002 - 12.2004

06.2000 - 02.2005

09.2000 - 04.2005

09.2008 - 12.2010

09.2006 - 06.2008

05.2008 - 10.2011

07.2005 - 11.2007

06.2004 - 09.2007

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

SKRA-0250020

SKTR-0240102

SKRA-0250020

SKTR-0240102

SKRA-0250020

SKTR-0240102

SKTR-0240102

SKTR-0240102

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKTR-0240102

SKTR-0240102

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKTR-0240102

SKTR-0240102

SKRA-0250020

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf?
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Linge [mm]

M18x1,5 /
M12x1,5
405,2

M14x1,5 /
M18x1,5
205

M18x1,5/
M12x1,5
405,2

M14x1,5/
M18x1,5
205

M18x1,5 /
M12x1,5
405,2

M14x1,5 /
M18x1,5
205

M14x1,5 /
M18x1,5
205

M14x1,5/
M18x1,5
205

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M14x1,5/
M18x1,5
205

M14x1,5/
M18x1,5
205

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M14x1,5/
M18x1,5
205

M14x1,5/
M18x1,5
205

M18x1,5 /
M12x1,5
405,2

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5



3 (E90) 325 i (143 KW / 194 HP)

3 (E90) 325 i (160 KW / 218 HP)

3 (E90) 325 i (155 KW / 211 HP)

3 (E90) 330 (190 KW / 258 HP)

3 (E90) 320 d (120 KW / 163 HP)

3 (E90) 335 i xDrive (240 KW / 326 HP)

3 (E90) 335 xi (240 KW / 326 HP)

3 (E90) 318 i (95 KW /129 HP)

3 (E90) 318 d (90 KW / 122 HP)

3 (E90) M3 CRT (331 KW / 450 HP)

3 (E90) 330 d (170 KW / 231 HP)

3 (E90) 335 d (198 KW / 269 HP)

3 (E90) 325 d (145 KW / 197 HP)

3 (E90) 320 i (115 KW / 156 HP)

3 (E90) 320 si (127 KW / 173 HP)

3 (E90) 335 i (240 KW / 326 HP)

3 (E90) 320 d (115 KW / 156 HP)

3 (E90) 328 xi (171 KW / 234 HP)

3 (E90) 330 d (155 KW / 211 HP)

3 (E90) 316 d (85 KW / 116 HP)

3 (E90) 320 d (135 KW / 184 HP)

3 (E90) 323 i (130 KW / 177 HP)

3 (E90) 325 d (150 KW / 204 HP)

3 (E90) 335 i (225 KW / 306 HP)

3 (E90) 318 i (105 KW / 143 HP)

3 (E90) 318 d (105 KW / 143 HP)

09.2006 - 12.2007

01.2005 - 10.2011

03.2007 - 12.2011

12.2004 - 08.2007

12.2004 - 12.2011

05.2008 - 10.2011

09.2006 - 06.2008

03.2005 - 08.2007

03.2005 - 08.2007

03.2011 - 12.2011

09.2005 - 09.2008

09.2008 - 12.2011

09.2006 - 02.2010

02.2007 - 12.2011

09.2005 - 08.2006

03.2006 - 12.2011

12.2004 - 09.2007

09.2006 - 12.2008

09.2005 - 12.2011

07.2009 - 12.2011

03.2010 - 12.2011

09.2005 - 02.2007

03.2010 - 10.2011

03.2006 - 12.2011

02.2007 - 10.2011

02.2007 - 10.2011

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf?
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf

Linge [mm]

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5



3 (E90) 325 i (160 KW / 218 HP)

3 (E90) 335 d (210 KW / 286 HP)

3 (E90) 320 (125 KW /170 HP)

3 (E90) 320 d (130 KW / 177 HP)

3 (E90) 330 i (200 KW / 272 HP)

3 (E90) 323 i (140 KW / 190 HP)

3 (E90) 318 d (100 KW / 136 HP)

3 (E90) 320 (120 KW /163 HP)

3 (E90) 330 d (180 KW / 245 HP)

3 (E90) 325 i (141 KW / 192 HP)

3 (E90) 316 i (85 KW / 116 HP)

3 (E90) 325 i (163 KW / 222 HP)

3 (E90) 316 i (90 KW /122 HP)

3 (E90) 318 i (100 KW / 136 HP)

3 (E90) 330 i (175 KW / 235 HP)

3 (E90) M3 (309 KW / 420 HP)

3 (E90) 328 i (171 KW / 234 HP)

3 (E90) 335 i (224 KW / 305 HP)

3 (E90) 335 i (220 KW / 299 HP)

3 (E90) 320 d (110 KW / 150 HP)

3 (E90) 325 i (155 KW / 211 HP)

3 Cabriolet (E36) M3 3.0 (210 KW / 286 HP)
3 Cabriolet (E36) 328 i (142 KW / 193 HP)
3 Cabriolet (E36) 320 i (110 KW / 150 HP)
3 Cabriolet (E36) 325 i (141 KW / 192 HP)
3 Cabriolet (E36) 318 i (85 KW / 115 HP)

3 Cabriolet (E36) 323 i (125 KW / 170 HP)

3 Cabriolet (E36) M3 3.2 (236 KW / 321 HP)

03.2007 - 12.2011

09.2006 - 12.2011

03.2007 - 12.2011

09.2007 - 03.2010

09.2007 - 10.2011

03.2007 - 12.2011

02.2007 - 03.2010

03.2007 - 12.2011

09.2008 - 12.2011

09.2007 - 12.2008

09.2005 - 10.2011

09.2008 - 12.2009

09.2007 - 10.2011

03.2007 - 10.2011

09.2006 - 12.2007

03.2007 - 12.2011

03.2007 - 12.2011

03.2006 - 12.2011

03.2006 - 12.2011

12.2004 - 09.2007

01.2006 - 12.2011

01.1994 - 10.1995

03.1995 - 04.1999

12,1993 - 04.1999

03.1993 - 03.1995

01.1994 - 04.1999

06.1995 - 04.1999

10.1995 - 04.1999

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004

SKRA-0250004

Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf

Linge [mm]

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5



3 Cabriolet (E46) 330 Ci (168 KW / 228 HP)

3 Cabriolet (E46) M3 3.2 (252 KW / 343 HP)

3 Cabriolet (E46) 318 Ci (100 KW / 136 HP)

3 Cabriolet (E46) 323 Ci (125 KW / 170 HP)

3 Cabriolet (E46) 325 Gi (137 KW / 186 HP)

3 Cabriolet (E46) 330 Ci (170 KW / 231 HP)

3 Cabriolet (E46) 320 Ci (125 KW / 170 HP)

3 Cabriolet (E46) 325 Ci (141 KW / 192 HP)

3 Cabriolet (E46) 330 Cd (150 KW / 204 HP)

3 Cabriolet (E46) 320 Cd (110 KW / 150 HP)

3 Cabriolet (E46) 318 Ci (110 KW / 150 HP)

3 Cabriolet (E46) 323 Ci (120 KW / 163 HP)

3 Cabriolet (E46) M3 3.2 (235 KW / 320 HP)

3 Cabriolet (E46) 318 Ci (105 KW / 143 HP)

3 Cabriolet (E46) 320 Gi (120 KW / 163 HP)

3 Cabriolet (E93) 320 i (125 KW / 170 HP)

3 Cabriolet (E93) 325 i (160 KW / 218 HP)

3 Cabriolet (E93) 330 i (200 KW / 272 HP)

3 Cabriolet (E93) 335 i (225 KW / 306 HP)

3 Cabriolet (E93) 330 d (170 KW / 231 HP)

3 Cabriolet (E93) 323 i (140 KW / 190 HP)

3 Cabriolet (E93) 325 i (150 KW / 204 HP)

3 Cabriolet (E93) 335 i (240 KW / 326 HP)

3 Cabriolet (E93) 320 d (147 KW / 200 HP)

3 Cabriolet (E93) 320 d (145 KW / 197 HP)

06.2000 - 12.2006

04.2001 - 12.2007

12.2000 - 08.2006

04.2000 - 09.2000

09.2000 - 12.2006

06.2000 - 12.2007

09.2000 - 12.2007

09.2000 - 12.2007

08.2005 - 12.2007

02.2005 - 12.2007

02.2005 - 12.2007

04.2000 - 09.2000

09.2000 - 12.2006

09.2001 - 12.2007

01.2006 - 12.2007

09.2006 - 10.2013

03.2007 - 12.2013

03.2007 - 12.2013

05.2006 - 10.2013

03.2007 - 12.2013

03.2007 - 09.2011

03.2010 - 09.2013

05.2006 - 10.2013

03.2010 - 10.2013

09.2007 - 02.2010

Vorderachse

Vorderachse

Vorderachse
beidseitig

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250020

SKRA-0250020

SKTR-0240102

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKTR-0240102

SKTR-0240102

SKRA-0250020

SKRA-0250020

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf?
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Linge [mm]

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M14x1,5/
M18x1,5
205

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M14x1,5 /
M18x1,5
205

M14x1,5/
M18x1,5
205

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5



3 Cabriolet (E93) 320 i (115 KW / 156 HP)

3 Cabriolet (E93) 320 i (120 KW / 163 HP)

3 Cabriolet (E93) 320 d (120 KW / 163 HP)

3 Cabriolet (E93) 328 i (172 KW / 234 HP)

3 Cabriolet (E93) 320 d (135 KW / 184 HP)

3 Cabriolet (E93) 325 d (145 KW / 197 HP)

3 Cabriolet (E93) 320 d (130 KW / 177 HP)

3 Cabriolet (E93) 330 d (180 KW / 245 HP)

3 Cabriolet (E93) 325 i (155 KW / 211 HP)

3 Cabriolet (E93) 325 d (155 KW / 211 HP)

3 Cabriolet (E93) 328 i (179 KW / 243 HP)

3 Cabriolet (E93) 325 i (160 KW / 218 HP)

3 Cabriolet (E93) 320 i (110 KW / 149 HP)

3 Cabriolet (E93) 318 i (105 KW / 143 HP)

3 Cabriolet (E93) 325 d (150 KW / 204 HP)

3 Cabriolet (E93) M3 (309 KW / 420 HP)

3 Cabriolet (E93) 323 i (130 KW / 177 HP)

3 Cabriolet (E93) 330 i (190 KW / 258 HP)

3 Compact (E36) 323 ti (125 KW / 170 HP)
3 Compact (E36) 316 i (77 KW / 105 HP)
3 Compact (E36) 316 i (75 KW / 102 HP)
3 Compact (E36) 318 ti (103 KW / 140 HP)
3 Compact (E36) 318 tds (66 KW / 90 HP)
3 Compact (E36) 318 ti (103 KW / 140 HP)
3 Compact (E36) 316 g (75 KW / 102 HP)

3 Compact (E46) 316 ti (85 KW / 115 HP)

3 Compact (E46) 318 ti (100 KW / 136 HP)

3 Compact (E46) 325 ti (141 KW / 192 HP)

01.2007 - 08.2013

09.2006 - 10.2013

01.2008 - 12.2013

03.2007 - 12.2013

03.2010 - 10.2013

03.2007 - 12.2010

09.2007 - 02.2010

01.2009 - 12.2013

10.2006 - 12.2013

03.2007 - 12.2010

09.2011 - 12.2013

03.2007 - 12.2013

01.2007 - 08.2013

03.2010 - 12.2013

09.2009 - 09.2013

03.2007 - 10.2013

03.2007 - 09.2011

03.2007 - 12.2013

08.1997 - 08.2000

12.1998 - 08.2000

03.1994 - 08.2000

07.1995 - 08.2000

01.1995 - 08.2000

11.1994 - 08.1995

03.1994 - 08.2000

06.2001 - 02.2005

03.2001 - 12.2004

06.2001 - 02.2005

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
beidseitig

Vorderachse

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004

SKRA-0250020

SKTR-0240102

SKRA-0250020

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf?
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18x1,5/
M12x1,5
405,2

M14x1,5/
M18x1,5
205

M18x1,5/
M12x1,5
405,2



3 Compact (E46) 318 ti (105 KW / 143 HP)

3 Compact (E46) 320 td (110 KW / 150 HP)

3 Compact (E46) 316 ti (77 KW / 105 HP)

3 Compact (E46) 316 ti (85 KW / 115 HP)

3 Compact (E46) 318 td (85 KW / 115 HP)

3 Compact (E46) 320 td (100 KW / 136 HP)

3 Coupe (E36) M3 3.0 (210 KW / 286 HP)
3 Coupe (E36) 328 i (142 KW / 193 HP)
3 Coupe (E36) 318 is (103 KW / 140 HP)
3 Coupe (E36) 320 i (110 KW / 150 HP)
3 Coupe (E36) 325 i (141 KW / 192 HP)
3 Coupe (E36) M3 3.0 (217 KW / 295 HP)
3 Coupe (E36) 316 i (75 KW / 102 HP)

3 Coupe (E36) 318 is (103 KW / 140 HP)
3 Coupe (E36) 323 i (125 KW / 170 HP)
3 Coupe (E36) M3 3.2 (236 KW / 321 HP)

3 Coupe (E46) 323 Ci (125 KW /170 HP)

3 Coupe (E46) 328 Gi (142 KW / 193 HP)

3 Coupe (E46) 316 Gi (77 KW / 105 HP)

3 Coupe (E46) M3 CSL (265 KW / 360 HP)

3 Coupe (E46) 330 Cd (150 KW / 204 HP)

3 Coupe (E46) 318 Ci (105 KW / 143 HP)

3 Coupe (E46) 330 xi (170 KW / 231 HP)

3 Coupe (E46) 325 Gi (137 KW / 186 HP)

3 Coupe (E46) 320 Ci (125 KW / 170 HP)

3 Coupe (E46) 325 Ci (141 KW /192 HP)

3 Coupe (E46) 320 Ci (120 KW / 163 HP)

3 Coupe (E46) 318 Gi (100 KW / 136 HP)

3 Coupe (E46) 320 Ci (110 KW / 150 HP)

03.2001 - 12.2004

09.2001 - 02.2005

06.2002 - 02.2005

06.2002 - 02.2005

03.2003 - 02.2005

10.2001 - 12.2002

10.1992 - 01.1995

01.1995 - 04.1999

03.1992 - 10.1995

03.1992 - 04.1999

03.1992 - 04.1999

01.1995 - 10.1995

09.1993 - 04.1999

09.1995 - 04.1999

03.1995 - 04.1999

10.1995 - 04.1999

04.1999 - 09.2000

04.1999 - 06.2000

04.2000 - 07.2006

06.2003 - 07.2006

03.2003 - 07.2006

12.2000 - 05.2006

06.2000 - 07.2006

09.2000 - 07.2006

01.2000 - 05.2006

09.2000 - 07.2006

01.2000 - 05.2006

12.2000 - 05.2006

02.1999 - 08.2001

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKTR-0240102

SKTR-0240102

SKRA-0250020

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf

Linge [mm]

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M14x1,5/
M18x1,5
205

M14x1,5/
M18x1,5
205

M18x1,5 /
M12x1,5
405,2



3 Coupe (E46) 330 Ci (170 KW / 231 HP)

3 Coupe (E46) 320 Cd (110 KW / 150 HP)

3 Coupe (E46) 316 Ci (85 KW /115 HP)

3 Coupe (E46) 318 Ci (87 KW / 118 HP)

3 Coupe (E46) 318 Gi (85 KW / 116 HP)

3 Coupe (E46) 323 Ci (120 KW / 163 HP)

3 Coupe (E46) M3 3.2 (252 KW / 343 HP)

3 Coupe (E46) M3 3.2 (235 KW / 320 HP)

3 Coupe (E46) 318 Gi (110 KW / 150 HP)

3 Coupe (E46) 330 Gi (168 KW / 228 HP)

3 Coupe (E92) 328 i (171 KW / 233 HP)

3 Coupe (E92) 320 i (125 KW /170 HP)

3 Coupe (E92) 320 d (130 KW / 177 HP)

3 Coupe (E92) 316 i (90 KW /122 HP)

3 Coupe (E92) 325 d (145 KW / 197 HP)

3 Coupe (E92) 330 i (200 KW / 272 HP)

3 Coupe (E92) 320 d (147 KW / 200 HP)

3 Coupe (E92) 320 d (145 KW / 197 HP)

3 Coupe (E92) 323 i (140 KW / 190 HP)

3 Coupe (E92) 335 i (240 KW / 326 HP)

3 Coupe (E92) 325 i (150 KW / 204 HP)

3 Coupe (E92) 325 i (155 KW / 211 HP)

3 Coupe (E92) 335 i (225 KW / 306 HP)

3 Coupe (E92) 320 d (120 KW / 163 HP)

3 Coupe (E92) 320 d (135 KW / 184 HP)

06.2000 - 07.2006

11.2003 - 07.2006

06.2002 - 07.2006

11.1999 - 09.2001

11.1999 - 09.2001

04.1999 - 09.2000

06.2000 - 07.2006

09.2000 - 07.2006

03.2005 - 07.2006

06.2000 - 07.2006

09.2006 - 12.2010

03.2007 - 12.2013

09.2006 - 02.2010

09.2007 - 12.2013

02.2007 - 02.2010

03.2007 - 06.2013

03.2010 - 06.2013

09.2006 - 02.2010

04.2006 - 02.2012

11.2005 - 06.2013

03.2010 - 06.2013

03.2010 - 06.2013

11.2005 - 06.2013

03.2007 - 06.2013

03.2010 - 06.2013

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKTR-0240102

SKTR-0240102

SKRA-0250020

SKTR-0240102

SKRA-0250020

SKRA-0250020

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Linge [mm]

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M14x1,5 /
M18x1,5
205

M14x1,5 /
M18x1,5
205

M18x1,5/
M12x1,5
405,2

M14x1,5/
M18x1,5
205

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5



3 Coupe (E92) 335 d (210 KW / 286 HP)

3 Coupe (E92) 320 i (110 KW / 150 HP)

3 Coupe (E92) 320 i (115 KW / 156 HP)

3 Coupe (E92) 325 i (160 KW / 218 HP)

3 Coupe (E92) 330 d (180 KW / 245 HP)

3 Coupe (E92) 325 d (155 KW / 211 HP)

3 Coupe (E92) M (309 KW / 420 HP)

3 Coupe (E92) 325 i (155 KW / 211 HP)

3 Coupe (E92) M GTS (331 KW / 450 HP)

3 Coupe (E92) 328 i (187 KW / 254 HP)

3 Coupe (E92) 318 i (105 KW / 143 HP)

3 Coupe (E92) 320 i (120 KW / 163 HP)

3 Coupe (E92) 330 i (190 KW / 258 HP)

3 Coupe (E92) 325 i (160 KW / 218 HP)

3 Coupe (E92) 330 i (200 KW / 272 HP)

3 Coupe (E92) 325 d (150 KW / 204 HP)

3 Coupe (E92) 330 d (170 KW / 231 HP)

3 Coupe (E92) 328 i (172 KW / 234 HP)

3 Coupe (E92) 323 i (130 KW / 177 HP)

3 Touring (E36) 320 i (110 KW / 150 HP)
3 Touring (E36) 328 i (142 KW / 193 HP)

3 Touring (E36) 318 tds (66 KW / 90 HP)

3 Touring (E36) 325 tds (105 KW / 143 HP)

3 Touring (E36) 316 i (75 KW / 102 HP)
3 Touring (E36) 323 i (125 KW / 170 HP)
3 Touring (E36) 318 i (85 KW / 116 HP)

3 Touring (E46) 318 d (85 KW / 116 HP)

3 Touring (E46) 320 i (110 KW / 150 HP)

03.2006 - 03.2013

11.2006 - 06.2007

06.2007 - 12.2013

03.2007 - 06.2013

01.2009 - 12.2013

02.2007 - 02.2010

03.2007 - 12.2013

03.2010 - 06.2013

03.2007 - 12.2013

08.2006 - 11.2007

03.2010 - 12.2013

01.2007 - 12.2013

09.2006 - 02.2010

11.2005 - 02.2010

09.2006 - 08.2012

09.2009 - 12.2013

03.2006 - 08.2008

06.2007 - 12.2013

04.2006 - 02.2012

01.1995 - 10.1999

01.1995 - 10.1999

01.1995 - 10.1999

01.1995 - 10.1999

01.1996 - 10.1999

09.1995 - 10.1999

07.1995 - 10.1999

03.2003 - 02.2005

10.1999 - 09.2000

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

Vorderachse

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004

SKRA-0250020

SKRA-0250020

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2



3 Touring (E46) 323 i (125 KW / 170 HP)

3 Touring (E46) 320 d (110 KW / 150 HP)

3 Touring (E46) 330 i (170 KW / 231 HP)

3 Touring (E46) 325 i (137 KW / 186 HP)

3 Touring (E46) 320 i (125 KW /170 HP)

3 Touring (E46) 325 i (141 KW / 192 HP)

3 Touring (E46) 325 xi (137 KW / 186 HP)

3 Touring (E46) 325 xi (141 KW / 192 HP)

3 Touring (E46) 316 i (85 KW / 115 HP)

3 Touring (E46) 318 d (85 KW / 115 HP)

3 Touring (E46) 330 d (135 KW / 184 HP)

3 Touring (E46) 318 i (87 KW / 118 HP)

3 Touring (E46) 328 i (142 KW / 193 HP)

3 Touring (E46) 320 d (100 KW / 136 HP)

3 Touring (E46) 320 i (120 KW / 163 HP)

3 Touring (E46) 316 i (85 KW / 115 HP)

3 Touring (E46) 330 xd (135 KW / 184 HP)

3 Touring (E46) 318 i (85 KW / 116 HP)

3 Touring (E46) 318 i (105 KW / 143 HP)

3 Touring (E46) 330 d (150 KW / 204 HP)

3 Touring (E46) 330 xd (150 KW / 204 HP)

3 Touring (E46) 330 xi (170 KW / 231 HP)

3 Touring (E91) 328 xi (171 KW / 234 HP)

3 Touring (E91) 328 i xDrive (171 KW / 234 HP)

3 Touring (E91) 330 d (170 KW / 231 HP)

10.1999 - 12.2000

09.2001 - 02.2005

06.2000 - 02.2005

09.2000 - 02.2005

09.2000 - 02.2005

09.2000 - 02.2005

09.2000 - 02.2005

09.2000 - 02.2005

03.2002 - 02.2005

10.2002 - 03.2003

10.1999 - 02.2005

10.1999 - 09.2001

10.1999 - 06.2000

03.2000 - 09.2001

09.2000 - 02.2005

06.2002 - 02.2005

01.2000 - 03.2003

10.1999 - 09.2001

09.2001 - 02.2005

03.2003 - 02.2005

08.2002 - 05.2005

06.2000 - 02.2005

09.2006 - 12.2008

09.2008 - 12.2010

12.2004 - 08.2008

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKTR-0240102

SKTR-0240102

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKTR-0240102

SKRA-0250020

SKTR-0240102

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKTR-0240102

SKTR-0240102

SKTR-0240078

SKTR-0240078

SKTR-0240078

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}

Lange [mm]

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M14x1,5/
M18x1,5
205

M14x1,5 /
M18x1,5
205

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M14x1,5 /
M18x1,5
205

M18x1,5/
M12x1,5
405,2

M14x1,5/
M18x1,5
205

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M14x1,5/
M18x1,5
205

M14x1,5/
M18x1,5
205

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5



3 Touring (E91) 325 d (145 KW / 197 HP)

3 Touring (E91) 318 i (100 KW / 136 HP)

3 Touring (E91) 320 d ed (120 KW / 163 HP)

3 Touring (E91) 320 d (147 KW / 200 HP)

3 Touring (E91) 320 d (145 KW / 197 HP)

3 Touring (E91) 320 d xDrive (147 KW / 200 HP)

3 Touring (E91) 320 d xDrive (145 KW / 197 HP)

3 Touring (E91) 320 i (120 KW / 163 HP)

3 Touring (E91) 335 xi (240 KW / 326 HP)

3 Touring (E91) 320 i (110 KW / 150 HP)

3 Touring (E91) 325 i (160 KW / 218 HP)

3 Touring (E91) 330 i (190 KW / 258 HP)

3 Touring (E91) 320 d (120 KW / 163 HP)

3 Touring (E91) 320 i (115 KW / 156 HP)

3 Touring (E91) 325 i (155 KW / 211 HP)

3 Touring (E91) 318 d (90 KW / 122 HP)

3 Touring (E91) 318 i (95 KW / 129 HP)

3 Touring (E91) 330 d (155 KW / 211 HP)

3 Touring (E91) 320 d (135 KW / 184 HP)

3 Touring (E91) 323 i (130 KW / 177 HP)

3 Touring (E91) 335 i (225 KW / 306 HP)

3 Touring (E91) 335 d (210 KW / 286 HP)

3 Touring (E91) 318 i (105 KW / 143 HP)

3 Touring (E91) 318 d (105 KW / 143 HP)

3 Touring (E91) 320 i (125 KW / 170 HP)

09.2006 - 06.2012

09.2007 - 03.2012

10.2010 - 05.2012

03.2010 - 05.2012

02.2007 - 02.2010

03.2010 - 05.2012

02.2008 - 02.2010

02.2007 - 05.2012

09.2006 - 08.2008

09.2005 - 06.2012

12.2004 - 12.2010

08.2005 - 08.2007

12.2004 - 06.2012

09.2005 - 06.2012

12.2004 - 12.2010

09.2005 - 08.2007

01.2006 - 08.2007

12.2004 - 05.2012

03.2010 - 05.2012

04.2006 - 06.2007

03.2006 - 05.2012

09.2006 - 06.2012

05.2007 - 05.2012

09.2007 - 06.2012

02.2007 - 05.2012

Vorderachse
beidseitig

Vorderachse

beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5



3 Touring (E91) 330 i (200 KW / 272 HP)

3 Touring (E91) 325 i (160 KW / 218 HP)

3 Touring (E91) 316 d (85 KW / 116 HP)

3 Touring (E91) 320 d (130 KW / 177 HP)

3 Touring (E91) 318 d (100 KW / 136 HP)

3 Touring (E91) 330 d (180 KW / 245 HP)

3 Touring (E91) 335 i (240 KW / 326 HP)

3 Touring (E91) 335 i xDrive (240 KW / 326 HP)

3 Touring (E91) 316 i (90 KW / 122 HP)
3 Touring (E91) 325 d (150 KW / 204 HP)
3 Touring (E91) 325 i (155 KW / 211 HP)
3 Touring (E91) 328 i (171 KW / 234 HP)

3 Touring (E91) 320 d (110 KW / 150 HP)

BMW 5ER-REIHE

MODEL
5 (E28) 535 i (210 KW / 286 HP)
5 (E28) 520 i (110 KW / 150 HP)
5 (E28) 518 i (75 KW / 102 HP)
5 (E28) M 3.5 (211 KW / 286 HP)
5 (E28) 518 (66 KW / 90 HP)

5 (E28) 518 i (77 KW / 105 HP)
5 (E28) 520 i (92 KW / 125 HP)
5 (E28) 520 i (95 KW / 129 HP)
5 (E28) 524 d (63 KW / 86 HP)

5 (E28) 524 td (85 KW / 115 HP)
5 (E28) 525 i (110 KW / 150 HP)
5 (E28) 525 e (90 KW / 122 HP)
5 (E28) 525 e (92 KW / 125 HP)

5 (E28) 525 e (95 KW / 129 HP)

09.2007 - 06.2012

09.2007 - 06.2012

09.2009 - 06.2012

02.2007 - 02.2010

07.2007 - 06.2012

02.2008 - 05.2012

03.2006 - 05.2012

05.2008 - 05.2012

05.2008 - 05.2012

02.2010 - 06.2012

09.2007 - 06.2012

03.2007 - 06.2012

12.2004 - 08.2007

YEAR

01.1985 - 12.1987

12.1986 - 12.1987

05.1981 - 12,1987

08.1985 - 12.1987

06.1981 - 08.1984

05.1981 - 12.1987

06.1981 - 12,1987

08.1985 - 12.1987

03.1986 - 12.1987

09.1983 - 12,1987

06.1981 - 12.1987

09.1981 - 12,1987

05.1983 - 12.1987

12.1984 - 12.1987

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION
innen
innen
innen
innen
innen
innen
innen
innen
innen
innen
innen
innen
innen

innen

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

ITEMNUMBER

SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005

Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf

Linge [mm]

ITEM DETAILS

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

M18X1.5/
M14X1.5
262,5
M18X1.5/

M14X1.5
262,5

M18X1.5/
M14X1.5
262,5
M18X1.5/
M14X1.5
262,5
M18X1.5/
M14X1.5
262,5
M18X1.5/
M14X1.5
262,5
M18X1.5/
M14X1.5
262,5
M18X1.5/
M14X1.5
262,5
M18X1.5/
M14X1.5
262,5
M18X1.5/
M14X1.5
262,5
M18X1.5/
M14X1.5
262,5
M18X1.5/
M14X1.5
262,5
M18X1.5/

M14X1.5
262,5

303

303

303

303

303

303

303

303

303

303

303

303

303

303



5 (E28) 528 i (135 KW / 184 HP)
5 (E28) 535 i, M 535 i (136 KW / 185 HP)
5 (E28) 535 i, M 535 i (141 KW / 192 HP)
5 (E28) 535 i, M 535 i (160 KW / 218 HP)
5 (E34) 518 i (85 KW / 115 HP)

5 (E34) 518 i (83 KW / 113 HP)

5 (E34) M 3.5 (210 KW / 286 HP)

5 (E34) 525 td (85 KW / 115 HP)

5 (E34) 520 i (95 KW / 129 HP)

5 (E34) 520 i 24V (110 KW / 150 HP)

5 (E34) 524 td (85 KW / 115 HP)

5 (E34) 525 i (125 KW / 170 HP)

5 (E34) 525 i 24V (141 KW / 192 HP)

5 (E34) 525 iX 24V (141 KW / 192 HP)

5 (E34) 525 tds (105 KW / 143 HP)

5 (E34) 530 i (138 KW / 188 HP)

5 (E34) 530 i V8 (160 KW / 218 HP)

5 (E34) 535 i (155 KW / 211 HP)

5 (E34) M 3.6 (232 KW / 315 HP)

5 (E34) M 3.6 KAT (232 KW / 315 HP)

5 (E34) M 3.8 (250 KW / 340 HP)

5 (E34) 540 i V8 (210 KW / 286 HP)

5 (E39) 520 d (100 KW / 136 HP)

5 (E39) 525 i (137 KW / 186 HP)

5 (E39) 530 i (168 KW / 228 HP)

5 (E39) 530 d (135 KW / 184 HP)

5 (E39) 525 td (85 KW / 116 HP)

5 (E39) 525 d (120 KW / 163 HP)

5 (E39) 520 i (100 KW / 136 HP)

5 (E39) 520 i (125 KW / 170 HP)

5 (E39) 530 d (142 KW / 193 HP)

5 (E39) 525 i (141 KW / 192 HP)

5 (E39) 530 i (170 KW / 231 HP)

5 (E39) 535 i (173 KW / 235 HP)

5 (E39) 520 i (110 KW / 150 HP)

5 (E39) 525 tds (105 KW / 143 HP)

5 (E39) 523 i (125 KW / 170 HP)

5 (E39) 528 i (142 KW / 193 HP)

5 Touring (E34) M 3.8 (250 KW / 340 HP)

5 Touring (E34) 525 td (85 KW / 115 HP)

06.1981 - 12,1987

01.1985 - 12.1987

01.1985 - 12,1987

01.1985 - 12.1987

08.1989 - 09.1995

08.1989 - 09.1995

12.1987 - 12.1988

04.1993 - 09.1995

01.1988 - 08.1991

09.1989 - 09.1995

03.1988 - 09.1995

01.1988 - 08.1991

09.1989 - 09.1995

10.1991 - 09.1995

09.1991 - 09.1995

01.1988 - 08.1991

09.1992 - 09.1995

01.1988 - 09.1995

10.1988 - 05.1992

10.1988 - 05.1992

03.1992 - 09.1995

09.1992 - 09.1995

02.2000 - 06.2003

09.2000 - 12.2002

09.2000 - 06.2003

08.1998 - 09.2000

01.1997 - 06.2003

02.2000 - 06.2003

04.1999 - 06.2003

09.2000 - 06.2003

09.1998 - 06.2003

09.2000 - 06.2003

09.2000 - 06.2003

04.1996 - 03.1999

01.1996 - 06.2003

01.1996 - 06.2003

11.1995 - 09.2000

11.1995 - 09.2000

09.1994 - 01.1997

03.1993 - 01.1997

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

innen

innen

SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250005

SKRA-0250005

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303



5 Touring (E34) 518 i (83 KW / 113 HP)
5 Touring (E34) 540 i (210 KW / 286 HP)
5 Touring (E34) 518 g (85 KW / 115 HP)

5 Touring (E34) 518 i (85 KW / 115 HP)

5 Touring (E34) 520 i (110 KW / 150 HP)
5 Touring (E34) 525 i (141 KW / 192 HP)
5 Touring (E34) 525 ix (141 KW / 192 HP)

5 Touring (E34) 525 tds (105 KW / 143 HP)

5 Touring (E34) 530 iV8 (160 KW / 218 HP)

5 Touring (E39) 520 d (100 KW / 136 HP)
5 Touring (E39) 530 d (135 KW / 184 HP)
5 Touring (E39) 520 i (110 KW / 150 HP)
5 Touring (E39) 523 i (125 KW /170 HP)
5 Touring (E39) 525 tds (105 KW / 143 HP)
5 Touring (E39) 525 d (120 KW / 163 HP)
5 Touring (E39) 525 i (137 KW / 186 HP)
5 Touring (E39) 520 i (100 KW / 136 HP)
5 Touring (E39) 523 i (120 KW / 163 HP)
5 Touring (E39) 528 i (142 KW / 193 HP)
5 Touring (E39) 530 d (142 KW / 193 HP)
5 Touring (E39) 520 i (125 KW / 170 HP)
5 Touring (E39) 525 i (141 KW / 192 HP)

5 Touring (E39) 530 i (170 KW / 231 HP)

BMW 6ER-REIHE

MODEL
6 (E24) 628 CSi (135 KW / 184 HP)
6 (E24) 630 CS (136 KW / 185 HP)
6 (E24) 633 CSi (147 KW / 200 HP)
6 (E24) 635 CSi (160 KW / 218 HP)
6 (E24) M 635 CSi (211 KW / 286 HP)
6 (E24) 635 CSi (155 KW / 211 HP)
6 (E24) 633 CSi (145 KW / 197 HP)
6 (E24) 635 CSi (141 KW / 192 HP)
6 (E24) M 635 CSi (191 KW / 260 HP)
6 (E24) 635 CSi (160 KW / 218 HP)
6 (E24) 630 CS (135 KW / 184 HP)

6 (E24) 635 CSi (136 KW / 185 HP)

03.1993 - 09.1994

09.1993 - 01.1997

11.1995 - 06.1996

09.1994 - 01.1997

11.1991 - 01.1997

11.1991 - 01.1997

02.1992 - 01.1997

12.1991 - 01.1997

09.1992 - 01.1997

02.2000 - 09.2003

08.1998 - 09.2000

01.1997 - 09.2000

09.1996 - 08.2000

03.1997 - 05.2004

02.2000 - 05.2004

09.2000 - 12.2003

04.1999 - 05.2004

09.1998 - 08.2000

01.1997 - 09.2000

09.2000 - 05.2004

09.2000 - 05.2004

09.2000 - 05.2004

09.2000 - 05.2004

YEAR

09.1979 - 08.1987

04.1976 - 08.1979

10.1975 - 12.1981

06.1978 - 08.1988

04.1984 - 12.1988

08.1987 - 04.1989

09.1978 - 08.1984

12,1977 - 04.1989

04.1986 - 02.1989

11.1981 - 04.1989

04.1976 - 08.1979

12,1977 - 04.1989

innen

innen

innen

innen

innen

innen

innen

innen

innen

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009
SKRA-0250009

SKRA-0250009

ITEMNUMBER

SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005
SKRA-0250005

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

ITEM DETAILS

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303

303



BMW 7ER-REIHE

MODEL
7 (E32) 730 i,iL (145 KW / 197 HP)
7 (E32) 730 i,iL (138 KW / 188 HP)
7 (E32) 730 i,iL V8 (160 KW / 218 HP)
7 (E32) 735 i,iL (155 KW / 211 HP)
7 (E32) 735 i,iL (162 KW / 220 HP)
7 (E32) 740 i,iL V8 (210 KW / 286 HP)

7 (E32) 750 i,iL V12 (220 KW / 300 HP)

BMW 8 (E31)

MODEL
8 (E31) 850 CSi (280 KW / 380 HP)
8 (E31) 850 CSi (278 KW / 378 HP)
8 (E31) 840 i (210 KW / 286 HP)

8 (E31) 850 i,Ci (220 KW / 300 HP)
8 (E31) 850 Ci (240 KW / 326 HP)

8 (E31) 840 Ci (210 KW / 286 HP)

BMW X1

MODEL

X1 (E84) sDrive 28 i (179 KW / 243 HP)

X1 (E84) sDrive 28 i (179 KW / 243 HP)

X1 (E84) sDrive 20 i Flex (135 KW / 184 HP)

X1 (E84) sDrive 20 d (135 KW / 184 HP)

X1 (E84) sDrive 18 i (100 KW / 136 HP)

X1 (E84) sDrive 18 d (105 KW / 143 HP)

X1 (E84) sDrive 20 d (130 KW / 177 HP)

X1 (E84) sDrive 20 d (120 KW / 163 HP)

YEAR

12.1986 - 09.1994

12.1986 - 09.1994

04.1992 - 09.1994

09.1986 - 09.1992

09.1986 - 12.1987

04.1992 - 09.1994

09.1987 - 09.1994

YEAR

04.1993 - 12.1996

04.1993 - 12,1995

02.1993 - 02.1996

04.1990 - 10.1994

09.1994 - 12.1999

01.1996 - 12.1999

YEAR

09.2011 - 06.2015

09.2012 - 06.2015

08.2014 - 06.2015

07.2012 - 06.2015

03.2009 - 06.2015

10.2009 - 06.2015

10.2009 - 06.2015

03.2010 - 06.2015

FITTING POSITION
innen
innen
innen
innen
innen
innen

innen

FITTING POSITION
innen
innen
innen
innen
innen

innen

FITTING POSITION

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

ITEMNUMBER

SKRA-0250005

SKRA-0250005

SKRA-0250005

SKRA-0250005

SKRA-0250005

SKRA-0250005
SKRA-0250005

ITEM NUMBER

SKRA-0250005

SKRA-0250005

SKRA-0250005

SKRA-0250005

SKRA-0250005

SKRA-0250005

ITEMNUMBER

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

ITEM DETAILS

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

ITEM DETAILS

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}

Lange [mm]

303

303

303

303

303

303

303

303

303

303

303

303

303

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5



X1 (E84) sDrive 18 d (100 KW / 136 HP)

X1 (E84) sDrive 20 i (135 KW / 184 HP)
X1 (E84) sDrive 18 i (110 KW / 150 HP)

X1 (E84) sDrive 16 d (85 KW / 116 HP)

BMW Z3

MODEL
Z3 (E36) 2.5 (125 KW / 170 HP)

Z3 (E36) 3.0 (168 KW / 228 HP)

Z3 (E36) 2.0 (110 KW / 150 HP)

Z3 (E36) 2.2 (125 KW / 170 HP)

Z3 (E36) 2.8 (141 KW / 192 HP)

Z3 (E36) M 3.2 (236 KW / 321 HP)

Z3 (E36) 3.0 (170 KW / 231 HP)

Z3 (E36) 1.9 (85 KW / 116 HP)

Z3 (E36) 2.8 (143 KW / 194 HP)

Z3 (E36) M 3.2 (239 KW / 325 HP)

Z3 (E36) 3.2 (179 KW / 243 HP)

Z3 (E36) 2.5 (137 KW / 186 HP)

Z3 (E36) 3.2 (235 KW / 320 HP)

Z3 (E36) 1.9 (87 KW / 118 HP)

Z3 (E36) 1.9 (103 KW / 140 HP)

Z3 (E36) 1.8 (85 KW / 116 HP)

Z3 Coupe (E36) M (236 KW / 321 HP)
Z3 Coupe (E36) 3.0 (170 KW / 231 HP)
Z3 Coupe (E36) 2.8 (141 KW / 192 HP)
Z3 Coupe (E36) M (239 KW / 325 HP)
Z3 Coupe (E36) 3.2 (179 KW / 243 HP)

Z3 Coupe (E36) 3.2 (235 KW / 320 HP)

BMW Z4

MODEL

74 (E85) 3.0 i (168 KW / 228 HP)

03.2009 - 06.2015

09.2011 - 06.2015

01.2010 - 06.2015

04.2012 - 06.2015

YEAR

09.1998 - 09.2000

06.2000 - 12.2002

04.1999 - 01.2003

08.2000 - 01.2003

04.1997 - 06.2000

03.1997 - 06.2001

06.2000 - 01.2003

01.1999 - 01.2003

01.1996 - 07.2000

06.2001 - 01.2003

09.1997 - 12.2000

10.2000 - 08.2002

09.2000 - 12.2002

07.1998 - 01.2003

10.1995 - 03.1999

10.1995 - 10.1998

02.1998 - 06.2001

06.2000 - 06.2003

07.1997 - 06.2000

06.2001 - 06.2003

09.1998 - 12.2000

09.2000 - 12.2002

YEAR

02.2003 - 12.2005

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

FITTING POSITION

Vorderachse

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

ITEM NUMBER

SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004
SKRA-0250004

ITEMNUMBER

SKRA-0250020

Gewindemaf}

Linge [mm]

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

ITEM DETAILS

Gewindemaf}

Lange [mm]

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18x1,5/
M12x1,5
405,2



Z4 (E85) 2.5 i (130 KW / 177 HP)

Z4 (E85) 2.5 si (160 KW / 218 HP)

Z4 (E85) 3.0 si (195 KW / 265 HP)

4 (E85) 3.2 (235 KW / 320 HP)

Z4 (E85) 2.5 si (155 KW / 211 HP)

Z4 (E85) 2.0 i (110 KW / 150 HP)

74 (E85) 2.2 i (125 KW / 170 HP)

74 (E85) 3.0 i (170 KW / 231 HP)

24 (E85) 2.5 i (141 KW / 192 HP)

Z4 (E85) M (252 KW / 343 HP)

Z4 (E85) 2.5 i (137 KW / 186 HP)

24 (E85) 3.0 si (160 KW / 218 HP)

Z4 (E85) 3.0 si (172 KW / 230 HP)

24 (E89) sDrive 23 i (150 KW / 204 HP)

Z4 (E89) sDrive 30 i (190 KW / 258 HP)

24 (E89) sDrive 35 i (225 KW / 306 HP)

24 (E89) sDrive 20 i (135 KW / 184 HP)

Z4 (E89) sDrive 28 i (180 KW / 245 HP)

24 (E89) sDrive 18 i (115 KW / 156 HP)

Z4 (E89) sDrive 25 i (160 KW / 218 HP)

Z4 (E89) sDrive 30 i (171 KW / 233 HP)

Z4 (E89) sDrive 35 is (264 KW / 359 HP)

Z4 (E89) sDrive 35 is (250 KW / 340 HP)

Z4 (E89) sDrive 30 i (194 KW / 264 HP)

Z4 Coupe (E86) M (235 KW / 320 HP)

Z4 Coupe (E86) 3.0 si (195 KW / 265 HP)

09.2005 - 02.2009

09.2005 - 02.2009

01.2006 - 12.2008

09.2005 - 12.2007

09.2005 - 02.2009

03.2005 - 02.2009

10.2003 - 10.2005

02.2003 - 10.2005

02.2003 - 12.2005

03.2006 - 02.2009

02.2003 - 12.2005

09.2005 - 12.2008

09.2008 - 12.2009

05.2009 -

05.2009 -

05.2009 -

09.2011 -

09.2011 -

04.2013 -

09.2009 -

09.2009 -

09.2009 -

09.2010 -

05.2009 - 11.2012

03.2006 - 12.2008

03.2006 - 01.2009

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse
beidseitig

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

Vorderachse

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKTR-0240102

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKRA-0250060

SKRA-0250020

SKRA-0250020

SKRA-0250020

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240078

SKTR-0240102

SKRA-0250020

Gewindemaf
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M14x1,5/
M18x1,5
205

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18x1,5 /
M12x1,5
405,2

M18x1,5/
M12x1,5
405,2

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M18X1.5/
M14X1.5
262,5

M14x1,5/
M18x1,5
205

M18x1,5/
M12x1,5
405,2



24 Coupe (E86) M (252 KW / 343 HP)

Z4 Coupe (E86) 3.0 si (160 KW / 218 HP)

03.2006 - 01.2009

03.2006 - 01.2009

Vorderachse

Vorderachse

SKTR-0240102

SKRA-0250020

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

M14x1,5 /
M18x1,5
205

M18x1,5/
M12x1,5
405,2



A CITROEN

CITROEN

CITROEN BX

MODEL

BX (XB-_) 14 (47 KW / 64 HP)

BX (XB-_) 19 GTi 16V (116 KW / 158 HP)

BX (XB-_) 1.6 (85 KW / 116 HP)

BX (XB-_) 1.9 GTi (117 KW / 159 HP)

BX (XB-_) 1.9 RD 4x4 (52 KW / 71 HP)

BX (XB-_) 1.8 D (44 KW / 60 HP)

BX (XB-_) 11 (42 KW / 57 HP)

BX (XB-_) 16 (58 KW / 79 HP)

BX (XB- ) 14 E (45 KW / 61 HP)

BX (XB-_) 14 E (49 KW / 67 HP)

BX (XB-) 14 E (52 KW / 71 HP)

BX (XB-_) 14 E (53 KW /72 HP)

BX (XB-_) 16 (53 KW / 72 HP)

BX (XB- ) 16 (64 KW / 87 HP)

BX (XB-_) 16 (66 KW / 90 HP)

BX (XB-_) 16 (68 KW / 92 HP)

BX (XB-_) 16 (76 KW / 103 HP)

BX (XB-_) 19 (70 KW / 95 HP)

BX (XB- ) 19 (75 KW / 102 HP)

BX (XB-_) 19 E (80 KW /109 HP)

YEAR

01.1989 - 12.1989

09.1987 - 12.1988

01.1987 - 01.1992

01.1990 - 01.1992

01.1987 - 01.1992

10.1985 - 09.1993

10.1986 - 06.1992

09.1987 - 02.1993

10.1982 - 06.1988

09.1985 - 02.1993

04.1983 - 07.1989

04.1983 - 02.1993

01.1987 - 02.1993

07.1985 - 02.1993

10.1982 - 06.1988

10.1982 - 12.1992

03.1986 - 02.1993

09.1986 - 11.1989

07.1986 - 05.1989

06.1988 - 02.1993

FITTING POSITION

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

ITEM NUMBER

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1



BX (XB- ) 19 GTi (88 KW / 120 HP)

BX (XB-_) 19 GTi (90 KW / 122 HP)

BX (XB-_) 1.9 Allrad (92 KW / 125 HP)

BX (XB-_) 19 GTi 16V (108 KW / 147 HP)

BX (XB-_) TRD Turbo (66 KW / 90 HP)

BX (XB-_) 19 D (47 KW / 64 HP)

BX (XB-) 19 D (51 KW / 69 HP)

BX (XB-_) 14 (55 KW / 75 HP)

BX (XB-_) 16 E (65 KW / 88 HP)

BX (XB-_) 19 E 4x4 (80 KW / 109 HP)

BX (XB-_) 19 GTi 4x4 (88 KW / 120 HP)

BX (XB- ) 16 (55 KW / 75 HP)

BX (XB-_) 11 (40 KW / 55 HP)

BX (XB-_) 15 (59 KW / 80 HP)

BX (XB-_) 19 (77 KW / 105 HP)

BX (XB-_) 14 E (59 KW / 80 HP)

BX Break (XB-_) 1.9 TZi (92 KW / 125 HP)

BX Break (XB-_) 1.9 GTi 4x4 (92 KW / 125 HP)

BX Break (XB-_) 1.9 DT TXD (66 KW / 90 HP)

BX Break (XB-_) 19 (70 KW / 95 HP)

BX Break (XB- ) 1.4 (44 KW / 60 HP)

BX Break (XB-_) 14 (47 KW / 64 HP)

BX Break (XB-_) 1.9 D (52 KW / 71 HP)

BX Break (XB-_) 16 (66 KW / 90 HP)

BX Break (XB-_) 1.4 (52 KW / 71 HP)

06.1988 - 02.1993

07.1986 - 02.1993

02.1992 - 06.1994

03.1988 - 02.1993

03.1988 - 02.1993

09.1983 - 09.1993

03.1987 - 02.1993

01.1989 - 02.1993

05.1989 - 02.1993

04.1989 - 02.1993

06.1988 - 02.1993

09.1988 - 02.1993

10.1988 - 06.1992

10.1987 - 05.1992

07.1986 - 05.1989

10.1985 - 05.1989

02.1992 - 12.1994

02.1992 - 06.1994

02.1992 - 12.1994

12,1987 - 12.1989

01.1987 - 01.1992

01.1989 - 12.1989

01.1987 - 01.1992

06.1985 - 06.1988

01.1987 - 01.1992

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

SKTR-0240124

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1

120
M12X1



BX Break (XB-_) 1.6 (85 KW / 116 HP) 01.1987 - 011992  links SKTR-0240124 Linge [mm] 120

Auf3engewinde M12X1
[mm]

BX Break (XB-_) 16 (68 KW / 92 HP) 04.1983 - 01.1992 links SKTR-0240124 Léinge [mm] 120
AuBengewinde M12X1
[mm]

BX Break (XB-_) 14 (53 KW / 72 HP) 01.1986 - 02.1993 links SKTR-0240124 Léinge [mm] 120
Auf3engewinde M12X1
[mm]

BX Break (XB-_) 19 KAT (75 KW / 102 HP) 07.1986 - 12.1994 links SKTR-0240124 Léinge [mm] 120
Aufdengewinde M12X1
[mm]

BX Break (XB-_) 16 (55 KW / 75 HP) 09.1988 - 12.1994 links SKTR-0240124 Léinge [mm] 120
Aufdengewinde M12X1
[mm]

BX Break (XB-_) 14 (55 KW / 75 HP) 01.1989 - 02.1993 links SKTR-0240124 Léinge [mm] 120
Auf3engewinde M12X1
[mm]

BX Break (XB-_) 16 (53 KW / 72 HP) 09.1988 - 12.1994 links SKTR-0240124 Léinge [mm] 120
Aulengewinde M12X1
[mm]

BX Break (XB-_) 16 (64 KW / 87 HP) 07.1985 - 12.1994 links SKTR-0240124 Léinge [mm] 120
Auf3engewinde M12X1
[mm]

BX Break (XB- ) 16 (76 KW / 103 HP) 03.1986 - 12.1994 links SKTR-0240124 Léinge [mm] 120
Aufdengewinde M12X1
[mm]

BX Break (XB-_) 19 (75 KW / 102 HP) 07.1986 - 12.1994 links SKTR-0240124 Léinge [mm] 120
Aufdengewinde M12X1
[mm]

BX Break (XB- ) 19 (88 KW / 120 HP) 06.1988 - 12.1994 links SKTR-0240124 Léinge [mm] 120
Auf3engewinde M12X1
[mm]

BX Break (XB-_) TRD Turbo (66 KW / 90 HP) 03.1988 - 12.1994 links SKTR-0240124 Léinge [mm] 120
Aulengewinde M12X1
[mm]

BX Break (XB-_) 19 D (47 KW / 64 HP) 09.1983 - 11.1994 links SKTR-0240124 Léinge [mm] 120
Auf3engewinde M12X1
[mm]

BX Break (XB-_) 19 D (51 KW / 69 HP) 03.1987 - 12.1994 links SKTR-0240124 Léinge [mm] 120
Aufdengewinde M12X1
[mm]

BX Break (XB-_) 16 (65 KW / 88 HP) 05.1989 - 12.1994 links SKTR-0240124 Léinge [mm] 120
Aufdengewinde M12X1
[mm]

BX Break (XB-_) 19 (80 KW / 109 HP) 06.1988 - 12.1994 links SKTR-0240124 Léinge [mm] 120
Auf3engewinde M12X1
[mm]

BX Break (XB-_) 19 4x4 (78 KW / 107 HP) 06.1989 - 05.1991 links SKTR-0240124 Léinge [mm] 120
AuBengewinde M12X1
[mm]

BX Break (XB-_) 15 (59 KW / 80 HP) 10.1987 - 05.1992 links SKTR-0240124 Léinge [mm] 120
Auf3engewinde M12X1
[mm]

BX Break (XB-_) 18 D (44 KW / 60 HP) 10.1985 - 09.1993 links SKTR-0240124 Léinge [mm] 120
Aufdengewinde M12X1
[mm]

BX Break (XB-_) 19 4x4 (80 KW / 109 HP) 10.1990 - 05.1991 links SKTR-0240124 Léinge [mm] 120
Aufdengewinde M12X1
[mm]

MODEL YEAR FITTING POSITION ITEMNUMBER ITEM DETAILS

€2 (IM_) 1.6 HDi (80 KW / 109 HP) 09.2005 - rechts SKTR-0240092 Léinge [mm] 253
Auf3engewinde M14x1,5/
[mm] M12x1

C2 (M) 1.1 (44 KW / 60 HP) 09.2003 - rechts SKTR-0240092 Léinge [mm] 253
Aulengewinde M14x1,5/
[mm] M12x1




C2 (M) 1.4 (54 KW / 73 HP)

C2 (M) 1.6 (80 KW / 109 HP)
C2 (M) 1.4 HDi (50 KW / 68 HP)
C2 (M) 1.6 VTS (90 KW / 122 HP)
C2 (M) 1.4 16V (65 KW / 90 HP)
C2 (M) 1.4 (55 KW / 75 HP)

C2 ENTERPRISE 1.4 HDi (50 KW / 68 HP)

CITROEN (3

MODEL

C3 1(FC) 1.6 16V (81 KW / 110 HP)
C3 I (FC)) 1.4 HDi (55 KW / 75 HP)

C3 I (FC) 1.6 Bioflex (83 KW / 113 HP)
C3 1 (FC)) 1.4 Bioflex (60 KW / 82 HP)
C3 1 (FC)) 1.6 16V HDi (80 KW / 109 HP)
C3 1 (FC)) 1.6 16V HDi (66 KW / 90 HP)
C31(FC) 1.4 i (54 KW / 73 HP)

C3 I (FC)) 1.4 HDi (52 KW / 70 HP)

C3 1(FC) 1.1 i (44 KW / 60 HP)

C3 I (FC)) 1.4 HDi (50 KW / 68 HP)

C3 1 (FC) 1.4 i Bivalent (54 KW / 73 HP)
C3 1(FC) 1.6 16V (80 KW / 109 HP)

C3 1 (FC)) 1.4 16V HDi (66 KW / 90 HP)
C3 1(FC) 1.4 (58 KW / 79 HP)

C31(FC) 1.4 16V (65 KW / 88 HP)

09.2003 -

09.2003 -

09.2003 -

01.2005 -

06.2006 -

10.2006 -

04.2009 -

YEAR

05.2003 - 09.2005

05.2005 -

06.2005 -

01.2009 -

09.2005 -

10.2005 -

02.2002 -

07.2003 -

02.2002 -

02.2002 -

02.2002 -

02.2002 -

02.2002 -

12.2005 - 07.2012

12.20053 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

ITEM NUMBER

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1



C3 1(FC) 1.4 Flex (59 KW / 80 HP)

C3 Pluriel (HB_) 1.4 Hybrid (54 KW / 73 HP)
C3 Pluriel (HB_) 1.4 (55 KW / 75 HP)

C3 Pluriel (HB_) 1.6 (80 KW / 109 HP)

C3 Pluriel (HB_) 1.4 (54 KW / 73 HP)

C3 Pluriel (HB_) 1.4 HDi (50 KW / 68 HP)

CITROEN C4

MODEL

C4 Coupe (LA_) 2.0 VTR (103 KW / 140 HP)
C4 Coupe (LA) 1.4 16V (65 KW / 88 HP)
C4 Coupe (LA) 1.6 16V (80 KW / 109 HP)
C4 Coupe (LA_) 2.0 16V (100 KW / 136 HP)
C4 Coupe (LA_) 2.0 16V (130 KW / 177 HP)
C4 Coupe (LA_) 1.6 HDi (66 KW / 90 HP)

C4 Coupe (LA_) 1.6 HDi (80 KW / 109 HP)
C4 Coupe (LA_) 2.0 HDi (100 KW / 136 HP)

C4 Coupe (LA_) 1.6 VTi 120 (88 KW / 120 HP)

C4 Coupe (LA ) 1.6 THP 150 (110 KW / 150 HP)

C4 Coupe (LA) 2.0 HDi (103 KW / 140 HP)

C41(LC) 2.0 HDi (81 KW / 110 HP)

C41(LC) 2.0 16V (130 KW / 177 HP)

C41(LC) 1.4 16V (65 KW / 88 HP)

C41(LC) 1.6 16V (80 KW /109 HP)

C41(LC) 2.0 16V (100 KW / 136 HP)

12.2005 - 07.2012

05.2005 -

07.2003 -

05.2003 -

05.2003 -

04.2004 -

YEAR

10.2006 - 12.2007

11.2004 - 07.2011

11.2004 - 07.2011

11.2004 - 07.2007

11.2004 - 12.2010

11.2004 - 07.2011

11.2004 - 07.2011

11.2004 - 12.2010

07.2008 - 07.2011

07.2008 - 07.2011

07.2008 - 07.2011

04.2007 - 07.2008

11.2004 - 07.2008

11.2004 - 07.2011

11.2004 - 07.2011

11.2004 - 07.2007

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION
Vorderachse
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

ITEMNUMBER

SKTR-0240025

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

ITEM DETAILS

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

359
M14x1,5/
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14 x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14 x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14 x1,5

340
M14 x1,5

340
M14x1,5



C4 1(LC) 2.0 16V (103 KW / 140 HP)

C4 1(LC) 1.6 HDi (66 KW / 90 HP)

C41(LC) 1.6 HDi (80 KW / 109 HP)

C4 1(LC) 2.0 HDi (100 KW / 136 HP)

C41(LC) 1.6 VTi 120 (88 KW / 120 HP)

C41(LC) 1.6 THP 150 (110 KW / 150 HP)

C41(LC) 1.6 THP 140 (103 KW / 140 HP)

C4 1(LC) 2.0 HDi (103 KW / 140 HP)

C41(LC) 1.6 Flex (81 KW /110 HP)

C4 1(LC) 1.6 HDi (85 KW / 116 HP)

C4 1(LC) 1.6 16V Bio-Flex (80 KW / 109 HP)

C4 11 (B7) 2.0 Flex (109 KW / 148 HP)

C4 Stufenheck L 1.6 16V (80 KW / 109 HP)
C4 Stufenheck L 2.0 16V (103 KW / 140 HP)
C4 Stufenheck L 1.6 HDi (80 KW / 109 HP)
C4 Stufenheck L 1.6 HDi (85 KW / 116 HP)
C4 Stufenheck L 2.0 HDi (103 KW / 140 HP)

C4 Stufenheck L 2.0 HDi (81 KW / 110 HP)

CITROEN C5

MODEL

€5 1(DC_) 2.0 HDi (DCRHYB) (66 KW / 90 HP)

€5 1(DC_) 2.0 16V (DCRFNC, DCRFNF) (100 KW / 136 HP)

C5 1(DC) 2.0 16V HPi (DCRLZB) (103 KW / 140 HP)

C51(DC) 1.8 16V (DC6FZB, DC6FZE) (85 KW / 115 HP)

11.2004 - 07.2011

11.2004 - 07.2011

11.2004 - 07.2011

11.2004 - 07.2011

07.2008 - 07.2011

07.2008 - 07.2011

07.2008 - 07.2011

07.2008 - 07.2011

02.2009 - 07.2011

07.2006 - 07.2011

09.2007 - 07.2008

11.2009 -

07.2006 - 07.2011

07.2006 -

07.2006 - 07.2011

07.2006 -

06.2007 - 12.2010

04.2007 - 12.2011

YEAR

03.2001 - 08.2004

03.2001 - 08.2004

03.2001 - 08.2004

03.2001 - 08.2004

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse

Vorderachse
beidseitig

FITTING POSITION

rechts

rechts

rechts

rechts

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240025

SKTR-0240012

ITEM NUMBER

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

340
M14x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14 x1,5

340
M14x1,5

359
M14x1,5/
M14x1,5

340
M14x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5



€5 1(DC) 3.0 V6 (DCXFXC, DCXFXF) (152 KW / 207 HP)

C5 1(DC) 2.0 HDi (DCRHZB, DCRHZE) (80 KW / 109 HP)

C5 1(DC) 2.2 HDi (DC4HXB, DC4HXE) (98 KW / 133 HP)

C5 1(DC) 3.0 Carlsson HP (173 KW / 235 HP)

€5 1(DC_) 2.0 HDi (79 KW / 107 HP)

C5 I Break (DE_) 3.0 Carlsson (173 KW / 235 HP)

C5 | Break (DE_) 2.0 HDi (DERHYB) (66 KW / 90 HP)

C5 I Break (DE_) 2.0 16V (DERFNF, DERFNC, RERFNC) (100

KW / 136 HP)

C5 IBreak (DE_) 2.0 16V HPi (DERLZB) (103 KW / 140 HP)

C5 1 Break (DE_) 3.0 V6 (DEXFXC, DEXFXF) (152 KW / 207

HP)

€5 1 Break (DE_) 2.0 HDi (DERHSB, DERHSE) (79 KW / 107
HP)

C5 I Break (DE_) 2.2 HDi (DE4HXB, DE4HXE) (98 KW / 133
HP)

C5 IBreak (DE_) 1.8 16V (DE6FZB, DE6FZE) (85 KW / 115

HP)

C5 I Break (DE_) 2.0 HDi (80 KW / 109 HP)

5 11 (RC) 1.8 16V (RC6FZB) (85 KW / 116 HP)

€5 11 (RC) 2.0 16V (RCRFJB, RCRFIC) (103 KW / 140 HP)

C5 11 (RC) 3.0 V6 (RCXFUF) (152 KW / 207 HP)

C5 11 (RC) 1.6 HDi (RC8HZB) (80 KW / 109 HP)

C5 11 (RC) 2.0 HDi (RCRHRH) (100 KW / 136 HP)

€5 I (RC) 2.2 HDi (RC4HXE) (98 KW / 133 HP)

C5 11 (RC) 1.8 16V (92 KW / 125 HP)

C5 1 (RC) 2.0 16V (105 KW / 143 HP)

C5 I (RC) 3.0 V6 (155 KW / 211 HP)

C5 1 (RC) 2.2 HDi (120 KW / 163 HP)

€5 11 (RC)) 3.0 Carlsson HP (173 KW / 235 HP)

03.2001 - 08.2004

03.2001 - 08.2004

03.2001 - 08.2004

08.2001 - 08.2004

03.2001 - 08.2004

09.2003 - 08.2004

06.2001 - 08.2004

06.2001 - 08.2004

06.2001 - 08.2004

06.2001 - 08.2004

06.2001 - 08.2004

06.2001 - 08.2004

06.2001 - 08.2004

06.2001 - 08.2004

09.2004 -

09.2004 -

09.2004 -

09.2004 -

09.2004 -

09.2004 -

09.2005 -

03.2005 - 11.2007

10.2004 - 04.2007

05.2006 -

09.2004 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5



€5 11 (RC)) 2.2 HDi (125 KW / 170 HP)
C5 Il Break (RE_) 1.8 16V (RE6FZB) (85 KW / 116 HP)

C5 Il Break (RE_) 2.0 16V (RERFIB, RERFIC) (103 KW / 140
HP)

C5 Il Break (RE_) 3.0 V6 (REXFUF) (152 KW / 207 HP)

C5 Il Break (RE_) 1.6 HDi (RESHZB) (80 KW / 109 HP)

C5 Il Break (RE_) 2.0 HDi (RERHRH) (100 KW / 136 HP)

C5 Il Break (RE_) 2.2 HDi (RE4HXE) (98 KW / 133 HP)

C5 Il Break (RE_) 2.2 HDi (120 KW / 163 HP)

C5 Il Break (RE_) 3.0 V6 (155 KW / 211 HP)

C5 Il Break (RE) 1.8 16V (92 KW / 125 HP)

C5 i Break (RE_) 3.0 (173 KW / 235 HP)

C5 Il Break (RE_) 2.2 HDi (125 KW / 170 HP)

CITROEN C8

MODEL

(8 (EA_, EB_) 2.2 HDi (125 KW / 170 HP)
C8 (EA_, EB_) 2.0 HDi (88 KW / 120 HP)
C8 (EA_ EB_) 2.0 16V (104 KW / 141 HP)
C8 (EA_, EB_) 2.2 HDi (120 KW / 163 HP)
C8 (EA_, EB_) 2.0 16V (103 KW / 140 HP)
C8 (EA_ EB_) 2.0 (100 KW / 136 HP)

C8 (EA_ EB_) 2.2 (116 KW / 158 HP)

C8 (EA_, EB_) 3.0 V6 (150 KW / 204 HP)
C8 (EA_, EB_) 2.0 HDi (79 KW / 107 HP)

€8 (EA_, EB ) 2.2 HDi (94 KW / 128 HP)

04.2006 -

09.2004 -

09.2004 -

09.2004 -

09.2004 -

09.2004 -

09.2004 -

05.2006 -

10.2004 - 04.2007

09.2005 -

09.2004 -

04.2006 -

YEAR

06.2006 -

07.2006 -

09.2005 -

06.2007 -

09.2005 -

07.2002 -

07.2002 -

07.2002 -

07.2002 -

07.2002 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

SKTR-0240068

ITEMNUMBER

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}

Lange [mm]

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

199
M16x1,5/
M16x1,5

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5 /
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5 /
M14X1.5
325

M14X1.5/
M14X1.5
325



€8 (EA_, EB ) 2.0 HDi (81 KW / 110 HP)

C8 (EA_, EB_) 2.0 HDi 165 (120 KW / 163 HP)
C8 (EA_, EB_) 2.0 HDi 135 (100 KW / 136 HP)

€8 (EA_, EB_) 2.0 HDi (80 KW / 109 HP)

CITROEN JUMPY

MODEL

JUMPY (U6U) 1.6 (59 KW / 80 HP)
JUMPY (U6U) 2.0 HDi 110 (80 KW / 109 HP)
JUMPY (UU) 1.9 D 70 (51 KW / 69 HP)
JUMPY (U6U) 1.9 TD (68 KW / 92 HP)
JUMPY (U6U) 1.9 D (51 KW / 69 HP)

JUMPY (U6U) 1.6 (58 KW / 79 HP)

JUMPY (U6U) 1.9 TD (66 KW / 90 HP)
JUMPY (U6U) 2.0 HDi 95 (69 KW / 94 HP)
JUMPY (U6U) 2.0 (100 KW / 136 HP)
JUMPY (U6U) 2.0 HDi 110 (80 KW / 109 HP)

JUMPY (U6U) 2.0 i 16V (102 KW / 138 HP)

JUMPY Kasten (BS_, BT_, BY_, BZ) 1.6 (59 KW / 80 HP)

JUMPY Kasten (BS_, BT_, BY_, BZ_) 2.0 HDi 110 (80 KW /

109 HP)

JUMPY Kasten (BS_, BT_, BY_, BZ ) 2.0 HDi 110 (80 KW /

109 HP)

JUMPY Kasten (BS_, BT_, BY_, BZ) 1.9 DT (65 KW / 88 HP)

JUMPY Kasten (BS_, BT_, BY_, BZ) 1.9 D (51 KW / 69 HP)

JUMPY Kasten (BS_, BT_, BY_, BZ) 1.6 i (58 KW / 79 HP)

JUMPY Kasten (BS_, BT_, BY_, BZ_) 2.0 HDi 95 (69 KW / 94

HP)

07.2002 -

03.2006 -

03.2006 -

07.2002 -

YEAR

10.1995 - 08.2000

03.2000 - 10.2006

04.1998 - 11.2003

04.1996 - 11.2003

10.1995 - 08.1998

10.1995 - 08.2000

10.1995 - 08.2000

10.1999 - 10.2006

04.2000 - 12.2006

03.2000 - 10.2006

03.2000 - 10.2006

10.1995 - 08.2000

01.2002 - 10.2006

10.2001 - 10.2006

10.1995 - 08.2000

10.1995 - 08.1998

10.1995 - 08.2000

10.1999 - 10.2006

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

ITEMNUMBER

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Linge [mm]

ITEM DETAILS

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
AufRengewinde
[mm]

Linge [mm]
AufRengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

M14X1.5 /
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5 /
M14X1.5
325

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5



JUMPY Kasten (BS_, BT_, BY_, BZ) 1.9 D 70 (51 KW / 69

HP)

JUMPY Kasten (BS_, BT, BY , BZ) 2.0 i 16V (102 KW /

138 HP)

JUMPY Kasten (BS_, BT_, BY_, BZ)) 1.9 TD (66 KW / 90 HP)

JUMPY Pritsche/Fahrgestell (BU_, BV_, BW_, BX_) 2.0 HDi

110 (80 KW /109 HP)

JUMPY Pritsche/Fahrgestell (BU_, BV_, BW_, BX ) 2.0 (100

KW /136 HP)

JUMPY Pritsche/Fahrgestell (BU_, BV_, BW_, BX ) 2.0 HDi

110 16V (80 KW /109 HP)

JUMPY Pritsche/Fahrgestell (BU_, BV_, BW_, BX ) 1.9 TD (68

KW / 92 HP)

JUMPY Pritsche/Fahrgestell (BU_, BV_, BW_, BX_) 2.0 HDi 95

(69 KW /94 HP)

CITROEN RELAY

MODEL

JUMPER Bus (230P) 2.5 TDi (79 KW / 107 HP)
JUMPER Bus (230P) 2.5 TDI 4x4 (79 KW / 107 HP)
JUMPER Bus (230P) 1.9 D (51 KW / 69 HP)

JUMPER Bus (230P) 2.8 HDi (94 KW / 128 HP)
JUMPER Bus (230P) 2.8 HDi 4x4 (94 KW / 128 HP)

JUMPER Bus (230P) 2.8 D (64 KW / 87 HP)

JUMPER Bus (230P) 1.9 TD (68 KW / 92 HP)
JUMPER Bus (230P) 2.5 TD (76 KW / 103 HP)
JUMPER Bus (230P) 2.0 (80 KW / 109 HP)
JUMPER Bus (230P) 2.5 D 4x4 (63 KW / 86 HP)
JUMPER Bus (230P) 1.9 TD (66 KW / 90 HP)
JUMPER Bus (230P) 1.9 TD 4x4 (68 KW / 92 HP)
JUMPER Bus (230P) 2.5 D (63 KW / 86 HP)

JUMPER Bus (230P) 2.5 TD 4x4 (76 KW / 103 HP)

04.1998 - 10.2006

03.2000 - 10.2006

10.1995 - 08.2000

12.2003 - 10.2006

12.2003 - 10.2006

12.2003 - 10.2006

10.1999 - 10.2006

10.1999 - 10.2006

YEAR

12.1996 - 11.2000

12.1996 - 11.2000

01.1999 - 04.2002

09.2000 - 04.2002

09.2000 - 04.2002

01.1999 - 02.2002

02.1994 - 04.2002

08.1994 - 04.2002

02.1994 - 04.2002

08.1996 - 04.2002

08.1994 - 04.2002

08.1996 - 04.2002

08.1994 - 04.2002

08.1996 - 04.2002

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

ITEM NUMBER

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

M16x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5



JUMPER Bus (230P) 2.0 4x4 (80 KW / 109 HP)

JUMPER Bus (244, Z.) 2.0 (81 KW / 110 HP)

JUMPER Bus (244, Z ) 2.0 HDi (62 KW / 84 HP)

JUMPER Bus (244, Z ) 2.2 HDi (74 KW / 101 HP)

JUMPER Bus (244, Z_) 2.8 HDi (94 KW / 128 HP)

JUMPER Bus (244, Z ) 2.0 bivalent (81 KW /110 HP)

JUMPER Bus (244, Z_) 2.8 HDi Allrad (94 KW / 128 HP)

JUMPER Bus (244, Z ) 2.3 HDi (93 KW / 126 HP)
JUMPER Bus (244, Z ) 2.8 HDi (77 KW / 105 HP)

JUMPER Kasten (230L) 2.5 TDi (79 KW / 107 HP)

JUMPER Kasten (230L) 1.9 TD (66 KW / 90 HP)

JUMPER Kasten (230L) 2.0 4x4 (80 KW / 109 HP)

JUMPER Kasten (230L) 2.8 HDi (94 KW / 128 HP)

JUMPER Kasten (230L) 2.8 HDi 4x4 (94 KW / 128 HP)

JUMPER Kasten (230L) 1.9 D (50 KW / 68 HP)

JUMPER Kasten (230L) 2.8 D (64 KW / 87 HP)

JUMPER Kasten (230L) 2.0 HDI (62 KW / 84 HP)

JUMPER Kasten (230L) 2.5 DT 4x4 (76 KW / 103 HP)

JUMPER Kasten (230L) 2.5 TDi 4x4 (79 KW / 107 HP)

JUMPER Kasten (230L) 2.5 D 4x4 (63 KW / 86 HP)

JUMPER Kasten (230L) 2.0 (80 KW / 109 HP)

JUMPER Kasten (230L) 1.9 D (51 KW / 69 HP)

JUMPER Kasten (230L) 1.9 TD (68 KW / 92 HP)

JUMPER Kasten (230L) 2.5 D (63 KW / 86 HP)

JUMPER Kasten (230L) 2.5 TD (76 KW / 103 HP)

08.1996 - 04.2002

04.2002 -

04.2002 -

04.2002 -

04.2002 -

02.2003 -

04.2002 -

08.2008 -

06.2003 - 06.2006

12.1996 - 11.2000

03.1994 - 04.2002

10.1996 - 01.2002

09.2000 - 04.2002

09.2000 - 04.2002

07.1999 - 04.2002

01.1999 - 02.2002

11.2001 - 04.2002

10.1996 - 08.1997

03.2000 - 11.2000

03.2000 - 04.2002

03.1994 - 04.2002

02.1994 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig
Vorderachse /

innen

Vorderachse
Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse /
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240031

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036
SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240031

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

Linge [mm]
Auflengewinde
[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf

Lange [mm]
Aulengewinde
[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

320,0
M14x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

M16x1,5

M16x1,5

320,0

M14x1,5

M16x1,5

M16x1,5

M16x1,5

320,0

M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5



JUMPER Kasten (244) 2.0 bivalent (81 KW / 110 HP)

JUMPER Kasten (244) 2.8 HDi (107 KW / 146 HP)

JUMPER Kasten (244) 2.0 (81 KW / 110 HP)

JUMPER Kasten (244) 2.0 HDi (62 KW / 84 HP)

JUMPER Kasten (244) 2.2 HDi (74 KW / 101 HP)

JUMPER Kasten (244) 2.8 HDi (94 KW / 128 HP)

JUMPER Kasten (244) 2.8 HDi 4x4 (94 KW / 128 HP)

JUMPER Kasten (244) 2.8 HDi (77 KW / 105 HP)
JUMPER Kasten (244) 2.3 HDi (95 KW / 129 HP)

JUMPER Pritsche/Fahrgestell (230) 2.5 D (63 KW / 86 HP)

JUMPER Pritsche/Fahrgestell (230) 2.5 TD (76 KW / 103 HP)

JUMPER Pritsche/Fahrgestell (230) 1.9 TD (66 KW / 90 HP)

JUMPER Pritsche/Fahrgestell (230) 2.0 (80 KW / 109 HP)

JUMPER Pritsche/Fahrgestell (230) 2.5 TDi (79 KW / 107
HP)
JUMPER Pritsche/Fahrgestell (230) 1.9 TD (68 KW / 92 HP)

JUMPER Pritsche/Fahrgestell (230) 2.8 HDi (94 KW / 128
HP)

JUMPER Pritsche/Fahrgestell (230) 2.8 D (64 KW / 87 HP)

JUMPER Pritsche/Fahrgestell (230) 2.5 D 4x4 (63 KW / 86
HP)

JUMPER Pritsche/Fahrgestell (230) 2.5 TDi 4x4 (79 KW /
107 HP)

JUMPER Pritsche/Fahrgestell (230) 2.8 HDi (93 KW / 126
HP)

JUMPER Pritsche/Fahrgestell (244) 2.8 HDi (107 KW / 146
HP)

JUMPER Pritsche/Fahrgestell (244) 2.8 HDi 4x4 (94 KW /
128 HP)

JUMPER Pritsche/Fahrgestell (244) 2.2 HDi (74 KW / 101
HP)

JUMPER Pritsche/Fahrgestell (244) 2.0 HDi (62 KW / 84 HP)

02.2003 -

05.2004 -

04.2002 -

04.2002 -

04.2002 -

04.2002 -

04.2002 -

06.2003 - 06.2006

08.2008 -

03.1994 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

12.1996 - 04.2002

03.1994 - 04.2002

09.2000 - 04.2002

01.1999 - 02.2002

03.2000 - 04.2002

03.2000 - 04.2002

10.2000 - 01.2002

05.2004 -

02.2002 - 06.2006

02.2002 - 06.2006

04.2002 -

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse
Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036
SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5



JUMPER Pritsche/Fahrgestell (244) 2.2 HDi (74 KW / 101

HP)

JUMPER Pritsche/Fahrgestell (244) 2.8 HDi (94 KW / 128

HP)

CITROEN XM

MODEL

XM (Y3) 2.0 i (79 KW / 107 HP)
XM (Y3) 3.0 (147 KW / 200 HP)

XM (Y3) 2.0 (84 KW / 114 HP)

XM (Y3) 2.0 (94 KW / 130 HP)

XM (Y3) 3.0 (123 KW / 167 HP)

XM (¥3) 2.1 TD 12V (80 KW / 109 HP)
XM (Y3) 2.1 D 12V (60 KW / 82 HP)

XM (Y3) 2.0 i (89 KW / 121 HP)

XM (Y3) 2.0 i Turbo (104 KW / 141 HP)
XM (Y3) 3.0 V6 (123 KW / 167 HP)

XM (Y3) 3.0 V6 24V (147 KW / 200 HP)
XM (Y4) 3.0 V6 (140 KW / 190 HP)

XM (Y4) 3.0 V6 (123 KW / 167 HP)

XM (Y4) 3.0 V6 24V (147 KW / 200 HP)
XM (Y4) 2.1 TD 12V (80 KW / 109 HP)
XM (Y4) 2.1 D12 VSX (60 KW / 82 HP)
XM (Y4) 2.0 i 16V (97 KW / 132 HP)
XM (Y4) 2.0 Turbo (108 KW / 147 HP)

XM (Y4) 2.5 TD (95 KW / 129 HP)

04.2002 -

04.2002 -

YEAR

05.1989 - 04.1994

05.1989 - 06.1994

05.1989 - 04.1994

05.1989 - 06.1994

05.1989 - 05.1994

05.1989 - 06.1994

05.1989 - 06.1994

05.1989 - 06.1994

09.1992 - 06.1994

05.1989 - 06.1994

07.1990 - 06.1994

04.1997 - 10.2000

05.1994 - 10.2000

05.1994 - 10.2000

05.1994 - 10.2000

03.1996 - 08.1996

05.1994 - 10.2000

05.1994 - 10.2000

05.1994 - 10.2000

Vorderachse /
rechts

Vorderachse /
Vorderachse
beidseitig

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240036

SKTR-0240036

ITEMNUMBER

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

Gewindemaf}

Gewindemaf

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf

Linge [mm]

M16x1,5

M16x1,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5



XM Break (Y3) 2.1 D 12V (60 KW / 82 HP)

XM Break (Y3) 2.0 (85 KW / 116 HP)

XM Break (Y3) 3.0 Pullman (147 KW / 200 HP)

XM Break (Y3) 3.0 V6 24V (147 KW / 200 HP)

XM Break (Y3) 2.0 i (Y3A) (79 KW / 107 HP)

XM Break (Y3) 2.0 (94 KW / 130 HP)

XM Break (Y3) 2.1 TD 12V (80 KW / 109 HP)

XM Break (Y3) 2.0 i (89 KW / 121 HP)

XM Break (Y3) 2.0 Turbo (104 KW / 141 HP)

XM Break (Y3) 3.0 V6 (123 KW / 167 HP)

XM Break (Y3) 3.0 (123 KW / 167 HP)

XM Break (Y4) 3.0 V6 (140 KW / 190 HP)

XM Break (Y4) 3.0 V6 (123 KW / 167 HP)

XM Break (Y4) 2.1 TD 12V (80 KW / 109 HP)

XM Break (Y4) 2.0 Turbo (108 KW / 147 HP)

XM Break (Y4) 2.0 i 16V (97 KW / 132 HP)

XM Break (Y4) 2.5 TD (95 KW / 129 HP)

XM Break (Y4) 2.1 D12 (60 KW / 82 HP)

11.1991 - 04.1994

10.1991 - 07.1994

05.1989 - 07.1994

01.1990 - 07.1994

11.1991 - 04.1994

05.1989 - 06.1994

11.1991 - 04.1994

11.1991 - 04.1994

09.1992 - 04.1994

11.1991 - 04.1994

05.1989 - 07.1994

04.1997 - 10.2000

05.1994 - 10.2000

05.1994 - 10.2000

05.1994 - 10.2000

05.1994 - 10.2000

05.1994 - 10.2000

07.1994 - 06.1996

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5



FIAT BRAVA

MODEL

BRAVO 1l (198) 2.0 D Multijet (120 KW / 163 HP)
BRAVO 1l (198) 1.9 D Multijet (38 KW / 120 HP)
BRAVO 1 (198) 1.9 D Multijet (110 KW / 150 HP)
BRAVO 1 (198) 1.4 (66 KW / 90 HP)

BRAVO 1l (198) 1.6 D Multijet (85 KW / 115 HP)
BRAVO 1l (198) 1.9 D Multijet (85 KW / 116 HP)
BRAVO Il (198) 1.6 D Multijet (66 KW / 90 HP)
BRAVO Il (198) 1.4 LPG (66 KW / 90 HP)

BRAVO Il (198) 1.4 16V (103 KW / 140 HP)
BRAVO Il (198) 2.0 D Multijet (121 KW / 165 HP)
BRAVO 1l (198) 1.9 D Multijet (66 KW / 90 HP)
BRAVO Il (198) 1.4 T-Jet (112 KW / 152 HP)
BRAVO Il (198) 1.4 T-Jet (88 KW / 120 HP)
BRAVO Il (198) 1.4 T-Jet (110 KW / 150 HP)
BRAVO Il (198) 1.6 D Multijet (77 KW / 105 HP)

BRAVO 11 (198) 1.6 D Multijet (88 KW / 120 HP)

FIAT CROMA

MODEL

YEAR

09.2008 -

04.2007 -

04.2007 -

04.2007 -

11.2008 -

11.2006 -

03.2008 -

12.2008 - 12.2014

03.2008 -

09.2008 -

04.2007 - 12.2008

06.2011 -

09.2007 -

09.2007 -

09.2007 -

03.2008 -

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

ITEM NUMBER

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

ITEM NUMBER

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]

Auf3engewinde
[mm]

ITEM DETAILS

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5



CROMA (194) 1.9 D Multijet (100 KW / 136 HP)

CROMA (194) 1.8 16V (103 KW / 140 HP)
CROMA (194) 1.9 D Multijet (85 KW / 115 HP)
CROMA (194) 2.2 16V (108 KW / 147 HP)
CROMA (194) 1.9 D Multijet (88 KW / 120 HP)
CROMA (194) 1.9 D Multijet (110 KW / 150 HP)

CROMA (194) 2.4 D Multijet (147 KW / 200 HP)

FIAT DUCATO

MODEL

DUCATO Bus (230) 2.8 TDI (90 KW / 122 HP)

DUCATO Bus (230) 2.5 TD (70 KW / 95 HP)
DUCATO Bus (230) 2.5 D (55 KW / 75 HP)
DUCATO Bus (230) 1.9 D (59 KW / 80 HP)

DUCATO Bus (230) 2.5 TD (80 KW / 109 HP)

DUCATO Bus (230) 2.5 TD 4x4 (85 KW / 116 HP)

DUCATO Bus (230) 2.5 TD 4x4 (80 KW / 109 HP)

DUCATO Bus (230) 2.8 JTD (94 KW / 128 HP)

DUCATO Bus (230) 2.8 JTD 4x4 (94 KW / 128 HP)

DUCATO Bus (230) 2.5 TDI 4x4 (85 KW /116 HP)

DUCATO Bus (230) 1.9 D Combinato (51 KW / 69 HP)

DUCATO Bus (230) 2.0 JTD (62 KW / 84 HP)
DUCATO Bus (230) 2.5 TD (85 KW / 116 HP)

DUCATO Bus (230) 2.8 D (64 KW / 87 HP)

DUCATO Bus (230) 1.9 D (50 KW / 68 HP)

DUCATO Bus (230) 1.9 TD (66 KW / 90 HP)

DUCATO Bus (230) 2.0 4x4 (80 KW / 109 HP)

12.2005 -

12.2005 -

06.2005 -

06.2005 -

06.2005 -

06.2005 -

06.2005 -

YEAR

10.1997 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

05.1998 - 11.2001

06.1994 - 08.1998

06.1994 - 09.2001

11.1994 - 04.1998

11.2000 - 04.2002

11.2000 - 04.2002

04.1997 - 04.2002

06.1995 - 04.2002

10.2001 - 04.2002

06.1994 - 09.2001

02.1998 - 04.2002

04.1998 - 04.2002

04.1998 - 04.2002

11.1994 - 11.2001

links

links

links

links

links

links

links

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
Vorderachse

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

ITEM NUMBER

SKTR-0240031

SKTR-0240036
SKTR-0240036
SKTR-0240036
SKTR-0240036
SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036
SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
AufRengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

MM18X1.5R

/
MM14X1.5R

MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R
MM18X1.5R
MM14X1.5R/
MM18X1.5R
MM14X1.5l{
MM18X1.5R

/
MM14X1.5R

320,0
M14x1,5

M16x1,5
M16x1,5
M16x1,5
M16x1,5
M16x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5
M16x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5



DUCATO Bus (230) 1.9 TD Panorama/Combinato (60 KW /
82 HP)

DUCATO Bus (230) 2.5 TDI Panorama/Combinato (85 KW /
116 HP)

DUCATO Bus (230) 2.0 Panorama/Combinato (80 KW / 109

HP)

DUCATO Bus (230) 2.5 TDI Panorama/Combinato (80 KW /

109 HP)

DUCATO Bus (230) 2.5 D Combinato (62 KW / 84 HP)

DUCATO Bus (230) 1.9 TD Combinato (59 KW / 80 HP)

DUCATO Bus (230) 2.8 TDI 4x4 (90 KW / 122 HP)

DUCATO Bus (244, Z) 2.0 (81 KW / 110 HP)

DUCATO Bus (244, Z)) 2.0 JTD (62 KW / 84 HP)

DUCATO Bus (244, Z.) 2.3 JTD (81 KW / 110 HP)

DUCATO Bus (244, Z.) 2.8 JTD (94 KW / 128 HP)

DUCATO Bus (244, Z ) 2.8 JTD (107 KW / 145 HP)

DUCATO Bus (244, Z) 2.8 TD (90 KW /122 HP)

DUCATO Bus (244, Z ) 2.8 TD 4x4 (90 KW / 122 HP)

DUCATO Bus (244, Z.) 2.0 4x4 (81 KW / 110 HP)

DUCATO Bus (244, Z.) 2.8 TDS (76 KW / 103 HP)
DUCATO Bus (244, Z.) 2.3 JTD (93 KW / 126 HP)

DUCATO Bus (244, Z ) 2.0 Bipower (81 KW /110 HP)

DUCATO Bus (244, Z ) 2.8 JTD 4x4 (94 KW / 128 HP)

DUCATO Bus (250) 120 Multijet 2,3 D (88 KW / 120 HP)

DUCATO Kasten (230L) 1.9 TD (59 KW / 80 HP)

DUCATO Kasten (230L) 2.5 TD (80 KW / 109 HP)

DUCATO Kasten (230L) 2.5 TD 4x4 (80 KW / 109 HP)

DUCATO Kasten (230L) 2.8 TD 4x4 (90 KW / 122 HP)

DUCATO Kasten (230L) 2.5 TDI 4x4 (85 KW / 116 HP)

DUCATO Kasten (230L) 2.8 JTD (94 KW / 128 HP)

03.1994 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

07.1994 - 04.2002

08.1994 - 04.2002

08.1994 - 04.2002

07.1999 - 04.2002

04.2002 -

04.2002 -

04.2002 -

04.2002 -

04.2004 - 07.2006

11.2003 - 07.2006

11.2003 - 07.2006

05.2002 - 07.2006

04.2005 -

12.2009 -

11.2002 -

07.2002 -

07.2006 -

05.1998 - 11.2001

06.1994 - 08.1998

11.1994 - 04.1998

05.1998 - 09.2001

05.1998 - 04.2002

11.2000 - 04.2002

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse
Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

Vorderachse
beidseitig

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240036
SKTR-0240036

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240031

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Gewindemaf
Lange [mm]

Auf3engewinde
[mm]

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

320,0

M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

320,0
M14x1,5



DUCATO Kasten (230L) 2.8 JTD 4x4 (94 KW / 128 HP)

DUCATO Kasten (230L) 1.9 D (51 KW / 69 HP)

DUCATO Kasten (230L) 2.5 TDI (80 KW / 109 HP)

DUCATO Kasten (230L) 2.5 D (62 KW / 84 HP)

DUCATO Kasten (230L) 2.8 D (64 KW / 87 HP)

DUCATO Kasten (230L) 1.9 TD (66 KW / 90 HP)

DUCATO Kasten (230L) 1.9 D (50 KW / 68 HP)

DUCATO Kasten (230L) 1.9 TD (60 KW / 82 HP)

DUCATO Kasten (230L) 2.8 D 4x4 (64 KW / 87 HP)

DUCATO Kasten (230L) 2.8 JTD (103 KW / 140 HP)

DUCATO Kasten (230L) 2.0 JTD (62 KW / 84 HP)

DUCATO Kasten (230L) 2.5 TDI (85 KW / 116 HP)

DUCATO Kasten (230L) 2.8 TDI 4x4 (90 KW / 122 HP)

DUCATO Kasten (230L) 2.0 4x4 (80 KW / 109 HP)

DUCATO Kasten (230L) 2.8 TDI (90 KW / 122 HP)

DUCATO Kasten (230L) 1.9 TD CAT (59 KW / 80 HP)

DUCATO Kasten (230L) 2.5 TD 4x4 (85 KW / 116 HP)

DUCATO Kasten (230L) 2.0 (80 KW / 109 HP)

DUCATO Kasten (244) 2.0 (81 KW /110 HP)

DUCATO Kasten (244) 2.0 JTD (62 KW / 84 HP)

DUCATO Kasten (244) 2.3 JTD (81 KW / 110 HP)

DUCATO Kasten (244) 2.8 JTD (94 KW / 128 HP)

DUCATO Kasten (244) 2.8 JTD (93 KW / 127 HP)
DUCATO Kasten (244) 2.8 JTD (103 KW / 140 HP)

DUCATO Kasten (244) 2.8 JTD Power (107 KW / 146 HP)

DUCATO Kasten (244) 2.8 TD (90 KW / 122 HP)

DUCATO Kasten (244) 2.8 TD 4x4 (90 KW / 122 HP)

11.2000 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

05.1998 - 04.2002

04.1998 - 04.2002

04.1998 - 04.2002

03.1994 - 04.2002

08.1998 - 04.2002

11.1997 - 05.2005

10.2001 - 04.2002

03.1994 - 04.2002

06.1999 - 04.2002

11.1994 - 04.2002

10.1997 - 04.2002

08.1994 - 04.2002

11.1994 - 04.1998

03.1994 - 04.2002

04.2002 -

04.2002 -

04.2002 -

04.2002 -

06.2005 - 08.2009

04.2002 - 05.2005

05.2004 -

04.2002 - 07.2006

11.2003 - 07.2006

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse /
Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

SKTR-0240031

SKTR-0240031

SKTR-0240036
SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036
SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240036

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Gewindemaf}

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde

[mm]

Gewindemaf}

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

320,0

M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5



DUCATO Kasten (244) 2.0 4x4 (81 KW /110 HP)

DUCATO Kasten (244) 2.8 TDS (76 KW / 103 HP)
DUCATO Kasten (244) 2.3 JTD (93 KW / 126 HP)

DUCATO Kasten (244) 2.0 Bipower (81 KW /110 HP)

DUCATO Kasten (244) 2.8 JTD 4x4 (94 KW / 128 HP)

DUCATO Kasten (250) 120 Multijet 2,3 D (88 KW / 120 HP)

DUCATO Kasten (250) 130 Multijet 2,3 D (96 KW / 131 HP)

DUCATO Pritsche/Fahrgestell (230) 2.5 D 4x4 (62 KW / 84

HP)

DUCATO Pritsche/Fahrgestell (230) 2.5 TDI 4x4 (85 KW /
116 HP)

DUCATO Pritsche/Fahrgestell (230) 2.5 TDI (80 KW / 109
HP)

DUCATO Pritsche/Fahrgestell (230) 2.8 JTD (94 KW / 128
HP)

DUCATO Pritsche/Fahrgestell (230) 2.8 D (64 KW / 87 HP)
DUCATO Pritsche/Fahrgestell (230) 2.8 TDI (90 KW / 122
HP)

DUCATO Pritsche/Fahrgestell (230) 2.0 (80 KW / 109 HP)

DUCATO Pritsche/Fahrgestell (230) 1.9 D (51 KW / 69 HP)

DUCATO Pritsche/Fahrgestell (230) 1.9 TD (60 KW / 82 HP)

DUCATO Pritsche/Fahrgestell (230) 1.9 TD CAT (59 KW / 80

HP)

DUCATO Pritsche/Fahrgestell (230) 2.5 D (62 KW / 84 HP)

DUCATO Pritsche/Fahrgestell (230) 2.5 TDI (85 KW /116

HP)

DUCATO Pritsche/Fahrgestell (230) 2.0 4x4 (80 KW / 109
HP)

DUCATO Pritsche/Fahrgestell (230) 2.0 JTD (62 KW / 84 HP)

DUCATO Pritsche/Fahrgestell (230) 2.8 JTD 4x4 (94 KW /
128 HP)

DUCATO Pritsche/Fahrgestell (230) 1.9 D (50 KW / 68 HP)

DUCATO Pritsche/Fahrgestell (230) 1.9 TD (66 KW / 90 HP)

DUCATO Pritsche/Fahrgestell (230) 1.9 TD (59 KW / 80 HP)

DUCATO Pritsche/Fahrgestell (230) 2.5 TD 4x4 (85 KW /
116 HP)

05.2002 - 07.2006

04.2005 -

12.2009 -

11.2002 -

07.2002 -

07.2006 -

06.2011 -

03.1994 - 04.2002

06.1998 - 04.2002

03.1994 - 04.2002

11.2000 - 04.2002

02.1998 - 04.2002

12.1998 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

08.1994 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

11.1994 - 09.2001

07.2001 - 04.2002

10.2001 - 04.2002

04.1998 - 04.2002

04.1998 - 04.2002

05.1998 - 11.2001

11.1994 - 04.1998

Vorderachse /
Vorderachse
beidseitig
Vorderachse
Vorderachse
Vorderachse /
Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

Vorderachse
beidseitig

SKTR-0240036

SKTR-0240036
SKTR-0240036

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240031

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Lange [mm]
Auf3engewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Gewindemaf}
Lange [mm]

Aufdengewinde
[mm]

M16x1,5

M16x1,5

M16x1,5

M16x1,5

320,0

M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

320,0
M14x1,5



DUCATO Pritsche/Fahrgestell (230) 2.5 TD (80 KW / 109
HP)

DUCATO Pritsche/Fahrgestell (230) 2.5 TD 4x4 (80 KW /
109 HP)

DUCATO Pritsche/Fahrgestell (230) 2.5 TD (85 KW / 116
HP)

DUCATO Pritsche/Fahrgestell (230) 2.8 TD 4x4 (64 KW / 87
HP)

DUCATO Pritsche/Fahrgestell (230) 2.8 iDTD 4x4 (90 KW /
122 HP)

DUCATO Pritsche/Fahrgestell (230) 2.8 JTD (94 KW / 128
HP)

DUCATO Pritsche/Fahrgestell (244) 2.0 JTD (62 KW / 84 HP)

DUCATO Pritsche/Fahrgestell (244) 2.3 JTD (81 KW /110
HP)

DUCATO Pritsche/Fahrgestell (244) 2.8 JTD (94 KW / 128
HP)

DUCATO Pritsche/Fahrgestell (244) 2.0 (81 KW / 110 HP)

DUCATO Pritsche/Fahrgestell (244) 2.8 JTD Power (107 KW
/ 146 HP)

DUCATO Pritsche/Fahrgestell (244) 2.8 JTD (90 KW / 122
HP)

DUCATO Pritsche/Fahrgestell (244) 2.8 JTD 4x4 (90 KW /
122 HP)

DUCATO Pritsche/Fahrgestell (244) 2.8 TDS (76 KW / 103
HP)

DUCATO Pritsche/Fahrgestell (244) 2.3 JTD (93 KW / 126
HP)

DUCATO Pritsche/Fahrgestell (244) 2.8 JTD 4x4 (94 KW /
128 HP)

DUCATO Pritsche/Fahrgestell (250) 130 Multijet 2,3 D (96
KW / 131 HP)

DUCATO Pritsche/Fahrgestell (250) 120 Multijet 2,3 D (88
KW /120 HP)

FIAT MAREA

MODEL

MAREA (185) 1.6 (68 KW / 92 HP)

MAREA (185) 1.6 SX (72 KW / 98 HP)
MAREA (185) 1.9 JTD 105 (77 KW / 105 HP)
MAREA (185) 2.4 JTD 130 (96 KW / 130 HP)

MAREA (185) 2.0 155 20V (113 KW / 154 HP)

06.1994 - 08.1998

11.1994 - 04.1998

06.1994 - 04.1998

05.1998 - 11.2001

05.1998 - 09.2001

03.2001 - 04.2002

04.2002 - 07.2006

04.2002 - 07.2006

04.2002 - 07.2006

04.2002 - 07.2006

05.2004 - 07.2006

11.2003 - 07.2006

11.2003 - 07.2006

04.2005 - 07.2006

12.2009 -

10.2002 - 07.2006

07.2006 -

07.2006 -

YEAR

03.1999 - 08.2000

09.2000 - 08.2002

04.1999 - 01.2001

04.1999 - 05.2002

04.1999 - 01.2001

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

Vorderachse

Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240031

SKTR-0240031

SKTR-0240031

ITEMNUMBER

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

ITEM DETAILS

Linge [mm]
AuRengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

M16x1,5

M16x1,5

M16x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5



MAREA (185) 1.6 16V (75 KW / 102 HP)

MAREA (185) 1.6 100 16V Bipower (76 KW / 103 HP)

MAREA (185) 1.2 16V (60 KW / 82 HP)

MAREA (185) 1.4 80 12V (59 KW / 80 HP)

MAREA (185) 1.6 100 16V (76 KW / 103 HP)

MAREA (185) 1.8 115 16V (83 KW /113 HP)

MAREA (185) 2.0 150 20V (108 KW / 147 HP)

MAREA (185) 1.6 (76 KW / 103 HP)

MAREA (185) 1.9 TD 75 (55 KW / 75 HP)

MAREA (185) 1.9 TD 100 (74 KW / 100 HP)

MAREA (185) 2.4 TD 125 (91 KW / 125 HP)

MAREA (185) 2.0 150 20V (110 KW / 150 HP)

MAREA (185) 1.9 JTD 110 (81 KW / 110 HP)

MAREA Weekend (185) 1.9 JTD 105 (77 KW / 105 HP)

MAREA Weekend (185) 2.4 JTD 130 (96 KW / 130 HP)

MAREA Weekend (185) 2.0 155 20V (113 KW / 154 HP)

MAREA Weekend (185) 1.2 16V (60 KW / 82 HP)

MAREA Weekend (185) 1.4 80 12V (59 KW / 80 HP)

MAREA Weekend (185) 1.6 100 16V (76 KW / 103 HP)

MAREA Weekend (185) 1.8 115 16V (83 KW / 113 HP)

MAREA Weekend (185) 2.0 150 20V (108 KW / 147 HP)

MAREA Weekend (185) 1.9 TD 75 (55 KW / 75 HP)

MAREA Weekend (185) 1.9 TD 100 (74 KW / 100 HP)

MAREA Weekend (185) 2.4 TD 125 (91 KW / 125 HP)

MAREA Weekend (185) 2.0 150 20V (110 KW / 150 HP)

MAREA Weekend (185) 1.9 JTD 110 (81 KW / 110 HP)

04.1997 - 02.1999

04.1999 - 05.2002

10.1998 - 05.2002

09.1996 - 05.2002

09.1996 - 05.2002

09.1996 - 05.2002

09.1996 - 04.1999

09.2000 - 08.2002

09.1996 - 05.2002

09.1996 - 05.2002

09.1996 - 04.1999

01.2001 - 05.2002

01.2001 - 05.2002

04.1999 - 05.2002

04.1999 - 05.2002

04.1999 - 02.2003

10.1998 - 05.2002

09.1996 - 05.2002

09.1996 - 05.2002

09.1996 - 05.2002

09.1996 - 04.1999

09.1996 - 05.2002

09.1996 - 05.2002

09.1996 - 04.1999

01.2001 - 05.2002

01.2001 - 05.2002

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
AufRengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
AufRengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5



MAREA Weekend (185) 1.6 (76 KW / 103 HP)

FIAT MULTIPLA

MODEL

MULTIPLA (186) 1.6 100 16V (186AXA1A) (76 KW /103
HP)

MULTIPLA (186) 1.9 JTD 105 (186AXB1A) (77 KW / 105
HP)

MULTIPLA (186) 1.6 16V (186AGB1A) (70 KW / 95 HP)
MULTIPLA (186) 1.9 JTD (186AXE1A) (88 KW / 120 HP)
MULTIPLA (186) 1.6 16V Blupower (186AMA1A) (70 KW /
95 HP)

MULTIPLA (186) 1.6 (76 KW / 103 HP)

MULTIPLA (186) 1.6 (68 KW / 92 HP)

MULTIPLA (186) 1.6 (74 KW / 101 HP)

MULTIPLA (186) 1.6 16V Bipower (186AXC1A) (76 KW /
103 HP)

MULTIPLA (186) 1.9 JTD 110 (81 KW / 110 HP)

MULTIPLA (186) 1.9 JTD 115 (85 KW /115 HP)

MULTIPLA (186) 1.6 16V Bipower (186AMB1A) (76 KW /
103 HP)

FIAT SCUDO

MODEL

SCUDO Combinato (220P) 2.0 16V (100 KW / 136 HP)
SCUDO Combinato (220P) 2.0 JTD (80 KW / 109 HP)
SCUDO Combinato (220P) 2.0 JTD (69 KW / 94 HP)
SCUDO Combinato (220P) 1.9 TD Eco (66 KW / 90 HP)

SCUDO Combinato (220P) 1.9 D (51 KW / 69 HP)

09.2000 - 08.2002

YEAR

04.1999 - 06.2010

04.1999 - 06.2010

04.2002 - 06.2010

04.2002 - 06.2010

04.1999 - 06.2010

09.2000 - 06.2010

05.2004 - 08.2005

03.2001 - 08.2005

10.2001 - 06.2010

03.2001 - 07.2002

07.2002 - 06.2010

04.1999 - 06.2010

YEAR

06.2000 - 12.2006

12,1999 - 12.2006

01.2004 - 12.2006

02.1996 - 12.2006

04.1998 - 12.2006

Vorderachse
beidseitig

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240031

ITEM NUMBER

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

ITEMNUMBER

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

Lange [mm]
Aulengewinde
[mm]

ITEM DETAILS

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

ITEM DETAILS

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5



SCUDO Combinato (220P) 1.9 TD (68 KW / 92 HP)

SCUDO Combinato (220P) 1.9 D (51 KW / 69 HP)
SCUDO Combinato (220P) 1.6 (58 KW / 79 HP)

SCUDO Combinato (220P) 2.0 JTD 16V (80 KW / 109 HP)
SCUDO Kasten (220L) 2.0 JTD (69 KW / 94 HP)

SCUDO Kasten (220L) 2.0 (100 KW / 136 HP)

SCUDO Kasten (220L) 1.9 D (51 KW / 69 HP)

SCUDO Kasten (220L) 1.9 TD (66 KW / 90 HP)

SCUDO Kasten (220L) 2.0 JTD (80 KW / 109 HP)

SCUDO Kasten (220L) 1.9 TD (68 KW / 92 HP)

SCUDO Kasten (220L) 1.6 (58 KW / 79 HP)

SCUDO Kasten (220L) 1.9 D (51 KW / 69 HP)

SCUDO Kasten (220L) 2.0 JTD 16V (80 KW / 109 HP)
SCUDO Pritsche/Fahrgestell (220 ) 1.9 D (51 KW / 69 HP)
SCUDO Pritsche/Fahrgestell (220) 1.6 (58 KW / 79 HP)
SCUDO Pritsche/Fahrgestell (220 ) 1.9 TD (68 KW / 92 HP)
SCUDO Pritsche/Fahrgestell (220_) 2.0 JTD (80 KW / 109

HP)

SCUDO Pritsche/Fahrgestell (220_) 2.0 JTD (69 KW / 94 HP)

FIAT STILO

MODEL
STILO (192) 1.9 JTD (192AXS1B, 192BXS1B) (66 KW / 90
HP)

STILO (192) 1.9 JTD (93 KW / 126 HP)

STILO (192) 1.9 JTD (100 KW / 136 HP)

STILO (192) 1.8 (76 KW / 103 HP)

02.1996 - 12.2006

02.1996 - 04.1998

02.1996 - 12.2006

05.1999 - 12.2006

10.1999 - 12.2006

05.2000 - 12.2006

04.1998 - 12.2006

02.1996 - 12.2006

12.2002 - 12.2006

02.1998 - 12.2006

02.1996 - 12.2006

02.1996 - 12.2006

05.1999 - 12.2006

04.1998 - 12.2006

09.1996 - 12.2006

09.1996 - 12.2006

12.2002 - 12.2006

10.1999 - 12.2006

YEAR

09.2004 - 11.2006

09.2003 - 11.2006

04.2004 - 11.2006

01.2004 - 11.2006

Vorderachse
beidseitig

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

rechts

rechts

rechts

rechts

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

ITEMNUMBER

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
AufRengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

ITEM DETAILS

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

320,0
M14x1,5

320,0

M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5



STILO (192) 2.4 20V (123 KW / 167 HP)

STILO (192) 1.8 (90 KW / 122 HP)

STILO (192) 1.8 Flex (84 KW / 114 HP)

STILO (192) 2.4 20V (192_XD1A) (125 KW / 170 HP)

STILO (192) 1.2 16V (192_XA1B) (59 KW / 80 HP)

STILO (192) 1.6 16V (192_XB1A) (76 KW / 103 HP)

STILO (192) 1.8 16V (192_XC1A) (98 KW / 133 HP)

STILO (192) 1.9 JTD (192_XF1A) (59 KW / 80 HP)

STILO (192) 1.9 JTD (192_XE1A) (85 KW / 115 HP)

STILO (192) 1.6 (100 KW / 136 HP)

STILO (192) 1.4 16V (66 KW / 90 HP)

STILO (192) 1.9 D Multijet (88 KW / 120 HP)

STILO (192) 1.9 D Multijet (110 KW / 150 HP)

STILO (192) 1.9 D Multijet (74 KW / 100 HP)

STILO (192) 1.6 16V (77 KW / 105 HP)

STILO (192) 1.4 16V (70 KW / 95 HP)

STILO (192) 1.9 JTD (103 KW / 140 HP)

STILO Multi Wagon (192) 1.9 JTD (93 KW / 126 HP)

STILO Multi Wagon (192) 1.9 JTD (100 KW / 136 HP)

STILO Multi Wagon (192) 1.8 (76 KW / 103 HP)

STILO Multi Wagon (192) 2.4 20V (123 KW / 167 HP)

STILO Multi Wagon (192) 1.8 (90 KW / 122 HP)

STILO Multi Wagon (192) 1.8 (84 KW / 114 HP)

STILO Multi Wagon (192) 1.6 16V (77 KW / 105 HP)

STILO Multi Wagon (192) 1.9 D (66 KW / 90 HP)

01.2004 - 11.2006

01.2004 - 11.2006

09.2005 - 11.2010

10.2001 - 11.2006

02.2002 - 11.2006

10.2001 - 11.2006

10.2001 - 11.2006

02.2002 - 11.2006

10.2001 - 11.2006

04.2005 - 11.2006

03.2005 - 11.2006

09.2005 - 11.2006

09.2005 - 11.2006

09.2005 - 11.2006

05.2005 - 11.2006

01.2004 - 11.2006

01.2004 - 11.2006

09.2003 - 08.2008

04.2004 - 08.2008

01.2004 - 08.2008

01.2004 - 08.2008

01.2004 - 08.2008

09.2005 - 08.2008

03.2005 - 12.2007

09.2004 - 08.2008

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5



STILO Multi Wagon (192) 1.4 16V (66 KW / 90 HP)

STILO Multi Wagon (192) 1.9 D Multijet (88 KW / 120 HP)

STILO Multi Wagon (192) 1.9 D Multijet (110 KW / 150 HP)

STILO Multi Wagon (192) 1.9 D Multijet (74 KW / 100 HP)

STILO Multi Wagon (192) 1.6 16V (76 KW / 103 HP)
STILO Multi Wagon (192) 1.8 16V (98 KW / 133 HP)
STILO Multi Wagon (192) 1.9 JTD (59 KW / 80 HP)
STILO Multi Wagon (192) 1.9 JTD (85 KW / 115 HP)
STILO Multi Wagon (192) 1.9 JTD (103 KW / 140 HP)

STILO Multi Wagon (192) 1.4 16V (70 KW / 95 HP)

FIAT ULYSSE

MODEL

ULYSSE (179AX) 2.0 D Multijet (88 KW / 120 HP)
ULYSSE (179AX) 2.0 D Multijet (100 KW / 136 HP)
ULYSSE (179AX) 2.0 JTD (79 KW / 107 HP)
ULYSSE (179AX) 2.2 JTD (120 KW / 163 HP)
ULYSSE (179AX) 2.0 (100 KW / 136 HP)

ULYSSE (179AX) 3.0 (150 KW / 204 HP)

ULYSSE (179AX) 2.0 JTD (80 KW / 109 HP)
ULYSSE (179AX) 2.2 D Multijet (125 KW / 170 HP)
ULYSSE (179AX) 2.2 JTD (94 KW / 128 HP)
ULYSSE (220) 2.0 JTD (80 KW / 109 HP)

ULYSSE (220) 2.1 TD (80 KW / 109 HP)

ULYSSE (220) 2.0 16V (97 KW / 132 HP)

03.2005 - 08.2008

09.2005 - 08.2008

09.2005 - 08.2008

09.2005 - 08.2008

01.2003 - 08.2008

01.2003 - 08.2008

01.2003 - 08.2008

01.2003 - 08.2008

01.2004 - 08.2008

01.2004 - 08.2008

YEAR

05.2006 - 06.2011

05.2006 - 06.2011

05.2003 - 08.2006

03.2008 - 06.2011

08.2002 - 06.2011

08.2002 - 06.2011

08.2002 - 08.2006

03.2008 - 06.2011

08.2002 - 08.2006

10.1999 - 08.2002

03.1996 - 10.1999

05.1998 - 09.2000

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

ITEM NUMBER

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240031

SKTR-0240031

SKTR-0240031

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf?
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]

Aufdengewinde
[mm]

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5 /
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5 /
M14X1.5
325

M14X1.5/
M14X1.5
325

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5



ULYSSE (220) 1.8 (220.BB5) (73 KW / 99 HP)

ULYSSE (220) 1.9 TD (220AH5) (66 KW / 90 HP)

ULYSSE (220) 2.0 16V (100 KW / 136 HP)

ULYSSE (220) 2.0 Turbo (220.AD5) (108 KW / 147 HP)

ULYSSE (220) 2.0 (220.AC5) (89 KW / 121 HP)

05.1997 - 08.2002

02.1995 - 08.2002

09.2000 - 08.2002

06.1994 - 08.2002

06.1994 - 08.2002

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5



< FORD

FORD ESCORT

MODEL

ESCORT Il Kombi (AWA) 1.6 (58 KW / 79 HP)

FORD FOCUS

MODEL

FOCUS (DAW, DBW) 2.0 (101 KW / 137 HP)
FOCUS (DAW, DBW) 1.8 TDGi (74 KW / 100 HP)

FOCUS (DAW, DBW) RS (158 KW / 215 HP)

FOCUS (DAW, DBW) 1.8 DI/ TDDi (55 KW / 75 HP)
FOCUS (DAW, DBW) 1.4 16V (55 KW / 75 HP)

FOCUS (DAW, DBW) 1.6 16V (74 KW / 100 HP)

FOCUS (DAW, DBW) 1.8 16V (85 KW / 115 HP)

FOCUS (DAW, DBW) 2.0 16V (96 KW / 131 HP)

FOCUS (DAW, DBW) 1.8 Turbo DI / TDDi (66 KW / 90 HP)
FOCUS (DAW, DBW) 1.6 16V Flexifuel (75 KW / 102 HP)
FOCUS (DAW, DBW) 1.8 TDGi (85 KW / 115 HP)

FOCUS (DAW, DBW) ST170 (127 KW / 173 HP)

FOCUS (DAW, DBW) 2.3 (107 KW / 146 HP)

FOCUS Il (DA_) 1.6 Flex (77 KW / 105 HP)

FOCUS Il (DA_) 1.6 Ti (85 KW / 115 HP)

FOCUS Il (DA) 2.0 (107 KW / 145 HP)

YEAR

09.1980 - 12.1985

YEAR

09.2004 - 12.2007

08.2002 - 11.2004

10.2002 - 11.2004

08.1999 - 11.2004

10.1998 - 11.2004

10.1998 - 11.2004

10.1998 - 11.2004

10.1998 - 11.2004

10.1998 - 11.2004

01.2002 - 11.2004

03.2001 - 11.2004

03.2002 - 11.2004

09.2002 - 12.2003

04.2007 - 11.2009

07.2004 - 09.2012

07.2004 - 09.2012

FITTING POSITION

Vorderachse

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEM NUMBER

SKRA-0250033

ITEMNUMBER

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

ITEM DETAILS

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}

Lange [mm]

M14x1,5 /
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5 /
M14x2,0
321



FOCUS Il (DA_) 2.0 Flex (107 KW / 145 HP)

FOCUS Il (DA ) 2.0 (104 KW / 140 HP)

FOCUS Il Kombi (DA_) 1.4 (59 KW / 80 HP)

FOCUS Il Kombi (DA_) 1.6 (74 KW / 100 HP)

FOCUS Il Kombi (DA_) 1.6 Ti (85 KW / 115 HP)

FOCUS Il Kombi (DA) 2.0 (107 KW / 145 HP)

FOCUS Il Stufenheck (DA_) 2.0 (107 KW / 145 HP)

FOCUS Il Stufenheck (DA_) 1.6 (76 KW / 103 HP)

FOCUS II Stufenheck (DA_) 2.0 (104 KW / 141 HP)

FOCUS Kombi (DNW) 2.3 (108 KW / 147 HP)

FOCUS Kombi (DNW) 2.0 (101 KW / 137 HP)

FOCUS Kombi (DNW) 2.0 16V (96 KW / 131 HP)

FOCUS Kombi (DNW) 1.8 Turbo DI/ TDDi (66 KW / 90 HP)

FOCUS Kombi (DNW) ST170 (127 KW / 173 HP)

FOCUS Kombi (DNW) 1.8 TDGi (74 KW / 100 HP)

FOCUS Kombi (DNW) 1.8 BiFuel (82 KW / 111 HP)

FOCUS Kombi (DNW) 1.8 DI/ TDDi (55 KW / 75 HP)

FOCUS Kombi (DNW) 1.4 16V (55 KW / 75 HP)

FOCUS Kombi (DNW) 1.6 16V (74 KW / 100 HP)

FOCUS Kombi (DNW) 1.8 16V (85 KW / 115 HP)

FOCUS Kombi (DNW) 1.6 16V Flexifuel (75 KW / 102 HP)

FOCUS Kombi (DNW) 1.8 TDCi (85 KW / 115 HP)

FOCUS Stufenheck (DFW) 2.0 (82 KW / 112 HP)

FOCUS Stufenheck (DFW) 2.3 (113 KW / 154 HP)

FOCUS Stufenheck (DFW) 2.0 (101 KW / 137 HP)

10.2008 - 03.2010

06.2005 - 09.2008

07.2004 - 09.2012

07.2004 - 07.2011

07.2004 - 09.2012

07.2004 - 09.2012

04.2005 - 07.2011

04.2005 - 09.2007

02.2008 -

09.2002 - 12.2004

09.2004 - 12.2007

02.1999 - 11.2004

02.1999 - 11.2004

08.2002 - 11.2004

08.2002 - 11.2004

02.2003 - 01.2005

08.1999 - 11.2004

02.1999 - 11.2004

02.1999 - 11.2004

02.1999 - 11.2004

01.2002 - 11.2004

03.2001 - 11.2004

09.1999 - 12.2004

09.2004 - 12.2007

09.2004 - 12.2007

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf

Linge [mm]

M14x1,5 /
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5 /
M14x2,0
321



FOCUS Stufenheck (DFW) 2.0 16V (96 KW / 131 HP)

FOCUS Stufenheck (DFW) 1.8 Turbo DI/ TDDi (66 KW / 90

HP)

FOCUS Stufenheck (DFW) 1.8 TDCi (74 KW / 100 HP)

FOCUS Stufenheck (DFW) 1.8 Turbo DI / TDDi (55 KW / 75

HP)

FOCUS Stufenheck (DFW) 1.4 16V (55 KW / 75 HP)
FOCUS Stufenheck (DFW) 1.6 16V (74 KW / 100 HP)
FOCUS Stufenheck (DFW) 1.8 16V (85 KW / 115 HP)

FOCUS Stufenheck (DFW) 1.8 TDCi (85 KW / 115 HP)

FORD GALAXY

MODEL
GALAXY (WGR) 2.3 4x4 (107 KW / 145 HP)
GALAXY (WGR) 2.8 i V6 4x4 (128 KW / 174 HP)
GALAXY (WGR) 1.9 TDI (110 KW / 150 HP)
GALAXY (WGR) 1.9 TDI (66 KW / 90 HP)
GALAXY (WGR) 2.0 i (85 KW / 116 HP)

GALAXY (WGR) 2.8 i V6 (128 KW / 174 HP)
GALAXY (WGR) 1.9 TDI (81 KW / 110 HP)
GALAXY (WGR) 2.3 16V (107 KW / 146 HP)
GALAXY (WGR) 2.3 16V (103 KW / 140 HP)
GALAXY (WGR) 1.9 TDI (96 KW / 130 HP)
GALAXY (WGR) 2.8 V6 (150 KW / 204 HP)

GALAXY (WGR) 1.9 TDI (85 KW / 115 HP)

FORD MONDEO

MODEL

MONDEO 1 (GBP) 2.0 i 16V 4x4 (100 KW / 136 HP)
MONDEO I (GBP) 1.8 TD (65 KW / 88 HP)
MONDEO I (GBP) 1.6 i 16V (66 KW / 90 HP)

MONDEO | (GBP) 1.8 i 16V (85 KW / 115 HP)

02.1999 - 11.2004

02.1999 - 11.2004

08.2002 - 11.2004

08.2001 - 03.2005

02.1999 - 11.2004

02.1999 - 11.2004

02.1999 - 11.2004

03.2001 - 11.2004

YEAR

09.1996 - 04.2000

04.1996 - 04.2000

05.2005 - 05.2006

03.1995 - 05.2006

11.1995 - 05.2006

11.1995 - 04.2000

08.1997 - 04.2000

01.1997 - 05.2006

09.2001 - 05.2006

02.2003 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

YEAR

04.1993 - 08.1996

06.1993 - 08.1996

02.1993 - 08.1996

02.1993 - 08.1996

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

FITTING POSITION

innen

innen radseitig

innen radseitig

innen radseitig

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

ITEMNUMBER

SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010

SKRA-0250010

ITEM NUMBER

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

ITEM DETAILS

Gewindemaf}
Lange [mm]

Gewindemaf}
Linge [mm]

Gewindemaf’
Linge [mm]

Gewindemaf}
Lange [mm]

M14x1,5 /
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5 /
M14x2,0
321

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340



MONDEO 1 (GBP) 2.0 i 16V (100 KW / 136 HP)

MONDEO | (GBP) 1.8 116V (82 KW /112 HP)

MONDEO | (GBP) 2.5 i 24V (125 KW / 170 HP)

MONDEO | (GBP) 1.6 i 16V (65 KW / 88 HP)

MONDEO I (GBP) 2.0 i 16V (97 KW / 132 HP)

MONDEO I (GBP) 1.8 i 16V 4x4 (85 KW / 115 HP)

MONDEO | (GBP) 2.0 i 16V 4x4 (97 KW / 132 HP)

MONDEO 1 (GBP) 1.8 TD (66 KW / 90 HP)

MONDEO | Kombi (BNP) 1.8 TD (65 KW / 88 HP)

MONDEO | Kombi (BNP) 1.6 i 16V (66 KW / 90 HP)

MONDEO | Kombi (BNP) 1.8 i 16V (85 KW / 115 HP)

MONDEO | Kombi (BNP) 2.0 i 16V (100 KW / 136 HP)

MONDEO | Kombi (BNP) 1.8 i 16V (82 KW / 112 HP)

MONDEO | Kombi (BNP) 2.5 i 24V (125 KW / 170 HP)

MONDEO | Kombi (BNP) 1.6 i 16V (65 KW / 88 HP)

MONDEO | Kombi (BNP) 2.0 i 16V 4x4 (97 KW / 132 HP)

MONDEO | Kombi (BNP) 2.0 i 16V (97 KW / 132 HP)

MONDEO | Kombi (BNP) 1.8 i 16V 4x4 (85 KW / 115 HP)

MONDEO | Kombi (BNP) 2.0 i 16V 4x4 (100 KW / 136 HP)

MONDEO | Kombi (BNP) 1.8 TD (66 KW / 90 HP)

MONDEO 1 Stufenheck (GBP) 1.8 TD (65 KW / 88 HP)

MONDEO I Stufenheck (GBP) 1.6 i 16V (66 KW / 90 HP)

MONDEQO | Stufenheck (GBP) 1.8 i 16V (85 KW / 115 HP)

MONDEQO | Stufenheck (GBP) 2.0 i 16V (100 KW / 136 HP)

MONDEQO | Stufenheck (GBP) 1.8 i 16V (82 KW / 112 HP)

MONDEO | Stufenheck (GBP) 2.5 i 24V (125 KW / 170 HP)

MONDEO | Stufenheck (GBP) 1.6 i 16V (65 KW / 88 HP)

MONDEO | Stufenheck (GBP) 2.0 i 16V 4x4 (97 KW / 132
HP)

MONDEQO | Stufenheck (GBP) 1.8 4x4 (85 KW / 116 HP)

MONDEQO I Stufenheck (GBP) 2.0 i 16V 4x4 (100 KW / 136
HP)

MONDEQO | Stufenheck (GBP) 1.8 TD (66 KW / 90 HP)

MONDEO Il (BAP) 2.5 24V (125 KW / 170 HP)

MONDEO Il (BAP) 1.6 i (66 KW / 90 HP)

MONDEO Il (BAP) 1.8 i (85 KW / 115 HP)

02.1993 - 08.1996

07.1994 - 08.1996

07.1994 - 08.1996

07.1994 - 08.1996

12.1994 - 08.1996

02.1993 - 08.1996

12.1994 - 08.1996

10.1995 - 08.1996

06.1993 - 08.1996

04.1993 - 08.1996

04.1993 - 08.1996

04.1993 - 08.1996

07.1994 - 08.1996

07.1994 - 08.1996

07.1994 - 08.1996

12.1994 - 08.1996

01.1993 - 08.1996

04.1993 - 08.1996

04.1993 - 08.1996

11.1995 - 08.1996

06.1993 - 08.1996

02.1993 - 08.1996

02.1993 - 08.1996

02.1993 - 08.1996

01.1994 - 08.1996

07.1994 - 08.1996

07.1994 - 08.1996

12.1994 - 08.1996

02.1993 - 08.1996

02.1993 - 08.1996

10.1995 - 08.1996

06.2000 - 09.2000

08.1996 - 09.2000

08.1996 - 09.2000

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen

innen

innen radseitig

innen radseitig

innen radseitig

innen radseitig

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340



MONDEO Il (BAP) 2.0 i (96 KW / 131 HP)

MONDEO Il (BAP) 2.5 24V (125 KW / 170 HP)

MONDEO Il (BAP) 1.8 TD (66 KW / 90 HP)

MONDEO Il (BAP) 2.5 ST 200 (151 KW / 205 HP)

MONDEDO Il (BAP) 1.6 i 16V (70 KW / 95 HP)

MONDEO Il Kombi (BNP) 2.5 24V (125 KW / 170 HP)

MONDEO Il Kombi (BNP) 1.6 i (66 KW / 90 HP)

MONDEO Il Kombi (BNP) 1.8 i (85 KW / 115 HP)

MONDEO Il Kombi (BNP) 2.0 i (96 KW / 131 HP)

MONDEO Il Kombi (BNP) 2.5 24V (125 KW / 170 HP)

MONDEO Il Kombi (BNP) 1.8 TD (66 KW / 90 HP)

MONDEO Il Kombi (BNP) 2.5 ST 200 (151 KW / 205 HP)

MONDEO Il Kombi (BNP) 1.6 i 16V (70 KW / 95 HP)

MONDEO Il Stufenheck (BFP) 2.5 24V (125 KW / 170 HP)

MONDEO Il Stufenheck (BFP) 1.6 i (66 KW / 90 HP)

MONDEO Il Stufenheck (BFP) 1.8 i (85 KW / 115 HP)

MONDEO I Stufenheck (BFP) 2.0 i (96 KW / 131 HP)

MONDEO I Stufenheck (BFP) 2.5 24V (125 KW / 170 HP)

MONDEO I Stufenheck (BFP) 1.8 TD (66 KW / 90 HP)

MONDEO Il Stufenheck (BFP) 2.5 ST 200 (151 KW / 205 HP)

MONDEO Il Stufenheck (BFP) 1.6 i 16V (70 KW / 95 HP)

MONDEO il (B5Y) 2.2 TDGi (110 KW / 150 HP)

MONDEO il (B5Y) 2.0 TDCi (96 KW / 130 HP)

MONDEO Il (B5Y) 2.0 TDGi (92 KW / 125 HP)

MONDEO Iil (B5Y) 2.2 TDGi (114 KW / 155 HP)

MONDEO il (B5Y) 3.0 V6 24V (150 KW / 204 HP)

MONDEO il (B5Y) 1.8 16V (81 KW / 110 HP)

MONDEDO il (B5Y) 1.8 16V (92 KW / 125 HP)

MONDEO Il (B5Y) 2.0 16V (107 KW / 146 HP)

MONDEO il (B5Y) 2.5 V6 24V (125 KW / 170 HP)

MONDEO il (B5Y) 2.0 16V DI/ TDDi / TDCi (66 KW / 90 HP)

MONDEO il (B5Y) 2.0 16V TDDi/ TDGi (85 KW / 115 HP)

MONDEDO il (B5Y) 1.8 SCi (96 KW / 130 HP)

08.1996 - 09.2000

08.1996 - 09.2000

08.1996 - 09.2000

05.1999 - 09.2000

05.1998 - 09.2000

10.1999 - 09.2000

08.1996 - 09.2000

08.1996 - 09.2000

08.1996 - 09.2000

08.1996 - 09.2000

08.1996 - 09.2000

05.1999 - 09.2000

05.1998 - 09.2000

06.2000 - 09.2000

08.1996 - 09.2000

08.1996 - 09.2000

08.1996 - 09.2000

08.1996 - 09.2000

08.1996 - 09.2000

05.1999 - 09.2000

05.1998 - 09.2000

09.2004 - 03.2007

10.2001 - 03.2007

02.2003 - 06.2005

09.2004 - 03.2007

09.2004 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

06.2003 - 03.2007

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen

Vorderachse
links

links

links

links

Vorderachse
links

Vorderachse
links

Vorderachse
links

links

links

links

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}
Lange [mm]

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340



MONDEO Il (B5Y) ST220 (166 KW / 226 HP)

MONDEO Il Kombi (BWY) 2.0 TDCi (96 KW / 130 HP)
MONDEO il Kombi (BWY) 2.2 TDCi (114 KW / 155 HP)
MONDEO Il Kombi (BWY) 2.2 TDCi (110 KW / 150 HP)
MONDEO Il Kombi (BWY) 3.0 V6 24V (150 KW / 204 HP)
MONDEO il Kombi (BWY) 1.8 16V (81 KW / 110 HP)

MONDEO Iil Kombi (BWY) 1.8 16V (92 KW / 125 HP)

MONDEO Il Kombi (BWY) 2.0 16V (107 KW / 146 HP)

MONDEO Il Kombi (BWY) 2.5 V6 24V (125 KW / 170 HP)

MONDEO IIl Kombi (BWY) 2.0 16V DI / TDDi / TDCi (66 KW /
90 HP)

MONDEO Ill Kombi (BWY) 2.0 16V TDDi / TDCi (85 KW /
115 HP)

MONDEO il Kombi (BWY) 1.8 SCi (96 KW / 130 HP)
MONDEO Il Kombi (BWY) ST220 (166 KW / 226 HP)
MONDEO Ill Stufenheck (B4Y) 2.5 V6 (125 KW / 170 HP)
MONDEO Ill Stufenheck (B4Y) 2.2 TDGi (110 KW / 150 HP)
MONDEO Ill Stufenheck (B4Y) 2.0 TDGi (96 KW / 130 HP)
MONDEO Il Stufenheck (B4Y) 2.0 TDGi (92 KW / 125 HP)
MONDEO Il Stufenheck (B4Y) 1.8 16V (81 KW / 110 HP)
MONDEO Ill Stufenheck (B4Y) 1.8 16V (92 KW / 125 HP)
MONDEO Ill Stufenheck (B4Y) 2.0 16V (107 KW / 146 HP)

MONDEDO il Stufenheck (B4Y) 2.5 V6 24V (125 KW /170
HP)

MONDEO Il Stufenheck (B4Y) 2.0 16V DI/ TDDi / TDCi (66
KW /90 HP)

MONDEO il Stufenheck (B4Y) 2.0 16V TDDi / TDGi (85 KW /
115 HP)

MONDEO IIl Stufenheck (B4Y) 2.2 TDCi (114 KW / 155 HP)

MONDEQO Il Stufenheck (B4Y) 3.0 V6 24V (150 KW / 204
HP)

MONDEDO Il Stufenheck (B4Y) 2.0 (106 KW / 144 HP)
MONDEDO Il Stufenheck (B4Y) 1.8 SCi (96 KW / 130 HP)

MONDEO Il Stufenheck (B4Y) ST220 (166 KW / 226 HP)

FORD TOURNEO CONNECT

MODEL

04.2002 - 03.2007

10.2001 - 03.2007

09.2004 - 03.2007

09.2004 - 03.2007

09.2004 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

06.2003 - 03.2007

04.2002 - 03.2007

10.2000 - 03.2007

09.2004 - 03.2007

10.2001 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

10.2000 - 03.2007

09.2004 - 03.2007

09.2004 - 03.2007

10.2000 - 03.2007

06.2003 - 03.2007

04.2002 - 03.2007

links

links

links

innen

links

links

Vorderachse
links

rechts

Vorderachse
links

links

links

rechts

rechts

links

innen

links

rechts

rechts

links

links

rechts

Vorderachse
links

links

rechts

rechts

Vorderachse
links

FITTING POSITION

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

SKTR-0240050

ITEMNUMBER

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Linge [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

ITEM DETAILS

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340

16x1,5
340



TOURNEO CONNECT 1.8 Di (55 KW / 75 HP)

TOURNEO CONNECT 1.8 Turbo Di (66 KW / 90 HP)

TOURNEO CONNECT 1.8 16V (85 KW /116 HP)

TOURNEO CONNECT 1.8 TDCi (81 KW / 110 HP)

TOURNEO CONNECT 2.0 (101 KW /137 HP)

TOURNEO CONNECT ELECTRIC (58 KW / 79 HP)

06.2002 - 12.2013

06.2002 - 12.2013

06.2002 - 12.2013

08.2006 - 12.2013

09.2009 - 12.2013

09.2011 - 12.2013

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

SKTR-0240021

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]

Gewindemaf}

Lange [mm]

M14x1,5 /
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5/
M14x2,0
321

M14x1,5 /
M14x2,0
321

M14x1,5/
M14x2,0
321



HONDA CIVIC

MODEL

CIVIC Il Shuttle (EE) 1.6 4x4 (85 KW / 116 HP)

CIVIC Il Shuttle (EE) 1.6 i 16V 4WD (EE4) (80 KW / 109 HP)

CIVIC Il Shuttle (EE) 1.6 i 16V 4WD (EE4) (81 KW / 110 HP)

CIVIC I Shuttle (EE) 1.4 i 16V (EE1) (66 KW / 90 HP)

CIVIC Il Shuttle (EE) 1.5 i 16V (EE2) (69 KW / 94 HP)

CIVIC IV Hatchback (EC, ED, EE) 1.4 L (EC9) (66 KW / 90 HP)

CIVIC IV Hatchback (EC, ED, EE) 1.6 i 16V (ED7) (80 KW /

109 HP)

CIVIC IV Hatchback (EC, ED, EE) 1.3 16 V (EC8) KAT (55 KW /
75 HP)

CIVIC IV Hatchback (EC, ED, EE) 1.5 i 16V (ED6) (69 KW / 94
HP)

CIVIC IV Hatchback (EC, ED, EE) 1.6 i 16V (ED7) (81 KW /
110 HP)

CIVIC IV Hatchback (EC, ED, EE) 1.6 i 16V Vtec (EE9) (110 KW

/150 HP)

CIVIC IV Hatchback (EC, ED, EE) 1.6 i 16V (91 KW / 124 HP)

CIVIC IV Hatchback (EC, ED, EE) 1.3 (EC8) (55 KW / 75 HP)

CIVIC IV Hatchback (EC, ED, EE) 1.5 i 16V (66 KW / 90 HP)

CIVIC IV Hatchback (EC, ED, EE) 1.5 (60 KW / 82 HP)

CIVIC IV Hatchback (EC, ED, EE) 1.6 i 16V (96 KW / 130 HP)

CIVIC IV Stufenheck (ED) 1.4 L (ED2) (66 KW / 90 HP)

CIVIC IV Stufenheck (ED) 1.6 i 16V (ED4) (80 KW / 109 HP)

CIVIC IV Stufenheck (ED) 1.5 i 16V (ED3) (69 KW / 94 HP)

CIVIC IV Stufenheck (ED) 1.6 i 16V (ED4) (81 KW / 110 HP)

YEAR

01.1988 - 12.1992

01.1988 - 12.1989

01.1988 - 02.1995

01.1988 - 12.1992

01.1988 - 11.1991

10.1987 - 12.1989

10.1987 - 09.1991

09.1989 - 09.1991

10.1988 - 09.1991

10.1987 - 09.1991

10.1989 - 09.1991

01.1988 - 12.1991

10.1987 - 12.1989

10.1988 - 09.1991

01.1988 - 12.1989

09.1987 - 09.1991

10.1987 - 12.1989

11.1987 - 09.1991

10.1987 - 09.1991

10.1987 - 09.1991

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

ITEM NUMBER

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

1815
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25



CIVIC IV Stufenheck (ED) 1.6 16V 4x4 (79 KW / 107 HP)

CIVIC IV Stufenheck (ED) 1.5 i 16V (66 KW / 90 HP)

CIVIC IV Stufenheck (ED) 1.6 (91 KW / 124 HP)

CIVIC IV Stufenheck (ED) 1.6 4x4 (91 KW / 124 HP)

CIVIC IV Stufenheck (ED) 1.6 4x4 (110 KW / 150 HP)

CIVIC IV Stufenheck (ED) 1.2 (41 KW / 56 HP)

CIVIC IV Stufenheck (ED) 1.5 (60 KW / 82 HP)

CIVIC IV Stufenheck (ED) 1.6 i 16V (96 KW / 130 HP)

CIVIC IV Stufenheck (ED) 1.3 (55 KW / 75 HP)

CIVIC IV Stufenheck (ED) 1.6 i 16V 4x4 (80 KW / 109 HP)

CIVIC V Coupe (EJ) 1.6 i Vtec (118 KW / 160 HP)

CIVIC V Coupe (EJ) 1.5 (69 KW / 94 HP)

CIVICV Coupe (EJ) 1.6 i (EJ6) (77 KW / 105 HP)

CIVIC V Coupe (EJ) 1.6 i Vtec (EJ1) (92 KW / 125 HP)

CIVIC V Coupe (EJ) 1.5 i LSi (E)2) (74 KW / 101 HP)

CIVIC V Hatchback (EG) 1.5 i 16V (EG4) (66 KW / 90 HP)

CVIC V Hatchback (EG) 1.3 16V (EG3) (55 KW / 75 HP)

CIVIC V Hatchback (EG) 1.5 i 16V (EG4) (69 KW / 94 HP)

CIVIC V Hatchback (EG) 1.6 16V Vtec (EG5) (92 KW / 125 HP)

CIVIC V Hatchback (EG) 1.6 VTi 16V (EG6) (118 KW / 160

HP)

CIVIC V Stufenheck (EG, EH) 1.5 (67 KW / 91 HP)

CIVIC V Stufenheck (EG, EH) 1.6 (EH9) (96 KW / 131 HP)

CIVIC V Stufenheck (EG, EH) 1.5 (EG8) (74 KW / 101 HP)

CIVIC V Stufenheck (EG, EH) 1.5 (66 KW / 90 HP)

CIVIC V Stufenheck (EG, EH) 1.6 4x4 (92 KW / 125 HP)

11.1987 - 09.1991

10.1987 - 09.1991

01.1988 - 12.1989

01.1989 - 12.1989

01.1988 - 12,1991

01.1988 - 12,1991

01.1988 - 12.1989

09.1987 - 09.1991

10.1987 - 12.1989

10.1989 - 09.1991

01.1994 - 11.1995

08.1993 - 12,1995

01.1994 - 11.1995

01.1994 - 03.1996

08.1993 - 11.1995

10.1991 - 11.1995

10.1991 - 11.1995

10.1991 - 11.1995

10.1991 - 11.1995

10.1991 - 11.1995

10.1993 - 12.1995

10.1991 - 10.1993

10.1993 - 12.1995

10.1993 - 12.1995

01.1992 - 10.1995

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

181,5
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25



CIVIC V Stufenheck (EG, EH) 1.5 i 16V (EG8) (69 KW / 94 HP)
CIVIC V Stufenheck (EG, EH) 1.6 16V Vtec (EH9) (92 KW /
125 HP)

CIVIC V Stufenheck (EG, EH) 1.6 VTi (EG9) (118 KW / 160
HP)

CIVIC V Stufenheck (EG, EH) 1.5 (61 KW / 83 HP)

CIVIC V Stufenheck (EG, EH) 1.6 EX (88 KW / 120 HP)

CIVIC VI Aerodeck (MB, MC) 1.4 16V (MBS8) (55 KW / 75 HP)

CIVIC VI Aerodeck (MB, MC) 1.4 16V (MB8) (66 KW / 90 HP)

CIVIC VI Aerodeck (MB, MC) 1.5 16V (MB9) (84 KW / 114

HP)

CIVIC VI Aerodeck (MB, MC) 1.6 16V (MC1) (85 KW / 116
HP)

CIVIC VI Aerodeck (MB, MC) 1.8 16V (MC2) (124 KW / 169
HP)

CIVIC VI Aerodeck (MB, MC) 2.0 i D (MC3) (77 KW / 105 HP)

CIVIC VI Coupe (EJ, EM1) 1.6 i Vtec (92 KW / 125 HP)

CIVIC VI Coupe (EJ, EM1) 1.6 i (77 KW / 105 HP)

CIVIC VI Coupe (EJ, EM1) 1.6 i Vtec (118 KW / 160 HP)

CIVIC VI Fastback (MA, MB) 1.5 16V (MB3) (84 KW / 114

HP)

CIVIC VI Fastback (MA, MB) 1.8 16V (MB6) (124 KW / 169
HP)

CIVIC VI Fastback (MA, MB) 2.0 i TD (MB7) (63 KW / 86 HP)

CIVIC VI Fastback (MA, MB) 1.6 i (MB1) (83 KW / 113 HP)

CIVIC VI Fastback (MA, MB) 1.6 i Vtec (MB1) (93 KW /126

HP)

CIVIC VI Fastback (MA, MB) 1.5 i Vtec-E (MA9) (66 KW / 90
HP)

CIVIC VI Fastback (MA, MB) 1.4 i (MAS, MB2) (66 KW / 90
HP)

CIVIC VI Fastback (MA, MB) 1.4 i (MAS, MB2) (55 KW / 75
HP)
CIVIC VI Hatchback (EJ, EK) 1.4 i (E9) (55 KW / 75 HP)

CIVIC VI Hatchback (EJ, EK) 1.4 i S (EJ9) (66 KW / 90 HP)

CIVIC VI Hatchback (EJ, EK) 1.6 i (EK1) (84 KW / 114 HP)

10.1991 - 11.1995

10.1991 - 11.1995

10.1991 - 11.1995

01.1992 - 12.1992

08.1993 - 10.1995

04.1998 - 02.2001

04.1998 - 02.2001

04.1998 - 02.2001

04.1998 - 02.2001

04.1998 - 02.2001

04.1998 - 02.2001

03.1996 - 03.2000

03.1996 - 03.2000

04.1999 - 12.2000

01.1997 - 02.2001

01.1997 - 02.2001

01.1997 - 02.2001

09.1994 - 01.1997

09.1994 - 01.1997

09.1994 - 01.1997

06.1995 - 02.2001

09.1995 - 02.2001

11.1995 - 02.2001

11.1995 - 02.2001

11.1995 - 02.2001

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240032

SKTR-0240032

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25



CIVIC VI Hatchback (EJ, EK) 1.5 i (EK3) (84 KW / 114 HP)

CIVIC VI Hatchback (EJ, EK) 1.6 VTi (EK4) (118 KW / 160 HP)

CIVIC VI Stufenheck (EJ, EK) 1.6 i Vtec (92 KW / 125 HP)

CIVIC VI Stufenheck (EJ, EK) 1.4 i (E19) (66 KW / 90 HP)

CIVIC VI Stufenheck (EJ, EK) 1.5 i (EK3) (84 KW / 114 HP)

CIVIC VI Stufenheck (EJ, EK) 1.6 VTi (EK4) (118 KW / 160 HP)

HONDA CR-V

MODEL

CR-V | (RD) 2.0 4WD (109 KW / 148 HP)
CR-V | (RD) 2.0 (98 KW / 133 HP)
CR-V | (RD) 2.0 16V (RD1, RD3) (108 KW / 147 HP)

CR-V | (RD) 2.0 16V (RD1, RD3) (94 KW / 128 HP)

HONDA CRX

MODEL

CRX Il (ED, EE) 1.6 i 16V (ED9) (96 KW / 131 HP)
CRX Il (ED, EE) 1.6 i 16V (ED9) (91 KW / 124 HP)

CRX Il (ED, EE) 1.6 i 16V Vtec (EE8) (110 KW / 150 HP)
CRX Il (ED, EE) 1.6 i 16V (79 KW / 107 HP)

CRX Il (ED, EE) 1.4 GL (66 KW / 90 HP)

CRX Ill (EH, EG) 1.6 ESi (EH6) (92 KW / 125 HP)

CRX Ill (EH, EG) 1.6 i VTi (EG2) (118 KW / 160 HP)

CRX Il (EH, EG) 1.5 (77 KW / 105 HP)

11.1995 - 02.2001

11.1995 - 02.2001

11.1995 - 02.2001

11.1995 - 02.2001

11.1995 - 02.2001

11.1995 - 02.2001

YEAR

09.1998 - 12.2001

04.1999 - 02.2002

01.1999 - 02.2002

10.1995 - 12.2001

YEAR

10.1987 - 12.1989

10.1987 - 02.1992

10.1989 - 02.1992

10.1987 - 12.1991

01.1990 - 12.1991

03.1992 - 12.1998

03.1992 - 12.1998

01.1994 - 04.1998

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240024

SKTR-0240032

SKTR-0240032

ITEM NUMBER

SKTR-0240049

SKTR-0240049

SKTR-0240049

SKTR-0240049

ITEMNUMBER

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240024

SKTR-0240032

SKTR-0240032

SKTR-0240032

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
AufRengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]

Auf3engewinde
[mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

M12X1.25
/M14X1.5
220

M12X1.25
/M14X1.5
220

M12X1.25
/M14X1.5
220

M12X1.25
/M14X1.5
220

1815
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

181,5
M14x1,5/
M12x1,25

1815
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25



HONDA INTEGRA

MODEL YEAR FITTING POSITION ITEMNUMBER ITEM DETAILS

INTEGRA Coupe (DC2, DC4) 1.8 Type-R (140 KW /190 HP)  11.1997 - 10.2001 rechts SKTR-0240032 Léinge [mm] 193
Auf3engewinde M14x1,5/
[mm] M12x1,25




LANCIA DELTA

MODEL

DELTA Il (844) 1.4 16V (103 KW / 140 HP)
DELTA Il (844) 1.4 Bifuel (88 KW / 120 HP)
DELTA Il (844) 1.6 D Multijet (85 KW / 116 HP)
DELTA Il (844) 1.4 (88 KW / 120 HP)

DELTA Il (844) 1.4 (110 KW / 150 HP)

DELTA Il (844) 1.6 D Multijet (88 KW / 120 HP)
DELTA Il (844) 2.0 D Multijet (120 KW / 163 HP)
DELTA Il (844) 1.9 D Multijet (140 KW / 190 HP)
DELTA Il (844) 2.0 D Multijet (121 KW / 165 HP)
DELTA Il (844) 1.8 (147 KW / 200 HP)

DELTA il (844) 1.6 D Multijet (77 KW / 105 HP)

LANCIA PHEDRA

MODEL

PHEDRA (179) 2.2 D Multijet (125 KW / 170 HP)
PHEDRA (179) 2.0 D Multijet (100 KW / 136 HP)
PHEDRA (179) 2.0 JTD (88 KW / 120 HP)

PHEDRA (179) 2.0 JTD (79 KW / 107 HP)

PHEDRA (179) 2.0 (179AXA11) (100 KW / 136 HP)

PHEDRA (179) 3.0 V6 (150 KW / 204 HP)

LANCIA

YEAR

07.2010 - 08.2014

07.2011 - 08.2014

08.2008 - 08.2014

09.2008 - 08.2014

09.2008 - 08.2014

09.2008 - 08.2014

09.2008 - 08.2014

01.2009 - 08.2014

09.2008 - 08.2014

01.2009 - 08.2014

04.2011 - 08.2014

YEAR

03.2008 - 11.2010

07.2006 - 11.2010

06.2006 - 11.2010

07.2003 - 11.2010

09.2002 - 11.2010

09.2002 - 11.2010

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEM NUMBER

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

SKTR-0240067

ITEM NUMBER

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

ITEM DETAILS

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
AufRengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

314
M14x1,5

M14X1.5/
M14X1.5
325

M14X1.5 /
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325



PHEDRA (179) 2.0 JTD (179AXB1A) (80 KW / 109 HP)
PHEDRA (179) 2.2 JTD (179AXC1A) (94 KW / 128 HP)

PHEDRA (179) 2.2 JTD (120 KW / 163 HP)

LANCIA ZETA

MODEL

ZETA (220) 2.0 Turbo (220AD5, 220CD5) (108 KW / 147
HP)

ZETA (220) 2.1 TD (220AJ5) (80 KW / 109 HP)

ZETA (220) 2.0 16V (220AL5) (97 KW / 132 HP)

ZETA (220) 2.0 JTD (220AN5) (80 KW / 109 HP)

ZETA (220) 2.0 JTD (80 KW / 109 HP)

ZETA (220) 2.0 16V (220AQ5) (100 KW / 136 HP)

09.2002 - 11.2010

09.2002 - 11.2010

04.2006 - 11.2010

YEAR

05.1995 - 09.2002

05.1996 - 09.1999

05.1998 - 07.2000

09.1999 - 09.2002

04.2000 - 09.2002

07.2000 - 09.2002

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240044

SKTR-0240044

SKTR-0240044

ITEM NUMBER

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

M14X1.5 /
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5



& MAZDA

MAZDA 6

MODEL

6 (GG) 3.0 (162 KW / 220 HP)
6 (GG) 1.8 (88 KW / 120 HP)

6 (GG) 2.3 MPS Turbo (191 KW / 260 HP)
6 (GG) 2.0 (104 KW / 141 HP)

6 (GG) 2.3 (122 KW / 166 HP)

6 (GG) 2.0 DI (100 KW / 136 HP)

6 (GG) 3.0 (164 KW / 223 HP)

6 (GG) 2.3 (116 KW / 158 HP)

6 (GG) 3.0 (160 KW / 218 HP)

6 (GG) 2.3 AWD (204 KW / 277 HP)

6 (GG) 3.0 (158 KW / 215 HP)

6 (GG) 2.0 DI (105 KW / 143 HP)

6 (GG) 2.3 (103 KW / 138 HP)

6 (GG) 2.0 (108 KW / 147 HP)

6 (GG) 2.3 (120 KW / 163 HP)

6 (GG) 2.0 DI (89 KW / 121 HP)

6 (GG) 2.3 (119 KW / 162 HP)

6 Hatchback (GG) 3.0 (162 KW / 220 HP)
6 Hatchback (GG) 3.0 (164 KW / 223 HP)

6 Hatchback (GG) 2.5 (125 KW / 170 HP)

YEAR

07.2003 - 02.2005

08.2002 - 08.2007

12.2005 - 08.2007

06.2002 - 08.2007

06.2002 - 08.2007

06.2002 - 08.2007

03.2005 - 08.2007

09.2006 - 12.2008

02.2005 - 12.2006

09.2005 - 12.2006

09.2006 - 12.2008

06.2005 - 08.2007

09.2006 - 08.2007

03.2005 - 08.2007

03.2005 - 07.2007

08.2002 - 08.2007

07.2003 - 02.2005

01.2004 - 12.2007

01.2005 - 12.2007

08.2007 - 12.2008

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEM NUMBER

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5



6 Hatchback (GG) 1.8 (88 KW / 120 HP)

6 Hatchback (GG) 2.0 (104 KW / 141 HP)

6 Hatchback (GG) 2.3 (122 KW / 166 HP)

6 Hatchback (GG) 2.0 DI (100 KW / 136 HP)

6 Hatchback (GG) 3.0 (158 KW / 215 HP)

6 Hatchback (GG) 2.3 (119 KW / 162 HP)

6 Hatchback (GG) 3.0 (160 KW / 218 HP)

6 Hatchback (GG) 2.0 DI (105 KW / 143 HP)

6 Hatchback (GG) 2.0 (108 KW / 147 HP)

6 Hatchback (GG) 2.0 DI (89 KW / 121 HP)

6 Station Wagon (GY) 2.3 AWD (119 KW / 162 HP)

6 Station Wagon (GY) 3.0 (164 KW / 223 HP)

6 Station Wagon (GY) 3.0 (162 KW / 220 HP)

6 Station Wagon (GY) 1.8 (88 KW /120 HP)

6 Station Wagon (GY) 2.0 (104 KW / 141 HP)

6 Station Wagon (GY) 2.3 (122 KW / 166 HP)

6 Station Wagon (GY) 2.0 DI (100 KW / 136 HP)

6 Station Wagon (GY) 3.0 (160 KW / 218 HP)

6 Station Wagon (GY) 2.0 DI (105 KW / 143 HP)

6 Station Wagon (GY) 2.0 (108 KW / 147 HP)

6 Station Wagon (GY) 2.0 DI (89 KW / 121 HP)

08.2002 - 08.2007

08.2002 - 08.2007

08.2002 - 08.2007

08.2002 - 08.2007

09.2006 - 12.2008

09.2003 - 12.2006

09.2005 - 12.2006

06.2005 - 08.2007

03.2005 - 08.2007

08.2002 - 08.2007

11.2002 - 08.2007

01.2005 - 12.2007

01.2004 - 12.2007

08.2002 - 08.2007

08.2002 - 08.2007

08.2002 - 08.2007

08.2002 - 02.2005

09.2005 - 12.2006

06.2005 - 08.2007

03.2005 - 08.2007

08.2002 - 08.2007

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

SKTR-0240066

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]

Gewindemaf}

Linge [mm]

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5

M18X1.5/
M14X1.5
199.5



MERCEDES-BENZ 190

MODEL
190 (W201) E 1.8 (201.018) (80 KW / 109 HP)

190 (W201) 2.0 (201.022) (66 KW / 90 HP)

190 (W201) E 2.0 (201.024) (83 KW / 113 HP)

190 (W201) E 2.0 (201.024) (85 KW / 116 HP)

190 (W201) 2.0 (201.023) (75 KW / 102 HP)

190 (W201) 2.0 (201.023) (77 KW / 105 HP)

190 (W201) E 2.0 (87 KW / 118 HP)

190 (W201) E 2.0 (201.024) (90 KW / 122 HP)

190 (W201) E 2.3-16 (125 KW / 170 HP)

190 (W201) E 2.3-16 (130 KW / 177 HP)

190 (W201) E 2.3-16 (201.034) (136 KW / 185 HP)
190 (W201) E (97 KW / 132 HP)

190 (W201) E 2.3 (201.028) (100 KW / 136 HP)

190 (W201) E 2.5-16 (143 KW / 194 HP)

190 (W201) E 2.5-16 (150 KW / 204 HP)

190 (W201) E 2.6 (122 KW / 166 HP)

190 (W201) D 2.0 (201.122) (53 KW / 72 HP)

190 (W201) D 2.0 (201.122) (55 KW / 75 HP)

190 (W201) D 2.5 (201.126) (66 KW / 90 HP)

190 (W201) D 2.5 (201.126) (69 KW / 94 HP)

190 (W201) Turbo-D 2.5 (201.128) (90 KW / 122 HP)
190 (W201) Turbo-D 2.5 (201.128) (93 KW / 126 HP)
190 (W201) E Evolution Il 2.5 (173 KW / 235 HP)

190 (W201) E 2.6 (201.029) (118 KW / 160 HP)

190 (W201) E 2.0 (93 KW / 126 HP)

190 (W201) 2.3 (97 KW / 132 HP)

190 (W201) 2.3 E (100 KW / 136 HP)

190 (W201) 2.6 (118 KW / 160 HP)

YEAR

04.1990 - 08.1993

10.1982 - 10.1984

02.1985 - 12.1986

02.1985 - 12.1986

01.1986 - 05.1990

08.1983 - 05.1990

01.1985 - 08.1993

10.1982 - 06.1993

09.1985 - 12.1987

09.1985 - 08.1988

04.1984 - 01.1987

09.1986 - 08.1991

10.1986 - 08.1993

03.1989 - 08.1993

09.1988 - 08.1993

09.1986 - 12.1989

08.1983 - 08.1989

08.1989 - 08.1993

04.1985 - 08.1993

08.1989 - 08.1993

02.1988 - 08.1993

02.1988 - 08.1993

05.1990 - 08.1993

09.1986 - 08.1993

10.1982 - 06.1993

09.1987 - 09.1988

10.1982 - 09.1988

10.1982 - 09.1988

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEM NUMBER

SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035
SKRA-0250035

MERCEDES-BENZ

ITEM DETAILS



MERCEDES-BENZ A-KLASSE

MODEL

A-CLASS (W168) A 140 (168.031, 168.131) (60 KW / 82
HP)

A-CLASS (W168) 1.9 A 190 Twin Engine (184 KW / 250 HP)
A-CLASS (W168) A 160 CDI (168.007) (44 KW / 60 HP)
A-CLASS (W168) A 170 CDI (168.008) (66 KW / 90 HP)

A-CLASS (W168) A 140 (168.031, 168.131) (60 KW / 82
HP)

A-CLASS (W168) A 160 (168.033, 168.133) (75 KW /102
HP)

A-CLASS (W168) A 190 (168.032, 168.132) (92 KW /125
HP)

A-CLASS (W168) A 210 (168.035, 168.135) (103 KW /
140 HP)

A-CLASS (W168) A 160 CDI (168.006) (55 KW / 75 HP)

A-CLASS (W168) A 170 (DI (168.009, 168.109) (70 KW /
95 HP)

MERCEDES-BENZ C-KLASSE

MODEL

C-CLASS (W202) C 36 AMG (200 KW / 272 HP)
C-CLASS (W202) C 230 (202.023) (110 KW / 150 HP)
C-CLASS (W202) C 200 D (202.122) (65 KW / 88 HP)

C-CLASS (W202) C 200 Kompressor (202.025) (141 KW /
192 HP)

C-CLASS (W202) C 220 D (55 KW / 75 HP)
C-CLASS (W202) C 180 (202.018) (89 KW / 121 HP)
C-CLASS (W202) C 200 (202.020) (100 KW / 136 HP)
C-CLASS (W202) C 36 AMG (202.028) (206 KW / 280 HP)
C-CLASS (W202) C 220 CDI (202.133) (92 KW / 125 HP)
C-CLASS (W202) C 200 D (202.120) (55 KW / 75 HP)
C-CLASS (W202) C 220 D (202.121) (70 KW / 95 HP)
C-CLASS (W202) C 230 (138 KW / 188 HP)

C-CLASS (W202) C 250 D (202.125) (83 KW / 113 HP)
C-CLASS (W202) C 180 (202.018) (90 KW / 122 HP)
C-CLASS (W202) C 220 (202.022) (110 KW / 150 HP)

C-CLASS (W202) C 280 (202.028) (142 KW / 193 HP)

YEAR

01.2001 - 08.2004

04.1999 - 02.2001

07.1998 - 02.2001

07.1998 - 02.2001

07.1997 - 08.2004

07.1997 - 08.2004

03.1999 - 08.2004

12.2001 - 08.2004

02.2001 - 08.2004

02.2001 - 08.2004

YEAR

09.1994 - 12.1996

06.1996 - 06.1997

10.1996 - 05.2000

11.1996 - 05.2000

07.1996 - 05.2000

11.1994 - 05.2000

01.1994 - 05.2000

05.1994 - 05.2000

09.1997 - 05.2000

03.1993 - 05.2000

08.1993 - 05.2000

09.1998 - 05.2000

05.1993 - 05.2000

03.1993 - 05.2000

03.1993 - 05.2000

05.1993 - 05.2000

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEMNUMBER

SKTR-0240039

SKTR-0240039

SKTR-0240039

SKTR-0240039

SKTR-0240039

SKTR-0240039

SKTR-0240039

SKTR-0240039

SKTR-0240039

SKTR-0240039

ITEMNUMBER

SKRA-0250003

SKRA-0250003

SKRA-0250003
SKRA-0250003

SKRA-0250003
SKRA-0250003
SKRA-0250003
SKRA-0250003
SKRA-0250003
SKRA-0250003
SKRA-0250003
SKRA-0250003
SKRA-0250003
SKRA-0250003
SKRA-0250003

SKRA-0250003

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

M12x1,5/
M14x1,5
195

M12x1,5/
M14x1,5
195

M12x1,5/
M14x1,5
195

M12x1,5 /
M14x1,5
195

M12x1,5 /
M14x1,5
195

M12x1,5/
M14x1,5
195

M12x1,5/
M14x1,5
195

M12x1,5/
M14x1,5
195

M12x1,5 /
M14x1,5
195

M12x1,5 /
M14x1,5
195



C-CLASS (W202) C 200 CDI (202.134) (75 KW / 102 HP)

C-CLASS (W202) C 230 Kompressor (202.024) (142 KW /
193 HP)

C-CLASS (W202) C 200 Kompressor (202.025) (132 KW /
180 HP)

C-CLASS (W202) C 250 Turbo-D (202.128) (110 KW / 150
HP)

C-CLASS (W203) C 32 AMG Kompressor (203.065) (260 KW
/354 HP)

C-CLASS (W203) C320 (DI (203.020) (165 KW / 224 HP)

C-CLASS (W203) C 280 (203.054) (170 KW / 231 HP)

C-CLASS (W203) C 350 (203.056) (200 KW / 272 HP)

C-CLASS (W203) C 240 4-matic (203.081, 203.281) (125

KW /170 HP)

C-CLASS (W203) C 320 4-matic (203.084, 203.284) (160
KW /218 HP)

C-CLASS (W203) C320 FLEX (160 KW / 218 HP)

C-CLASS (W203) C 180 Kompressor (203.046) (105 KW /
143 HP)

C-CLASS (W203) C 200 Kompressor (203.042) (120 KW /
163 HP)

C-CLASS (W203) C 220 CDI(203.006) (100 KW / 136 HP)

C-CLASS (W203) C 230 (203.052) (150 KW / 204 HP)

C-CLASS (W203) C 230 Kompressor (203.040) (141 KW /
192 HP)

C-CLASS (W203) C 220 CDI (203.008) (110 KW / 150 HP)

C-CLASS (W203) C 55 AMG (203.076) (270 KW / 367 HP)

C-CLASS (W203) C 30 CDI AMG (203.018) (170 KW / 231
HP)

C-CLASS (W203) C 200 CDI (75 KW / 102 HP)

C-CLASS (W203) C 180 (203.035) (95 KW / 129 HP)

C-CLASS (W203) C 200 Kompressor (203.045) (120 KW /
163 HP)

C-CLASS (W203) C 200 CDI (203.007) (90 KW / 122 HP)

C-CLASS (W203) C 240 (203.061) (125 KW / 170 HP)

C-CLASS (W203) C 200 CGI Kompressor (203.043) (125 KW
/170 HP)

C-CLASS (W203) C320 (203.064, 203.264, 203.764) (160
KW /218 HP)

03.1998 - 05.2000

10.1995 - 05.2000

10.1995 - 05.2000

10.1995 - 05.2000

02.2001 - 02.2007

01.2005 - 02.2007

01.2005 - 02.2007

01.2005 - 02.2007

07.2002 - 02.2007

07.2002 - 02.2007

09.2003 - 12.2005

05.2002 - 02.2007

05.2002 - 02.2007

05.2000 - 02.2007

01.2005 - 02.2007

02.2004 - 02.2007

02.2003 - 02.2007

02.2004 - 02.2007

01.2003 - 02.2007

02.2001 - 02.2007

10.2000 - 05.2002

05.2000 - 06.2002

04.2003 - 02.2007

05.2000 - 02.2007

07.2003 - 02.2007

05.2000 - 02.2007

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240



C-CLASS (W203) C 200 CDI (203.004) (85 KW / 116 HP)

C-CLASS (W203) C 270 CDI (203.016) (125 KW / 170 HP)

C-CLASS (W203) C 220 CDI(203.006) (105 KW / 143 HP)

C-CLASS (W203) C270 (DI (203.016) (120 KW / 163 HP)

C-CLASS (W203) 3.5 (170 KW / 231 HP)

C-CLASS Coupe (CL203) C 350 (203.756) (200 KW / 272

HP)

C-CLASS Coupe (CL203) €230 (203.752) (150 KW / 204
HP)

C-CLASS Coupe (CL203) C 180 Kompressor (203.746) (105
KW / 143 HP)

C-CLASS Coupe (CL203) C 200 Kompressor (203.742) (120
KW / 163 HP)

C-CLASS Coupe (CL203) C 230 Kompressor (203.740) (141
KW /192 HP)

C-CLASS Coupe (CL203) C 180 (203.735) (95 KW / 129 HP)
C-CLASS Coupe (CL203) C 200 Kompressor (203.745) (120
KW /163 HP)

C-CLASS Coupe (CL203) C 220 CDI (203.706) (105 KW /
143 HP)

C-CLASS Coupe (CL203) C 230 Kompressor (203.747) (145
KW / 197 HP)

C-CLASS Coupe (CL203) C 220 CDI (100 KW / 136 HP)

C-CLASS Coupe (CL203) C 32 AMG Kompressor (203.765)
(260 KW / 354 HP)

C-CLASS Coupe (CL203) C 160 Kompressor (203.730) (90
KW /122 HP)

C-CLASS Coupe (CL203) C 220 CDI (203.708) (110 KW /
150 HP)

C-CLASS Coupe (CL203) C 30 CDI AMG (203.718) (170 KW /
231 HP)

C-CLASS Coupe (CL203) C 200 CDI (203.707) (90 KW / 122
HP)

C-CLASS Coupe (CL203) C 320 (203.764, 203.264,
203.064) (160 KW / 218 HP)

C-CLASS Coupe (CL203) C 200 CGI Kompressor (203.743)
(125 KW / 170 HP)

C-CLASS Coupe (CL203) C 230 Kompressor (143 KW / 194
HP)

C-CLASS Coupe (CL203) C220 (120 KW / 163 HP)

C-CLASS Kombi (5202) C 180 T (202.078) (90 KW / 122
HP)

C-CLASS Kombi (S202) C 200 T (202.080) (100 KW / 136
HP)

09.2000 - 02.2007

12.2000 - 02.2007

05.2000 - 02.2007

12.2000 - 02.2007

01.2005 - 02.2007

01.2005 - 05.2008

01.2005 - 05.2008

05.2002 - 05.2008

05.2002 - 05.2008

05.2002 - 05.2008

03.2001 - 05.2002

03.2001 - 05.2002

03.2001 - 01.2004

03.2001 - 05.2002

03.2001 - 01.2004

05.2002 - 05.2008

05.2002 - 05.2008

02.2004 - 05.2008

09.2002 - 05.2008

03.2003 - 05.2008

09.2002 - 05.2008

03.2003 - 05.2008

09.2001 - 12.2002

05.2002 - 05.2008

06.1996 - 09.2000

06.1996 - 03.2001

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse

Vorderachse

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKRA-0250003

SKRA-0250003

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf?
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240



C-CLASS Kombi (5202) € 220 T D (202.182) (70 KW / 95
HP)

C-CLASS Kombi (5202) C 250 T Turbo-D (202.188) (110
KW / 150 HP)

C-CLASS Kombi (5202) € 230 T (202.083) (110 KW / 150
HP)

C-CLASS Kombi (5202) C220 T D (55 KW / 75 HP)

C-CLASS Kombi (5202) C 200 T Kompressor (202.082) (141
KW /192 HP)

C-CLASS Kombi (5202) C 200 T D (202.180) (65 KW / 88
HP)

C-CLASS Kombi (5202) C 220 T CDI (202.193) (92 KW /
125 HP)

C-CLASS Kombi (S202) C 230 T Kompressor (202.085) (142
KW /193 HP)

C-CLASS Kombi (5202) C180 T (202.081) (95 KW /129
HP)

C-CLASS Kombi (S202) C 200 T Kompressor (202.087) (120
KW /163 HP)

C-CLASS Kombi (5202) C 200 T CDI (202.194) (75 KW /
102 HP)

C-CLASS T-Model (S203) C 350 (203.256) (200 KW / 272
HP)

C-CLASS T-Model (S203) C 280 (203.254) (170 KW / 231
HP)

C-CLASS T-Model (S203) C 240 4-matic (203.281,
203.081) (125 KW /170 HP)

C-CLASS T-Model (5203) C 320 4-matic (203.284,
203.084) (160 KW / 218 HP)

C-CLASS T-Model (S203) C 320 CDI (203.220) (165 KW /
224 HP)

C-CLASS T-Model (5203) C 180 Kompressor (203.246) (105
KW / 143 HP)

C-CLASS T-Model (5203) C 200 Kompressor (203.242) (120
KW / 163 HP)

C-CLASS T-Model (5203) C 200 Kompressor (203.245) (120
KW / 163 HP)

C-CLASS T-Model (5203) C 320 (203.264, 203.064,
203.764) (160 KW / 218 HP)

C-CLASS T-Model (S203) C 200 CDI (203.204) (85 KW /
116 HP)

C-CLASS T-Model (5203) C 220 CDI (203.206) (105 KW /
143 HP)

C-CLASS T-Model (5203) C 270 CDI (203.216) (125 KW /
170 HP)

C-CLASS T-Model (5203) C 220 CDI (203.208) (100 KW /
136 HP)

C-CLASS T-Model (5203) C 230 (203.252) (150 KW / 204
HP)

C-CLASS T-Model (S203) C 230 Kompressor (203.240) (141
KW /192 HP)

C-CLASS T-Model (5203) C 220 CDI (203.208) (110 KW /
150 HP)

06.1996 - 09.1998

06.1996 - 03.2001

06.1996 - 06.1998

06.1996 - 03.2001

11.1996 - 03.2001

10.1996 - 03.2001

09.1997 - 03.2001

06.1997 - 09.2000

09.2000 - 03.2001

09.2000 - 03.2001

03.1998 - 03.2001

01.2005 - 08.2007

01.2005 - 08.2007

07.2002 - 08.2007

07.2002 - 08.2007

06.2005 - 08.2007

05.2002 - 08.2007

05.2002 - 08.2007

03.2001 - 05.2002

03.2001 - 08.2007

03.2001 - 08.2007

03.2001 - 08.2007

03.2001 - 08.2007

08.2006 - 08.2007

01.2005 - 08.2007

02.2004 - 08.2007

02.2004 - 08.2007

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240



C-CLASS T-Model (S203) C 55 AMG (203.276) (270 KW /  02.2004 - 08.2007  Vorderachse SKTR-0240007 Gewindemafs M16x1,5 /

M14x1,5

367 HP) rechts Liinge [mm] 240

C-CLASS T-Model (S203) C 30 CDI AMG (203.218) (170 KW 01.2003 - 08.2007 Vorderachse SKTR-0240007 Gewindemaf3 Msliil-f;
X1,

/231 HP) rechts Lange [mm] 240

C-CLASS T-Model (S203) C 180 (203.235) (95 KW /129 03.2001 - 05.2002 Vorderachse SKTR-0240007 Gewindemaf3 Msliil.fsl
x1,

HP) rechts Lange [mm] 240

C-CLASS T-Model (S203) C 240 (203.261, 203.061) (125 03.2001 - 08.2007 Vorderachse SKTR-0240007 Gewindemafy Msli:llss/
x1,

KW /170 HP) rechts Liinge [mm] 240

C-CLASS T-Model (S203) C 200 CDI (203.204, 203.207) (75 03.2001 - 08.2007 Vorderachse SKTR-0240007 Gewindemafs Méliilfsl
X1,

KW / 102 HP) rechts Léinge [mm] 240

C-CLASS T-Model (S203) C 32 AMG Kompressor (203.265) 03.2001 - 08.2007 Vorderachse SKTR-0240007 Gewindemaf3 M:liffs/
X1,

(260 KW / 354 HP) rechts Léinge [mm] 240

C-CLASS T-Model (S203) C 200 CGI Kompressor (203.243) 07.2003 - 08.2007 Vorderachse SKTR-0240007 Gewindemaf3 M:Iiilf 5{
X1,

(125 KW / 170 HP) rechts Linge [mm] 240

C-CLASS T-Model (S203) C 200 CDI (203.207) (90 KW / 04.2003 - 08.2007 Vorderachse SKTR-0240007 Gewindemaf3 Msliil.f;
x1,

122 HP) rechts Lénge [mm] 240

C-CLASS T-Model (S203) C 270 CDI (203.216) (120 KW / 03.2001 - 08.2007 Vorderachse SKTR-0240007 Gewindemaf} M16x1,5 /
163 HP) rechts L M14x1,5
ange [mm] 240

MERCEDES-BENZ CABRIOLET

MODEL YEAR FITTING POSITION ITEMNUMBER ITEM DETAILS

CABRIOLET (A124) 300 CE-24 (124.061) (162 KW / 220 04.1992 - 06.1993 Vorderachse SKRA-0250007
HP) beidseitig

CABRIOLET (A124) 300 CE-24 (124.061) (170 KW / 231 04.1992 - 06.1993 Vorderachse SKRA-0250007
HP) beidseitig

MERCEDES-BENZ CLC-KLASSE

MODEL YEAR FITTING POSITION ITEMNUMBER ITEM DETAILS

CLC-CLASS (CL203) CLC 250 (150 KW / 204 HP) 06.2009 - 06.2011  Vorderachse SKTR-0240007 Gewindemaft Miexs /
X1,

rechts Linge [mm] 240

CLC-CLASS (CL203) CLC 160 (203.731) (95 KW /129 HP) 02.2009 - 06.2011 Vorderachse SKTR-0240007 Gewindemaf} M:Iiff;
X1,

rechts Lange [mm] 240

CLC-CLASS (CL203) CLC 180 Kompressor (203.746) (105 05.2008 - 06.2011 Vorderachse SKTR-0240007 Gewindemafy M16x1,5/
KW / 143 HP) rechts s M14x1,5

ange [mm] 240

CLC-CLASS (CL203) CLC 200 Kompressor (203.741) (135 05.2008 - 06.2011 Vorderachse SKTR-0240007 Gewindemafs ML6xd.5 /
x1,

KW / 184 HP) rechts Linge [mm] 240

CLC-CLASS (CL203) CLC 230 (203.752) (150 KW /204 HP)  05.2008 - 06.2011  Vorderachse SKTR-0240007 Gewindemaft ML6xt,S /
X1,

rechts Linge [mm] 240

CLC-CLASS (CL203) CLC 350 (203.756) (200 KW /272 HP)  05.2008 - 06.2011  Vorderachse SKTR-0240007 Gewindemaft Miexs /
X1,

Kechts Linge [mm] 240

CLC-CLASS (CL203) CLC 200 CDI (203.707) (90 KW / 122 05.2008 - 06.2011 Vorderachse SKTR-0240007 Gewindemaf} M:Igff;
X1,

HP) rechts Lange [mm] 240

CLC-CLASS (CL203) CLC 220 CDI (203.708) (110 KW / 150 05.2008 - 06.2011 Vorderachse SKTR-0240007 Gewindemafy M16x1,5/
HP) rechts M14x1,5

Lange [mm] 240




MERCEDES-BENZ CLK

MODEL

CLK (C208) 200 Kompressor (208.344) (120 KW / 163 HP)
CLK (C208) 230 Kompressor (208.348) (145 KW / 197 HP)
CLK (C208) 200 (208.335) (100 KW / 136 HP)

CLK (C208) 230 Kompressor (208.347) (142 KW / 193 HP)
CLK (C208) 200 Kompressor (208.345) (141 KW / 192 HP)

CLK (C209) 240 (209.361) (125 KW / 170 HP)

CLK (C209) 350 (209.356) (200 KW / 272 HP)

CLK (C209) 200 Kompressor (209.342) (120 KW / 163 HP)
CLK (C209) 280 (209.354) (170 KW / 231 HP)

CLK (C209) 200 CGI (209.343) (125 KW / 170 HP)

CLK (C209) 220 CDI (209.308) (110 KW / 150 HP)

CLK (C209) 320 CDI (209.320) (165 KW / 224 HP)

CLK (C209) 500 (215 KW / 292 HP)

CLK (C209) DTM AMG (428 KW / 582 HP)

CLK (C209) 270 CDI (209.316) (125 KW / 170 HP)

CLK (C209) 63 AMG (209.377) (354 KW / 481 HP)

CLK (C209) 500 (209.372) (285 KW / 388 HP)

CLK (C209) 55 AMG (260 KW / 354 HP)

CLK (C209) 200 Kompressor (209.341) (135 KW / 184 HP)
CLK (C209) 270 CDI (209.316) (120 KW / 163 HP)

CLK (C209) 55 AMG (209.376) (270 KW / 367 HP)

CLK (C209) 240 (209.361) (120 KW / 163 HP)

CLK (C209) 63 AMG (209.377) (373 KW / 507 HP)

CLK (C209) 220 CDI (209.308) (100 KW / 136 HP)

(LK (C209) 320 (209.365) (160 KW / 218 HP)

YEAR

06.2000 - 06.2002

06.2000 - 06.2002

06.1997 - 06.2002

06.1997 - 06.2000

06.1997 - 06.2000

06.2002 - 05.2009

01.2005 - 05.2009

09.2002 - 05.2009

01.2005 - 05.2009

07.2003 - 05.2009

01.2005 - 05.2009

01.2005 - 05.2009

09.2002 - 12.2005

06.2004 - 05.2009

10.2002 - 05.2009

04.2006 - 05.2009

06.2006 - 05.2009

09.2002 - 12.2005

10.2006 - 05.2009

02.2003 - 06.2005

09.2002 - 05.2009

06.2002 - 05.2009

05.2007 - 05.2009

01.2005 - 05.2009

06.2002 - 05.2009

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

ITEMNUMBER

SKRA-0250003
SKRA-0250003
SKRA-0250003
SKRA-0250003
SKRA-0250003
SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

ITEM DETAILS

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240



CLK (C209) 500 (209.375) (225 KW / 306 HP)

CLK Cabriolet (A208) 200 Kompressor (208.445) (141 KW /
192 HP)

(LK Cabriolet (A208) 200 (208.435) (100 KW / 136 HP)

CLK Cabriolet (A208) 230 Kompressor (208.447) (142 KW /
193 HP)

CLK Cabriolet (A208) 200 Kompressor (208.444) (120 KW /
163 HP)

CLK Cabriolet (A208) 230 Kompressor (208.448) (145 KW /
197 HP)

CLK Cabriolet (A209) CLK 350 (209.456) (200 KW / 272
HP)

CLK Cabriolet (A209) CLK 280 (209.454) (170 KW / 231
HP)

CLK Cabriolet (A209) CLK 500 (215 KW / 292 HP)
(LK Cabriolet (A209) CLK 200 Kompressor (209.442) (120
KW / 163 HP)

CLK Cabriolet (A209) CLK 200 CGI (209.443) (125 KW /
170 HP)

CLK Cabriolet (A209) CLK 240 (209.461) (125 KW / 170
HP)

CLK Cabriolet (A209) CLK 320 (209.465) (160 KW / 218
HP)

CLK Cabriolet (A209) CLK 500 (209.475) (225 KW / 306
HP)

CLK Cabriolet (A209) CLK 55 AMG (209.476) (270 KW /
367 HP)

CLK Cabriolet (A209) CLK 63 AMG (209.477) (354 KW /
481 HP)

CLK Cabriolet (A209) CLK 200 Kompressor (209.441) (135
KW / 184 HP)

CLK Cabriolet (A209) CLK 500 (209.472) (285 KW / 388
HP)

CLK Cabriolet (A209) CLK 320 CDI (209.420) (165 KW /
224 HP)

CLK Cabriolet (A209) CLK AMG DTM (428 KW / 582 HP)

MERCEDES-BENZ CLS

MODEL

CLS (C219) CLS 350 (219.357) (215 KW / 292 HP)
CLS (C219) CLS 500 (219.372) (285 KW / 388 HP)

CLS (C219) CLS 63 AMG (219.377) (378 KW / 514 HP)

06.2002 - 05.2009

03.1998 - 06.2000

03.1998 - 03.2002

03.1998 - 06.2000

06.2000 - 03.2002

06.2000 - 03.2002

01.2005 - 03.2010

01.2005 - 03.2010

09.2003 - 12.2005

02.2003 - 03.2010

07.2003 - 03.2010

02.2003 - 03.2010

02.2003 - 03.2010

02.2003 - 03.2010

02.2003 - 03.2010

04.2006 - 03.2010

10.2006 - 03.2010

06.2006 - 03.2010

03.2005 - 03.2010

06.2004 - 03.2010

YEAR

04.2006 - 12.2010

04.2006 - 12.2010

04.2006 - 12.2010

Vorderachse
rechts

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

FITTING POSITION

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKTR-0240007

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKRA-0250003

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

ITEMNUMBER

SKTR-0240007

SKTR-0240007

SKTR-0240007

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240



CLS (C219) CLS 320 CDI (219.322) (165 KW / 224 HP)

CLS (C219) CLS 500 (218 KW / 296 HP)

CLS (C219) CLS 350 (219.356) (200 KW / 272 HP)
CLS (C219) CLS 500 (219.375) (225 KW / 306 HP)
CLS (C219) CLS 280 (219.354) (170 KW / 231 HP)
CLS (C219) CLS 55 AMG (219.376) (350 KW / 476 HP)
CLS (C219) CLS 300 (219.354) (170 KW / 231 HP)
CLS (C219) CLS 350 CDI (219.322) (165 KW / 224 HP)
CLS (C219) CLS 350 CGI (219.357) (215 KW / 292 HP)
CLS (C219) CLS 350 CDI (200 KW / 272 HP)

CLS (C219) CLS 320 CDI (155 KW / 211 HP)

MERCEDES-BENZ COUPE

MODEL
COUPE (C123) 230 CE (123.243) (100 KW / 136 HP)
COUPE (C123) 230 C (123.043) (80 KW / 109 HP)
COUPE (C123) 280 C (123.050) (115 KW / 156 HP)
COUPE (C123) 280 CE (130 KW / 177 HP)

COUPE (C123) 280 CE (136 KW / 185 HP)

COUPE (C123) 300 C Turbo-D (123.153) (92 KW / 125 HP)

COUPE (C124) 230 CE (124.043) (97 KW / 132 HP)

COUPE (C124) 230 CE (124.043) (100 KW / 136 HP)

COUPE (C124) 300 CE (138 KW / 188 HP)

COUPE (C124) 300 CE-24 (124.051) (162 KW / 220 HP)

COUPE (C124) 230 CE (124.043) KAT (97 KW / 132 HP)

COUPE (C124) 300 CE (124.050) (132 KW / 180 HP)

COUPE (C124) 320 CE (124.052) (162 KW / 220 HP)

COUPE (C124) 220 CE (124.042) (110 KW / 150 HP)

01.2005 - 12.2010

09.2005 - 12.2006

10.2004 - 12.2010

10.2004 - 12.2010

07.2008 - 12.2010

01.2005 - 12.2010

04.2009 - 12.2010

04.2009 - 12.2010

04.2009 - 12.2010

04.2009 - 12.2010

01.2005 - 12.2010

YEAR

04.1980 - 12.1985

05.1977 - 04.1980

03.1977 - 03.1980

09.1977 - 08.1979

03.1977 - 11.1985

09.1981 - 07.1985

03.1987 - 12,1992

03.1987 - 12.1992

03.1987 - 12.1989

09.1989 - 12.1992

06.1989 - 12.1992

03.1987 - 05.1993

10.1992 - 05.1993

10.1992 - 05.1993

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

FITTING POSITION
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

ITEMNUMBER

SKRA-0250030

SKRA-0250030

SKRA-0250030

SKRA-0250030

SKRA-0250030

SKRA-0250030
SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

Gewindemaf
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240



COUPE (C124) 300 CE-24 (124.051) (170 KW / 231 HP)

MERCEDES-BENZ E-KLASSE

MODEL

E-CLASS (W124) E 60 AMG (124.036) (280 KW / 381 HP)
E-CLASS (W124) E 36 AMG (200 KW / 269 HP)

E-CLASS (W124) E 250 D (124.126, 124.129) (83 KW /
113 HP)

E-CLASS (W124) E 300 D (124.131) (100 KW / 136 HP)
E-CLASS (W124) E 200 (124.019) (100 KW / 136 HP)
E-CLASS (W124) E 220 (124.022) (110 KW / 150 HP)
E-CLASS (W124) E 280 (124.029) (142 KW / 193 HP)
E-CLASS (W124) E 280 (124.028) (145 KW / 197 HP)
E-CLASS (W124) E 320 (124.032) (162 KW / 220 HP)
E-CLASS (W124) E 420 (124.034) (205 KW / 279 HP)
E-CLASS (W124) E 500 (124.036) (235 KW / 320 HP)
E-CLASS (W124) E 200 D (124.120) (55 KW / 75 HP)

E-CLASS (W124) E 250 Turbo-D (124.128) (93 KW / 126
HP)

E-CLASS (W124) E 300 Turbo-D (124.133) (108 KW / 147
HP)

E-CLASS (W210) E 200 CDI (210.007) (85 KW / 116 HP)
E-CLASS (W210) E 220 CDI (210.006) (105 KW / 143 HP)
E-CLASS (W210) E 270 CDI (210.016) (125 KW / 170 HP)
E-CLASS (W210) E 320 CDI (210.026) (145 KW / 197 HP)

E-CLASS (W210) E 55 AMG 4-matic (210.074) (260 KW /
354 HP)

E-CLASS (W210) E 220 D (55 KW / 75 HP)

E-CLASS (W210) E 220 D (210.004) (70 KW / 95 HP)
E-CLASS (W210) E 250 D (210.010) (83 KW / 113 HP)
E-CLASS (W210) E 200 (210.035) (100 KW / 136 HP)
E-CLASS (W210) E 300 D (210.020) (100 KW / 136 HP)
E-CLASS (W210) E 230 (210.037) (110 KW / 150 HP)

E-CLASS (W210) E 320 (210.055) (162 KW / 220 HP)

09.1989 - 12,1992

YEAR

05.1994 - 06.1995

07.1994 - 01.1995

07.1993 - 06.1995

07.1993 - 06.1995

06.1993 - 06.1995

06.1993 - 06.1995

06.1993 - 06.1995

06.1993 - 06.1995

06.1993 - 06.1995

06.1993 - 06.1995

06.1993 - 06.1995

06.1993 - 06.1995

06.1993 - 06.1995

06.1993 - 06.1995

07.1999 - 03.2002

07.1999 - 03.2002

07.1999 - 03.2002

07.1999 - 03.2002

03.2001 - 03.2002

05.1996 - 03.2002

06.1995 - 07.1999

06.1995 - 07.1999

06.1995 - 08.2000

06.1995 - 06.1997

06.1995 - 06.1997

06.1995 - 06.1997

Vorderachse
beidseitig

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
innen radseitig
innen radseitig
innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

SKRA-0250007

ITEM NUMBER

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

ITEM DETAILS

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Linge [mm]

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243



E-CLASS (W210) E 200 D (210.003) (65 KW / 88 HP)

E-CLASS (W210) E 55 AMG (210.074) (260 KW / 354 HP)

E-CLASS (W210) E 430 4-matic (210.083) (205 KW / 279
HP)

E-CLASS (W210) E 270 CDI (120 KW / 163 HP)

E-CLASS (W210) E 280 (210.063) (150 KW / 204 HP)

E-CLASS (W210) E 280 4-matic (210.081) (150 KW / 204
HP)

E-CLASS (W210) E 320 (210.065) (165 KW / 224 HP)

E-CLASS (W210) E 300 Turbo-D (210.025) (130 KW / 177
HP)

E-CLASS (W210) E 220 CDI (210.006) (92 KW / 125 HP)

E-CLASS (W210) E 320 4-matic (210.082) (165 KW / 224
HP)

E-CLASS (W210) E 200 CDI (210.007) (75 KW / 102 HP)

E-CLASS (W210) E 220 CDI (100 KW / 136 HP)

E-CLASS (W210) E 36 AMG (200 KW / 269 HP)

E-CLASS (W210) E 250 Turbo-D (210.015) (110 KW / 150
HP)

E-CLASS (W210) E 200 Kompressor (210.048) (120 KW /
163 HP)

E-CLASS (W210) E 240 (210.062) (125 KW / 170 HP)

E-CLASS (W210) E 240 (210.061) (125 KW / 170 HP)

E-CLASS (W210) E 430 (210.070) (205 KW / 279 HP)

E-CLASS (W210) E 200 Kompressor (210.045) (137 KW /
186 HP)

E-CLASS (W210) E 290 Turbo-D (210.017) (95 KW / 129
HP)

E-CLASS (W210) E 280 (210.053) (142 KW / 193 HP)

E-CLASS (W210) E 420 (210.072) (205 KW / 279 HP)

E-CLASS (W210) E 50 AMG (210.072) (255 KW / 347 HP)

E-CLASS (W211) E 280 CDI 4-matic (140 KW / 190 HP)

E-CLASS (W211) E 500 (215 KW / 292 HP)

E-CLASS (W211) E 400 CDI (211.028) (191 KW / 260 HP)

E-CLASS (W211) E 200 NGT (211.041) (120 KW / 163 HP)

E-CLASS (W211) E 240 4-matic (211.080) (130 KW / 177

HP)

E-CLASS (W211) E 320 4-matic (211.082) (165 KW / 224
HP)

E-CLASS (W211) E 420 CDI (211.029) (231 KW / 314 HP)

01.1996 - 03.2002

08.1997 - 03.2002

05.1999 - 03.2002

07.1999 - 03.2002

12.1996 - 03.2002

12.1996 - 03.2002

06.1997 - 03.2002

12.1996 - 07.1999

06.1998 - 07.1999

06.1997 - 03.2002

06.1998 - 03.2002

07.1999 - 03.2002

04.1996 - 01.1998

06.1997 - 07.1999

08.2000 - 03.2002

08.2000 - 03.2002

06.1997 - 08.2000

06.1997 - 03.2002

06.1997 - 03.2002

03.1996 - 07.1999

01.1996 - 06.1997

01.1996 - 06.1997

02.1996 - 08.1997

03.2005 - 12.2008

09.2002 - 12.2005

02.2003 - 12.2008

03.2004 - 12.2008

03.2003 - 12.2008

03.2003 - 12.2008

01.2006 - 12.2008

innen radseitig

links

innen radseitig

innen

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen

aufien

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]

Gewindemaf}

Lange [mm]

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240



E-CLASS (W211) E 200 CDI (211.007) (100 KW / 136 HP)
E-CLASS (W211) E 280 4-matic (211.092) (170 KW / 231
HP)
E-CLASS (W211) E 220 CDI (211.008) (125 KW / 170 HP)
E-CLASS (W211) E 350 4-matic (211.087) (200 KW / 272
HP)

E-CLASS (W211) E 200 Kompressor (211.041) (135 KW /
184 HP)

E-CLASS (W211) E 500 4-matic (211.090) (285 KW / 388

HP)

E-CLASS (W211) E 500 (211.072) (285 KW / 388 HP)

E-CLASS (W211) E 320 CDI 4-matic (165 KW / 224 HP)

E-CLASS (W211) E 200 (DI (211.004) (75 KW / 102 HP)

E-CLASS (W211) E 200 CDI (211.004) (90 KW / 122 HP)

E-CLASS (W211) E 63 AMG (211.077, 211.177) (378 KW /
514 HP)

E-CLASS (W211) E 55 AMG Kompressor (211.076) (350 KW

/476 HP)

E-CLASS (W211) E 280 (DI (211.023) (130 KW / 177 HP)

E-CLASS (W211) E 270 (DI (211.016) (120 KW / 163 HP)

E-CLASS (W211) E 230 (211.052) (150 KW / 204 HP)

E-CLASS (W211) E 350 CGI (211.057) (215 KW / 292 HP)

E-CLASS (W211) E 320 (211.065) (165 KW / 224 HP)

E-CLASS (W211) E 500 (211.070) (225 KW / 306 HP)

E-CLASS (W211) E 300 BlueTEC (155 KW / 211 HP)

E-CLASS (W211) E 280 (211.054) (170 KW / 231 HP)

E-CLASS (W211) E 350 (211.056) (200 KW / 272 HP)

E-CLASS (W211) E 280 CDI (211.020) (140 KW / 190 HP)

E-CLASS (W211) E 320 CDI (211.022) (165 KW / 224 HP)

E-CLASS (W211) E 240 (211.061) (130 KW / 177 HP)

E-CLASS (W211) E 220 CDI (211.006) (110 KW / 150 HP)

E-CLASS (W211) E 270 CDI (211.016) (130 KW / 177 HP)

04.2006 - 12.2008

01.2006 - 12.2008

04.2006 - 12.2008

03.2005 - 12.2008

04.2006 - 12.2008

04.2006 - 12.2008

04.2006 - 12.2008

03.2005 - 12.2008

07.2002 - 12.2008

07.2002 - 12.2008

03.2006 - 12.2008

10.2002 - 12.2008

05.2004 - 12.2008

03.2002 - 12.2008

09.2007 - 12.2008

09.2007 - 12.2008

03.2002 - 12.2008

03.2002 - 12.2008

09.2007 - 12.2008

03.2005 - 12.2008

03.2005 - 12.2008

03.2005 - 12.2008

03.2005 - 12.2008

03.2002 - 12.2008

03.2002 - 12.2008

03.2002 - 12.2008

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf?
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]

Gewindemaf}

Linge [mm]

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /

M14x1,5
240

115



E-CLASS (W211) E 350 4-matic (205 KW / 279 HP)

E-CLASS (W211) E 320 BlueTEC (211.022) (156 KW / 212
HP)

E-CLASS (W211) E 220 CDI (120 KW / 163 HP)

E-CLASS (W211) E320 CDI (157 KW / 214 HP)

E-CLASS (W211) E 200 Kompressor (211.042) (120 KW /
163 HP)

E-CLASS (W211) E 320 CDI (211.026) (150 KW / 204 HP)

E-CLASS (W211) E 220 (DI (211.006) (100 KW / 136 HP)

E-CLASS (W211) E 500 4-matic (211.083) (225 KW / 306
HP)

E-CLASS Cabriolet (A124) E 200 (124.060) (100 KW / 136
HP)

E-CLASS Cabriolet (A124) E 220 (124.062) (110 KW / 150
HP)

E-CLASS Cabriolet (A124) E 320 (124.066) (162 KW / 220
HP)

E-CLASS Cabriolet (A124) E 36 AMG (124.066) (200 KW /
272 HP)

E-CLASS Coupe (C124) E 200 (124.040) (100 KW / 136 HP)

E-CLASS Coupe (C124) E 220 (124.042) (110 KW / 150 HP)

E-CLASS Coupe (C124) E 320 (124.052) (162 KW / 220 HP)

E-CLASS Coupe (C124) E 36 AMG (124.052) (200 KW / 272
HP)

E-CLASS Coupe (C124) E 36 AMG (124.052) (195 KW / 265
HP)

E-CLASS Kombi (S124) E 320 T (124.092) (162 KW / 220
HP)

E-CLASS Kombi (S124) E 250 Turbo D (93 KW / 126 HP)

E-CLASS Kombi (5124) E 250 T D (124.186) (83 KW / 113
HP)

E-CLASS Kombi (S124) E 280 T (124.088) (142 KW / 193
HP)

E-CLASS Kombi (S124) E 300 TE-24 AMG (124.091) (162
KW /220 HP)

E-CLASS Kombi (5124) E 36 T AMG (124.092) (200 KW /
272 HP)

E-CLASS Kombi (5124) E 300 T Turbo-D (124.193) (108
KW / 147 HP)

E-CLASS Kombi (5124) E 300 T Turbo-D 4-matic (124.393)
(108 KW / 147 HP)

E-CLASS Kombi (5124) E 300 T D (124.191) (100 KW / 136
HP)

E-CLASS Kombi (S124) E 200 T (124.079) (100 KW / 136
HP)

E-CLASS Kombi (5124) E 220 T (124.082) (110 KW / 150
HP)

08.2004 - 08.2006

09.2008 - 03.2009

03.2003 - 12.2008

09.2006 - 12.2008

11.2002 - 12.2008

11.2002 - 12.2008

03.2002 - 12.2008

10.2003 - 12.2008

06.1993 - 03.1998

06.1993 - 03.1998

06.1993 - 03.1998

05.1994 - 03.1998

06.1993 - 06.1997

06.1993 - 06.1997

06.1993 - 06.1997

05.1994 - 06.1997

06.1993 - 04.1995

06.1993 - 06.1996

06.1993 - 06.1996

06.1993 - 06.1996

06.1993 - 06.1996

06.1993 - 06.1996

05.1994 - 06.1996

06.1993 - 06.1996

06.1993 - 06.1996

06.1993 - 06.1996

06.1993 - 06.1996

06.1993 - 06.1996

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240



E-CLASS Kombi (5124) E 280 T (124.088) (145 KW / 197
HP)

E-CLASS Kombi (5210) E 320 T CDI (210.226) (145 KW /
197 HP)

E-CLASS Kombi (5210) E 270 T CDI (210.216) (125 KW /
170 HP)

E-CLASS Kombi (S210) E 280 T (210.263) (150 KW / 204
HP)

E-CLASS Kombi (5210) E 220 T CDI (210.206) (105 KW /
143 HP)

E-CLASS Kombi (5210) E 55 T AMG 4-matic (210.283) (260
KW / 354 HP)

E-CLASS Kombi (S210) E 55 T AMG (210.274) (260 KW /
354 HP)

E-CLASS Kombi (S210) E 430 T 4-matic (210.283) (205 KW
/ 279 HP)

E-CLASS Kombi (5210) E 270 T CDI (120 KW / 163 HP)
E-CLASS Kombi (5210) E 220 T CDI (210.206) (100 KW /
136 HP)

E-CLASS Kombi (5210) E 280 T 4-matic (210.281) (150 KW
/204 HP)

E-CLASS Kombi (S210) E 320 T (210.265) (165 KW / 224
HP)

E-CLASS Kombi (5210) E 300 T Turbo-D (210.225) (130
KW / 177 HP)

E-CLASS Kombi (S210) E 320 T 4-matic (210.282) (165 KW
/ 224 HP)

E-CLASS Kombi (5210) E 220 T CDI (210.206) (92 KW /
125 HP)

E-CLASS Kombi (S210) E 200 T (210.235) (100 KW / 136
HP)

E-CLASS Kombi (5210) E 230 T (210.237) (110 KW / 150
HP)

E-CLASS Kombi (5210) E 420 T (210.272) (205 KW / 279
HP)

E-CLASS Kombi (S210) E 290 T Turbo-D (210.217) (95 KW
/129 HP)

E-CLASS Kombi (5210) E 250 T D (210.210) (83 KW / 113
HP)

E-CLASS Kombi (S210) E 250 T Turbo-D (210.215) (110
KW / 150 HP)

E-CLASS Kombi (5210) E 200 T Kompressor (210.248) (120
KW / 163 HP)

E-CLASS Kombi (5210) E 240 T (210.262) (125 KW / 170
HP)

E-CLASS Kombi (S210) E 240 T (210.261) (125 KW / 170
HP)

E-CLASS Kombi (S210) E 430 T (210.270) (205 KW / 279
HP)

E-CLASS Kombi (5210) E 200 T Kompressor (210.245) (137
KW /186 HP)

E-CLASS T-Model (S211) E 200 T Kompressor (211.242)
(120 KW / 163 HP)

E-CLASS T-Model (5211) E 220 T CDI (211.206) (110 KW /
150 HP)

06.1993 - 06.1996

07.1999 - 03.2003

07.1999 - 03.2003

12.1996 - 03.2003

07.1999 - 03.2003

03.2001 - 03.2003

08.1997 - 03.2003

05.1999 - 03.2003

02.2000 - 03.2003

05.1999 - 03.2003

12.1996 - 03.2003

12.1996 - 03.2003

12.1996 - 07.1999

12.1996 - 03.2003

06.1998 - 07.1999

06.1996 - 08.2000

06.1996 - 06.1997

06.1996 - 06.1997

06.1996 - 07.1999

06.1996 - 07.1999

06.1997 - 07.1999

08.2000 - 03.2003

08.2000 - 03.2003

06.1997 - 03.2003

06.1997 - 03.2003

06.1997 - 03.2003

03.2003 - 07.2009

03.2003 - 07.2009

Vorderachse

beidseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen

innen

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

innen radseitig

Vorderachse
rechts

Vorderachse
rechts

SKRA-0250007

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240019

SKTR-0240007

SKTR-0240007

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf

Linge [mm]

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

14x1,5
243

Mi16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240



E-CLASS T-Model (S211) E 270 T CDI (211.216) (130 KW /
177 HP)

E-CLASS T-Model (S211) E 280 T CDI 4-matic (211.284)
(140 KW / 190 HP)

E-CLASS T-Model (5211) E 320 T CDI (211.226) (150 KW /
204 HP)

E-CLASS T-Model (5211) E 240 T (211.261) (130 KW /
177 HP)

E-CLASS T-Model (S211) E 320 T (211.265) (165 KW /
224 HP)

E-CLASS T-Model (S211) E 220 T CDI (211.208) (125 KW /
170 HP)

E-CLASS T-Model (S211) E 200 Kompressor (211.241) (135
KW / 184 HP)

E-CLASS T-Model (S211) E 240 T 4-matic (211.280) (130
KW / 177 HP)

E-CLASS T-Model (5211) E 320 T 4-matic (211.282) (165
KW / 224 HP)

E-CLASS T-Model (S211) E 500 T (211.272) (285 KW /
388 HP)

E-CLASS T-Model (S211) E 55 T AMG Kompressor
(211.276) (350 KW / 476 HP)

E-CLASS T-Model (5211) E 500 T 4-matic (211.290) (285
KW / 388 HP)

E-CLASS T-Model (5211) E 500 T (211.270) (225 KW /
306 HP)

E-CLASS T-Model (5211) E 500 T 4-matic (211.283) (225
KW / 306 HP)

E-CLASS T-Model (S211) E 320 T CDI 4-matic (211.289)
(165 KW / 224 HP)

E-CLASS T-Model (5211) E 350 T 4-matic (211.287) (200
KW / 272 HP)

E-CLASS T-Model (S211) E 63 AMG (211.277) (378 KW /
514 HP)

E-CLASS T-Model (S211) E 280 T CDI (211.223) (130 KW /
177 HP)

E-CLASS T-Model (5211) E 270 T CDI (211.216) (120 KW /
163 HP)

E-CLASS T-Model (S211) E 230 T (211.252) (150 KW /
204 HP)

E-CLASS T-Model (5211) E 280 T 4-matic (211.292) (170
KW / 231 HP)

E-CLASS T-Model (5211) E 320 T CDI (211.222) (165 KW /
224 HP)

E-CLASS T-Model (5211) E 280 T CDI (211.220) (140 KW /
190 HP)

E-CLASS T-Model (5211) E 280 T (211.254) (170 KW /
231 HP)

E-CLASS T-Model (S211) E 350 T (211.256) (200 KW /
272 HP)

E-CLASS T-Model (S211) 350 CGI (211.257) (215 KW / 292
HP)

03.2003 - 07.2009

03.2005 - 07.2009

03.2003 - 07.2009

03.2003 - 07.2009

03.2003 - 07.2009

04.2006 - 07.2009

04.2006 - 07.2009

07.2003 - 07.2009

07.2003 - 07.2009

04.2006 - 07.2009

07.2003 - 07.2009

04.2006 - 07.2009

10.2003 - 07.2009

10.2003 - 07.2009

03.2005 - 07.2009

03.2005 - 07.2009

03.2006 - 07.2009

05.2004 - 07.2009

03.2003 - 07.2009

05.2007 - 07.2009

03.2005 - 07.2009

03.2005 - 07.2009

03.2005 - 07.2009

03.2005 - 07.2009

03.2005 - 07.2009

05.2006 - 07.2009

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Linge [mm]

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /

M14x1,5
240

118



E-CLASS T-Model (5211) E 220 T CDI (120 KW / 163 HP)
E-CLASS T-Model (5211) E 200 CDI (211.207) (100 KW /
136 HP)

E-CLASS T-Model (5211) E 220 CDI (211.206) (100 KW /
136 HP)

MERCEDES-BENZ KOMBI

MODEL
KOMBI Kombi (5123) 200 T (123.280) (74 KW / 101 HP)
KOMBI Kombi (5123) 200 T (80 KW / 109 HP)

KOMBI Kombi (5123) 230 TE (123.283) (100 KW / 136 HP)
KOMBI Kombi (5123) 230 T (123.083) (80 KW / 109 HP)
KOMBI Kombi (5123) 250 T (123.086) (95 KW / 129 HP)
KOMBI Kombi (5123) 250 T (123.086) (103 KW / 140 HP)
KOMBI Kombi (5123) 280 TE (123.093) (136 KW / 185 HP)
KOMBI Kombi (5123) 240 T D (123.183) (53 KW / 72 HP)
KOMBI Kombi (5123) 240 T D (48 KW / 65 HP)

KOMBI Kombi (5123) 300 T D (123.190) (59 KW / 80 HP)
KOMBI Kombi (5123) 300 T D (123.190) (65 KW / 88 HP)

KOMBI Kombi (5123) 300 T Turbo-D (123.193) (92 KW /
125 HP)

KOMBI Kombi (5124) 300 TE-24 (124.091) (162 KW / 220
HP)

KOMBI Kombi (5124) 230 TE (124.083) (97 KW / 132 HP)
KOMBI Kombi (5124) 260 TE FGST. (118 KW / 160 HP)
KOMBI Kombi (5124) 260 TE FGST. (122 KW / 166 HP)
KOMBI Kombi (5124) 320 TE (124.092) (162 KW / 220 HP)
KOMBI Kombi (5124) 280 TE (124.088) (145 KW / 197 HP)
KOMBI Kombi (5124) 300 T Turbo-D (105 KW / 143 HP)
KOMBI Kombi (5124) 300 T Turbo-D (124.193) (108 KW /

147 HP)

KOMBI Kombi (5124) 250 TD Turbo (124.188) (93 KW /
126 HP)

KOMBI Kombi (5124) 220 TE (124.082) (110 KW / 150 HP)
KOMBI Kombi (5124) 200 E (77 KW / 105 HP)

KOMBI Kombi (S124) 300 TD T (100 KW / 136 HP)

KOMBI Kombi (5124) 300 TD T (100 KW / 136 HP)

03.2003 - 07.2009

04.2006 - 07.2009

03.2003 - 07.2009

YEAR

11.1980 - 11.1985

11.1980 - 11.1985

04.1980 - 11.1985

09.1977 - 03.1980

05.1978 - 10.1979

05.1978 - 08.1982

09.1977 - 11.1985

03.1979 - 12.1985

09.1977 - 02.1979

09.1977 - 10.1985

03.1979 - 11.1985

10.1980 - 11.1985

09.1989 - 08.1992

09.1985 - 08.1992

09.1989 - 08.1992

09.1985 - 12.1989

10.1992 - 06.1993

10.1992 - 06.1993

09.1986 - 01.1989

01.1989 - 06.1993

03.1988 - 07.1993

10.1992 - 05.1993

11.1992 - 05.1993

06.1992 - 05.1993

06.1992 - 05.1993

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

FITTING POSITION
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240007

SKTR-0240007

SKTR-0240007

ITEM NUMBER

SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030

SKRA-0250030

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240



KOMBI Kombi (5124) 200 T (124.080) (77 KW / 105 HP)
KOMBI Kombi (5124) 200 T (124.080) (80 KW / 109 HP)
KOMBI Kombi (5124) 200 TE (124.081) (87 KW / 118 HP)
KOMBI Kombi (5124) 200 TE (90 KW / 122 HP)

KOMBI Kombi (5124) 230 TE (124.083) KAT (97 KW / 132
HP)

KOMBI Kombi (5124) 230 TE (124.083) (100 KW / 136 HP)
KOMBI Kombi (5124) 300 TE 4-matic (124.290) (132 KW /
180 HP)

KOMBI Kombi (5124) 300 TE (124.090) (132 KW / 180 HP)
KOMBI Kombi (5124) 300 TE (124.090) (138 KW / 188 HP)
KOMBI Kombi (5124) 200 T D (124.180) (53 KW / 72 HP)
KOMBI Kombi (5124) 200 T D (124.180) (55 KW / 75 HP)
KOMBI Kombi (5124) 250 T D (124.185) (66 KW / 90 HP)
KOMBI Kombi (5124) 250 T D (124.185) (69 KW / 94 HP)
KOMBI Kombi (5124) 300 T D (124.190) (80 KW / 109 HP)
KOMBI Kombi (5124) 300 T D (124.190) (81 KW / 110 HP)
KOMBI Kombi (5124) 300 T D (124.190) (83 KW / 113 HP)
KOMBI Kombi (5124) 300 TE-24 (124.091) (170 KW / 231

HP)
KOMBI Kombi (5124) 200 TE (124.079) (100 KW / 136 HP)

MERCEDES-BENZ M-KLASSE

MODEL

M-CLASS (W163) ML 430 (163.172) (200 KW / 272 HP)
M-CLASS (W163) ML 400 CDI (163.128) (184 KW / 250
HP)

M-CLASS (W163) ML 500 (163.175) (215 KW / 292 HP)
M-CLASS (W163) ML 320 (163.154) (160 KW / 218 HP)

M-CLASS (W163) ML 230 (163.136) (110 KW / 150 HP)

M-CLASS (W163) ML 500 4-matic (215 KW / 292 HP)

01.1986 - 05.1990

09.1985 - 08.1989

09.1988 - 08.1992

09.1988 - 12.1989

06.1989 - 08.1992

09.1985 - 08.1992

09.1986 - 06.1993

01.1986 - 08.1992

01.1986 - 12.1989

09.1985 - 08.1991

09.1988 - 08.1991

09.1985 - 06.1993

01.1989 - 06.1993

09.1986 - 06.1993

01.1989 - 06.1993

01.1989 - 06.1993

09.1989 - 08.1992

05.1986 - 06.1993

YEAR

02.1998 - 06.2005

09.2001 - 06.2005

09.2001 - 06.2005

02.1998 - 08.2002

02.1998 - 06.2005

09.2001 - 06.2005

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

ITEM NUMBER

SKTR-0240042

SKTR-0240042

SKTR-0240042

SKTR-0240042

SKTR-0240042

SKTR-0240042

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5/
M16x1,5
160

M16x1,5/
M16x1,5
160

M16x1,5 /
M16x1,5
160

M16x1,5 /
M16x1,5
160

M16x1,5/
M16x1,5
160

M16x1,5/
M16x1,5
160



M-CLASS (W163) ML 270 CDI (163.113) (120 KW / 163
HP)

M-CLASS (W163) ML 55 AMG (163.174) (255 KW / 347
HP)

M-CLASS (W163) ML 350 (173 KW / 235 HP)

M-CLASS (W163) ML 350 (163.157) (180 KW / 245 HP)

MERCEDES-BENZ S-KLASSE

MODEL

S-CLASS (W116) 450 SE (143 KW / 194 HP)
S-CLASS (W116) 280 S (116.020) (115 KW / 156 HP)
S-CLASS (W116) 280 S (116.020) (118 KW / 160 HP)
S-CLASS (W116) 280 SE,SEL (116.024) (130 KW / 177 HP)
S-CLASS (W116) 280 SE,SEL (116.024) (136 KW / 185 HP)

S-CLASS (W116) 350 SE,SEL (116.028, 116.029) (143 KW
/194 HP)

S-CLASS (W116) 350 SE,SEL (116.028, 116.029) (147 KW
/200 HP)

S-CLASS (W116) 350 SE,SEL (116.028, 116.029) (151 KW
/205 HP)

S-CLASS (W116) 450 SE,SEL (116.033) (160 KW / 218 HP)
S-CLASS (W116) 450 SE,SEL (116.032) (165 KW / 224 HP)

S-CLASS (W116) 450 SEL 6.9 (116.036) (210 KW / 286
HP)

S-CLASS (W126) 300 SD (91 KW / 123 HP)
S-CLASS (W126) 300 SDL (107 KW / 146 HP)

S-CLASS (W126) 260 SE (126.020) (118 KW / 160 HP)
S-CLASS (W126) 260 SE (126.020) (122 KW / 166 HP)
S-CLASS (W126) 280 S (126.021) (115 KW / 156 HP)

S-CLASS (W126) 280 SE,SEL (126.022, 126.023) (136 KW
/185 HP)

S-CLASS (W126) 300 SE,SEL (126.024, 126.025) (132 KW
/180 HP)

S-CLASS (W126) 300 SE,SEL (126.024, 126.025) (138 KW
/188 HP)

S-CLASS (W126) 380 SE,SEL (126.032) (160 KW / 218 HP)

12.1999 - 06.2005

02.2000 - 06.2005

02.2003 - 06.2005

08.2002 - 06.2005

YEAR

08.1972 - 12,1976

08.1972 - 07.1980

08.1972 - 07.1980

08.1972 - 07.1980

08.1972 - 07.1980

03.1976 - 03.1980

08.1972 - 02.1976

03.1976 - 03.1980

12.1975 - 04.1980

01.1973 - 04.1980

07.1975 - 03.1980

09.1980 - 12.1985

09.1986 - 12.1987

09.1985 - 06.1991

09.1985 - 06.1991

12.1979 - 07.1985

10.1979 - 07.1985

01.1986 - 06.1991

09.1985 - 12.1989

09.1980 - 10.1981

beidseitig

beidseitig

beidseitig

beidseitig

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240042

SKTR-0240042

SKTR-0240042

SKTR-0240042

ITEMNUMBER

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}

Linge [mm]

ITEM DETAILS

M16x1,5 /
M16x1,5
160

M16x1,5/
M16x1,5
160

M16x1,5 /
M16x1,5
160

M16x1,5 /
M16x1,5
160



S-CLASS (W126) 380 SE,SEL (126.032) (150 KW / 204 HP)

S-CLASS (W126) 420 SE,SEL (126.034, 126.035) (150 KW
/204 HP)

S-CLASS (W126) 420 SE,SEL (126.034) (160 KW / 218 HP)

S-CLASS (W126) 420 SE,SEL (165 KW / 224 HP)

S-CLASS (W126) 420 SE,SEL (170 KW / 231 HP)

S-CLASS (W126) 500 SE,SEL (126.036) (164 KW / 223 HP)

S-CLASS (W126) 500 SE,SEL (126.036) (170 KW / 231 HP)

S-CLASS (W126) 500 SE,SEL (126.036) (177 KW / 241 HP)

S-CLASS (W126) 500 SE,SEL (126.036) (180 KW / 245 HP)

S-CLASS (W126) 500 SE,SEL (185 KW / 252 HP)

S-CLASS (W126) 500 SE,SEL (195 KW / 265 HP)

S-CLASS (W126) 560 SE,SEL (126.038, 126.039) (178 KW

/242 HP)

S-CLASS (W126) 560 SE,SEL (126.038) (200 KW / 272 HP)

S-CLASS (W126) 560 SE,SEL (205 KW / 279 HP)

S-CLASS (W126) 560 SE,SEL (220 KW / 300 HP)

S-CLASS (W126) 500 SE,SEL KAT (185 KW / 252 HP)

S-CLASS (W126) 350 SD (110 KW / 150 HP)

S-CLASS (W126) 3.8 (160 KW / 218 HP)

S-CLASS (W220) S 280 (220.063, 220.163) (150 KW /
204 HP)

S-CLASS (W220) S 350 4-matic (220.087, 220.187) (180
KW / 245 HP)

S-CLASS (W220) S 600 (220.176) (368 KW / 500 HP)
S-CLASS (W220) S 350 (220.067, 220.167) (180 KW /
245 HP)

S-CLASS (W220) S 55 AMG (220.073, 220.173) (265 KW /
360 HP)

S-CLASS (W220) S 55 AMG Kompressor (220.074,
220.174) (368 KW / 500 HP)

S-CLASS (W220) S 430 4-matic (220.083, 220.183) (205
KW / 279 HP)

S-CLASS (W220) S 500 4-matic (220.084, 220.184) (225
KW / 306 HP)

S-CLASS (W220) S 65 AMG (220.179) (450 KW / 612 HP)

10.1981 - 08.1985

10.1985 - 06.1991

10.1985 - 12.1987

10.1985 - 06.1991

10.1985 - 12.1987

09.1985 - 06.1991

12.1979 - 08.1985

12.1979 - 08.1985

09.1985 - 06.1991

09.1987 - 06.1991

09.1987 - 06.1991

10.1985 - 06.1991

10.1985 - 12.1987

08.1987 - 06.1991

10.1985 - 06.1991

06.1989 - 06.1991

09.1989 - 06.1991

08.1980 - 08.1984

10.1998 - 08.2005

06.2003 - 08.2005

09.2002 - 08.2005

09.2002 - 08.2005

04.1999 - 08.2005

06.2002 - 08.2005

09.2002 - 08.2005

09.2002 - 08.2005

03.2004 - 08.2005

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Linge [mm]

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240



S-CLASS (W220) S 63 AMG (326 KW / 444 HP)

S-CLASS (W220) S 320 (220.065, 220.165) (165 KW /
224 HP)

S-CLASS (W220) S 430 (220.070, 220.170) (205 KW /
279 HP)

S-CLASS (W220) S 500 (220.075, 220.175, 220.875) (225
KW / 306 HP)

S-CLASS (W220) S 400 CDI (220.028, 220.128) (184 KW /
250 HP)

S-CLASS (W220) S 400 CDI (220.028, 220.128) (191 KW /
260 HP)

S-CLASS (W220) S 320 CDI (220.025, 220.125) (150 KW /
204 HP)

S-CLASS (W220) S 320 CDI (220.026, 220.126) (145 KW /
197 HP)

S-CLASS (W220) S 600 (220.878, 220.178) (270 KW /
367 HP)

S-CLASS Coupe (C126) 380 SEC (126.043) (150 KW / 204
HP)

S-CLASS Coupe (C126) 420 SEC (126.046) (150 KW / 204
HP)

S-CLASS Coupe (C126) 420 SEC (126.046) (160 KW / 218
HP)

S-CLASS Coupe (C126) 420 SEC (126.046) (165 KW / 224
HP)

S-CLASS Coupe (C126) 500 SEC (126.044) (164 KW / 223
HP)

S-CLASS Coupe (C126) 500 SEC (126.044) (170 KW / 231
HP)

S-CLASS Coupe (C126) 500 SEC (126.044) (180 KW / 245
HP)

S-CLASS Coupe (C126) 500 SEC (126.044) (185 KW / 252
HP)

S-CLASS Coupe (C126) 560 SEC (126.045) (178 KW / 242
HP)

S-CLASS Coupe (C126) 560 SEC (126.045) (200 KW / 272
HP)

S-CLASS Coupe (C126) 560 SEC (126.045) (205 KW / 279
HP)

S-CLASS Coupe (C126) 560 SEC (126.045) (220 KW / 300
HP)

S-CLASS Coupe (C126) 500 SEC KAT (185 KW / 252 HP)

S-CLASS Coupe (C126) 500 SEC (126.044) (177 KW / 241
HP)

S-CLASS Coupe (C126) 500 SEC (126.044) (195 KW / 265
HP)
S-CLASS Coupe (C126) 420 SEC (126.046) (170 KW / 231
HP)

S-CLASS Coupe (C215) CL 55 AMG (215.373) (265 KW /
360 HP)

S-CLASS Coupe (€C215) CL 600 (215.376) (368 KW / 500
HP)

09.2001 - 08.2005

10.1998 - 08.2005

10.1998 - 08.2005

10.1998 - 08.2005

06.2000 - 08.2005

06.2003 - 08.2005

09.2002 - 08.2005

08.1999 - 09.2002

01.2000 - 08.2005

10.1981 - 07.1985

10.1985 - 06.1991

10.1985 - 12.1987

10.1985 - 06.1991

10.1985 - 06.1991

10.1981 - 08.1985

09.1985 - 06.1991

08.1987 - 06.1991

10.1985 - 06.1991

10.1985 - 12.1987

10.1985 - 06.1991

10.1985 - 12.1989

06.1989 - 06.1991

08.1980 - 08.1985

09.1985 - 06.1991

09.1986 - 06.1991

10.1999 - 03.2006

09.2002 - 03.2006

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
rechts

Vorderachse
rechts

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKRA-0250066

SKTR-0240007

SKTR-0240007

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240



S-CLASS Coupe (C215) CL 55 AMG Kompressor (215.374)
(368 KW / 500 HP)

S-CLASS Coupe (C215) CL 63 AMG (326 KW / 444 HP)
S-CLASS Coupe (C215) CL 500 (215.375) (225 KW / 306
HP)

S-CLASS Coupe (C215) CL 600 (215.378) (270 KW / 367
HP)

S-CLASS Coupe (C215) CL 65 AMG (215.379) (450 KW /
612 HP)

MERCEDES-BENZ SL

MODEL

SL (R129) 55 AMG (350 KW / 476 HP)
SL (R230) 500 (230.475) (225 KW / 306 HP)

SL (R230) 600 (230.476) (368 KW / 500 HP)

SL (R230) SL 500 (215 KW / 292 HP)

SL (R230) 300 (170 KW / 231 HP)

SL (R230) 55 AMG (230.474) (350 KW / 476 HP)

SL (R230) 65 AMG Black Series (230.479) (493 KW / 670
HP)

SL (R230) 350 (200 KW / 272 HP)

SL (R230) 500 (285 KW / 388 HP)

SL (R230) 600 (380 KW / 517 HP)

SL (R230) 55 AMG (380 KW / 517 HP)

SL (R230) 350 (230.467) (180 KW / 245 HP)

SL (R230) 350 (232 KW / 316 HP)

SL (R230) 63 AMG (230.470) (386 KW / 525 HP)

SL (R230) 280 (170 KW / 231 HP)

SL (R230) 55 AMG Kompressor (230.474) (368 KW / 500

HP)

SL (R230) 65 AMG (230.479) (450 KW / 612 HP)

06.2002 - 03.2006

09.2001 - 03.2006

03.1999 - 03.2006

03.1999 - 03.2006

09.2003 - 03.2006

YEAR

08.1999 - 07.2001

10.2001 - 01.2012

04.2003 - 01.2012

09.2002 - 12.2005

04.2009 - 01.2012

10.2001 - 06.2002

07.2008 - 01.2012

03.2006 - 01.2012

03.2006 - 01.2012

03.2006 - 01.2012

03.2006 - 01.2012

03.2003 - 01.2012

04.2008 - 01.2012

03.2008 - 01.2012

03.2008 - 01.2012

06.2002 - 01.2012

03.2004 - 01.2012

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

FITTING POSITION

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

ITEM NUMBER

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

SKTR-0240007

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

Mi16x1,5/
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5 /
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240

M16x1,5/
M14x1,5
240



MERCEDES-BENZ SPRINTER

MODEL
SPRINTER 2-t Bus (901, 902) 214 NGT (92 KW / 125 HP)
SPRINTER 2-t Bus (901, 902) 208 D (58 KW / 79 HP)
SPRINTER 2-t Bus (901, 902) 212 D (90 KW / 122 HP)
SPRINTER 2-t Bus (901, 902) 214 (105 KW / 143 HP)
SPRINTER 2-t Bus (901, 902) 210 D (75 KW / 102 HP)
SPRINTER 2-t Bus (901, 902) 208 CDI (60 KW / 82 HP)
SPRINTER 2-t Bus (901, 902) 211 CDI (80 KW / 109 HP)
SPRINTER 2-t Bus (901, 902) 213 CDI (95 KW / 129 HP)
SPRINTER 2-t Bus (901, 902) 216 CDI (115 KW / 156 HP)
SPRINTER 2-t Kasten (901, 902) 212 D (90 KW / 122 HP)

SPRINTER 2-t Kasten (901, 902) 214 NGT (92 KW / 125
HP)

SPRINTER 2-t Kasten (901, 902) 214 (105 KW / 143 HP)
SPRINTER 2-t Kasten (901, 902) 208 D (60 KW / 82 HP)
SPRINTER 2-t Kasten (901, 902) 210 D (75 KW / 102 HP)
SPRINTER 2-t Kasten (901, 902) 208 D (58 KW / 79 HP)
SPRINTER 2-t Kasten (901, 902) 208 CDI (60 KW / 82 HP)
SPRINTER 2-t Kasten (901, 902) 211 CDI (80 KW / 109 HP)
SPRINTER 2-t Kasten (901, 902) 213 CDI (95 KW / 129 HP)

SPRINTER 2-t Kasten (901, 902) 216 CDI (115 KW / 156
HP)

SPRINTER 2-t Pritsche/Fahrgestell (901, 902) 208 D (58 KW
/79 HP)

SPRINTER 2-t Pritsche/Fahrgestell (901, 902) 214 NGT (92
KW /125 HP)

SPRINTER 2-t Pritsche/Fahrgestell (901, 902) 214 (105 KW
/143 HP)

SPRINTER 2-t Pritsche/Fahrgestell (901, 902) 210 D (75 KW
/102 HP)

SPRINTER 2-t Pritsche/Fahrgestell (901, 902) 208 D (60 KW
/82 HP)

SPRINTER 2-t Pritsche/Fahrgestell (901, 902) 212 D (90 KW
/122 HP)

SPRINTER 2-t Pritsche/Fahrgestell (901, 902) 208 CDI (60
KW / 82 HP)

SPRINTER 2-t Pritsche/Fahrgestell (901, 902) 211 CDI (80
KW /109 HP)

SPRINTER 2-t Pritsche/Fahrgestell (901, 902) 213 CDI (95
KW / 129 HP)

SPRINTER 2-t Pritsche/Fahrgestell (901, 902) 216 CDI (115
KW /156 HP)

SPRINTER 3-t Bus (903) 308 E (40 KW / 54 HP)
SPRINTER 3-t Bus (903) 312 D 2.9 (90 KW / 122 HP)

SPRINTER 3-t Bus (903) 308 D (58 KW / 79 HP)

YEAR

04.2000 - 05.2006

02.1995 - 04.2000

02.1995 - 04.2000

02.1995 - 05.2006

03.1997 - 04.2000

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

02.1995 - 04.2000

04.2000 - 05.2006

02.1995 - 05.2006

10.1996 - 04.2000

01.1997 - 04.2000

02.1995 - 04.2000

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

01.1995 - 04.2000

04.2000 - 05.2006

02.1995 - 05.2006

01.1997 - 04.2000

09.1996 - 04.2000

02.1995 - 04.2000

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

02.1995 - 04.2000

02.1995 - 04.2000

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEMNUMBER

SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035

SKTR-0240035

SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035
SKTR-0240035

SKTR-0240035

ITEM DETAILS



SPRINTER 3-t Bus (903) 314 (105 KW / 143 HP)
SPRINTER 3-t Bus (903) 314 NGT (92 KW / 125 HP)
SPRINTER 3-t Bus (903) 312 D 2.9 4x4 (90 KW / 122 HP)
SPRINTER 3-t Bus (903) 310 D 4x4 (75 KW / 102 HP)
SPRINTER 3-t Bus (903) 2.9 TDi (75 KW / 102 HP)
SPRINTER 3-t Bus (903) 311 CDI 4x4 (80 KW / 109 HP)
SPRINTER 3-t Bus (903) 313 CDI 4x4 (95 KW / 129 HP)
SPRINTER 3-t Bus (903) 314 4x4 (105 KW / 143 HP)
SPRINTER 3-t Bus (903) 316 CDI 4x4 (115 KW / 156 HP)

SPRINTER 3-t Bus (903) 308 D (903.371, 903.372,
903.373) (60 KW / 82 HP)

SPRINTER 3-t Bus (903) 308 CDI (60 KW / 82 HP)
SPRINTER 3-t Bus (903) 311 CDI (80 KW / 109 HP)
SPRINTER 3-t Bus (903) 313 CDI (95 KW / 129 HP)
SPRINTER 3-t Bus (903) 316 CDI (115 KW / 156 HP)
SPRINTER 3-t Kasten (903) 310 D 2.9 (75 KW / 102 HP)
SPRINTER 3-t Kasten (903) 314 NGT (92 KW / 125 HP)
SPRINTER 3-t Kasten (903) 314 (105 KW / 143 HP)
SPRINTER 3-t Kasten (903) 312 D 2.9 (90 KW / 122 HP)
SPRINTER 3-t Kasten (903) 312 D (77 KW / 105 HP)

SPRINTER 3-t Kasten (903) 310 D 2.9 4x4 (75 KW / 102
HP)

SPRINTER 3-t Kasten (903) 314 4x4 (105 KW / 143 HP)
SPRINTER 3-t Kasten (903) 311 CDI 4x4 (80 KW / 109 HP)
SPRINTER 3-t Kasten (903) 313 (DI 4x4 (95 KW / 129 HP)
SPRINTER 3-t Kasten (903) 316 (DI 4x4 (115 KW / 156 HP)

SPRINTER 3-t Kasten (903) 312 D 2.9 4x4 (90 KW / 122
HP)

SPRINTER 3-t Kasten (903) 308 D 2.3 (60 KW / 82 HP)
SPRINTER 3-t Kasten (903) 310 D (70 KW / 95 HP)
SPRINTER 3-t Kasten (903) 308 D 2.3 (58 KW / 79 HP)
SPRINTER 3-t Kasten (903) 308 CDI (60 KW / 82 HP)
SPRINTER 3-t Kasten (903) 311 CDI (80 KW / 109 HP)
SPRINTER 3-t Kasten (903) 313 CDI (95 KW / 129 HP)
SPRINTER 3-t Kasten (903) 316 CDI (115 KW / 156 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 312 D 2.9 (90 KW /
122 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 314 NGT (92 KW /
125 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 314 (105 KW /
143 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 310 D 2.9 (75 KW /
102 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 308 D 2.3 (60 KW /
82 HP)

02.1995 - 05.2006

04.2000 - 05.2006

05.1997 - 08.2002

05.1997 - 08.2002

01.1997 - 12,1999

08.2002 - 05.2006

08.2002 - 05.2006

08.2002 - 05.2006

08.2002 - 05.2006

03.1997 - 04.2000

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

02.1995 - 04.2000

04.2000 - 05.2006

02.1995 - 05.2006

02.1995 - 04.2000

10.1999 - 05.2001

06.1997 - 04.2000

08.2002 - 05.2006

08.2002 - 05.2006

08.2002 - 05.2006

08.2002 - 05.2006

05.1997 - 08.2002

02.1995 - 04.2000

09.1996 - 05.2001

02.1995 - 04.2000

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

02.1995 - 04.2000

04.2000 - 05.2006

02.1995 - 05.2006

01.1997 - 04.2000

11.1996 - 04.2000

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035

SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035

SKTR-0240035

SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035

SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035




SPRINTER 3-t Pritsche/Fahrgestell (903) 310 D (70 KW / 95
HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 314 4x4 (105 KW
/143 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 311 CDI 4x4 (80
KW /109 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 313 (DI 4x4 (95
KW /129 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 316 CDI 4x4 (115
KW / 156 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 312 D 2.9
(903.411, 903.412, 903.413, 903.421, 903.422..) (85
KW / 116 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 308 D 2.3 (58 KW /
79 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 308 CDI (60 KW /
82 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 311 CDI (80 KW /
109 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 313 CDI (95 KW /
129 HP)

SPRINTER 3-t Pritsche/Fahrgestell (903) 316 CDI (115 KW /
156 HP)

SPRINTER 4-t Bus (904) 414 (105 KW / 143 HP)
SPRINTER 4-t Bus (904) 408 CDI (60 KW / 82 HP)
SPRINTER 4-t Bus (904) 411 CDI (80 KW / 109 HP)
SPRINTER 4-t Bus (904) 413 CDI (95 KW / 129 HP)
SPRINTER 4-t Bus (904) 416 CDI (115 KW / 156 HP)
SPRINTER 4-t Kasten (904) 414 D 4x4 (90 KW / 122 HP)
SPRINTER 4-t Kasten (904) 414 (105 KW / 143 HP)
SPRINTER 4-t Kasten (904) 414 4x4 (105 KW / 143 HP)
SPRINTER 4-t Kasten (904) 408 CDI (60 KW / 82 HP)
SPRINTER 4-t Kasten (904) 411 CDI (80 KW / 109 HP)
SPRINTER 4-t Kasten (904) 413 CDI (95 KW / 129 HP)
SPRINTER 4-t Kasten (904) 416 CDI (115 KW / 156 HP)
SPRINTER 4-t Kasten (904) 411 CDI 4x4 (80 KW / 109 HP)
SPRINTER 4-t Kasten (904) 413 CDI 4x4 (95 KW / 129 HP)
SPRINTER 4-t Kasten (904) 416 CDI 4x4 (115 KW / 156 HP)
SPRINTER 4-t Kasten (904) 408 D (58 KW / 79 HP)
SPRINTER 4-t Kasten (904) 410 D (75 KW / 102 HP)
SPRINTER 4-t Kasten (904) 410 D 4x4 (75 KW / 102 HP)
SPRINTER 4-t Kasten (904) 412 D (85 KW / 115 HP)
SPRINTER 4-t Kasten (904) 412 D 4x4 (85 KW / 115 HP)
SPRINTER 4-t Kasten (904) 412 D (90 KW / 122 HP)
SPRINTER 4-t Kasten (904) 412 D 4x4 (90 KW / 122 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 412 D (85 KW /
115 HP)

09.1996 - 05.2001

08.2002 - 05.2006

08.2002 - 05.2006

08.2002 - 05.2006

08.2002 - 05.2006

12.1998 - 09.2001

02.1995 - 04.2000

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

02.1996 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

05.1997 - 05.2006

02.1996 - 05.2006

05.1997 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

02.1996 - 05.2006

02.1996 - 05.2006

05.1997 - 05.2006

02.1996 - 05.2006

05.1997 - 05.2006

02.1996 - 05.2006

05.1997 - 05.2006

10.1999 - 05.2001

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035




SPRINTER 4-t Pritsche/Fahrgestell (904) 414 (105 KW /
143 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 414 4x4 (105 KW
/143 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 408 CDI (60 KW /
82 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 411 CDI (80 KW /
109 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 411 CDI 4x4 (80
KW / 109 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 413 CDI (95 KW /
129 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 413 (DI 4x4 (95
KW /129 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 416 CDI (115 KW /
156 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 416 CDI 4x4 (115
KW / 156 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 408 D (58 KW / 79
HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 410 D (75 KW /
102 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 410 D 4x4 (75 KW
/102 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 412 D (85 KW /
115 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 412 D 4x4 (85 KW
/115 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 412 D (90 KW /
122 HP)

SPRINTER 4-t Pritsche/Fahrgestell (904) 412 D 4x4 (90 KW
/122 HP)

SPRINTER CLASSIC 3,5-t Kasten (909) 311 CDI (909.632,
909.633) (80 KW / 109 HP)

SPRINTER CLASSIC 4,6-t Bus (909) 411 CDI (909.843) (80
KW / 109 HP)

MERCEDES-BENZ STUFENHECK

MODEL
Stufenheck (W123) 200 (62 KW / 84 HP)

Stufenheck (W123) 200 (123.020) (69 KW / 94 HP)
Stufenheck (W123) 200 (74 KW / 101 HP)

Stufenheck (W123) 200 (123.220) (30 KW / 109 HP)
Stufenheck (W123) 230 E (123.223) (100 KW / 136 HP)
Stufenheck (W123) 230 (123.023) (30 KW / 109 HP)
Stufenheck (W123) 250 (123.026) (103 KW / 140 HP)
Stufenheck (W123) 280 (123.030) (115 KW / 156 HP)
Stufenheck (W123) 280 E (130 KW / 177 HP)

Stufenheck (W123) 280 E (123.033) (136 KW / 185 HP)

02.1996 - 05.2006

05.1997 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

04.2000 - 05.2006

02.1996 - 05.2006

02.1996 - 05.2006

05.1997 - 05.2006

02.1996 - 05.2006

05.1997 - 05.2006

02.1996 - 05.2006

05.1997 - 05.2006

09.2013 -

09.2013 -

YEAR

02.1976 - 08.1980

02.1976 - 08.1980

06.1980 - 11.1985

06.1980 - 11.1985

04.1980 - 12.1985

02.1976 - 03.1981

10.1979 - 07.1985

02.1976 - 08.1981

08.1976 - 08.1981

02.1976 - 11.1985

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

ITEM NUMBER

SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030

SKRA-0250030

ITEM DETAILS



Stufenheck (W123) 200 D (123.120) (40 KW / 55 HP)
Stufenheck (W123) 200 D (44 KW / 60 HP)

Stufenheck (W123) 220 D (123.126) (44 KW / 60 HP)
Stufenheck (W123) 220 D (49 KW / 67 HP)

Stufenheck (W123) 240 D (123.123) (53 KW / 72 HP)
Stufenheck (W123) 240 D (123.123) (48 KW / 65 HP)
Stufenheck (W123) 300 D (123.130) (59 KW / 80 HP)
Stufenheck (W123) 300 D (123.130) (65 KW / 88 HP)

Stufenheck (W123) 300 Turbo-D (123.133) (92 KW / 125
HP)

Stufenheck (W123) 250 (123.026) (95 KW / 129 HP)

Stufenheck (W124) 320 E (124.032) (162 KW / 220 HP)

Stufenheck (W124) 300 Turbo-D (124.133) (105 KW / 143

HP)
Stufenheck (W124) 500 E AMG 6.0 (275 KW / 374 HP)

Stufenheck (W124) 200 E (77 KW / 105 HP)

Stufenheck (W124) 300 AMG (265 KW / 360 HP)

Stufenheck (W124) 200 (124.020) (75 KW / 102 HP)

Stufenheck (W124) 200 (124.020) (80 KW / 109 HP)

Stufenheck (W124) 200 E (124.021) (87 KW / 118 HP)

Stufenheck (W124) 200 E (124.021) (90 KW / 122 HP)

Stufenheck (W124) 230 E (124.023) (97 KW / 132 HP)

Stufenheck (W124) 230 E (124.023) (100 KW / 136 HP)

Stufenheck (W124) 260 E 4-matic (124.226) (118 KW /

160 HP)

Stufenheck (W124) 260 E (124.026) (118 KW / 160 HP)

Stufenheck (W124) 260 E (124.026) (122 KW / 166 HP)

Stufenheck (W124) 300 E (138 KW / 188 HP)

Stufenheck (W124) 300 E (124.030) (132 KW / 180 HP)

Stufenheck (W124) 300 E 4-matic (124.230) (132 KW /

180 HP)

Stufenheck (W124) 300 E (138 KW / 188 HP)

Stufenheck (W124) 200 D (124.120) (53 KW / 72 HP)

Stufenheck (W124) 200 D (124.120) (55 KW / 75 HP)

Stufenheck (W124) 250 D (124.125) (66 KW / 90 HP)

07.1976 - 02.1979

03.1979 - 11.1985

01.1976 - 02.1979

01.1977 - 03.1979

03.1979 - 11.1985

02.1976 - 02.1979

02.1976 - 07.1980

03.1979 - 11.1985

08.1981 - 07.1985

02.1976 - 10.1979

10.1992 - 06.1993

09.1986 - 09.1988

01.1992 - 06.1993

11.1992 - 05.1993

09.1988 - 06.1993

01.1986 - 05.1990

12.1985 - 05.1990

09.1988 - 08.1992

09.1988 - 12.1989

12.1984 - 03.1992

01.1985 - 06.1993

09.1986 - 08.1992

09.1985 - 08.1992

09.1985 - 12.1989

01.1985 - 12.1985

08.1985 - 08.1992

09.1986 - 06.1993

06.1985 - 08.1992

12.1984 - 08.1989

08.1989 - 06.1993

04.1985 - 06.1993

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

Vorderachse

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030
SKRA-0250030

SKRA-0250030

SKRA-0250030

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007

SKRA-0250007




Stufenheck (W124) 250 D (124.125) (69 KW / 94 HP) 01.1989 - 06.1993  Vorderachse SKRA-0250007

beidseitig

Stufenheck (W124) 250 Turbo-D (124.128) (93 KW / 126 09.1988 - 06.1993 Vorderachse SKRA-0250007

HP) beidseitig

Stufenheck (W124) 300 D (124.130) (80 KW / 109 HP) 12.1984 - 08.1989 Vorderachse SKRA-0250007
beidseitig

Stufenheck (W124) 300 D 4-matic (124.330) (80 KW /109  09.1986 - 08.1992 Vorderachse SKRA-0250007

HP) beidseitig

Stufenheck (W124) 300 D (124.130) (81 KW / 110 HP) 06.1990 - 06.1993 Vorderachse SKRA-0250007
beidseitig

Stufenheck (W124) 300 D 4-matic (124.330) (83 KW /113  08.1989 - 06.1993 Vorderachse SKRA-0250007

HP) beidseitig

Stufenheck (W124) 300 D (124.130) (83 KW / 113 HP) 08.1989 - 06.1993 Vorderachse SKRA-0250007
beidseitig

Stufenheck (W124) 300 Turbo-D 4-matic (124.333) (105 09.1986 - 09.1988 Vorderachse SKRA-0250007

KW / 143 HP) beidseitig

Stufenheck (W124) 300 Turbo-D 4-matic (124.333) (108 01.1988 - 06.1993 Vorderachse SKRA-0250007

KW / 147 HP) beidseitig

Stufenheck (W124) 300 Turbo-D (124.133) (108 KW /147  09.1988 - 06.1993 Vorderachse SKRA-0250007

HP) beidseitig

Stufenheck (W124) 200 (77 KW / 105 HP) 01.1986 - 05.1990 Vorderachse SKRA-0250007
beidseitig

Stufenheck (W124) 300 E-24 (124.031) (162 KW /220 HP) 09.1988 - 08.1992  Vorderachse SKRA-0250007

beidseitig

Stufenheck (W124) 500 E (124.036) (240 KW / 326 HP) 01.1991 - 06.1993 Vorderachse SKRA-0250007
beidseitig

Stufenheck (W124) 200 E (124.019) (100 KW / 136 HP) 10.1992 - 06.1993 Vorderachse SKRA-0250007
beidseitig

Stufenheck (W124) 220 E (124.022) (110 KW / 150 HP) 10.1992 - 06.1993 Vorderachse SKRA-0250007
beidseitig

Stufenheck (W124) 280 E (124.028) (145 KW / 197 HP) 10.1992 - 06.1993 Vorderachse SKRA-0250007
beidseitig

Stufenheck (W124) 400 E 4.2 (124.034) (205 KW / 279 10.1992 - 06.1993 Vorderachse SKRA-0250007

HP) beidseitig

Stufenheck (W124) 300 E-24 (124.031) (170 KW /231 HP) 09.1988 - 08.1992 Vorderachse SKRA-0250007
beidseitig

Stufenheck (W124) 230 E (124.023) KAT (97 KW /132 HP) 06.1989 - 06.1993 Vorderachse SKRA-0250007
beidseitig

MODEL YEAR FITTING POSITION ITEM NUMBER ITEM DETAILS

V-CLASS (638/2) V 200 CDI (638.294) (75 KW / 102 HP) 03.1999 - 07.2003  Vorderachse SKRA-0250017
V-CLASS (638/2) V 220 CDI (638.294) (90 KW / 122 HP) 03.1999 - 07.2003  Vorderachse SKRA-0250017

V-CLASS (638/2) V 200 (638.214, 638.294) (95 KW /129  02.1997 - 07.2003  Vorderachse SKRA-0250017

HP)

V-CLASS (638/2) V 230 TD (638.274) (72 KW / 98 HP) 09.1996 - 07.2003  Vorderachse SKRA-0250017
V-CLASS (638/2) V 230 (638.234, 638.294) (105 KW / 10.1996 - 07.2003  Vorderachse SKRA-0250017
143 HP)

V-CLASS (638/2) V 280 (638.244, 638.294) (128 KW / 08.1997 - 07.2003  Vorderachse SKRA-0250017
174 HP)




MERCEDES-BENZ VITO

MODEL
VITO Bus (638) 108 CDI 2.2 (638.194) (60 KW / 82 HP)

VITO Bus (638) 110 CDI 2.2 (638.194) (75 KW / 102 HP)
VITO Bus (638) 112 CDI 2.2 (638.194) (90 KW / 122 HP)

VITO Bus (638) 114 2.3 (638.134, 638.194) (105 KW /
143 HP)

VITO Bus (638) 108 D 2.3 (638.164) (58 KW / 79 HP)
VITO Bus (638) 110 TD 2.3 (638.174) (72 KW / 98 HP)

VITO Bus (638) 113 2.0 (638.114, 638.194) (95 KW /129
HP)

VITO Kasten (638) 108 D 2.3 (638.064) (58 KW / 79 HP)
VITO Kasten (638) 110 D 2.3 (638.074) (72 KW / 98 HP)

VITO Kasten (638) 113 2.0 (638.014, 638.094) (95 KW /
129 HP)

VITO Kasten (638) 114 2.3 (638.034, 638.094) (105 KW /
143 HP)

VITO Kasten (638) 108 CDI 2.2 (638.094) (60 KW / 82 HP)

VITO Kasten (638) 110 CDI 2.2 (638.094) (75 KW / 102
HP)

VITO Kasten (638) 112 (DI 2.2 (638.094) (90 KW / 122
HP)

YEAR

03.1999 - 07.2003

03.1999 - 07.2003

03.1999 - 07.2003

12.1996 - 07.2003

02.1996 - 07.2003

02.1996 - 07.2003

02.1996 - 07.2003

03.1997 - 07.2003

03.1997 - 07.2003

03.1997 - 07.2003

03.1997 - 07.2003

03.1999 - 07.2003

03.1999 - 07.2003

03.1999 - 07.2003

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEMNUMBER

SKRA-0250017

SKRA-0250017

SKRA-0250017
SKRA-0250017

SKRA-0250017
SKRA-0250017

SKRA-0250017

SKRA-0250017
SKRA-0250017

SKRA-0250017

SKRA-0250017

SKRA-0250017
SKRA-0250017

SKRA-0250017

ITEM DETAILS



A MITSUBISHI

MITSUBISHI

MITSUBISHI COLT

MODEL

COLT Il (C1_A) 1.2 EL,GL (C15A) (40 KW / 55 HP)
COLT Il (C1_A) 1.2 EL,GL (C15A) (44 KW / 60 HP)

COLT Il (C1_A) 1.5 GLX (C12A) (51 KW / 70 HP)

COLT Il (C1_A) 1.5 GLX (C12A) (55 KW / 75 HP)

COLT Il (C1_A) 1.6 Turbo ECGi (C13A) (92 KW / 125 HP)
COLT Il (C1_A) 1.8 GL Diesel (C14A) (43 KW / 58 HP)

COLT Il (C1_A) 1.8 GL Diesel (C14A) (44 KW / 60 HP)

COLT Il (C1_A) 1.6 Turbo EGi (C13A) (77 KW / 105 HP)
COLT Il (C5_A) 1.3 (C51A) (51 KW / 70 HP)

COLT Il (C5_A) 1.8 Diesel GLX (C54A) (44 KW / 60 HP)
COLT Il (C5_A) 1.3 GL (C61A) (44 KW / 60 HP)

COLT Il (C5_A) 1.3 12V (C51A) (55 KW / 75 HP)

COLT Il (C5_A) 1.5 GLXi (C52A) (62 KW / 84 HP)

COLT Il (C5_A) 1.5 (C52A) KAT (66 KW / 90 HP)

COLT Il (C5_A) 1.6 GTi 16V (C53A) (91 KW / 124 HP)

COLT Il (C5_A) 1.8 GTi 16V (C58A) KAT (100 KW / 136 HP)
COLT IV (CA_A) 1.3 GLi 12V (CA1A) (55 KW / 75 HP)

COLT IV (CA_A) 1.6 GLXi 16V (CA4A) (83 KW / 113 HP)

COLT IV (CA_A) 1.8 GTi 16V (CA5A) (103 KW / 140 HP)

COLT IV (CA_A) 1.6 4WD (CC4A) (84 KW / 114 HP)

YEAR

02.1984 - 09.1986

09.1986 - 04.1988

09.1985 - 04.1988

09.1984 - 04.1988

02.1984 - 04.1988

02.1984 - 09.1986

09.1986 - 04.1988

07.1986 - 04.1988

04.1988 - 05.1992

04.1988 - 05.1992

04.1988 - 12.1990

04.1988 - 05.1992

04.1988 - 05.1992

07.1990 - 05.1992

04.1988 - 05.1990

06.1990 - 05.1992

04.1992 - 04.1996

04.1992 - 04.1996

04.1992 - 04.1996

08.1993 - 08.1995

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

Vorderachse
beidseitig

innen

ITEM NUMBER

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240054

SKTR-0240057

SKTR-0240054

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]
Gewindemaf
Linge [mm]
Auflengewinde

[mm]

Gewindemaf}

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

MM16X1.5R /
MM12X1.25R
334,0

M12x1,25

MM16X1.5R /
MM12X1.25R



COLT IV (CA_A) 1.6 (CA4A) (66 KW / 90 HP)

COLT V (CJ, CP) 1500 (CJ2A) (69 KW / 94 HP)
COLT V (C, CP) 1.8 (CJ5A) (109 KW / 148 HP)

COLT V (C, CP) 1300 GL,GLX (CJ1A) (55 KW / 75 HP)
COLT V (T, CP) 1600 GLX (CJ4A) (66 KW / 90 HP)
COLT V (CI_, CP) 1300 (60 KW / 82 HP)

COLT V (O, CP) 1600 (76 KW / 103 HP)

COLT V (O, CP) 1.3 (66 KW / 90 HP)

COLT V (C), CP) 1.5 (81 KW / 110 HP)

MITSUBISHI ECLIPSE

MODEL

ECLIPSE Cabriolet 2.4 (105 KW / 143 HP)

ECLIPSE Cabriolet (D5_A) 2.4 (110 KW / 150 HP)
ECLIPSE Cabriolet (D5_A) 2.4 RS (106 KW / 144 HP)

ECLIPSE | (D2_A) 2.0 i 16V 4WD (D22A, D27A) (110 KW /
150 HP)

ECLIPSE | (D2_A) 1.8 (D21A) (68 KW / 92 HP)

ECLIPSE | (D2_A) 2.0 i 16V (D22A, D27A) (110 KW / 150
HP)

ECLIPSE Il (D3_A) 2.0 Turbo 4WD (157 KW / 214 HP)
ECLIPSE Il (D3_A) 2.0 Turbo 4WD (D32A) (147 KW / 200 HP)

ECLIPSE Il (D3_A) 2.0 Turbo (D32A) (147 KW / 200 HP)

ECLIPSE Il (D3_A) 2000 GS 16V (D32A) (107 KW / 146 HP)

ECLIPSE Il (D3_A) 2400 GS 16V (105 KW / 143 HP)

ECLIPSE Il (D3_A) 2000 GT 16V (157 KW / 214 HP)

ECLIPSE Ill (D5_A) 2.4 (106 KW / 144 HP)

ECLIPSE il (D5_A) 2.4 (110 KW / 150 HP)

02.1994 - 04.1996

10.1999 - 09.2003

11.1997 - 07.2001

05.1996 - 06.2000

05.1996 - 09.2000

06.2000 - 09.2003

09.2000 - 09.2003

08.2002 - 09.2003

09.1995 - 09.2003

YEAR

09.1995 - 04.1999

05.1999 - 03.2005

05.1999 - 03.2005

04.1991 - 11.1995

12.1989 - 03.1994

04.1991 - 11.1995

12,1995 - 04.1999

04.1994 - 04.1999

04.1994 - 04.1999

12.1995 - 04.1999

09.1998 - 04.1999

12.1995 - 04.1999

06.1999 - 03.2005

05.1999 - 03.2005

Vorderachse
beidseitig

innen

innen

innen

innen

innen

innen

innen

innen

FITTING POSITION
Vorderachse
Vorderachse
Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse
Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
innen

Vorderachse

Vorderachse

SKTR-0240057

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

ITEM NUMBER

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030
SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

Linge [mm]
Auflengewinde
[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

ITEM DETAILS

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

334,0
M12x1,25

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

205/252

205 /252

205/252

205 /252

205 /252

205/252

205 /252

205 /252

205 /252

205 /252

205 /252

205 /252

205 /252

205 /252



MITSUBISHI GALANT

MODEL
GALANT IV (E3_A) 1.8 Turbo-D (E34A) (55 KW / 75 HP)
GALANT IV (E3_A) 1.8 (E32A) (66 KW / 90 HP)

GALANT IV (E3_A) 2.0 4WD (E33A, E38A, E39A) (80 KW /
109 HP)

GALANT IV (E3_A) 2.0 GTI 16V (E39A, E38A, E33A) (106
KW / 144 HP)

GALANT IV (E3_A) 2.0 (E39A, E38A, E33A) (80 KW /109
HP)

GALANT IV (E3_A) 2.0 GTI 16V (E39A, E38A, E33A) (107
KW / 146 HP)

GALANT IV (E3_A) 2.0 GTI 16V 4x4 (E38A, E39A, E33A)
(106 KW / 144 HP)

GALANT IV Stufenheck (E3_A) 1.8 (E32A) (63 KW / 86 HP)

GALANT IV Stufenheck (E3_A) 2.0 GTi 16V (E39A, E38A,
E33A) (106 KW / 144 HP)

GALANT IV Stufenheck (E3_A) 2.0 GTi 16V 4WD (E39A,
E38A, E33A) (106 KW / 144 HP)

GALANT IV Stufenheck (E3_A) 1.8 Turbo-D (E34A) (55 KW /
75 HP)

GALANT IV Stufenheck (E3_A) 1.8 (E32A) (66 KW / 90 HP)

GALANT IV Stufenheck (E3_A) 2.0 4WD (E39A, E38A, E33A)
(80 KW / 109 HP)

GALANT IV Stufenheck (E3_A) 2.0 (E39A, E38A, E33A) (80
KW /109 HP)

GALANT IV Stufenheck (E3_A) 2.0 GTI 16V 4WD (E38A,
E39A, E33A) KAT (110 KW / 150 HP)

GALANT Stufenheck (DJ_, ED_, EF_) 2.4 (118 KW / 160 HP)

GALANT Stufenheck (D), ED_, EF_) 2.0 GDi G (107 KW / 145
HP)

GALANT Stufenheck (DJ_, ED_, EF ) 2.0 GDi V 4WD (107 KW
/145 HP)

GALANT Stufenheck (DJ_, ED_, EF_) 2.4 GDi Sport (DJ1A) (121
KW / 165 HP)

GALANT Stufenheck (DJ_, ED_, EF ) 2.4 GDi Sport 4WD (DJ1A)
(121 KW / 165 HP)

GALANT Stufenheck (DJ_, ED_, EF_) 3.8 GDi (171 KW / 232
HP)

GALANT Stufenheck (DJ_, ED_, EF ) 3.8 GDi 4WD (171 KW /
232 HP)

GALANT V (E5_A, E7_A, E8_A) 2.5 (E88A) (125 KW / 170
HP)

GALANT V (E5_A, E7_A, E8_A) 2.0 (E55A) (90 KW / 122 HP)

GALANT V (E5_A, E7_A, E8_A) 2.0 GLSTD (E57A) (66 KW /
90 HP)

YEAR

11.1988 - 10.1992

11.1988 - 10.1992

04.1989 - 10.1992

11.1988 - 10.1992

04.1989 - 10.1992

11.1988 - 10.1992

07.1989 - 12.1992

11.1987 - 08.1990

11.1987 - 10.1992

06.1988 - 10.1992

12,1987 - 10.1992

11.1987 - 10.1992

12,1988 - 10.1992

11.1987 - 10.1992

09.1991 - 10.1992

12.2004 -

10.2003 -

10.2003 -

10.2003 -

10.20053 -

10.2003 - 12.2009

10.2003 -

11.1992 - 09.1996

04.1993 - 03.1995

11.1992 - 08.1996

FITTING POSITION
Vorderachse
Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse

Vorderachse /
Vorderachse
beidseitig

ITEMNUMBER

SKTR-0240030
SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030
SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030
SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

ITEM DETAILS

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

205 /252

205/252

205 /252

205/252

205 /252

205/252

205 /252

205 /252

205 /252

205 /252

205/252

205 /252

205/252

205 /252

205 /252

205 /252

205/252

205 /252

205/252

205 /252

205 /252

205/252

205 /252

205/252

205 /252



GALANT V (E5_A, E7_A, E8_A) 1.8 GLSI (E52A) (93 KW /
126 HP)

GALANT V (E5_A, E7_A, E8_A) 2.0 GLSI (E55A) (101 KW /
137 HP)

GALANT V (E5_A, E7_A, E8_A) 2.0 GLSI 4WD (E75A) (101
KW /137 HP)

GALANT V (E5_A, E7_A, E8_A) 2.0 V6-24 (E64A, E54A)
(110 KW / 150 HP)

GALANT V (E5_A, E7_A, E8_A) 2.5 V6-24 4WD (E88A) (125
KW /170 HP)

GALANT V (E5_A, E7_A, E8_A) 1.8 (E52A) (85 KW / 116 HP)

GALANT V Stufenheck (E5_A, E7_A, E8_A) 2.0 (100 KW /
136 HP)

GALANT V Stufenheck (E5_A, E7_A, E8_A) 2.0 GLSTD (E57A)
(66 KW / 90 HP)

GALANT V Stufenheck (E5_A, E7_A, E8_A) 1.8 GLSI (E52A)
(93 KW / 126 HP)

GALANT V Stufenheck (E5_A, E7_A, E8_A) 2.0 GLSI (E55A)
(101 KW / 137 HP)

GALANT V Stufenheck (E5_A, E7_A, E8_A) 2.0 GLSI 4WD
(E75A) (101 KW / 137 HP)

GALANT V Stufenheck (E5_A, E7_A, E8_A) 2.0 V6-24 (E64A,
E54A) (110 KW / 150 HP)

GALANT V Stufenheck (E5_A, E7_A, E8_A) 2.5 V6-24 4WD
(E88A) (125 KW / 170 HP)

GALANT V Stufenheck (E5_A, E7_A, E8_A) 1.8 (E52A) (85
KW / 116 HP)

GALANT V Stufenheck (E5_A, E7_A, E8_A) 2.4 (105 KW /
143 HP)

GALANT VI (EA ) 2.4 GDI (EA3A) (110 KW / 150 HP)

GALANT VI (EA) 2.4 (121 KW / 165 HP)

GALANT VI (EA)) 2.0 (EA2A) (98 KW / 133 HP)

GALANT VI (EA ) 2.4 GDI (EA3A) (106 KW / 144 HP)

GALANT VI (EA ) 2.5 V6 24V (EA5A) (118 KW / 160 HP)

GALANT VI (EA)) 2.5 V6 24V (206 KW / 280 HP)

GALANT VI (EA ) 2.0 (EA2A) (100 KW / 136 HP)

11.1992 - 08.1996

11.1992 - 08.1996

11.1992 - 08.1996

11.1992 - 08.1996

11.1992 - 08.1996

02.1994 - 08.1996

11.1992 - 08.1996

11.1992 - 08.1996

11.1992 - 08.1996

11.1992 - 08.1996

11.1992 - 08.1996

11.1992 - 08.1996

11.1992 - 08.1996

02.1994 - 08.1996

09.1993 - 12,1998

02.1999 - 09.2000

10.2003 - 10.2004

09.2000 - 10.2004

09.2000 - 10.2004

09.2000 - 10.2004

09.1996 - 10.2002

09.1996 - 09.2000

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
innen

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse

Vorderachse /
Vorderachse
beidseitig

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

SKTR-0240030

Linge [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

205/252

205 /252

205 /252

205 /252

205 /252

205/252

205/252

205/252

205/252

205 /252

205/252

205 /252

205 /252

205/252

205/252

205/252

205 /252

205 /252

205/252

205 /252

205/252

205/252



GALANT VI (EA ) 2.5 V6 24V (EA5A) (120 KW / 163 HP) 09.1996 - 09.2000  Vorderachse/  SKTR-0240030 Léinge [mm] 205 /252

Vorderachse
beidseitig
GALANT VI (EA)) 2.0 TDI (EA6A) (66 KW / 90 HP) 09.1996 - 10.2004 Vorderachse / SKTR-0240030 Lénge [mm] 205/252
Vorderachse
beidseitig
GALANT VI (EA)) 1.8 GDi (103 KW / 140 HP) 11.1997 - 10.2001 Vorderachse SKTR-0240030 Lénge [mm] 205/252
GALANT VI (EA)) 2.0 GDI (107 KW / 146 HP) 01.1997 - 10.2004 Vorderachse / SKTR-0240030 Lénge [mm] 205/252
Vorderachse
beidseitig
GALANT VI (EA)) 2.5 Type S (151 KW / 205 HP) 10.1999 - 10.2004 Vorderachse / SKTR-0240030 Lénge [mm] 205/252
beidseitig
GALANT VI (EA)) 3.0 (145 KW / 197 HP) 09.1998 - 12.1999 Vorderachse SKTR-0240030 Lénge [mm] 205/252
GALANT VI Station Wagon (EA_) 2.4 GDI (EA3W) (110 KW / 02.1999 - 10.2003 Vorderachse / SKTR-0240030 Lénge [mm] 205/252
150 HP) Vorderachse
beidseitig
GALANT VI Station Wagon (EA_) 2.0 (EA2W) (98 KW / 133 09.2000 - 10.2003 Vorderachse / SKTR-0240030 Léinge [mm] 205/252
HP) beidseitig
GALANT VI Station Wagon (EA_) 2.4 GDI (EA3W) (106 KW / 09.2000 - 10.2003 Vorderachse / SKTR-0240030 Lénge [mm] 205/252
144 HP) Vorderachse
beidseitig
GALANT VI Station Wagon (EA_) 2.5 V6 24V (EA5W) (118 09.2000 - 10.2003 Vorderachse / SKTR-0240030 Léinge [mm] 205/252
KW /160 HP) Vorderachse
beidseitig
GALANT VI Station Wagon (EA_) 2.5 V6 24V (206 KW /280  09.1996 - 10.2002 Vorderachse SKTR-0240030 Lénge [mm] 205 /252
HP)
GALANT VI Station Wagon (EA_) 2.0 (EA2W) (100 KW /136  09.1996 - 09.2000 Vorderachse / SKTR-0240030 Léinge [mm] 205/252
HP) beidseitig
GALANT VI Station Wagon (EA_) 2.5 V6 24V (EA5W) (120 09.1996 - 09.2000 Vorderachse / SKTR-0240030 Lénge [mm] 205/252
KW /163 HP) Vorderachse
beidseitig
GALANT VI Station Wagon (EA_) 2.0 TDI (EA6W) (66 KW /90 09.1996 - 10.2003 Vorderachse / SKTR-0240030 Lénge [mm] 205/252
HP) beidseitig
GALANT VI Station Wagon (EA_) 2.8 TD (92 KW / 125 HP) 10.1996 - 07.2001 Vorderachse / SKTR-0240030 Lénge [mm] 205/252
Vorderachse
beidseitig
MODEL YEAR FITTING POSITION ITEMNUMBER ITEM DETAILS
LANCER Coupe (CC) 1.8 (115 KW / 156 HP) 09.1992 - 07.1996 innen SKTR-0240054 Gewindemafs nm:ﬁg;{
LANCER 1l (C1_A, C6_A) 1.2 GL (C15AS) (40 KW / 55 HP) 01.1984 - 10.1986 Vorderachse SKTR-0240057 Léinge [mm] 334,0
beidseitig Auflengewinde M12x1,25
[mm]
LANCER Il (C1_A, C6_A) 1.2 (C65A) (44 KW / 60 HP) 08.1986 - 04.1988 Vorderachse SKTR-0240057 Léinge [mm] 334,0
beidseiti AuBengewinde M12x1,25
g [mm]
LANCER Il (C1_A, C6_A) 1.5 GLX (C12AS) (51 KW / 70 HP) 06.1985 - 04.1988 Vorderachse SKTR-0240057 Lénge [mm] 334,0
beidseitig Auf3engewinde M12x1,25
[mm]
LANCER 1l (C1_A, C6_A) 1.5 GLX (C12AS) (55 KW / 75 HP) 11.1983 - 04.1988 Vorderachse SKTR-0240057 Lénge [mm] 334,0
beidseiti Auf3engewinde M12x1,25
g [mm]
LANCER 1l (C1_A, C6_A) 1.8 Diesel (C14AS) (43 KW /58 HP)  01.1984 - 09.1986 Vorderachse SKTR-0240057 Lénge [mm] 334,0
beidseiti Aufdengewinde M12x1,25
9 [mm]
LANCER Il (C1_A, C6_A) 1.8 Diesel (C14AS) (44 KW / 60 HP)  09.1986 - 04.1988 Vorderachse SKTR-0240057 Léinge [mm] 334,0
beidseitig Auflengewinde M12x1,25

[mm]




LANCER il Station Wagon (C1_V, C3_V) 1.5 (C12V) (51 KW /
70 HP)

LANCER Iil Station Wagon (C1_V, C3_V) 1.5 (C12V) (55 KW /
75 HP)

LANCER il Station Wagon (C1_V, C3_V) 1.8 4WD (C37V) (61
KW /83 HP)

LANCER Il Station Wagon (C1_V, C3_V) 1.8 4WD (C37V) (66
KW /90 HP)

LANCER Ill Station Wagon (C1_V, C3_V) 1.8 D (C14V) (43 KW
/58 HP)

LANCER il Station Wagon (C1_V, C3_V) 1.8 D (C14V) (44 KW
/60 HP)

LANCER il Station Wagon (C1_V, C3_V) 1.5 (C12V) (61 KW /
83 HP)

LANCER Il Station Wagon (C1_V, C3_V) 1.5 12V (C12V) (66
KW / 90 HP)

LANCER Ill Station Wagon (C1_V, C3_V) 1.8 4WD (C37V) (63
KW / 86 HP)

LANCER Ill Station Wagon (C1_V, C3_V) 1.8 4WD (C37V) (69
KW / 94 HP)

LANCER Il Station Wagon (C1_V, C3_V) 1.3 GL (50 KW / 68
HP)

LANCER Il Station Wagon (C1_V, C3_V) 1.3 GL (55 KW / 75
HP)

LANCER il Station Wagon (C1_V, C3_V) 1.5 GLS (63 KW / 86
HP)

LANCER IV (C6_A, C7_A) 1.5 (C62A) (62 KW / 84 HP)

LANCER IV (C6_A, C7_A) 1.5 (C62A) (56 KW / 76 HP)

LANCER IV (C6_A, C7_A) 1.5 (C62A) (61 KW / 83 HP)

LANCER IV (C6_A, C7_A) 1.6 i (C63A) (90 KW / 122 HP)

LANCER IV (C6_A, C7_A) 1.6 GTi (C63A) (91 KW / 124 HP)

LANCER IV (C6_A, C7_A) 1.6 4WD (C76A, C66A) (84 KW /
114 HP)

LANCER IV (C6_A, C7_A) 1.8 GTi (C77A) (70 KW / 95 HP)

LANCER IV (C6_A, C7_A) 2.0 D (C67A) (50 KW / 68 HP)

LANCER IV (C6_A, C7_A) 1.8 D (C64A) (44 KW / 60 HP)

LANCER IV (C6_A, C7_A) 1.3 12V (C61A) (55 KW / 75 HP)

LANCER IV (C6_A, C7_A) 1.5 12V (C62A) (66 KW / 90 HP)

LANCER IV (C6_A, C7_A) 1.6 16V (C76A, C66A) (83 KW /

113 HP)

LANCER IV (C6_A, C7_A) 1.8 4WD (C77A) (71 KW / 97 HP)

LANCER IV (C6_A, C7_A) 1.8 GTi 16V (C69A) (103 KW / 140
HP)

09.1985 - 08.1989

09.1985 - 12.1987

01.1987 - 08.1989

01.1987 - 12.1987

09.1985 - 09.1986

08.1986 - 06.1992

09.1988 - 12.1990

09.1990 - 12.1991

03.1989 - 12.1990

08.1990 - 06.1992

05.1988 - 06.1990

07.1990 - 08.1992

08.1989 - 08.1992

06.1988 - 05.1992

09.1988 - 08.1990

04.1989 - 08.1990

09.1990 - 09.1992

05.1988 - 05.1990

06.1992 - 11.1993

06.1992 - 07.1993

06.1992 - 07.1993

04.1988 - 05.1992

06.1992 - 05.1994

05.1989 - 05.1992

06.1992 - 05.1994

09.1989 - 06.1992

06.1992 - 12.1993

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

innen

innen

Vorderachse
beidseitig

innen

innen

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

Vorderachse
beidseitig

innen

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240057

SKTR-0240054

SKTR-0240054

SKTR-0240057

SKTR-0240057

SKTR-0240054

SKTR-0240057

SKTR-0240054

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf}

Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}

Gewindemaf}

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}

Lange [mm]
AuBengewinde
[mm]

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

334,0
M12x1,25

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

334,0
M12x1,25

334,0
M12x1,25

MM16X1.5R /
MM12X1.25R

334,0
M12x1,25

MM16X1.5R /
MM12X1.25R
334,0

M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25



LANCER IV (C6_A, C7_A) 1.8 GTi 16V (C68A) (100 KW / 136
HP)

LANCER IV Stufenheck (C6_A) 1.5 (65 KW / 88 HP)

LANCER IV Stufenheck (C6_A) 1.5 (56 KW / 76 HP)

LANCER IV Stufenheck (C6_A) 1.5 (61 KW / 83 HP)

LANCER IV Stufenheck (C6_A) 1.2 GL (44 KW / 60 HP)

LANCER IV Stufenheck (C6_A) 1.3 GL (50 KW / 68 HP)

LANCER IV Stufenheck (C6_A) 1.5 GLS (63 KW / 86 HP)

LANCER IV Stufenheck (C6_A) 1.6 GLX (91 KW / 124 HP)

LANCER IV Stufenheck (C6_A) 1.6 GTi (91 KW / 124 HP)

LANCER IV Stufenheck (C6_A) 1.3 (C61A) (51 KW / 70 HP)

LANCER IV Stufenheck (C6_A) 1.8 GLX Diesel (C64A) (44 KW
/60 HP)

LANCER IV Stufenheck (C6_A) 1.3 (C61A) (44 KW / 60 HP)

LANCER IV Stufenheck (C6_A) 1.3 12V (C61A) (55 KW / 75
HP)

LANCER IV Stufenheck (C6_A) 1.5 (C62A) (62 KW / 84 HP)

LANCER IV Stufenheck (C6_A) 1.5 12V (C62A) (66 KW / 90
HP)

LANCER Schriigheck (CC) 1.6 i (71 KW / 97 HP)

LANCER Stufenheck (CS_A, CT0) 2.0 4WD (213 KW / 290
HP)

LANCER Stufenheck (CS_A, CT0) 2.0 16V EVO IX (CT9A) (206
KW / 280 HP)

LANCER Stufenheck (CS_A, CT0) 2.0 16V EVO VIl (CT9A)
(195 KW / 265 HP)

LANCER V (CB/D_A) 1.8 i (86 KW / 117 HP)

LANCER V (CB/D_A) 1.6 16V 4WD (CD4A) (83 KW / 113 HP)

LANCER V (CB/D_A) 1.8 i Turbo AWD (141 KW / 192 HP)

LANCER V (CB/D_A) 2.0 EVO | (CD9A) (182 KW / 248 HP)

LANCER V (CB/D_A) 1.6 16V (CB4A) (88 KW / 120 HP)

LANCER V (CB/D_A) 2.0 EVO Il (CE9A) (192 KW / 261 HP)

LANCER V (CB/D_A) 1.3 (55 KW / 75 HP)

LANCER V (CB/D_A) 2.0 Diesel (CBSA) (50 KW / 68 HP)

LANCER V (CB/D_A) 1.3 (CB1A) (55 KW / 75 HP)

11.1989 - 05.1992

09.1990 - 09.1992

09.1988 - 08.1990

04.1989 - 08.1990

05.1988 - 08.1992

05.1988 - 06.1990

08.1989 - 08.1992

08.1989 - 08.1992

05.1988 - 05.1990

08.1988 - 05.1992

04.1988 - 05.1992

04.1988 - 05.1992

07.1990 - 06.1992

04.1988 - 05.1992

06.1990 - 05.1992

09.1992 - 07.1996

08.2005 - 09.2006

01.2005 - 09.2007

03.2004 - 07.2005

09.1992 - 07.1996

06.1992 - 12.1996

11.1992 - 07.1996

10.1992 - 12.1993

06.1992 - 12.1996

01.1994 - 07.1995

06.1992 - 02.1995

06.1992 - 12.1996

06.1992 - 12.1996

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

innen

innen

Vorderachse
beidseitig

innen

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

innen

innen

innen

Vorderachse
beidseitig

innen

innen

innen

innen

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240057

SKTR-0240054

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240057

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240057

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240057

SKTR-0240057

SKTR-0240057

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf

Linge [mm]
Auflengewinde
[mm]

Gewindemaf}

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde

[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Linge [mm]
Auflengewinde
[mm]

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AufRengewinde
[mm]

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

334,0
M12x1,25
MM16X1.5R /
MM12X1.25R
334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

334,0
M12x1,25
MM16X1.5R /

MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

334,0
M12x1,25

334,0
M12x1,25

334,0
M12x1,25



LANCER V (CB/D_A) 1.6 16V (CB4A) (83 KW / 113 HP)

LANCER V (CB/D_A) 1.8 GTi (115 KW / 156 HP)

LANCER V (CB/D_A) 1.6 (CB4A) (66 KW / 90 HP)

LANCER V (CB/D_A) 2.0 EVO il (CE9A) (198 KW / 269 HP)

LANCER V (CB/D_A) 1.8 GTi (70 KW / 95 HP)

LANCER V (CB/D_A) 1.5 (65 KW / 88 HP)

LANCER V (CB/D_A) 1.8 16V (CB5A) (103 KW / 140 HP)

LANCER V Station Wagon (CB_W, CD_W) 1.5 (63 KW / 86 HP)

LANCER V Station Wagon (CB_W, CD_W) 1.8 i (88 KW /120
HP)

LANCER V Station Wagon (CB_W, CD_W) 1.8 4WD (88 KW /
120 HP)

LANCER V Station Wagon (CB_W, CD_W) 1.8 4WD (158 KW /
215 HP)

LANCER V Station Wagon (CB_W, CD_W) 2.0 D (65 KW / 88
HP)

LANCER V Station Wagon (CB_W, CD_W) 2.0 D 4WD (65 KW
/ 88 HP)

LANCER V Station Wagon (CB_W, CD_W) 1.6 16V (CB4W) (83
KW / 113 HP)

LANCER V Station Wagon (CB_W, CD_W) 2.0 D (CB8W) (50
KW / 68 HP)

LANCER V Station Wagon (CB_W, CD_W) 1.6 16V 4WD
(CD4W) (83 KW / 113 HP)

LANCER V Station Wagon (CB_W, CD_W) 1.3 16V (55 KW /
75 HP)

LANCER V Station Wagon (CB_W, CD_W) 1.3 (55 KW / 75 HP)

LANCER VI (QU-CP) 1.8 i (86 KW /117 HP)

LANCER VI (QU-CP_) 1.8 GDI 4WD (121 KW / 165 HP)

LANCER VI (O-CP) 1.8 GDI (96 KW / 131 HP)

LANCER VI (OJ-CP ) 1.6 16V (CK4A) (84 KW / 114 HP)

LANCER VI (T-CP) 1.5 (CK2A) (69 KW / 94 HP)

LANCER VI (O-CP) 1.5 16V (CK2A) (69 KW / 94 HP)

LANCER VI (T-CP) 1.6 16V (CK4A) (66 KW / 90 HP)

LANCER VI (T-CP) 2.0 16V EVO (206 KW / 280 HP)

LANCER VI (T-CP_) EVO IV (CN9A) (206 KW / 280 HP)

LANCER VI (T-CP) 2.0 16V EVO (207 KW / 281 HP)

LANCER VI (CJ-CP_) 1.8 (91 KW / 124 HP)

LANCER VI (CJ-CP_) 2.0 (92 KW / 125 HP)

LANCER VI (T-CP) 1.6 16V (83 KW / 113 HP)

06.1992 - 12.1996

06.1992 - 08.1996

02.1994 - 12,1996

08.1995 - 07.1996

06.1992 - 07.1993

09.1992 - 07.1996

06.1992 - 12,1993

03.1995 - 10.2003

03.1995 - 10.2003

03.1995 - 10.2003

03.1995 - 10.2003

03.1995 - 10.2003

03.1995 - 10.2003

12.1992 - 10.2003

12.1992 - 10.2003

12.1992 - 10.2003

09.1997 - 10.1999

11.1999 - 08.2003

09.1995 - 07.1996

06.2000 - 08.2003

06.2000 - 08.2003

09.1995 - 08.2003

07.1996 - 08.2003

10.1999 - 08.2003

12.1995 - 08.2003

01.1998 - 12.1998

08.1996 - 12.1997

01.1999 - 02.2001

09.1995 - 08.2003

09.1995 - 08.2003

01.1997 - 11.2001

Vorderachse
beidseitig

innen

Vorderachse
beidseitig

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

SKTR-0240057

SKTR-0240054

SKTR-0240057

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

Linge [mm]
Auflengewinde
[mm]
Gewindemaf}

Lange [mm]
Auf3engewinde
[mm]
Gewindemaf}
Gewindemaf}
Gewindemaf}
Gewindemaf’

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

334,0
M12x1,25

MM16X1.5R /
MM12X1.25R
334,0
M12x1,25
MM16X1.5R /

MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R



LANCER VI (O-CP_) 1.5 (64 KW / 87 HP)

LANCER VI (O-CP) 1.3 12V (CK1A) (55 KW / 75 HP)
LANCER VI (CJ-CP_) 1.8 16V (151 KW / 205 HP)
LANCER VI (T-CP_) 1.5 (74 KW / 101 HP)

LANCER VI (O-CP_) 1.5 (81 KW / 110 HP)

LANCER VI (OJ-CP_) 2.0 D (50 KW / 68 HP)

LANCER VI (T-CP) 2.4 GDI (108 KW / 147 HP)

09.1997 - 08.2003

12.1995 - 08.2003

09.1995 - 08.2003

06.2000 - 08.2003

09.1995 - 08.1999

09.1995 - 08.2003

09.1995 - 08.2003

innen

innen

innen

innen

innen

innen

innen

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

SKTR-0240054

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R

MM16X1.5R /
MM12X1.25R



wa NIS

NISSAN 100 NX

MODEL
100 NX (B13) 2.0 (110 KW / 150 HP)
100 NX (B13) 1.6 (66 KW / 90 HP)

100 NX (B13) 2.0 GTI (105 KW / 143 HP)

100 NX (B13) 1.6 SR (75 KW / 102 HP)

NISSAN 200 SX

MODEL

200 SX (S13) 1.8 (99 KW / 135 HP)
200 SX (S13) 1.8 Turbo (122 KW / 166 HP)
200 SX (S13) 2.4 (104 KW / 141 HP)
200 SX (S13) 2.4 (116 KW / 158 HP)
200 SX (S13) 2.0 i 16V (103 KW / 140 HP)

200 SX (S13) 1.8 Turbo (124 KW / 169 HP)

NISSAN ALMERA

MODEL
ALMERA | (N15) 1.6 (75 KW / 102 HP)
ALMERA | (N15) 1.5 (77 KW / 105 HP)
ALMERA | (N15) 1.8 (84 KW / 114 HP)
ALMERA | (N15) 1.4 GX,LX (55 KW / 75 HP)
ALMERA | (N15) 1.4 (64 KW / 87 HP)

ALMERA | (N15) 1.6 SLX (66 KW / 90 HP)

YEAR

10.1990 - 10.1994

03.1990 - 10.1994

03.1991 - 10.1994

09.1993 - 10.1994

YEAR

09.1988 - 03.1994

01.1992 - 09.1994

09.1988 - 12.1990

09.1990 - 12.1993

07.1988 - 11.1993

07.1988 - 11.1993

YEAR

07.1995 - 03.2000

07.1995 - 05.2000

07.1995 - 05.2000

09.1995 - 07.2000

09.1995 - 07.2000

09.1995 - 07.2000

FITTING POSITION
Vorderachse
Vorderachse
Vorderachse

Vorderachse

FITTING POSITION

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

FITTING POSITION
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

ITEM NUMBER

SKTR-0240071

SKTR-0240071

SKTR-0240071
SKTR-0240071

ITEM NUMBER

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

ITEMNUMBER

SKTR-0240071

SKTR-0240071

SKTR-0240071

SKTR-0240071

SKTR-0240071
SKTR-0240071

ITEM DETAILS

ITEM DETAILS

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

ITEM DETAILS

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A /Mi6x1
A

260

M12x1,25
A/M16x1
A

260



ALMERA | (N15) 1.6 (73 KW / 99 HP)

ALMERA | (N15) 2.0 D (55 KW / 75 HP)

ALMERA | Hatchback (N15) 1.5 (77 KW / 105 HP)
ALMERA | Hatchback (N15) 1.6 (75 KW / 102 HP)
ALMERA | Hatchback (N15) 1.4 S,GX,LX (55 KW / 75 HP)
ALMERA | Hatchback (N15) 1.4 (64 KW / 87 HP)
ALMERA | Hatchback (N15) 1.6 SR,SLX (66 KW / 90 HP)
ALMERA | Hatchback (N15) 1.6 (73 KW / 99 HP)
ALMERA | Hatchback (N15) 2.0 D (55 KW / 75 HP)

ALMERA | Hatchback (N15) 2.0 GTi (105 KW / 143 HP)

NISSAN BLUEBIRD

MODEL

BLUEBIRD (T72, T12) 1.8 Turbo (99 KW / 135 HP)

BLUEBIRD (T72, T12) 2.0 (T12) (75 KW / 102 HP)

BLUEBIRD (T72 , T12) 2.0 i (HLT72, T12) (77 KW / 105

HP)

BLUEBIRD (T72 , T12) 1.8 i 16V (RLT72) (95 KW / 129 HP)

BLUEBIRD (T72, T12) 2.0 D (SLT72, T12) (49 KW / 67 HP)

BLUEBIRD (T72, T12) 1.6 (66 KW / 90 HP)

BLUEBIRD (T72 , T12) 1.8 (61 KW / 83 HP)

BLUEBIRD (T72 , T12) 1.8 (66 KW / 90 HP)

BLUEBIRD (T72, T12) 2.0 LX (66 KW / 90 HP)

BLUEBIRD (T72, T12) 1.6 (61 KW / 83 HP)

BLUEBIRD (T72 , T12) 2.0 i (85 KW / 115 HP)

BLUEBIRD (U11) 1.6 DX (61 KW / 83 HP)

BLUEBIRD (U11) 2.0 (75 KW /102 HP)

09.1995 - 07.2000

11.1995 - 07.2000

07.1995 - 03.2000

07.1995 - 03.2000

09.1995 - 03.2000

09.1995 - 03.2000

09.1995 - 03.2000

09.1995 - 03.2000

11.1995 - 03.2000

07.1996 - 03.2000

YEAR

12.1985 - 05.1990

12.1985 - 12.1987

12,1985 - 12.1990

02.1989 - 12.1990

03.1986 - 12.1990

12.1985 - 02.1990

05.1986 - 09.1990

11.1986 - 04.1990

12.1985 - 02.1990

03.1986 - 06.1990

09.1988 - 09.1990

11.1983 - 02.1988

12.1985 - 02.1990

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

FITTING POSITION

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071

ITEMNUMBER

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

ITEM DETAILS

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A /Mi6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mi6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mi6x1
A

260

M12x1,25
A/Mié6x1
A

260



BLUEBIRD (U11) 2.0 (93 KW / 126 HP)

BLUEBIRD (U11) 2.0 TD (62 KW / 84 HP)

BLUEBIRD (U11) 2.0 i (77 KW / 105 HP)

BLUEBIRD (U11) 2.0 D (43 KW / 58 HP)

BLUEBIRD (U11) 2.0 (85 KW / 116 HP)

BLUEBIRD (U11) 1.6 (66 KW / 90 HP)

BLUEBIRD (U11) 1.8 (61 KW / 83 HP)

BLUEBIRD (U11) 1.8 Turbo (99 KW / 135 HP)

BLUEBIRD (U11) 1.8 (66 KW /90 HP)

BLUEBIRD Hatchback (T72, T12) 1.8 (65 KW / 88 HP)

BLUEBIRD Hatchback (T72, T12) 1.6 (66 KW / 90 HP)

BLUEBIRD Hatchback (T72, T12) 1.8 i 16V (FRLT72) (95 KW

/129 HP)

BLUEBIRD Hatchback (T72, T12) 2.0 (T12) (75 KW / 102
HP)

BLUEBIRD Hatchback (T72, T12) 2.0 i (FHLT72, T12) (77
KW /105 HP)

BLUEBIRD Hatchback (T72, T12) 2.0 D (FSLT72, T12) (49
KW / 67 HP)

BLUEBIRD Hatchback (T72, T12) 1.8 Turbo (99 KW / 135

HP)

BLUEBIRD Hatchback (T72, T12) 1.6 (61 KW / 83 HP)

BLUEBIRD Hatchback (T72, T12) 2.0 i (85 KW / 115 HP)

BLUEBIRD Station Wagon (WU11) 2.0 (93 KW / 126 HP)

BLUEBIRD Station Wagon (WU11) 2.0 (75 KW / 102 HP)

01.1984 - 12.1986

11.1983 - 12.1985

04.1984 - 01.1988

04.1984 - 01.1988

12.1985 - 01.1988

12,1985 - 02.1990

03.1988 - 04.1990

04.1984 - 05.1990

11.1983 - 06.1988

05.1986 - 11.1992

03.1986 - 06.1991

02.1989 - 12.1990

12,1985 - 12.1987

12,1985 - 12.1990

03.1986 - 12.1990

121985 - 11.1992

03.1986 - 06.1990

09.1988 - 09.1990

01.1984 - 12.1986

04.1986 - 09.1990

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mi6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mi16x1
A

260



BLUEBIRD Station Wagon (WU11) 2.0 i (77 KW / 105 HP)

BLUEBIRD Station Wagon (WU11) 2.0 D (43 KW / 58 HP)

BLUEBIRD Station Wagon (WU11) 2.0 D (49 KW / 67 HP)

BLUEBIRD Station Wagon (WU11) 1.6 (66 KW / 90 HP)

BLUEBIRD Station Wagon (WU11) 1.8 (61 KW / 83 HP)

BLUEBIRD Station Wagon (WU11) 1.8 (66 KW / 90 HP)

BLUEBIRD Station Wagon (WU11) 1.8 Turbo (99 KW / 135

HP)

BLUEBIRD Station Wagon (WU11) 2.0 LX (66 KW / 90 HP)

BLUEBIRD Station Wagon (WU11) 2.0 i (85 KW / 115 HP)

NISSAN CHERRY

MODEL

CHERRY 1[Il (N12) 1.3 (44 KW / 60 HP)

CHERRY 1[Il (N12) 1.5 (55 KW / 75 HP)

CHERRY 1l (N12) 1.7 D (40 KW / 54 HP)

CHERRY 1[Il (N12) 1.5 ET Turbo (77 KW / 105 HP)

CHERRY 1[Il (N12) 1.6 (51 KW / 69 HP)

CHERRY Il (N12) 1.0 (37 KW / 50 HP)

NISSAN INTERSTAR

MODEL

INTERSTAR Bus (X70) dGi 80 (60 KW / 82 HP)

04.1984 - 12.1990

04.1984 - 01.1988

03.1986 - 12.1990

12.1985 - 02.1990

03.1988 - 04.1990

11.1983 - 04.1990

09.1984 - 04.1990

12.1985 - 02.1990

09.1988 - 09.1990

YEAR

05.1982 - 10.1986

11.1983 - 10.1986

10.1982 - 12.1986

01.1983 - 12,1985

05.1984 - 07.1986

05.1982 - 05.1986

YEAR

04.2002 -

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

FITTING POSITION

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

FITTING POSITION

Vorderachse
beidseitig

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

ITEMNUMBER

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

ITEMNUMBER

SKTR-0240047

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf}

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mi6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Miéx1
A

260

M12x1,25
A/Mi6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Miéx1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Miéx1

A
260

MM14X1.5R

/
MM16X1.5R

144



INTERSTAR Bus (X70) dC1 90 (66 KW / 90 HP)

INTERSTAR Bus (X70) dCi 120 (84 KW / 115 HP)
INTERSTAR Bus (X70) dCi 120 (88 KW / 120 HP)
INTERSTAR Bus (X70) dCi 150 (107 KW / 145 HP)
INTERSTAR Bus (X70) dCi 100 (74 KW / 101 HP)
INTERSTAR Bus (X70) dGi 140 (100 KW / 136 HP)
INTERSTAR Bus (X70) dCi 100 (73 KW / 99 HP)
INTERSTAR Kasten (X70) dCi 80 (60 KW / 82 HP)
INTERSTAR Kasten (X70) dCl 90 (66 KW / 90 HP)
INTERSTAR Kasten (X70) dCi 120 (84 KW / 115 HP)
INTERSTAR Kasten (X70) dCi 120 (88 KW / 120 HP)
INTERSTAR Kasten (X70) dCi 150 (107 KW / 145 HP)
INTERSTAR Kasten (X70) dCi 100 (74 KW / 101 HP)
INTERSTAR Kasten (X70) dCi 140 (100 KW / 136 HP)
INTERSTAR Kasten (X70) dCi 100 (73 KW / 99 HP)
INTERSTAR Pritsche/Fahrgestell dCi 100 (73 KW / 99 HP)
INTERSTAR Pritsche/Fahrgestell dCi 120 (84 KW / 115 HP)
INTERSTAR Pritsche/Fahrgestell dCi 120 (88 KW / 120 HP)
INTERSTAR Pritsche/Fahrgestell dGi 150 (107 KW / 145 HP)

INTERSTAR Pritsche/Fahrgestell dCi 140 (100 KW / 136 HP)

NISSAN KUBISTAR

MODEL

KUBISTAR (X76) 1.2 16V (55 KW / 75 HP)

KUBISTAR (X76) 1.5 dCi 70 (50 KW / 68 HP)

07.2002 -

07.2002 - 08.2006

09.2006 -

09.2006 -

04.2006 -

11.2003 -

11.2003 -

04.2002 -

07.2002 -

04.2002 -

09.2006 -

09.2006 -

04.2006 -

11.2003 -

11.2003 -

02.2004 -

08.2003 -

08.2006 -

08.2006 -

11.2003 -

YEAR

04.2006 - 10.2009

04.2006 - 10.2009

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

Vorderachse

Vorderachse

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

ITEMNUMBER

SKTR-0240006

SKTR-0240006

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

ITEM DETAILS
Gewindemaf}
Linge [mm]

Gewindemaf}

Lange [mm]

MM14X1.5R
MM16X1.5R/
MM14X1.5R
MM16X1.5!{
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5!<
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F<
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5!<
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5R/
MM14X1.5R
MM16X1.5!{
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R

/
MM16X1.5R

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317



KUBISTAR (X76) 1.5 dCi 85 (62 KW / 85 HP)
KUBISTAR (X76) 1.2 (44 KW / 60 HP)

KUBISTAR (X76) 1.6 16V (70 KW / 95 HP)
KUBISTAR (X76) 1.5 dCi (60 KW / 82 HP)
KUBISTAR (X76) 1.5 dCi (48 KW / 65 HP)
KUBISTAR (X76) 1.5 dCi (42 KW / 57 HP)
KUBISTAR (X76) 1.5 dCi (45 KW / 61 HP)
KUBISTAR Kasten (X80) 1.5 dCi (45 KW / 61 HP)
KUBISTAR Kasten (X80) 1.5 dCi 70 (50 KW / 68 HP)
KUBISTAR Kasten (X80) 1.2 (44 KW / 60 HP)
KUBISTAR Kasten (X80) 1.2 16V (55 KW / 75 HP)
KUBISTAR Kasten (X80) 1.6 16V (70 KW / 95 HP)
KUBISTAR Kasten (X80) 1.5 dCi (48 KW / 65 HP)

KUBISTAR Kasten (X80) 1.5 dCi (60 KW / 82 HP)

NISSAN MICRA

MODEL

MICRA | (K10) 1.0 (40 KW / 54 HP)

MICRA | (K10) 1.0 (37 KW / 50 HP)

MICRA | (K10) 1.2 (44 KW / 60 HP)

MICRA | (K10) 1.2 (40 KW / 54 HP)

MICRA | (K10) 1.0 (43 KW / 58 HP)

MICRA Il (K11) 1.0 i 16V (40 KW / 54 HP)

MICRA Il (K11) 1.5 D (42 KW / 57 HP)

04.2006 - 10.2009

08.2003 - 10.2009

08.2003 - 10.2009

08.2003 - 10.2009

08.2003 - 10.2009

08.2003 - 10.2009

08.2005 - 10.2009

08.2005 -

09.2005 - 10.2009

08.2003 -

04.2006 -

08.2003 -

08.2003 -

08.2003 -

YEAR

12.1982 - 05.1989

12,1982 - 12.1989

07.1986 - 07.1992

07.1986 - 07.1992

12,1982 - 05.1991

08.1992 - 09.2000

02.1998 - 02.2003

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

beidseitig

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

ITEMNUMBER

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12x1,25
A/Mi16x1
A

260

M12x1,25
A /Mi6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mi6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A /Mi6x1
A

260

M12x1,25
A/Mié6x1
A

260

146



MICRA Il (K11) 1.0 (40 KW / 54 HP)

MICRA Il (K11) 1.0 i 16V (44 KW / 60 HP)

MICRA Il (K11) 1.4 i 16V (60 KW / 82 HP)

MICRA Il (K11) 1.3 i16V (55 KW / 75 HP)

NISSAN PICK UP

MODEL

PICK UP (D21) 2.5 D 4WD (61 KW / 83 HP)

PICK UP (D21) 2.5 D (61 KW / 83 HP)

PICK UP (D21) 2.5 D 4WD (59 KW / 80 HP)

PICK UP (D21) 2.5 D 4WD (55 KW / 75 HP)

PICK UP (D21) 2.4 i 4WD (74 KW / 101 HP)
PICK UP (D21) 2.4 i 12V (91 KW / 124 HP)

PICK UP (D21) 2.4 i 12V 4WD (93 KW / 124 HP)

PICK UP (D21) 2.7 D 4WD (73 KW / 99 HP)

NISSAN PRAIRIE

MODEL

PRARRIE (M10, NM10) 1.5 S (M10) (55 KW / 75 HP)

PRARRIE (M10, NM10) 2.0 (72 KW / 98 HP)

PRARIE (M10, NM10) 2.0 4x4 (72 KW / 98 HP)

PRARIE (M10, NM10) 2.0 (77 KW / 105 HP)

PRARIE (M10, NM10) 2.0 4x4 (77 KW / 105 HP)

01.1992 - 04.1993

09.2000 - 02.2003

09.2000 - 02.2003

08.1992 - 09.2000

YEAR

03.1996 - 02.1998

08.1992 - 02.1998

08.1987 - 02.1998

03.1986 - 08.1991

03.1986 - 04.1992

04.1992 - 02.1998

04.1992 - 02.1998

08.1987 - 02.1998

YEAR

01.1984 - 12.1987

01.1986 - 09.1988

01.1986 - 09.1988

01.1986 - 09.1988

01.1986 - 09.1988

beidseitig

beidseitig

beidseitig

beidseitig

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

ITEMNUMBER

SKRA-0250044

SKRA-0250044

SKRA-0250044

SKRA-0250044

SKRA-0250044

SKRA-0250044

SKRA-0250044

SKRA-0250044

ITEM NUMBER

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

ITEM DETAILS

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

ITEM DETAILS

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mi6x1
A

260

820
12x1,25

820
12x1,25

820
12x1,25

820
12x1,25

820
12x1,25

820
12x1,25

820
12x1,25

820
12x1,25

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A /Miéx1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260



PRARRIE (M10, NM10) 1.8 SGL (M10) (65 KW / 88 HP)

PRAIRIE (M10, NM10) 1.8 SGL (M10) (66 KW / 90 HP)

PRAIRIE (M10, NM10) 2.0 4x4 (NM10) (68 KW / 92 HP)

PRARIE PRO (M11) 2.4 i4x4 (98 KW /133 HP)

PRARIE PRO (M11) 2.0 i 4x4 (72 KW / 98 HP)

PRARIE PRO (M11) 2.0 (85 KW /116 HP)

PRARRIE PRO (M11) 2.0 4x4 (85 KW / 116 HP)

PRARRIE PRO (M11) 2.0 (66 KW / 90 HP)

PRAIRIE PRO (M11) 2.0 4x4 (66 KW / 90 HP)

PRARIE PRO (M11) 2.0 (77 KW / 105 HP)

PRARIE PRO (M11) 2.0 4x4 (77 KW / 105 HP)

PRARIE PRO (M11) 2.0i (72 KW / 98 HP)

PRARRIE PRO (M11) 2.4 i (98 KW / 133 HP)

PRARIE PRO (M11) 2.4 (103 KW / 140 HP)

PRARIE PRO (M11) 2.4 AWD (103 KW / 140 HP)

NISSAN PRIMASTAR

MODEL

PRIMASTAR Bus (X83) 2.0 (86 KW / 117 HP)
PRIMASTAR Bus (X83) dCi 140 (99 KW / 135 HP)
PRIMASTAR Bus (X83) 2.0 (88 KW / 120 HP)

PRIMASTAR Bus (X83) dCi 80 (60 KW / 80 HP)

07.1983 - 12.1985

05.1985 - 10.1987

06.1986 - 09.1988

04.1992 - 07.1994

10.1988 - 12.1992

03.1989 - 08.1990

03.1989 - 08.1990

10.1989 - 03.1992

10.1989 - 03.1992

09.1990 - 03.1992

09.1990 - 03.1992

10.1988 - 04.1992

04.1992 - 07.1994

09.1989 - 07.1994

09.1989 - 07.1994

YEAR

04.2006 -

07.2003 -

03.2001 -

03.2001 -

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

ITEMNUMBER

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mi6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Miéx1
A

260

M12x1,25
A/Mi6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mi6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/

M14x1,5
280

148



PRIMASTAR Bus (X83) dCi 100 (74 KW / 101 HP)

PRIMASTAR Bus (X83) dCi 150 (107 KW / 145 HP)

PRIMASTAR Bus (X83) dCi 120 (84 KW / 114 HP)

PRIMASTAR Bus (X83) dCi 90 (66 KW / 90 HP)

PRIMASTAR Bus (X83) dCi 115 (84 KW / 114 HP)

PRIMASTAR Kasten (X83) 2.0 (86 KW / 117 HP)

PRIMASTAR Kasten (X83) dCi 140 (99 KW / 135 HP)

PRIMASTAR Kasten (X83) 2.0 (88 KW / 120 HP)

PRIMASTAR Kasten (X83) dCi 150 (107 KW / 145 HP)

PRIMASTAR Kasten (X83) dCi 120 (84 KW / 114 HP)

PRIMASTAR Kasten (X83) dCi 90 (66 KW / 90 HP)

PRIMASTAR Kasten (X83) dCi 115 (84 KW / 114 HP)

PRIMASTAR Kasten (X83) dCi 80 (60 KW / 82 HP)

PRIMASTAR Kasten (X83) dCi 100 (74 KW / 100 HP)

PRIMASTAR Pritsche/Fahrgestell 2.0 (88 KW /120 HP)

PRIMASTAR Pritsche/Fahrgestell 2.5 dCi 150 (107 KW / 146

HP)

PRIMASTAR Pritsche/Fahrgestell 1.9 dCi 80 (60 KW / 82 HP)

PRIMASTAR Pritsche/Fahrgestell 2.5 dCi 140 (99 KW / 135

HP)

PRIMASTAR Pritsche/Fahrgestell 1.9 dCi (74 KW / 101 HP)

NISSAN PRIMERA

MODEL
PRIMERA (P10) 1.6 (71 KW / 97 HP)
PRIMERA (P10) 1.6 (66 KW / 90 HP)
PRIMERA (P10) 2.0 16V (85 KW / 115 HP)
PRIMERA (P10) 2.0 GT (110 KW / 150 HP)

PRIMERA (P10) 2.0 D (55 KW / 75 HP)

03.2001 -

09.2006 -

09.2006 -

09.2006 -

09.2008 -

04.2006 -

07.2003 -

02.2003 -

09.2006 -

09.2006 -

09.2006 -

09.2008 -

09.2002 -

09.2002 -

07.2002 - 08.2006

04.2006 -

07.2002 - 08.2006

07.2002 - 08.2006

07.2002 - 08.2006

YEAR

06.1990 - 01.1996

06.1990 - 01.1996

06.1990 - 01.1996

06.1990 - 01.1996

01.1991 - 01.1996

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

innen

beidseitig

FITTING POSITION
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

ITEM NUMBER

SKTR-0240071

SKTR-0240071

SKTR-0240071

SKTR-0240071

SKTR-0240071

Gewindemaf}

Linge [mm]

Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf?
Linge [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280



PRIMERA (P10) 2.0 16V 4x4 (85 KW / 115 HP)
PRIMERA (P10) 2.0 i (92 KW / 125 HP)

PRIMERA Hatchback (P10) 2.0 D (55 KW / 75 HP)
PRIMERA Hatchback (P10) 2.0 (110 KW / 150 HP)
PRIMERA Hatchback (P10) 1.6 (71 KW / 97 HP)
PRIMERA Hatchback (P10) 1.6 (75 KW / 102 HP)
PRIMERA Hatchback (P10) 1.6 (66 KW / 90 HP)
PRIMERA Hatchback (P10) 2.0 16V (85 KW / 116 HP)
PRIMERA Hatchback (P10) 2.0 (105 KW / 143 HP)
PRIMERA Hatchback (P10) 2.0 16V 4x4 (85 KW / 115 HP)
PRIMERA Hatchback (P10) 2.0 i (92 KW / 125 HP)
PRIMERA Traveller (W10) 1.6 i (66 KW / 90 HP)
PRIMERA Traveller (W10) 2.0 i (85 KW / 116 HP)
PRIMERA Traveller (W10) 2.0 D (55 KW / 75 HP)
PRIMERA Traveller (W10) 2.0 (110 KW / 150 HP)

PRIMERA Traveller (W10) 1.6 i (75 KW / 102 HP)

NISSAN STANZA

MODEL

STANZA (T11) 1.6 (60 KW / 82 HP)

STANZA (T11) 1.8 SGL (66 KW / 90 HP)

STANZA Hatchback (T11) 1.6 (60 KW / 82 HP)

STANZA Hatchback (T11) 1.8 (65 KW / 88 HP)

STANZA Hatchback (T11) 1.8 (66 KW / 90 HP)

NISSAN SUNNY

MODEL

SUNNY | (B11) 1.6 (67 KW / 90 HP)

SUNNY 1 (B11) 1.5 (51 KW / 69 HP)

04.1991 - 06.1996

01.1995 - 06.1996

01.1991 - 01.1996

06.1990 - 01.1996

06.1990 - 06.1993

06.1993 - 01.1996

06.1990 - 01.1996

06.1990 - 01.1996

06.1990 - 04.1993

04.1991 - 06.1996

01.1995 - 06.1996

07.1990 - 03.1998

07.1990 - 03.1998

07.1990 - 12.1995

07.1994 - 01.1998

02.1991 - 03.1998

YEAR

08.1981 - 12.1985

03.1983 - 12.1985

08.1981 - 12,1985

08.1981 - 12,1985

08.1981 - 12.1985

YEAR

09.1988 - 12.1990

03.1982 - 05.1986

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

FITTING POSITION

FITTING POSITION

beidseitig

beidseitig

SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071

ITEM NUMBER

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

ITEMNUMBER

SKTR-0240085

SKTR-0240085

ITEM DETAILS

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Miéx1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mi16x1
A

260



SUNNY 1(B11) 1.6 (51 KW / 69 HP)

SUNNY I (B11) 1.5 (52 KW / 71 HP)

SUNNY | (B11) 1.5 (55 KW / 75 HP)

SUNNY | (B11) 1.7 D (40 KW / 54 HP)

SUNNY I (B11) 1.5 (50 KW / 68 HP)

SUNNY | (B11) 1.7 D (41 KW / 56 HP)

SUNNY | (B11) 1.6 (53 KW / 72 HP)

SUNNY | (B11) 1.3 (44 KW / 60 HP)

SUNNY | (B11) 1.6 SLX 4x4 (62 KW / 84 HP)

SUNNY | (B11) 1.8 (78 KW / 106 HP)

SUNNY | (B11) 1.5 (69 KW / 94 HP)

SUNNY | (B11) 1.6 (88 KW / 120 HP)

SUNNY | (B11) 1.6 4x4 (66 KW / 90 HP)

SUNNY | Coupe (B11) 1.7 D (41 KW / 55 HP)

SUNNY I Coupe (B11) 1.6 (53 KW / 72 HP)

SUNNY | Coupe (B11) 1.5 (55 KW / 75 HP)

SUNNY | Coupe (B11) 1.6 (50 KW / 68 HP)

SUNNY | Coupe (B11) 1.6 (62 KW / 84 HP)

SUNNY | Coupe (B11) 1.5 (51 KW / 69 HP)

SUNNY | Coupe (B11) 1.3 (44 KW / 60 HP)

05.1984 - 02.1986

09.1983 - 06.1984

03.1982 - 10.1986

03.1982 - 10.1986

03.1982 - 12.1982

03.1982 - 12.1987

09.1986 - 12.1988

03.1982 - 09.1987

07.1986 - 10.1988

01.1986 - 04.1990

09.1986 - 07.1990

07.1988 - 07.1990

07.1986 - 10.1988

09.1984 - 12,1986

09.1986 - 12.1987

03.1982 - 10.1986

09.1984 - 12.1985

05.1984 - 07.1986

03.1982 - 05.1986

04.1982 - 09.1986

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

M12x1,25
A/Mi16x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mi6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Miéx1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mi6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260



SUNNY | Coupe (B11) 1.8 (78 KW / 106 HP)

SUNNY | Traveller (B11) 1.3 (44 KW / 60 HP)

SUNNY | Traveller (B11) 1.5 (55 KW / 75 HP)

SUNNY | Traveller (B11) 1.7 D (40 KW / 54 HP)

SUNNY I Traveller (B11) 1.5 (51 KW / 69 HP)

SUNNY I Traveller (B11) 1.6 (51 KW / 69 HP)

SUNNY I Traveller (B11) 1.6 4WD (53 KW /72 HP)

SUNNY I Traveller (B11) 1.6 AWD (67 KW / 91 HP)

SUNNY | Traveller (B11) 1.6 (67 KW / 91 HP)

SUNNY Il (N13) 1.4 LX (55 KW / 75 HP)
SUNNY Il (N13) 1.6 i (54 KW / 73 HP)

SUNNY Il (N13) 1.6 i 4x4 (A) (54 KW / 73 HP)
SUNNY Il (N13) 1.6 i 12V (66 KW / 90 HP)
SUNNY Il (N13) 1.7 D (40 KW / 54 HP)

SUNNY 1l (N13) 1.6 AWD (67 KW / 91 HP)

SUNNY Il (N13) 1.3 (44 KW / 60 HP)

SUNNY Il (N13) 1.4 (60 KW / 82 HP)

SUNNY Il (N13) 1.6 4x4 (66 KW / 90 HP)

SUNNY Il (N13) 1.6 (88 KW / 120 HP)

SUNNY Il (N13) 1.6 (62 KW / 84 HP)
SUNNY Il (N13) 1.6 GTI 16V (81 KW / 110 HP)
SUNNY I (N13) 1.5 (52 KW / 71 HP)

SUNNY Il Coupe (B12) 1.6 i (54 KW / 73 HP)

SUNNY Il Coupe (B12) 1.6 i 12V (66 KW / 90 HP)

SUNNY Il Coupe (B12) 1.6 GTI 16V (81 KW / 110 HP)

01.1986 - 04.1990

08.1982 - 08.1990

03.1982 - 10.1986

03.1982 - 10.1986

03.1982 - 01.1984

03.1982 - 12.1987

09.1986 - 12.1988

09.1988 - 12.1989

09.1988 - 08.1990

10.1988 - 08.1991

06.1986 - 10.1990

06.1986 - 10.1990

10.1988 - 06.1991

06.1986 - 05.1989

06.1986 - 10.1991

07.1986 - 10.1991

10.1988 - 09.1990

07.1986 - 10.1988

02.1987 - 10.1988

06.1986 - 10.1988

02.1987 - 10.1988

06.1986 - 10.1988

06.1986 - 05.1989

10.1988 - 06.1991

05.1987 - 05.1989

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

beidseitig

Vorderachse

beidseitig

beidseitig

Vorderachse
Vorderachse
Vorderachse

beidseitig

beidseitig

beidseitig

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240071

SKTR-0240071

SKTR-0240071

SKTR-0240071

SKTR-0240071

SKTR-0240085

SKTR-0240071
SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240071
SKTR-0240071
SKTR-0240071

SKTR-0240085

SKTR-0240085

SKTR-0240085

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

M12x1,25
A/Mi16x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mi6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260



SUNNY I Coupe (B12) 1.8 GTI 16V (92 KW / 125 HP)

SUNNY Il Coupe (B12) 1.6 (53 KW / 72 HP)

SUNNY Il Coupe (B12) 1.6 4WD (53 KW / 72 HP)

SUNNY Il Coupe (B12) 1.6 AWD (67 KW / 91 HP)

SUNNY Il Coupe (B12) 1.6 SGX (70 KW / 95 HP)

SUNNY Il Coupe (B12) 1.6 (62 KW / 84 HP)

SUNNY Il Coupe (B12) 1.5 (52 KW / 71 HP)

SUNNY Il Hatchback (N13) 1.6 i 12V (66 KW / 90 HP)
SUNNY Il Hatchback (N13) 1.6 i (54 KW / 73 HP)

SUNNY Il Hatchback (N13) 1.6 GTI 16V (81 KW / 110 HP)
SUNNY Il Hatchback (N13) 1.8 GTI 16V (92 KW / 125 HP)
SUNNY Il Hatchback (N13) 1.7 D (40 KW / 54 HP)

SUNNY Il Hatchback (N13) 1.0 (37 KW / 50 HP)

SUNNY Il Hatchback (N13) 1.3 (44 KW / 60 HP)

SUNNY Il Hatchback (N13) 1.6 (62 KW / 84 HP)

SUNNY Il Hatchback (N13) 1.4 (60 KW / 82 HP)

SUNNY Il Hatchback (N13) 1.6 (88 KW / 120 HP)

SUNNY Il Hatchback (N13) 1.4 LX (55 KW / 75 HP)
SUNNY Il Hatchback (N13) 1.5 (52 KW / 71 HP)

SUNNY Il Hatchback (N13) 1.6 i (56 KW / 76 HP)

SUNNY Il Traveller (B12) 1.6 i (54 KW / 73 HP)

SUNNY Il Traveller (B12) 1.6 i 4x4 (A) (54 KW / 73 HP)

SUNNY Il Traveller (B12) 1.6 i 12V (66 KW / 90 HP)

SUNNY Il Traveller (B12) 1.7 D (40 KW / 54 HP)

01.1989 - 06.1991

06.1986 - 12.1988

06.1986 - 12.1988

09.1988 - 12.1989

10.1988 - 09.1990

06.1986 - 10.1988

06.1986 - 10.1988

06.1986 - 10.1990

06.1986 - 10.1990

06.1987 - 05.1989

01.1989 - 06.1991

06.1986 - 01.1991

07.1986 - 09.1990

06.1986 - 10.1988

06.1986 - 10.1988

10.1988 - 09.1990

02.1987 - 10.1988

01.1989 - 08.1991

06.1986 - 10.1988

07.1987 - 09.1991

08.1986 - 05.1989

06.1986 - 05.1989

10.1988 - 06.1991

01.1986 - 06.1991

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

beidseitig

Vorderachse
Vorderachse

beidseitig

beidseitig

Vorderachse
Vorderachse

beidseitig

beidseitig

beidseitig

beidseitig

beidseitig

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240085

SKTR-0240071
SKTR-0240071
SKTR-0240085

SKTR-0240085

SKTR-0240071

SKTR-0240071

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240085

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mi6x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A/Mi6x1
A

260

M12x1,25
A/Mi16x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/M16x1
A

260

M12x1,25
A/Mié6x1
A

260

M12x1,25
A /Mié6x1
A

260

M12x1,25
A/Mié6x1
A

260



SUNNY Il Traveller (B12) 1.6 (62 KW / 84 HP)

SUNNY Il Traveller (B12) 1.6 i 12V 4x4 (66 KW / 90 HP)

SUNNY Il Traveller (B12) 1.5 (52 KW / 71 HP)

SUNNY 1l (N14) 2.0 D (55 KW / 75 HP)
SUNNY [l (N14) 2.0 (104 KW / 141 HP)

SUNNY Il (N14) 1.4 i (55 KW / 75 HP)

SUNNY Il (N14) 1.6 (82 KW / 111 HP)

SUNNY 1l (N14) 1.6 i (66 KW / 90 HP)

SUNNY 1l (N14) 1.4 (60 KW / 82 HP)

SUNNY Il (N14) 1.6 i 16V (75 KW / 102 HP)
SUNNY Il (N14) 1.6 i 16V 4WD (66 KW / 90 HP)
SUNNY 1l (N14) 1.4 i 16V (64 KW / 87 HP)
SUNNY il Liftback (N14) 2.0 D (55 KW / 75 HP)
SUNNY Iil Liftback (N14) 1.4 i (55 KW / 75 HP)

SUNNY Il Liftback (N14) 1.6 i (66 KW / 90 HP)

SUNNY Il Liftback (N14) 1.6 i 16V (75 KW / 102 HP)

SUNNY Il Liftback (N14) 2.0 i 16V (105 KW / 143 HP)

SUNNY Il Liftback (N14) 1.4 (60 KW / 82 HP)

SUNNY Il Liftback (N14) 1.6 SR 4x4 (66 KW / 90 HP)

SUNNY Iil Liftback (N14) 1.4 i 16V (64 KW / 87 HP)

SUNNY Il Traveller (Y10) 1.6 (75 KW /102 HP)

SUNNY Ill Traveller (Y10) 1.6 i (66 KW / 90 HP)

SUNNY Il Traveller (Y10) 1.6 i 16V 4x4 (75 KW / 102 HP)

SUNNY Ill Traveller (Y10) 2.0 D (55 KW / 75 HP)

SUNNY Il Traveller (Y10) 1.6 16V 4x4 (66 KW / 90 HP)

SUNNY Kasten (Y10) 1.7 D (40 KW / 54 HP)
SUNNY Kasten (Y10) 1.6 i 16V (66 KW / 90 HP)

SUNNY Kasten (Y10) 1.6 L (75 KW / 102 HP)

NISSAN TERRANO

MODEL

TERRANO 1 (WD21) 3.0 i 4WD (109 KW / 148 HP)

TERRANO | (WD21) 2.4 i 4WD (76 KW / 103 HP)

06.1986 - 10.1988

10.1988 - 08.1990

06.1986 - 10.1988

10.1990 - 05.1995

08.1990 - 12.1996

10.1990 - 05.1995

08.1990 - 10.1994

10.1990 - 05.1995

10.1990 - 06.1995

10.1992 - 05.1995

10.1990 - 05.1995

10.1990 - 06.1995

10.1990 - 05.1995

10.1990 - 05.1995

10.1990 - 05.1995

10.1992 - 05.1995

10.1990 - 05.1995

10.1990 - 06.1995

01.1992 - 06.1995

10.1990 - 06.1995

07.1995 - 03.2000

06.1991 - 03.2000

10.1992 - 03.2000

06.1991 - 03.2000

11.1990 - 05.1995

11.1990 - 03.2000

10.1992 - 03.2000

11.1992 - 04.1996

YEAR

01.1990 - 12.1995

10.1987 - 02.1993

beidseitig

beidseitig

beidseitig

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

FITTING POSITION

Vorderachse

Vorderachse

SKTR-0240085

SKTR-0240085

SKTR-0240085

SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071
SKTR-0240071

SKTR-0240071

ITEM NUMBER

SKRA-0250044

SKRA-0250044

Gewindemaf M12x1,25
A /M16x1
A
Linge [mm] 260
Gewindemaf M12x1,25
A /Mi6x1
A
Lange [mm] 260
Gewindemaf} M12x1,25
A /M16x1
A
Lange [mm] 260
ITEM DETAILS
Lange [mm] 820
Aufdengewinde 12x1,25
[mm]
Linge [mm] 820
Auflengewinde 12x1,25

[mm]



TERRANO | (WD21) 2.7 TD 4WD (73 KW / 99 HP) 02.1989 - 02.1996 Vorderachse SKRA-0250044 Léinge [mm] 820
Auflengewinde 12x1,25

[mm]




2 OPE

OPEL ASTRA

MODEL
ASTRA CLASSIC (L48) 1.6 (85 KW / 116 HP)

ASTRA CLASSIC (L48) 1.3 CDTI (66 KW / 90 HP)
ASTRA CLASSIC (L48) 1.7 CDTI (92 KW / 125 HP)
ASTRA CLASSIC (L48) 1.7 CDTI (81 KW / 110 HP)
ASTRA CLASSIC (L48) 1.8 (103 KW / 140 HP)

ASTRA CLASSIC Caravan 1.4 (L35) (66 KW / 90 HP)
ASTRA CLASSIC Caravan 1.6 (85 KW / 116 HP)

ASTRA CLASSIC Caravan 1.7 CDTi (81 KW / 110 HP)
ASTRA CLASSIC Caravan 1.7 CDTI (92 KW / 125 HP)
ASTRA CLASSIC Stufenheck 1.7 CDTi (81 KW / 110 HP)
ASTRA CLASSIC Stufenheck 1.6 (85 KW / 116 HP)
ASTRA G Cabriolet (F67) 1.6 (76 KW / 103 HP)

ASTRA G Cabriolet (F67) 2.2 DTI (92 KW / 125 HP)

ASTRA G Cabriolet (F67) 2.0 16V Turbo (147 KW / 200 HP)

ASTRA G Cabriolet (F67) 1.6 16V (74 KW / 101 HP)
ASTRA G Cabriolet (F67) 1.8 16V (92 KW / 125 HP)
ASTRA G Cabriolet (F67) 2.2 16V (108 KW / 147 HP)
ASTRA G Cabriolet (F67) 2.0 OPC (141 KW / 192 HP)
ASTRA G Caravan (F35_) 1.2 16V (48 KW / 65 HP)
ASTRA G Caravan (F35_) 1.6 (55 KW / 75 HP)
ASTRA G Caravan (F35_) 1.6 16V (74 KW / 101 HP)
ASTRA G Caravan (F35_) 1.8 16V (85 KW / 116 HP)
ASTRA G Caravan (F35_) 2.0 16V (100 KW / 136 HP)
ASTRA G Caravan (F35_) 1.7 TD (50 KW / 68 HP)
ASTRA G Caravan (F35_) 2.0 DI (60 KW / 82 HP)
ASTRA G Caravan (F35_) 2.2 DTI (92 KW / 125 HP)
ASTRA G Caravan (F35_) 1.8 (81 KW / 110 HP)
ASTRA G Caravan (F35_) 2.0 OPC (141 KW / 192 HP)
ASTRA G Caravan (F35_) 1.7 CDTI (59 KW / 80 HP)
ASTRA G Caravan (F35_) 1.6 (76 KW / 103 HP)

ASTRA G Caravan (F35_) 2.0 OPC (147 KW / 200 HP)

YEAR

01.2009 -

01.2009 -

01.2009 -

01.2009 -

02.2013 -

01.2009 -

01.2009 -

01.2009 -

01.2009 -

01.2009 -

01.2009 -

01.2003 - 10.2005

09.2002 - 10.2005

11.2002 - 10.2005

03.2001 - 10.2005

03.2001 - 10.2005

03.2001 - 10.2005

03.2002 - 10.2005

02.1998 - 09.2000

02.1998 - 09.2000

02.1998 - 07.2004

02.1998 - 09.2000

02.1998 - 07.2004

02.1998 - 08.2000

02.1998 - 07.2004

09.2002 - 07.2004

02.2003 - 07.2004

09.2002 - 07.2004

04.2003 - 07.2009

12.2002 - 07.2009

11.2002 - 07.2004

FITTING POSITION

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

ITEMNUMBER

SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003

SKTR-0240003

ITEM DETAILS

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5



ASTRA G Caravan (F35_) 2.0 DTI 16V (74 KW / 101 HP)
ASTRA G Caravan (F35_) 1.7 DTI 16V (55 KW / 75 HP)
ASTRA G Caravan (F35_) 1.4 (66 KW / 90 HP)

ASTRA G Caravan (F35_) 2.2 16V (108 KW / 147 HP)
ASTRA G Caravan (F35_) 1.4 16V (66 KW / 90 HP)
ASTRA G Caravan (F35_) 1.6 CNG (71 KW / 97 HP)
ASTRA G Caravan (F35_) 2.2 DTI (86 KW / 117 HP)
ASTRA G Caravan (F35_) 1.2 16V (55 KW / 75 HP)
ASTRA G Caravan (F35_) 1.6 (62 KW / 84 HP)

ASTRA G Caravan (F35_) 1.8 16V (92 KW / 125 HP)
ASTRA G CC (F48_, FO8_) 1.2 16V (48 KW / 65 HP)
ASTRA G CC (F48_, FO8_) 1.6 (55 KW / 75 HP)

ASTRA G CC (F48_, FO8_) 1.6 16V (74 KW / 101 HP)
ASTRA G CC (F48_, FO8_) 1.8 16V (85 KW / 116 HP)
ASTRA G CC (F48_, FO8_) 1.7 DTI 16V (55 KW / 75 HP)
ASTRA G CC (F48_, FO8_) 2.0 16V (100 KW / 136 HP)
ASTRA G CC (F48_, FO8_) 1.7 TD (50 KW / 68 HP)
ASTRA G CC (F48_, F08_) 2.0 DI (60 KW / 82 HP)
ASTRA G CC (F48_, FO8_) 2.0 16V OPC (118 KW / 160 HP)
ASTRA G CC (F48_, FO8_) 2.2 DTI (92 KW / 125 HP)
ASTRA G CC (F48_, FO8_) 1.7 CDTI (59 KW / 80 HP)
ASTRA G CC (F48_, F08_) 1.6 (76 KW / 103 HP)
ASTRA G CC (F48_, FO8_) 2.0 OPC (147 KW / 200 HP)
ASTRA G CC (F48_, FO8_) 1.6 LPG (74 KW / 101 HP)
ASTRA G CC (F48_, FO8_) 1.8 (81 KW / 110 HP)
ASTRA G CC (F48_, FO8_) 1.4 (66 KW / 90 HP)

ASTRA G CC (F48_, FO8_) 2.2 16V (108 KW / 147 HP)
ASTRA G CC (F48_, FO8_) 2.0 DTI 16V (74 KW / 101 HP)
ASTRA G CC (F48_, FO8_) 1.4 16V (66 KW / 90 HP)
ASTRA G CC (F48_, FO8_) 2.0 OPC (141 KW / 192 HP)
ASTRA G CC (F48_, FO8_) 2.2 DTI (86 KW / 117 HP)
ASTRA G CC (F48_, FO8_) 1.2 16V (55 KW / 75 HP)
ASTRA G CC (F48_, FO8_) 1.6 (62 KW / 84 HP)

ASTRA G CC (F48_, FO8_) 1.8 16V (92 KW / 125 HP)

ASTRA G CLASSIC (T98) 1.4 16V (FO8, F48) (66 KW / 90
HP)

ASTRA G CLASSIC (T98) 1.6 16V (FO8, F48) (74 KW / 101
HP)

ASTRA G CLASSIC (T98) 1.6 (FO8, F48) (76 KW / 103 HP)

ASTRA G CLASSIC (T98) 1.7 CDTI (FO8, F48) (59 KW / 80
HP)

ASTRA G CLASSIC Caravan (F35) 1.7 CDTI (59 KW / 80 HP)

08.1999 - 07.2004

02.2000 - 07.2004

10.2004 - 12.2009

03.2001 - 07.2004

06.1998 - 07.2004

03.2003 - 07.2004

09.2002 - 07.2004

09.2000 - 07.2004

09.2000 - 07.2004

09.2000 - 07.2004

02.1998 - 09.2000

02.1998 - 09.2000

02.1998 - 01.2005

02.1998 - 09.2000

02.2000 - 01.2005

02.1998 - 01.2005

02.1998 - 08.2000

02.1998 - 01.2005

11.1999 - 09.2002

09.2002 - 01.2005

04.2003 - 12.2009

12.2002 - 12.2009

11.2002 - 01.2005

06.2002 - 01.2005

02.2003 - 01.2004

09.2007 - 12.2009

06.2000 - 01.2005

08.1999 - 01.2005

02.1998 - 01.2005

09.2002 - 01.2005

09.2002 - 01.2005

09.2000 - 01.2005

09.2000 - 01.2005

09.2000 - 01.2005

05.2004 - 07.2009

05.2004 - 02.2006

03.2006 - 06.2008

06.2004 - 07.2009

05.2004 - 07.2009

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003

SKTR-0240003

SKTR-0240003
SKTR-0240003

SKTR-0240003

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5



ASTRA G CLASSIC Caravan (F35) 1.4 16V (66 KW / 90 HP)
ASTRA G CLASSIC Caravan (F35) 1.6 (76 KW / 103 HP)
ASTRA G CLASSIC Caravan (F35) 1.6 (74 KW / 101 HP)

ASTRA G CLASSIC Stufenheck (T98) 1.6 16V (F69) (74 KW /
101 HP)

ASTRA G CLASSIC Stufenheck (T98) 1.4 16V (F69) (66 KW /
90 HP)

ASTRA G Coupe (FO7_) 1.8 16V (85 KW / 116 HP)
ASTRA G Coupe (FO7_) 2.2 DTI (92 KW / 125 HP)

ASTRA G Coupe (FO7_) 2.0 16V Turbo (140 KW / 190 HP)
ASTRA G Coupe (FO7_) 1.8 16V (92 KW / 125 HP)

ASTRA G Coupe (FO7_) 2.2 16V (108 KW / 147 HP)
ASTRA G Coupe (FO7_) 2.0 16V Turbo (147 KW / 200 HP)
ASTRA G Coupe (FO7_) 1.6 16V (76 KW / 103 HP)

ASTRA G Coupe (FO7_) 2.0 16V Turbo (141 KW / 192 HP)
ASTRA G Coupe (FO7_) 1.6 16V (74 KW / 101 HP)

ASTRA G Kasten (F70) 1.6 (76 KW / 103 HP)

ASTRA G Kasten (F70) 1.7 DTI 16V (55 KW / 75 HP)
ASTRA G Kasten (F70) 1.6 (55 KW / 75 HP)

ASTRA G Kasten (F70) 1.7 TD (50 KW / 68 HP)

ASTRA G Kasten (F70) 2.0 DI (60 KW / 82 HP)

ASTRA G Kasten (F70) 1.6 (62 KW / 84 HP)

ASTRA G Stufenheck (F69_) 1.6 16V (74 KW / 101 HP)
ASTRA G Stufenheck (F69_) 1.8 16V (85 KW / 116 HP)
ASTRA G Stufenheck (F69_) 2.0 16V (100 KW / 136 HP)
ASTRA G Stufenheck (F69_) 2.0 DI (60 KW / 82 HP)
ASTRA G Stufenheck (F69_) 1.7 DTI 16V (55 KW / 75 HP)
ASTRA G Stufenheck (F69_) 2.2 DTI (92 KW / 125 HP)
ASTRA G Stufenheck (F69_) 1.7 CDTI (59 KW / 80 HP)
ASTRA G Stufenheck (F69_) 1.6 (76 KW / 103 HP)

ASTRA G Stufenheck (F69_) 1.6 LPG (74 KW / 101 HP)
ASTRA G Stufenheck (F69_) 1.4 (66 KW / 90 HP)

ASTRA G Stufenheck (F69_) 2.2 16V (108 KW / 147 HP)
ASTRA G Stufenheck (F69_) 2.0 DTI 16V (74 KW / 101 HP)
ASTRA G Stufenheck (F69_) 1.7 TD (50 KW / 68 HP)
ASTRA G Stufenheck (F69_) 1.2 16V (48 KW / 65 HP)
ASTRA G Stufenheck (F69_) 1.4 16V (66 KW / 90 HP)
ASTRA G Stufenheck (F69_) 2.2 DTI (86 KW / 117 HP)
ASTRA G Stufenheck (F69_) 1.2 16V (55 KW / 75 HP)
ASTRA G Stufenheck (F69_) 1.6 (62 KW / 84 HP)

ASTRA G Stufenheck (F69_) 1.8 16V (92 KW / 125 HP)

09.2004 - 07.2009

02.2006 - 07.2009

06.2004 - 02.2006

03.2004 - 01.2008

05.2004 - 07.2009

03.2000 - 10.2000

09.2002 - 05.2005

09.2000 - 08.2001

09.2000 - 05.2005

09.2000 - 05.2005

11.2002 - 05.2005

03.2000 - 05.2005

08.2001 - 05.2005

03.2000 - 05.2005

10.2004 - 04.2005

02.2000 - 04.2005

01.1999 - 09.2000

01.1999 - 04.2005

01.1999 - 04.2005

09.2000 - 04.2005

09.1998 - 01.2005

09.1998 - 09.2000

09.1998 - 01.2005

09.1998 - 01.2005

02.2000 - 01.2005

09.2002 - 01.2005

04.2003 - 12.2009

12.2002 - 12.2009

06.2002 - 01.2005

09.2007 - 12.2009

03.2001 - 01.2005

08.1999 - 01.2005

09.1998 - 08.2000

09.1998 - 09.2000

09.1998 - 01.2005

09.2002 - 01.2005

09.2000 - 01.2005

09.2000 - 01.2005

06.2000 - 01.2005

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

SKTR-0240003
SKTR-0240003
SKTR-0240003

SKTR-0240003

SKTR-0240003

SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003

SKTR-0240003

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5



ASTRA G Stufenheck (F69_) 1.8 (81 KW / 110 HP)
ASTRA G Stufenheck (F69_) 1.6 (55 KW / 75 HP)
ASTRA H (L48) 1.9 CDTI 16V (88 KW / 120 HP)
ASTRA H (L48) 1.4 (59 KW / 80 HP)

ASTRA H (L48) 1.2 (59 KW / 80 HP)

ASTRA H (L48) 2.0 Turbo (147 KW / 200 HP)

ASTRA H (L48) 1.6 Turbo (132 KW / 180 HP)

ASTRA H (L48) 1.9 CDTI (110 KW / 150 HP)

ASTRA H (L48) 1.6 (85 KW / 116 HP)

ASTRA H (L48) 1.7 CDTI (81 KW / 110 HP)

ASTRA H (L48) 1.7 CDTI (92 KW / 125 HP)

ASTRA H (L48) 1.3 CDTI (66 KW / 90 HP)

ASTRA H (L48) 2.0 Turbo (177 KW / 240 HP)

ASTRA H (L48) 1.9 CDTI (88 KW / 120 HP)

ASTRA H (L48) 1.9 CDTI (74 KW / 100 HP)

ASTRA H (L48) 1.6 CNG (69 KW / 94 HP)

ASTRA H (L48) 1.4 (66 KW / 90 HP)

ASTRA H (L48) 1.6 (77 KW / 105 HP)

ASTRA H (L48) 1.8 (92 KW / 125 HP)

ASTRA H (L48) 1.7 CDTI (59 KW / 80 HP)

ASTRA H (L48) 1.7 CDTI (74 KW / 100 HP)

ASTRA H (L48) 1.4 LPG (66 KW / 90 HP)

ASTRA H (L48) 1.8 (103 KW / 140 HP)

ASTRA H (L48) 1.4 (55 KW / 75 HP)

ASTRA H (L48) 2.0 Turbo (125 KW / 170 HP)

ASTRA H Caravan (L35) 1.8 (103 KW / 140 HP)
ASTRA H Caravan (L35) 1.9 CDTI1 16V (88 KW / 120 HP)
ASTRA H Caravan (L35) 1.6 Turbo (132 KW / 180 HP)
ASTRA H Caravan (L35) 1.4 (66 KW / 90 HP)

ASTRA H Caravan (L35) 1.6 (77 KW / 105 HP)

ASTRA H Caravan (L35) 1.8 (92 KW / 125 HP)

ASTRA H Caravan (L35) 1.6 (85 KW / 116 HP)

ASTRA H Caravan (L35) 1.4 LPG (66 KW / 90 HP)
ASTRA H Caravan (L35) 2.0 Turbo (125 KW / 170 HP)
ASTRA H Caravan (L35) 2.0 Turbo (147 KW / 200 HP)
ASTRA H Caravan (L35) 1.7 CDTI (59 KW / 80 HP)
ASTRA H Caravan (L35) 1.7 CDTI (74 KW / 101 HP)
ASTRA H Caravan (L35) 1.9 CDTI (110 KW / 150 HP)
ASTRA H Caravan (L35) 1.7 CDTI (81 KW / 110 HP)

ASTRA H Garavan (L35) 1.7 CDTI (92 KW / 125 HP)

02.2003 - 01.2005

09.1998 - 09.2000

04.2004 - 10.2010

04.2004 - 10.2004

08.2005 - 10.2010

09.2004 - 10.2010

02.2007 - 10.2010

09.2004 - 10.2010

12.2006 - 05.2014

02.2007 - 05.2014

02.2007 - 05.2014

08.2005 - 10.2010

03.2005 - 10.2010

06.2004 - 10.2010

09.2005 - 10.2010

11.2005 - 10.2010

03.2004 - 10.2010

03.2004 - 10.2010

01.2004 - 10.2010

03.2004 - 10.2010

03.2004 - 10.2010

08.2009 - 10.2010

01.2006 - 10.2010

04.2004 - 10.2004

03.2004 - 10.2010

08.2005 - 10.2010

08.2004 - 10.2010

02.2007 - 10.2010

08.2004 - 10.2010

08.2004 - 10.2010

08.2004 - 10.2010

12.2006 - 05.2014

08.2009 - 10.2010

08.2004 - 10.2010

09.2004 - 10.2010

08.2004 - 10.2010

08.2004 - 10.2010

09.2004 - 10.2010

02.2007 - 05.2014

02.2007 - 05.2014

innen

SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003

SKTR-0240003

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5



ASTRA H Caravan (L35) 1.3 CDTI (66 KW / 90 HP)
ASTRA H Caravan (L35) 1.9 CDTI (88 KW / 120 HP)
ASTRA H Caravan (L35) 1.9 CDTI (74 KW / 100 HP)
ASTRA H Caravan (L35) 1.6 CNG (69 KW / 94 HP)
ASTRA H Caravan (L35) 1.4 (55 KW / 75 HP)
ASTRA H Caravan (L35) 1.6 LPG (85 KW / 116 HP)
ASTRA H GTC (L08) 1.7 CDTI (59 KW / 80 HP)
ASTRA H GTC (L08) 1.9 CDTI (88 KW / 120 HP)
ASTRA H GTC (L08) 2.0 Turbo (177 KW / 240 HP)
ASTRA H GTC (L08) 1.9 CDTI (74 KW / 101 HP)
ASTRA H GTC (L08) 1.2 (59 KW / 80 HP)

ASTRA H GTC (L08) 2.0 Turbo (147 KW / 200 HP)
ASTRA H GTC (LO8) 1.4 (66 KW / 90 HP)

ASTRA H GTC (L08) 1.6 (77 KW / 105 HP)

ASTRA H GTC (L08) 1.8 (92 KW / 125 HP)

ASTRA H GTC (L08) 2.0 Turbo (125 KW / 170 HP)
ASTRA H GTC (L08) 1.7 CDTi (74 KW / 101 HP)
ASTRA H GTC (L08) 1.9 CDTi 16V (88 KW / 120 HP)
ASTRA H GTC (L08) 1.9 CDTi (110 KW / 150 HP)
ASTRA H GTC (L08) 1.3 CDTI (66 KW / 90 HP)
ASTRA H GTC (L08) 1.6 Turbo (132 KW / 180 HP)
ASTRA H GTC (L08) 1.6 (85 KW / 116 HP)

ASTRA H GTC (L08) 1.7 CDTI (81 KW / 110 HP)
ASTRA H GTC (L08) 1.7 CDTI (92 KW / 125 HP)
ASTRA H GTC (L08) 1.4 (55 KW / 75 HP)

ASTRA H GTC (L08) 1.8 (103 KW / 140 HP)

ASTRA H Kasten (L70) 1.7 CDTI (74 KW / 101 HP)
ASTRA H Kasten (L70) 1.9 CDTI (110 KW / 150 HP)
ASTRA H Kasten (L70) 1.9 CDTI 16V (88 KW / 120 HP)
ASTRA H Kasten (L70) 1.9 CDTI (88 KW / 120 HP)
ASTRA H Kasten (L70) 1.3 CDTI (66 KW / 90 HP)
ASTRA H Kasten (L70) 1.7 CDTI (81 KW / 110 HP)

ASTRA H Kasten (L70) 1.7 CDTI (92 KW / 125 HP)

ASTRA H Kasten (L70) 1.6 (76 KW / 103 HP)
ASTRA H Stufenheck (L69) 1.6 (85 KW / 116 HP)
ASTRA H Stufenheck (L69) 1.7 CDTi (81 KW / 110 HP)
ASTRA H Stufenheck (L69) 1.8 (103 KW / 140 HP)
ASTRA H Stufenheck (L69) 1.3 CDTi (66 KW / 90 HP)
ASTRA H Stufenheck (L69) 1.7 CDTi (74 KW / 101 HP)

ASTRA H TwinTop (L67) 1.6 (77 KW / 105 HP)

08.2005 - 10.2010

09.2005 - 10.2010

09.2005 - 10.2010

11.2005 - 10.2010

08.2004 - 10.2010

08.2009 - 10.2010

03.2005 - 10.2010

09.2005 - 10.2010

08.2005 - 10.2010

01.2006 - 10.2010

08.2005 - 10.2010

03.2005 - 10.2010

03.2005 - 10.2010

03.2005 - 10.2010

03.2005 - 10.2010

03.2005 - 10.2010

03.2005 - 10.2010

03.2005 - 10.2010

03.2005 - 10.2010

04.2005 - 10.2010

02.2007 - 10.2010

12.2006 - 10.2010

02.2007 - 10.2010

02.2007 - 10.2010

03.2005 - 10.2010

01.2006 - 10.2010

03.2004 - 10.2010

09.2004 - 10.2010

08.2004 - 10.2010

09.2005 - 10.2010

08.2005 - 10.2010

02.2007 - 10.2010

02.2007 - 10.2010

02.2004 - 11.2004

02.2007 - 05.2014

02.2007 - 05.2014

02.2007 - 10.2010

02.2007 - 10.2010

02.2007 - 10.2010

09.2005 - 10.2010

SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003

SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003

SKTR-0240003

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5

M14x1,5/18x1,5



ASTRA H TwinTop (L67) 1.8 (92 KW / 125 HP)

ASTRA H TwinTop (L67) 2.0 Turbo (125 KW / 170 HP)
ASTRA H TwinTop (L67) 2.0 Turbo (147 KW / 200 HP)
ASTRA H TwinTop (L67) 1.9 CDTi (110 KW / 150 HP)
ASTRA H TwinTop (L67) 1.6 Turbo (132 KW / 180 HP)
ASTRA H TwinTop (L67) 1.6 (85 KW / 116 HP)

ASTRA H TwinTop (L67) 1.8 (103 KW / 140 HP)

ASTRA H TwinTop (L67) 1.4 (66 KW / 90 HP)

OPEL COMBO

MODEL

COMBO (71_) 1.4 16V (66 KW / 90 HP)
COMBO (71.) 1.2 (33 KW / 45 HP)

COMBO (71_) 1.4 (44 KW / 60 HP)

COMBO (71_) 1.4 (60 KW / 82 HP)

COMBO (71_) 1.7 D (44 KW / 60 HP)

COMBO Kasten/Kombi 1.7 DI 16V (48 KW / 65 HP)
COMBO Kasten/Kombi 1.6 (64 KW / 87 HP)

COMBO Kasten/Kombi 1.7 DTI 16V (55 KW / 75 HP)
COMBO Kasten/Kombi 1.3 CDTI 16V (55 KW / 75 HP)
COMBO Kasten/Kombi 1.6 CNG 16V (69 KW / 94 HP)
COMBO Kasten/Kombi 1.4 16V (66 KW / 90 HP)
COMBO Kasten/Kombi 1.3 CDTI 16V (51 KW / 69 HP)
COMBO Kasten/Kombi 1.7 CDTI 16V (74 KW / 101 HP)
COMBO Kasten/Kombi 1.6 CNG 16V (71 KW / 97 HP)
COMBO Tour 1.7 CDTI 16V (74 KW / 101 HP)

COMBO Tour 1.6 (64 KW / 87 HP)

COMBO Tour 1.7 DI 16V (48 KW / 65 HP)

09.2005 - 10.2010

09.2005 - 10.2010

09.2005 - 10.2010

09.2005 - 10.2010

02.2007 - 10.2010

12.2006 - 10.2010

09.2005 - 10.2010

10.2005 - 10.2010

YEAR

08.1999 - 10.2001

07.1994 - 10.2001

07.1994 - 10.2001

07.1994 - 10.2001

07.1994 - 10.2001

10.2001 -

10.2001 -

10.2001 -

10.2005 -

06.2006 -

08.2005 -

08.2005 -

12.2004 -

04.2005 -

12.2004 -

10.2001 -

10.2001 -

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

beidseitig

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003

ITEMNUMBER

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

Gewindemaf? M14x1,5/18x1,5

Gewindemaf? M14x1,5/18x1,5

Gewindema3 M14x1,5/18x1,5

Gewindemaf? M14x1,5/18x1,5

Gewindemafl M14x1,5/18x1,5

Gewindemaf? M14x1,5/18x1,5

Gewindemafs M14x1,5/18x1,5

Gewindemaf? M14x1,5/18x1,5

ITEM DETAILS

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
AufRengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5



COMBO Tour 1.7 DTI 16V (55 KW / 75 HP)
COMBO Tour 1.4 (66 KW /90 HP)

COMBO Tour 1.3 CDTI 16V (51 KW / 69 HP)
COMBO Tour 1.3 CDTI 16V (55 KW / 75 HP)
COMBO Tour 1.6 CNG (69 KW / 94 HP)

COMBO Tour 1.6 CNG (71 KW / 97 HP)

OPEL CORSA

MODEL

CORSA B (73_, 78_, 79) 1.4 i 16V (63 KW / 86 HP)
CORSA B (73_, 78_, 79 ) 1.6 i 16V (74 KW / 100 HP)
CORSA B (73_, 78_, 79.) 1.4 i 16V (66 KW / 90 HP)
CORSA B (73_,78_,79) 1.6 i 16V (78 KW / 106 HP)
CORSA B (73_, 78_, 79_) 1.5 D (37 KW / 50 HP)

CORSA B (73_, 78_, 79_) 1.5 TD (49 KW / 67 HP)
CORSA B (73_,78_, 79 ) 1.2 i (33 KW / 45 HP)

CORSA B (73_, 78_, 79) 1.4 i (44 KW / 60 HP)

CORSA B (73_, 78_, 79_) 1.4 Si (60 KW / 82 HP)
CORSA B (73_, 78_, 79_) 1.6 GSI 16V (80 KW / 109 HP)
CORSA B (73_, 78_,79) 1.2 i 16V (48 KW / 65 HP)
CORSA B (73_,78_,79) 1.2 i (33 KW / 45 HP)

CORSA B (73_, 78_,79.) 1.4 i 16V (67 KW / 91 HP)
CORSA B (73_, 78_,79) 1.4 i (40 KW / 54 HP)

CORSA B (73_, 78_, 79_) 1.7 D (44 KW / 60 HP)

CORSA B (73_, 78_, 79) 1.0 i 12V (40 KW / 54 HP)

10.2001 -

10.2004 -

10.2004 -

10.2005 -

06.2006 -

04.2005 -

YEAR

08.1997 - 09.2000

08.1997 - 09.2000

09.1994 - 09.2000

09.1994 - 09.2000

03.1993 - 09.2000

03.1993 - 09.2000

03.1993 - 09.2000

03.1993 - 09.2000

03.1993 - 09.2000

03.1993 - 09.2000

03.1998 - 09.2000

03.1993 - 09.2000

09.1994 - 09.2000

03.1993 - 09.2000

02.1996 - 09.2000

11.1996 - 09.2000

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

ITEMNUMBER

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

ITEM DETAILS

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5



CORSA B (73_, 78_, 79_) 1.3 (44 KW / 60 HP)

CORSA B (73, 78_, 79 ) 1.4 (54 KW / 73 HP)

CORSA B Kasten (73_) 1.6 (71 KW / 97 HP)

CORSA B Kasten (73_) 1.4 i (44 KW / 60 HP)

CORSA B Kasten (73_) 1.7 D (44 KW / 60 HP)

CORSA B Kombi (F35) 1.4 i16V (66 KW /90 HP)

CORSA B Kombi (F35) 1.7 D (44 KW / 60 HP)

CORSA C (FO8, F68) 1.6 (69 KW /92 HP)

CORSA C(FO8, F68) 1.0 (44 KW / 60 HP)

CORSA C (FO8, F68) 1.3 CDTI (51 KW / 70 HP)

CORSA C (FO8, F68) 1.7 CDTI (74 KW / 100 HP)

CORSA C (FO8, F68) 1.4 Twinport (66 KW / 90 HP)

CORSA C (FO8, F68) 1.2 Twinport (59 KW / 80 HP)

CORSA C(FO8, F68) 1.0 (43 KW / 58 HP)

CORSA C (FO8, F68) 1.2 (55 KW / 75 HP)

CORSA C (FO8, F68) 1.8 (92 KW / 125 HP)

CORSA C (FO8, F68) 1.7 DTI (55 KW / 75 HP)

CORSA C (FO8, F68) 1.7 DI (48 KW / 65 HP)

CORSA C(FO8, F68) 1.4 (66 KW /90 HP)

CORSA C (FO8, F68) 1.4 (60 KW / 82 HP)

CORSA C (FO8, F68) 1.6 (62 KW / 84 HP)

CORSA C (FO8, F68) 1.8 (79 KW / 107 HP)

CORSA CKasten (FO8, W5L) 1.6 (71 KW / 97 HP)

CORSA CKasten (FO8, W5L) 1.2 16V (55 KW / 75 HP)

CORSA C Kasten (FO8, W5L) 1.7 DI 16V (48 KW / 65 HP)

CORSA C Kasten (FO8, W5L) 1.7 DTI 16V (55 KW / 75 HP)

01.1996 - 12.2002

04.1993 - 08.1994

08.1999 - 09.2000

08.1999 - 09.2000

08.1999 - 09.2000

01.1999 - 12.2002

01.1999 - 12.2002

05.2003 - 12.2009

06.2003 - 12.2009

06.2003 - 12.2009

06.2003 - 12.2009

06.2003 - 12.2009

07.2004 - 12.2009

09.2000 - 06.2003

09.2000 - 12.2009

09.2000 - 12.2009

09.2000 - 12.2009

09.2000 - 12.2009

09.2000 - 12.2009

01.2002 - 12.2009

09.2000 - 12.2009

01.2002 - 12.2009

08.2005 -

09.2000 -

09.2000 -

09.2000 -

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

beidseitig

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5



CORSA C Kasten (FO8, W5L) 1.4 (66 KW / 90 HP)

CORSA C Kasten (FO8, W5L) 1.7 CDTi (74 KW / 101 HP)

CORSA C Kasten (FO8, W5L) 1.2 (59 KW / 80 HP)

CORSA CKasten (FO8, W5L) 1.3 CDTI 16V (51 KW / 69 HP)

CORSA CLASSIC Stufenheck 1.4 (66 KW / 90 HP)
CORSA CLASSIC Stufenheck 1.6 (74 KW / 101 HP)
CORSA CLASSIC Stufenheck 1.3 (44 KW / 60 HP)
CORSA CLASSIC Stufenheck 1.4 (44 KW / 60 HP)

CORSA CLASSIC Stufenheck 1.4 (66 KW / 90 HP)

OPEL MERIVA

MODEL

MERIVA 1.3 CDTI (51 KW / 69 HP)

MERIVA 1.6 (64 KW / 87 HP)

MERIVA 1.6 16V (74 KW / 100 HP)
MERIVA 1.4 16V Twinport (66 KW / 90 HP)
MERIVA 1.7 CDTI (74 KW / 100 HP)
MERIVA 1.6 (77 KW / 105 HP)

MERIVA 1.3 CDTI (55 KW / 75 HP)

MERIVA 1.4 16V Twinport LPG (66 KW / 90 HP)
MERIVA 1.8 (92 KW / 125 HP)

MERIVA 1.7 DTI (55 KW / 75 HP)

MERIVA 1.6 Turbo (132 KW / 180 HP)

MERIVA 1.7 CDTI (92 KW / 125 HP)

08.2003 -

08.2003 -

07.2005 -

08.2005 -

07.2000 - 05.2001

01.2000 - 12.2003

01.1997 - 12.2002

08.1994 - 07.2002

07.2000 - 12.2003

YEAR

04.2005 - 05.2010

05.2003 - 05.2010

05.2003 - 01.2006

07.2004 - 05.2010

09.2003 - 05.2010

01.2006 - 05.2010

09.2003 - 05.2010

07.2004 - 05.2010

05.2003 - 05.2010

09.2003 - 05.2010

09.2005 - 05.2010

09.2006 - 05.2010

rechts

rechts

rechts

rechts

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

links

links

links

links

links

links

links

links

links

links

links

links

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240022

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

ITEMNUMBER

SKTR-0240028

SKTR-0240028

SKTR-0240028

SKTR-0240028

SKTR-0240028

SKTR-0240028

SKTR-0240028

SKTR-0240028

SKTR-0240028

SKTR-0240028

SKTR-0240028

SKTR-0240028

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
AufRengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]

Aufdengewinde
[mm]

ITEM DETAILS

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

315
M12x1,5

315
M12x1,5

315
M12x1,5

315
M12x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

FM14X1.5R
/
MM14X1.5R
FM14X1.5R
/
MM14X1.5R
FM14X1.5R
/
MM14X1.5R
FM14X1.5R
/
MM14X1.5R
FM14X1.5R
/
MM14X1.5R
FM14X1.5R
/
MM14X1.5R
FM14X1.5R
/
MM14X1.5R
FM14X1.5R
/
MM14X1.5R
FM14X1.5R
/
MM14X1.5R
FM14X1.5R
/
MM14X1.5R
FM14X1.5R
/
MM14X1.5R
FM14X1.5R

/
MM14X1.5R



OPEL MOVANO

MODEL

MOVANO B Kasten 2.3 CDTI FWD (74 KW / 101 HP)
MOVANO B Kasten 2.3 CDTI FWD (92 KW / 125 HP)
MOVANO B Kasten 2.3 CDTI FWD (107 KW / 146 HP)
MOVANO B Kasten 2.3 CDTI [RWD] (74 KW / 101 HP)
MOVANO B Kasten 2.3 CDTI [RWD] (92 KW / 125 HP)
MOVANO B Kasten 2.3 CDTI [RWD] (107 KW / 146 HP)
MOVANO B Pritsche/Fahrgestell 2.3 CDTI FWD (74 KW /

101 HP)

MOVANO B Pritsche/Fahrgestell 2.3 CDTI [RWD] (74 KW /
101 HP)

MOVANO B Pritsche/Fahrgestell 2.3 CDTI FWD (92 KW /
125 HP)

MOVANO B Pritsche/Fahrgestell 2.3 CDTI [RWD] (92 KW /
125 HP)

MOVANO B Pritsche/Fahrgestell 2.3 CDTI FWD (107 KW /
146 HP)

MOVANO B Pritsche/Fahrgestell 2.3 CDTI [RWD] (107 KW /
146 HP)

MOVANO Combi (19) 3.0 DTi (100 KW / 136 HP)
MOVANO Combi (19) 1.9 DTI (60 KW / 82 HP)
MOVANO Combi (19) 2.5 DTI (84 KW / 115 HP)
MOVANO Combi (19) 1.9 DTI (59 KW / 80 HP)
MOVANO Combi (19) 2.5 CDTI (74 KW / 101 HP)
MOVANO Combi (19) 2.5 CDTI (73 KW / 99 HP)
MOVANO Combi (19) 2.5 CDTI (107 KW / 146 HP)
MOVANO Combi (19) 2.5 CDTI (88 KW / 120 HP)
MOVANO Combi (19) 2.5 D (59 KW / 80 HP)
MOVANO Combi (19) 2.8 DTI (84 KW / 114 HP)

MOVANO Combi (J9) 2.2 DTI (66 KW / 90 HP)

MOVANO Kasten (F9) 3.0 DTI (100 KW / 136 HP)

YEAR

05.2010 -

05.2010 -

05.2010 -

05.2010 -

05.2010 -

05.2010 -

05.2010 -

05.2010 -

05.2010 -

05.2010 -

05.2010 -

05.2010 -

10.2003 -

10.2001 -

10.2001 -

09.2000 - 10.2001

09.2007 -

10.2003 - 12.2006

08.2006 -

08.2006 -

07.1998 - 09.2000

07.1998 - 10.2001

09.2000 -

10.2003 -

FITTING POSITION

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

ITEMNUMBER

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

ITEM DETAILS

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5|<
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R

/
MM16X1.5R
MM14X1.5R
MM16X1.5|<
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R

/
MM16X1.5R
MM14X1.5R
MM16X1.5|<
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R

/
MM16X1.5R
MM14X1.5R
MM16X1.5|<
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R

/
MM16X1.5R

165



MOVANO Kasten (F9) 2.5 DTi (73 KW / 99 HP)

MOVANO Kasten (F9) 1.9 DTI (60 KW / 82 HP)

MOVANO Kasten (F9) 2.5 DTI (84 KW / 115 HP)

MOVANO Kasten (F9) 1.9 DTI (59 KW / 80 HP)

MOVANO Kasten (F9) 2.5 D (59 KW / 80 HP)

MOVANO Kasten (F9) 2.8 DTI (84 KW / 114 HP)

MOVANO Kasten (F9) 2.5 CDTI (74 KW / 101 HP)

MOVANO Kasten (F9) 2.5 CDTI (107 KW / 146 HP)

MOVANO Kasten (F9) 2.5 CDTI (88 KW / 120 HP)

MOVANO Kasten (F9) 2.2 DTI (66 KW / 90 HP)

MOVANO Kipper (H9) 2.5 D (59 KW / 80 HP)

MOVANO Kipper (H9) 2.8 DTI (84 KW / 114 HP)

MOVANO Kipper (H9) 2.5 DTI (73 KW / 99 HP)

MOVANO Kipper (H9) 2.5 CDTI (74 KW / 101 HP)

MOVANO Kipper (H9) 2.5 CDTI (88 KW / 120 HP)

MOVANO Kipper (H9) 2.5 CDTI (107 KW / 146 HP)

MOVANO Kipper (H9) 2.5 DTI (84 KW / 115 HP)

MOVANO Kipper (H9) 3.0 DTI (100 KW / 136 HP)

MOVANO Kipper (H9) 2.2 DTI (66 KW / 90 HP)

MOVANO Pritsche/Fahrgestell (U9, E9) 2.5 DTI (84 KW /

115 HP)

MOVANO Pritsche/Fahrgestell (U9, E9) 2.5 D (59 KW / 80
HP)

MOVANO Pritsche/Fahrgestell (U9, E9) 2.8 DTI (84 KW /
114 HP)

MOVANO Pritsche/Fahrgestell (U9, E9) 2.5 CDTI (74 KW /
101 HP)

MOVANO Pritsche/Fahrgestell (U9, E9) 2.5 CDTI (107 KW /
146 HP)

MOVANO Pritsche/Fahrgestell (U9, E9) 2.5 CDTI (88 KW /
120 HP)

10.2003 -

10.2001 -

10.2001 -

09.2000 - 10.2001

01.1999 - 09.2000

01.1999 - 10.2001

10.2003 -

10.2003 -

10.2003 -

09.2000 -

01.1999 - 09.2000

01.1999 - 10.2001

10.2003 -

08.2006 -

08.2006 -

08.2006 -

10.2001 -

10.2003 -

09.2000 -

10.2001 -

07.1998 - 09.2000

07.1998 - 10.2001

08.2006 -

08.2006 -

08.2006 -

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

MM14X1.5R

/
MM16X1.5R

MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R

/
MM16X1.5R
MM14X1.5R
MM16X1.5|<
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R

/
MM16X1.5R
MM14X1.5R
MM16X1.5|<
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R

/
MM16X1.5R
MM14X1.5R
MM16X1.5|<
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5|<
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R

/
MM16X1.5R

MM14X1.5R
/
MM16X1.5R



MOVANO Pritsche/Fahrgestell (U9, E9) 2.5 DTi (73 KW /99  10.2003 - Vorderachse SKTR-0240047 Gewindemaff  MML4X1.5R

L /
HP) beidseitig MM16X1.5R
MOVANO Pritsche/Fahrgestell (U9, E9) 3.0 DTI (100 KW /  10.2003 - Vorderachse SKTR-0240047 Gowindema  MMLAX13R
136 HP) beidseitig MM16X1.5R
MOVANO Pritsche/Fahrgestell (U9, E9) 2.2 DTI (66 KW /90  09.2000 - Vorderachse SKTR-0240047 Gowindemat  MML4XA 3R
HP) beidseitig MM16X1.5R
] YEAR FITTING POSITION ~ ITEMNUMBER ITEM DETAILS
OMEGA B (25_, 26_, 27_) 2.0 (85 KW / 116 HP) 03.1994 - 09.1999 Vorderachse SKRA-0250014

rechts
OMEGA B (25_, 26_, 27_) 2.0 16V (100 KW / 136 HP) 03.1994 - 09.1999 Vorderachse SKRA-0250014

rechts
OMEGA B (25_, 26_, 27_) 2.5 V6 (125 KW / 170 HP) 03.1994 - 09.2000 Vorderachse SKRA-0250014

rechts
OMEGA B (25_, 26_, 27_) 3.0 V6 (155 KW / 211 HP) 04.1994 - 02.2001 Vorderachse SKRA-0250014

rechts
OMEGA B (25_, 26_, 27_) 2.5 TD (96 KW / 130 HP) 04.1994 - 07.2003 Vorderachse SKRA-0250014

rechts

OMEGA B (25_, 26_, 27_) 2.0 DTI 16V (74 KW / 101 HP) 09.1997 - 09.2000 Vorderachse SKRA-0250014

rechts

OMEGA B (25_, 26_, 27_) 2.2 16V (106 KW / 144 HP) 09.1999 - 07.2003 Vorderachse SKRA-0250014
rechts

OMEGA B (25_, 26_, 27_) 2.5 D (96 KW / 131 HP) 05.1994 - 05.1999 Vorderachse SKRA-0250014
rechts

OMEGA B (25_, 26_, 27_) 2.0 (85 KW / 115 HP) 03.1994 - 12.2000 Vorderachse SKRA-0250014
rechts

OMEGA B (25_, 26_, 27_) 2.0 (90 KW /122 HP) 05.1994 - 05.1999 Vorderachse SKRA-0250014
rechts

OMEGA B (25_, 26_, 27_) 2.5 DTI (110 KW / 150 HP) 09.2001 - 07.2003 Vorderachse SKRA-0250014
rechts

OMEGA B (25_, 26_, 27_) 2.2 DTI 16V (81 KW / 110 HP) 09.2000 - 07.2003 Vorderachse SKRA-0250014
rechts

OMEGA B (25_, 26_, 27_) 3.2 V6 (160 KW / 218 HP) 02.2001 - 07.2003 Vorderachse SKRA-0250014
rechts

OMEGA B (25_, 26_, 27_) 2.2 DTI 16V (88 KW / 120 HP) 09.2000 - 07.2003 Vorderachse SKRA-0250014
rechts

OMEGA B (25, 26_, 27_) 2.6 V6 (132 KW / 180 HP) 09.2000 - 07.2003 Vorderachse SKRA-0250014
rechts

OMEGA B Caravan (21_, 22, 23) 2.0 (90 KW / 122 HP) 05.1994 - 05.1999 Vorderachse SKRA-0250014
rechts

OMEGA B Caravan (21_, 22_, 23_) 2.6 (138 KW / 188 HP) 05.1994 - 05.1999 Vorderachse SKRA-0250014
rechts

OMEGA B Caravan (21_, 22, 23_) 2.0 (85 KW / 116 HP) 03.1994 - 09.1999 Vorderachse SKRA-0250014
rechts

OMEGA B Caravan (21_, 22_, 23_) 2.0 16V (100 KW /136  03.1994 - 09.1999 Vorderachse SKRA-0250014
HP) rechts

OMEGA B Caravan (21_, 22_, 23) 2.5 V6 (125 KW / 170 03.1994 - 09.2000 Vorderachse SKRA-0250014
HP) rechts

OMEGA B Caravan (21_, 22,23 ) 2.5 TD (96 KW /131 HP) 04.1994 - 07.2001 Vorderachse SKRA-0250014
rechts




OMEGA B Caravan (21_, 22_,23) 3.0 V6 (155 KW /211 041994 - 022001 Vorderachse SKRA-0250014

HP) rechts

OMEGA B Caravan (21_, 22_, 23_) 2.0 DTI 16V (74 KW / 09.1997 - 09.2000 Vorderachse SKRA-0250014

101 HP) rechts

OMEGA B Caravan (21, 22_, 23 ) 2.2 16V (106 KW /144  09.1999 - 07.2003 Vorderachse SKRA-0250014

HP) rechts

OMEGA B Caravan (21, 22_, 23_) 2.5 DTI (110 KW / 150 09.2001 - 07.2003 Vorderachse SKRA-0250014

HP) rechts

OMEGA B Caravan (21, 22_, 23_) 2.2 DTI 16V (81 KW / 09.2000 - 07.2003 Vorderachse SKRA-0250014

110 HP) rechts

OMEGA B Caravan (21_, 22_, 23_) 3.2 V6 (160 KW / 218 02.2001 - 07.2003 Vorderachse SKRA-0250014

HP) rechts

OMEGA B Caravan (21_, 22_, 23_) 2.2 DTI 16V (88 KW / 09.2000 - 07.2003 Vorderachse SKRA-0250014

120 HP) rechts

OMEGA B Caravan (21_, 22_, 23) 2.6 V6 (132 KW / 180 09.2000 - 07.2003 Vorderachse SKRA-0250014

HP) rechts

OPEL SIGNUM

MODEL YEAR FITTING POSITION ITEMNUMBER ITEM DETAILS

SIGNUM 1.9 CDTI (88 KW / 120 HP) 04.2004 - links SKTR-0240026 Gewindemaf MM18X1.5F;
MM14X1.5R

SIGNUM 1.9 CDTI (74 KW / 100 HP) 08.2005 - links SKTR-0240026 GewindemaR MMlSXl.SI}
MM14X1.5R

SIGNUM 1.9 CDTI (110 KW / 150 HP) 04.2004 - links SKTR-0240026 Gewindemal ~ MM18X1.5R
MM14X1.5R/

SIGNUM 1.8 (90 KW / 122 HP) 05.2003 - links SKTR-0240026 Gewindemaf} MM18X1-5'>
MM14X1.5R

SIGNUM 2.0 Turbo (129 KW / 175 HP) 05.2003 - links SKTR-0240026 Gewindemaf MM18X1.5I;
MM14X1.5R

SIGNUM 3.2 V6 (155 KW / 211 HP) 05.2003 - links SKTR-0240026 Gewindemaf MM18X1.5F;
MM14X1.5R

SIGNUM 2.0 DTI (74 KW / 100 HP) 05.2003 - links SKTR-0240026 GewindemaR MM18X1-SI}
MM14X1.5R

SIGNUM 2.2 DT1(92 KW / 125 HP) 05.2003 - links SKTR-0240026 Gewindema®  MM18X1.5R
MM14X1.5R/

SIGNUM 3.0 V6 CDTI (130 KW / 177 HP) 05.2003 - links SKTR-0240026 Gewindemaft MM18X1.5!§
MM14X1.5R

SIGNUM 2.2 DT116V (86 KW / 117 HP) 05.2003 - 06.2008 links SKTR-0240026 Gewindemaf MM18X1.5I;
MM14X1.5R

SIGNUM 2.8 V6 Turbo (184 KW / 250 HP) 01.2006 - links SKTR-0240026 Gewindemaft MM18X1~5F;
MM14X1.5R

SIGNUM 2.8 V6 Turbo (169 KW / 230 HP) 09.2005 - links SKTR-0240026 GewindemaR MM18X1-SI}
MM14X1.5R

SIGNUM 1.8 (103 KW / 140 HP) 09.2005 - links SKTR-0240026 Gewindemaft MM18X1-5Fj
MM14X1.5R

SIGNUM 3.0 V6 CDTI (135 KW / 184 HP) 09.2005 - links SKTR-0240026 Gewindemaft MM18X1.5!§
MM14X1.5R

SIGNUM 2.2 direct (114 KW / 155 HP) 05.2003 - links SKTR-0240026 Gewindema®  MM18X1.5R

/
MM14X1.5R




OPEL TIGRA

MODEL

TIGRA (95_) 1.4 16V (66 KW / 90 HP)
TIGRA (95_) 1.6 16V (78 KW / 106 HP)
TIGRA (95_) 1.4 16V (63 KW / 86 HP)

TIGRA (95) 1.6 16V (74 KW / 100 HP)

OPEL VECTRA

MODEL
VECTRA B (36_) 1.6 i (55 KW / 75 HP)

VECTRA B (36_) 2.0 i (82 KW / 112 HP)
VECTRA B (36_) 2.0 DI 16V (60 KW / 82 HP)
VECTRA B (36_) 1.6 i (55 KW / 75 HP)

VECTRA B (36 ) 1.6 i 16V (74 KW / 100 HP)
VECTRA B (36_) 1.8 i 16V (85 KW / 115 HP)
VECTRA B (36_) 2.0 i 16V (100 KW / 136 HP)
VECTRA B (36_) 2.5 i V6 (125 KW / 170 HP)
VECTRA B (36_) 2.0 DTI 16V (74 KW / 101 HP)
VECTRA B (36_) 1.7 TD (60 KW / 82 HP)
VECTRA B (36_) 1.8 i 16V (85 KW / 115 HP)
VECTRA B (36_) i 500 2.5 (143 KW / 194 HP)
VECTRA B (36_) 2.0 i (85 KW / 116 HP)
VECTRA B (36_) 1.6 GL (60 KW / 82 HP)
VECTRA B (36_) 1.8 i 16V (92 KW / 125 HP)
VECTRA B (36_) 2.2 DTI 16V (92 KW / 125 HP)
VECTRA B (36_) 2.2 i 16V (108 KW / 147 HP)
VECTRA B (36_) 2.6 i V6 (125 KW / 170 HP)
VECTRA B (36_) 2.2 DTI 16V (88 KW / 120 HP)
VECTRA B Caravan (31_) 1.6 i (55 KW / 75 HP)
VECTRA B Caravan (31_) 2.0 i (82 KW / 112 HP)
VECTRA B Caravan (31_) 1.6 i (55 KW / 75 HP)
VECTRA B Caravan (31_) 1.6 i 16V (74 KW / 100 HP)

VECTRA B Caravan (31_) 1.8 i16V (85 KW / 115 HP)

YEAR

07.1994 - 12.2000

07.1994 - 08.1998

08.1997 - 12.2000

08.1997 - 08.1998

YEAR

10.1995 - 04.2002

10.1995 - 04.2002

11.1996 - 04.2002

10.1995 - 04.2002

10.1995 - 04.2002

10.1995 - 09.2000

10.1995 - 09.2000

10.1995 - 09.2000

06.1997 - 04.2002

10.1995 - 12.1998

10.1995 - 09.2000

05.1998 - 09.2000

10.1995 - 04.2002

09.1995 - 08.1996

09.2000 - 04.2002

09.2000 - 04.2002

09.2000 - 04.2002

09.2000 - 04.2002

09.2000 - 04.2002

11.1996 - 06.2000

11.1996 - 02.2002

11.1996 - 06.2000

11.1996 - 07.2002

11.1996 - 09.2000

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

ITEMNUMBER

SKTR-0240072

SKTR-0240072

SKTR-0240072

SKTR-0240072

ITEMNUMBER

SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037

SKTR-0240037

ITEM DETAILS

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

ITEM DETAILS

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

295,0
M14x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5



VECTRA B Caravan (31_) 2.0 i 16V (100 KW / 136 HP) 11.1996 - 09.2000  Vorderachse SKTR-0240037 Gewindemafs M16x1,5
VECTRA B Caravan (31_) 2.5 i V6 (125 KW / 170 HP) 11.1996 - 09.2000  Vorderachse SKTR-0240037 Gewindemaft M16x1,5
VECTRA B Caravan (31_) 2.0 DI 16V (60 KW / 82 HP) 11.1996 - 06.2000 Vorderachse SKTR-0240037 Gewindemafd M16x1,5
VECTRA B Caravan (31_) 1.8 i 16V (85 KW / 115 HP) 11.1996 - 09.2000  Vorderachse SKTR-0240037 Gewindemaft M16x1,5
VECTRA B Caravan (31_) 2.0 DTI 16V (74 KW / 101 HP) 06.1997 - 07.2003  Vorderachse SKTR-0240037 Gewindemaft ML6x1,5
VECTRA B Caravan (31_) i 500 2.5 (143 KW / 194 HP) 05.1998 - 09.2000 Vorderachse SKTR-0240037 Gewindemafs M16x1,5
VECTRA B Caravan (31_) 1.7 TD (60 KW / 82 HP) 111996 - 121997  Vorderachse SKTR-0240037 Gewindemaft M16x1,5
VECTRA B Caravan (31_) 1.8 i 16V (92 KW / 125 HP) 09.2000 - 07.2003  Vorderachse SKTR-0240037 Gewindemaft M16x1,5
VECTRA B Caravan (31_) 2.2 DTI 16V (92 KW / 125 HP) 09.2000 - 07.2003 Vorderachse SKTR-0240037 Gewindemaf M16x1,5
VECTRA B Caravan (31_) 2.2 i 16V (108 KW / 147 HP) 09.2000 - 07.2003  Vorderachse SKTR-0240037 Gewindemaft M16x1,5
VECTRA B Caravan (31_) 2.6 i V6 (125 KW / 170 HP) 09.2000 - 07.2003  Vorderachse SKTR-0240037 Gewindemaft M16x1,5
VECTRA B Caravan (31_) 2.2 DTI 16V (88 KW / 120 HP) 09.2000 - 04.2002 Vorderachse SKTR-0240037 Gewindemafs M16x1,5
VECTRAB CC(38_) 2.0i16V (100 KW / 136 HP) 10.1995 - 09.2000 Vorderachse SKTR-0240037 Gewindemafy M16x1,5
VECTRA B CC (38_) 2.5 i V6 (125 KW / 170 HP) 10.1995 - 09.2000  Vorderachse SKTR-0240037 Gewindemat} M16x1,5
VECTRA B CC (38_) 1.7 TD (60 KW / 82 HP) 10.1995 - 12.1998 Vorderachse SKTR-0240037 Gewindemafy M16x1,5
VECTRA B CC (38_) 1.6 i (55 KW / 75 HP) 10.1995 - 07.2003  Vorderachse SKTR-0240037 Gewindemaf} M16x1,5
VECTRA B CC(38_) 2.0 (82 KW /112 HP) 10.1995 - 02.2002 Vorderachse SKTR-0240037 Gewindemafy M16x1,5
VECTRA B CC(38_) 2.0 DI 16V (60 KW / 82 HP) 11.1996 - 06.2000 Vorderachse SKTR-0240037 Gewindemafd M16x1,5
VECTRAB CC(38_) 1.8i16V (85 KW /116 HP) 10.1995 - 09.2000 Vorderachse SKTR-0240037 Gewindemafy M16x1,5
VECTRA B CC (38_) 2.0 DTI 16V (74 KW / 101 HP) 06.1997 - 07.2003  Vorderachse SKTR-0240037 Gewindemat} M16x1,5
VECTRA B CC (38_) 2.5 (144 KW / 196 HP) 10.1999 - 06.2000  Vorderachse SKTR-0240037 Gewindemaft M16x1,5
VECTRAB CC(38_) 1.8i16V (92 KW /125 HP) 09.2000 - 07.2003 Vorderachse SKTR-0240037 Gewindemaf3 M16x1,5
VECTRA B CC (38_) 2.2 DTI 16V (92 KW / 125 HP) 09.2000 - 07.2003  Vorderachse SKTR-0240037 Gewindemafs M16x1,5
VECTRA B CC (38_) 2.2 i 16V (108 KW / 147 HP) 09.2000 - 07.2003  Vorderachse SKTR-0240037 Gewindemaft M16x1,5
VECTRA B CC (38_) 2.6 i V6 (125 KW / 170 HP) 09.2000 - 07.2003  Vorderachse SKTR-0240037 Gewindemaft M16x1,5
VECTRA B CC(38_) 2.2 DTI 16V (88 KW / 120 HP) 09.2000 - 04.2002 Vorderachse SKTR-0240037 Gewindemaf} M16x1,5
VECTRA B CC (38_) 1.6 i (55 KW / 75 HP) 10.1995 - 07.2003  Vorderachse SKTR-0240037 Gewindemaf} M16x1,5
VECTRAB CC(38_) 1.6 i16V (74 KW / 101 HP) 10.1995 - 07.2002 Vorderachse SKTR-0240037 Gewindemaf} M16x1,5
VECTRA B CC (38_) 1.8 i 16V (85 KW / 116 HP) 10.1995 - 09.2000  Vorderachse SKTR-0240037 Gewindemat} M16x1,5
VECTRA C 2.2 direct (114 KW / 155 HP) 10.2003 - Vorderachse SKTR-0240023 Gewindemat} M18x1,5

Lange [mm] 303
VECTRA C 1.9 CDTI (88 KW / 120 HP) 04.2004 - Vorderachse SKTR-0240023 Gewindemaf} M18x1,5

Lange [mm] 303
VECTRA C 1.9 CDTI (110 KW / 150 HP) 04.2004 - Vorderachse SKTR-0240023 Gewindemat} M18x1,5

Lange [mm] 303
VECTRA C 1.8 (81 KW / 110 HP) 04.2002 - Vorderachse SKTR-0240023 Gewindemat} M18x1,5

Lange [mm] 303
VECTRA C 2.8 V6 Turbo (184 KW / 250 HP) 08.2006 - Vorderachse SKTR-0240023 Gewindemat} M18x1,5

Linge [mm] 303
VECTRA C 2.2 16V (108 KW / 147 HP) 04.2002 - Vorderachse SKTR-0240023 Gewindemaft M18x1,5

Lange [mm] 303
VECTRA C1.6 16V (74 KW / 100 HP) 06.2004 - Vorderachse SKTR-0240023 Gewindemafy M18x1,5

Lange [mm] 303
VECTRA C 2.2 DTI 16V (92 KW / 125 HP) 04.2002 - Vorderachse SKTR-0240023 Gewindemaf} M18x1,5

Lange [mm] 303
VECTRA C 2.0 DTI 16V (74 KW / 101 HP) 04.2002 - Vorderachse SKTR-0240023 Gewindemaf} M18x1,5

Lange [mm]

303



VECTRA C 1.8 16V (90 KW / 122 HP)

VECTRAC1.6 (77 KW /105 HP)

VECTRA C1.8 (103 KW / 140 HP)

VECTRA C 3.0 CDTi (135 KW / 184 HP)

VECTRA C 1.9 CDTI (74 KW / 100 HP)

VECTRA C 2.0 16V Turbo (129 KW / 175 HP)

VECTRA C 2.8 V6 Turbo OPC (206 KW / 280 HP)

VECTRA C2.2 DTI16V (86 KW / 117 HP)

VECTRA C 2.8 V6 Turbo (169 KW / 230 HP)

VECTRA C 2.8 V6 Turbo (188 KW / 255 HP)

VECTRA C 3.0 CDTI (130 KW / 177 HP)

VECTRA C 3.2 V6 (155 KW / 211 HP)

VECTRA C Caravan 1.9 CDTI (88 KW / 120 HP)

VECTRA C Caravan 3.0 V6 CDTI (135 KW / 184 HP)

VECTRA C Caravan 1.9 (DTI (110 KW / 150 HP)

VECTRA C Caravan 1.9 (DTI (74 KW / 100 HP)

VECTRA C Caravan 1.8 (103 KW / 140 HP)

VECTRA C Caravan 2.2 DTI (86 KW / 117 HP)

VECTRA C Caravan 1.6 (77 KW / 105 HP)

VECTRA C Caravan 2.8 V6 Turbo (184 KW / 250 HP)

VECTRA C Caravan 1.6 16V (74 KW / 100 HP)

VECTRA C Caravan 2.8 V6 Turbo (169 KW / 230 HP)

VECTRA C Caravan 2.8 V6 Turbo (188 KW / 255 HP)

VECTRA C Caravan 2.8 V6 Turbo (206 KW / 280 HP)

VECTRA C Caravan 2.2 DTI (92 KW / 125 HP)

VECTRA C Caravan 3.0 V6 CDTI (130 KW / 177 HP)

VECTRA C Caravan 3.2 V6 (155 KW / 211 HP)

VECTRA C Caravan 2.0 DTI (74 KW / 100 HP)

VECTRA C Caravan 2.2 direct (114 KW / 155 HP)

VECTRA C Caravan 2.0 Turbo (129 KW / 175 HP)

VECTRA C Caravan 1.8 (90 KW / 122 HP)

VECTRA CGTS 2.2 direct (114 KW / 155 HP)

VECTRA CGTS 2.0 16V Turbo (129 KW / 175 HP)

04.2002 -

01.2006 -

01.2006 -

08.2005 -

10.2005 -

03.2003 -

09.2006 - 09.2008

04.2002 - 12.2004

08.2005 -

08.2005 -

06.2003 -

08.2002 -

04.2004 -

08.2005 -

04.2004 -

10.2005 -

01.2006 -

10.2003 - 06.2008

01.2006 -

01.2007 -

06.2004 -

08.2005 -

08.2005 -

01.2007 -

10.2003 -

10.20053 -

10.2003 -

10.2003 -

10.2003 -

10.2003 -

10.2003 -

10.2003 -

03.2003 -

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

links

links

Vorderachse

Vorderachse

Vorderachse

Vorderachse

links

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240026

SKTR-0240026

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240026

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Lange [mm]

Gewindemaf

Gewindemaf}

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

MM18X1.5R
/
MM14X1.5R
MM18X1.5R
/
MM14X1.5R

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

MM18X1.5R
/
MM14X1.5R

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303



VECTRA C GTS 1.9 CDTI (88 KW / 120 HP)
VECTRA C GTS 1.9 CDTI (110 KW / 150 HP)
VECTRA C GTS 2.8 V6 Turbo (184 KW / 250 HP)
VECTRA C GTS 2.8 V6 Turbo (206 KW / 280 HP)
VECTRA C GTS 1.8 (103 KW / 140 HP)

VECTRA CGTS 1.6 (77 KW / 105 HP)

VECTRA C GTS 3.0 CDTi (135 KW / 184 HP)
VECTRA C GTS 1.9 CDTI (74 KW / 100 HP)
VECTRA C GTS 1.8 16V (90 KW / 122 HP)
VECTRA C GTS 2.2 16V (108 KW / 147 HP)
VECTRA C GTS 2.0 DTI 16V (74 KW / 101 HP)
VECTRA C GTS 2.2 DTI 16V (92 KW / 125 HP)
VECTRA C GTS 2.2 DTI 16V (86 KW / 117 HP)
VECTRA CGTS 1.8 16V (81 KW / 110 HP)
VECTRA CGTS 3.2 V6 (155 KW / 211 HP)
VECTRA C GTS 1.6 (74 KW / 100 HP)

VECTRA C GTS 3.0 CDTI (130 KW / 177 HP)
VECTRA C GTS 2.8 V6 Turbo (169 KW / 230 HP)

VECTRA CGTS 2.8 V6 Turbo (188 KW / 255 HP)

OPEL VIVARO

MODEL

VIVARO Combi 1.6 CDTI (85 KW / 116 HP)
VIVARO Combi 1.6 CDTI (66 KW / 90 HP)
VIVARO Combi 1.6 CDTI (88 KW / 120 HP)
VIVARO Combi 1.6 CDTI (103 KW / 140 HP)
VIVARO Combi (17) 2.0 16V (88 KW / 120 HP)
VIVARO Combi (17) 2.5 DTI (99 KW / 135 HP)
VIVARO Combi (17) 1.9 DI (60 KW / 80 HP)

VIVARO Combi (J7) 1.9 DTI (74 KW / 101 HP)

04.2004 -

04.2004 -

08.2006 -

08.2006 -

01.2006 -

01.2006 -

08.2005 -

10.2005 -

08.2002 -

08.2002 -

08.2002 -

08.2002 -

08.2002 - 06.2008

08.2002 - 12.2006

08.2002 -

08.2005 -

06.2003 -

08.2005 -

08.2005 -

YEAR

06.2014 -

06.2014 -

06.2014 -

06.2014 -

08.2001 -

05.2003 -

08.2001 -

08.2001 -

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

innen

innen

innen

innen

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

ITEMNUMBER

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Linge [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

ITEM DETAILS

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280



VIVARO Combi (J7) 2.5 CDTI (84 KW / 114 HP)

VIVARO Combi (J7) 2.0 CDTI (66 KW / 90 HP)

VIVARO Combi (J7) 2.0 CDTI (84 KW / 114 HP)

VIVARO Combi (J7) 2.5 CDTI (107 KW / 146 HP)

VIVARO Combi (J7) 2.0 ECOTEC (86 KW / 117 HP)

VIVARO Kasten 1.6 CDTI (103 KW / 140 HP)

VIVARO Kasten 1.6 CDTI (66 KW / 90 HP)

VIVARO Kasten 1.6 CDTI (85 KW / 116 HP)

VIVARO Kasten 1.6 CDTI (88 KW / 120 HP)

VIVARO Kasten 1.6 CDTI (70 KW / 95 HP)

VIVARO Kasten 1.6 CDTI (92 KW / 125 HP)

VIVARO Kasten 1.6 CDTI (107 KW / 146 HP)

VIVARO Kasten (F7) 2.0 16V (88 KW / 120 HP)

VIVARO Kasten (F7) 2.5 DTI (99 KW / 135 HP)

VIVARO Kasten (F7) 1.9 DI (60 KW / 80 HP)

VIVARO Kasten (F7) 1.9 DTI (74 KW / 101 HP)

VIVARO Kasten (F7) 2.5 CDTI (84 KW / 114 HP)

VIVARO Kasten (F7) 2.0 ECOTEC (86 KW / 117 HP)

VIVARO Kasten (F7) 2.0 CDTI (66 KW / 90 HP)

VIVARO Kasten (F7) 2.0 CDTI (84 KW / 114 HP)

VIVARO Kasten (F7) 2.5 CDTI (107 KW / 146 HP)

VIVARO Pritsche/Fahrgestell 1.6 CDTI (92 KW / 125 HP)

VIVARO Pritsche/Fahrgestell 1.6 CDTI (107 KW / 146 HP)

VIVARO Pritsche/Fahrgestell 1.6 CDTI (88 KW / 120 HP)

VIVARO Pritsche/Fahrgestell 1.6 CDTI (103 KW / 140 HP)

08.2006 -

08.2006 -

08.2006 -

08.2006 -

08.2006 -

06.2014 -

06.2014 -

06.2014 -

06.2014 -

08.2016 -

03.2016 -

03.2016 -

08.2001 -

05.2003 -

08.2001 -

08.2001 -

08.2006 -

08.2006 -

08.2006 -

08.2006 -

08.2006 -

11.2016 -

11.2016 -

08.2015 -

08.2015 -

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

innen

innen

innen

innen

innen

innen

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

beidseitig

innen

innen

innen

innen

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

Gewindemaf}

Linge [mm]

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf’
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280



VIVARO Pritsche/Fahrgestell 1.6 CDTI (66 KW / 90 HP)

VIVARO Pritsche/Fahrgestell 1.6 CDTI (85 KW / 116 HP)
VIVARO Pritsche/Fahrgestell (E7) 1.9 Di (60 KW / 82 HP)
VIVARO Pritsche/Fahrgestell (E7) 2.5 DTi (99 KW / 135 HP)
VIVARO Pritsche/Fahrgestell (E7) 2.0 CDTI (66 KW / 90 HP)
VIVARO Pritsche/Fahrgestell (E7) 2.0 ECOTEC (86 KW / 117

HP)

VIVARO Pritsche/Fahrgestell (E7) 2.0 CDTI (84 KW / 114 HP)
VIVARO Pritsche/Fahrgestell (E7) 2.5 CDTI (84 KW / 114 HP)

VIVARO Pritsche/Fahrgestell (E7) 2.5 CDTI (107 KW / 146
HP)

VIVARO Pritsche/Fahrgestell (E7) 2.0 16V (88 KW / 120 HP)

VIVARO Pritsche/Fahrgestell (E7) 1.9 DTI (74 KW / 101 HP)

OPEL ZAFIRA

MODEL
ZAFIRA A (F75_) 2.0 DI 16V (60 KW / 82 HP)
ZAFIRA A (F75_) 2.0 OPC (141 KW / 192 HP)
ZAFIRA A (F75_) 1.6 CNG (71 KW / 97 HP)
ZAFIRA A (F75_) 2.0 OPC (147 KW / 200 HP)
ZAFIRA A (F75_) 2.0 DTI (63 KW / 86 HP)
ZAFIRA A (F75_) 1.6 (76 KW / 103 HP)
ZAFIRA A (F75_) 1.6 16V (74 KW / 101 HP)
ZAFIRA A (F75_) 1.8 16V (85 KW / 116 HP)
ZAFIRA A (F75_) 2.2 DTI 16V (92 KW / 125 HP)
ZAFIRA A (F75_) 1.8 16V (92 KW / 125 HP)
ZAFIRA A (F75_) 2.2 16V (108 KW / 147 HP)
ZAFIRA A (F75_) 2.0 DTI 16V (74 KW / 101 HP)
ZAFIRA A (F75_) 2.2 DTI 16V (86 KW / 117 HP)

ZAFIRA B (A05) 2.2 (110 KW / 150 HP)
ZAFIRA B (A05) 1.9 CDTI (110 KW / 150 HP)
ZAFIRA B (A05) 1.9 CDTI (74 KW / 100 HP)

ZAFIRA B (A05) 1.9 CDTI (88 KW / 120 HP)

06.2014 -

06.2014 -

08.2001 -

08.2003 -

01.2006 -

08.2006 -

08.2006 -

08.2006 -

08.2006 -

08.2003 -

08.2006 -

YEAR

07.1999 - 06.2005

09.2001 - 06.2005

09.2001 - 06.2005

11.2002 - 06.2005

07.1999 - 06.2000

10.2003 - 06.2005

04.1999 - 06.2005

04.1999 - 09.2000

01.2002 - 06.2005

09.2000 - 06.2005

09.2000 - 06.2005

09.2000 - 06.2005

01.2002 - 06.2005

07.2005 -

07.2005 -

07.2005 -

07.2005 -

innen

innen

innen

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

innen

FITTING POSITION
innen
innen
innen
innen

innen

innen
innen
innen
innen
innen

innen

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

ITEMNUMBER

SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003
SKTR-0240003

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280
M12x1 /
M14x1,5
280
M12x1 /
M14x1,5
280
M12x1 /
M14x1,5
280
M12x1 /
M14x1,5
280
M12x1 /
M14x1,5
280
M12x1 /
M14x1,5
280
M12x1 /
M14x1,5
280
M12x1 /
M14x1,5
280
M12x1 /

M14x1,5
280

M14x1,5/18x1,5
M14x1,5/18x1,5
M14x1,5/18x1,5
M14x1,5/18x1,5
M14x1,5/18x1,5
M14x1,5/18x1,5
M14x1,5/18x1,5
M14x1,5/18x1,5
M14x1,5/18x1,5
M14x1,5/18x1,5
M14x1,5/18x1,5
M14x1,5/18x1,5
M14x1,5/18x1,5

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

174



ZAFIRA B (A05) 1.6 (62 KW / 84 HP)

ZAFIRA B (A05) 1.6 CNG Turbo (110 KW / 150 HP)

ZAFIRA B (A05) 2.0 (177 KW / 241 HP)

ZAFIRA B (A05) 1.8 (88 KW / 120 HP)

ZAFIRA B (A05) 1.6 CNG (69 KW / 94 HP)

ZAFIRA B (A05) 1.6 (85 KW / 115 HP)

ZAFIRA B (A05) 1.7 CDTI (81 KW / 110 HP)

ZAFIRA B (A05) 1.7 CDTI(92 KW / 125 HP)

ZAFIRA B (A05) 1.8 (103 KW / 140 HP)

ZAFIRA B (A05) 1.6 (77 KW / 105 HP)

ZAFIRA B (A05) 2.0 (147 KW / 200 HP)

01.2006 -

02.2009 -

01.2006 -

06.2013 -

01.2006 -

01.2008 -

01.2008 -

01.2008 -

07.2005 -

07.2005 -

07.2005 -

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

SKTR-0240023

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Linge [mm]

Gewindemaf}
Linge [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf}
Lange [mm]

Gewindemaf
Lange [mm]

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303

M18x1,5
303



PEUGEOT 1007

MODEL

1007 (KM) 1.6 16V (80 KW / 109 HP)
1007 (KM_) 1.4 HDi (50 KW / 68 HP)
1007 (KM_) 1.4 16V (65 KW / 88 HP)
1007 (KM_) 1.6 HDi (80 KW / 109 HP)

1007 (KM_) 1.4 (54 KW / 75 HP)

PEUGEOT 206

MODEL

206 CC(2D) 1.6 HDi 110 (80 KW / 109 HP)

206 CC (2D) 2.0 S16 (100 KW / 136 HP)

206 CC(2D) 1.6 16V (80 KW / 109 HP)

206 Schragheck (2A/C) 1.4 Flex (60 KW / 82 HP)
206 Schriigheck (2A/C) 1.6 (81 KW / 110 HP)

206 Schragheck (2A/C) 1.6 Flex (83 KW / 113 HP)
206 Schriigheck (2A/C) 1.4 LPG (55 KW / 75 HP)
206 Schrégheck (2A/C) 2.0 S16 (99 KW / 135 HP)
206 Schriigheck (2A/C) 2.0 HDI 90 (66 KW / 90 HP)
206 Schragheck (2A/C) 1.6 16V (80 KW / 109 HP)
206 Schriigheck (2A/C) 1.4 CNG (55 KW / 75 HP)
206 Schrigheck (2A/C) 1.0 (48 KW / 65 HP)

206 Schriigheck (2A/C) 1.0 (52 KW / 70 HP)

206 Schragheck (2A/C) 1.6 16V (79 KW / 107 HP)
206 Schriigheck (2A/C) 1.4 HDi (51 KW / 69 HP)
206 Schragheck (2A/C) 1.4 HDi eco 70 (50 KW / 68 HP)
206 Schriigheck (2A/C) 2.0 RC (130 KW / 177 HP)
206 Schragheck (2A/C) 1.4 16V (65 KW / 88 HP)

206 Schragheck (2A/C) 1.6 HDi 110 (80 KW / 109 HP)

UG

YEAR

04.2005 -

04.2005 -

10.2005 -

06.2007 -

04.2005 -

YEAR

04.2005 -

09.2000 -

09.2000 -

01.2006 - 11.2009

05.2005 - 07.2008

05.2005 - 07.2008

05.2006 - 09.2007

04.1999 - 10.2000

12.1999 -

12.2000 -

05.2006 - 09.2007

09.2002 - 02.2007

06.2001 - 12.2005

06.2001 - 04.2005

09.2002 - 02.2007

09.2001 -

07.2003 -

10.2003 -

05.2004 -

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEM NUMBER

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

SKTR-0240092

ITEM NUMBER

SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

ITEM DETAILS

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1

253
M14x1,5/
M12x1



206 Schriigheck (2A/C) 2.0 S16 (100 KW / 136 HP)

206 Schragheck (2A/C) 1.6 Flex (81 KW /110 HP)

206 Schrigheck (2A/C) 1.6 8V (66 KW / 90 HP)

206 Schriigheck (2A/C) 1.4 Flex (59 KW / 80 HP)

206 Schragheck (2A/C) 2.0 RC (132 KW / 180 HP)

206 Schriigheck (2A/C) 1.1 i (44 KW / 60 HP)
206 Schragheck (2A/C) 1.4 i (55 KW / 75 HP)
206 Schriigheck (2A/C) 1.6 i (65 KW / 89 HP)
206 Schriigheck (2A/C) 1.9 D (51 KW / 69 HP)
206 Schriigheck (2A/C) 1.1 (40 KW / 54 HP)
206 Stufenheck 1.4 (55 KW / 75 HP)

206 Stufenheck 1.6 16V (80 KW / 109 HP)
206 Stufenheck 1.4 HDieco 70 (50 KW / 68 HP)
206 SW (2E/K) 1.6 LPG (80 KW / 109 HP)
206 SW (2E/K) 1.1 (44 KW / 60 HP)

206 SW (2E/K) 1.4 (55 KW / 75 HP)

206 SW (2E/K) 1.6 16V (80 KW / 109 HP)
206 SW (2E/K) 2.0 16V (100 KW / 136 HP)
206 SW (2E/K) 1.4 HDi (50 KW / 68 HP)

206 SW (2E/K) 1.4 LPG (55 KW / 75 HP)

206 SW (2E/K) 1.4 16V (65 KW / 88 HP)

206 SW (2E/K) 1.6 Flex (83 KW / 113 HP)
206 SW (2E/K) 1.6 (81 KW / 110 HP)

206 SW (2E/K) 1.6 HDi 110 (80 KW / 109 HP)
206 SW (2E/K) 2.0 HDi (66 KW / 90 HP)

206 SW (2E/K) 1.6 Flex (81 KW / 110 HP)
206 SW (2E/K) 1.4 Flex (59 KW / 80 HP)
206 Van 1.4 HDi (50 KW / 68 HP)

206 Van 1.9 D (51 KW / 69 HP)

206+ (T3E) 1.6 16V (80 KW / 109 HP)

206+ (T3E) 1.1 (44 KW / 60 HP)

206+ (T3E) 1.4 i (55 KW / 75 HP)

206+ (T3E) 1.4 HDi eco 70 (50 KW / 68 HP)

206+ (T3E) 1.4 i (54 KW /73 HP)

PEUGEOT 207

MODEL

207 (WA_, WC)) 1.4 Bioflex (60 KW / 82 HP)

06.1999 -

05.2005 - 07.2008

05.1999 - 10.2003

01.2006 - 11.2009

07.2003 -

09.1998 -

09.1998 -

09.1998 - 12.2000

09.1998 - 11.2001

08.1998 - 07.2000

03.2007 -

03.2007 -

09.2008 -

07.2002 -

07.2002 -

07.2002 -

07.2002 -

07.2002 -

07.2002 -

07.2002 -

10.2003 -

05.2005 - 07.2008

05.2005 - 07.2008

05.2004 -

07.2002 -

05.2005 - 07.2008

01.2006 - 07.2008

09.2001 - 03.2009

04.1999 - 05.2007

07.2010 -

01.2009 -

01.2009 -

01.2009 -

09.2010 -

YEAR

08.2008 -

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse

SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014

SKTR-0240014

ITEMNUMBER

SKTR-0240014




207 (WA_, WC) 1.6 Flex (83 KW / 113 HP)
207 (WA_, WC) 1.4 (53 KW / 72 HP)

207 (WA_, WC) 1.6 (81 KW / 110 HP)

207 Stufenheck 1.4 (54 KW / 73 HP)

207 Stufenheck 1.4 Flex (60 KW / 82 HP)
207 Stufenheck 1.6 Bioflex (83 KW / 113 HP)
207 SW (WK)) 1.4 (54 KW / 74 HP)

207 SW (WK 1.6 Flex (83 KW / 113 HP)

207 SW (WK)) 1.4 Flex (59 KW / 80 HP)

PEUGEOT 306

MODEL

306 (7B, N3, N5) 1.8 16V (86 KW / 117 HP)
306 (7B, N3, N5) 2.0 HDI 90 (66 KW / 90 HP)
306 (7B, N3, N5) 1.9 D (55 KW / 75 HP)

306 (7B, N3, N5) 1.4 (48 KW / 65 HP)

306 (7B, N3, N5) 2.0 (99 KW / 135 HP)

306 (7B, N3, N5) 1.1 (44 KW / 60 HP)

306 (7B, N3, N5) 1.4 SL (55 KW / 75 HP)
306 (7B, N3, N5) 1.8 ST (74 KW / 101 HP)
306 (7B, N3, N5) 1.9 D (51 KW / 69 HP)

306 (7B, N3, N5) 1.6 SR (65 KW / 89 HP)
306 (7B, N3, N5) 1.9 SRDT (66 KW / 90 HP)
306 (7B, N3, N5) 1.9 SLD (47 KW / 64 HP)
306 (7B, N3, N5) 2.0 ST (89 KW / 121 HP)
306 (7B, N3, N5) 2.0 516 (112 KW / 152 HP)
306 (7B, N3, N5) 2.0 516 (110 KW / 150 HP)
306 (7B, N3, N5) 1.9 SLD (50 KW / 68 HP)

306 (7B, N3, N5) 1.6 (72 KW / 98 HP)

08.2008 -

02.2006 -

08.2008 -

12.2007 -

11.2008 -

01.2008 -

06.2007 -

08.2008 -

08.2008 -

YEAR

10.1999 - 10.2003

06.1999 - 05.2001

03.1998 - 05.2001

04.1993 - 10.1994

05.1997 - 06.2000

06.1994 - 05.2001

06.1994 - 05.2001

06.1994 - 05.2001

09.1998 - 05.2001

06.1994 - 10.2000

06.1994 - 05.2001

06.1994 - 05.2001

07.1994 - 05.2001

06.1994 - 05.2001

06.1994 - 05.2001

06.1994 - 05.2001

10.2000 - 05.2001

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014
SKTR-0240014

SKTR-0240014

ITEMNUMBER

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]

Gewindemaf}

Lange [mm]

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/

M14X1.5
373

178



306 (7B, N3, N5) 1.8 D (44 KW / 60 HP)

306 (7B, N3, N5) 1.9 STD (51 KW / 69 HP)

306 (7B, N3, N5) 1.9 D (69 KW / 94 HP)

306 (7B, N3, N5) 1.8 16V (81 KW /110 HP)

306 (7B, N3, N5) 2.0 (97 KW / 132 HP)

306 (7B, N3, N5) 1.9 D (52 KW / 71 HP)

306 (7B, N3, N5) 1.9 Td (52 KW / 71 HP)

306 (7B, N3, N5) 1.8 16V (82 KW /112 HP)

306 (7B, N3, N5) 1.8 8V (75 KW /102 HP)

306 (7B, N3, N5) 1.8 (76 KW / 103 HP)

306 (7B, N3, N5) 1.8 (74 KW / 101 HP)

306 (7B, N3, N5) 1.6 (66 KW / 90 HP)

306 Break (7E, N3, N5) 2.0 HDI 90 (66 KW / 90 HP)

306 Break (7E, N3, N5) 1.9 D (55 KW / 75 HP)

306 Break (7E, N3, N5) 1.9 D (51 KW / 69 HP)

306 Break (7E, N3, N5) 1.9 D (51 KW / 69 HP)

306 Break (7E, N3, N5) 1.8 D (44 KW / 60 HP)

306 Break (7E, N3, N5) 1.6 (72 KW / 98 HP)

306 Break (7E, N3, N5) 1.4 (55 KW / 75 HP)

306 Break (7E, N3, N5) 1.9 TD (66 KW / 90 HP)

306 Break (7E, N3, N5) 1.9 D (50 KW / 68 HP)

306 Break (7E, N3, N5) 1.8 16V (81 KW /110 HP)

306 Break (7E, N3, N5) 1.8 (74 KW / 101 HP)

306 Break (7E, N3, N5) 1.6 (65 KW / 89 HP)

306 Break (7E, N3, N5) 1.8 16V (82 KW / 112 HP)

306 Break (7E, N3, N5) 2.0 (97 KW / 132 HP)

05.1997 - 06.2000

02.1994 - 10.1995

02.1994 - 04.1997

03.1997 - 05.2001

03.1997 - 05.2001

01.1999 - 08.2003

07.1995 - 08.2000

03.1997 - 07.2001

01.1998 - 09.1999

09.1997 - 12.2002

10.1995 - 04.1997

07.2000 - 05.2001

06.1999 - 04.2002

03.1998 - 04.2002

05.1997 - 05.1999

09.1998 - 04.2002

05.1997 - 06.2000

10.2000 - 04.2002

03.1997 - 04.2002

02.1997 - 04.2002

03.1997 - 04.2002

03.1997 - 04.2002

03.1997 - 04.2002

03.1997 - 10.2000

03.1997 - 07.2001

03.1997 - 04.2002

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf?
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Linge [mm]

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/

M14X1.5
373

179



306 Break (7E, N3, N5) 1.9 Td (52 KW / 71 HP)

306 Break (7E, N3, N5) 1.9 TD (67 KW / 92 HP)

306 Break (7E, N3, N5) 2.0 16V (99 KW / 135 HP)

306 Cabriolet (7D, N3, N5) 2.0 16V (99 KW / 135 HP)

306 Cabriolet (7D, N3, N5) 1.8 (74 KW / 101 HP)

306 Cabriolet (7D, N3, N5) 2.0 (89 KW / 121 HP)

306 Cabriolet (7D, N3, N5) 1.6 (72 KW / 98 HP)

306 Cabriolet (7D, N3, N5) 1.8 16V (81 KW / 110 HP)

306 Cabriolet (7D, N3, N5) 2.0 (90 KW / 123 HP)

306 Cabriolet (7D, N3, N5) 2.0 16V (97 KW / 132 HP)

306 Cabriolet (7D, N3, N5) 1.8 (74 KW / 101 HP)

306 Cabriolet (7D, N3, N5) 1.6 (65 KW / 89 HP)

306 Kasten/Schragheck 1.8 D (44 KW / 60 HP)

306 Kasten/Schrégheck 1.1 (44 KW / 60 HP)

306 Kasten/Schragheck 1.9 D (50 KW / 68 HP)

306 Kasten/Schrigheck 1.9 D (51 KW / 69 HP)

306 Kasten/Schragheck 1.9 STD (51 KW / 69 HP)

306 Kasten/Schragheck 1.4 (55 KW /75 HP)

306 Schriigheck (7A, 7C, N3, N5) 1.9 D (55 KW / 75 HP)

306 Schrigheck (7A, 7C, N3, N5) 1.8 D (44 KW / 60 HP)

306 Schriigheck (7A, 7C, N3, N5) 1.8 16V (86 KW / 117
HP)

306 Schrégheck (7A, 7C, N3, N5) 2.0 HDI 90 (66 KW /90

HP)

306 Schrigheck (7A, 7C, N3, N5) 2.0 S16 (110 KW / 150

HP)

306 Schriigheck (7A, 7C, N3, N5) 1.9 D (50 KW / 68 HP)

306 Schrigheck (7A, 7C, N3, N5) 1.9 D (51 KW / 69 HP)

306 Schragheck (7A, 7C, N3, N5) 2.0 16V (99 KW /135
HP)

07.1995 - 08.2000

01.1999 - 04.2002

03.1997 - 04.2002

03.1997 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

10.2000 - 04.2002

07.2000 - 04.2002

02.1995 - 11.1997

03.1997 - 04.2002

05.1997 - 04.1999

04.1996 - 10.2000

04.1993 - 05.1999

07.1993 - 12.1994

05.1997 - 05.1999

02.1999 - 08.2001

02.1994 - 10.1995

03.1996 - 07.2001

03.1998 - 05.2001

04.1993 - 05.1999

10.1999 - 10.2003

06.1999 - 05.2001

06.1994 - 05.2001

06.1994 - 05.2001

09.1998 - 05.2001

03.1997 - 06.2000

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373



306 Schrigheck (7A, 7C, N3, N5) 1.9 D (47 KW / 64 HP)

306 Schragheck (7A, 7C, N3, N5) 1.9 DT (66 KW / 90 HP)

306 Schrigheck (7A, 7C, N3, N5) 1.1 (44 KW / 60 HP)

306 Schriigheck (7A, 7C, N3, N5) 1.4 (55 KW / 75 HP)

306 Schrigheck (7A, 7C, N3, N5) 1.6 (65 KW / 89 HP)

306 Schriigheck (7A, 7C, N3, N5) 1.8 (74 KW / 101 HP)

306 Schragheck (7A, 7C, N3, N5) 2.0 XSi (89 KW / 121 HP)

306 Schragheck (7A, 7C, N3, N5) 2.0 S16 (112 KW / 152

HP)

306 Schragheck (7A, 7C, N3, N5) 1.6 (72 KW / 98 HP)

306 Schrigheck (7A, 7C, N3, N5) 1.8 D (43 KW / 58 HP)

306 Schragheck (7A, 7C, N3, N5) 1.9 D (51 KW / 69 HP)

306 Schriigheck (7A, 7C, N3, N5) 1.9 D (69 KW / 94 HP)

306 Schrigheck (7A, 7C, N3, N5) 2.0 S16 (120 KW / 163

HP)

306 Schragheck (7A, 7C, N3, N5) 1.8 16V (81 KW /110

HP)

306 Schrigheck (7A, 7C, N3, N5) 1.9 D (52 KW / 71 HP)

306 Schriigheck (7A, 7C, N3, N5) 1.9 Td (52 KW / 71 HP)

306 Schragheck (7A, 7C, N3, N5) 1.8 16V (82 KW / 112

HP)

306 Schragheck (7A, 7C, N3, N5) 1.8 8V (75 KW / 102 HP)

306 Schragheck (7A, 7C, N3, N5) 2.0 16V (97 KW / 132

HP)

306 Schrigheck (7A, 7C, N3, N5) 1.8 (74 KW / 101 HP)

306 Schriigheck (7A, 7C, N3, N5) 1.6 (66 KW / 90 HP)

306 Van (N, 7.) 1.9 D (51 KW / 69 HP)

306 Van (N, 7_) 1.4 (55 KW / 75 HP)

306 Van (N_, 7_) 2.0 HDi (66 KW / 90 HP)

306 Van (N, 7_) 1.8 D (44 KW / 60 HP)

05.1993 - 05.2001

05.1993 - 05.2001

05.1993 - 05.2001

05.1993 - 05.2001

05.1993 - 10.2000

05.1993 - 05.2001

05.1993 - 05.2001

05.1993 - 05.2001

10.2000 - 05.2001

05.1993 - 05.2001

04.1993 - 05.1999

04.1993 - 04.1997

03.1996 - 05.2001

03.1997 - 05.2001

01.1999 - 08.2003

07.1995 - 08.2000

03.1997 - 10.2003

01.1998 - 09.1999

03.1997 - 05.2001

05.1997 - 04.1999

07.2000 - 05.2001

02.1999 - 08.2002

03.1996 - 07.2001

08.1998 - 06.2000

05.1997 - 06.2000

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

SKTR-0240063

Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf?
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373



306 Van (N, 7_) 1.9 D (69 KW / 94 HP)

306 Van (N, 7_) 1.9 STD (51 KW / 69 HP)

PEUGEOT 307

MODEL

307 (3A/C) 2.0 Flex (111 KW / 151 HP)
307 (3A/C) 1.6 16V (80 KW / 109 HP)

307 (3A/C) 2.0 16V (100 KW / 136 HP)
307 (3A/C) 2.0 HDi 90 (66 KW / 90 HP)
307 (3A/C) 2.0 HDi 110 (79 KW / 107 HP)
307 (3A/C) 1.6 (85 KW / 115 HP)

307 (3A/C) 1.4 (55 KW / 75 HP)

307 (3A/C) 1.4 16V (65 KW / 88 HP)

307 (3A/C) 1.6 HDi 110 (80 KW / 109 HP)
307 (3A/C) 2.0 16V (130 KW / 177 HP)
307 (3A/C) 1.6 Flex (83 KW / 113 HP)

307 (3A/C) 2.0 (105 KW / 143 HP)

307 (3A/C) 1.6 HDi (66 KW / 90 HP)

307 (3A/C) 1.4 HDi (50 KW / 68 HP)

307 (3A/C) 2.0 HDi 135 (100 KW / 136 HP)
307 (3A/C) 1.6 BioFlex (80 KW / 109 HP)
307 (3A/C) 1.6 (81 KW / 110 HP)

307 (3A/C) 2.0 16V (103 KW / 140 HP)
307 Break (3E) 1.4 HDi (50 KW / 68 HP)

307 Break (3E) 2.0 (100 KW / 136 HP)

02.1994 - 04.1999

02.1994 - 05.1999

YEAR

08.2008 -

08.2000 -

08.2000 -

08.2000 -

08.2000 -

08.2005 - 12.2009

08.2000 -

11.2003 -

02.2004 -

06.2005 -

07.2006 -

08.2008 -

04.2005 -

10.2001 -

10.2003 -

09.2007 -

07.2006 -

03.2005 -

03.2002 -

03.2002 -

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240063

SKTR-0240063

ITEMNUMBER

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240025

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

M12X1/
M14X1.5
373

M12X1/
M14X1.5
373

340
M14x1,5

340
M14 x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

359
M14x1,5/
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14 x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14 x1,5

340
M14 x1,5



307 Break (3E) 1.6 HDi 110 (80 KW / 109 HP)

307 Break (3E) 2.0 HDi 135 (100 KW / 136 HP)

307 Break (3E) 2.0 16V (130 KW / 177 HP)

307 Break (3E) 2.0 HDI 110 (79 KW / 107 HP)

307 Break (3E) 1.4 (55 KW / 75 HP)

307 Break (3E) 1.6 BioFlex (80 KW / 109 HP)

307 Break (3E) 1.6 HDi (66 KW / 90 HP)

307 Break (3E) 2.0 16V (103 KW / 140 HP)

307 Break (3E) 1.4 16V (65 KW / 88 HP)

307 Break (3E) 1.6 16V (80 KW / 109 HP)

307 Break (3E) 2.0 HDI 90 (66 KW / 90 HP)

307 CC (3B) 2.0 Flex (109 KW / 148 HP)

307 CC(3B) 2.0 HDi 135 (100 KW / 136 HP)

307 CC(3B) 1.6 16V (80 KW /110 HP)

307 CC (3B) 2.0 16V (103 KW / 140 HP)

307 CC(3B) 2.0 16V (100 KW / 136 HP)

307 CC (3B) 2.0 16V (130 KW / 177 HP)

307 Stufenheck 2.0 (105 KW / 143 HP)

307 Stufenheck 2.0 HDi (66 KW / 90 HP)

307 Stufenheck 1.6 Flex (83 KW / 113 HP)

307 Stufenheck 2.0 HDi (80 KW / 109 HP)

307 Stufenheck 2.0 Flex (111 KW / 151 HP)

307 Stufenheck 1.6 (81 KW / 110 HP)

307 Stufenheck 2.0 Flex (105 KW / 143 HP)

307 SW (3H) 2.0 Flex (109 KW / 148 HP)

307 SW (3H) 1.4 16V (65 KW / 88 HP)

02.2004 -

02.2004 -

06.2005 -

03.2002 -

04.2002 - 09.2003

09.2007 -

04.2005 -

03.2005 -

11.2003 -

03.2002 -

03.2002 -

01.2005 -

06.2005 -

02.2005 -

03.2005 -

10.2003 -

10.2003 -

08.2008 -

09.2006 - 10.2010

08.2006 -

09.2006 - 03.2012

12.2007 -

08.2006 -

08.2008 -

07.2004 - 04.2008

11.2003 -

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

340
M14 x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14 x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14x1,5

340
M14 x1,5

340
M14x1,5

340
M14 x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14x1,5



307 SW (3H) 1.6 HDI 110 (80 KW / 109 HP)
307 SW (3H) 2.0 HDi 135 (100 KW / 136 HP)
307 SW (3H) 1.4 HDi (51 KW / 69 HP)

307 SW (3H) 1.4 (55 KW / 75 HP)

307 SW (3H) 1.6 HDI 90 (66 KW / 90 HP)
307 SW (3H) 1.4 HDi 70 (50 KW / 68 HP)
307 SW (3H) 1.6 BioFlex (80 KW / 109 HP)
307 SW (3H) 2.0 16V (103 KW / 140 HP)
307 SW (3H) 1.6 16V (80 KW / 109 HP)

307 SW (3H) 2.0 16V (100 KW / 136 HP)
307 SW (3H) 2.0 HDI 90 (66 KW / 90 HP)

307 SW (3H) 2.0 HDI 110 (79 KW / 107 HP)

PEUGEOT 406

MODEL

406 (8B) 1.8 (66 KW / 90 HP)
406 (8B) 2.0 16V (99 KW / 135 HP)

406 (8B) 1.6 (65 KW / 88 HP)

406 (8B) 1.8 16V (81 KW / 110 HP)

406 (8B) 2.0 16V (97 KW / 132 HP)

406 (8B) 1.9 D (55 KW / 75 HP)

406 (8B) 2.0 16V HPi (103 KW / 140 HP)
406 (8B) 2.0 HDi 110 (79 KW / 107 HP)
406 (3B) 1.8 Bifuel (81 KW / 110 HP)
406 (8B) 3.0 V6 (152 KW / 207 HP)

406 (8B) 1.9 TD (69 KW / 94 HP)

406 (8B) 3.0 24V (140 KW / 190 HP)

02.2004 -

02.2004 -

04.2002 - 06.2005

04.2002 - 09.2003

12.2006 -

03.2002 - 06.2005

09.2007 -

03.2005 -

03.2002 -

03.2002 -

03.2002 -

03.2002 -

YEAR

05.1997 - 05.2004

01.1999 - 08.2000

11.1995 - 05.2004

11.1995 - 10.2000

11.1995 - 05.2004

10.1996 - 05.2004

05.2001 - 05.2004

08.2001 - 05.2004

04.1999 - 05.2003

03.2000 - 05.2004

10.1995 - 10.1997

10.1996 - 05.2004

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

SKTR-0240012

ITEM NUMBER

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]

Aulengewinde
[mm]

ITEM DETAILS

340
M14x1,5

340
M14x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5

340
M14x1,5

340
M14x1,5

340
M14 x1,5

340
M14x1,5

340
M14x1,5



406 (8B) 1.8 16V (85 KW / 116 HP)

406 (8B) 2.0 16V (100 KW / 136 HP)

406 (8B) 1.9 TD (66 KW / 90 HP)

406 (8B) 2.0 HDI 90 (66 KW / 90 HP)

406 (8B) 1.8 (74 KW /101 HP)

406 (8B) 2.0 (104 KW / 141 HP)

406 (8B) 2.2 (116 KW / 158 HP)

406 (8B) 2.1 TD 12V (80 KW / 109 HP)

406 (8B) 2.2 HDi (98 KW / 133 HP)

406 (8B) 2.0 Turbo (108 KW / 147 HP)

406 (8B) 2.0 HDI 110 (80 KW / 109 HP)

406 (8B) 1.9 TD (68 KW / 92 HP)

406 Break (SE/F) 1.8 (66 KW / 90 HP)

406 Break (8E/F) 2.0 16V (99 KW / 135 HP)

406 Break (8E/F) 1.8 (74 KW / 101 HP)

406 Break (8E/F) 2.0 (104 KW / 141 HP)

406 Break (8E/F) 2.0 16V HPi (103 KW / 140 HP)

406 Break (8E/F) 2.0 HDi 110 (79 KW / 107 HP)

406 Break (8E/F) 3.0 V6 (152 KW / 207 HP)

406 Break (8E/F) 1.9 D (55 KW / 75 HP)

406 Break (8E/F) 1.8 16V (81 KW /110 HP)

406 Break (8E/F) 1.9 TD (66 KW / 90 HP)

406 Break (8E/F) 2.1 TD 12V (80 KW / 109 HP)

406 Break (8E/F) 2.0 Turbo (108 KW / 147 HP)

406 Break (8E/F) 2.0 16V (97 KW / 132 HP)

406 Break (8E/F) 3.0 24V (140 KW / 190 HP)

406 Break (8E/F) 1.8 16V (85 KW /116 HP)

406 Break (8E/F) 2.0 16V (100 KW / 136 HP)

406 Break (8E/F) 2.0 HDI 90 (66 KW / 90 HP)

10.2000 - 05.2004

08.2000 - 06.2004

01.1996 - 05.2004

02.1999 - 05.2004

10.1996 - 03.1999

11.1996 - 03.1999

07.2000 - 05.2004

01.1996 - 05.2004

03.2000 - 05.2004

04.1996 - 05.2004

06.1998 - 08.2001

01.1996 - 05.2004

05.1997 - 10.2004

01.1999 - 10.2000

10.1996 - 03.1999

11.1996 - 03.1999

05.2001 - 10.2004

08.2001 - 10.2004

03.2000 - 10.2004

10.1996 - 10.2004

10.1996 - 10.2000

10.1996 - 10.2004

10.1996 - 10.2004

10.1996 - 10.2004

10.1996 - 10.2004

10.1996 - 10.2004

10.2000 - 10.2004

10.2000 - 10.2004

02.1999 - 10.2004

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094




406 Break (8E/F) 2.2 (116 KW / 158 HP)
406 Break (8E/F) 2.2 HDI (98 KW / 133 HP)
406 Break (8E/F) 2.0 HDI 110 (80 KW / 109 HP)
406 Coupe (8C) 2.0 16V (99 KW / 135 HP)

406 Coupe (8C) 2.2 (116 KW / 158 HP)

406 Coupe (8C) 3.0 V6 (152 KW / 207 HP)

406 Coupe (8C) 2.0 16V (99 KW / 135 HP)

406 Coupe (8C) 2.0 16V (97 KW / 132 HP)

406 Coupe (8C) 2.0 16V (100 KW / 136 HP)
406 Coupe (8C) 3.0 V6 24V (140 KW / 190 HP)

406 Coupe (8C) 2.2 HDI (98 KW / 133 HP)

PEUGEOT 605

MODEL

605 (6B) 2.0 (79 KW / 107 HP)
605 (6B) 3.0 V6 (140 KW / 190 HP)

605 (6B) 3.0 (123 KW / 167 HP)

605 (6B) 3.0 (147 KW / 200 HP)

605 (6B) 2.1 TD 12V (80 KW / 109 HP)
605 (6B) 2.0 (84 KW / 114 HP)

605 (6B) 2.1 Turbo Diesel (80 KW / 109 HP)
605 (6B) 2.0 (89 KW / 121 HP)

605 (6B) 2.0 Turbo (104 KW / 141 HP)

605 (6B) 3.0 (123 KW / 167 HP)

605 (6B) 3.0 SV 24 (147 KW / 200 HP)

605 (6B) 2.1 D (60 KW / 82 HP)

605 (6B) 2.0 Turbo (108 KW / 147 HP)

07.2000 - 10.2004

03.2000 - 10.2004

02.1999 - 04.2004

01.1999 - 10.2000

03.2002 - 12.2004

03.2000 - 12.2004

04.1999 - 09.2004

03.1997 - 12.2004

10.2000 - 12.2004

03.1997 - 12.2004

03.2000 - 12.2004

YEAR

02.1990 - 09.1999

04.1997 - 09.1999

08.1989 - 06.1994

08.1989 - 06.1994

08.1994 - 09.1999

06.1989 - 09.1999

06.1989 - 09.1999

06.1989 - 09.1999

07.1992 - 09.1999

10.1989 - 09.1999

08.1989 - 09.1999

06.1989 - 07.1995

07.1991 - 09.1999

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

SKTR-0240094

ITEM NUMBER

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

SKTR-0240133

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf

Linge [mm]

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/

M16X1.5
310,5

186



605 (6B) 2.0 16V (97 KW / 132 HP)
605 (6B) 2.5 Turbo Diesel (95 KW / 129 HP)

605 (6B) 3.0 V6 (142 KW / 194 HP)

PEUGEOT 806

MODEL

806 (221) 1.9 TD (68 KW / 92 HP)
806 (221) 2.0 HDI 16V (80 KW / 109 HP)
806 (221) 2.0 HDI (80 KW / 109 HP)

806 (221) 1.8 (73 KW / 99 HP)

806 (221) 1.9 TD (66 KW / 90 HP)

806 (221) 2.0 Turbo (108 KW / 147 HP)
806 (221) 2.0 (89 KW / 121 HP)

806 (221) 2.0 16V (97 KW / 132 HP)
806 (221) 2.0 16V (100 KW / 136 HP)

806 (221) 2.1 td 12V (80 KW / 109 HP)

PEUGEOT 807

MODEL

807 (E) 2.2 HDi (125 KW / 170 HP)
807 (E) 2.0 (100 KW / 136 HP)
807 (E) 2.2 (116 KW / 158 HP)
807 (E) 3.0 V6 (150 KW / 204 HP)
807 (E) 2.0 HDi (79 KW / 107 HP)

807 (E) 2.2 HDi (94 KW / 128 HP)

07.1994 - 09.1999

07.1994 - 09.1999

01.1992 - 09.1999

YEAR

05.1997 - 08.2002

08.1999 - 08.2002

08.1999 - 08.2002

07.1995 - 08.2002

07.1995 - 08.2002

06.1994 - 08.2002

06.1994 - 08.2002

05.1998 - 09.2000

09.2000 - 08.2002

06.1996 - 08.1999

YEAR

06.2006 -

06.2002 -

06.2002 -

06.2002 -

06.2002 -

06.2002 -

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240133

SKTR-0240133

SKTR-0240133

ITEM NUMBER

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

ITEM NUMBER

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
AuRengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

M12X1/
M16X1.5
310,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

M14X1.5/
M14X1.5
325

M14X1.5 /
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325



807 (E) 2.0 HDI (100 KW / 136 HP)

807 (E) 2.0 16V (103 KW / 140 HP)
807 (E) 2.2 HDi (120 KW / 163 HP)
807 (E) 2.0 HDi (80 KW / 109 HP)

807 (E) 2.0 HDi (120 KW / 163 HP)

807 (E) 2.0 HDi (88 KW / 120 HP)

PEUGEOT BOXER

MODEL

BOXER Bus (230P) 2.8 HDi (93 KW / 126 HP)

BOXER Bus (230P) 2.5 DT (62 KW / 84 HP)

BOXER Bus (230P) 2.8 HDI (94 KW / 128 HP)

BOXER Bus (230P) 2.8 DTiC (90 KW / 122 HP)

BOXER Bus (230P) 2.8 HDi Allrad (93 KW / 126 HP)

BOXER Bus (230P) 2.0 i (80 KW / 109 HP)

BOXER Bus (230P) 2.5 D (63 KW / 86 HP)

BOXER Bus (230P) 1.9 TD (66 KW / 90 HP)

BOXER Bus (230P) 1.9 TD (68 KW / 92 HP)

BOXER Bus (230P) 2.5 TD (76 KW / 103 HP)

BOXER Bus (230P) 2.8 D (64 KW / 87 HP)

BOXER Bus (230P) 2.0 i 4x4 (80 KW / 109 HP)

BOXER Bus (230P) 2.8 HDi 4x4 (94 KW / 128 HP)

BOXER Bus (230P) 2.5 TDI (79 KW / 107 HP)

06.2006 -

09.2005 -

06.2006 -

04.2004 - 05.2006

06.2009 -

02.2006 -

YEAR

10.2000 - 11.2001

10.1997 - 11.2001

11.2000 - 04.2002

10.1997 - 09.2000

10.2000 - 11.2001

03.1994 - 04.2002

08.1994 - 04.2002

08.1994 - 04.2002

03.1994 - 04.2002

07.1994 - 04.2002

01.1999 - 02.2002

08.1996 - 04.2002

10.2000 - 04.2002

01.1997 - 04.2002

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

SKTR-0240044

ITEM NUMBER

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036
SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5 /
M14X1.5
325

M14X1.5/
M14X1.5
325

M14X1.5/
M14X1.5
325

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5



BOXER Bus (230P) 2.5 TDI 4x4 (79 KW / 107 HP)

BOXER Bus (230P) 1.9 D (51 KW / 69 HP)

BOXER Bus (230P) 1.9 TD 4x4 (68 KW / 92 HP)

BOXER Bus (230P) 2.5 D 4x4 (63 KW / 86 HP)

BOXER Bus (230P) 2.5 TD 4x4 (76 KW / 103 HP)

BOXER Bus (244, Z) 2.0 (81 KW /110 HP)

BOXER Bus (244, Z ) 2.0 HDi (62 KW / 84 HP)

BOXER Bus (244, Z ) 2.2 HDi (74 KW / 101 HP)

BOXER Bus (244, Z ) 2.8 HDi (94 KW / 128 HP)

BOXER Bus (244, Z ) 2.0 BiFuel (81 KW / 110 HP)

BOXER Bus (244, Z ) 2.8 HDi (107 KW / 145 HP)

BOXER Bus (244, Z) 2.8 HDi 4x4 (94 KW / 128 HP)

BOXER Bus (244, Z ) 2.8 HDi (90 KW / 122 HP)

BOXER Kasten (230L) 2.0 HDI (62 KW / 84 HP)

BOXER Kasten (230L) 2.5 TDI 4x4 (79 KW / 107 HP)

BOXER Kasten (230L) 2.5 D 4x4 (63 KW / 86 HP)

BOXER Kasten (230L) 1.9 D (51 KW / 69 HP)

BOXER Kasten (230L) 1.9 TD (68 KW / 92 HP)

BOXER Kasten (230L) 2.5 D (63 KW / 86 HP)

BOXER Kasten (230L) 2.5 TD (76 KW / 103 HP)

BOXER Kasten (230L) 2.8 HDi (93 KW / 126 HP)

BOXER Kasten (230L) 2.0 i (80 KW / 109 HP)

01.1997 - 04.2002

03.1994 - 04.2002

07.1996 - 04.2002

07.1996 - 04.2002

07.1996 - 04.2002

04.2002 -

04.2002 -

04.2002 -

04.2002 -

12.2001 - 06.2006

04.2004 -

04.2002 -

03.2002 - 08.2005

08.2001 - 04.2002

07.1999 - 04.2002

07.1999 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

10.2000 - 11.2001

06.1994 - 04.2002

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
innen

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036
SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5



BOXER Kasten (230L) 2.8 HDI (94 KW / 128 HP)

BOXER Kasten (230L) 2.8 DTiC (90 KW / 122 HP)

BOXER Kasten (230L) 2.8 HDi 4x4 (93 KW / 126 HP)

BOXER Kasten (230L) 1.9 D (50 KW / 68 HP)

BOXER Kasten (230L) 1.9 TD (66 KW / 90 HP)

BOXER Kasten (230L) 2.8 D (64 KW / 87 HP)

BOXER Kasten (230L) 2.0 4x4 (80 KW / 109 HP)

BOXER Kasten (230L) 2.5 DT (62 KW / 84 HP)

BOXER Kasten (230L) 1.9 DT 4x4 (66 KW / 90 HP)

BOXER Kasten (230L) 2.8 HDi 4x4 (94 KW / 128 HP)

BOXER Kasten (230L) 2.5 TDI (79 KW / 107 HP)

BOXER Kasten (244) 2.0 BiFuel (81 KW /110 HP)

BOXER Kasten (244) 2.0 HDi (62 KW / 84 HP)

BOXER Kasten (244) 2.8 HDi (94 KW / 128 HP)

BOXER Kasten (244) 2.2 HDi (74 KW / 101 HP)

BOXER Kasten (244) 2.0 (81 KW / 110 HP)

BOXER Kasten (244) 2.8 HDi 4x4 (94 KW / 128 HP)

BOXER Kasten (244) 2.8 HDi (107 KW / 146 HP)

BOXER Kasten (244) 2.8 HDi (93 KW / 126 HP)

BOXER Pritsche/Fahrgestell (244) 2.0 HDi (62 KW / 84 HP)

BOXER Pritsche/Fahrgestell (244) 2.8 HDi (94 KW / 128 HP)

BOXER Pritsche/Fahrgestell (244) 2.2 HDi (74 KW / 101 HP)

11.2000 - 04.2002

10.1997 - 09.2000

10.2000 - 11.2001

07.1999 - 04.2002

07.1999 - 04.2002

01.1999 - 02.2002

03.1996 - 09.1998

10.1997 - 11.2001

03.1996 - 09.1998

10.2000 - 04.2002

01.1997 - 04.2002

12.2001 - 06.2006

04.2002 -

04.2002 -

04.2002 -

04.2002 -

04.2002 -

04.2004 -

09.2005 - 09.2009

04.2002 -

04.2002 -

04.2002 -

Vorderachse /
Vorderachse
beidseitig

Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
innen

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf’

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5



BOXER Pritsche/Fahrgestell (244) 2.8 HDi 4x4 (94 KW /
128 HP)

BOXER Pritsche/Fahrgestell (244) 2.8 HDi (107 KW / 146
HP)

BOXER Pritsche/Fahrgestell (244) 2.0 BiFuel (81 KW /110
HP)

BOXER Pritsche/Fahrgestell (244) 2.8 TD (90 KW / 122 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 1.9 TD (68 KW / 92 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 1.9 TD (66 KW / 90 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 2.5 TDI 4x4 (79 KW /
107 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 2.5 D 4x4 (63 KW / 86
HP)

BOXER Pritsche/Fahrgestell (ZCT_) 2.5 D (63 KW / 86 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 2.5 TD (76 KW / 103 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 2.0 i (80 KW / 109 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 2.5 TDI (79 KW / 107 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 2.8 HDI (94 KW / 128 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 2.8 HDi Allrad (93 KW /

126 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 2.8 HDi (93 KW / 126 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 2.8 D (64 KW / 87 HP)

BOXER Pritsche/Fahrgestell (ZCT_) 2.0 (81 KW / 110 HP)

PEUGEOT EXPERT

MODEL

EXPERT (224) 2.0 (100 KW / 136 HP)
EXPERT (224) 2.0 HDI (80 KW / 109 HP)

EXPERT (224) 1.9 D (69 KW / 94 HP)

04.2002 -

04.2004 -

12.2001 - 06.2006

12.2001 - 03.2005

07.1994 - 04.2002

06.1994 - 04.2002

07.1999 - 04.2002

07.1999 - 04.2002

03.1994 - 04.2002

03.1994 - 04.2002

06.1994 - 04.2002

01.1997 - 04.2002

11.2000 - 04.2002

10.2000 - 11.2001

10.2000 - 11.2001

01.1999 - 02.2002

12.2001 - 04.2002

YEAR

07.2000 - 12.2006

07.2000 - 12.2006

10.1995 - 05.1998

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
innen

Vorderachse

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
Vorderachse
beidseitig

Vorderachse /
beidseitig

Vorderachse /
Vorderachse
beidseitig

FITTING POSITION

Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036
SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

SKTR-0240036

ITEM NUMBER

SKTR-0240031

SKTR-0240031

SKTR-0240031

Gewindemaf} M16x1,5
Gewindemaf M16x1,5
Gewindemaf M16x1,5
Gewindemaf M16x1,5
Gewindemaf} M16x1,5
Gewindemaf} M16x1,5
Gewindemaf M16x1,5
Gewindemaf} M16x1,5
Gewindemaf} M16x1,5
Gewindemaf M16x1,5
Gewindemaf3 M16x1,5
Gewindemaf} M16x1,5
Gewindemaf M16x1,5
Gewindemaf3 M16x1,5
Gewindemaf} M16x1,5
Gewindemaf M16x1,5
Gewindemaf} M16x1,5
ITEM DETAILS

Lange [mm] 320,0
Aufdengewinde M14x1,5
[mm]

Lange [mm] 320,0
Aufdengewinde M14x1,5
[mm]

Lange [mm] 320,0
Auflengewinde M14x1,5

[mm]



EXPERT (224) 1.9 TD (66 KW / 90 HP)

EXPERT (224) 2.0 HDI 16V (80 KW / 109 HP)

EXPERT (224) 1.8 (74 KW / 101 HP)

EXPERT (224) 1.9 TD (68 KW / 92 HP)

EXPERT (224) 1.9 D (51 KW / 70 HP)

EXPERT (224) 1.6 (58 KW / 79 HP)

EXPERT (224) 1.9 D (51 KW / 69 HP)

EXPERT (224) 2.0 HDi (69 KW / 94 HP)

EXPERT Kasten (222) 2.0 HDI (69 KW / 94 HP)

EXPERT Kasten (222) 1.6 (58 KW / 79 HP)

EXPERT Kasten (222) 1.9 D (51 KW / 70 HP)

EXPERT Kasten (222) 1.9 TD (66 KW / 90 HP)

EXPERT Kasten (222) 1.9 TD (68 KW / 92 HP)

EXPERT Kasten (222) 2.0 HDI (80 KW / 109 HP)

EXPERT Kasten (222) 2.0 (100 KW / 136 HP)

EXPERT Kasten (222) 2.0 HDI (80 KW / 109 HP)

EXPERT Kasten (222) 1.8 (74 KW / 101 HP)

EXPERT Kasten (222) 1.9 D 70 (51 KW / 69 HP)

EXPERT Pritsche/Fahrgestell (223) 1.6 (58 KW / 79 HP)

EXPERT Pritsche/Fahrgestell (223) 1.9 D (51 KW / 70 HP)

EXPERT Pritsche/Fahrgestell (223) 1.9 TD (66 KW / 90 HP)

EXPERT Pritsche/Fahrgestell (223) 1.9 TD (68 KW / 92 HP)

EXPERT Pritsche/Fahrgestell (223) 1.9 D (51 KW / 69 HP)

EXPERT Pritsche/Fahrgestell (223) 2.0 HDi (69 KW / 94 HP)

EXPERT Pritsche/Fahrgestell (223) 2.0 HDi (80 KW / 109
HP)

02.1996 - 09.2000

07.2000 - 12.2006

10.1996 - 09.2000

02.1996 - 05.1998

02.1996 - 12.1998

02.1996 - 09.2000

12.2003 - 12.2006

10.2000 - 10.2006

07.2000 - 12.2006

02.1996 - 09.2000

02.1996 - 12.1998

02.1996 - 09.2000

02.1996 - 05.1998

07.2000 - 12.2006

09.2002 - 12.2006

07.2000 - 12.2006

10.1996 - 09.2000

12.1998 - 12.2006

02.1996 - 09.2000

02.1996 - 12.1998

02.1996 - 09.2000

02.1996 - 05.1998

06.1998 - 09.2001

10.2000 - 10.2006

10.2000 - 10.2006

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

SKTR-0240031

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5

320,0
M14x1,5



RENAULT

RENAULT CLIO

MODEL
CLIO Il (BBO/1/2_, CBO/1/2_) 1.2 LPG (43 KW / 58 HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.5 dCi (B/CB3M) (47 KW / 64
HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.0 (43 KW / 58 HP)

CLIO 1l (BBO/1/2_, CBO/1/2_) 1.2 (BBOA, BBOF, BB10,
BB1K, BB28, BB2D, BB2H, CBOA..) (43 KW / 58 HP)

CLIO 11 (BBO/1/2_, CBO/1/2_) 1.4 (B/CBOC) (55 KW / 75 HP)
CLIO 1 (BBO/1/2_, CBO/1/2_) 1.6 (B/CBOD) (66 KW / 90 HP)
CLIO n(8BO/1/2_, CBO/1/2_) 1.6 16V (BBO1, BBOH, BBOT,

BB14, BB1D, BB1R, BB2KL..) (79 KW / 107 HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.9 D (B/CBOE) (47 KW / 64
HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.9 D (B/CBOJ) (48 KW / 65
HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.2 (55 KW / 75 HP)
CLIO I (BBO/1/2_, CBO/1/2_) 1.5 dCi (B/CBO3) (59 KW / 80
HP)

CLIO I (BBO/1/2_, CBO/1/2_) 1.2 (BBOA, CBOA) (44 KW /
60 HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.5 dCi (B/C2J) (50 KW / 68
HP)

CLIO Il (8BO/1/2_, CBO/1/2_) 2.0 16V Sport (CBOM) (124
KW / 169 HP)

CLIO Il (8B0/1/2_, CBO/1/2_) 1.4 16V (B/CBOL) (70 KW /
95 HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.5 dCi (42 KW / 57 HP)
CLIO 1l (BBO/1/2_, CBO/1/2_) 1.6 Flex (81 KW / 110 HP)
CLIO 1l (BBO/1/2_, CBO/1/2_) 1.6 (81 KW / 110 HP)

CLIO 11 (BBO/1/2_, CBO/1/2_) 1.2 16V (54 KW / 73 HP)

CLIO 11 (BBO/1/2_, CBO/1/2_) 1.6 16V (82 KW / 112 HP)

YEAR

09.1998 - 06.2009

06.2005 -

09.1999 - 12.2006

09.1998 -

09.1998 - 05.2005

09.1998 - 05.2005

09.1998 -

09.1998 - 05.2005

02.2000 - 05.2001

06.2001 -

06.2001 - 10.2003

03.1999 - 05.2001

08.2004 -

02.2000 -

10.1999 - 09.2004

06.2001 - 12.2006

05.2000 - 12.2006

11.2004 - 02.2009

06.2006 -

10.2001 - 12.2008

RENAULT

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

rechts

Vorderachse

Vorderachse

Vorderachse

rechts

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEM NUMBER

SKTR-0240048

SKTR-0240006

SKTR-0240006

SKTR-0240048

SKTR-0240048

SKTR-0240048

SKTR-0240048

SKTR-0240048

SKTR-0240006

SKTR-0240058

SKTR-0240006

SKTR-0240048

SKTR-0240006

SKTR-0240058

SKTR-0240048

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Lange [mm]
Auf3engewinde
[mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Linge [mm]
AuBengewinde
[mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M12x1,0 /
M14x1,5
218

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12x1,0 /
M14x1,5
218

M12x1,0 /
M14x1,5
218

M12x1,0/
M14x1,5
218

M12x1,0 /
M14x1,5
218

M12x1,0 /
M14x1,5
218

M12X1/
M14X1.5
317

255
M14x1,5/
M14x1,5

M12X1/
M14X1.5
317

M12x1,0 /
M14x1,5
218

M12X1/
M14X1.5
317

255
M14x1,5/
M14x1,5

M12x1,0 /
M14x1,5
218

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317



CLIO Il (BBO/1/2_, CBO/1/2_) 1.6 Hi-Flex (CBOH) (86 KW /
117 HP)

CLIO 1l (BBO/1/2_, CBO/1/2_) 1.0 (52 KW / 71 HP)
CLIO Il (BBO/1/2_, CBO/1/2_) 1.4 16V (B/CBOP) (72 KW /
98 HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.5 dCi (74 KW / 100 HP)
CLIO Il (BBO/1/2_, CBO/1/2_) 2.0 16V Sport (132 KW / 179
HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 3.0 V6 Sport (CB1A) (166 KW
/226 HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.5 dCi (B/CB3N) (62 KW / 84
HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.6 Flex (85 KW / 115 HP)
CLIO Il (BBO/1/2_, CBO/1/2_) 1.2 16V (BBOS, BBOW, BB11,
BB27, BB2T, BB2U, BB2V, CB05..) (55 KW / 75 HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.0 (40 KW / 54 HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.5 dCi (B/CBO7) (48 KW / 65
HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.5 dCi (B/CBO8) (60 KW / 82
HP)

CLIO Il (BBO/1/2_, CBO/1/2_) 1.9 dTi (B/CBOU) (59 KW / 80
HP)

CLIO 1 (BBO/1/2_, CBO/1/2_) 3.0 V6 Sport (CB1H, CB1U,

CB2S) (187 KW / 254 HP)

CLIO Il Kasten (SB0/1/2_) 1.6 (SBOH) (79 KW / 107 HP)

CLIO Il Kasten (SB0/1/2_) 1.5 dCi (60 KW / 82 HP)

CLIO Il Kasten (SB0/1/2_) 1.9 DTi (SBOU) (59 KW / 80 HP)

CLIO Il Kasten (SB0/1/2_) 1.5 dCi (59 KW / 80 HP)

CLIO Il Kasten (SB0/1/2_) 1.9 D (SBOE) (47 KW / 64 HP)

CLIO Il Kasten (SB0/1/2_) 1.1 (SBOA, SBOF, SB1K, SB2D) (43

KW / 58 HP)

CLIO Il Kasten (SB0/1/2_) 1.9 D (SBOJ) (48 KW / 65 HP)

CLIO Il Kasten (SBO/1/2_) 1.2 (SBOA, SBOF, SB10) (44 KW /

60 HP)

CLIO Il Kasten (SB0/1/2_) 1.5 dCi (50 KW / 68 HP)

CLIO Il Kasten (SB0/1/2_) 1.9 D (SBOR) (40 KW / 54 HP)

CLIO Il Kasten (SBO/1/2_) 1.5 dCi (SBO7) (48 KW / 65 HP)

01.2005 - 02.2010

06.2001 - 04.2005

08.2000 -

01.2004 -

01.2004 -

11.2000 - 12.2002

02.2007 -

11.2004 - 02.2009

06.2001 -

02.2000 - 05.2001

06.2001 -

06.2001 -

12.1999 - 05.2005

12.2002 -

11.2003 -

11.2003 -

02.2000 - 05.2001

06.2001 - 10.2004

09.1998 -

09.1998 -

02.2000 - 05.2001

03.1999 - 10.2003

04.2004 -

03.1999 - 01.2000

06.2001 -

Vorderachse

Vorderachse

rechts

Vorderachse

Vorderachse

rechts

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240006

SKTR-0240006

SKTR-0240058

SKTR-0240006

SKTR-0240006

SKTR-0240058

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240048

SKTR-0240048

SKTR-0240006

SKTR-0240048

SKTR-0240006

SKTR-0240048

SKTR-0240006

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Lange [mm]
Auf3engewinde
[mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Linge [mm]
Auflengewinde
[mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf?
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Linge [mm]

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

255
M14x1,5/
M14x1,5

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

255
M14x1,5/
M14x1,5

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12x1,0 /
M14x1,5
218

M12x1,0 /
M14x1,5
218

M12X1/
M14X1.5
317

M12x1,0 /
M14x1,5
218

M12X1/
M14X1.5
317

M12x1,0 /
M14x1,5
218

M12X1/
M14X1.5
317



RENAULT GRAND SCENIC

MODEL YEAR FITING POSITION ~ ITEMNUMBER ITEM DETAILS
GRAND SCENIC Il IMO/1_) 1.5 dCi (60 KW / 82 HP) 04.2004 - vorne SKTR-0240001 Gowindemat - MMIL4X1.5R
MM14X1.5R
GRAND SCENIC Il IMO/1_) 1.5 dGi (76 KW / 103 HP) 06.2006 - 112008  vorne SKTR-0240001 Govindera  MM14XLSR
MM14X1.5R
GRAND SCENIC Il JMO/1_) 1.9 dGi JM15) (81 KW / 110 HP)  05.2005 - vorne SKTR-0240001 Govinderma - MM14XLSR
MM14X1.5R
GRAND SCENIC Il JMO/1_) 1.9 dGi JM14) (96 KW / 131 HP)  05.2005 - vorne SKTR-0240001 Govinderma - MML4XLSR
MM14X1.5R
GRAND SCENIC Il JMO/1_) 1.6 (83 KW / 113 HP) 04.2004 - vorne SKTR-0240001 Gowindemat - MIL4X1.5R
MM14X1.5R
GRAND SCENIC Il IMO/1_) 2.0 (99 KW / 135 HP) 04.2004 - vorne SKTR-0240001 Govindemat - MMIL4XL.5R
MM14X1.5R
(:g/lxNHD SCENIC Il JMO/1) 1.5 dGi (IM02, IM13) (74 KW / 04.2004 - vorne SKTR-0240001 Govindera  MML4XLSR
P) MM14X1.5R
GRAND SCENIC Il JMO/1 ) 1.9 dGi (JMOG, JM12, JM1G, IM2Q)  04.2004 - vorne SKTR-0240001 Govindera - MM14XLSR
(88 kw7120 HP) MM14X1.5R
GRAND SCENIC Il IMO/1_) 2.0 (120 KW / 163 HP) 04.2004 - vorne SKTR-0240001 Govindema - MM14XLSR
MM14X1.5R
GRAND SCENIC Il JMO/1_) 1.6 (82 KW / 112 HP) 06.2006 - 11.2008  vorne SKTR-0240001 Gowindemat - ML4X1.5R
MM14X1.5R
GRAND SCENIC Il JMO/1_) 1.6 Flex (82 KW / 112 HP) 06.2006 - 11.2008  vorne SKTR-0240001 Govindemat - ML4XL.5R
MM14X1.5R
GRAND SCENIC Il JMO/1 ) 2.0 dGi (JM1K) (110 KW / 150 HP)  09.2005 - vorne SKTR-0240001 Govindera  MM14XLSR
MM14X1.5R
GRAND SCENIC Il IMO/1 ) 1.9 dGi (85 KW / 116 HP) 05.2005 - 01.2009  vorne SKTR-0240001 Govinderma  MM14XLSR
MM14X1.5R
GRAND SCENIC Il JMO/1_) 1.5 dGi (JM1E) (78 KW / 106 HP)  05.2005 - vorne SKTR-0240001 Gowindemat - MIL4X1.5R
MM14X1.5R
GRAND SCENIC Il JMO/1_) 1.6 (77 KW / 105 HP) 06.2006 - vorne SKTR-0240001 Gowindemat - MIL4X1.5R
MM14X1.5R
ﬁRAND SCENIC Il (J20/1_) 1.6 dCi (1200, JZ12) (96 KW /130  04.2011 - vorne SKTR-0240001 Govindemat - MML4X1.5R
P) MM14X1.5R
GRAND SCENIC lll /Z0/1_) 1.2 TCe (85 KW / 116 HP) 04.2012 - vorne SKTR-0240001 Govindera  MM14XLSR
MM14X1.5R
GRAND SCENIC Ill jZ0/1_) 1.4 16V (JZOF) (96 KW / 131 HP)  02.2009 - vorne SKTR-0240001 Govindera  MM14XLSR
MM14X1.5R
GRAND SCENIC Ill /Z0/1_) 1.6 16V (JZ0U) (81 KW / 109 HP)  02.2009 - vorne SKTR-0240001 Govindema  MM14XL5R
MM14X1.5R
GRAND SCENIC Ill /Z0/1_) 2.0 16V ()Z0G) (103 KW / 140 02.2009 - vorne SKTR-0240001 Govindemat - MMIL4X1.5R
HP) MM14X1.5R
GRAND SCENIC lll jZ0/1_) 1.5 dCi (78 KW / 106 HP) 02.2009 - vorne SKTR-0240001 Govindera  MM14XLSR
MM14X1.5R
GRAND SCENIC lll jZ0/1_) 1.9 dGi (96 KW / 131 HP) 02.2009 - vorne SKTR-0240001 Govindera - MM14XLSR
MM14X1.5R
GRAND SCENIC Ill /Z0/1_) 2.0 dCi (JZ0Y) (110 KW / 150 HP)  02.2009 - vorne SKTR-0240001 Govindera  MM14XLSR
MM14X1.5R
GRAND SCENIC Ill /Z0/1_) 2.0 dCi ()ZOL) (118 KW / 160 HP)  04.2009 - vorne SKTR-0240001 Govindema - MML4XLSR
MM14X1.5R

195




GRAND SCENIC Ill ()20/1_) 1.6 16V Bifuel (81 KW / 110 HP)
GRAND SCENIC Ill ()20/1_) 1.2 TCe (JZ16) (97 KW / 132 HP)
GRAND SCENIC Ill ()20/1_) 1.5 dCi (81 KW / 110 HP)
GRAND SCENIC Ill ()20/1_) 1.5 dCi (63 KW / 86 HP)

GRAND SCENIC lll ()20/1_) 1.5 dCi (70 KW / 95 HP)

RENAULT KANGOO

MODEL

KANGOO (KCO/1_) 1.2 (KCOA, KCOK, KCOF, KCO1) (43 KW /
58 HP)

KANGOO (KCO/1) 1.4 (KCOC, KCOH, KCOB, KCOM) (55 KW /
75 HP)

KANGOO (KCO/1 ) D 55 1.9 (KCOD) (40 KW / 54 HP)
KANGOO (KCO/1_) D 65 1.9 (KCOE, KC02, KCOJ, KCON) (47
KW / 64 HP)

KANGOO (KCO/1_) 1.6 16V (70 KW / 95 HP)

KANGOO (KCO/1 ) 1.6 16V 4x4 (KCOP, KCOS, KCOL) (70 KW
/95 HP)

KANGOO (KCO/1_) 1.2 16V (KCO3, KCO5, KCO6, KCOT,
KCOW) (55 KW / 75 HP)

KANGOO (KCO/1_) 1.9 RXED (48 KW / 65 HP)

KANGOO (KCO/1_) 1.6 16V bivalent (60 KW / 82 HP)
KANGOO (KCO/1_) 1.5 dGi (50 KW / 68 HP)

KANGOO (KCO/1_) 1.5 dGi (62 KW / 84 HP)

KANGOO (KCO/1_) 1.6 (66 KW / 90 HP)

KANGOO (KCO/1_) 1.9 dCi 4x4 (KCOV) (59 KW / 80 HP)
KANGOO (KCO/1 ) Elect'road RE (22 KW / 30 HP)
KANGOO (KCO/1_) 1.5 dCi (KCO7) (48 KW / 65 HP)

KANGOO (KCO/1 ) 1.9 dCi 4x4 (62 KW / 84 HP)

KANGOO (KCO/1_) 1.6 Flex (70 KW / 95 HP)

02.2009 -

01.2013 -

04.2009 -

04.2009 -

11.2010 -

YEAR

08.1997 -

08.1997 -

08.1997 -

08.1997 -

06.2001 -

10.2001 -

06.2001 -

09.1999 - 06.2001

06.2005 -

06.2005 -

06.2005 -

09.1999 - 06.2001

10.2001 -

01.2002 - 12.2004

12.2001 -

10.2003 -

01.2007 -

vorne

vorne

vorne

vorne

vorne

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

ITEMNUMBER

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf’
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]

Gewindemaf}

Lange [mm]

MM14X1.5R
/
MM14X1.5R

MM14X1.5R

/
MM14X1.5R

MM14X1.5R

/
MM14X1.5R

MM14X1.5R

/
MM14X1.5R
MM14X1.5R

/
MM14X1.5R

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317



KANGOO (KCO/1) 1.5 dCi (42 KW / 57 HP)

KANGOO (KCO/1_) 1.5 dGi (45 KW / 61 HP)

KANGOO (KC0/1_) 1.0 (50 KW / 70 HP)

KANGOO (KC0/1_) 1.6 (81 KW /110 HP)

KANGOO (KCO/1_) 1.9 dTi (KCOU) (59 KW / 80 HP)

KANGOO (KCO/1) 1.5 dGi (KCO8, KC09) (60 KW / 82 HP)

KANGOO / GRAND KANGOO (KWO0/1_) 1.5 dCi (48 KW / 65

HP)

KANGOO Express (FC0/1_) 1.6 (66 KW / 90 HP)

KANGOO Express (FCO/1_) 1.6 Flex (72 KW / 98 HP)

KANGOO Express (FCO/1_) 1.9 dTi (FCOU) (59 KW / 80 HP)

KANGOO Express (FCO/1_) 1.5 dCi (FC1G) (62 KW / 84 HP)

KANGOO Express (FC0/1_) 1.6 (81 KW /110 HP)

KANGOO Express (FC0/1_) 1.0 (43 KW / 59 HP)

KANGOO Express (FC0/1_) 1.6 (54 KW / 74 HP)

KANGOO Express (FCO/1_) 1.6 Flex (81 KW /110 HP)

KANGOO Express (FC0/1_) 1.0 (50 KW / 70 HP)

KANGOO Express (FCO/1) 1.5 dGi (FCLE) (50 KW / 68 HP)

KANGOO Express (FC0/1_) 1.2 (FC1A) (44 KW / 60 HP)

KANGOO Express (FCO/1_) 1.9 D (FCOJ) (48 KW / 65 HP)

KANGOO Express (FC0/1_) 1.5 dGi (FCO8, FC09) (60 KW /

82 HP)

KANGOO Express (FCO/1_) 1.5 dCi (FCLR) (42 KW / 57 HP)

KANGOO Express (FCO/1_) 1.6 16V 4x4 (FCOL, FCOP, FCOS)

(70 KW / 95 HP)

KANGOO Express (FC0/1_) 1.9 dCi 4x4 (FCOV) (59 KW / 80
HP)

KANGOO Express (FC0/1_) 1.2 16V (FC05) (55 KW / 75 HP)

KANGOO Express (FCO/1_) 1.6 16V (70 KW / 95 HP)

07.2003 -

04.2005 - 06.2010

01.2002 - 01.2007

01.2002 - 02.2007

02.2000 -

07.2002 -

01.2009 -

09.1999 - 06.2001

03.2007 -

02.2000 -

06.2005 -

01.2002 - 02.2007

01.2002 - 01.2007

10.1998 - 06.2001

01.2002 - 02.2007

01.2002 - 01.2007

06.2005 -

07.1998 - 07.2001

09.1999 - 06.2003

04.2003 -

12.2002 -

10.2001 -

10.2001 -

10.2001 -

10.2001 -

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf?

Linge [mm]

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317



KANGOO Express (FC0/1_) 1.6 16V bivalent (60 KW / 82 06.2005 - Vorderachse SKTR-0240006 Gewindemaf} M12X1/

M14X1.5

HP) Linge [mm] 317

KANGOO Express (FCO/1 ) 1.9 dCi 4x4 (FCOV) (62 KW /84  07.2003 - Vorderachse SKTR-0240006 Gewindemafy ;41142;11 !

HP) Lange [mm] 3i7

KANGOO Express (FCO/1_) 1.5 dCi (FCO7, FC1R) (48 KW / 12.2001 - Vorderachse SKTR-0240006 Gewindemay b:41142;(11 5/

65 HP) Lange [mm] 3]:7

KANGOO Express (FCO/1_) 1.0 (40 KW / 54 HP) 07.2003 - Vorderachse SKTR-0240006 Gewindemaf3 MM1142)1(11 5/

Lange [mm] 31:7

KANGOO Express (FCO/1_) 1.2 BiFuel (43 KW / 58 HP) 07.1998 - 07.2001 Vorderachse SKTR-0240006 Gewindemafy r;%i(f 5/

Lange [mm] 3:]:7

KANGOO Express (FC0/1_) 1.9 dCi (FCOV) (62 KW / 84 HP) 07.2003 - Vorderachse SKTR-0240006 Gewindemafs r;’lllf)i(ll 5/

Linge [mm] 3i7

KANGOO Express (FCO/1_) 1.5 dCi (45 KW / 61 HP) 10.2005 - Vorderachse SKTR-0240006 Gewindemafd rT::)él 5{

Lange [mm] 31.7

KANGOO Express (FCO/1 ) 1.2 (FCO1, FCOA, FCOF) (43 KW/ 08.1997 - Vorderachse SKTR-0240006 Gewindemaf ;41142;11 !

58 HP) Lange [mm] 3]:7

KANGOO Express (FC0/1_) 1.4 (FCOC, FCOB, FCOH, FCOM) 08.1997 - Vorderachse SKTR-0240006 Gewindemafy ;:1142)1(11 5/

(55 KW / 75 HP) Linge [mm] 317

KANGOO Express (FCO/1_) D 55 1.9 (FCOD) (40 KW /54 HP) 08.1997 - Vorderachse SKTR-0240006 Gewindemafy rT1142)i(11 5/

Lange [mm] 3:]:7

KANGOO Express (FC0/1_) D 65 1.9 (FCOE, FC02, FCOJ, 08.1997 - Vorderachse SKTR-0240006 Gewindemafs r;’lllf)i(ll 5/

FCON) (47 KW / 64 HP) Linge [ 19
MODEL YEAR FITTING POSITION ITEMNUMBER ITEM DETAILS

LAGUNA Il (BGO/1_) 1.6 LPG (79 KW / 107 HP) 03.2001 - 05.2005 rechts SKTR-0240008 Léinge [mm] 234

AuBengewinde M14x1,5/

[mm] M12x1

LAGUNA Il (BGO/1_) 2.0 16V (BGOO, BGOK, BGOP, BGOW) 08.2002 - rechts SKTR-0240008 Léinge [mm] 234

(99 KW / 135 HP') Auf3engewinde M14x1,5/

[mm] M12x1

LAGUNA Il (BGO/1_) 2.0 16V Turbo (BGOS, BGOZ, BG1L, 01.2003 - rechts SKTR-0240008 kﬁr;_:e [mm] I 12:‘;

uflengewinde x1,

BG1M) (120 KW / 163 HP) m] M

LAGUNA Il (BGO/1_) 1.9 dCi (BGO5, BGO8) (68 KW /92 HP)  03.2004 - rechts SKTR-0240008 Léinge [mm] 234

Aufdengewinde M14x1,5/

[mm] M12x1

LAGUNA Il (BGO/1_) 1.9 dCi (85 KW / 116 HP) 09.2005 - rechts SKTR-0240008 Léinge [mm] 234

Aufdengewinde M14x1,5/

[mm] M12x1

LAGUNA Il (BGO/1 ) 2.9 V6 24V (157 KW / 210 HP) 09.2002 - 12.2006 rechts SKTR-0240008 Léinge [mm] 234

Aulengewinde M14x1,5/

[mm] M12x1

LAGUNA Il (BGO/1_) 1.8 16V (BG04, BGOB, BGOC, BGOV) 03.2001 - rechts SKTR-0240008 Léinge [mm] 234

(86 KW / 117 HP') Au3engewinde M14x1,5/

[mm] M12x1

LAGUNA Il (BGO/1_) 2.2 dCi (BGO9) (85 KW / 116 HP) 04.2004 - 10.2005 rechts SKTR-0240008 Léinge [mm] 234

Aufdengewinde M14x1,5/

[mm] M12x1

LAGUNA Il (BGO/1_) 1.8 16V (BGOB, BGOM) (88 KW /120  03.2001 - rechts SKTR-0240008 Léinge [mm] 234

HP) Aufdengewinde M14x1,5/

[mm] M12x1

LAGUNA Il (BGO/1_) 1.8 16V (BGO6, BGOJ, BGOM) (85 KW /  03.2001 - rechts SKTR-0240008 Léinge [mm] 234

116 HP) Auflengewinde M14x1,5/

[mm] M12x1

LAGUNA Il (BGO/1_) 2.0 dGi (BG1T) (110 KW / 150 HP) 08.2005 - rechts SKTR-0240008 Léinge [mm] 234

AuBengewinde M14x1,5/
[mm] M12x1




LAGUNA Il (BGO/1_) 1.6 16V (BGOA, BGOL) (79 KW / 107
HP)

LAGUNA Il (8GO/1_) 1.8 16V (BGOB, BGOC, BGOJ, BGOM,
BGOV) (89 KW / 121 HP)

LAGUNA Il (BGO/1_) 3.0 V6 24V (BGO1, BGO2, BGOD, BGOY)

(152 KW / 207 HP)

LAGUNA 1l (BGO/1_) 1.9 dCi (BGO8, BGOG) (88 KW / 120 HP)

LAGUNA 1l (BGO/1) 1.9 dCi (79 KW / 107 HP)

LAGUNA Il (8GO/1_) 2.0 16V (125 KW / 170 HP)

LAGUNA Il (BGO/1_) 2.0 16V (150 KW / 204 HP)

LAGUNA Il (BGO/1_) 1.9 dCi (BG1A, BG1W) (81 KW /110

HP)

LAGUNA 1l (BGO/1_) 2.0 16V IDE (BGON) (103 KW / 140 HP)

LAGUNA Il (BGO/1 ) 1.9 dClI (BGOE) (77 KW / 105 HP)

LAGUNA Il (BGO/1_) 2.2 dCi (BGOF) (110 KW / 150 HP)

LAGUNA Il (BGO/1) 2.0 dCi (BG14, BG1S) (127 KW /173

HP)

LAGUNA 1l (BGO/1_) 2.0 16V (98 KW / 133 HP)

LAGUNA 1l (BGO/1_) 1.9 dCi (BGOR) (74 KW / 100 HP)

LAGUNA 1l (BGO/1_) 1.6 (76 KW / 103 HP)

LAGUNA Il (BGO/1_) 1.9 dCi (BG1A, BG1V) (96 KW / 130 HP)

LAGUNA Il (BGO/1) 2.2 dGi (102 KW / 140 HP)

LAGUNA 1l (BGO/1_) 2.9 V6 24V (155 KW / 211 HP)

LAGUNA 1l (BGO/1_) 1.9 dGi (92 KW / 125 HP)

LAGUNA I (BGO/1_) 1.6 16V (BG1G, BG1H) (82 KW / 112

HP)

LAGUNA Il Grandtour (KGO/1_) 2.0 16V (KG0O, KGOK,
KGOW) (99 KW / 135 HP)

LAGUNA Il Grandtour (KGO/1_) 2.0 16V Turbo (KGOS, KGOZ,
KG1L, KG1M) (120 KW / 163 HP)

LAGUNA Il Grandtour (KGO/1_) 1.9 dCi (KGO5) (68 KW / 92
HP)

LAGUNA Il Grandtour (KGO/1_) 1.9 dCi (92 KW / 125 HP)

LAGUNA Il Grandtour (KG0/1_) 2.9 V6 24V (157 KW / 210
HP)

03.2001 -

03.2001 -

03.2001 -

03.2001 -

03.2001 -

01.2005 -

01.2005 -

01.2005 -

04.2001 -

06.2001 -

10.2001 -

01.2006 -

08.2002 -

10.2001 -

03.2001 - 05.2005

05.2005 -

05.2005 -

03.2001 - 08.2007

09.2005 -

02.2005 -

08.2002 -

01.2003 -

03.2004 -

09.2005 -

09.2002 - 12.2005

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1



LAGUNA Il Grandtour (KGO/1_) 1.8 16V (86 KW / 117 HP)
LAGUNA Il Grandtour (KGO/1_) 2.2 dCi (KG09) (85 KW / 116
HP)

LAGUNA Il Grandtour (KGO/1_) 1.8 16V (KG0J) (85 KW / 116
HP)

LAGUNA Il Grandtour (KGO/1_) 2.0 dGi (KG1T) (110 KW /
150 HP)

LAGUNA Il Grandtour (KGO/1_) 1.8 16V (KGOB, KGOM) (88
KW /120 HP)

LAGUNA Il Grandtour (KGO/1_) 1.6 16V (KGOA, KGOL) (79
KW /107 HP)

LAGUNA Il Grandtour (KGO/1 ) 1.8 16V (89 KW / 121 HP)
LAGUNA Il Grandtour (KGO/1_) 3.0 V6 24V (KGOD) (152 KW
/207 HP)

LAGUNA Il Grandtour (KGO/1_) 1.9 dCi (KGOG) (88 KW /120
HP)

LAGUNA Il Grandtour (KG0/1_) 1.9 dCi (79 KW / 107 HP)

LAGUNA Il Grandtour (KG0/1_) 2.0 16V (125 KW / 170 HP)

LAGUNA Il Grandtour (KG0/1_) 2.0 16V (150 KW / 204 HP)

LAGUNA Il Grandtour (KG0/1_) 1.9 dCi (KG1A, KG1W) (81

KW /110 HP)

LAGUNA Il Grandtour (KGO/1_) 2.0 16V IDE (KGON) (103 KW
/140 HP)

LAGUNA Il Grandtour (KGO/1_) 2.0 dGi (KG1S) (127 KW /
173 HP)

LAGUNA Il Grandtour (KGO/1_) 1.9 dCl (KGOE) (77 KW / 105
HP)

LAGUNA Il Grandtour (KGO/1_) 2.2 dGi (KGOF) (110 KW /
150 HP)

LAGUNA Il Grandtour (KGO/1_) 1.6 FlexFuel (76 KW / 103
HP)

LAGUNA Il Grandtour (KG0/1_) 2.0 (95 KW / 129 HP)

LAGUNA Il Grandtour (KG0/1_) 2.0 (97 KW / 132 HP)

LAGUNA Il Grandtour (KGO/1_) 1.9 dCi (KGOE, KGOR) (74 KW
/100 HP)

LAGUNA Il Grandtour (KGO/1_) 1.9 dCi (KG12) (85 KW / 116
HP)

LAGUNA Il Grandtour (KGO/1) 1.6 (76 KW / 103 HP)

LAGUNA Il Grandtour (KG0/1_) 2.2 dCi (102 KW / 140 HP)

LAGUNA Il Grandtour (KGO/1) 1.9 dGi (KG1V) (96 KW / 130

HP)

LAGUNA Il Grandtour (KGO/1_) 2.0 16V (98 KW / 133 HP)

03.2001 -

04.2004 - 10.2005

03.2001 -

08.2005 -

03.2001 -

03.2001 -

03.2001 -

03.2001 -

03.2001 -

03.2001 -

01.2005 -

01.2005 -

01.2005 -

04.2001 -

01.2006 -

06.2001 -

10.2001 -

06.2001 - 10.2003

09.2002 - 05.2005

09.2002 - 05.2005

10.2001 -

08.2005 - 09.2007

03.2001 - 10.2005

05.2005 -

05.2005 -

10.2004 - 09.2007

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

SKTR-0240008

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1

234
M14x1,5/
M12x1



LAGUNA Il Grandtour (KGO/1_) 1.9 dCi (66 KW / 90 HP)
LAGUNA Il Grandtour (KGO/1) 1.6 Bifuel (79 KW / 107 HP)

LAGUNA Il Grandtour (KGO/1_) 1.6 16V (82 KW / 112 HP)

RENAULT MASTER

MODEL

MASTER Il Bus (JD) 2.5 D (59 KW / 80 HP)

MASTER Il Bus (JD) 2.8 dTI (84 KW / 114 HP)

MASTER Il Bus (JD) 2.5 dGi (74 KW / 101 HP)

MASTER Il Bus (JD) 2.5 dGi (88 KW / 120 HP)

MASTER Il Bus (JD) 2.5 dCi (107 KW / 146 HP)

MASTER Il Bus (JD) 2.5 dGi 100 (JDCV) (73 KW / 99 HP)
MASTER Il Bus (JD) 3.0 dGi 140 (JDOT) (100 KW / 136 HP)
MASTER Il Bus (JD) 1.9 dTI (59 KW / 80 HP)

MASTER Il Bus (JD) 2.5 dCi 120 (84 KW / 115 HP)
MASTER Il Bus (JD) 1.9 dGi 80 (60 KW / 82 HP)

MASTER Il Bus (JD) 2.2 dCl 90 (66 KW / 90 HP)

MASTER Il Kasten (FD) 2.5 dCi (74 KW / 101 HP)

MASTER Il Kasten (FD) 2.5 dCi (88 KW / 120 HP)

MASTER Il Kasten (FD) 2.5 dGi (107 KW / 146 HP)
MASTER Il Kasten (FD) 2.8 dTI 4x4 (84 KW / 114 HP)
MASTER Il Kasten (FD) 2.5 dGi 4x4 (85 KW / 115 HP)
MASTER Il Kasten (FD) 2.5 dGi 100 (FDOU, FDOV) (73 KW /

99 HP)

MASTER Il Kasten (FD) 3.0 dGi 140 (HDOS, FDOS, HD1S) (100
KW / 136 HP)

08.2003 - 09.2007

06.2005 - 12.2007

02.2005 -

YEAR

07.1998 - 01.2001

07.1998 - 10.2001

08.2006 -

08.2006 -

08.2006 -

10.20053 -

10.2003 -

09.2000 -

10.2001 -

11.2001 -

09.2000 -

08.2006 -

08.2006 -

08.2006 -

01.2002 - 09.2004

10.2004 - 02.2012

10.2003 -

10.2003 -

rechts

rechts

rechts

FITTING POSITION

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240008

SKTR-0240008

SKTR-0240008

ITEMNUMBER

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

ITEM DETAILS

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

234
M14x1,5/
M12x1
234
M14x1,5/
M12x1
234

M14x1,5/
M12x1

MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5R/
MM14X1.5R
MM16X1.5!{
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R
MM16X1.5F<
MM14X1.5R
MM16X1.5R/
MM14X1.5R
MM16X1.5!<
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{
MM14X1.5R

/
MM16X1.5R
MM14X1.5R
MM16X1.5R/
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5l{
MM14X1.5R
MM16X1.5F{

MM14X1.5R

/
MM16X1.5R



MASTER Il Kasten (FD) 3.0 dCi 120 (85 KW / 116 HP)

MASTER Il Kasten (FD) 3.0 dGi 160 (115 KW / 156 HP)

MASTER |l Kasten (FD) 1.9 dTI (59 KW / 80 HP)

MASTER Il Kasten (FD) 2.5 D (59 KW / 80 HP)

MASTER Il Kasten (FD) 2.8 dTI (84 KW / 114 HP)

MASTER Il Kasten (FD) 2.5 dCi 120 (84 KW / 115 HP)

MASTER Il Kasten (FD) 1.9 dGi 80 (60 KW / 82 HP)

MASTER Il Kasten (FD) 2.8 dTI 4x4 (63 KW / 86 HP)

MASTER Il Kasten (FD) 2.2 dCl 90 (66 KW / 90 HP)

MASTER |l Pritsche/Fahrgestell (ED/HD/UD) 2.5 dCi (74 KW /

101 HP)

MASTER Il Pritsche/Fahrgestell (ED/HD/UD) 2.5 dCi (88 KW /
120 HP)

MASTER Il Pritsche/Fahrgestell (ED/HD/UD) 2.5 dGi (107 KW
/146 HP)

MASTER Il Pritsche/Fahrgestell (ED/HD/UD) 3.0 dGi 140
(EDOS, UDOS) (100 KW / 136 HP)

MASTER Il Pritsche/Fahrgestell (ED/HD/UD) 2.5 dGi 100
(ED4V, ED8V) (73 KW / 99 HP)

MASTER Il Pritsche/Fahrgestell (ED/HD/UD) 3.0 dGi 160 (115
KW / 156 HP)

MASTER |l Pritsche/Fahrgestell (ED/HD/UD) 3.0 dCi 120 (85
KW /116 HP)

MASTER Il Pritsche/Fahrgestell (ED/HD/UD) 2.5 D (59 KW /
80 HP)

MASTER Il Pritsche/Fahrgestell (ED/HD/UD) 2.8 dTI (84 KW /
114 HP)

MASTER Il Pritsche/Fahrgestell (ED/HD/UD) 2.5 dCi 120 (84
KW / 115 HP)

MASTER Il Pritsche/Fahrgestell (ED/HD/UD) 2.2 dcl 90 (66
KW /90 HP)

MASTER Il Kasten (FV) 2.3 dG [RWD] (FVOC, FVOD, FVOH,
FV0J) (92 KW / 125 HP)

MASTER Il Kasten (FV) 2.3 dCi [RWD] (FVOE, FVOF, FV0))
(107 KW / 146 HP)

MASTER Il Kasten (FV) 2.3 dCi FWD (FVOE, FVOF, FVOH,
FVOJ) (107 KW / 146 HP)

MASTER Il Kasten (FV) 2.3 dCi [RWD] (FVOB, FVOC, FVOD)
(74 KW / 101 HP)

MASTER Il Kasten (FV) 2.3 dG FWD (FVOA, FVOB, FVOG,
FVOK) (74 KW / 101 HP)

06.2005 -

06.2005 -

09.2000 -

07.1998 - 01.2001

07.1998 - 10.2001

10.2001 -

11.2001 -

01.2002 - 09.2004

09.2000 -

08.2006 -

08.2006 -

08.2006 -

10.2003 -

10.20053 -

06.2005 -

06.2005 -

07.1998 - 01.2001

07.1998 - 10.2001

10.2001 -

09.2000 -

02.2010 -

02.2010 -

02.2010 -

02.2010 -

02.2010 -

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

MM14X1.5R

/
MM16X1.5R

MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R
/
MM16X1.5R
MM14X1.5R

/
MM16X1.5R



MASTER Il Kasten (FV) 2.3 dCi FWD (FVOC, FVOD) (92 KW /
125 HP)

MASTER Il Pritsche/Fahrgestell (EV, HV, UV) 2.3 dCi FWD

(EVOA, EVOB, HVOA, HVOB, HVOG, UVOA, UV0B, UVOG) (74
KW /101 HP)

MASTER Ill Pritsche/Fahrgestell (EV, HV, UV) 2.3 dG FWD
(EVOC, EVOD, EVOJ, HVOC, HVOD, HVOH, HV0J..) (92 KW /
125 HP)

MASTER Il Pritsche/Fahrgestell (EV, HV, UV) 2.3 dCi [RWD]
(HVOC, HVOD, UVOC, UVOD, UVOH, UVO0J) (92 KW / 125 HP)

MASTER Ill Pritsche/Fahrgestell (EV, HV, UV) 2.3 dCi [RWD]
(UVOF, UVOE) (107 KW / 146 HP)

MASTER Il Pritsche/Fahrgestell (EV, HV, UV) 2.3 dCi FWD
(EVOE, EVOF, HVOE, HVOF, UVOE, UVOF) (107 KW / 146 HP)

MASTER Il Pritsche/Fahrgestell (EV, HV, UV) 2.3 dCi [RWD]
(UVOC, UVOD, HVOC, HVOD) (74 KW / 101 HP)

RENAULT MEGANE

MODEL

MEGANE | (BAO/1_) 2.0 (85 KW / 115 HP)

MEGANE | (BAO/1.) 1.6 LPG (66 KW / 90 HP)

MEGANE | (BAO/1 ) 1.6 (64 KW / 87 HP)

MEGANE | (BAO/1_) 1.9 DTi (60 KW / 82 HP)

MEGANE | (BAO/1_) 1.9 D (69 KW / 94 HP)

MEGANE | (BAO/1_) 1.9 DGi (77 KW / 105 HP)

MEGANE | (BAO/1_) 1.8 16V (BAO6, BA12, BA1A, BA1M,
BA1R) (85 KW / 115 HP)

MEGANE | (BAO/1_) 1.9 dT (76 KW / 104 HP)

MEGANE | (BAO/1_) 1.4 e (BAOE, BAOV) (55 KW / 75 HP)
MEGANE | (BAO/1_) 1.6 e (BAOF, BAOS) (66 KW / 90 HP)
MEGANE | (BAO/1_) 2.0 i (BAOG) (84 KW / 114 HP)
MEGANE | (BAO/1_) 1.9 D Eco (B/SAOU, BAOA) (47 KW / 64
HP)

MEGANE | (BAO/1_) 1.9 dGi (BAOS, BALF) (75 KW / 102 HP)

MEGANE | (BAO/1_) 1.9 dTi (BA1U) (59 KW / 80 HP)

MEGANE | (BAO/1_) 1.6 LPG (80 KW / 109 HP)

02.2010 -

02.2010 -

02.2010 -

02.2010 -

02.2010 -

02.2010 -

02.2010 -

YEAR

05.1998 - 05.2001

08.1995 - 03.1999

02.2000 - 09.2000

02.2000 - 09.2000

04.1996 - 02.2001

03.1999 - 08.2003

01.2001 - 08.2003

08.1998 - 10.1999

01.1996 - 08.2003

01.1996 - 03.1999

01.1996 - 08.2003

01.1996 - 08.2003

02.2001 - 08.2003

02.2001 - 08.2003

10.2000 - 08.2002

Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

innen

innen

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

SKTR-0240047

ITEMNUMBER

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

ITEM DETAILS

Gewindemaf?
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

MM14X1.5R

/
MM16X1.5R
MM14X1.5R

/
MM16X1.5R

MM14X1.5R

/
MM16X1.5R

MM14X1.5R
/
MM16X1.5R

MM14X1.5R
MM16X1.5!{
MM14X1.5R
MM16X1.5I{

MM14X1.5R

/
MM16X1.5R

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310



MEGANE | (BAO/1_) 2.0 16V (BAOH) (108 KW / 147 HP)

MEGANE | (BAO/1_) 1.9 TDI (69 KW / 94 HP)

MEGANE | (BAO/1_) 1.4 Eco (BAOT) (52 KW / 71 HP)

MEGANE | (BAO/1_) 1.6 16V (BA11, BAO4, BAOB, BA1)) (79

KW /107 HP)

MEGANE | (BAO/1_) 1.4 16V (BAOD, BA1H, BAOW, BA10)
(70 KW / 95 HP)

MEGANE | (BAO/1.) 1.6 i (BAOL) (55 KW / 75 HP)
MEGANE | (BAO/1_) 1.9 dT (B/SAOK, B/SAOY) (66 KW / 90
HP)

MEGANE | (BAO/1_) 1.9 dTi (BAOS, BAON) (72 KW / 98 HP)

MEGANE | (BAO/1_) 2.0 i (80 KW / 109 HP)

MEGANE | Cabriolet (EAO/1_) 2.0 16V IDE (EA03, EAOP,

EA14) (103 KW / 140 HP)

MEGANE | Cabriolet (EAO/1_) 2.0 16V (110 KW / 150 HP)

MEGANE | Cabriolet (EAO/1_) 2.0 16V (102 KW / 139 HP)

MEGANE | Cabriolet (EAO/1_) 1.6 e (EAOF) (66 KW / 90 HP)

MEGANE | Cabriolet (EAO/1_) 2.0 16V (EAOH) (108 KW /

147 HP)

MEGANE | Cabriolet (EAO/1_) 2.0 (EAOG) (84 KW / 114 HP)

MEGANE | Cabriolet (EAO/1_) 1.6 16V (EAOB, EA04, EA11)

(79 KW / 107 HP)

MEGANE | Cabriolet (EAO/1_) 2.0 i (EAOG) (80 KW / 109 HP)

MEGANE | Cabriolet (EAO/1_) 1.4 16V (EAOD, EA1H, EAOW,

EA10) (70 KW / 95 HP)

MEGANE | Classic (LAO/1_) 1.4 (LAOE, LAOV) (55 KW / 75
HP)

MEGANE | Classic (LAO/1_) 1.9 TDI (69 KW / 94 HP)

MEGANE | Classic (LAO/1) 1.6 i (LAOL) (55 KW / 75 HP)

MEGANE | Classic (LAO/1_) 1.9 dT (LAOK, LAQY) (66 KW /

90 HP)

MEGANE | Classic (LAO/1_) 2.0 i (LAO7, LAOG) (84 KW / 114
HP)

MEGANE | Classic (LAO/1_) 1.6 e (LAOF, LAOS) (66 KW /90
HP)

MEGANE | Classic (LAO/1_) 1.9 D (LAOA, LAOU) (47 KW / 64
HP)

MEGANE I Classic (LAO/1_) 2.0 (85 KW / 115 HP)

07.1996 - 08.2003

09.1996 - 08.2003

01.1996 - 03.1999

03.1999 - 08.2002

03.1999 - 08.2003

01.1996 - 03.1999

01.1996 - 08.2003

03.1997 - 02.2001

03.1999 - 08.2003

11.1999 - 08.2003

08.1997 - 11.2000

01.2002 - 08.2003

10.1996 - 03.1999

10.1996 - 11.1999

04.1997 - 08.2003

03.1999 - 07.2003

03.1999 - 08.2003

03.1999 - 08.2003

09.1996 - 08.2003

09.1996 - 08.2003

09.1996 - 03.1999

09.1996 - 08.2003

09.1996 - 08.2003

09.1996 - 03.1999

09.1996 - 08.2003

05.1998 - 05.2001

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

Vorderachse
beidseitig

innen

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf?
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /

M14x1,5
310

204



MEGANE | Classic (LAO/1) 1.8 16V (LAO6, LA12, LA1A, 01.2001 - 08.2003  Vorderachse SKTR-0240017 Gewindemats M12x1 /

LALM, LA1R) (85 KW / 115 HP) beidseitig Mt4x1,5
Lange [mm] 310

MEGANE | Classic (LAO/1_) 1.9 dT (76 KW / 104 HP) 08.1998 - 10.1999 SKTR-0240017 Gewindemafs M12x1 /
M14x1,5

Lange [mm] 310

MEGANE | Classic (LAO/1_) 1.9 dCi (LAO5, LALF) (75 KW / 02.2001 - 08.2003 Vorderachse SKTR-0240017 Gewindemafy M12x1/
102HR) beidseitig M14x1,5
Lange [mm] 310

MEGANE | Classic (LAO/1_) 1.9 dTi (LA1U) (59 KW /80 HP) ~ 02.2001 - 08.2003  Vorderachse SKTR-0240017 Gewindemafs M12x1 /
beidseitig . ML4x1,5

Lange [mm] 310

MEGANE | Classic (LAO/1_) 2.0 i (LAOG) (80 KW / 109 HP) 03.1999 - 08.2003  Vorderachse SKTR-0240017 Gewindemaft M12x1 /
beidseitig . M14x1,5

Lange [mm] 310

MEGANE | Classic (LA0/1) 1.6 (64 KW / 87 HP) 02.2000 - 09.2000 innen SKTR-0240017 Gewindemaf M12x1 /
M14x1,5

Lange [mm] 310

MEGANE | Classic (LAO/1_) 1.4 16V (LAOD, LA1H, LAOW, 03.1999 - 08.2003  Vorderachse SKTR-0240017 Gewindemaft M12x1 /
LA10) (70 KW / 95 HP) beidseitig M14x1,5
Lange [mm] 310

MEGANE | Classic (LAO/1_) 1.6 16V (La04, LA11, LAOB, 03.1999 - 07.2003 Vorderachse SKTR-0240017 Gewindemafy M12x1/
LALG, LALJ) (79 KW / 107 HP) beidseitig M14x1,5
Lange [mm] 310

MEGANE | Classic (LAO/1_) 1.9 dTi (LAO8, LAON) (72 KW /  03.1997 - 02.2001  Vorderachse SKTR-0240017 Gewindemafs M12x1/
98 HP) beidseitig M14x1,5
Lange [mm] 310

MEGANE | Classic (LAO/1_) 1.9 dCi (77 KW / 105 HP) 03.1999 - 09.2000 beidseitig SKTR-0240017 Gewindemaft M12x1 /
M14x1,5

Lange [mm] 310

MEGANE I Classic (LAO/1_) 2.0 RT (103 KW / 140 HP) 03.2001 - 08.2003 beidseitig SKTR-0240017 Gewindemay M12x1 /
M14x1,5

Lange [mm] 310

MEGANE | Classic (LAO/1_) 2.0 RT (112 KW / 152 HP) 10.1996 - 02.1999 SKTR-0240017 Gewindemaft M12x1 /
M14x1,5

Lange [mm] 310

MEGANE | Coach (DAO/1_) 2.0 16V IDE (DA03, DAOP, DA14) 11.1999 - 08.2003 beidseitig SKTR-0240017 GewindemaR M12x1/
(103 KW / 140 HP) M14x1,5
Lange [mm] 310

MEGANE | Coach (DAO/1_) 1.9 DCi (77 KW / 105 HP) 03.1999 - 09.2000 Vorderachse SKTR-0240017 Gewindemafy M12x1/
beidseitig . ML4x1,5

Lange [mm] 310

MEGANE | Coach (DAO/1_) 2.0 16V (110 KW / 150 HP) 08.1997 - 11.2000 SKTR-0240017 Gewindemaft M12x1 /
M14x1,5

Linge [mm] 310

MEGANE | Coach (DAO/1_) 1.9 dCi (DAOS5, DALF) (75 KW / 02.2001 - 08.2003  Vorderachse SKTR-0240017 Gewindematy M12x1 /
102 HP) beidseitig M14x1,5
Lange [mm] 310

MEGANE | Coach (DAO/1_) 2.0 16V (102 KW / 139 HP) 01.2002 - 08.2003  Vorderachse SKTR-0240017 Gewindemaft M12x1 /
beidseitig . M14x1,5

Lange [mm] 310

MEGANE | Coach (DAO/1_) 2.0 i (80 KW / 109 HP) 03.1999 - 08.2003 Vorderachse SKTR-0240017 Gewindemafy M12x1/
beidseitig N MLdxt,5

Lange [mm] 310

MEGANE | Coach (DAO/1_) 1.6 16V (DAOB, DAO4, DA11) (79  03.1999 - 07.2003  Vorderachse SKTR-0240017 Gewindemafs M12x1/
KW /107 HP) beidseitig M14x1,5
Lange [mm] 310

MEGANE | Coach (DAO/1_) 1.4 16V (DAOD, DA1H, DAOW, 03.1999 - 07.2003  Vorderachse SKTR-0240017 Gewindemaf} M12x1 /
DA10) (70 KW / 95 HP) beidseitig M14x1,5
Lange [mm] 310

MEGANE | Coach (DA0/1_) 1.6 e (DAOF) (66 KW / 90 HP) 03.1996 - 03.1999 SKTR-0240017 Gewindemad M12x1 /
M14x1,5

Lange [mm] 310

MEGANE | Coach (DAO/1_) 2.0 i (DAOG) (84 KW / 114 HP) 03.1996 - 08.2003 Vorderachse SKTR-0240017 Gewindemaf} M12x1/
beidseitig B M14x1,5

Lange [mm] 310

MEGANE | Coach (DAO/1_) 1.9 dTi (DAON) (72 KW / 98 HP) 03.1997 - 02.2001 Vorderachse SKTR-0240017 Gewindemafy M12x1/
beidseitig . MLdxt,5

Lange [mm] 310

MEGANE | Coach (DAO/1_) 2.0 16V (DAOH) (108 KW /147  03.1996 - 111999  Vorderachse SKTR-0240017 Gewindemafs M12x1 /
HP) beidseitig . M14x1,5
Lange [mm] 310

MEGANE | Grandtour (KAO/1_) 1.4 e (KAOV) (55 KW /75 HP)  03.1999 - 08.2003  Vorderachse SKTR-0240017 Gewindemaft M12x1 /
beidseitig . Mi4x1,5

Lange [mm] 310




MEGANE | Grandtour (KAO/1_) 1.6 e (KAOF) (66 KW / 90 HP)
MEGANE | Grandtour (KAO/1_) 1.9 D (KAOJ, KAOR) (47 KW /
64 HP)

MEGANE | Grandtour (KAO/1_) 1.9 dTi (KAON) (72 KW / 98
HP)

MEGANE | Grandtour (KAO/1_) 1.6 Bifuel (79 KW / 107 HP)
MEGANE | Grandtour (KAO/1_) 1.8 16V (KAOS, KA12, KA1A,
KA1M, KA1R) (85 KW / 115 HP)

MEGANE | Grandtour (KAO/1_) 1.6 Bifuel (80 KW / 109 HP)
MEGANE | Grandtour (KAO/1 ) 1.9 dCi (KAO5, KALF) (75 KW
/102 HP)

MEGANE | Grandtour (KAO/1_) 1.9 dTi (KA1U) (59 KW / 80
HP)

MEGANE | Grandtour (KAO/1_) 1.4 16V (KAOD, KA1H,
KAOW, KA10) (70 KW / 95 HP)

MEGANE | Grandtour (KAO/1) 1.6 16V (KAOB, KAO4, KA11)
(79 KW / 107 HP)

MEGANE | Grandtour (KAO/1_) 1.9 dGi (77 KW / 105 HP)
MEGANE Il (BMO/1_, CMO/1_) 2.0 16V Turbo (120 KW /
163 HP)

MEGANE Il (BMO/1_, CM0/1_) 2.0 (103 KW / 140 HP)

MEGANE Il (BMO/1_, CM0/1_) 1.4 16V (BMOB, CMOB) (72
KW / 98 HP)

MEGANE Il (BM0/1_, CM0/1) 1.6 (77 KW / 105 HP)
MEGANE Il (BM0/1_, CM0/1) 1.6 16V (BMOC, CMOC) (83
KW /113 HP)

MEGANE Il (BMO/1_, CM0/1_) 2.0 16V (BMOU, CMOU) (99
KW / 135 HP)

MEGANE Il (BMO/1_, CM0/1_) 1.5 dCi (BMOF, CMOF) (60 KW
/82 HP)

MEGANE Il (BM0/1_, CM0/1) 1.9 dCi (BMOG, CMOG) (88 KW

/120 HP)

MEGANE Il (BM0/1_, CM0/1_) 1.5 dCi (76 KW / 103 HP)

MEGANE Il (BMO/1_, CM0/1_) 1.6 16V (82 KW / 112 HP)

MEGANE Il (BMO/1_, CM0/1_) 2.0 dCi (127 KW / 173 HP)

MEGANE Il (BMO/1_, CM0/1_) 1.6 (79 KW / 107 HP)

MEGANE Il (BMO/1_, CM0/1_) 1.9 dCi (68 KW / 92 HP)

MEGANE Il (BM0/1_, CM0/1 ) 1.6 Bifuel (77 KW / 105 HP)

03.1999 - 08.2003

04.1999 - 08.2003

03.1999 - 02.2001

04.2001 - 07.2003

01.2001 - 08.2003

03.1999 - 09.2000

02.2001 - 08.2003

02.2001 - 08.2003

03.1999 - 08.2003

03.1999 - 08.2003

03.1999 - 09.2000

05.2004 - 02.2008

09.2003 - 12.2009

11.2002 - 02.2008

06.2005 - 02.2008

11.2002 - 02.2008

11.2002 - 02.2008

09.2002 - 02.2008

11.2002 - 02.2008

01.2007 - 03.2009

01.2006 - 06.2008

01.2007 - 02.2008

05.2006 - 01.2011

03.2004 - 08.2006

06.2005 - 02.2008

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig
innen
Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

beidseitig

beidseitig

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R

/
MM14X1.5R



MEGANE Il (BMO/1_, CM0/1_) 2.0 (102 KW / 138 HP)

MEGANE Il (BMO/1_, CM0/1_) 1.5 dCi (74 KW / 101 HP)

MEGANE Il (BMO/1_, CM0/1_) 1.4 16V (60 KW / 82 HP)

MEGANE Il (BMO/1_, CM0/1_) 1.9 dCi (81 KW / 110 HP)

MEGANE Il (BM0/1_, CM0/1_) 1.5 dCi (63 KW / 86 HP)

MEGANE Il (BMO/1_, CM0/1_) 1.5 dCi (78 KW / 106 HP)

MEGANE Il (BMO/1_, CM0/1_) 1.9 dCi (96 KW / 131 HP)

MEGANE Il (BM0/1_, CM0/1_) 2.0 Renault Sport (165 KW /

224 HP)

MEGANE Il (BMO/1_, CM0/1_) 2.0 (169 KW / 230 HP)

MEGANE Il (BM0/1_, CM0/1_) 1.9 dCi (85 KW / 115 HP)

MEGANE Il (BM0/1_, CM0/1) 2.0 dCi (BM1K, CM1K) (110

KW /150 HP)

MEGANE Il (BMO/1_, CM0/1_) 1.6 Flex-Fuel (77 KW / 105
HP)

MEGANE Il (BMO/1_, CM0/1_) 1.9 dCi (66 KW / 90 HP)

MEGANE Il Coupé-Cabriolet (EM0/1_) 2.0 16V Turbo (120
KW / 163 HP)

MEGANE Il Coupé-Cabriolet (EM0/1_) 1.6 (77 KW / 105 HP)

MEGANE Il Coupé-Cabriolet (EMO/1) 1.6 16V (82 KW / 112
HP)

MEGANE Il Coupé-Cabriolet (EMO/1_) 1.5 dGi (EM16) (76 KW
/103 HP)

MEGANE Il Coupé-Cabriolet (EM0/1_) 1.6 (83 KW / 113 HP)

MEGANE Il Coupé-Cabriolet (EM0/1_) 2.0 (99 KW / 135 HP)

MEGANE Il Coupé-Cabriolet (EMO/1_) 1.9 dCi (88 KW / 120
HP)

MEGANE Il Coupé-Cabriolet (EMO/1_) 1.9 dCi (96 KW / 131
HP)

MEGANE Il Coupé-Cabriolet (EMO/1_) 1.9 dGi (85 KW / 115
HP)

MEGANE Il Coupé-Cabriolet (EMO/1_) 1.9 dCi (81 KW /110
HP)

MEGANE Il Coupé-Cabriolet (EMO/1_) 2.0 dCi (110 KW / 150
HP)

MEGANE Il Coupé-Cabriolet (EMO/1_) 1.5 dGi (EM1E) (78 KW
/106 HP)

06.2006 - 12.2010

10.2003 - 02.2008

10.2003 - 02.2008

05.2005 - 02.2008

05.2005 - 02.2008

05.2005 - 06.2008

05.2005 - 12.2009

05.2004 - 10.2009

08.2006 - 02.2008

11.2002 - 02.2008

09.2005 - 02.2008

01.2007 - 02.2008

11.2002 - 12.2005

05.2004 - 03.2009

06.2005 - 03.2009

01.2006 - 06.2008

01.2007 - 06.2009

09.2003 - 03.2009

09.2003 - 12.2009

09.2003 - 03.2009

05.2005 - 02.2007

09.2003 - 03.2009

05.2005 - 03.2009

09.2005 - 03.2009

03.2006 - 01.2009

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5|{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5!<
MM14X1.5R
MM14X1.5|{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5!<
MM14X1.5R
MM14X1.5|{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5|{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5|{
MM14X1.5R

/
MM14X1.5R

MM14X1.5R

/
MM14X1.5R



MEGANE Il Coupé-Cabriolet (EM0/1_) 2.0 (102 KW / 139 HP)

MEGANE Il Hatchback Van (KM0/2_) 1.5 dCi (63 KW / 86 HP)

MEGANE Il Kasten/Kombi (KM_) 1.5 dCi (KM1F) (63 KW / 86

HP)

MEGANE Il Kasten/Kombi (KM_) 1.5 dCi (KM02) (74 KW /
101 HP)

MEGANE Il Kasten/Kombi (KM_) 1.5 dCi (KMOF) (60 KW / 82
HP)

MEGANE Il Kasten/Kombi (KM_) 1.5 dCi (KM1E) (78 KW /

106 HP)

MEGANE Il Kombi (KM0/1_) 1.6 16V (82 KW / 112 HP)

MEGANE Il Kombi (KM0/1_) 1.5 dCi (KM13) (76 KW / 103

HP)

MEGANE Il Kombi (KM0/1_) 1.9 dCi (68 KW / 92 HP)

MEGANE Il Kombi (KM0/1_) 1.5 dCi (74 KW / 101 HP)

MEGANE Il Kombi (KM0/1_) 2.0 (102 KW / 138 HP)

MEGANE Il Kombi (KM0/1_) 1.4 (72 KW / 98 HP)

MEGANE Il Kombi (KM0/1_) 1.6 (83 KW /113 HP)

MEGANE Il Kombi (KM0/1_) 2.0 (99 KW / 135 HP)

MEGANE Il Kombi (KM0/1_) 1.5 dCi (60 KW / 82 HP)

MEGANE Il Kombi (KM0/1_) 1.9 dCi (88 KW / 120 HP)

MEGANE Il Kombi (KM0/1_) 1.6 16V (81 KW /110 HP)

MEGANE Il Kombi (KM0/1_) 1.9 dCi (81 KW / 110 HP)

MEGANE Il Kombi (KM0/1_) 1.9 dCi (96 KW / 131 HP)

MEGANE Il Kombi (KM0/1_) 1.5 dCi (KM16, KM1E) (78 KW /

106 HP)

MEGANE Il Kombi (KM0/1_) 1.5 dCi (63 KW / 86 HP)

MEGANE Il Kombi (KM0/1_) 1.6 16V (77 KW / 105 HP)

MEGANE Il Kombi (KM0/1_) 1.6 LPG 16V (82 KW / 112 HP)

MEGANE Il Kombi (KM0/1_) 2.0 dCi (110 KW / 150 HP)

MEGANE Il Kombi (KM0/1_) 1.6 16V Hi-Flex (77 KW / 105
HP)

09.2003 - 02.2007

04.2005 - 02.2008

05.2005 - 07.2009

08.2003 - 07.2009

08.2003 - 07.2009

08.2003 - 07.2009

01.2006 - 08.2009

01.2007 - 07.2009

03.2004 - 02.2007

02.2004 - 03.2006

12.2006 - 01.2011

08.2003 - 07.2009

08.2003 - 07.2009

08.2003 - 07.2009

08.2003 - 05.2006

08.2003 - 07.2009

05.2006 - 10.2011

05.2005 - 07.2009

05.2005 - 07.2009

05.2005 - 06.2008

05.2005 - 07.2009

05.2005 - 07.2009

01.2006 - 08.2009

09.2005 - 07.2009

02.2008 - 07.2009

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R

/
MM14X1.5R



MEGANE Il Kombi (KM0/1_) 1.9 dCi (85 KW / 115 HP)

MEGANE Il Kombi (KM0/1_) 1.9 dCi (66 KW / 90 HP)

MEGANE Il Kombi (KM0/1_) 1.6 16V (75 KW / 102 HP)

MEGANE Il Stufenheck (LM0/1_) 1.6 16V (82 KW / 112 HP)

MEGANE Il Stufenheck (LM0/1_) 1.5 dCi (76 KW / 103 HP)

MEGANE Il Stufenheck (LM0/1_) 1.9 dCi (68 KW / 92 HP)

MEGANE Il Stufenheck (LMO/1_) 1.5 dCi (74 KW / 101 HP)

MEGANE Il Stufenheck (LMO/1_) 1.4 (60 KW / 82 HP)

MEGANE Il Stufenheck (LM0/1_) 1.4 (72 KW / 98 HP)

MEGANE Il Stufenheck (LM0/1_) 1.6 (83 KW / 113 HP)

MEGANE Il Stufenheck (LM0/1_) 2.0 (99 KW / 135 HP)

MEGANE Il Stufenheck (LM0/1_) 1.5 dCi (60 KW / 82 HP)

MEGANE Il Stufenheck (LMO/1_) 1.9 dCi (LMOG, LM1G, LM2Q)

(88 KW /120 HP)

MEGANE Il Stufenheck (LM0/1_) 1.6 (81 KW / 110 HP)

MEGANE Il Stufenheck (LM0/1_) 1.5 dCi (63 KW / 86 HP)

MEGANE Il Stufenheck (LMO/1_) 1.5 dCi (78 KW / 106 HP)

MEGANE Il Stufenheck (LMO/1_) 1.9 dCi (LM14, LM1D) (81

KW /110 HP)

MEGANE Il Stufenheck (LM0/1_) 1.9 dCi (96 KW / 131 HP)

MEGANE Il Stufenheck (LM0/1_) 2.0 dCi (110 KW / 150 HP)

MEGANE Il Stufenheck (LMO/1_) 1.6 (77 KW / 105 HP)

MEGANE Il Stufenheck (LMO/1_) 1.6 Hi-Flex (85 KW / 116

HP)

MEGANE Il Stufenheck (LM0/1_) 1.9 dCi (66 KW / 90 HP)

MEGANE Il Stufenheck (LM0/1_) 1.6 (75 KW / 102 HP)

MEGANE Ill Coupe (DZ0/1_) 2.0 TCe (DZ1N) (184 KW / 250

HP)

MEGANE Il Coupe (DZ0/1_) 1.4 TCe (DZOF, DZ1V) (96 KW /
131 HP)

05.2005 - 07.2009

04.2004 - 12.2005

05.2005 - 07.2009

01.2006 -

10.2003 -

03.2004 -

02.2004 -

09.2003 -

09.2003 -

09.2003 -

09.2003 -

08.2003 -

09.2003 -

09.2003 - 11.2008

05.2005 -

05.2005 -

05.2005 -

05.2005 -

09.2005 -

05.2005 -

03.2006 -

09.2003 - 12.2005

09.2003 -

05.2009 -

04.2009 -

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

MM14X1.5R

/
MM14X1.5R

MM14X1.5R
MM14X1.5I{
MM14X1.5R
MM14X1.5I<
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5I{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5I<
MM14X1.5R
MM14X1.5I{
MM14X1.5R
MM14X1.5I{
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5I{
MM14X1.5R
MM14X1.5I{
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5I{
MM14X1.5R
MM14X1.5I{
MM14X1.5R
MM14X1.5I<
MM14X1.5R
MM14X1.5F<
MM14X1.5R

/
MM14X1.5R



MEGANE Ill Coupe (DZ0/1_) 1.6 16V (DZOH) (74 KW / 101
HP)

MEGANE Ill Coupe (DZ0/1_) 2.0 TCe (DZOK) (132 KW / 180
HP)

MEGANE Il Coupe (DZ0/1 ) 1.5 dCi (DZOC, DZ1A) (66 KW /
90 HP)

MEGANE Il Coupe (DZ0/1_) 1.5 dCi (DZ09, DZOD, DZ1F,
DZ1G) (81 KW / 110 HP)

MEGANE Ill Coupe (DZ0/1_) 2.0 dCi (DZOL) (118 KW / 160
HP)

MEGANE Il Coupe (DZ0/1_) 2.0 CVT (DZOG, DZ1E) (103 KW /
140 HP)

MEGANE Ill Coupe (DZ0/1_) 2.0 TCe 220 (162 KW / 220 HP)

MEGANE Ill Coupe (DZ0/1_) 1.6 dCi (DZ00) (96 KW / 130 HP)

MEGANE Ill Coupe (DZ0/1_) 1.2 TCe (85 KW /116 HP)

MEGANE il Coupe (DZ0/1_) 1.9 dCi (DZON, DZ0J, DZ1J, DZ1K)

(96 KW / 131 HP)

MEGANE Ill Coupe (DZ0/1_) 1.6 16V (DZOU, DZ1B, DZ1H) (81
KW /110 HP)

MEGANE Ill Coupe (DZ0/1_) 1.2 TCe (DZ16) (97 KW / 132
HP)

MEGANE Il Coupe (DZ0/1_) 1.6 16V Bifuel (DZ03, DZ1Y) (81
KW /110 HP)

MEGANE Ill Coupe (DZ0/1_) 1.5 dCi (DZOA) (63 KW / 86 HP)

MEGANE Ill Coupe (DZ0/1_) 1.5 dGi (DZOB) (78 KW / 106 HP)

MEGANE Il Coupe (DZ0/1_) 2.0 RS. (195 KW / 265 HP)

MEGANE Il Coupe (DZ0/1_) 2.0 TCe (140 KW / 190 HP)

MEGANE Ill Coupe (DZ0/1_) 2.0 dCi (120 KW / 163 HP)

MEGANE Ill Coupe (DZ0/1_) 2.0 dCi (DZOY) (110 KW / 150

HP)

MEGANE Ill Schrigheck (BZ0_) 2.0 CVT (BZOG, BZ1P) (103
KW / 140 HP)

MEGANE Ill Schriigheck (BZ0_) 1.4 TCe (BZOF, BZ1V) (96 KW
/131 HP)

MEGANE Ill Schragheck (BZ0_) 1.5 dCi (BZ0C) (66 KW / 90
HP)

MEGANE Il Schrigheck (BZ0_) 1.5 dCi (BZ09, BZOD) (81 KW
/110 HP)

MEGANE Il Schrégheck (BZ0_) 2.0 dCi (BZOL) (118 KW / 160
HP)

MEGANE Ill Schrigheck (BZ0_) 1.6 dGi (BZ00, BZ12) (96 KW
/130 HP)

MEGANE Ill Schriigheck (BZ0_) 2.0 TCe 220 (162 KW / 220
HP)

11.2008 -

11.2008 -

11.2008 -

02.2009 -

04.2009 -

05.2009 -

11.20153 -

04.2011 -

03.2012 -

11.2008 -

11.2008 -

01.2013 -

11.2008 -

11.2008 -

02.2009 -

11.2008 -

06.2012 -

07.2012 -

04.2009 -

02.2009 -

04.2009 -

11.2008 -

02.2009 -

04.2009 -

04.2011 -

11.20153 -

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R

/
MM14X1.5R

210



MEGANE Il Schrégheck (BZ0_) 1.5 dCi (70 KW / 95 HP)

MEGANE Ill Schrégheck (BZ0_) 1.2 TCe (85 KW / 116 HP)

MEGANE Il Schrégheck (BZ0_) 2.0 (105 KW / 143 HP)

MEGANE Il Schrégheck (BZ0_) 1.5 dCi (78 KW / 106 HP)

MEGANE Ill Schragheck (BZ0_) 2.0 dCi (BZ0OY) (110 KW / 150

HP)

MEGANE Ill Schrigheck (BZ0_) 1.6 16V (BZ1B, BZLH) (81 KW
/110 HP)

MEGANE Il Schrigheck (BZ0_) 1.9 dCi (BZON, BZO0J) (96 KW /
131 HP)

MEGANE Ill Schriigheck (BZ0_) 1.6 16V Bifuel (BZ03) (81 KW
/110 HP)

MEGANE Ill Schragheck (BZ0_) 1.2 TCe (BZ16) (97 KW / 132
HP)

MEGANE Ill Schrégheck (BZ0_) 2.0 TCe (140 KW / 190 HP)

MEGANE Ill Schridgheck (BZ0_) 1.5 dCi (63 KW / 86 HP)

MEGANE Ill Schrégheck (BZ0_) 2.0 dCi (120 KW / 163 HP)

MEGANE lll Schrégheck (BZ0_) 1.6 16V (82 KW / 111 HP)

MEGANE lll Schrégheck (BZ0_) 1.6 16V (BZOH) (74 KW / 101

HP)

MEGANE Il Schrigheck (BZ0_) 2.0 TCe (BZOK) (132 KW /
180 HP)

MEGANE IV (B9A/M_) 1.2 TCe 130 (BI9MR) (97 KW / 130
HP)

MEGANE IV (B9A/M_) 1.2 TCe 100 (BIMS) (74 KW / 100
HP)

MEGANE IV (B9A/M_) 1.6 TCe 205 (B9MV) (151 KW / 205

HP)

MEGANE IV (B9A/M_) 1.5 dCi 90 (B9A1) (66 KW / 90 HP)

MEGANE IV (B9A/M_) 1.5 dCi 110 (B9A3) (81 KW / 110 HP)

MEGANE IV (B9A/M_) 1.6 dGi 130 (B9A4) (96 KW / 130 HP)

MEGANE IV (B9A/M_) 2.0 RS TCe 275 (201 KW / 273 HP)

MEGANE Scenic (JAO/1_) 1.4 i (JAOE) (55 KW / 75 HP)

MEGANE Scenic (JAO/1_) 1.6 i (JAOL) (55 KW / 75 HP)

MEGANE Scenic (JAO/1_) 1.6 e (JAOF) (66 KW / 90 HP)

11.2013 -

03.2012 -

01.2011 -

02.2009 -

10.2010 -

11.2008 -

11.2008 -

11.2008 -

01.2013 -

06.2012 -

12.2009 -

07.2012 -

11.2008 -

11.2008 -

11.2008 -

11.2015 -

11.2015 -

11.2015 -

11.2015 -

11.2015 -

11.2015 -

04.2016 -

01.1997 - 09.1999

01.1997 - 09.1999

10.1996 - 10.1999

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

beidseitig

Vorderachse

beidseitig

rechts

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240017

SKTR-0240017

SKTR-0240017

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

MM14X1.5R

/
MM14X1.5R

MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5|{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5|{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5|{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5|{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5R/
M12x1/
M14x1,5
310
M12x1/
M14x1,5
310
M12x1/

M14x1,5
310



MEGANE Scenic (JAO/1_) 2.0 i (JAOG) (84 KW / 114 HP)
MEGANE Scenic (JAO/1_) 1.9 dT (JAOK, JAOY) (66 KW / 90
HP)

MEGANE Scenic (JAO/1_) 2.0 (85 KW / 115 HP)

MEGANE Scenic (JAO/1_) 1.9 D (JAOJ) (47 KW / 64 HP)
MEGANE Scenic (JAO/1_) 1.6 16V (JAOB, JAO4, JA11) (79 KW
/107 HP)

MEGANE Scenic (JAO/1_) 2.0 RXE 4x4 (84 KW / 114 HP)
MEGANE Scenic (JAO/1_) 2.0 i (JAOG) (80 KW / 109 HP)

MEGANE Scenic (JAO/1_) 1.9 dT (JAOY) (69 KW / 94 HP)

MEGANE Scenic (JAO/1_) 1.9 dTi (JAON) (72 KW / 98 HP)

RENAULT SCENIC

MODEL

SCENIC | (JAO/1_) 1.9 dTi (JAON) (72 KW / 98 HP)

SCENIC | (JAO/1_) 1.9 D (47 KW / 64 HP)

SCENIC | (JAO/1) 1.6 (81 KW / 110 HP)

SCENIC | (JAO/1_) 1.8 4x4 (85 KW / 116 HP)

SCENIC | (JAO/1.) 1.6 (75 KW / 102 HP)

SCENIC | (JAO/1_) 2.0 16V (JA1B, JA1D) (102 KW / 139 HP)
SCENIC | (JAO/1_) 1.6 BiFuel (79 KW / 107 HP)

SCENIC | (JAO/1) 1.6 BiFuel (75 KW / 102 HP)

SCENIC | (JAO/1.) 1.8 16V (JA12, JALR, JALM, JA1A) (85 KW
/115 HP)

SCENIC | (JAO/1.) 1.6 (79 KW / 107 HP)

SCENIC | (JAO/1_) 1.9 dCi (JAO5, JALF) (75 KW / 102 HP)

SCENIC | (JAO/1) 1.9 dTi (JA1U) (59 KW / 80 HP)

SCENIC | (JAO/1_) 1.9 dCi RX4 (74 KW / 101 HP)

01.1997 - 09.1999

01.1997 - 09.1999

01.1999 - 12.2001

03.1997 - 09.1999

04.1998 - 10.1999

05.1997 - 10.1999

01.1999 - 09.1999

03.1997 - 08.1999

04.1997 - 09.1999

YEAR

09.1999 - 08.2003

09.1999 - 03.2001

06.2001 - 09.2003

07.2000 - 04.2001

03.2001 - 08.2003

07.2000 - 08.2003

09.1999 - 04.2001

03.2001 - 08.2003

01.2001 - 08.2003

09.1999 - 09.2003

09.1999 - 08.2003

02.2001 - 08.2003

12.2002 - 08.2003

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

beidseitig

Vorderachse

beidseitig

innen

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

rechts

Vorderachse
beidseitig

beidseitig

beidseitig

Vorderachse

beidseitig
innen
Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240048

SKTR-0240017

SKTR-0240017

SKTR-0240017

ITEMNUMBER

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240062

Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf’
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}

Linge [mm]

Lange [mm]
AuBengewinde
[mm]

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1,0 /
M14x1,5
218

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

M12x1/
M14x1,5
310

270
M14x1,5



SCENIC | (JAO/1 ) 2.0 16V RX4 (102 KW / 139 HP)

SCENIC | (JAO/1_) 2.0 16V (103 KW / 140 HP)

SCENIC | (JAO/1_) 1.9 dCi RX4 (75 KW / 102 HP)

SCENIC | (JAO/1_) 1.4 16V (JAOD, JA1H, JaOW, JA10) (70 KW

/95 HP)
SCENIC Il (JMO/1_) 2.0 16V Turbo (JMOW) (120 KW / 163
HP)

SCENIC Il JMO/1 ) 1.5 dCi JM16) (76 KW / 103 HP)
SCENIC Il JMO/1.) 1.6 16V (IM1R) (82 KW / 112 HP)
SCENIC Il IMO/1) 1.9 dGi (IMOG, JM12, JM1G, JM2C) (88
KW /120 HP)

SCENIC Il (JM0/1_) 2.0 (JMO5, JMOU, JM1N, JM1U, JM2V) (99

KW / 135 HP)

SCENIC Il JMO/1_) 1.5 dCi (JMOF) (60 KW / 82 HP)

SCENIC Il JMO/1_) 1.6 (JMOC, JMOJ, JM1B) (83 KW / 113 HP)

SCENIC Il JMO/1_) 1.4 (IMOB, JMOH, JM1A) (72 KW / 98 HP)

SCENIC Il (JMO/1_) 1.6 FlexFuel (85 KW / 116 HP)

SCENIC Il (JM0/1_) 2.0 (103 KW / 140 HP)

SCENIC Il (JM0O/1_) 1.6 BiFuel (83 KW / 113 HP)

SCENIC Il IMO/1_) 2.0 (101 KW / 138 HP)

SCENIC Il MO/1 ) 1.5 dCi JM02, JM13) (74 KW / 101 HP)

SCENIC Il (JM0O/1_) 1.5 dCi (JM1F) (63 KW / 86 HP)

SCENIC Il (JMO/1_) 1.5 dCi (JM1E) (78 KW / 106 HP)

SCENIC Il M0/1_) 1.9 dCi JM15) (81 KW / 110 HP)

SCENIC Il JMO/1_) 1.9 dCi (IM14) (96 KW / 131 HP)

SCENIC Il (JMO/1_) 1.9 dCi (72 KW / 98 HP)

SCENIC Il (JM0O/1_) 1.6 Hi-Flex (81 KW / 110 HP)

SCENIC Il (JMO/1_) 1.9 D (85 KW / 116 HP)

SCENIC Il (JM0/1_) 1.9 dGi (92 KW / 125 HP)

SCENIC Il JM0/1_) 2.0 dCi JM1K) (110 KW / 150 HP)

06.2000 - 08.2003

09.1999 - 08.2003

11.2000 - 08.2003

09.1999 - 08.2003

05.2004 -

01.2007 -

10.2005 -

06.2003 -

06.2003 -

06.2003 -

06.2003 -

06.2003 -

06.2007 -

06.2003 - 07.2010

08.2003 - 05.2006

02.2008 - 04.2009

11.2003 -

05.2005 -

05.2005 -

05.2005 -

05.2005 -

04.2004 - 10.2008

03.2005 - 07.2010

06.2006 -

06.2003 -

09.2005 -

Vorderachse
Vorderachse

beidseitig

Vorderachse

beidseitig

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

SKTR-0240062

SKTR-0240017

SKTR-0240017

SKTR-0240017

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

Linge [mm]
Auflengewinde
[mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

270
M14x1,5

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310

M12x1 /
M14x1,5
310
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R
/
MM14X1.5R
MM14X1.5R

/
MM14X1.5R

213



SCENIC Il (MO/1_) 1.9 dGi 130 (97 KW / 132 HP)

SCENIC Il JMO/1_) 1.6 (77 KW / 105 HP)

SCENIC il (/20/1_) 1.6 dCi (JZ00, JZ12) (96 KW / 130 HP)
SCENIC Il (020/1_) 1.2 TCe (85 KW / 116 HP)

SCENIC Il (20/1_) 1.6 16V (JZOU) (81 KW / 110 HP)
SCENIC Il (020/1_) 1.4 16V (JZOF) (96 KW / 131 HP)
SCENIC Il (J20/1_) 2.0 16V (JZOG, JZ1E) (103 KW / 140 HP)
SCENIC Il (J20/1_) 1.5 dCi (78 KW / 106 HP)

SCENIC Il (020/1_) 2.0 dCi (JZOY) (110 KW / 150 HP)
SCENIC Il (020/1_) 1.9 dCi (96 KW / 131 HP)

SCENIC Il (20/1_) 2.0 dCi (JZOL) (118 KW / 160 HP)
SCENIC Il (J20/1_) 1.6 E85 (JZ03) (81 KW / 110 HP)
SCENIC Il (J20/1_) 1.2 TCe ()216) (97 KW / 132 HP)
SCENIC Il (020/1_) 1.5 dCi (81 KW / 110 HP)

SCENIC Ill (020/1_) 1.5 dCi (63 KW / 86 HP)

SCENIC Il )Z0/1_) 1.5 dCi (70 KW / 95 HP)

RENAULT THALIA

MODEL

THALIA | (LBO/1/2_) 1.6 (82 KW / 112 HP)
THALIA | (LBO/1/2_) 1.5 dGi (47 KW / 64 HP)

THALIA 1 (LBO/1/2_) 1.6 (66 KW / 90 HP)

THALIA 1 (LBO/1/2_) 2.0 (124 KW / 169 HP)

THALIA 1 (LBO/1/2_) 3.0 V6 Turbo Sport (187 KW / 254 HP)

THALIA | (LBO/1/2_) 1.5 dGi (59 KW / 80 HP)

10.2005 - 12.2009

06.2006 -

04.2011 -

04.2012 -

02.2009 -

02.2009 -

02.2009 -

02.2009 -

02.2009 -

02.2009 -

04.2009 -

02.2009 -

01.2013 -

04.2009 -

04.2009 -

11.2010 -

YEAR

01.2004 - 12.2008

06.2005 -

03.1998 -

09.2001 -

06.2002 -

06.2001 - 10.2003

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

vorne

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

SKTR-0240001

ITEMNUMBER

SKTR-0240006

SKTR-0240006

SKTR-0240048

SKTR-0240006

SKTR-0240006

SKTR-0240006

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]

Gewindemaf}

Lange [mm]

MM14X1.5R

/
MM14X1.5R

MM14X1.5R
MM14X1.5I<
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5|{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5|{
MM14X1.5R
MM14X1.5F{
MM14X1.5R
MM14X1.5F<
MM14X1.5R
MM14X1.5R/
MM14X1.5R
MM14X1.5|<
MM14X1.5R
MM14X1.5|{
MM14X1.5R
MM14X1.5F<
MM14X1.5R

/
MM14X1.5R

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12x1,0 /
M14x1,5
218

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317



THALIA | (LBO/1/2_) 1.9 D (48 KW / 65 HP)

THALIA 1 (LBO/1/2_) 1.5 dCi (58 KW / 79 HP)
THALIA | (LBO/1/2_) 1.2 (43 KW / 58 HP)
THALIA | (LBO/1/2_) 1.4 (55 KW / 75 HP)
THALIA | (LBO/1/2_) 1.4 16V (72 KW / 98 HP)
THALIA | (LBO/1/2_) 1.5 dGi (48 KW / 65 HP)
THALIA | (LBO/1/2_) 1.6 16V (79 KW / 107 HP)
THALIA | (LBO/1/2_) 1.2 16V (55 KW / 75 HP)
THALIA | (LBO/1/2_) 1.5 dGi (50 KW / 68 HP)
THALIA | (LBO/1/2_) 1.5 dGi (60 KW / 82 HP)
THALIA Il (LU1/2_) 1.5 dGi (62 KW / 85 HP)

THALIA Il (LU1/2_) 1.6 16V (77 KW / 105 HP)

RENAULT TRAFIC

MODEL

TRAFIC Bus (TXW) 2.2 4x4 (74 KW / 101 HP)
TRAFIC Bus (TXW) 2.1 D (47 KW / 64 HP)
TRAFIC Bus (TXW) 2.2 (74 KW / 101 HP)

TRAFIC Bus (TXW) 2.5 D 4x4 (55 KW / 75 HP)

TRAFIC Il Bus ()L) 1.9 dCI 80 (JLOB) (60 KW / 82 HP)

TRAFIC Il Bus ()L) 1.9 dCI 100 (JLOC) (74 KW / 101 HP)

TRAFIC Il Bus (JL) 2.0 (JLOA) (88 KW / 120 HP)

TRAFIC Il Bus (JL) 2.5 DTi (99 KW / 135 HP)

TRAFIC Il Bus ()L) 2.5 dGi 135 (JLOD) (99 KW / 135 HP)

TRAFIC Il Bus ()L) 1.9 dCi (75 KW / 102 HP)

02.1998 - 05.2001

04.2004 - 11.2009

02.1998 - 10.2003

08.2000 -

08.2000 -

04.2002 -

04.2002 -

04.2002 -

02.2003 -

06.2001 -

09.2008 -

09.2008 -

YEAR

06.1994 - 10.1997

06.1994 - 10.1997

06.1994 - 10.1997

08.1989 - 03.2001

03.2001 -

03.2001 -

03.2001 -

03.2003 - 07.2003

05.2003 -

06.2001 -

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

beidseitig

Vorderachse
beidseitig

SKTR-0240048

SKTR-0240006

SKTR-0240048

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

SKTR-0240006

ITEMNUMBER

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]

Gewindemaf}

Lange [mm]

M12x1,0 /
M14x1,5
218

M12X1/
M14X1.5
317

M12x1,0 /
M14x1,5
218

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12X1/
M14X1.5
317

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280



TRAFIC Il Bus (JL) 2.5 dCi 115 (84 KW / 114 HP)

TRAFIC Il Bus ()L) 2.0 dCi 90 (JLOH) (66 KW / 90 HP)

TRAFIC Il Bus (JL) 2.0 dCi 115 (JLOH) (84 KW / 114 HP)

TRAFIC Il Bus (JL) 2.5 dCi 145 (JLOJ) (107 KW / 146 HP)

TRAFIC Il Bus (JL) 1.9 dCi (59 KW / 80 HP)

TRAFIC Il Bus ()L) 2.0 16V (86 KW / 117 HP)

TRAFIC Il Kasten (FL) 2.0 (FLOA) (88 KW / 120 HP)

TRAFIC Il Kasten (FL) 1.9 dCi 80 (FLOB) (60 KW / 82 HP)

TRAFIC ll Kasten (FL) 1.9 dGi 100 (FLOC) (74 KW / 101 HP)

TRAFIC Il Kasten (FL) 1.9 dCi (75 KW / 102 HP)

TRAFIC Il Kasten (FL) 2.5 DTi (99 KW / 135 HP)

TRAFIC Il Kasten (FL) 2.0 dGi 90 (FLOH) (66 KW / 90 HP)

TRAFIC Il Kasten (FL) 2.0 dCi 115 (FLO1, FLOU) (84 KW /

114 HP)

TRAFIC Il Kasten (FL) 2.5 dCi 145 (FLOJ) (107 KW / 146 HP)

TRAFIC Il Kasten (FL) 1.9 dCi (59 KW / 80 HP)

TRAFIC Il Kasten (FL) 2.5 dGi 135 (FLOD) (99 KW / 135 HP)

TRAFIC Il Kasten (FL) 2.0 16V (86 KW / 117 HP)

TRAFIC Il Kasten (FL) 2.5 dCi (84 KW / 114 HP)

TRAFIC Il Pritsche/Fahrgestell (EL) 2.0 (ELOA) (88 KW /120

HP)

TRAFIC Il Pritsche/Fahrgestell (EL) 1.9 dCi 80 (ELOB) (60 KW
/82 HP)

TRAFIC Il Pritsche/Fahrgestell (EL) 1.9 dCi 100 (ELOC) (74
KW / 101 HP)

TRAFIC Il Pritsche/Fahrgestell (EL) 2.5 dCi 135 (ELOD) (99
KW /135 HP)

TRAFIC Il Pritsche/Fahrgestell (EL) 2.5 dCi (84 KW / 114 HP)
TRAFIC Il Pritsche/Fahrgestell (EL) 2.0 dGi 90 (ELOH) (66 KW
/90 HP)

TRAFIC Il Pritsche/Fahrgestell (EL) 2.0 dCi 115 (ELOH) (84
KW / 114 HP)

TRAFIC Il Pritsche/Fahrgestell (EL) 2.5 dCi 145 (ELOJ) (107
KW / 146 HP)

02.2008 -

08.2006 -

08.2006 -

08.2006 -

04.2001 - 07.2003

08.2006 -

03.2001 -

03.2001 -

03.2001 -

03.2001 -

03.2003 - 07.2003

08.2006 -

08.2006 -

08.2006 -

04.2001 - 07.2003

05.2003 -

08.2006 -

08.2007 -

03.2001 -

03.2001 -

03.2001 -

03.2001 -

08.2007 -

08.2006 -

08.2006 -

08.2006 -

beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

beidseitig

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

innen
Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf

Linge [mm]

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /

M14x1,5
280

216



TRAFIC Il Pritsche/Fahrgestell (EL) 1.9 dCi (59 KW / 80 HP)

TRAFIC lll Bus 1.6 dCi 90 (66 KW / 90 HP)

TRAFIC Il Bus 1.6 dCi 115 (85 KW / 116 HP)

TRAFIC Il Bus 1.6 dCi 120 (88 KW / 120 HP)

TRAFIC lll Bus 1.6 dCi 140 (103 KW / 140 HP)

TRAFIC lll Kasten 1.6 dCi 95 (70 KW / 95 HP)

TRAFIC lll Kasten 1.6 dCi 125 (92 KW / 125 HP)

TRAFIC lll Kasten 1.6 dCi 90 (66 KW / 90 HP)

TRAFIC lll Kasten 1.6 dCi 115 (85 KW / 116 HP)

TRAFIC lll Kasten 1.6 dCi 145 (107 KW / 145 HP)

TRAFIC lll Kasten 1.6 dCi 120 (88 KW / 120 HP)

TRAFIC lll Kasten 1.6 dCi 140 (103 KW / 140 HP)

TRAFIC lll Pritsche/Fahrgestell (EG_) 1.6 dCi 90 (66 KW / 90

HP)

TRAFIC l Pritsche/Fahrgestell (EG_) 1.6 dCi 125 (92 KW /
125 HP)

TRAFIC Ill Pritsche/Fahrgestell (EG_) 1.6 dCi 145 (107 KW /
145 HP)

TRAFIC l Pritsche/Fahrgestell (EG_) 1.6 dCi 120 (88 KW /

120 HP)

TRAFIC Kasten (TXX) 2.5 D (55 KW / 75 HP)

TRAFIC Kasten (TXX) 2.1 D (47 KW / 64 HP)

TRAFIC Kasten (TXX) 2.5 D 4x4 (55 KW / 75 HP)

TRAFIC Kasten (TXX) 2.2 (74 KW / 101 HP)

TRAFIC Kasten (TXX) 2.2 4x4 (74 KW / 101 HP)

TRAFIC Pritsche/Fahrgestell (PXX) 2.2 4x4 (74 KW / 101

HP)

TRAFIC Pritsche/Fahrgestell (PXX) 2.2 (74 KW / 101 HP)

TRAFIC Pritsche/Fahrgestell (PXX) 2.5 D 4x4 (58 KW /79

HP)

TRAFIC Pritsche/Fahrgestell (PXX) 2.1 D (47 KW / 64 HP)

TRAFIC Pritsche/Fahrgestell (PXX) 2.1 D [RWD] (47 KW / 64
HP)

09.2001 - 07.2003

05.2014 -

05.2014 -

05.2014 -

05.2014 -

07.2015 -

07.2015 -

05.2014 -

05.2014 -

07.2015 -

05.2014 -

05.2014 -

05.2014 -

07.2015 -

07.2015 -

06.2014 -

05.1989 - 03.2001

06.1994 - 10.1997

05.1989 - 03.2001

06.1994 - 10.1997

06.1994 - 10.1997

09.1994 - 04.1998

09.1994 - 04.1998

09.1994 - 01.1999

09.1994 - 04.1998

06.1994 - 10.1997

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

innen

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse

beidseitig

Vorderachse
beidseitig

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

SKTR-0240106

Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf?
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1/
M14x1,5
280

M12x1 /
M14x1,5
280

M12x1 /

M14x1,5
280

217






ROVER 45

MODEL

45 (RT) 1.4 (76 KW / 103 HP)

45 (RT) 1.6 (80 KW / 109 HP)

45 (RT) 1.8 (86 KW / 117 HP)

45 (RT) 2.0 iDT (74 KW / 101 HP)

45 (RT) 2.0 V6 (110 KW / 150 HP)

45 (RT) 2.0 iDT (83 KW / 113 HP)

45 Stufenheck (RT) 1.4 (76 KW / 103 HP)

45 Stufenheck (RT) 1.6 (80 KW / 109 HP)

45 Stufenheck (RT) 1.8 (86 KW / 117 HP)

45 Stufenheck (RT) 2.0 V6 (110 KW / 150 HP)

45 Stufenheck (RT) 2.0 iDT (74 KW / 101 HP)

45 Stufenheck (RT) 2.0 iDT (83 KW /113 HP)

OVER

YEAR

02.2000 - 05.2005

02.2000 - 05.2005

02.2000 - 05.2005

02.2000 - 05.2005

02.2000 - 05.2005

01.2004 - 05.2005

02.2000 - 05.2005

02.2000 - 05.2005

02.2000 - 05.2005

02.2000 - 05.2005

02.2000 - 05.2005

01.2004 - 05.2005

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

ITEM NUMBER

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

SKTR-0240032

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuRengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25

193
M14x1,5/
M12x1,25



SAAB 9-3

MODEL

9-3 (YS3F) 1.8 i (90 KW / 122 HP)

9-3 (YS3F) 1.9 TiD (88 KW / 120 HP)

9-3 (YS3F) 1.9 TiD (110 KW / 150 HP)

9-3 (YS3F) 2.8 Turbo V6 (184 KW / 250 HP)

9-3 (YS3F) 2.0 Turbo Performance (185 KW / 252 HP)

9-3 (YS3F) 2.0 t XWD (177 KW / 241 HP)

9-3 (YS3F) 2.8 Turbo V6 (169 KW / 230 HP)

9-3 (YS3F) 2.0 t BioPower XWD (120 KW / 163 HP)

9-3 (YS3F) 1.9 TTiD (118 KW / 160 HP)

9-3 (YS3F) 2.0 t XWD (120 KW / 163 HP)

9-3 (YS3F) 1,8t BioPower (129 KW / 175 HP)

9-3 (YS3F) 2.0 t BioPower (147 KW / 200 HP)

9-3 (YS3F) 2.0 t BioPower (154 KW / 210 HP)

9-3 (YS3F) 1,8t (110 KW / 150 HP)

9-3 (YS3F) 2.0 t (177 KW / 241 HP)

9-3 (YS3F) 2.0 t (154 KW / 210 HP)

9-3 (YS3F) 2.2 TiD (92 KW / 125 HP)

9-3 (YS3F) 2.0 t (129 KW / 175 HP)

9-3 (YS3F) 1.9 TTiD (96 KW / 130 HP)

9-3 (YS3F) 2.0 t BioPower (145 KW / 197 HP)

SAAB

YEAR

01.2004 - 02.2015

09.2004 - 02.2015

09.2004 - 02.2015

03.2005 - 02.2015

04.2004 - 02.2015

05.2009 - 02.2015

03.2005 - 02.2015

01.2008 - 02.2015

12.2007 - 02.2015

01.2007 - 02.2015

05.2009 - 02.2015

05.2009 - 02.2015

09.2002 - 02.2015

09.2002 - 02.2015

05.2009 - 02.2015

09.2002 - 02.2015

09.2002 - 02.2015

09.2002 - 02.2015

12.2007 - 02.2015

06.2007 - 02.2015

FITTING POSITION

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

ITEM NUMBER

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

ITEM DETAILS

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

MM18X1.5R
MM14X1.5|(
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R
MM18X1.5R
MM14X1.5|<
MM18X1.5R
MM14X1.5|<
MM18X1.5R
MM14X1.5|{
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R
MM18X1.5R
MM14X1.5|<
MM18X1.5R
MM14X1.5|<
MM18X1.5R
MM14X1.5|{
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R
MM18X1.5R
MM14X1.5|<
MM18X1.5R
MM14X1.5|<
MM18X1.5R
MM14X1.5F{
MM18X1.5R
MM14X1.5F{
MM18X1.5R
MM14X1.5R/
MM18X1.5R
MM14X1.5|<
MM18X1.5R

/
MM14X1.5R



9-3 (YS3F) 2.8 Turbo V6 (203 KW / 276 HP)

9-3 (YS3F) 1,8t BioPower (110 KW / 150 HP)

9-3 (YS3F) 2.0 t BioPower (129 KW / 175 HP)

9-3 (YS3F) 2.8 Turbo V6 (188 KW / 256 HP)

9-3 (YS3F) 2.0 t Bio Power (162 KW / 220 HP)

9-3 (YS3F) 2.0 t Bio Power (120 KW / 163 HP)

9-3 (YS3F) 1.9 TTiD (132 KW / 180 HP)

9-3 (YS3F) 2.8 Turbo V6 XWD (206 KW / 280 HP)

9-3 (YS3F) 2.0 t (162 KW / 220 HP)

9-3 (YS3F) 2.0 t (120 KW / 163 HP)

9-3 (YS3F) 2.0 t XWD (162 KW / 220 HP)

9-3 (YS3F) 2.0 t BioPower XWD (162 KW / 220 HP)

9-3 Cabriolet (YS3F) 2.8 Turbo V6 (184 KW / 250 HP)

9-3 Cabriolet (YS3F) 1,8t (110 KW / 150 HP)

9-3 Cabriolet (YS3F) 2.0 t (129 KW / 175 HP)

9-3 Cabriolet (YS3F) 2.0 t (154 KW / 210 HP)

9-3 Cabriolet (YS3F) 2.0 Turbo Performance (185 KW / 252

HP)

9-3 Cabriolet (YS3F) 2.8 Turbo V6 (169 KW / 230 HP)

9-3 Cabriolet (YS3F) 1.9 TiD (110 KW / 150 HP)

9-3 Cabriolet (YS3F) 1.9 TTiD (118 KW / 160 HP)

9-3 Cabriolet (YS3F) 1.8 i (90 KW / 122 HP)

9-3 Cabriolet (YS3F) 1.9 TiD (88 KW / 120 HP)

9-3 Cabriolet (YS3F) 1,8t BioPower (129 KW / 175 HP)

9-3 Cabriolet (YS3F) 2.0 t BioPower (147 KW / 200 HP)

04.2008 - 02.2015

01.2007 - 02.2015

01.2007 - 02.2015

12.2007 - 02.2015

01.2011 - 02.2015

01.2007 - 02.2015

12.2007 - 02.2015

05.2008 - 02.2015

01.2011 - 02.2015

01.2007 - 02.2015

01.2008 - 02.2015

01.2008 - 02.2015

02.2006 - 02.2015

08.2003 - 02.2015

08.2003 - 02.2015

08.2003 - 02.2015

04.2004 - 02.2015

02.2006 - 02.2015

01.2006 - 02.2015

12.2007 - 02.2015

01.2004 - 02.2015

09.2004 - 02.2015

01.2007 - 02.2015

06.2007 - 02.2015

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf’

Gewindemaf}

MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R
MM18X1.5R
MM14X1.5R/
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R
MM18X1.5R
MM14X1.5R/
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R
MM18X1.5R
MM14X1.5I<
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R
MM18X1.5R
MM14X1.5I<
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5!{
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R

MM18X1.5R
/
MM14X1.5R



9-3 Cabriolet (YS3F) 2.8 Turbo V6 (203 KW / 276 HP)

9-3 Cabriolet (YS3F) 1.9 TTiD (96 KW / 130 HP)

9-3 Cabriolet (YS3F) 2.8 Turbo V6 (206 KW / 280 HP)

9-3 Cabriolet (YS3F) 1,8t BioPower (110 KW / 150 HP)

9-3 Cabriolet (YS3F) 2.0 t BioPower (129 KW / 175 HP)

9-3 Cabriolet (YS3F) 2.8 Turbo V6 (188 KW / 256 HP)

9-3 Cabriolet (YS3F) 1.9 TTiD (132 KW / 180 HP)

9-3 Cabriolet (YS3F) 2.0 t (120 KW / 163 HP)

9-3 Cabriolet (YS3F) 2.0 t BioPower (120 KW / 163 HP)

9-3 Cabriolet (YS3F) 2.0 t (162 KW / 220 HP)

9-3 Cabriolet (YS3F) 2.0 t BioPower (162 KW / 220 HP)

9-3 Kombi (YS3F) 2.0 t XWD (154 KW / 209 HP)

9-3 Kombi (YS3F) 1.8 i (90 KW / 122 HP)

9-3 Kombi (YS3F) 2.0 t (110 KW / 150 HP)

9-3 Kombi (YS3F) 2.0 t (129 KW / 175 HP)

9-3 Kombi (YS3F) 2.0 t (154 KW / 209 HP)

9-3 Kombi (YS3F) 1.9 TiD (88 KW / 120 HP)

9-3 Kombi (YS3F) 1.9 TiD (110 KW / 150 HP)

9-3 Kombi (YS3F) 2.8 Turbo V6 (184 KW / 250 HP)

9-3 Kombi (YS3F) 2.0 t Bio Power (147 KW / 200 HP)

9-3 Kombi (YS3F) 2.0 t Bio Power XWD (154 KW / 209 HP)

9-3 Kombi (YS3F) 2.0 t BioPower XWD (120 KW / 163 HP)

9-3 Kombi (YS3F) 2.8 Turbo V6 (169 KW / 230 HP)

9-3 Kombi (YS3F) 1.8 t BioPower (110 KW / 150 HP)

9-3 Kombi (YS3F) 2.0 t BioPower (129 KW / 175 HP)

02.2009 - 02.2015

12.2007 - 02.2015

02.2009 - 02.2015

01.2007 - 02.2015

01.2007 - 02.2015

12.2007 - 02.2015

12.2007 - 02.2015

01.2011 - 02.2015

01.2011 - 02.2015

01.2011 - 02.2015

01.2011 - 02.2015

06.2008 - 02.2015

03.2005 - 02.2015

03.2005 - 02.2015

03.2005 - 02.2015

03.2005 - 02.2015

03.2005 - 02.2015

03.2005 - 02.2015

03.2005 - 02.2015

02.2009 - 02.2015

06.2008 - 02.2015

01.2011 - 02.2015

03.2005 - 02.2015

01.2007 - 02.2015

01.2007 - 02.2015

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

MM18X1.5R

/
MM14X1.5R

MM18X1.5R
MM14X1.5R/
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R
MM18X1.5R
MM14X1.5R/
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5F{
MM18X1.5R
MM14X1.5F<
MM18X1.5R
MM14X1.5R/
MM18X1.5R
MM14X1.5!<
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R
MM18X1.5R
MM14X1.5R/
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5F{
MM18X1.5R

/
MM14X1.5R
MM18X1.5R
MM14X1.5R/
MM18X1.5R
MM14X1.5l{
MM18X1.5R
MM14X1.5l{
MM18X1.5R

/
MM14X1.5R



9-3 Kombi (YS3F) 1.9 TTiD (96 KW / 130 HP)

9-3 Kombi (YS3F) 1.8 t (110 KW / 150 HP)

9-3 Kombi (YS3F) 1.9 TTiD (118 KW / 160 HP)
9-3 Kombi (YS3F) 2.0 t (147 KW / 200 HP)

9-3 Kombi (YS3F) 2.0 t BioPower (145 KW / 197 HP)
9-3 Kombi (YS3F) 2.8 Turbo V6 (203 KW / 276 HP)

9-3 Kombi (YS3F) 2.8 Turbo V6 (188 KW / 256 HP)

9-3 Kombi (YS3F) 2.8 Turbo V6 XWD (206 KW / 280 HP)
9-3 Kombi (YS3F) 1.9 TTiD (132 KW / 180 HP)

9-3 Kombi (YS3F) 2.0 t XWD (120 KW / 163 HP)

9-3 Kombi (YS3F) 2.0 t (120 KW / 163 HP)

9-3 Kombi (YS3F) 2.0 t BioPower (120 KW / 163 HP)
9-3 Kombi (YS3F) 2.0 t (162 KW / 220 HP)

9-3 Kombi (YS3F) 2.0 t XWD (162 KW / 220 HP)

9-3 Kombi (YS3F) 2.0 t BioPower (162 KW / 220 HP)

SAAB 9-5

MODEL
9-5 (YS3E) 3.0 (149 KW / 203 HP)

9-5 (YS3E) 2.3 (171 KW / 233 HP)

9-5 (YS3E) 2.0 t (110 KW / 150 HP)

9-5 (YS3E) 2.3 t (125 KW / 170 HP)

9-5 (YS3E) 3.0 V6t (147 KW / 200 HP)

9-5 (YS3E) 3.0 TiD (130 KW / 177 HP)

9-5 (YS3E) 2.0 t (136 KW / 185 HP)

9-5 (YS3E) 2.0 Turbo SE (141 KW / 192 HP)
9-5 (YS3E) 2.3 Turbo (169 KW / 230 HP)
9-5 (YS3E) 2.3 t (136 KW / 185 HP)

9-5 (YS3E) 2.3 Turbo (184 KW / 250 HP)

12.2007 - 02.2015

03.2005 - 02.2015

12.2007 - 02.2015

02.2009 - 02.2015

06.2007 - 02.2015

05.2008 - 02.2015

12.2007 - 02.2015

05.2008 - 02.2015

12.2007 - 02.2015

01.2007 - 02.2015

01.2007 - 02.2015

01.2011 - 02.2015

01.2011 - 02.2015

01.2011 - 02.2015

01.2011 - 02.2015

YEAR

09.1998 - 12.2003

09.1999 - 12.2009

09.1997 - 12.2009

09.1997 - 12.2009

01.1998 - 12.2009

07.2001 - 12.2009

07.2000 - 12.2009

10.1998 - 07.2000

10.1999 - 09.2001

01.2001 - 12.2009

09.2001 - 12.2009

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

SKTR-0240026

ITEMNUMBER

SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

ITEM DETAILS

Gewindemaf

Gewindemaf}

Gewindemaf

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

MM18X1.5R

/
MM14X1.5R
MM18X1.5R

/
MM14X1.5R

MM18X1.5R
MM14X1.5|<
MM18X1.5R
MM14X1.5I{
MM18X1.5R
MM14X1.5F{
MM18X1.5R
MM14X1.5F{
MM18X1.5R
MM14X1.5F{
MM18X1.5R
MM14X1.5|<
MM18X1.5R
MM14X1.5I{
MM18X1.5R
MM14X1.5F{
MM18X1.5R
MM14X1.5F{
MM18X1.5R
MM14X1.5F{
MM18X1.5R
MM14X1.5|<
MM18X1.5R
MM14X1.5I{
MM18X1.5R

/
MM14X1.5R

M16x1,5
M16x1,5
M16x1,5
M16x1,5
M16x1,5
M16x1,5
M16x1,5
M16x1,5
M16x1,5
M16x1,5

M16x1,5



9-5 (YS3E) 2.2 TiD (88 KW / 120 HP)

9-5 Kombi (YS3E) 3.0 (149 KW / 203 HP)

9-5 Kombi (YS3E) 2.3 (171 KW / 233 HP)

9-5 Kombi (YS3E) 2.3 Turbo (184 KW / 250 HP)
9-5 Kombi (YS3E) 3.0 TiD (130 KW / 177 HP)
9-5 Kombi (YS3E) 2.0 t (141 KW / 192 HP)

9-5 Kombi (YS3E) 2.0 t (136 KW / 185 HP)

9-5 Kombi (YS3E) 2.0 t (110 KW / 150 HP)

9-5 Kombi (YS3E) 2.3 t (125 KW / 170 HP)

9-5 Kombi (YS3E) 3.0 V6t (147 KW / 200 HP)
9-5 Kombi (YS3E) 2.3 Turbo (169 KW / 230 HP)
9-5 Kombi (YS3E) 2.3 t (136 KW / 185 HP)

9-5 Kombi (YS3E) 2.2 TiD (88 KW / 120 HP)

03.2002 - 12.2009

10.1998 - 12.2003

09.1999 - 12.2009

09.2001 - 12.2009

07.2001 - 12.2009

10.1998 - 07.2000

07.2000 - 07.2001

10.1998 - 12.2009

10.1998 - 12.2009

10.1998 - 12.2009

10.1999 - 09.2001

01.2001 - 12.2009

03.2002 - 12.2009

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037
SKTR-0240037

SKTR-0240037

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf}

Gewindemaf

Gewindemaf}

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5

M16x1,5



SEAT SEA

SEAT ALHAMBRA

MODEL

ALHAMBRA (710, 711) 1.4 TSI (110 KW / 150 HP)
ALHAMBRA (710, 711) 2.0 TDI (103 KW / 140 HP)

ALHAMBRA (710, 711) 2.0 TDI (125 KW / 170 HP)

ALHAMBRA (710, 711) 2.0 TDI 4Drive (135 KW / 184 HP)

ALHAMBRA (710, 711) 2.0 TDI (85 KW / 115 HP)

ALHAMBRA (710, 711) 2.0 TDI Allrad (103 KW / 140 HP)

ALHAMBRA (710, 711) 2.0 TDI (100 KW / 136 HP)

ALHAMBRA (710, 711) 2.0 TSI (147 KW / 200 HP)

ALHAMBRA (710, 711) 1.8 TFSI (118 KW / 160 HP)

ALHAMBRA (710, 711) 1.4 TSI (110 KW / 150 HP)

ALHAMBRA (710, 711) 2.0 TDI (130 KW / 177 HP)

ALHAMBRA (7V8, 7V9) 1.9 TDI (96 KW / 131 HP)
ALHAMBRA (7V8, 7V9) 2.0 i (85 KW / 115 HP)
ALHAMBRA (7V8, 7V9) 1.9 TDI (66 KW / 90 HP)
ALHAMBRA (7V8, 7V9) 1.9 TDI (110 KW / 150 HP)

ALHAMBRA (7V8, 7V9) 2.0 TDI (103 KW / 140 HP)

ALHAMBRA (7V8, 7V9) 1.8 T 20V (110 KW / 150 HP)

ALHAMBRA (7V8, 7V9) 2.8 V6 (150 KW / 204 HP)

ALHAMBRA (7V8, 7V9) 1.9 TDI (85 KW / 115 HP)

ALHAMBRA (7V8, 7V9) 1.9 TDI 4motion (85 KW / 115 HP)

ALHAMBRA (7V8, 7V9) 2.8 V6 4motion (150 KW / 204 HP)

ALHAMBRA (7V8, 7V9) 1.9 TDI (81 KW / 110 HP)

YEAR

06.2010 -

06.2010 -

06.2010 -

05.2016 -

05.2011 -

05.2011 -

06.2010 - 05.2011

11.2010 -

11.2012 -

05.2015 -

11.2012 -

11.2002 - 11.2008

04.1996 - 03.2010

04.1996 - 03.2010

05.2005 - 05.2007

11.2005 - 03.2010

10.1997 - 03.2010

06.2000 - 03.2010

06.2000 - 03.2010

06.2000 - 03.2010

06.2000 - 03.2010

08.1996 - 06.2000

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEM NUMBER

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



SEAT ALTEA

MODEL YEAR FITTING POSITION ITEMNUMBER ITEM DETAILS
ALTEA (5P1) 1.6 TDI (66 KW / 90 HP) 11.2010 - rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 2.0 TDI (100 KW / 136 HP) 03.2004 - 05.2009 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 1.9 TDI (66 KW / 90 HP) 08.2009 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 2.0 TDI (125 KW / 170 HP) 03.2006 - rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 2.0 TFSI (147 KW / 200 HP) 04.2006 - 05.2009 rechts SKTR-0240040 Lénge [mm] 333
AuBengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 1.6 LPG (75 KW / 102 HP) 09.2009 - rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 1.4 TSI (92 KW / 125 HP) 11.2007 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 1.4 16V (63 KW / 86 HP) 05.2006 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 1.8 TFSI (118 KW / 160 HP) 01.2007 - rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 1.2 TSI (77 KW / 105 HP) 04.2010 - rechts SKTR-0240040 Léinge [mm] 333
Aulengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 1.6 TDI (77 KW / 105 HP) 10.2009 - rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 2.0 TDI (103 KW / 140 HP) 11.2005 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 1.6 (75 KW / 102 HP) 03.2004 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 2.0 FSI (110 KW / 150 HP) 05.2004 - 03.2009 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 1.9 TDI (77 KW / 105 HP) 04.2004 - rechts SKTR-0240040 Léinge [mm] 333
AuBengewinde M16x1,5/
[mm] M16x1,5
ALTEA (5P1) 2.0 TDI 16V (103 KW / 140 HP) 03.2004 - rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
ALTEA XL (5P5, 5P8) 2.0 TDI (100 KW / 136 HP) 11.2006 - 03.2009 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
ALTEA XL (5P5, 5P8) 2.0 TDI 4x4 (103 KW / 140 HP) 06.2007 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
ALTEA XL (5P5, 5P8) 2.0 TFSI 4x4 (155 KW / 211 HP) 05.2009 - rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
ALTEA XL (5P5, 5P8) 1.6 TDI (66 KW / 90 HP) 11.2010 - rechts SKTR-0240040 Léinge [mm] 333
AuBengewinde M16x1,5/
[mm] M16x1,5
ALTEA XL (5P5, 5P8) 2.0 TDI 16V 4x4 (103 KW / 140 HP)  10.2010 - rechts SKTR-0240040 Léinge [mm] 333
Au3engewinde M16x1,5/
[mm] M16x1,5
ALTEA XL (5P5, 5P8) 1.9 TDI (66 KW / 90 HP) 08.2009 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
ALTEA XL (5P5, 5P8) 1.4 16V (63 KW / 86 HP) 10.2006 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
ALTEA XL (5P5, 5P8) 1.6 LPG (75 KW / 102 HP) 09.2009 - rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5




ALTEA XL (5P5, 5P8) 2.0 TDI (125 KW / 170 HP)
ALTEA XL (5P5, 5P8) 1.8 TFSI (118 KW / 160 HP)
ALTEA XL (5P5, 5P8) 1.4 TSI (92 KW / 125 HP)
ALTEA XL (5P5, 5P8) 2.0 TFSI 4x4 (147 KW / 200 HP)
ALTEA XL (5P5, 5P8) 2.0 TDI 4x4 (125 KW / 170 HP)
ALTEA XL (5P5, 5P8) 1.2 TSI (77 KW / 105 HP)
ALTEA XL (5P5, 5P8) 1.6 (75 KW / 102 HP)

ALTEA XL (5P5, 5P8) 2.0 FSI (110 KW / 150 HP)
ALTEA XL (5P5, 5P8) 1.9 TDI (77 KW / 105 HP)
ALTEA XL (5P5, 5P8) 2.0 TDI 16V (103 KW / 140 HP)
ALTEA XL (5P5, 5P8) 2.0 TDI (103 KW / 140 HP)
ALTEA XL (5P5, 5P8) 1.6 TDI (77 KW / 105 HP)
ALTEA XL (5P5, 5P8) 2.0 TFSI (155 KW / 211 HP)
ALTEA XL (5P5, 5P8) 1.6 Multifuel (75 KW / 102 HP)

ALTEA XL (5P5, 5P8) 2.0 TFSI (147 KW / 200 HP)

SEAT AROSA

MODEL
AROSA (6H) 1.0 (37 KW / 50 HP)
AROSA (6H) 1.4 16V (74 KW / 100 HP)
AROSA (6H) 1.4 TDI (55 KW / 75 HP)
AROSA (6H) 1.7 SDI (44 KW / 60 HP)
AROSA (6H) 1.0 (37 KW / 50 HP)

AROSA (6H) 1.4 (44 KW / 60 HP)

SEAT CORDOBA

MODEL

CORDOBA (6K1, 6K2) 1.9 SDI (47 KW / 64 HP)

06.2007 -

01.2007 -

11.2007 -

06.2007 - 05.2009

06.2007 -

04.2010 -

10.2006 -

10.2006 - 03.2009

10.2006 -

10.2006 -

10.2006 -

10.2009 -

05.2009 -

10.2006 -

10.2006 - 05.2009

YEAR

10.1998 - 01.2001

01.2000 - 06.2004

01.2000 - 06.2004

08.1997 - 06.2004

05.1997 - 06.2004

05.1997 - 06.2004

YEAR

08.1996 - 06.1999

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

links

links

FITTING POSITION

Vorderachse

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEMNUMBER

SKRA-0250049

SKRA-0250049

SKRA-0250049

SKRA-0250049

SKRA-0250049

SKRA-0250049

ITEMNUMBER

SKRA-0250068

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]

Aufdengewinde
[mm]

ITEM DETAILS

ITEM DETAILS

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



CORDOBA (6K1, 6K2) 1.6 i (74 KW / 101 HP)
CORDOBA (6K1, 6K2) 1.9 SDI (50 KW / 68 HP)
CORDOBA (6K1, 6K2) 1.4 i (44 KW / 60 HP)
CORDOBA (6K1, 6K2) 1.6 i (55 KW / 75 HP)
CORDOBA (6K1, 6K2) 1.8 i (66 KW / 90 HP)
CORDOBA (6K1, 6K2) 2.0 i (85 KW / 115 HP)
CORDOBA (6K1, 6K2) 1.9 D (50 KW / 68 HP)
CORDOBA (6K1, 6K2) 1.9 TD (55 KW / 75 HP)
CORDOBA (6K1, 6K2) 1.8 i 16V (95 KW / 129 HP)
CORDOBA (6K1, 6K2) 1.4 16V (55 KW / 75 HP)
CORDOBA (6K1, 6K2) 1.8 T 20V Cupra (115 KW / 156 HP)
CORDOBA (6K1, 6K2) 1.3 (40 KW / 54 HP)
CORDOBA (6K1, 6K2) 1.4 (40 KW / 54 HP)
CORDOBA (6K1, 6K2) 2.0 i 16V (110 KW / 150 HP)
CORDOBA (6K1, 6K2) 1.9 TDI (66 KW / 90 HP)
CORDOBA (6K1, 6K2) 1.9 D (47 KW / 64 HP)
CORDOBA (6K1, 6K2) 1.4 i 16V (74 KW / 101 HP)
CORDOBA (6K1, 6K2) 1.6 i (55 KW / 75 HP)
CORDOBA (6K1, 6K2) 1.9 TDI (81 KW / 110 HP)
CORDOBA (6K1, 6K2) 1.0 i (37 KW / 50 HP)
CORDOBA (6K2) 1.4 (44 KW / 60 HP)

CORDOBA (6K2) 1.6 (55 KW / 75 HP)

CORDOBA (6K2) 1.6 (74 KW / 101 HP)

CORDOBA (6K2) 1.9 TDI (66 KW / 90 HP)
CORDOBA (6K2) 1.9 TDI (81 KW / 110 HP)
CORDOBA (6K2) 1.0 (37 KW / 50 HP)

CORDOBA (6K2) 1.4 16V (74 KW / 100 HP)
CORDOBA (6L2) 1.9 TDI (74 KW / 100 HP)
CORDOBA (6L2) 1.9 SDI (47 KW / 64 HP)
CORDOBA (6L2) 1.4 16V (74 KW / 100 HP)
CORDOBA (6L2) 1.6 (74 KW / 101 HP)

CORDOBA (6L2) 1.4 TDI (51 KW / 70 HP)
CORDOBA (6L2) 1.4 TDI (59 KW / 80 HP)
CORDOBA (6L2) 1.4 TDI (55 KW / 75 HP)
CORDOBA (6L2) 1.2 12V (51 KW / 70 HP)
CORDOBA (6L2) 1.4 16V (63 KW / 86 HP)
CORDOBA (6L2) 1.6 16V (77 KW / 105 HP)
CORDOBA (6L2) 2.0 (85 KW / 115 HP)

CORDOBA (6L2) 1.2 (47 KW / 64 HP)

CORDOBA (6L2) 1.4 16V (55 KW / 75 HP)

07.1996 - 10.2002

06.1999 - 10.2002

06.1994 - 10.2002

02.1993 - 10.2002

02.1993 - 09.2002

02.1993 - 06.1999

02.1993 - 08.1996

02.1993 - 08.1996

10.1993 - 08.1996

05.2000 - 10.2002

07.2000 - 10.2002

02.1993 - 08.1994

12.1997 - 04.1999

08.1996 - 06.1999

08.1996 - 10.2002

01.1996 - 08.1996

09.1996 - 10.2002

05.1994 - 06.1999

03.1997 - 10.2002

09.1996 - 10.2002

06.1999 - 10.2002

06.1999 - 10.2002

06.1999 - 10.2002

06.1999 - 10.2002

06.1999 - 10.2002

06.1999 - 10.2002

02.2000 - 10.2002

09.2002 - 11.2009

09.2002 - 11.2009

10.2002 - 11.2009

04.2003 - 11.2009

05.2005 - 11.2009

06.2005 - 11.2009

10.2002 - 12.2005

05.2006 - 11.2009

05.2006 - 11.2009

11.2006 - 11.2009

09.2002 - 11.2009

10.2002 - 06.2006

09.2002 - 12.2007

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

links

links

links

links

links

links

links

links

links

links

links

links

links

SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064




CORDOBA (6L2) 1.9 TDI (96 KW / 131 HP) 10.2002 - 11.2009 links

SKTR-0240064

CORDOBA Vario (6K1) 1.9 SDI (50 KW / 68 HP) 06.1999 - 12.2002 Vorderachse SKRA-0250068
CORDOBA Vario (6K1) 1.9 TDI (81 KW / 110 HP) 07.1997 - 12.2002  Vorderachse SKRA-0250068
CORDOBA Vario (6K1) 1.6 i (55 KW / 75 HP) 05.1997 - 06.1999 Vorderachse SKRA-0250068
CORDOBA Vario (6K1) 1.4 16V (55 KW / 75 HP) 06.1999 - 12.2002  Vorderachse SKRA-0250068
CORDOBA Vario (6K1) 1.4 i (44 KW / 60 HP) 09.1996 - 12.2002 Vorderachse SKRA-0250068
CORDOBA Vario (6K1) 1.9 SDI (47 KW / 64 HP) 09.1996 - 06.1999  Vorderachse SKRA-0250068
CORDOBA Vario (6K1) 1.6 i (74 KW / 101 HP) 09.1996 - 12.2002 Vorderachse SKRA-0250068
CORDOBA Vario (6K1) 1.9 TDI (66 KW / 90 HP) 08.1996 - 12.2002  Vorderachse SKRA-0250068
CORDOBA Vario (6K1) 1.6 i (55 KW / 75 HP) 09.1996 - 12.2002 Vorderachse SKRA-0250068
CORDOBA Vario (6K2) 1.6 (55 KW / 75 HP) 06.1999 - 12.2002  Vorderachse SKRA-0250068
CORDOBA Vario (6K2) 1.6 (74 KW / 101 HP) 06.1999 - 12.2002 Vorderachse SKRA-0250068
CORDOBA Vario (6K2) 1.9 TDI (66 KW / 90 HP) 06.1999 - 12.2002 Vorderachse SKRA-0250068
CORDOBA Vario (6K2) 1.9 TDI (81 KW / 110 HP) 06.1999 - 12.2002 Vorderachse SKRA-0250068
CORDOBA Vario (6K2) 1.4 (44 KW / 60 HP) 06.1999 - 12.2002 Vorderachse SKRA-0250068
MODEL YEAR FITTING POSITION ITEMNUMBER ITEM DETAILS
EXEO (3R2) 1.6 (75 KW / 102 HP) 03.2009 - 09.2010  Vorderachse SKTR-0240144 Gewindemaft Miexs /
X1,
rechts Linge [mm] 128
EXEO (3R2) 1.8 T (110 KW / 150 HP) 12.2008 - 05.2010 Vorderachse SKTR-0240144 Gewindemaf} M;iffs{
X1,
rechts Lange [mm] 128
EXEO (3R2) 2.0 TFSI (147 KW / 200 HP) 03.2009 - Vorderachse SKTR-0240144 Gewindemaf ML6x5 /
x1,
rechts Lange [mm] 128
EXEO (3R2) 2.0 TDI (105 KW / 143 HP) 12.2008 - Vorderachse SKTR-0240144 Gewindemafs ML6xd5 /
x1,
rechts Lange [mm] 128
EXEO (3R2) 2.0 TDI (125 KW / 170 HP) 02.2009 - Vorderachse SKTR-0240144 Gewindemafs Mi6xd5/
X1,
rechts Linge [mm] 128
EXEO (3R2) 2.0 TDI (88 KW / 120 HP) 12.2008 - Vorderachse SKTR-0240144 Gewindemaft Miex.s /
X1,
rechts Linge [mm] 128
EXEO (3R2) 1.8 TSI (88 KW / 120 HP) 09.2010 - Vorderachse SKTR-0240144 Gewindemaf ML6xLS /
X1,
rechts Lange [mm] 128
EXEO (3R2) 1.8 TSI (118 KW / 160 HP) 05.2010 - Vorderachse SKTR-0240144 Gewindemaf Mi6xt.5 /
x1,
rechts Lange [mm] 128
EXEO (3R2) 2.0 TFSI (155 KW / 211 HP) 05.2010 - Vorderachse SKTR-0240144 Gewindemafs ML6x5 /
x1,
rechts Lange [mm] 128
EXEO ST (3R5) 2.0 TFSI (155 KW / 211 HP) 05.2010 - Vorderachse SKTR-0240144 Gewindemafs ML6xd5/
X1,
rechts Linge [mm] 128
EXEO ST (3R5) 1.6 (75 KW / 102 HP) 06.2009 - 09.2010  Vorderachse SKTR-0240144 Gewindemaft Miexs /
X1,
rechts Linge [mm] 128
EXEO ST (3R5) 1.8 T (110 KW / 150 HP) 06.2009 - 05.2010 Vorderachse SKTR-0240144 Gewindemaf3 Msliff;
X1,
rechts Lange [mm] 128




EXEO ST (3R5) 2.0 TFSI (147 KW / 200 HP)

EXEO ST (3R5) 2.0 TDI (105 KW / 143 HP)
EXEO ST (3R5) 2.0 TDI (125 KW / 170 HP)
EXEO ST (3R5) 2.0 TDI (88 KW / 120 HP)
EXEO ST (3R5) 1.8 TSI (88 KW / 120 HP)

EXEO ST (3R5) 1.8 TSI (118 KW / 160 HP)

SEAT IBIZA

MODEL
IBIZA Il (6K1) 1.6 i (74 KW / 101 HP)

IBIZA 1l (6K1) 1.9 SDI (47 KW / 64 HP)
IBIZA Il (6K1) 1.9 TD (55 KW / 75 HP)
IBIZA 1l (6K1) 1.0 (33 KW / 45 HP)

IBIZA Il (6K1) 1.3 i (40 KW / 54 HP)

IBIZA Il (6K1) 1.6 i (55 KW / 75 HP)

IBIZA Il (6K1) 1.8 i (66 KW / 90 HP)

IBIZA 1l (6K1) 2.0 i (85 KW / 115 HP)

IBIZA 1l (6K1) 1.9 D (50 KW / 68 HP)

IBIZA Il (6K1) 1.4 i (44 KW / 60 HP)

IBIZA Il (6K1) 1.8 i 16V (95 KW / 129 HP)
IBIZA Il (6K1) 1.9 SDI (50 KW / 68 HP)
IBIZA Il (6K1) 1.4 16V (55 KW / 75 HP)
IBIZA Il (6K1) 1.8 T 20V Cupra (115 KW / 156 HP)
IBIZA Il (6K1) 1.6 i (55 KW / 75 HP)

IBIZA 1l (6K1) 1.0 16V (51 KW / 69 HP)
IBIZA Il (6K1) 2.0 i 16V (110 KW / 150 HP)
IBIZA Il (6K1) 1.9 TDI (66 KW / 90 HP)
IBIZA Il (6K1) 1.9 TDI (81 KW / 110 HP)
IBIZA Il (6K1) 1.4 i 16V (74 KW / 101 HP)
IBIZA Il (6K1) 1.9 D (47 KW / 64 HP)

IBIZA Il (6K1) 1.4 (40 KW / 54 HP)

IBIZA 1l (6K1) 1.0 i (37 KW / 50 HP)

IBIZA Il (6K1) 1.0 (37 KW / 50 HP)

IBIZA lll (6K1) 1.4 (44 KW / 60 HP)

06.2009 -

05.2009 -

05.2009 -

07.2009 -

09.2010 -

05.2010 -

YEAR

04.1996 - 02.2002

08.1996 - 08.1999

03.1993 - 08.1996

03.1993 - 09.1996

03.1993 - 08.1999

03.1993 - 02.2002

03.1993 - 08.1999

03.1993 - 08.1999

10.1994 - 08.1996

09.1993 - 02.2002

11.1993 - 08.1996

08.1999 - 02.2002

05.2000 - 02.2002

07.2000 - 02.2002

09.1994 - 06.1999

10.1999 - 02.2002

08.1996 - 08.1999

08.1996 - 02.2002

02.1997 - 02.2002

06.1997 - 02.2002

04.1993 - 08.1996

12.1997 - 04.1999

09.1996 - 02.2002

08.1999 - 02.2002

08.1999 - 02.2002

Vorderachse
rechts

Vorderachse

rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

Vorderachse
rechts

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

SKTR-0240144

ITEMNUMBER

SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068

Gewindemaf}

Linge [mm]

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf

Linge [mm]

ITEM DETAILS

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5/
M14x1,5
128

M16x1,5 /
M14x1,5
128

M16x1,5 /
M14x1,5
128



IBIZA Il (6K1) 1.9 TDI (66 KW / 90 HP)
IBIZA Il (6K1) 1.6 (74 KW / 101 HP)
IBIZA Il (6K1) 1.9 TDI (81 KW / 110 HP)
IBIZA Il (6K1) 1.6 (55 KW / 75 HP)

IBIZA Il (6K1) 1.4 16V (74 KW / 100 HP)
IBIZA IV (6L1) 1.6 (74 KW / 101 HP)
IBIZA IV (6L1) 1.4 TDI (51 KW / 70 HP)

IBIZA IV (6L1) 1.4 TDI (59 KW / 80 HP)

IBIZA IV (6L1) 1.9 TDI Cupra R (118 KW / 160 HP)

IBIZA IV (6L1) 1.2 12V (51 KW / 70 HP)
IBIZA IV (6L1) 1.4 16V (63 KW / 86 HP)

IBIZA IV (6L1) 1.6 16V (77 KW / 105 HP)

IBIZA IV (6L1) 2.0 (85 KW / 116 HP)

IBIZA IV (6L1) 1.2 (47 KW / 64 HP)

IBIZA IV (6L1) 1.4 16V (74 KW / 100 HP)

IBIZA IV (6L1) 1.9 TDI (74 KW / 100 HP)

IBIZA IV (6L1) 1.9 TDI (96 KW / 131 HP)

IBIZA IV (6L1) 1.8 T Cupra R (132 KW / 180 HP)
IBIZA IV (6L1) 1.4 16V (55 KW / 75 HP)

IBIZA IV (6L1) 1.9 SDI (47 KW / 64 HP)

IBIZA IV (6L1) 1.8 T FR (110 KW / 150 HP)
IBIZA IV (6L1) 1.4 TDI (55 KW / 75 HP)

IBIZA IV (6L1) 1.2 (44 KW / 60 HP)

SEAT INCA

MODEL
INCA (6K9) 1.9 SDI (47 KW / 64 HP)
INCA (6K9) 1.7 D (42 KW / 57 HP)
INCA (6K9) 1.4 16V (55 KW / 75 HP)
INCA (6K9) 1.4 i (44 KW / 60 HP)
INCA (6K9) 1.6 i (55 KW / 75 HP)
INCA (6K9) 1.9 D (47 KW / 64 HP)

INCA (6K9) 1.6 i (55 KW / 75 HP)

SEAT LEON

MODEL

08.1999 - 02.2002

08.1999 - 02.2002

08.1999 - 02.2002

08.1999 - 02.2002

08.1999 - 02.2002

02.2003 - 11.2009

05.2005 - 11.2009

06.2005 - 11.2009

03.2004 - 02.2008

05.2006 - 11.2009

05.2006 - 11.2009

11.2006 - 11.2009

04.2002 - 11.2009

02.2002 - 06.2006

02.2002 - 11.2009

02.2002 - 11.2009

02.2002 - 11.2009

01.2004 - 02.2008

02.2002 - 12.2007

02.2002 - 12.2005

12.2003 - 05.2008

05.2002 - 12.2005

06.2007 - 05.2008

YEAR

11.1995 - 06.2003

09.1996 - 06.2003

04.2000 - 06.2003

11.1995 - 06.2003

11.1995 - 05.1998

11.1995 - 06.2003

06.1997 - 09.2000

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

FITTING POSITION

FITTING POSITION

SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064

SKTR-0240064

ITEMNUMBER

SKRA-0250056

SKRA-0250056

SKRA-0250056

SKRA-0250056

SKRA-0250056

SKRA-0250056

SKRA-0250056

ITEMNUMBER

ITEM DETAILS

ITEM DETAILS



LEON (1M1) 1.6 16 V (77 KW / 105 HP)
LEON (1M1) 1.9 TDI (74 KW / 100 HP)

LEON (1M1) 1.8 T Cupra R (154 KW / 209 HP)
LEON (1M1) 1.8 20V T (132 KW / 180 HP)
LEON (1M1) 1.9 SDI (50 KW / 68 HP)

LEON (1M1) 1.8 20V T 4 (132 KW / 180 HP)
LEON (1M1) 1.6 (74 KW / 100 HP)

LEON (1M1) 1.8 20V (92 KW / 125 HP)

LEON (1M1) 1.9 TDI (66 KW / 90 HP)

LEON (1M1) 1.9 TDI (81 KW / 110 HP)

LEON (1M1) 1.9 TDI (96 KW / 130 HP)

LEON (1M1) 2.8 Cupra 4 (150 KW / 204 HP)
LEON (1M1) 1.9 TDI (110 KW / 150 HP)

LEON (1M1) 1.6 (75 KW / 102 HP)

LEON (1M1) 1.8 T Cupra R (165 KW / 225 HP)
LEON (1M1) 1.9 TDI Syncro (110 KW / 150 HP)
LEON (1M1) 2.3 VR5 (125 KW / 170 HP)

LEON (1M1) 2.8 (150 KW / 204 HP)

LEON (1M1) 1.8 Turbo 4x4 (154 KW / 209 HP)
LEON (1M1) 1.4 16V (55 KW / 75 HP)

LEON (1P1) 2.0 TDI (103 KW / 140 HP)

LEON (1P1) 1.9 TDI (66 KW / 90 HP)

LEON (1P1) 1.4 TSI (92 KW / 125 HP)

LEON (1P1) 1.8 TSI (118 KW / 160 HP)

LEON (1P1) 2.0 TDI (125 KW / 170 HP)

LEON (1P1) 1.6 (75 KW / 102 HP)

LEON (1P1) 2.0 FSI (110 KW / 150 HP)

LEON (1P1) 2.0 TFSI (136 KW / 185 HP)

LEON (1P1) 2.0 TFSI (147 KW / 200 HP)

LEON (1P1) 1.9 TDI (77 KW / 105 HP)

LEON (1P1) 2.0 TFSI (177 KW / 240 HP)

LEON (1P1) 2.0 TDI 16V (103 KW / 140 HP)

LEON (1P1) 2.0 TFSI (155 KW / 211 HP)

09.2000 - 06.2006

10.2005 - 06.2006

02.2002 - 06.2006

11.1999 - 06.2006

11.1999 - 06.2006

11.1999 - 06.2006

11.1999 - 06.2006

11.1999 - 06.2006

11.1999 - 06.2006

11.1999 - 06.2006

05.2003 - 06.2006

02.2001 - 06.2006

09.2000 - 06.2006

10.2005 - 06.2006

07.2003 - 06.2006

05.2002 - 06.2006

09.2000 - 11.2003

05.2002 - 06.2004

05.2002 - 05.2003

11.1999 - 06.2006

10.2005 - 10.2010

06.2007 - 12.2010

11.2007 - 12.2012

06.2007 - 12.2012

05.2006 - 12.2012

07.2005 - 12.2012

07.2005 - 05.2010

09.2005 - 05.2006

05.2005 - 03.2009

07.2005 - 12.2010

11.2006 - 05.2011

07.2005 - 12.2012

06.2009 - 12.2012

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



LEON (1P1) 2.0 Cupra R (195 KW / 265 HP)

LEON (1P1) 1.4 16V (63 KW / 86 HP)

LEON (1P1) 2.0 TDI (100 KW / 136 HP)

LEON (1P1) 1.6 LPG (75 KW / 102 HP)

LEON (1P1) 1.2 TSI (77 KW / 105 HP)

LEON (1P1) 1.6 MultiFuel (75 KW / 102 HP)

LEON (1P1) 1.6 TDI (66 KW / 90 HP)

LEON (1P1) 1.6 TDI (77 KW / 105 HP)

LEON (5F1) 2.0 Cupra (221 KW / 300 HP)

LEON (5F1) 1.2 TSI (81 KW / 110 HP)

LEON (5F1) 1.4 TSI (92 KW / 125 HP)

LEON (5F1) 1.4 TSI (110 KW / 150 HP)

LEON (5F1) 1.6 TDI (85 KW / 115 HP)

LEON (5F1) 1.6 TDI (81 KW / 110 HP)

LEON (5F1) 2.0 Cupra (206 KW / 280 HP)

LEON (5F1) 2.0 Cupra (195 KW / 265 HP)

LEON (5F1) 2.0 TDI (105 KW / 143 HP)

LEON (5F1) 1.4 TGI (81 KW / 110 HP)

LEON (5F1) 2.0 TDI (81 KW / 110 HP)

LEON (5F1) 1.6 TDI (77 KW / 105 HP)

LEON (5F1) 1.6 TDI (66 KW / 90 HP)

LEON (5F1) 1.4 TSI (90 KW / 122 HP)

LEON (5F1) 2.0 Cupra (213 KW / 290 HP)

LEON (5F1) 1.2 TSI (63 KW / 86 HP)

LEON (5F1) 1.2 TSI (77 KW / 105 HP)

LEON (5F1) 1.4 TSI (103 KW / 140 HP)

09.2009 - 12.2012

06.2006 - 12.2012

07.2005 - 05.2010

12.2009 - 12.2012

02.2010 - 12.2012

11.2010-12.2012

11.2010 - 12.2012

02.2010 - 12.2012

01.2017 -

04.2014 -

05.2014 -

05.2014 -

11.2016 -

09.2013 -

10.2013 -

10.2013 -

05.2013 -

02.2013 -

05.2013 -

11.2012 -

11.2012 -

11.2012 -

10.2015 -

12.2012 -

01.2013 -

09.2012 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuRengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



LEON (5F1) 1.8 TSI (132 KW / 180 HP)

LEON (5F1) 2.0 TDI (110 KW / 150 HP)

LEON (5F1) 2.0 TDI (135 KW / 184 HP)

LEON SC (5F5) 2.0 Cupra (221 KW / 300 HP)

LEON SC (5F5) 1.2 TSI (81 KW / 110 HP)

LEON SC (5F5) 1.4 TSI (92 KW / 125 HP)

LEON SC (5F5) 1.4 TSI (110 KW / 150 HP)

LEON SC (5F5) 2.0 Cupra (195 KW / 265 HP)

LEON SC (5F5) 2.0 Cupra (206 KW / 280 HP)

LEON SC (5F5) 1.6 TDI (85 KW / 115 HP)

LEON SC (5F5) 1.2 TSI (63 KW / 86 HP)

LEON SC (5F5) 1.2 TSI (77 KW / 105 HP)

LEON SC (5F5) 1.4 TSI (90 KW / 122 HP)

LEON SC (5F5) 1.4 TSI (103 KW / 140 HP)

LEON SC (5F5) 1.8 TSI (132 KW / 180 HP)

LEON SC (5F5) 1.6 TDI (66 KW / 90 HP)

LEON SC (5F5) 1.6 TDI (77 KW / 105 HP)

LEON SC (5F5) 1.6 TDI (81 KW / 110 HP)

LEON SC (5F5) 2.0 TDI (105 KW / 143 HP)

LEON SC (5F5) 2.0 TDI (110 KW / 150 HP)

LEON SC (5F5) 2.0 TDI (135 KW / 184 HP)

LEON SC (5F5) 2.0 Cupra (213 KW / 290 HP)

LEON SC (5F5) 2.0 TDI (81 KW / 110 HP)

LEON ST (5F8) 2.0 Cupra (221 KW / 300 HP)

LEON ST (5F8) 2.0 Cupra 4Drive (221 KW / 300 HP)

02.2013 -

10.2012 -

09.2012 -

01.2017 -

05.2014 -

05.2014 -

05.2014 -

10.2013 -

10.2013 -

11.2016 -

01.2013 -

02.2013 -

02.2013 -

02.2013 -

02.2013 -

02.2013 -

02.2013 -

09.2013 -

05.2013 -

02.2013 -

03.2013 -

10.2015 -

02.2013 -

11.2016 -

11.2016 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



LEON ST (5F8) 1.2 TSI (63 KW / 86 HP)

LEON ST (5F8) 1.4 TSI (103 KW / 140 HP)
LEON ST (5F8) 2.0 TDI (110 KW / 150 HP)

LEON ST (5F8) 2.0 TDI (105 KW / 143 HP)

LEON ST (5F8) 1.4 TSI (90 KW / 122 HP)

LEON ST (5F8) 1.8 TSI (132 KW / 180 HP)

LEON ST (5F8) 1.6 TDI 4Drive (77 KW / 105 HP)
LEON ST (5F8) 1.6 TDI (66 KW / 90 HP)

LEON ST (5F8) 2.0 TDI (135 KW / 184 HP)

LEON ST (5F8) 1.6 TDI (77 KW / 105 HP)

LEON ST (5F8) 1.6 TDI (85 KW / 115 HP)

LEON ST (5F8) 1.2 TSI (81 KW / 110 HP)

LEON ST (5F8) 1.4 TSI (92 KW / 125 HP)

LEON ST (5F8) 1.4 TSI (110 KW / 150 HP)

LEON ST (5F8) 1.6 TDI (81 KW / 110 HP)

LEON ST (5F8) 1.4 TGI (81 KW / 110 HP)

LEON ST (5F8) 2.0 TDI 4Drive (110 KW / 150 HP)
LEON ST (5F8) 2.0 Cupra (213 KW / 290 HP)
LEON ST (5F8) 2.0 TDI (81 KW / 110 HP)

LEON ST (5F8) 1.2 TSI (77 KW / 105 HP)

SEAT MII

MODEL

Mii (KF1_) 1.0 (44 KW / 60 HP)

Mii (KF1_) 1.0 EcoFuel (50 KW / 68 HP)

11.2013 -

10.20153 -

10.2013 -

10.2013 -

10.2013 -

10.20153 -

04.2014 -

11.2013 -

08.2013 -

10.2013 -

11.2016 -

05.2014 -

05.2014 -

05.2014 -

09.2013 -

10.20153 -

04.2014 -

10.2015 -

11.2013 -

08.2013 -

YEAR

10.2011 -

11.2012 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEMNUMBER

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

ITEM DETAILS

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



Mii (KF1_) 1.0 (55 KW / 75 HP)

SEAT TOLEDO

MODEL
TOLEDO I (1L) 1.8 GT (102 KW / 139 HP)
TOLEDO I (1L) 1.6 i (54 KW / 73 HP)
TOLEDO I (1L) 1.8 16V (98 KW / 133 HP)
TOLEDO I (1L) 1.9 D (50 KW / 68 HP)
TOLEDO I (1L) 1.9 TD (55 KW / 75 HP)
TOLEDO I (1L) 1.6 i (52 KW / 71 HP)
TOLEDO I (1L) 1.8 i (65 KW / 88 HP)
TOLEDO I (1L) 1.8 16V (92 KW / 125 HP)
TOLEDO I (1L) 2.0 i (85 KW / 115 HP)
TOLEDO I (1L) 1.6 i (55 KW / 75 HP)
TOLEDO I (1L) 1.8 i (66 KW / 90 HP)
TOLEDO I (1L) 2.0 i 16V (110 KW / 150 HP)
TOLEDO I (1L) 1.9 TDI (66 KW / 90 HP)
TOLEDO I (1L) 1.9 D (47 KW / 64 HP)
TOLEDO I (1L) 1.6 i (74 KW / 101 HP)
TOLEDO 1 (1L) 1.9 TDI (81 KW / 110 HP)
TOLEDO Il (1M2) 1.8 20VT (132 KW / 180 HP)
TOLEDO I (1M2) 1.9 TDI (110 KW / 150 HP)
TOLEDO Il (1M2) 1.6 (74 KW / 100 HP)
TOLEDO Il (1M2) 1.8 20V (92 KW / 125 HP)
TOLEDO Il (1M2) 2.3 V5 (110 KW / 150 HP)
TOLEDO Il (1M2) 1.9 TDI (66 KW / 90 HP)
TOLEDO Il (1M2) 1.9 TDI (81 KW / 110 HP)
TOLEDO Il (1M2) 1.9 TDI (96 KW / 130 HP)
TOLEDO Il (1M2) 1.9 TDi (74 KW / 101 HP)
TOLEDO Il (1M2) 1.6 (75 KW / 102 HP)
TOLEDO Il (1M2) 2.8 (150 KW / 204 HP)
TOLEDO Il (1M2) 1.6 16V (77 KW / 105 HP)
TOLEDO Il (1M2) 1.9 SDI (50 KW / 68 HP)
TOLEDO Il (1M2) 2.3 V5 20V (125 KW / 170 HP)
TOLEDO Il (1M2) 1.4 16V (55 KW / 75 HP)

TOLEDO Il (5P2) 1.4 TSI (92 KW / 125 HP)

10.2011 -

YEAR

05.1991 - 11,1992

05.1991 - 03.1999

05.1991 - 03.1999

05.1991 - 03.1999

05.1991 - 03.1999

05.1991 - 12.1993

05.1991 - 12,1996

05.1991 - 03.1999

05.1991 - 03.1999

01.1993 - 03.1999

11.1993 - 12.1996

11.1993 - 03.1999

08.1995 - 03.1999

12,1995 - 03.1999

11.1996 - 03.1999

11.1996 - 03.1999

09.2000 - 07.2004

10.2000 - 07.2004

10.1998 - 07.2004

10.1998 - 07.2004

10.1998 - 11.2000

03.1999 - 07.2004

10.1998 - 07.2004

05.2003 - 05.2006

08.2005 - 05.2006

08.2005 - 05.2006

10.2000 - 07.2001

06.2000 - 05.2006

11.1999 - 06.2004

09.2000 - 11.2003

01.2000 - 05.2002

11.2007 - 05.2009

rechts

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

rechts

SKTR-0240040

ITEMNUMBER

SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKRA-0250001
SKTR-0240005
SKTR-0240005

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

ITEM DETAILS

Lange [mm]
Auf3engewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



TOLEDO Il (5P2) 1.4 16V (63 KW / 86 HP)

TOLEDO il (5P2) 2.0 TDI (100 KW / 136 HP)

TOLEDO Il (5P2) 2.0 TDI (125 KW / 170 HP)

TOLEDO il (5P2) 2.0 TFSI (147 KW / 200 HP)

TOLEDO il (5P2) 1.8 TFSI (118 KW / 160 HP)

TOLEDO Il (5P2) 2.0 TDI (103 KW / 140 HP)

TOLEDO Il (5P2) 1.6 (75 KW /102 HP)

TOLEDO Il (5P2) 2.0 FSI (110 KW / 150 HP)

TOLEDO Il (5P2) 1.9 TDI (77 KW / 105 HP)

TOLEDO Il (5P2) 2.0 TDI 16V (103 KW / 140 HP)

05.2006 - 05.2009

09.2004 - 05.2009

01.2006 - 05.2009

11.2005 - 05.2009

01.2007 - 05.2009

11.2005 - 05.2009

10.2004 - 05.2009

10.2004 - 05.2009

10.2004 - 05.2009

04.2004 - 05.2009

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



SKODA S Ko DA

SKODA (CITIGO

MODEL

CITIGO 1.0 (44 KW / 60 HP)
CITIGO 1.0 (55 KW /75 HP)

CITIGO 1.0 CNG (50 KW / 68 HP)

SKODA FABIA

MODEL
FABIA 1.2 TSI (63 KW / 86 HP)

FABIA 1.6 TDI (66 KW / 90 HP)

FABIA 1.6 TDI (77 KW / 105 HP)
FABIA 1.2 TDI (55 KW / 75 HP)

FABIA 1.6 TDI (55 KW / 75 HP)

FABIA 1.4 TSIRS (132 KW / 180 HP)
FABIA 1.2 (44 KW / 60 HP)

FABIA 1.2 (51 KW / 70 HP)

FABIA 1.4 (63 KW / 86 HP)

FABIA 1.6 (77 KW / 105 HP)

FABIA 1.4 TDI (51 KW / 70 HP)

FABIA 1.4 TDI (59 KW / 80 HP)

FABIA 1.9 TDI (77 KW / 105 HP)
FABIA 1.2 12V (44 KW / 60 HP)
FABIA 1.2 TSI (77 KW / 105 HP)
FABIA (6Y2) 1.4 (44 KW / 60 HP)
FABIA (6Y2) 1.4 16V (55 KW / 75 HP)
FABIA (6Y2) 1.4 TDI (51 KW / 70 HP)
FABIA (6Y2) 1.4 TDI (59 KW / 80 HP)
FABIA (6Y2) 1.2 (40 KW / 54 HP)
FABIA (6Y2) 1.9 TDIRS (96 KW / 130 HP)

FABIA (6Y2) 1.4 16V (74 KW / 100 HP)

YEAR

10.2011 -

10.2011 -

11.2012 -

YEAR

03.2010 - 12.2014

03.2010 - 12.2014

03.2010 - 12.2014

05.2010 - 12.2014

04.2010 - 12.2014

05.2010 - 12.2014

12.2006 - 12.2014

01.2007 - 12.2014

01.2007 - 12.2014

04.2007 - 12.2014

02.2007 - 03.2010

01.2007 - 03.2010

04.2007 - 03.2010

11.2011 - 12.2014

03.2010 - 12.2014

08.2000 - 08.2002

12.1999 - 03.2008

10.2005 - 03.2008

10.2005 - 03.2008

07.2001 - 04.2007

06.2003 - 03.2008

12.1999 - 03.2008

FITTING POSITION

rechts

rechts

rechts

FITTING POSITION

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

ITEM NUMBER

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEMNUMBER

SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064

SKTR-0240064

ITEM DETAILS

Lange [mm]

Aufdengewinde

[mm]

Lange [mm]

Aufdengewinde

[mm]

Linge [mm]

Auflengewinde

[mm]

ITEM DETAILS

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



FABIA (6Y2) 1.4 (50 KW / 68 HP)

FABIA (6Y2) 1.9 SDI (47 KW / 64 HP)

FABIA (6Y2) 1.4 TDI (55 KW / 75 HP)

FABIA (6Y2) 1.4 (59 KW / 80 HP)

FABIA (6Y2) 1.0 (37 KW / 50 HP)

FABIA (6Y2) 1.9 TDI (74 KW / 100 HP)
FABIA (6Y2) 2.0 (85 KW / 116 HP)

FABIA (6Y2) 1.2 (47 KW / 64 HP)

FABIA Combi 1.2 (44 KW / 60 HP)

FABIA Combi 1.2 TSI (63 KW / 86 HP)

FABIA Combi 1.6 TDI (66 KW / 90 HP)

FABIA Combi 1.6 TDI (77 KW / 105 HP)
FABIA Combi 1.2 TDI (55 KW / 75 HP)

FABIA Combi 1.2 (51 KW / 70 HP)

FABIA Combi 1.4 (63 KW / 86 HP)

FABIA Combi 1.6 (77 KW / 105 HP)

FABIA Combi 1.4 TDI (51 KW / 70 HP)

FABIA Combi 1.4 TDI (59 KW / 80 HP)

FABIA Combi 1.9 TDI (77 KW / 105 HP)
FABIA Combi 1.6 TDI (55 KW / 75 HP)

FABIA Combi 1.4 TSIRS (132 KW / 180 HP)
FABIA Combi 1.2 12V (44 KW / 60 HP)
FABIA Combi 1.2 TSI (77 KW / 105 HP)
FABIA Combi (6Y5) 1.4 TDI (51 KW / 70 HP)
FABIA Combi (6Y5) 1.4 TDI (59 KW / 80 HP)
FABIA Combi (6Y5) 1.2 (40 KW / 54 HP)
FABIA Combi (6Y5) 1.0 (37 KW / 50 HP)
FABIA Combi (6Y5) 1.4 TDI (55 KW / 75 HP)
FABIA Combi (6Y5) 1.4 (50 KW / 68 HP)
FABIA Combi (6Y5) 1.9 SDI (47 KW / 64 HP)
FABIA Combi (6Y5) 1.4 (44 KW / 60 HP)
FABIA Combi (6Y5) 1.4 16V (59 KW / 80 HP)
FABIA Combi (6Y5) 1.4 16V (55 KW / 75 HP)
FABIA Combi (6Y5) 1.4 16V (74 KW / 100 HP)
FABIA Combi (6Y5) 1.9 TDI (74 KW / 100 HP)
FABIA Combi (6Y5) 2.0 (85 KW / 116 HP)
FABIA Combi (6Y5) 1.2 (47 KW / 64 HP)
FABIA Praktik 1.4 TDI (51 KW / 70 HP)
FABIA Praktik 1.2 (40 KW / 54 HP)

FABIA Praktik 1.4 (50 KW / 68 HP)

08.1999 - 05.2003

12.1999 - 03.2008

04.2003 - 03.2008

02.2006 - 10.2006

12.1999 - 08.2002

01.2000 - 03.2008

12.1999 - 03.2008

01.2003 - 03.2008

10.2007 - 11.2014

03.2010 - 12.2014

03.2010 - 12.2014

03.2010 - 12.2014

05.2010 - 12.2014

10.2007 - 12.2014

10.2007 - 12.2014

10.2007 - 12.2014

10.2007 - 03.2010

10.2007 - 03.2010

10.2007 - 03.2010

04.2010 - 12.2014

05.2010 - 12.2014

11.2011 - 12.2014

03.2010 - 12.2014

10.2005 - 12.2007

10.2005 - 12.2007

07.2001 - 12.2007

11.2000 - 08.2002

04.2003 - 12.2007

04.2000 - 05.2003

04.2000 - 12.2007

04.2000 - 03.2003

04.2006 - 12.2007

05.2000 - 12.2007

04.2000 - 12.2007

04.2000 - 12.2007

04.2000 - 12.2007

01.2003 - 12.2007

10.2005 - 12.2007

07.2001 - 12.2007

07.2001 - 05.2003

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064




FABIA Praktik 1.2 (47 KW / 64 HP)

FABIA Praktik 1.9 SDI (47 KW / 64 HP)

FABIA Stufenheck (6Y3) 1.4 TDI (51 KW / 70 HP)
FABIA Stufenheck (6Y3) 1.4 TDI (59 KW / 80 HP)
FABIA Stufenheck (6Y3) 1.9 TDI (74 KW / 100 HP)
FABIA Stufenheck (6Y3) 1.4 16V (55 KW / 75 HP)
FABIA Stufenheck (6Y3) 1.0 (37 KW / 50 HP)
FABIA Stufenheck (6Y3) 1.4 TDI (55 KW / 75 HP)
FABIA Stufenheck (6Y3) 2.0 (85 KW / 116 HP)
FABIA Stufenheck (6Y3) 1.9 SDI (47 KW / 64 HP)
FABIA Stufenheck (6Y3) 1.4 (50 KW / 68 HP)
FABIA Stufenheck (6Y3) 1.4 16V (74 KW / 100 HP)
FABIA Stufenheck (6Y3) 1.4 16V (59 KW / 80 HP)
FABIA Stufenheck (6Y3) 1.2 (40 KW / 54 HP)
FABIA Stufenheck (6Y3) 1.4 (44 KW / 60 HP)
FABIA Stufenheck (6Y3) 1.2 (47 KW / 64 HP)
ROOMSTER Praktik (5J) 1.2 (51 KW / 70 HP)
ROOMSTER Praktik (5J) 1.4 (63 KW / 86 HP)
ROOMSTER Praktik (5J) 1.4 TDI (59 KW / 80 HP)
ROOMSTER Praktik (5J) 1.4 TDI (51 KW / 70 HP)
ROOMSTER Praktik (5J) 1.2 TSI (63 KW / 86 HP)
ROOMSTER Praktik (5J) 1.2 TDI (55 KW / 75 HP)

ROOMSTER Praktik (5J) 1.6 TDI (66 KW / 90 HP)

SKODA OCTAVIA

MODEL
OCTAVIA (1U2) 1.9 SDI (50 KW / 68 HP)
OCTAVIA (1U2) 2.0 (85 KW / 116 HP)
OCTAVIA (1U2) 1.6 (75 KW / 102 HP)
OCTAVIA (1U2) 1.9 TDI (96 KW / 130 HP)
OCTAVIA (1U2) 1.6 (74 KW / 101 HP)
OCTAVIA (1U2) 1.8 T (110 KW / 150 HP)
OCTAVIA (1U2) 1.9 TDI (81 KW / 110 HP)
OCTAVIA (1U2) 1.4 (44 KW / 60 HP)

OCTAVIA (1U2) 1.4 16V (55 KW / 75 HP)
OCTAVIA (1U2) RS 1.8 T (132 KW / 180 HP)
OCTAVIA (1U2) 1.8 T 4x4 (110 KW / 150 HP)

OCTAVIA (1U2) 1.6 (55 KW / 75 HP)

01.2003 - 12.2007

07.2001 - 12.2007

10.2005 - 12.2007

10.2005 - 12.2007

01.2000 - 12.2007

10.1999 - 12.2007

11.2000 - 08.2002

04.2003 - 12.2007

12,1999 - 12.2007

11.1999 - 12.2007

07.2001 - 05.2003

12,1999 - 12.2007

04.2006 - 12.2007

07.2001 - 12.2007

04.2000 - 08.2002

01.2003 - 12.2007

03.2007 - 05.2015

03.2007 - 05.2015

03.2007 - 03.2010

03.2007 - 03.2010

03.2010 - 05.2015

03.2010 - 05.2015

03.2010 - 05.2015

YEAR

06.1997 - 12.2003

04.1999 - 05.2007

11.2000 - 12.2010

09.2002 - 09.2004

02.1997 - 12.2007

08.1997 - 12.2010

08.1997 - 01.2006

04.1999 - 03.2001

09.2000 - 12.2010

05.2001 - 01.2006

05.2001 - 05.2006

09.1996 - 09.2004

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064

ITEMNUMBER

SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005

ITEM DETAILS



OCTAVIA (1U2) 1.8 (92 KW / 125 HP)
OCTAVIA (1U2) 1.9 TDI (66 KW / 90 HP)
OCTAVIA (1U2) 1.9 TDI (74 KW / 100 HP)

OCTAVIA (1Z3) 2.0 RS (147 KW / 200 HP)

OCTAVIA (1Z3) 2.0 TDI (103 KW / 140 HP)

OCTAVIA (1Z3) 1.8 TSI (118 KW / 160 HP)

OCTAVIA (1Z3) 2.0 FSI (110 KW / 150 HP)

OCTAVIA (1Z3) 2.0 TDI (100 KW / 136 HP)

OCTAVIA (1Z3) 1.9 TDI (77 KW / 105 HP)

OCTAVIA (1Z3) 2.0 TDI 16V (103 KW / 140 HP)

OCTAVIA (1Z3) 1.4 (55 KW / 75 HP)

OCTAVIA (1Z3) 1.6 (75 KW / 102 HP)

OCTAVIA (1Z3) 1.6 FSI (85 KW / 115 HP)

OCTAVIA (1Z3) 1.6 TDI (77 KW / 105 HP)

OCTAVIA (1Z3) 1.4 TSI (90 KW / 122 HP)

OCTAVIA (1Z3) 1.4 (59 KW / 80 HP)

OCTAVIA (1Z3) 1.6 LPG (75 KW / 102 HP)

OCTAVIA (1Z3) 1.8 TSI (112 KW / 152 HP)

OCTAVIA (1Z3) 2.0 TDI (81 KW / 110 HP)

OCTAVIA (1Z3) 1.2 TSI (77 KW / 105 HP)

OCTAVIA (1Z3) 1.6 MultiFuel (75 KW / 102 HP)

OCTAVIA (1Z3) 2.0 TDIRS (125 KW /170 HP)

OCTAVIA (5E3) 1.6 TDI (81 KW / 110 HP)

OCTAVIA (5E3) 2.0 TDI (135 KW / 184 HP)

OCTAVIA (5E3) 2.0 TSIRS (162 KW / 220 HP)

OCTAVIA (5E3) 1.4 TSI G-TEC (81 KW / 110 HP)

OCTAVIA (5E3) 1.6 TDI (85 KW / 115 HP)

09.1996 - 07.2000

09.1996 - 03.2010

10.2005 - 12.2010

10.2005 - 02.2013

11.2005 - 05.2010

06.2007 - 04.2013

11.2004 - 10.2008

02.2004 - 05.2010

06.2004 - 12.2010

02.2004 - 04.2013

05.2004 - 05.2006

06.2004 - 06.2013

02.2004 - 10.2008

06.2009 - 04.2013

11.2008 - 06.2013

06.2004 - 04.2013

08.2009 - 11.2012

03.2009 - 06.2013

03.2010 - 06.2013

02.2010 - 06.2013

01.2008 - 06.2013

04.2006 - 02.2013

05.2013 -

05.2013 -

05.2013 -

11.2013 -

02.2017 -

Vorderachse

Vorderachse

Vorderachse

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240005
SKTR-0240005
SKTR-0240005

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333

M16x1,5/
M16x1,5

241



OCTAVIA (5E3) 2.0 TSIRS (180 KW / 245 HP)

OCTAVIA (5E3) 1.4 TSI (103 KW / 140 HP)

OCTAVIA (5E3) 1.2 TSI (63 KW / 86 HP)

OCTAVIA (5E3) 1.2 TSI (77 KW / 105 HP)

OCTAVIA (5E3) 1.8 TSI (132 KW / 180 HP)

OCTAVIA (5E3) 1.6 TDI (77 KW / 105 HP)

OCTAVIA (5E3) 2.0 TDI (110 KW / 150 HP)

OCTAVIA (5E3) 1.0 TSI (85 KW /115 HP)

OCTAVIA (5E3) 1.6 (81 KW / 110 HP)

OCTAVIA (5E3) 1.6 TDI (66 KW / 90 HP)

OCTAVIA (5E3) 2.0 TDI (105 KW / 143 HP)

OCTAVIA Combi (1U5) 1.8 T (110 KW / 150 HP)
OCTAVIA Combi (1U5) 2.0 (85 KW / 116 HP)
OCTAVIA Combi (1U5) 2.0 4x4 (88 KW / 120 HP)
OCTAVIA Combi (1U5) 1.6 (74 KW / 101 HP)
OCTAVIA Combi (1U5) 1.8 20V (92 KW / 125 HP)
OCTAVIA Combi (1U5) 1.9 SDI (50 KW / 68 HP)
OCTAVIA Combi (1U5) 1.4 16V (55 KW / 75 HP)
OCTAVIA Combi (1U5) 1.9 TDI (66 KW / 90 HP)
OCTAVIA Combi (1U5) 1.6 (75 KW / 102 HP)
OCTAVIA Combi (1U5) 1.9 TDI (81 KW / 110 HP)
OCTAVIA Combi (1U5) RS 1.8 T (132 KW / 180 HP)
OCTAVIA Combi (1U5) 1.9 TDI (96 KW / 130 HP)
OCTAVIA Combi (1U5) 1.6 (55 KW / 75 HP)

OCTAVIA Combi (1U5) 1.9 TDI 4x4 (74 KW / 100 HP)
OCTAVIA Combi (1U5) 1.9 TDI 4x4 (66 KW / 90 HP)
OCTAVIA Combi (1U5) 1.8 T 4x4 (110 KW / 150 HP)
OCTAVIA Combi (1U5) 2.0 4x4 (85 KW / 116 HP)
OCTAVIA Combi (1U5) 1.9 TDI (74 KW / 100 HP)

OCTAVIA Combi (1Z5) 2.0 TDIRS (125 KW / 170 HP)

OCTAVIA Combi (125) 2.0 RS (147 KW / 200 HP)

OCTAVIA Combi (125) 2.0 TDI (103 KW / 140 HP)

02.2017 -

11.2012 -

11.2012 -

11.2012 -

11.2012 -

11.2012 -

11.2012 -

05.2016 -

01.2014 -

11.2012 -

11.2012 -

07.1998 - 12.2010

04.1999 - 05.2007

01.2000 - 12.2010

07.1998 - 12.2007

07.1998 - 07.2000

07.1998 - 12.2003

08.2000 - 12.2010

07.1998 - 03.2010

09.2000 - 12.2010

07.1998 - 01.2006

08.2002 - 01.2006

09.2002 - 09.2004

07.1998 - 09.2004

09.2000 - 01.2006

11.1999 - 02.2006

05.2001 - 05.2006

08.2000 - 09.2004

08.2000 - 12.2010

04.2006 - 02.2013

10.2005 - 02.2013

11.2005 - 05.2010

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aulengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



OCTAVIA Combi (125) 1.8 TSI (118 KW / 160 HP)

OCTAVIA Combi (1Z5) 2.0 FSI (110 KW / 150 HP)

OCTAVIA Combi (1Z5) 2.0 TDI 16V (100 KW / 136 HP)

OCTAVIA Combi (1Z5) 2.0 FSI 4x4 (110 KW / 150 HP)

OCTAVIA Combi (125) 1.9 TDI 4x4 (77 KW / 105 HP)

OCTAVIA Combi (125) 1.6 (75 KW / 102 HP)

OCTAVIA Combi (125) 1.6 FSI (85 KW / 115 HP)

OCTAVIA Combi (1Z5) 1.9 TDI (77 KW / 105 HP)

OCTAVIA Combi (1Z5) 2.0 TDI 16V (103 KW / 140 HP)

OCTAVIA Combi (125) 1.6 TDI (77 KW / 105 HP)

OCTAVIA Combi (125) 1.4 TSI (90 KW / 122 HP)

OCTAVIA Combi (1Z5) 1.8 TSI 4x4 (118 KW / 160 HP)

OCTAVIA Combi (1Z5) 2.0 TDI 4x4 (103 KW / 140 HP)

OCTAVIA Combi (125) 1.4 (55 KW / 75 HP)

OCTAVIA Combi (1Z5) 1.8 TSI 4x4 (112 KW / 152 HP)

OCTAVIA Combi (1Z5) 1.6 TDI 4x4 (77 KW / 105 HP)

OCTAVIA Combi (1Z5) 1.6 LPG (75 KW / 102 HP)

OCTAVIA Combi (1Z5) 2.0 TDI 16V 4x4 (103 KW / 140 HP)

OCTAVIA Combi (125) 1.8 TSI (112 KW / 152 HP)

OCTAVIA Combi (1Z5) 2.0 TDI 4x4 (81 KW / 110 HP)

OCTAVIA Combi (125) 1.2 TSI (77 KW / 105 HP)

OCTAVIA Combi (1Z5) 2.0 TDI (81 KW / 110 HP)

OCTAVIA Combi (1Z5) 1.6 MultiFuel (75 KW / 102 HP)

OCTAVIA Combi (125) 1.4 (59 KW / 80 HP)

OCTAVIA Combi (5E5) 1.6 TDI (81 KW / 110 HP)

OCTAVIA Combi (5E5) 2.0 TDI (135 KW / 184 HP)

06.2007 - 04.2013

11.2004 - 10.2008

02.2004 - 05.2010

11.2004 - 10.2008

11.2004 - 12.2010

09.2004 - 06.2013

02.2004 - 10.2008

09.2004 - 12.2010

02.2004 - 05.2013

06.2009 - 04.2013

11.2008 - 06.2013

11.2008 - 02.2013

07.2006 - 05.2010

05.2004 - 05.2006

03.2009 - 02.2013

06.2009 - 02.2013

08.2009 - 11.2012

05.2010 - 02.2013

03.2009 - 06.2013

05.2011 - 02.2013

02.2010 - 04.2013

03.2010 - 06.2013

01.2008 - 06.2013

05.2006 - 06.2013

05.2013 -

05.2013 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

Vorderachse

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240005

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



OCTAVIA Combi (SE5) 2.0 TSIRS (162 KW / 220 HP)

OCTAVIA Combi (5E5) 1.4 TSI G-TEC (81 KW / 110 HP)

OCTAVIA Combi (5E5) 1.6 TDI (85 KW / 115 HP)

OCTAVIA Combi (5E5) 2.0 TSIRS (180 KW / 245 HP)

OCTAVIA Combi (5E5) 1.6 TDI 4x4 (77 KW / 105 HP)

OCTAVIA Combi (SE5) 1.8 TSI 4x4 (132 KW / 180 HP)

OCTAVIA Combi (5E5) 2.0 TDI 4x4 (110 KW / 150 HP)

OCTAVIA Combi (5E5) 1.2 TSI (63 KW / 86 HP)
OCTAVIA Combi (5E5) 1.2 TSI (77 KW / 105 HP)
OCTAVIA Combi (5E5) 1.4 TSI (103 KW / 140 HP)
OCTAVIA Combi (5E5) 1.8 TSI (132 KW / 180 HP)
OCTAVIA Combi (5E5) 1.6 TDI (77 KW / 105 HP)
OCTAVIA Combi (5E5) 1.0 TSI (85 KW / 115 HP)
OCTAVIA Combi (5E5) 2.0 TDI (110 KW / 150 HP)
OCTAVIA Combi (5E5) 1.6 (81 KW / 110 HP)
OCTAVIA Combi (5E5) 1.6 TDI (66 KW / 90 HP)

OCTAVIA Combi (5E5) 2.0 TDI (105 KW / 143 HP)

SKODA ROOMSTER

MODEL
ROOMSTER (5J) 1.2 TSI (63 KW / 86 HP)
ROOMSTER (5J) 1.6 TDI (66 KW / 90 HP)
ROOMSTER (5J) 1.6 TDI (77 KW / 105 HP)
ROOMSTER (5J) 1.2 TDI (55 KW / 75 HP)
ROOMSTER (5J) 1.2 (47 KW / 64 HP)
ROOMSTER (5J) 1.4 (63 KW / 86 HP)
ROOMSTER (5J) 1.6 (77 KW / 105 HP)
ROOMSTER (5J) 1.4 TDI (51 KW / 70 HP)

ROOMSTER (5J) 1.4 TDI (59 KW / 80 HP)

11.2012 -

11.20153 -

02.2017 -

02.2017 -

11.2012 -

11.2012 -

11.2012 -

11.2012 -

11.2012 -

11.2012 -

11.2012 -

11.2012 -

05.2016 -

11.2012 -

01.2014 -

11.2012 -

11.2012 -

YEAR

03.2010 - 05.2015

03.2010 - 05.2015

03.2010 - 05.2015

03.2010 - 05.2015

05.2006 - 01.2007

09.2006 - 05.2015

09.2006 - 05.2015

07.2006 - 03.2010

09.2006 - 03.2010

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

links

links

links

links

links

links

links

links

links

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEM NUMBER

SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064

SKTR-0240064

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

ITEM DETAILS

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



ROOMSTER (5J) 1.9 TDI (77 KW / 105 HP)
ROOMSTER (5J) 1.2 TSI (77 KW / 105 HP)
ROOMSTER (5J) 1.9 TDI (74 KW / 101 HP)

ROOMSTER (5J) 1.2 (51 KW / 70 HP)

SKODA SUPERB

MODEL

SUPERB (3T4) 1.8 TSI (112 KW / 152 HP)

SUPERB (3T4) 1.8 TSI 4x4 (112 KW /152 HP)

SUPERB (3T4) 2.0 TDI 16V 4x4 (103 KW / 140 HP)

SUPERB (3T4) 1.4 TSI (92 KW / 125 HP)

SUPERB (3T4) 1.8 TSI (118 KW / 160 HP)

SUPERB (3T4) 1.8 TSI 4x4 (118 KW / 160 HP)

SUPERB (3T4) 1.9 TDI (77 KW / 105 HP)

SUPERB (3T4) 2.0 TDI (103 KW / 140 HP)

SUPERB (3T4) 2.0 TDI (125 KW / 170 HP)

SUPERB (3T4) 3.6 V6 4x4 (191 KW / 260 HP)

SUPERB (3T4) 2.0 TDI 4x4 (125 KW / 170 HP)

SUPERB (3T4) 2.0 TSI (147 KW / 200 HP)

SUPERB (3T4) 1.6 TDI (77 KW / 105 HP)

SUPERB (3T4) 3.6 FSI 4x4 (191 KW / 260 HP)

SUPERB (3T4) 2.0 TDI 16V (103 KW / 140 HP)

SUPERB (3U4) 2.0 TDI (103 KW / 140 HP)

SUPERB (3U4) 2.5 TDI (120 KW / 163 HP)

SUPERB (3U4) 2.8 V6 (140 KW / 190 HP)

SUPERB (3U4) 1.9 TDI (74 KW / 101 HP)

09.2006 - 03.2010

03.2010 - 05.2015

03.2006 - 05.2006

01.2007 - 05.2015

YEAR

03.2009 - 05.2015

03.2009 - 05.2015

11.2010 - 05.2015

07.2008 - 05.2015

03.2008 - 05.2015

11.2008 - 05.2015

03.2008 - 11.2010

03.2008 - 05.2010

07.2008 - 05.2015

11.2008 - 05.2015

09.2008 - 05.2015

05.2010 - 05.2015

09.2010 - 05.2015

04.2009 - 05.2015

01.2009 - 05.2015

10.2005 - 03.2008

06.2003 - 03.2008

06.2002 - 03.2008

08.2002 - 10.2005

links
links
links

links

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

Vorderachse
beidseitig

Vorderachse
beidseitig

innen

Vorderachse
beidseitig

SKTR-0240064
SKTR-0240064
SKTR-0240064

SKTR-0240064

ITEMNUMBER

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

ITEM DETAILS

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Lange [mm]
AufRengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

M16x1,5 /
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



SUPERB (3U4) 1.8 T (110 KW / 150 HP)

SUPERB (3U4) 2.0 (85 KW / 115 HP)

SUPERB (3U4) 2.8 V6 (142 KW / 193 HP)

SUPERB (3U4) 1.9 TDI (96 KW / 130 HP)

SUPERB (3U4) 2.5 TDI (114 KW / 155 HP)

SUPERB (3U4) 1.9 TDI (85 KW / 115 HP)

SUPERB (3U4) 1.9 TDI (77 KW / 105 HP)

SUPERB Kombi (3T5) 1.4 TSI (92 KW / 125 HP)
SUPERB Kombi (3T5) 1.8 TSI (118 KW / 160 HP)

SUPERB Kombi (3T5) 1.8 TSI 4x4 (118 KW / 160 HP)
SUPERB Kombi (3T5) 3.6 V6 4x4 (191 KW / 260 HP)
SUPERB Kombi (3T5) 2.0 TDI 16V (103 KW / 140 HP)
SUPERB Kombi (3T5) 2.0 TDI (125 KW / 170 HP)

SUPERB Kombi (3T5) 2.0 TDI 4x4 (125 KW / 170 HP)
SUPERB Kombi (3T5) 2.0 TDI (103 KW / 140 HP)

SUPERB Kombi (3T5) 1.8 TSI (112 KW / 152 HP)

SUPERB Kombi (3T5) 1.8 TSI 4x4 (112 KW / 152 HP)
SUPERB Kombi (3T5) 2.0 TDI 16V 4x4 (103 KW / 140 HP)
SUPERB Kombi (3T5) 2.0 TSI (147 KW / 200 HP)

SUPERB Kombi (3T5) 1.6 TDI (77 KW / 105 HP)

SUPERB Kombi (3T5) 1.9 TDI (77 KW / 105 HP)

SKODA YETI

MODEL

12.2001 - 03.2008

12.2001 - 03.2008

12.2001 - 03.2008

12.2001 - 03.2008

12.2001 - 08.2003

01.2007 - 03.2008

10.2005 - 05.2007

10.2009 - 05.2015

10.2009 - 05.2015

10.2009 - 05.2015

10.2009 - 05.2015

10.2009 - 05.2015

10.2009 - 05.2015

10.2009 - 05.2015

10.2009 - 03.2010

10.2009 - 05.2015

10.2009 - 05.2015

11.2010 - 05.2015

05.2010 - 05.2015

09.2010 - 05.2015

10.2009 - 11.2010

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEM NUMBER

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
Aulengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

ITEM DETAILS

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



YETI (5L) 1.8 TSI 4x4 (112 KW / 152 HP)

YETI (5L) 1.4 TSI (90 KW / 122 HP)

YETI (5L) 1.6 (81 KW / 110 HP)

YETI (5L) 1.6 TDI (77 KW / 105 HP)

YETI (5L) 2.0 TDI (103 KW / 140 HP)

YETI (5L) 1.2 TSI (77 KW / 105 HP)

YETI (5L) 1.8 TSI 4x4 (118 KW / 160 HP)

YETI (5L) 2.0 TDI (81 KW / 110 HP)

YETI (5L) 2.0 TDI 4x4 (81 KW / 110 HP)

YETI (5L) 2.0 TDI 4x4 (103 KW / 140 HP)

YETI (5L) 2.0 TDI 4x4 (125 KW / 170 HP)

11.2009 -

06.2010 -

04.2014 -

11.2010 -

11.2011 -

09.2009 -

05.2009 -

11.2009 -

11.2009 -

05.2009 -

11.2009 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



TOYOTA T O Y O

TOYOTA 4 RUNNER

MODEL

4 RUNNER (KZN18_, VZN18_, RZN18_) 3.4 4WD (136 KW /
185 HP)

4 RUNNER (KZN18_, VZN18_, RZN18_) 2.7 4WD (112 KW /
152 HP)

4 RUNNER (KZN18_, VZN18_, RZN18 ) 3.0 Turbo-D (92 KW
/125 HP)

4 RUNNER (KZN18_, VZN18_, RZN18 ) 4.7 4WD (179 KW /
243 HP)

4 RUNNER (KZN18_, VZN18_, RZN18_) 4.7 (179 KW / 243
HP)

4 RUNNER (KZN18_, VZN18_, RZN18_) 3.0 TDi (103 KW /
140 HP)

4 RUNNER (KZN18_, VZN18_, RZN18_) 4.0 VVTi (183 KW /
249 HP)

4 RUNNER (KZN18_, VZN18_, RZN18_) 3.4 (136 KW / 185
HP)

4 RUNNER (KZN18_, VZN18_, RZN18_) 1.8 2WD (83 KW /
113 HP)

4 RUNNER (KZN18_, VZN18_, RZN18_) 2.7 (112 KW / 152
HP)

TOYOTA AVENSIS

MODEL

AVENSIS (T22_) 2.0 D-4D (CDT220_) (81 KW / 110 HP)
AVENSIS (T22) 2.0 D (61 KW / 83 HP)
AVENSIS (T22_) 1.6 VVT-i (81 KW / 110 HP)

AVENSIS (_T22_) 1.8 VVT-i (95 KW / 129 HP)

YEAR

09.1998 - 11.2002

11.1995 - 08.2002

11.1995 - 11.2002

08.2002 - 11.2002

08.2002 - 11.2002

09.2000 - 07.2002

08.2002 - 11.2002

11.1995 - 07.2002

08.2000 - 11.2002

11.1995 - 07.2002

YEAR

10.1999 - 02.2003

10.1997 - 05.1998

10.2000 - 02.2003

10.2000 - 02.2003

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

rechts

rechts

rechts

rechts

ITEM NUMBER

SKTR-0240038

SKTR-0240038

SKTR-0240038

SKTR-0240038

SKTR-0240038

SKTR-0240038

SKTR-0240038

SKTR-0240038

SKTR-0240038

SKTR-0240038

ITEMNUMBER

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

ITEM DETAILS

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

ITEM DETAILS

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

2535
M14x1,5

253,5
M14x1,5

253,5
M14x1,5

253,5
M14x1,5



AVENSIS (' T22_) 2.0 VVT-i (110 KW / 150 HP)

AVENSIS (T22) 1.6 (AT220) (74 KW / 101 HP)

AVENSIS (_T22_) 1.6 (AT220_) (81 KW /110 HP)

AVENSIS (_T22) 1.8 (AT221_) (81 KW /110 HP)

AVENSIS (' T22_) 2.0 (ST220) (94 KW / 128 HP)

AVENSIS (_T22) 2.0 TD (CT220_) (66 KW / 90 HP)

AVENSIS Liftback ((T22_) 2.0 D-4D (CDT220_) (81 KW /110

HP)

AVENSIS Liftback (_(T22_) 2.0 D (85 KW /115 HP)

AVENSIS Liftback (_(T22_) 2.0 D (61 KW / 83 HP)

AVENSIS Liftback ((T22_) 1.6 VVT-i (81 KW /110 HP)

AVENSIS Liftback ((T22_) 1.8 VVT-i (95 KW / 129 HP)

AVENSIS Liftback (_(T22_) 2.0 VVT-i (110 KW / 150 HP)

AVENSIS Liftback ((T22_) 1.6 (AT220_) (74 KW / 101 HP)

AVENSIS Liftback ((T22_) 1.6 (AT220) (81 KW /110 HP)

AVENSIS Liftback ((T22_) 1.8 (AT221_) (81 KW / 110 HP)

AVENSIS Liftback ((T22_) 2.0 (ST220_) (94 KW / 128 HP)

AVENSIS Liftback ((T22_) 2.0 TD (CT220_) (66 KW / 90 HP)

AVENSIS Station Wagon (_T22_) 2.0 D-4D (CDT220) (81 KW

/110 HP)

AVENSIS Station Wagon (_T22_) 1.9 D (85 KW / 115 HP)

AVENSIS Station Wagon (_T22_) 1.9 D (61 KW / 82 HP)

AVENSIS Station Wagon (_T22_) 1.6 VVT-i (81 KW /110 HP)

AVENSIS Station Wagon (_T22_) 2.0 VVT-i (110 KW / 150

HP)

AVENSIS Station Wagon (_T22_) 1.8 VVT-i (95 KW / 129 HP)

AVENSIS Station Wagon (_T22_) 1.6 (AT220_) (74 KW /101

HP)

AVENSIS Station Wagon ( T22_) 1.6 (AT220 ) (81 KW / 110
HP)

10.2000 - 02.2003

09.1997 - 10.2000

09.1997 - 10.2000

09.1997 - 10.2000

09.1997 - 10.2000

09.1997 - 02.2003

10.1999 - 02.2003

09.2002 - 02.2003

10.1997 - 05.1998

10.2000 - 02.2003

10.2000 - 02.2003

10.2000 - 02.2003

09.1997 - 10.2000

09.1997 - 10.2000

09.1997 - 10.2000

09.1997 - 10.2000

09.1997 - 02.2003

10.1999 - 02.2003

09.2002 - 02.2003

10.1997 - 05.1998

07.2000 - 02.2003

10.2000 - 02.2003

10.2000 - 02.2003

09.1997 - 10.2000

09.1997 - 10.2000

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

SKTR-0240029

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

2535
M14x1,5

2535

M14x1,5

253,5
M14x1,5

253,5
M14x1,5

253,5
M14x1,5

253,5
M14x1,5

2535
M14x1,5

253,5
M14x1,5

253,5
M14x1,5

253,5
M14x1,5

253,5
M14x1,5

2535
M14x1,5

253,5
M14x1,5

253,5
M14x1,5

2535
M14x1,5

253,5
M14x1,5

2535
M14x1,5

2535
M14x1,5

2535
M14x1,5

2535
M14x1,5

253,5
M14x1,5

253,5
M14x1,5

2535
M14x1,5

253,5
M14x1,5

253,5
M14x1,5



AVENSIS Station Wagon ( T22_) 1.8 (AT221 ) (81 KW / 110
HP)

AVENSIS Station Wagon (_T22_) 2.0 (ST220_) (94 KW /128
HP)

AVENSIS Station Wagon (_T22_) 2.0 TD (CT220_) (66 KW /
90 HP)

TOYOTA LAND CRUISER

MODEL

LAND CRUISER 90 (J9 ) 3.4 i 24V (VZJ90_, VZI95 ) (131
KW / 178 HP)

LAND CRUISER 90 (J9_) 3.0 TD (KZI90_, KZI95_) (92 KW /
125 HP)

LAND CRUISER 90 (J9 ) 2.7 (110 KW / 150 HP)

LAND CRUISER 90 (J9 ) 4.7 (175 KW / 238 HP)

LAND CRUISER 90 (J9_) 3.0 TD (103 KW / 140 HP)

LAND CRUISER 90 (J9_) 3.0 D-4D (KDJ90, KDJ95, KDJ 125)
(120 KW / 163 HP)

09.1997 - 10.2000

09.1997 - 10.2000

09.1997 - 02.2003

YEAR

03.1996 - 12.2002

04.1996 - 12.2002

04.1995 - 07.2002

08.2002 -

04.1995 - 07.2000

08.2000 - 08.2002

rechts

rechts

rechts

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240029

SKTR-0240029

SKTR-0240029

ITEMNUMBER

SKTR-0240038

SKTR-0240038

SKTR-0240038

SKTR-0240038

SKTR-0240038

SKTR-0240038

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

ITEM DETAILS

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

2535
M14x1,5

253,5
M14x1,5

253,5
M14x1,5

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00

M20x1,5 A
/M18x1,5
A

133,00



« VOLKSWAGEN

VOLKSWAGEN BORA

MODEL
BORA 2.0 (85 KW / 116 HP)

BORA 2.0 Flex (88 KW / 120 HP)

BORA (1J2) 1.8 T 4motion (110 KW / 150 HP)
BORA (1J2) 1.8 T (110 KW / 150 HP)

BORA (1J2) 1.6 (74 KW / 101 HP)

BORA (1J2) 2.0 (85 KW / 115 HP)

BORA (1J2) 2.3 V5 (110 KW / 150 HP)

BORA (1J2) 1.9 TDI (66 KW / 90 HP)

BORA (1J2) 1.9 TDI (81 KW / 110 HP)

BORA (1J2) 1.8 4motion (92 KW / 125 HP)
BORA (1J2) 2.3 V5 4motion (110 KW / 150 HP)
BORA (1J2) 1.9 TDI 4motion (66 KW / 90 HP)
BORA (1J2) 1.9 TDI (85 KW / 115 HP)

BORA (1J2) 1.6 (78 KW / 107 HP)

BORA (1J2) 2.0 4motion (85 KW / 115 HP)
BORA (1J2) 2.8 V6 4motion (150 KW / 204 HP)
BORA (1J2) 1.8 T (132 KW / 180 HP)

BORA (1J2) 1.6 16V (77 KW / 105 HP)

BORA (1J2) 1.9 TDI (74 KW / 101 HP)

BORA (1J2) 1.9 TDI 4motion (74 KW / 101 HP)
BORA (1J2) 1.9 TDI (110 KW / 150 HP)

BORA (1J2) 1.9 TDI 4motion (110 KW / 150 HP)
BORA (1J2) 2.8 VR6 (130 KW / 177 HP)

BORA (1J2) 2.8 VR6 (147 KW / 200 HP)

BORA (1J2) 1.6 FSI (81 KW / 110 HP)

BORA (1J2) 2.8 VR6 (128 KW / 174 HP)

BORA (1J2) 1.6 (75 KW / 102 HP)

BORA (1J2) 2.3 V5 (125 KW / 170 HP)

BORA (1J2) 2.3 V5 4motion (125 KW / 170 HP)
BORA (1J2) 1.8 (92 KW / 125 HP)

BORA (1J2) 1.4 16V (55 KW / 75 HP)

YEAR

01.2007 -

02.2009 -

10.2000 - 05.2001

05.2000 - 05.2005

10.1998 - 05.2005

10.1998 - 05.2005

10.1998 - 10.2000

10.1998 - 05.2005

10.1998 - 06.2001

02.1999 - 05.2005

12.1998 - 10.2000

11.1998 - 04.2002

12.1998 - 01.2002

06.2002 - 10.2004

04.2000 - 05.2005

03.1999 - 05.2005

03.2002 - 05.2005

05.2000 - 05.2005

09.2000 - 05.2005

09.2000 - 05.2005

05.2000 - 05.2005

05.2000 - 05.2005

11.1998 - 07.2002

02.2002 - 07.2005

01.2002 - 05.2005

08.2002 - 07.2005

08.2000 - 05.2005

10.2000 - 05.2005

10.2000 - 05.2005

10.1998 - 05.2005

03.2000 - 05.2005

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEM NUMBER

SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005

SKTR-0240005

ITEM DETAILS



BORA (1J2) 1.9 SDI (50 KW / 68 HP) 10.1998 - 05.2005 Vorderachse SKTR-0240005

BORA (1J2) 1.9 TDI (96 KW / 130 HP) 11.2000 - 05.2005 Vorderachse SKTR-0240005

BORA (1J2) 1.9 TDI 4motion (96 KW / 130 HP) 11.2000 - 05.2005 Vorderachse SKTR-0240005

BORA (1J2) 1.9 TDI 4motion (85 KW / 115 HP) 02.1999 - 06.2001 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.4 16V (55 KW / 75 HP) 09.2001 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.8 T (110 KW / 150 HP) 05.2000 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 2.3 V5 4motion (110 KW / 150 HP) 05.1999 - 10.2000 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.9 TDI 4motion (85 KW / 115 HP) 05.1999 - 06.2001 Vorderachse SKTR-0240005

BORA Kombi (1J6) 2.0 4motion (85 KW / 115 HP) 04.2000 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.6 (74 KW / 100 HP) 05.1999 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.9 TDI (81 KW / 110 HP) 05.1999 - 06.2001 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.6 16V (77 KW / 105 HP) 02.2000 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.9 TDI (74 KW / 101 HP) 09.2000 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.9 TDI 4motion (74 KW / 101 HP) 09.2000 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.6 FSI (81 KW / 110 HP) 01.2002 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 2.8 VR6 (130 KW / 177 HP) 08.2002 - 07.2003 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.8 T (132 KW / 180 HP) 05.2002 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.6 (75 KW / 102 HP) 08.2000 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 2.3 V5 (125 KW / 170 HP) 10.2000 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 2.3 V5 4motion (125 KW / 170 HP) 10.2000 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.9 TDI (96 KW / 130 HP) 11.2000 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.9 TDI 4motion (96 KW / 130 HP) 11.2000 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.9 TDI (110 KW / 150 HP) 05.2001 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.9 TDI 4motion (110 KW / 150 HP) 05.2001 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.9 TDI (66 KW / 90 HP) 07.2004 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.8 4motion (92 KW / 125 HP) 05.1999 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 2.8 V6 4motion (150 KW / 204 HP) 05.1999 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 2.0 (85 KW / 115 HP) 05.1999 - 05.2005 Vorderachse SKTR-0240005

BORA Kombi (1J6) 2.3 V5 (110 KW / 150 HP) 05.1999 - 10.2000 Vorderachse SKTR-0240005

BORA Kombi (1J6) 1.9 TDI (85 KW / 115 HP) 05.1999 - 06.2001 Vorderachse SKTR-0240005

BORA Kombi (1J6) 2.8 VR6 (150 KW / 204 HP) 03.2000 - 05.2000 Vorderachse SKTR-0240005

VOLKSWAGEN CADDY

MODEL YEAR FITTING POSITION ITEM NUMBER ITEM DETAILS

CADDY ALLTRACK Kasten (SAA) 1.0 TSI (75 KW / 102 HP) 11.2015 - rechts SKTR-0240040 kifgngz‘:;]nde " 16)(13,:3}
[mm] M16x1,5

CADDY ALLTRACK Kasten (SAA) 1.2 TSI (62 KW / 84 HP) 06.2015 - rechts SKTR-0240040 ki!fni?vﬂ]nde y 16)(13;3/
[mm] M16x1,5




CADDY ALLTRACK Kasten (SAA) 1.4 TGI CNG (81 KW / 110
HP)

CADDY ALLTRACK Kasten (SAA) 1.4 TSI (92 KW / 125 HP)

CADDY ALLTRACK Kasten (SAA) 2.0 TDI (55 KW / 75 HP)

CADDY ALLTRACK Kasten (SAA) 2.0 TDI (75 KW / 102 HP)

CADDY ALLTRACK Kasten (SAA) 2.0 TDI 4motion (90 KW /

122 HP)

CADDY ALLTRACK Kasten (SAA) 2.0 TDI (110 KW / 150 HP)

CADDY ALLTRACK Kasten (SAA) 2.0 TDI 4motion (110 KW /
150 HP)

CADDY ALLTRACK Kombi (SAB) 1.0 TSI (75 KW / 102 HP)

CADDY ALLTRACK Kombi (SAB) 1.2 TSI (62 KW / 84 HP)

CADDY ALLTRACK Kombi (SAB) 1.4 TGI CNG (81 KW /110

HP)

CADDY ALLTRACK Kombi (SAB) 1.4 TSI (92 KW / 125 HP)

CADDY ALLTRACK Kombi (SAB) 2.0 TDI (55 KW / 75 HP)

CADDY ALLTRACK Kombi (SAB) 2.0 TDI (75 KW / 102 HP)

CADDY ALLTRACK Kombi (SAB) 2.0 TDI 4motion (90 KW /
122 HP)

CADDY ALLTRACK Kombi (SAB) 2.0 TDI (110 KW / 150 HP)
CADDY ALLTRACK Kombi (SAB) 2.0 TDI 4motion (110 KW /

150 HP)

CADDY 1(14) 1.5 (51 KW / 70 HP)

CADDY | (14) 1.6 (55 KW / 75 HP)

CADDY 1 (14) 1.8 (70 KW / 95 HP)

CADDY | (14) 1.6 D (40 KW / 55 HP)

CADDY 1(14) 1.6 (55 KW / 75 HP)

CADDY Il Kasten (9K9A) 1.7 SDI (42 KW / 57 HP)
CADDY Il Kasten (9K9A) 1.9 TDI (66 KW / 90 HP)
CADDY Il Kasten (9K9A) 1.9 D (47 KW / 64 HP)
CADDY Il Kasten (9K9A) 60 1.4 (44 KW / 60 HP)
CADDY Il Kasten (9K9A) 1.9 SDI (47 KW / 64 HP)
CADDY Il Kasten (9K9A) 75 1.6 (55 KW / 75 HP)
CADDY Il Kasten (9K9A) 1.4 (55 KW / 75 HP)

CADDY I Kasten (9K9A) 75 1.6 (55 KW / 75 HP)

06.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

11.2015 -

11.2015 -

06.2015 -

06.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

11.2015 -

08.1982 - 07.1983

01.1983 - 07.1992

08.1985 - 07.1992

08.1982 - 07.1992

10.1982 - 10.1983

07.1996 - 09.2000

09.1996 - 01.2004

11.1995 - 01.2004

11.1995 - 01.2004

11.1995 - 01.2004

11.1995 - 09.2000

08.2000 - 01.2004

11.1995 - 05.1997

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

Vorderachse

beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250056

SKRA-0250056

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



CADDY Il Kombi (9K9B) 1.4 (44 KW / 60 HP)
CADDY Il Kombi (9K9B) 1.4 16V (55 KW / 75 HP)
CADDY Il Kombi (9K9B) 1.6 (55 KW / 75 HP)
CADDY Il Kombi (9K9B) 1.6 (55 KW / 75 HP)
CADDY Il Kombi (9K9B) 1.7 SDI (42 KW / 57 HP)
CADDY Il Kombi (9K9B) 1.9 D (47 KW / 64 HP)
CADDY Il Kombi (9K9B) 1.9 SDI (47 KW / 64 HP)
CADDY Il Kombi (9K9B) 1.9 TDI (66 KW / 90 HP)
CADDY Il Pick-up (9U7) 1.6 (55 KW / 75 HP)
CADDY Il Pick-up (9U7) 1.9 D (47 KW / 64 HP)

CADDY Il Kasten (2KA, 2KH, 2CA, 2CH) 1.6 BiFuel (75 KW /
102 HP)

CADDY Il Kasten (2KA, 2KH, 2CA, 2CH) 2.0 TDI (81 KW /
110 HP)

CADDY Ill Kasten (2KA, 2KH, 2CA, 2CH) 2.0 TDI (125 KW /
170 HP)

CADDY Il Kasten (2KA, 2KH, 2CA, 2CH) 1.2 TSI (63 KW / 86
HP)

CADDY Ill Kasten (2KA, 2KH, 2CA, 2CH) 1.2 TSI (77 KW /
105 HP)

CADDY il Kasten (2KA, 2KH, 2CA, 2CH) 1.6 TDI (55 KW / 75
HP)

CADDY il Kasten (2KA, 2KH, 2CA, 2CH) 1.4 (55 KW / 75 HP)

CADDY Il Kasten (2KA, 2KH, 2CA, 2CH) 2.0 TDI 4motion (81
KW /110 HP)

CADDY Ill Kasten (2KA, 2KH, 2CA, 2CH) 1.6 (75 KW / 102
HP)

CADDY Ill Kasten (2KA, 2KH, 2CA, 2CH) 2.0 TDI 16V (103
KW / 140 HP)

CADDY Il Kasten (2KA, 2KH, 2CA, 2CH) 1.6 TDI (75 KW /
102 HP)

CADDY Il Kasten (2KA, 2KH, 2CA, 2CH) 2.0 SDI (51 KW /70
HP)

CADDY Ill Kasten (2KA, 2KH, 2CA, 2CH) 1.9 TDI (77 KW /
105 HP)

CADDY Il Kasten (2KA, 2KH, 2CA, 2CH) 1.9 TDI (55 KW / 75
HP)

CADDY Ill Kasten (2KA, 2KH, 2CA, 2CH) 2.0 TDI 4motion (62
KW / 85 HP)

CADDY Il Kasten (2KA, 2KH, 2CA, 2CH) 2.0 TDI (103 KW /
140 HP)

CADDY Il Kasten (2KA, 2KH, 2CA, 2CH) 2.0 TDI (62 KW / 85
HP)

CADDY il Kasten (2KA, 2KH, 2CA, 2CH) 2.0 TDI 16V 4motion
(103 KW / 140 HP)

CADDY Ill Kasten (2KA, 2KH, 2CA, 2CH) 1.9 TDI 4motion (77
KW / 105 HP)

11.1995 - 01.2004

08.2000 - 01.2004

11.1995 - 05.1997

06.1997 - 09.2000

07.1996 - 09.2000

11.1995 - 01.2004

11.1995 - 01.2004

10.1996 - 01.2004

06.1996 - 12.2000

06.1996 - 12.2000

05.2011 - 05.2015

08.2010 - 05.2015

05.2012 - 05.2015

09.2010 - 05.2015

09.2010 - 05.2015

08.2010 - 05.2015

03.2004 - 05.2006

08.2010 - 05.2015

04.2004 - 05.2015

11.2010 - 05.2015

08.2010 - 05.2015

03.2004 - 08.2010

04.2004 - 08.2010

09.2005 - 08.2010

12.2010 - 05.2015

09.2007 - 08.2010

11.2010 - 05.2015

11.2010 - 05.2015

11.2008 - 08.2010

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250056

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



CADDY Il Kasten (2KA, 2KH, 2CA, 2CH) 2.0 EcoFuel (80 KW
/109 HP)

CADDY il Kasten (2KA, 2KH, 2CA, 2CH) 1.4 16V (59 KW /
80 HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 2CJ) 2.0 TDI (81 KW /110
HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 20) 1.6 (74 KW / 101 HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 20) 1.9 TDI (55 KW / 75
HP)

CADDY Il Kombi (2KB, 2KJ, 2€B, 2CJ) 1.2 TSI (63 KW / 86
HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 20) 1.2 TSI (77 KW / 105
HP)

CADDY Il Kombi (2KB, 2KJ, 2B, 2CJ) 2.0 TDI 16V (103 KW
/140 HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 20) 1.6 TDI (55 KW / 75
HP)

CADDY Ill Kombi (2KB, 2KJ, 2CB, 20) 1.6 TDI (75 KW / 102
HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 20) 2.0 TDI 4motion (81
KW /110 HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 20) 1.4 (55 KW / 75 HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 20) 1.6 (75 KW / 102 HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 20) 2.0 SDI (51 KW /70

HP)

CADDY Ill Kombi (2KB, 2KJ, 2CB, 20)) 1.9 TDI (77 KW / 105
HP)

CADDY Il Kombi (2KB, 2KJ, 2€B, 2CJ) 2.0 TDI (103 KW /
140 HP)

CADDY Il Kombi (2KB, 2KJ, 2B, 2CJ) 2.0 TDI 16V 4motion
(103 KW / 140 HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 2CJ) 2.0 TDI (125 KW /
170 HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 20) 1.9 TDI 4motion (77
KW /105 HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 2CJ) 2.0 EcoFuel (80 KW /
109 HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 2CJ) 1.4 16V (59 KW / 80
HP)

CADDY Il Kombi (2KB, 2KJ, 2CB, 20) 1.6 BiFuel (75 KW /

102 HP)

CADDY IV Kasten (SAA, SAH) 1.6 (81 KW /110 HP)

CADDY IV Kasten (SAA, SAH) 1.2 TSI (62 KW / 84 HP)

CADDY IV Kasten (SAA, SAH) 1.4 TGI CNG (81 KW / 110 HP)

CADDY IV Kasten (SAA, SAH) 1.4 TSI (92 KW / 125 HP)

04.2006 - 05.2015

05.2006 - 08.2010

08.2010 - 05.2015

03.2005 - 05.2015

09.2005 - 08.2010

09.2010 - 05.2015

09.2010 - 05.2015

11.2010 - 05.2015

08.2010 - 05.2015

08.2010 - 05.2015

08.2010 - 05.2015

03.2004 - 05.2006

04.2004 - 05.2015

03.2004 - 08.2010

04.2004 - 08.2010

09.2007 - 08.2010

11.2010 - 05.2015

05.2012 - 05.2015

05.2008 - 08.2010

04.2006 - 05.2015

05.2006 - 08.2010

05.2011 - 05.2015

11.2015 -

06.2015 -

06.2015 -

05.2015 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



CADDY IV Kasten (SAA, SAH) 1.6 TDI (55 KW / 75 HP)

CADDY IV Kasten (SAA, SAH) 1.6 TDI (75 KW / 102 HP)

CADDY IV Kasten (SAA, SAH) 2.0 TDI (55 KW / 75 HP)

CADDY IV Kasten (SAA, SAH) 2.0 TDI (75 KW / 102 HP)

CADDY IV Kasten (SAA, SAH) 2.0 TDI 4motion (81 KW /110

HP)

CADDY IV Kasten (SAA, SAH) 2.0 TDI 4motion (90 KW / 122

HP)

CADDY IV Kasten (SAA, SAH) 2.0 TDI (103 KW / 140 HP)

CADDY IV Kasten (SAA, SAH) 2.0 TDI 4motion (103 KW /

140 HP)

CADDY IV Kasten (SAA, SAH) 2.0 TDI (110 KW / 150 HP)

CADDY IV Kasten (SAA, SAH) 2.0 TDI (81 KW / 110 HP)

CADDY IV Kasten (SAA, SAH) 2.0 TDI 4motion (55 KW / 75

HP)

CADDY IV Kasten (SAA, SAH) 1.0 TSI (75 KW / 102 HP)

CADDY IV Kasten (SAA, SAH) 2.0 TDI 4motion (110 KW /

150 HP)

CADDY IV Kombi (SAB, SAJ) 1.6 (81 KW /110 HP)

CADDY IV Kombi (SAB, SAJ) 1.2 TSI (62 KW / 84 HP)

CADDY IV Kombi (SAB, SAJ) 1.4 TGI CNG (81 KW /110 HP)

CADDY IV Kombi (SAB, SAJ) 1.4 TSI (92 KW /125 HP)

CADDY IV Kombi (SAB, SAJ) 2.0 TDI 4motion (81 KW /110

HP)

CADDY IV Kombi (SAB, SAJ) 2.0 TDI (75 KW / 102 HP)

CADDY IV Kombi (SAB, SAJ) 2.0 TDI (55 KW / 75 HP)

CADDY IV Kombi (SAB, SAJ) 2.0 TDI (110 KW / 150 HP)

CADDY IV Kombi (SAB, SAJ) 2.0 TDI 4motion (90 KW /122

HP)

CADDY IV Kombi (SAB, SAJ) 1.6 TDI (55 KW / 75 HP)

CADDY IV Kombi (SAB, SAJ) 1.6 TDI (75 KW / 102 HP)

CADDY IV Kombi (SAB, SAJ) 2.0 TDI (103 KW / 140 HP)

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

09.2015 -

11.2015 -

11.2015 -

11.2015 -

11.2015 -

06.2015 -

06.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

05.2015 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



CADDY IV Kombi (SAB, SAJ) 2.0 TDI 4motion (103 KW / 140
HP)

CADDY IV Kombi (SAB, SAJ) 2.0 TDI 4motion (110 KW / 150
HP)

CADDY IV Kombi (SAB, SAJ) 1.0 TSI (75 KW / 102 HP)

CADDY IV Kombi (SAB, SAJ) 2.0 TDI (81 KW / 110 HP)

VOLKSWAGEN CORRADO

MODEL
CORRADO (531) 1.8 16V (100 KW / 136 HP)
CORRADO (531) 2.0 i (85 KW / 115 HP)
CORRADO (53I) 1.8 G60 (118 KW / 160 HP)
CORRADO (531) 2.0 i 16V (100 KW / 136 HP)

CORRADO (53I) 2.9 VR6 (140 KW / 190 HP)

VOLKSWAGEN DERBY

MODEL
DERBY (86C, 80) 1.0 (29 KW / 40 HP)
DERBY (86C, 80) 1.1 (37 KW / 50 HP)
DERBY (86C, 80) 1.3 (40 KW / 55 HP)
DERBY (86C, 80) 1.3 (44 KW / 60 HP)
DERBY (86C, 80) 1.3 (55 KW / 75 HP)

DERBY (86C, 80) 1.3 (37 KW / 50 HP)

VOLKSWAGEN EOS

MODEL

EOS (1F7, 1F8) 2.0 TDI (100 KW / 136 HP)
EOS (1F7, 1F8) 1.6 FSI (85 KW / 115 HP)
EOS (1F7, 1F8) 2.0 FSI (110 KW / 150 HP)
EOS (1F7, 1F8) 2.0 TFSI (147 KW / 200 HP)

EOS (1F7, 1F8) VR6 (184 KW / 250 HP)

05.2015 -

11.2015 -

11.2015 -

09.2015 -

YEAR

04.1989 - 07.1992

04.1993 - 12.1995

09.1988 - 09.1993

08.1991 - 12.1995

08.1991 - 12,1995

YEAR

10.1981 - 12.1984

10.1981 - 07.1983

08.1983 - 12.1984

08.1981 - 07.1983

09.1982 - 12.1984

08.1983 - 12.1984

YEAR

11.2010 - 08.2015

06.2006 - 05.2008

03.2006 - 05.2008

03.2006 - 08.2015

06.2006 - 05.2009

rechts

rechts

rechts

rechts

FITTING POSITION

Vorderachse

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEMNUMBER

SKRA-0250056

SKRA-0250056

SKRA-0250056

SKRA-0250056
SKRA-0250069

ITEM NUMBER

SKRA-0250043

SKRA-0250043

SKRA-0250043

SKRA-0250043

SKRA-0250043

SKRA-0250043

ITEMNUMBER

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

ITEM DETAILS

ITEM DETAILS

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



EOS (1F7, 1F8) 2.0 TDI (103 KW / 140 HP)

EOS (1F7, 1F8) 2.0 TDI 16V (103 KW / 140 HP)
EOS (1F7, 1F8) 1.4 TSI (90 KW / 122 HP)

EOS (1F7, 1F8) 1.4 TSI (118 KW / 160 HP)

EOS (1F7, 1F8) 3.6 V6 (191 KW / 260 HP)

EOS (1F7, 1F8) 2.0 TSI (155 KW / 210 HP)

VOLKSWAGEN FOX

MODEL
FOX (521, 523) 1.6 (74 KW / 101 HP)

FOX (5Z1, 523) 1.0 Total Flex (53 KW / 72 HP)
FOX (521, 523) 1.0 (60 KW / 82 HP)

FOX (521, 523) 1.0 (53 KW / 72 HP)

FOX (5Z1, 523) 1.0 Total Flex (54 KW / 73 HP)
FOX (521, 523) 1.2 (44 KW / 60 HP)

FOX (5Z1, 523) 1.6 Total Flex (74 KW / 101 HP)
FOX (521, 523) 1.9 D (47 KW / 64 HP)

FOX (5Z1, 523) 1.0 (54 KW / 73 HP)

FOX (521, 523) 1.2 (40 KW / 55 HP)

FOX (5Z1, 523) 1.4 (55 KW / 75 HP)

FOX (521, 523) 1.4 TDI (51 KW / 70 HP)

FOX (521, 523) 1.0 Flex (56 KW / 76 HP)

FOX (521, 523) 1.6 Total Flex (76 KW / 103 HP)
FOX (521, 523) 1.6 (73 KW / 98 HP)

FOX (521, 523) 1.0 Total Flex (60 KW / 82 HP)

FOX (5Z1, 5Z3) 1.6 Total Flex (77 KW / 105 HP)

VOLKSWAGEN GOLF

MODEL

GOLF ALLTRACK (BA5) 1.8 TSI 4motion (125 KW / 170 HP)

GOLF ALLTRACK (BA5) 1.6 TDI 4motion (81 KW / 110 HP)

06.2006 - 05.2008

05.2008 - 08.2015

11.2007 - 08.2015

05.2008 - 08.2015

05.2009 - 11.2010

11.2009 - 08.2015

YEAR

10.2003 -

10.20053 -

04.2013 -

10.2003 -

05.2005 -

09.2010 -

10.2003 -

12.2007 -

04.2008 -

04.2005 -

04.2005 -

04.2005 -

05.2005 -

10.2003 - 01.2005

09.2007 - 12.2009

04.2013 -

08.2008 -

YEAR

08.2016 -

12.2014 -

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

FITTING POSITION

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEM NUMBER

SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064

SKTR-0240064

ITEMNUMBER

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

ITEM DETAILS

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



GOLF ALLTRACK (BA5) 2.0 TDI 4motion (110 KW / 150 HP)

GOLF ALLTRACK (BA5) 2.0 TDI 4motion (135 KW / 184 HP)

GOLF ALLTRACK (BA5) 1.8 TSI 4motion (132 KW / 180 HP)

GOLF 1 (17) 1.6 TD (55 KW / 75 HP)

GOLF I (17) 1.1 (37 KW / 50 HP)

GOLF 1 (17) 1.1 (38 KW / 52 HP)

GOLF I (17) 1.3 (44 KW / 60 HP)

GOLF 1(17) 1.5 (51 KW / 70 HP)

GOLF 1(17) 1.5 (51 KW /70 HP)

GOLF 1 (17) 1.6 (55 KW / 75 HP)

GOLF 1 (17) 1.6 GTI (81 KW / 110 HP)

GOLF 1(17) 1.8 GTI(82 KW /112 HP)

GOLF 1(17) 1.5 D (37 KW / 50 HP)

GOLF I (17) 1.6 D (40 KW / 54 HP)

GOLF 1(17) 1.6 TD (51 KW /70 HP)

GOLF 1(17) 1.3 (43 KW /58 HP)

GOLF 1 (17) 1.6 (51 KW / 70 HP)

GOLF 1 (17) 1.6 (55 KW / 75 HP)

GOLF | Cabriolet (155) 1.3 (40 KW / 54 HP)

GOLF | Cabriolet (155) 1.5 (51 KW / 70 HP)

GOLF | Cabriolet (155) 1.6 (53 KW / 72 HP)

GOLF | Cabriolet (155) 1.6 (55 KW / 75 HP)

GOLF | Cabriolet (155) 1.6 (81 KW /110 HP)

GOLF | Cabriolet (155) 1.8 (66 KW / 90 HP)

GOLF | Cabriolet (155) 1.8 (70 KW / 95 HP)

GOLF | Cabriolet (155) 1.8 (82 KW /112 HP)

GOLF | Cabriolet (155) 1.8 (72 KW / 98 HP)

GOLF | Cabriolet (155) 1.6 (55 KW / 75 HP)

12.2014 -

12.2014 -

12.2014 -

08.1983 - 07.1985

04.1974 - 07.1983

08.1976 - 07.1980

08.1979 - 07.1983

08.1977 - 07.1983

04.1974 - 12.1975

08.1975 - 02.1984

08.1976 - 07.1982

08.1982 - 12,1983

08.1976 - 07.1980

08.1980 - 07.1983

03.1982 - 07.1983

08.1982 - 12.1983

08.1975 - 07.1977

01.1983 - 02.1984

08.1983 - 07.1986

01.1979 - 11.1983

04.1986 - 02.1990

08.1983 - 04.1992

08.1979 - 07.1982

08.1983 - 09.1992

08.1983 - 04.1993

08.1982 - 12.1989

08.1989 - 03.1993

08.1979 - 07.1983

rechts

rechts

rechts

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



GOLF | Cabriolet (155) 1.8 (82 KW / 111 HP)
GOLF Il (19E, 1G1) 1.6 (51 KW / 69 HP)
GOLF Il (19E, 1G1) 2.0 (57 KW / 78 HP)
GOLF Il (19E, 1G1) 1.6 TD (55 KW / 75 HP)
GOLF Il (19E, 1G1) 1.3 KAT (40 KW / 55 HP)
GOLF Il (19E, 1G1) 1.3 (40 KW / 55 HP)
GOLF Il (19E, 1G1) 1.6 (51 KW / 70 HP)
GOLF Il (19E, 1G1) 1.6 (53 KW / 72 HP)

GOLF Il (19E, 1G1) 1.6 (55 KW / 75 HP)

GOLF Il (19E, 1G1) 1.8 GTI G60 Syncro (118 KW / 160 HP)

GOLF Il (19E, 1G1) 1.8 GTI (79 KW / 107 HP)
GOLF Il (19E, 1G1) 1.8 (62 KW / 84 HP)
GOLF Il (19E, 1G1) 1.8 Syncro (66 KW / 90 HP)
GOLF Il (19E, 1G1) 1.8 (66 KW / 90 HP)

GOLF Il (19E, 1G1) 1.8 i KAT (66 KW / 90 HP)

GOLF Il (19E, 1G1) 1.8 i Syncro KAT (66 KW / 90 HP)

GOLF Il (19E, 1G1) 1.8 Syncro (72 KW / 98 HP)

GOLF Il (19E, 1G1) 1.8 GTI KAT (79 KW / 107 HP)

GOLF Il (19E, 1G1) 1.8 GTI(82 KW /112 HP)

GOLF Il (19E, 1G1) 1.8 GTI 16V (95 KW / 129 HP)

GOLF Il (19E, 1G1) 1.8 GTI 16V (102 KW / 139 HP)

GOLF Il (19E, 1G1) 1.0 (33 KW / 45 HP)

GOLF Il (19E, 1G1) 1.8 GTIG60 (118 KW / 160 HP)

GOLF Il (19E, 1G1) 1.0 (37 KW / 50 HP)
GOLF Il (19E, 1G1) 1.6 D (40 KW / 54 HP)
GOLF Il (19E, 1G1) 1.6 TD (51 KW / 70 HP)
GOLF Il (19E, 1G1) 1.6 TD (59 KW / 80 HP)
GOLF Il (19E, 1G1) 1.6 TD (44 KW / 60 HP)
GOLF Il (19E, 1G1) 1.8 GTI (77 KW / 105 HP)
GOLF Il (19E, 1G1) 1.6 D (37 KW / 50 HP)
GOLF Il (19E, 1G1) 1.3 (37 KW / 50 HP)

GOLF Il (19E, 1G1) 1.3 (43 KW / 58 HP)

GOLF Il (19E, 1G1) 1.8 Syncro (62 KW / 84 HP)
GOLF Ill (1H1) 1.9 SDI (47 KW / 64 HP)

GOLF Ill (1H1) 1.9 D (48 KW / 65 HP)

GOLF Ill (1H1) 1.9 TD,GTD (55 KW / 75 HP)
GOLF Ill (1H1) 1.9 TDI (66 KW / 90 HP)

GOLF Ill (1H1) 1.3 (40 KW / 54 HP)

GOLF Ill (1H1) 1.4 (40 KW / 55 HP)

GOLF Il (LH1) 1.6 (55 KW / 75 HP)

08.1983 - 12,1992

08.1986 - 07.1991

08.1985 - 07.1992

08.1983 - 07.1985

06.1986 - 12.1992

08.1983 - 06.1987

10.1986 - 12.1992

02.1986 - 10.1991

08.1983 - 07.1992

08.1988 - 12.1991

08.1985 - 10.1987

08.1986 - 01.1990

02.1986 - 07.1991

08.1984 - 10.1991

08.1987 - 10.1991

08.1987 - 10.1991

08.1988 - 07.1991

01.1987 - 10.1991

08.1983 - 10.1991

02.1986 - 10.1991

02.1986 - 06.1990

11.1983 - 08.1985

04.1990 - 07.1991

08.1985 - 10.1991

08.1983 - 10.1991

08.1983 - 10.1991

04.1989 - 10.1991

08.1989 - 10.1991

01.1985 - 07.1985

08.1983 - 10.1991

08.1985 - 12.1987

08.1983 - 10.1986

08.1987 - 07.1988

07.1995 - 08.1997

11.1991 - 08.1997

11.1991 - 08.1997

09.1993 - 08.1997

08.1991 - 07.1992

11.1991 - 08.1997

09.1992 - 08.1997

vorne

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240097
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250068
SKRA-0250056
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054




GOLF Ill (1H1) 1.8 (55 KW / 75 HP)

GOLF Ill (1H1) 1.8 (66 KW / 90 HP)

GOLF Ill (1H1) 1.8 Syncro (1HX1) (66 KW / 90 HP)
GOLF Ill (1H1) 2.0 (85 KW / 115 HP)

GOLF Ill (1H1) 2.0 GTI 16V (110 KW / 150 HP)

GOLF Ill (1H1) 1.4 (44 KW / 60 HP)

GOLF Ill (1H1) 2.9 VR6 Syncro (1HX1) (140 KW / 190 HP)
GOLF Ill (1H1) 2.8 VR6 (128 KW / 174 HP)

GOLF Ill (1H1) 1.9 TDI (81 KW / 110 HP)

GOLF Ill (1H1) Citystromer (20 KW / 27 HP)

GOLF Ill (1H1) 1.6 (74 KW / 101 HP)

GOLF Ill (1H1) 2.0 GL (79 KW / 107 HP)

GOLF Ill (1H1) 2.8 VR6 (120 KW / 163 HP)

GOLF Ill (1H1) 2.0 Syncro (1HX1) (85 KW / 115 HP)
GOLF Ill (1H1) 1.9 TDI Syncro (1HX1) (66 KW / 90 HP)
GOLF Ill Cabriolet (1E7) 1.9 TDI (81 KW / 110 HP)
GOLF Ill Cabriolet (1E7) 1.6 (74 KW / 101 HP)

GOLF Ill Cabriolet (1E7) 1.9 TDI (66 KW / 90 HP)
GOLF Ill Cabriolet (1E7) 1.8 (55 KW / 75 HP)

GOLF Ill Cabriolet (1E7) 1.8 (66 KW / 90 HP)

GOLF Ill Cabriolet (1E7) 2.0 (85 KW / 115 HP)

GOLF Ill Variant (1H5) 1.8 Syncro (66 KW / 90 HP)
GOLF Ill Variant (1H5) 2.9 VR6 Syncro (140 KW / 190 HP)
GOLF Ill Variant (1H5) 1.9 SDI (47 KW / 64 HP)

GOLF Ill Variant (1H5) 1.9 TDI Syncro (66 KW / 90 HP)
GOLF Ill Variant (1H5) 1.9 TDI (66 KW / 90 HP)

GOLF Ill Variant (1H5) 1.9 TDI (81 KW / 110 HP)
GOLF Ill Variant (1H5) 1.6 (74 KW / 101 HP)

GOLF Ill Variant (1H5) 1.9 D (48 KW / 65 HP)

GOLF Ill Variant (1H5) 1.9 TD (55 KW / 75 HP)

GOLF Ill Variant (1H5) 1.4 (40 KW / 55 HP)

GOLF Ill Variant (1H5) 1.4 (44 KW / 60 HP)

GOLF Ill Variant (1H5) 1.8 (55 KW / 75 HP)

GOLF il Variant (1H5) 1.8 (66 KW / 90 HP)

GOLF Ill Variant (1H5) 2.0 (85 KW / 115 HP)

GOLF Ill Variant (1H5) 2.0 (79 KW / 107 HP)

GOLF Ill Variant (1H5) 2.0 Syncro (85 KW / 115 HP)
GOLF IV (1J1) 2.0 (85 KW / 115 HP)

GOLF IV (1J1) 1.6 Total Flex (74 KW / 101 HP)

GOLF IV (1J1) 1.8 (77 KW / 105 HP)

11.1991 - 08.1997

11.1991 - 08.1997

01.1993 - 08.1997

11.1991 - 08.1997

08.1992 - 08.1997

10.1991 - 08.1997

10.1994 - 08.1997

01.1992 - 08.1997

04.1996 - 08.1997

11.1994 - 08.1997

07.1995 - 08.1997

08.1995 - 09.1997

08.1995 - 09.1997

08.1995 - 08.1997

08.1995 - 08.1997

07.1996 - 05.1998

10.1994 - 05.1998

08.1995 - 05.1998

07.1993 - 05.1998

07.1993 - 05.1998

07.1993 - 05.1998

10.1994 - 04.1999

10.1994 - 04.1999

07.1995 - 04.1999

07.1995 - 04.1999

03.1994 - 04.1999

04.1996 - 04.1999

07.1994 - 04.1999

07.1993 - 04.1999

07.1993 - 04.1999

07.1993 - 04.1999

07.1993 - 04.1999

07.1993 - 04.1999

07.1993 - 04.1999

07.1993 - 04.1999

08.1995 - 04.1996

08.1995 - 04.1999

07.1998 - 05.2004

02.2001 - 06.2005

04.1998 - 05.2002

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250069
SKRA-0250054
SKRA-0250054
SKRA-0250069
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250055
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250069
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKTR-0240005
SKTR-0240005

SKTR-0240005

Gewindemaf}

M12X1.5



GOLF IV (1J1) 1.9 TDI (66 KW / 90 HP)

GOLF IV (1J1) 1.6 (74 KW / 100 HP)

GOLF IV (1J1) 1.9 TDI (81 KW / 110 HP)

GOLF IV (1J1) 1.8 (127 KW / 173 HP)

GOLF IV (1J1) 1.9 TDI 4motion (66 KW / 90 HP)
GOLF IV (1J1) 1.8 GTI (127 KW / 173 HP)

GOLF IV (1J1) 2.3 V5 4motion (110 KW / 150 HP)
GOLF IV (1J1) 2.8 (128 KW / 174 HP)

GOLF IV (1J1) 1.9 TDI (85 KW / 115 HP)

GOLF IV (1J1) 2.8 VR6 (130 KW / 177 HP)

GOLF IV (1J1) 2.8 VR6 (147 KW / 200 HP)

GOLF IV (1J1) 1.6 (78 KW / 107 HP)

GOLF IV (1J1) 1.9 TDI 4motion (85 KW / 115 HP)
GOLF IV (1J1) 1.9 SDI (50 KW / 68 HP)

GOLF IV (1J1) 1.4 16V (55 KW / 75 HP)

GOLF IV (1J1) 1.8 (92 KW / 125 HP)

GOLF IV (1J1) 1.8 T (110 KW / 150 HP)

GOLF IV (1J1) 2.3 V5 (110 KW / 150 HP)

GOLF IV (1J1) 1.9 TDI (74 KW / 101 HP)

GOLF IV (1J1) 1.9 TDI 4motion (74 KW / 101 HP)
GOLF IV (1J1) 1.9 TDI (110 KW / 150 HP)

GOLF IV (1J1) 1.9 TDI 4motion (110 KW / 150 HP)
GOLF IV (1J1) 1.0 (43 KW / 58 HP)

GOLF IV (1J1) 1.8 T GTI (132 KW / 180 HP)
GOLF IV (1J1) 1.6 FSI (81 KW / 110 HP)

GOLF IV (1J1) 1.9 TD (55 KW / 75 HP)

GOLF IV (1J1) 1.8 4motion (92 KW / 125 HP)
GOLF IV (1J1) 2.0 4motion (85 KW / 115 HP)
GOLF IV (1J1) 1.8 (66 KW / 90 HP)

GOLF IV (1J1) 1.6 (75 KW / 102 HP)

GOLF IV (1J1) 2.3 V5 (125 KW / 170 HP)

GOLF IV (1J1) 2.3 V5 4motion (125 KW / 170 HP)
GOLF IV (1J1) 1.6 (74 KW / 101 HP)

GOLF IV (1J1) 1.9 TDI (96 KW / 130 HP)

GOLF IV (1J1) 2.8 V6 4motion (150 KW / 204 HP)
GOLF IV (1J1) 1.9 TDI 4motion (96 KW / 130 HP)
GOLF IV (1J1) 3.2 R32 4motion (177 KW / 241 HP)
GOLF IV (1J1) 1.6 16V (77 KW / 105 HP)

GOLF IV Van (1J1) 1.9 TDI (66 KW / 90 HP)

GOLF IV Van (1J1) 1.9 TDI (96 KW / 130 HP)

10.1997 - 05.2004

08.1997 - 05.2004

08.1997 - 05.2004

09.1999 - 06.2005

07.1998 - 04.2002

09.1999 - 12.2001

12.1998 - 10.2000

08.1997 - 12.2000

12.1998 - 06.2001

10.2000 - 07.2002

03.2002 - 06.2005

08.2003 - 06.2005

09.1999 - 06.2001

08.1997 - 06.2005

08.1997 - 06.2005

08.1997 - 06.2005

08.1997 - 06.2005

08.1997 - 10.2000

09.2000 - 06.2005

09.2000 - 06.2005

05.2000 - 06.2005

02.2000 - 06.2005

08.1998 - 05.2002

08.2001 - 06.2005

01.2002 - 06.2005

10.1997 - 09.1999

05.1998 - 06.2005

10.2000 - 06.2005

10.1997 - 09.1999

08.2000 - 06.2005

10.2000 - 06.2005

10.2000 - 06.2005

02.2001 - 06.2001

11.2000 - 06.2005

03.1999 - 06.2005

11.2000 - 06.2005

09.2002 - 06.2005

02.2000 - 06.2005

05.2000 - 09.2002

04.2001 - 05.2004

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005




GOLF IV Variant (1J5) 1.8 T (127 KW / 173 HP)

GOLF IV Variant (1J5) 1.9 TDI 4motion (66 KW / 90 HP)
GOLF IV Variant (1J5) 2.3 V5 (125 KW / 170 HP)

GOLF IV Variant (1J5) 2.3 V5 4motion (125 KW / 170 HP)
GOLF IV Variant (1J5) 1.9 TDI (110 KW / 150 HP)

GOLF IV Variant (1J5) 1.4 16V (55 KW / 75 HP)

GOLF IV Variant (1J5) 1.6 (74 KW / 101 HP)

GOLF IV Variant (1J5) 2.0 (85 KW / 115 HP)

GOLF IV Variant (1J5) 1.9 SDI (50 KW / 68 HP)

GOLF IV Variant (1J5) 1.9 TDI (66 KW / 90 HP)

GOLF IV Variant (1J5) 1.9 TDI (81 KW / 110 HP)

GOLF IV Variant (1J5) 1.9 TDI (74 KW / 101 HP)

GOLF IV Variant (1J5) 1.9 TDI 4motion (74 KW / 101 HP)
GOLF IV Variant (1J5) 1.6 FSi (85 KW / 116 HP)

GOLF IV Variant (1J5) 1.6 FSI (81 KW / 110 HP)

GOLF IV Variant (1J5) 1.9 TDI 4motion (85 KW / 115 HP)
GOLF IV Variant (1J5) 1.8 T (110 KW / 150 HP)

GOLF IV Variant (1J5) 2.0 4motion (85 KW / 115 HP)
GOLF IV Variant (1J5) 2.0 4motion (88 KW / 120 HP)
GOLF IV Variant (1J5) 1.6 (75 KW / 102 HP)

GOLF IV Variant (1J5) 1.9 TDI (96 KW / 130 HP)

GOLF IV Variant (1J5) 1.9 TDI 4motion (96 KW / 130 HP)
GOLF IV Variant (1J5) 1.9 TDI 4motion (110 KW / 150 HP)
GOLF IV Variant (1J5) 2.0 Bi-Fuel (85 KW / 116 HP)
GOLF IV Variant (1J5) 2.3 V5 (110 KW / 150 HP)

GOLF IV Variant (1J5) 2.3 V5 4motion (110 KW / 150 HP)
GOLF IV Variant (1J5) 1.8 4motion (92 KW / 125 HP)
GOLF IV Variant (1J5) 2.8 V6 4motion (150 KW / 204 HP)
GOLF IV Variant (1J5) 1.8 T (132 KW / 180 HP)

GOLF IV Variant (1J5) 1.8 T (112 KW / 152 HP)

GOLF IV Variant (1J5) 1.9 TDI (85 KW / 115 HP)

GOLF IV Variant (1J5) 1.6 16V (77 KW / 105 HP)

GOLF MK Ill Cabriolet (1E7) 1.6 (74 KW / 100 HP)

GOLF Mk Ill Cabriolet (1E7) 1.9 TDI (66 KW / 90 HP)
GOLF MK Ill Cabriolet (1E7) 2.0 (85 KW / 115 HP)

GOLF MK Il Cabriolet (1E7) 1.8 (55 KW / 75 HP)

GOLF Mk Ill Cabriolet (1E7) 1.8 (66 KW / 90 HP)

GOLF Mk Il Cabriolet (1E7) 1.9 TDI (81 KW / 110 HP)

GOLF MKk Il Cabriolet (1E7) 2.0 (86 KW / 117 HP)

09.1999 - 12.2001

05.1999 - 04.2002

10.2000 - 06.2006

10.2000 - 06.2006

06.2001 - 06.2006

05.1999 - 06.2006

05.1999 - 04.2002

05.1999 - 06.2006

05.1999 - 06.2006

05.1999 - 05.2006

05.1999 - 06.2001

09.2000 - 06.2006

09.2000 - 06.2006

10.2003 - 07.2004

01.2002 - 06.2006

05.1999 - 06.2001

05.2000 - 06.2006

10.2000 - 06.2006

12.1999 - 06.2006

08.2000 - 06.2006

11.2000 - 06.2006

11.2000 - 06.2006

05.2002 - 06.2005

02.2002 - 06.2006

05.1999 - 06.2006

05.1999 - 06.2006

05.1999 - 06.2006

05.1999 - 06.2006

05.2002 - 06.2006

09.2002 - 12.2003

08.1999 - 06.2001

02.2000 - 06.2006

06.1998 - 06.2002

06.1998 - 06.2002

06.1998 - 06.2002

06.1998 - 06.2002

06.1998 - 06.2002

06.1998 - 06.2002

06.1998 - 06.2002

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKRA-0250001
SKTR-0240005
SKRA-0250001
SKRA-0250001
SKRA-0250001

SKRA-0250069




GOLF PLUS (5M1, 521) 1.4 16V (59 KW / 80 HP)

GOLF PLUS (5M1, 521) 1.4 TSI (103 KW / 140 HP)

GOLF PLUS (5M1, 521) 1.4 TSI (125 KW / 170 HP)

GOLF PLUS (5M1, 521) 1.4 FSI (66 KW / 90 HP)

GOLF PLUS (5M1, 521) 1.2 TSI (63 KW / 86 HP)

GOLF PLUS (5M1, 521) 2.0 TDI (81 KW / 110 HP)

GOLF PLUS (5M1, 521) 1.6 TDI (77 KW / 105 HP)

GOLF PLUS (5M1, 521) 1.2 TSI (77 KW / 105 HP)

GOLF PLUS (5M1, 521) 1.4 TSI (90 KW / 122 HP)

GOLF PLUS (5M1, 521) 2.0 TDI (100 KW / 136 HP)

GOLF PLUS (5M1, 521) 1.6 MultiFuel (75 KW /102 HP)

GOLF PLUS (5M1, 521) 1.4 TSI (118 KW / 160 HP)

GOLF PLUS (5M1, 521) 1.6 BiFuel (75 KW /102 HP)

GOLF PLUS (5M1, 521) 2.0 TDI (96 KW / 131 HP)

GOLF PLUS (5M1, 521) 1.6 TDI (66 KW / 90 HP)

GOLF PLUS (5M1, 521) 1.4 16V (55 KW / 75 HP)

GOLF PLUS (5M1, 521) 1.6 FSI (85 KW / 115 HP)

GOLF PLUS (5M1, 521) 1.9 TDI (77 KW / 105 HP)

GOLF PLUS (5M1, 521) 2.0 TDI 16V (103 KW / 140 HP)

GOLF PLUS (5M1, 521) 2.0 FSI (110 KW / 150 HP)

GOLF PLUS (5M1, 521) 1.9 TDI (66 KW / 90 HP)

GOLF PLUS (5M1, 521) 1.6 (75 KW /102 HP)

GOLF PLUS (5M1, 521) 2.0 TDI (103 KW / 140 HP)

GOLF SPORTSVAN (AM1) 1.2 TSI (63 KW / 86 HP)

GOLF SPORTSVAN (AM1) 1.6 TDI (66 KW / 90 HP)

GOLF SPORTSVAN (AM1) 2.0 TDI (81 KW / 110 HP)

05.2006 - 12.2013

05.2006 - 06.2008

05.2006 - 06.2008

07.2005 - 11.2006

05.2010 - 12.2013

01.2009 - 12.2013

03.2009 - 12.2013

11.2009 - 12.2013

06.2007 - 12.2013

05.2005 - 12.2013

11.2007 - 12.2013

06.2008 - 12.2013

05.2009 - 12.2013

05.2005 - 05.2007

02.2009 - 12.2013

01.2005 - 11.2006

01.2005 - 05.2008

01.2005 - 01.2009

01.2005 - 12.2013

05.2005 - 06.2008

05.2005 - 12.2008

05.2005 - 12.2013

12.2005 - 05.2011

05.2014 -

02.2014 -

05.2014 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



GOLF SPORTSVAN (AM1) 1.6 (81 KW / 110 HP)

GOLF SPORTSVAN (AM1) 1.4 TSI MultiFuel (92 KW / 125

HP)

GOLF SPORTSVAN (AM1) 1.2 TSI (81 KW / 110 HP)

GOLF SPORTSVAN (AM1) 1.4 TSI (92 KW / 125 HP)

GOLF SPORTSVAN (AM1) 1.5 TSI (96 KW / 130 HP)

GOLF SPORTSVAN (AM1) 1.6 TDI (85 KW / 115 HP)

GOLF SPORTSVAN (AM1) 1.6 TDI (81 KW / 110 HP)

GOLF SPORTSVAN (AM1) 2.0 TDI (110 KW / 150 HP)

GOLF SPORTSVAN (AM1) 1.4 TSI (110 KW / 150 HP)

GOLF V (1K1) 1.0 (53 KW / 72 HP)

GOLF V (1K1) 1.4 16V (59 KW / 80 HP)

GOLF V (1K1) 1.4 TSI (103 KW / 140 HP)

GOLF V (1K1) 1.0 (48 KW / 65 HP)

GOLF V (1K1) 1.6 MultiFuel (75 KW / 102 HP)

GOLF V (1K1) RABBIT 2.5 (125 KW / 170 HP)

GOLF V (1K1) 3.2 R32 4motion (177 KW / 241 HP)

GOLF V (1K1) 1.9 TDI (77 KW / 105 HP)

GOLF V (1K1) 1.4 FSI (66 KW / 90 HP)

GOLF V (1K1) 2.0 GTi (86 KW / 117 HP)

GOLF V (1K1) 1.8 GTI (132 KW / 179 HP)

GOLF V (1K1) 2.0 (85 KW / 116 HP)

GOLF V (1K1) 2.0 GTI (169 KW / 230 HP)

GOLF V (1K1) 1.4 TSI (90 KW / 122 HP)

GOLF V (1K1) 1.4 16V (55 KW / 75 HP)

GOLF V (1K1) 2.0 TDI 16V (103 KW / 140 HP)

GOLF V (1K1) 2.0 FSI (110 KW / 150 HP)

05.2014 -

04.2014 -

04.2014 -

04.2014 -

05.2017 -

11.2016 -

02.2014 -

02.2014 -

02.2014 -

10.2005 - 11.2008

05.2006 - 11.2008

05.2006 - 11.2008

08.2005 - 11.2008

10.2007 - 11.2008

05.2007 - 11.2008

01.2004 - 11.2008

10.2003 - 11.2008

10.2003 - 07.2006

09.2005 - 02.2009

08.2006 - 11.2008

08.2006 - 11.2008

09.2006 - 12.2008

05.2007 - 11.2008

10.2003 - 05.2006

10.2003 - 11.2008

01.2004 - 11.2008

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuRengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



GOLF V (1K1) 2.0 TDI (100 KW / 136 HP)

GOLF V (1K1) 3.2 (184 KW / 250 HP)

GOLF V (1K1) 1.6 FSI (74 KW / 101 HP)

GOLF V (1K1) 2.5 FSI (110 KW / 150 HP)

GOLF V (1K1) 1.9 TDI (66 KW / 90 HP)

GOLF V (1K1) 2.5 FSI (112 KW / 152 HP)

GOLF V (1K1) 2.0 SDI (55 KW / 75 HP)

GOLF V (1K1) 1.6 (75 KW / 102 HP)

GOLF V (1K1) 1.9 TDI 4motion (77 KW / 105 HP)

GOLF V (1K1) 2.0 TDI 16V 4motion (103 KW / 140 HP)

GOLF V (1K1) 2.0 FSI 4motion (110 KW / 150 HP)

GOLF V (1K1) 2.0 GTI (147 KW / 200 HP)

GOLF V (1K1) 2.0 TDI (125 KW / 170 HP)

GOLF V (1K1) 1.4 TSI (125 KW / 170 HP)

GOLF V (1K1) 3.2 R32 4motion (184 KW / 250 HP)

GOLF V (1K1) 1.6 FSI (85 KW / 115 HP)

GOLF V (1K1) 2.0 TDI (103 KW / 140 HP)

GOLF V (1K1) 2.0 TDI 4motion (103 KW / 140 HP)

GOLF V Variant (1K5) 2.0 TDI (100 KW / 136 HP)

GOLF V Variant (1K5) 1.6 MultiFuel (75 KW / 102 HP)

GOLF V Variant (1K5) 1.6 (75 KW / 102 HP)

GOLF V Variant (1K5) 1.4 TSI (103 KW / 140 HP)

GOLF V Variant (1K5) 1.9 TDI (77 KW / 105 HP)

GOLF V Variant (1K5) 2.0 TDI 16V (103 KW / 140 HP)

GOLF V Variant (1K5) 1.4 TSI (90 KW / 122 HP)

GOLF V Variant (1K5) 2.5 (125 KW / 170 HP)

10.2003 - 11.2008

09.2005 - 11.2008

02.2006 - 11.2008

06.2005 - 11.2008

05.2004 - 11.2008

01.2006 - 12.2008

01.2004 - 11.2008

01.2004 - 11.2008

08.2004 - 11.2008

08.2004 - 11.2008

08.2004 - 11.2008

10.2004 - 02.2009

11.2005 - 11.2008

11.2005 - 11.2008

11.2005 - 11.2008

10.2003 - 07.2008

12.2004 - 11.2008

08.2004 - 11.2008

06.2007 - 07.2009

11.2007 - 07.2009

06.2007 - 07.2009

06.2007 - 07.2009

06.2007 - 07.2009

06.2007 - 07.2009

06.2007 - 07.2009

01.2008 - 07.2009

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



GOLF V Variant (1K5) 1.4 TSI (118 KW / 160 HP)

GOLF V Variant (1K5) 1.4 TSI (125 KW / 170 HP)

GOLF V Variant (1K5) 2.0 TDI (103 KW / 140 HP)

GOLF V Variant (1K5) 1.9 TDI 4motion (77 KW / 105 HP)

GOLF V Variant (1K5) 2.0 TDI 4motion (100 KW / 136 HP)

GOLF V Variant (1K5) 1.4 (59 KW / 80 HP)

GOLF V Variant (1K5) 2.5 (110 KW / 150 HP)

GOLF V Variant (1K5) 2.0 (147 KW / 200 HP)

GOLF VI (5K1) 1.6 TDI (66 KW / 90 HP)

GOLF VI (5K1) 2.0 GTi (173 KW / 235 HP)

GOLF VI (5K1) 1.4 (59 KW / 80 HP)

GOLF VI (5K1) 1.6 (75 KW /102 HP)

GOLF VI (5K1) 1.4 TSI (90 KW / 122 HP)

GOLF VI (5K1) 1.4 TSI (118 KW / 160 HP)

GOLF VI (5K1) 2.0 TDI (103 KW / 140 HP)

GOLF VI (5K1) 2.0 TDI (81 KW / 110 HP)

GOLF VI (5K1) 2.0 R 4motion (188 KW / 256 HP)

GOLF VI (5K1) 2.0 TDI (100 KW / 136 HP)

GOLF VI (5K1) 1.8 TSI (118 KW / 160 HP)

GOLF VI (5K1) Blue E-Motion (65 KW / 88 HP)

GOLF VI (5K1) 1.6 TDI (77 KW / 105 HP)

GOLF VI (5K1) 1.2 TSI (77 KW / 105 HP)

GOLF VI (5K1) 2.0 R 4motion (199 KW / 270 HP)

GOLF VI (5K1) 1.2 TSI (63 KW / 86 HP)

GOLF VI (5K1) 2.0 R 4motion (195 KW / 265 HP)

07.2008 - 07.2009

06.2007 - 07.2009

06.2007 - 07.2009

01.2008 - 07.2009

06.2007 - 07.2009

06.2007 - 07.2009

06.2007 - 07.2009

06.2007 - 07.2009

02.2009 - 11.2012

05.2011 - 11.2012

10.2008 - 11.2012

10.2008 - 11.2012

10.2008 - 11.2012

10.2008 - 11.2012

10.2008 - 05.2013

10.2008 - 11.2012

11.2009 - 11.2013

10.2008 - 11.2012

06.2009 - 01.2011

12.2010 - 11.2013

02.2009 - 11.2012

11.2008 - 11.2012

11.2009 - 11.2012

05.2010 - 11.2012

11.2009 - 05.2011

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuRengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



GOLF VI (5K1) 2.5 FSI (125 KW / 170 HP)

GOLF VI (5K1) 1.6 MultiFuel (75 KW / 102 HP)

GOLF VI (5K1) 2.0 GTi (147 KW / 200 HP)

GOLF VI (5K1) 2.0 TDI 4motion (103 KW / 140 HP)

GOLF VI (5K1) 2.0 TDI (125 KW / 170 HP)

GOLF VI (5K1) 1.6 BiFuel (75 KW / 102 HP)

GOLF VI (5K1) 2.0 GTi (155 KW / 210 HP)

GOLF VI Cabriolet (517) 1.2 TSI (77 KW / 105 HP)

GOLF VI Cabriolet (517) 1.4 TSI (90 KW / 122 HP)

GOLF VI Cabriolet (517) 1.4 TSI (118 KW / 160 HP)

GOLF VI Cabriolet (517) 2.0 GTI (155 KW / 211 HP)

GOLF VI Cabriolet (517) 1.6 TDI (77 KW / 105 HP)

GOLF VI Cabriolet (517) 2.0 TDI (103 KW / 140 HP)

GOLF VI Cabriolet (517) 2.0 TSI (162 KW / 220 HP)

GOLF VI Cabriolet (517) 2.0 TDI (110 KW / 150 HP)

GOLF VI Cabriolet (517) 2.0 R (195 KW / 265 HP)

GOLF VI Cabriolet (517) 1.2 TSI 16V (77 KW / 105 HP)

GOLF VI Variant (AJ5) 1.6 TDI (66 KW / 90 HP)

GOLF VI Variant (AJ5) 2.0 TDI 16V (103 KW / 140 HP)

GOLF VI Variant (AJ5) 1.6 (75 KW / 102 HP)

GOLF VI Variant (AJ5) 1.4 (59 KW / 80 HP)

GOLF VI Variant (AJ5) 1.4 TSI (90 KW / 122 HP)

GOLF VI Variant (AJ5) 1.4 TSI (118 KW / 160 HP)

GOLF VI Variant (AJ5) 1.6 TDI (77 KW / 105 HP)

GOLF VI Variant (AJ5) 1.6 TDI 4motion (77 KW / 105 HP)

07.2009 - 05.2013

10.2008 - 11.2012

06.2009 - 11.2013

05.2009 - 11.2012

04.2009 - 11.2012

03.2009 - 11.2012

04.2009 - 11.2012

03.2011 -

11.2011 -

03.2011 -

11.2011 -

03.2011 -

11.2011 -

11.2013 -

11.2013 -

01.2013 -

11.20153 -

12.2009 - 07.2013

07.2009 - 07.2013

07.2009 - 07.2013

07.2009 - 07.2013

07.2009 - 07.2013

07.2009 - 07.2013

07.2009 - 07.2013

07.2009 - 07.2013

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



GOLF VI Variant (AJ5) 1.2 TSI (77 KW / 105 HP) 07.2009 - 07.2013 rechts SKTR-0240040 Lénge [mm] 333
Auflengewinde M16x1,5/

[mm] M16x1,5
GOLF VI Variant (AJ5) 2.0 TSI (147 KW / 200 HP) 07.2009 - 07.2013 rechts SKTR-0240040 Léinge [mm] 333
AuBengewinde M16x1,5/
[mm] M16x1,5
GOLF VI Variant (AJ5) 2.0 TDI (81 KW / 110 HP) 01.2010 - 07.2013 rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
GOLF VI Variant (AJ5) 2.5 (125 KW / 170 HP) 07.2009 - 07.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
GOLF VI Variant (AJ5) 1.6 MultiFuel (75 KW / 102 HP) 07.2010 - 07.2013 rechts SKTR-0240040 Léinge [mm] 333
AufRengewinde M16x1,5/
[mm] M16x1,5
GOLF VI Variant (AJ5) 1.2 TSI (63 KW / 86 HP) 07.2010 - 07.2013 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
GOLF VI Variant (AJ5) 2.0 TDI (100 KW / 136 HP) 07.2009 - 07.2013 rechts SKTR-0240040 Léinge [mm] 333
AuBengewinde M16x1,5/
[mm] M16x1,5
GOLF VIl (5G1, BE1) 2.0 R 4motion (213 KW / 290 HP) 12.2016 - rechts SKTR-0240040 Léinge [mm] 333
Aufiengewinde M16x1,5/
[mm] M16x1,5
GOLF VII (5G1, BE1) 1.0 TSI (63 KW / 86 HP) 01.2017 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
GOLF VII (5G1, BE1) 2.0 GTI (180 KW / 245 HP) 03.2017 - rechts SKTR-0240040 Léinge [mm] 333
AufRengewinde M16x1,5/
[mm] M16x1,5
GOLF VII (5G1, BE1) 2.0 R 4motion (215 KW / 292 HP) 11.2014 - rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
GOLF VIl (5G1, BE1) 1.2 TSI (63 KW / 86 HP) 08.2012 - rechts SKTR-0240040 Léinge [mm] 333
Aulengewinde M16x1,5/
[mm] M16x1,5
GOLF VIl (5G1, BE1) 1.0 TSI (81 KW / 110 HP) 11.2016 - rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
GOLF VIl (5G1, BE1) 1.4 TSI (103 KW / 140 HP) 08.2012 - rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
GOLF VIl (5G1, BE1) 1.6 TDI (85 KW / 115 HP) 11.2016 - rechts SKTR-0240040 Léinge [mm] 333
AufRengewinde M16x1,5/
[mm] M16x1,5
GOLF VI (5G1, BE1) 1.6 TDI (77 KW / 105 HP) 08.2012 - rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
GOLF VII (5G1, BE1) 2.0 TDI (110 KW / 150 HP) 11.2012 - rechts SKTR-0240040 Léinge [mm] 333
AuBengewinde M16x1,5/
[mm] M16x1,5
GOLF VII (5G1, BE1) 1.5 TSI (96 KW / 130 HP) 07.2017 - rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
GOLF VIl (5G1, BE1) 1.2 TSI (77 KW / 105 HP) 11.2012 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
GOLF VIl (5G1, BE1) 1.4 TSI (90 KW / 122 HP) 11.2012 - rechts SKTR-0240040 Léinge [mm] 333
Aulengewinde M16x1,5/
[mm] M16x1,5
GOLF VII (5G1, BE1) 1.6 TDI 4motion (77 KW / 105 HP) 11.2012 - rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
GOLF VII (5G1, BE1) 2.0 GTI Clubsport (195 KW / 265 HP)  02.2016 - rechts SKTR-0240040 Liinge [mm] 333
AuBengewinde M16x1,5/
[mm] M16x1,5
GOLF VII (5G1, BE1) 2.0 TDI 4motion (110 KW / 150 HP) 11.2012 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
GOLF VIl (5G1, BE1) 1.4 TSI MultiFuel (90 KW / 122 HP) 04.2013 - rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
GOLF VIl (5G1, BE1) 1.5 TSI (110 KW / 150 HP) 04.2017 - rechts SKTR-0240040 Léinge [mm] 333
AufRengewinde M16x1,5/
[mm] M16x1,5




GOLF VI (5G1, BE1) 2.0 GTI Clubsport S (228 KW / 310 HP)

GOLF VII (5G1, BE1) 1.6 TDI 4motion (81 KW / 110 HP)

GOLF VII (5G1, BE1) e-Golf (100 KW / 136 HP)

GOLF VI (5G1, BE1) 1.6 (81 KW /110 HP)

GOLF VI (5G1, BE1) 1.2 TSI (81 KW /110 HP)

GOLF VIl (5G1, BE1) 1.4 TSI MultiFuel (92 KW / 125 HP)

GOLF VIl (561, BE1) e-Golf (85 KW / 115 HP)

GOLF VI (5G1, BE1) 1.4 TSI (92 KW / 125 HP)

GOLF VI (5G1, BE1) 1.4 TSI (110 KW / 150 HP)

GOLF VI (5G1, BE1) 1.6 TDI (66 KW / 90 HP)

GOLF VIl (5G1, BE1) 1.6 TDI (81 KW / 110 HP)

GOLF VII (5G1, BE1) 2.0 TDI (105 KW / 143 HP)

GOLF VII (5G1, BE1) 2.0 TDI (81 KW / 110 HP)

GOLF VII (5G1, BE1) 2.0 R 360S 4motion (265 KW / 360

HP)

GOLF VII (5G1, BE1) 2.0 R 4motion (206 KW / 280 HP)

GOLF VIl (5G1, BE1) 2.0 R 4motion (221 KW / 300 HP)

GOLF VII (5G1, BE1) 2.0 GTI (162 KW / 220 HP)

GOLF VII (5G1, BE1) 2.0 GTI (169 KW / 230 HP)

GOLF VII (5G1, BE1) 2.0 GTD (135 KW / 184 HP)

GOLF VII (5G1, BE1) 1.4 GTE Hybrid (110 KW / 150 HP)

GOLF VIl (5G1, BE1) 2.0 GTI (155 KW / 210 HP)

GOLF VII (5G1, BE1) 2.0 R 4motion (213 KW / 290 HP)

GOLF VII (5G1, BE1) 1.4 TGI CNG (81 KW / 110 HP)

GOLF VII (5G1, BE1) 2.0 R 4motion (228 KW / 310 HP)

GOLF VIl Kombi (BA5) 1.8 TSI (127 KW / 173 HP)

09.2016 -

01.2013 -

12.2016 -

05.2014 -

04.2014 -

12.2013 -

03.2014 - 02.2017

05.2014 -

05.2014 -

04.2013 -

01.2013 -

08.2012 -

11.2012 -

09.2016 -

11.2013 -

11.2013 -

04.2013 -

04.2013 -

04.2013 -

05.2014 -

11.2013 -

11.20153 -

06.2013 -

12.2016 -

07.2013 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuRengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuRengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



GOLF VIl Kombi (BA5) 2.0 R 4motion (213 KW / 290 HP)

GOLF VIl Kombi (BA5) 1.2 TSI (63 KW / 86 HP)

GOLF VIl Kombi (BA5) 1.0 TSI (63 KW / 86 HP)

GOLF VIl Kombi (BA5) 1.2 TSI (77 KW / 105 HP)

GOLF VIl Kombi (BA5) 1.4 TSI (90 KW / 122 HP)

GOLF VIl Kombi (BA5) 1.6 TDI (77 KW / 105 HP)

GOLF VIl Kombi (BA5) 2.0 TDI (110 KW / 150 HP)

GOLF VIl Kombi (BA5) 1.0 TSI (81 KW / 110 HP)

GOLF VIl Kombi (BA5) 1.6 TDI (85 KW / 115 HP)

GOLF VIl Kombi (BA5) 1.5 TSI (96 KW / 130 HP)

GOLF VIl Kombi (BA5) 1.6 TDI (81 KW /110 HP)

GOLF VIl Kombi (BA5) 2.0 TDI 4motion (110 KW / 150 HP)

GOLF VIl Kombi (BA5) 1.5 TSI (110 KW / 150 HP)

GOLF VIl Kombi (BA5) 1.4 TSI (103 KW / 140 HP)

GOLF VIl Kombi (BA5) 1.4 TGI CNG (81 KW / 110 HP)

GOLF VIl Kombi (BA5) 1.6 TDI 4motion (77 KW / 105 HP)

GOLF VI Kombi (BA5) 1.6 TDI (66 KW / 90 HP)

GOLF VIl Kombi (BA5) 1.6 (81 KW / 110 HP)

GOLF VIl Kombi (BA5) 1.4 TSI MultiFuel (92 KW / 125 HP)

GOLF VIl Kombi (BA5) 1.6 TDI 4motion (81 KW / 110 HP)

GOLF VIl Kombi (BA5) 1.2 TSI (81 KW / 110 HP)

GOLF VIl Kombi (BA5) 1.4 TSI (92 KW / 125 HP)

GOLF Vil Kombi (BA5) 2.0 R 360S 4motion (265 KW / 360

HP)

GOLF VIl Kombi (BA5) 1.4 TSI MultiFuel (90 KW / 122 HP)

GOLF VIl Kombi (BA5) 2.0 TDI (81 KW / 110 HP)

GOLF VIl Kombi (BA5) 1.4 TSI (110 KW / 150 HP)

12.2016 -

05.2013 -

01.2017 -

05.2013 -

05.2013 -

05.2013 -

04.2013 -

11.2016 -

11.2016 -

07.2017 -

05.2013 -

04.2013 -

04.2017 -

05.2013 -

09.2013 -

05.2013 -

05.2013 -

05.2014 -

05.2014 -

05.2013 -

04.2014 -

05.2014 -

09.2016 -

04.2013 -

05.2013 -

05.2014 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333

M16x1,5/
M16x1,5

271



GOLF VIl Kombi (BA5) 2.0 R 4motion (228 KW / 310 HP) 12.2016 - rechts SKTR-0240040 Léinge [mm] 333
AuBengewinde M16x1,5/
[mm] M16x1,5

MODEL YEAR FITTING POSITION ITEM NUMBER ITEM DETAILS

JETTA1(16) 1.8 (82 KW /112 HP) 08.1982 - 02.1984 Vorderachse SKRA-0250025
beidseitig

JETTA1(16) 1.1 (37 KW / 50 HP) 08.1979 - 02.1984 Vorderachse SKRA-0250025
beidseitig

JETTA1(16) 1.3 (44 KW / 60 HP) 08.1979 - 02.1984 Vorderachse SKRA-0250025
beidseitig

JETTA1(16) 1.5 (51 KW /70 HP) 08.1978 - 02.1984 Vorderachse SKRA-0250025
beidseitig

JETTA1(16) 1.6 (63 KW / 85 HP) 08.1978 - 02.1984 Vorderachse SKRA-0250025
beidseitig

JETTA 1(16) 1.6 GLI (81 KW /110 HP) 08.1978 - 07.1982 Vorderachse SKRA-0250025
beidseitig

JETTA1(16) 1.6 D (40 KW / 54 HP) 08.1980 - 02.1984 Vorderachse SKRA-0250025
beidseitig

JETTA1(16) 1.6 TD (51 KW / 70 HP) 03.1982 - 02.1984 Vorderachse SKRA-0250025
beidseitig

JETTA1(16) 1.6 (55 KW /75 HP) 08.1981 - 07.1983 Vorderachse SKRA-0250025
beidseitig

JETTA1(16) 1.5 D (37 KW / 50 HP) 08.1978 - 07.1980 Vorderachse SKRA-0250025
beidseitig

JETTA 1(16) 1.3 (43 KW /58 HP) 08.1982 - 02.1984 Vorderachse SKRA-0250025
beidseitig

JETTA1(16) 1.6 (55 KW /75 HP) 08.1982 - 07.1983 Vorderachse SKRA-0250025
beidseitig

JETTA Il (19E, 1G2, 165) 1.8 Syncro (62 KW / 84 HP) 08.1987 - 07.1988 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.8 (77 KW / 105 HP) 01.1985 - 12.1992 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 2.0 (100 KW / 136 HP) 08.1989 - 07.1992 SKRA-0250056

JETTA Il (19E, 1G2, 165) 1.3 KAT (40 KW / 55 HP) 06.1987 - 12.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.8 (79 KW / 107 HP) 08.1985 - 10.1987 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.8 (66 KW / 90 HP) 08.1984 - 10.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.3 (40 KW / 55 HP) 01.1984 - 06.1987 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.6 (51 KW /70 HP) 10.1986 - 10.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.6 (53 KW /72 HP) 03.1986 - 10.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.6 (55 KW /75 HP) 01.1984 - 07.1992 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.8 (62 KW / 84 HP) 08.1986 - 01.1990 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.8 KAT (66 KW / 90 HP) 08.1987 - 10.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.8 KAT (79 KW / 107 HP) 01.1987 - 10.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.8 (82 KW / 112 HP) 01.1984 - 10.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.8 16V (95 KW / 129 HP) 08.1986 - 10.1991 Vorderachse SKRA-0250068




JETTA Il (19E, 1G2, 165) 1.8 16V (102 KW / 140 HP) 06.1987 - 12.1989 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.6 D (40 KW / 54 HP) 01.1984 - 10.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.6 TD (51 KW / 70 HP) 01.1984 - 10.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.6 TD (59 KW / 80 HP) 04.1989 - 10.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.6 TD (44 KW / 60 HP) 01.1990 - 10.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.8 Syncro (66 KW / 90 HP) 08.1987 - 12.1988 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.8 Syncro (72 KW / 98 HP) 08.1988 - 07.1991 Vorderachse SKRA-0250068

JETTA Il (19E, 1G2, 165) 1.3 (43 KW / 58 HP) 01.1984 - 10.1986 Vorderachse SKRA-0250068

JETTA Il (1K2) 2.0 TFSI (125 KW / 170 HP) 07.2008 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Aulengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 2.0 (85 KW / 116 HP) 08.2005 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 2.8 VR6 (128 KW / 174 HP) 10.2009 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 1.6 MultiFuel (75 KW / 102 HP) 01.2008 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 1.9 TDI (74 KW / 101 HP) 08.2005 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufiengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 2.0 TDI (125 KW / 170 HP) 10.2006 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
AuBengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 1.4 TSI (118 KW / 160 HP) 07.2008 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 1.6 TDI (77 KW / 105 HP) 06.2009 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 2.0 (136 KW / 185 HP) 08.2005 - 06.2008 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5

JETTA 1l (1K2) 2.5 FSI (110 KW / 150 HP) 01.2006 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufiengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 1.6 TDI (66 KW / 90 HP) 12.2009 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Au3engewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 1.6 (75 KW / 102 HP) 10.2005 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 1.6 FSI (85 KW / 115 HP) 09.2005 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 2.0 FSI (110 KW / 150 HP) 08.2005 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5

JETTA 1l (1K2) 2.0 TFSI (147 KW / 200 HP) 10.2005 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 1.9 TDI (77 KW / 105 HP) 08.2005 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 2.0 TDI 16V (103 KW / 140 HP) 08.2005 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 2.5 FSI (125 KW / 170 HP) 07.2008 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 2.0 TDI (100 KW / 136 HP) 09.2005 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5

JETTA Il (1K2) 1.4 TSI (103 KW / 140 HP) 07.2006 - 10.2010 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5




JETTA Il (1K2) 1.4 TSI (125 KW / 170 HP)

JETTA Il (1K2) 2.0 TDI (103 KW / 140 HP)

JETTA Il (1K2) 1.4 TSI (90 KW / 122 HP)

JETTA Il (1K2) 2.0 TDI (81 KW / 110 HP)

JETTA IV (162, 163) 1.6 (77 KW / 105 HP)

JETTA IV (162, 163) 2.5 FSI (125 KW / 170 HP)

JETTA IV (162, 163) 2.0 TDI (81 KW / 110 HP)

JETTA IV (162, 163) 2.0 (85 KW / 115 HP)

JETTA IV (162, 163) 1.4 TSI (110 KW / 150 HP)

JETTA IV (162, 163) 1.2 TSI (77 KW / 105 HP)

JETTA IV (162, 163) 1.4 TSI (90 KW / 122 HP)

JETTA IV (162, 163) 1.6 TDI (77 KW / 105 HP)

JETTA IV (162, 163) 2.0 TDI (103 KW / 140 HP)

JETTA IV (162, 163) 1.2 TSI 16V (77 KW / 105 HP)

JETTA IV (162, 163) 2.0 TSI (155 KW / 211 HP)

JETTA IV (162, 163) 1.4 TSI (118 KW / 160 HP)

JETTA IV (162, 163) 2.0 TSI (147 KW / 200 HP)

JETTA IV (162, 163) 2.0 Total Flex (85 KW /115 HP)

JETTA IV (162, 163) 1.4 TSI Hybrid (110 KW / 150 HP)

JETTA IV (162, 163) 2.0 Total Flex (147 KW / 200 HP)

JETTA IV (162, 163) 1.6 (63 KW / 86 HP)

JETTA IV (162, 163) 2.0 Flex (88 KW /120 HP)

JETTA IV (162, 163) 2.5 (112 KW / 152 HP)

07.2006 - 10.2010

10.2005 - 10.2010

05.2007 - 10.2010

01.2010 - 10.2010

12.2011 -

04.2010 -

10.2010 -

06.2010 -

04.2011 - 07.2014

10.2010 -

05.2011 -

04.2010 -

02.2011 -

08.2014 -

12.2012 -

04.2011 -

12.2010 -

10.2010 -

04.2011 -

12.2010 -

03.2013 -

10.2010 -

09.2010 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



VOLKSWAGEN LT

MODEL

LT 28-35 Il Bus (2DB, 2DE, 2DK) 2.5 TDI (61 KW / 83 HP)
LT 28-35 Il Bus (2DB, 2DE, 2DK) 2.5 TDI (70 KW / 95 HP)
LT 28-35 Il Bus (2DB, 2DE, 2DK) 2.5 TDI (66 KW / 90 HP)
LT 28-35 Il Bus (2DB, 2DE, 2DK) 2.5 TDI (80 KW / 109 HP)

LT 28-35 Il Bus (2DB, 2DE, 2DK) 2.8 TDI (116 KW / 158
HP)

LT 28-35 Il Bus (2DB, 2DE, 2DK) 2.3 (105 KW / 143 HP)
LT 28-35 Il Bus (2DB, 2DE, 2DK) 2.5 SDI (55 KW / 75 HP)

LT 28-35 Il Bus (2DB, 2DE, 2DK) 2.5 TDI (75 KW / 102 HP)
LT 28-35 Il Bus (2DB, 2DE, 2DK) 2.8 TDI (92 KW / 125 HP)
LT 28-35 Il Bus (2DB, 2DE, 2DK) 2.8 TDI (96 KW / 131 HP)

LT 28-46 Il Kasten (2DA, 2DD, 2DH) 2.5 TDI (61 KW / 83
HP)

LT 28-46 Il Kasten (2DA, 2DD, 2DH) 2.5 TDI (70 KW / 95
HP)

LT 28-46 Il Kasten (2DA, 2DD, 2DH) 2.5 TDI (66 KW / 90
HP)

LT 28-46 Il Kasten (2DA, 2DD, 2DH) 2.5 TDI (80 KW / 109
HP)

LT 28-46 Il Kasten (2DA, 2DD, 2DH) 2.8 TDI (96 KW / 130
HP)

LT 28-46 Il Kasten (2DA, 2DD, 2DH) 2.3 (105 KW / 143 HP)
LT 28-46 Il Kasten (2DA, 2DD, 2DH) 2.5 SDI (55 KW / 75
HP)

LT 28-46 Il Kasten (2DA, 2DD, 2DH) 2.5 TDI (75 KW / 102
HP)

LT 28-46 Il Kasten (2DA, 2DD, 2DH) 2.8 TDI (92 KW / 125
HP)

LT 28-46 Il Kasten (2DA, 2DD, 2DH) 2.8 TDI (116 KW / 158
HP)

LT 28-46 Il Pritsche/Fahrgestell (2DC, 2DF, 2DG, 2DL, 2DM)
2.5 TDI (61 KW / 83 HP)

LT 28-46 Il Pritsche/Fahrgestell (2DC, 2DF, 2DG, 2DL, 2DM)
2.5 TDI (70 KW / 95 HP)

LT 28-46 Il Pritsche/Fahrgestell (2DC, 2DF, 2DG, 2DL, 2DM)
2.5 TDI (66 KW / 90 HP)

LT 28-46 Il Pritsche/Fahrgestell (2DC, 2DF, 2DG, 2DL, 2DM)
2.5 TDI (80 KW / 109 HP)

LT 28-46 Il Pritsche/Fahrgestell (2DC, 2DF, 2DG, 2DL, 2DM)
2.8 TDI (96 KW / 130 HP)

LT 28-46 Il Pritsche/Fahrgestell (2DC, 2DF, 2DG, 2DL, 2DM)
2.5 SDI (55 KW / 75 HP)

LT 28-46 Il Pritsche/Fahrgestell (2DC, 2DF, 2DG, 2DL, 2DM)
2.8 TDI (92 KW / 125 HP)

LT 28-46 Il Pritsche/Fahrgestell (2DC, 2DF, 2DG, 2DL, 2DM)
2.3 (105 KW / 143 HP)

LT 28-46 Il Pritsche/Fahrgestell (2DC, 2DF, 2DG, 2DL, 2DM)
2.5 TDI (75 KW / 102 HP)

YEAR

05.2001 - 07.2006

05.2001 - 07.2006

05.1999 - 07.2006

05.1999 - 07.2006

05.2001 - 06.2006

05.1996 - 07.2006

07.1996 - 07.2006

05.1996 - 08.1999

07.1997 - 05.2003

01.1999 - 01.2002

05.2001 - 07.2006

05.2001 - 07.2006

05.1999 - 07.2006

05.1999 - 07.2006

01.1999 - 07.2006

05.1996 - 07.2006

09.1996 - 07.2006

05.1996 - 08.1999

07.1997 - 01.2002

04.2002 - 07.2006

05.2001 - 07.2006

05.2001 - 07.2006

05.1999 - 07.2006

05.1999 - 07.2006

01.1999 - 07.2006

09.1996 - 07.2006

07.1997 - 01.2002

06.1996 - 07.2006

06.1996 - 08.1999

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEMNUMBER

SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035

SKTR-0240035

SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035
SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035
SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

SKTR-0240035

ITEM DETAILS



LT 28-46 Il Pritsche/Fahrgestell (2DC, 2DF, 2DG, 2DL, 2DM)

2.8 TDI (116 KW / 158 HP)

VOLKSWAGEN NEW BEETLE

MODEL

NEW BEETLE (9C1, 1C1) 1.6 (75 KW /102 HP)
NEW BEETLE (9C1, 1C1) 2.3 V5 (125 KW /170 HP)
NEW BEETLE (9C1, 1C1) 1.6 (74 KW / 100 HP)
NEW BEETLE (9C1, 1C1) 2.0 (85 KW / 115 HP)
NEW BEETLE (9C1, 1C1) 1.9 TDI (66 KW / 90 HP)
NEW BEETLE (9C1, 1C1) 1.9 TDI (77 KW / 105 HP)
NEW BEETLE (9C1, 1C1) 1.9 TDI (74 KW / 101 HP)

NEW BEETLE (9C1, 1C1) 2.5 (110 KW / 150 HP)

NEW BEETLE (9C1, 1C1) RSI 3.2 4motion (1C9) (165 KW /

224 HP)

NEW BEETLE (9C1, 1C1) 1.8 T (132 KW / 180 HP)
NEW BEETLE (9C1, 1C1) 1.8 T (110 KW / 150 HP)
NEW BEETLE (9C1, 1C1) 1.4 (55 KW / 75 HP)

NEW BEETLE Cabriolet (1Y7) 1.9 TDI (77 KW / 105 HP)
NEW BEETLE Cabriolet (1Y7) 2.5 (110 KW / 150 HP)
NEW BEETLE Cabriolet (1Y7) 1.8 T (110 KW / 150 HP)
NEW BEETLE Cabriolet (1Y7) 1.6 (75 KW / 102 HP)
NEW BEETLE Cabriolet (1Y7) 2.0 (85 KW / 115 HP)
NEW BEETLE Cabriolet (1Y7) 1.9 TDI (74 KW / 100 HP)

NEW BEETLE Cabriolet (1Y7) 1.4 (55 KW / 75 HP)

VOLKSWAGEN PASSAT

MODEL
PASSAT (32B) 1.6 (55 KW / 75 HP)
PASSAT (32B) 2.1 (85 KW / 115 HP)
PASSAT (32B) 1.6 TD (59 KW / 80 HP)
PASSAT (32B) 1.3 (40 KW / 55 HP)
PASSAT (32B) 1.3 (44 KW / 60 HP)
PASSAT (32B) 1.6 (51 KW / 70 HP)
PASSAT (32B) 1.6 (53 KW / 72 HP)
PASSAT (32B) 1.6 (55 KW / 75 HP)

PASSAT (32B) 1.6 (63 KW / 85 HP)

04.2002 - 07.2006

YEAR

06.2000 - 09.2010

10.2000 - 09.2010

10.1999 - 09.2000

01.1998 - 09.2010

01.1998 - 06.2004

07.2005 - 09.2010

02.2001 - 09.2010

07.2005 - 09.2010

04.2000 - 05.2001

11.2001 - 06.2005

10.1999 - 09.2010

11.2001 - 09.2010

07.2005 - 09.2010

07.2005 - 09.2010

01.2003 - 09.2010

01.2003 - 09.2010

09.2002 - 10.2010

06.2003 - 09.2010

01.2003 - 09.2010

YEAR

08.1980 - 03.1988

01.1981 - 07.1983

05.1986 - 03.1988

08.1980 - 07.1983

08.1980 - 07.1986

08.1987 - 03.1988

02.1986 - 03.1988

08.1980 - 03.1988

01.1981 - 02.1983

Vorderachse

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

links

links

links

links

links

links

links

links

links

SKTR-0240035

ITEM NUMBER

SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005

SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005
SKTR-0240005

SKTR-0240005

ITEMNUMBER

SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019

ITEM DETAILS

ITEM DETAILS

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

585

585

585

585

585

585

585

585

585



PASSAT (32B) 1.8 (64 KW / 87 HP)
PASSAT (32B) 1.8 (66 KW / 90 HP)
PASSAT (32B) 1.8 (82 KW / 112 HP)
PASSAT (32B) 1.9 (85 KW / 115 HP)
PASSAT (32B) 2.0 (85 KW / 115 HP)
PASSAT (32B) 2.2 (85 KW / 115 HP)
PASSAT (32B) 2.2 (100 KW / 136 HP)
PASSAT (32B) 1.6 D (40 KW / 54 HP)
PASSAT (32B) 1.6 TD (51 KW / 70 HP)
PASSAT (32B) 1.3 (44 KW / 60 HP)

PASSAT (362) 2.0 TDI 4motion (130 KW / 177 HP)

PASSAT (362) 1.8 TSI (118 KW / 160 HP)

PASSAT (362) 2.0 TSI (155 KW / 210 HP)

PASSAT (362) 1.6 TDI (77 KW / 105 HP)

PASSAT (362) 2.0 TDI (103 KW / 140 HP)

PASSAT (362) 2.0 TDI 4motion (103 KW / 140 HP)

PASSAT (362) 2.0 TDI (125 KW / 170 HP)

PASSAT (362) 2.0 TDI (130 KW / 177 HP)

PASSAT (362) 2.0 TDI 4motion (125 KW / 170 HP)

PASSAT (362) 1.4 TSI EcoFuel (110 KW / 150 HP)

PASSAT (362) 1.4 TSI MultiFuel (118 KW / 160 HP)

PASSAT (362) 3.6 FSI 4motion (220 KW / 300 HP)

PASSAT (362) 1.4 TSI (118 KW / 160 HP)

PASSAT (362) 1.4 TSI (90 KW / 122 HP)

PASSAT (362) 2.0 TDI (100 KW / 136 HP)

PASSAT (362) 1.8 TSI (112 KW /152 HP)

PASSAT (3B2) 2.8 V6 (142 KW / 193 HP)

PASSAT (3B2) 1.9 TDI 4motion (85 KW / 115 HP)

05.1986 - 03.1988

01.1983 - 03.1988

12.1983 - 03.1988

01.1981 - 07.1983

08.1983 - 03.1988

08.1985 - 03.1988

01.1985 - 03.1988

08.1980 - 03.1988

04.1982 - 03.1988

08.1980 - 07.1986

01.2013 - 12.2014

08.2010 - 12.2014

11.2010- 12.2014

08.2010 - 12.2014

08.2010 - 12.2014

08.2010 - 12.2014

08.2010 - 12.2014

122012 - 12.2014

08.2010 - 01.2013

08.2010 - 12.2014

11.2010 - 12.2014

01.2011 - 12.2014

112012 - 12.2014

08.2010 - 12.2014

08.2010 - 12.2014

02.2011 - 12.2014

08.1996 - 11.2000

08.1999 - 11.2000

links
links
links
links
links
links
links
links
links
links

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKRA-0250059

SKRA-0250059

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

585

585

585

585

585

585

585

585

585

585

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



PASSAT (3B2) 2.5 TDI Syncro/4motion (110 KW / 150 HP)

PASSAT (3B2) 1.9 TDI (85 KW / 115 HP)

PASSAT (3B2) 2.3 VR5 Syncro/4motion (110 KW / 150 HP)

PASSAT (3B2) 1.6 (74 KW / 101 HP)

PASSAT (3B2) 1.8 (92 KW / 125 HP)

PASSAT (3B2) 1.8 T (110 KW / 150 HP)

PASSAT (3B2) 2.3 VR5 (110 KW / 150 HP)

PASSAT (3B2) 2.8 V6 Syncro/4motion (142 KW / 193 HP)

PASSAT (3B2) 1.9 TDI (66 KW / 90 HP)

PASSAT (3B2) 1.9 TDI (81 KW / 110 HP)

PASSAT (3B2) 1.8 T Syncro (110 KW / 150 HP)

PASSAT (3B2) 2.8 Syncro (132 KW / 180 HP)

PASSAT (3B2) 2.0 (88 KW / 120 HP)

PASSAT (3B2) 2.0 4motion (88 KW / 120 HP)

PASSAT (3B2) 1.9 TDI (74 KW / 101 HP)

PASSAT (3B2) 1.8 (85 KW / 115 HP)

PASSAT (3B2) 2.8 V6 (132 KW / 180 HP)

PASSAT (3B2) 2.8 V6 (140 KW / 190 HP)

PASSAT (3B2) 2.8 V6 4motion (140 KW / 190 HP)

PASSAT (3B2) 2.5 TDI (110 KW / 150 HP)

12,1998 - 11.2000

08.1998 - 11.2000

10.1997 - 11.2000

10.1996 - 11.2000

10.1996 - 11.2000

10.1996 - 11.2000

10.1996 - 11.2000

10.1996 - 11.2000

10.1996 - 11.2000

10.1996 - 11.2000

11.1996 - 08.2000

05.1997 - 09.1999

04.2000 - 11.2000

04.2000 - 11.2000

02.2000 - 11.2000

01.1997 - 11.2000

05.1997 - 09.1999

09.1999 - 11.2000

09.1999 - 11.2000

07.1998 - 11.2000

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



PASSAT (3B2) 1.8 Syncro/4motion (92 KW / 125 HP)

PASSAT (3B2) 1.9 TDI Syncro/4motion (81 KW / 110 HP)

PASSAT (3B3) 1.6 (75 KW / 102 HP)

PASSAT (3B3) 1.9 TDI (74 KW / 101 HP)

PASSAT (3B3) 1.9 TDI (96 KW / 130 HP)

PASSAT (3B3) 2.3 V5 (125 KW / 170 HP)

PASSAT (3B3) 2.0 (85 KW / 115 HP)

PASSAT (3B3) 2.5 TDI 4motion (132 KW / 180 HP)

PASSAT (3B3) 1.8 T (125 KW /170 HP)

PASSAT (3B3) 1.8 T 4motion (125 KW / 170 HP)

PASSAT (3B3) 4.0 W8 4motion (202 KW / 275 HP)

PASSAT (3B3) 2.5 TDI 4motion (110 KW / 150 HP)

PASSAT (3B3) 1.9 TDI 4motion (96 KW / 130 HP)

PASSAT (3B3) 2.0 4motion (85 KW / 115 HP)

PASSAT (3B3) 2.3 V5 4motion (125 KW / 170 HP)

PASSAT (3B3) 2.5 TDI (110 KW / 150 HP)

PASSAT (3B3) 1.8 T 20V (110 KW / 150 HP)

PASSAT (3B3) 2.8 4motion (142 KW / 193 HP)

PASSAT (3B3) 2.0 TDI (100 KW / 136 HP)

PASSAT (3B3) 2.8 4motion (140 KW / 190 HP)

10.1996 - 11.2000

10.1996 - 11.2000

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

01.2003 - 05.2005

02.2001 - 05.2005

03.2001 - 05.2005

09.2001 - 09.2004

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

12.2003 - 05.2005

10.2000 - 05.2005

Vorderachse
beidseitig

Vorderachse

beidseitig

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



PASSAT (3B3) 2.0 (96 KW / 130 HP)

PASSAT (3B3) 2.8 (142 KW / 193 HP)

PASSAT (3B3) 2.5 TDI (120 KW / 163 HP)

PASSAT (3C2) 1.4 TSI EcoFuel (110 KW / 150 HP)

PASSAT (3C2) 3.6 R36 4motion (220 KW / 300 HP)

PASSAT (3C2) 1.6 (75 KW / 102 HP)

PASSAT (3C2) 2.0 TDI 4motion (125 KW / 170 HP)

PASSAT (3C2) 3.2 FSI 4motion (184 KW / 250 HP)

PASSAT (3C2) 2.0 FSI (125 KW / 170 HP)

PASSAT (3C2) 1.6 FSI (85 KW / 115 HP)

PASSAT (3C2) 2.0 FSI (110 KW / 150 HP)

PASSAT (3C2) 1.9 TDI (77 KW / 105 HP)

PASSAT (3C2) 2.0 TDI 16V (103 KW / 140 HP)

PASSAT (3C2) 1.6 TDI (77 KW / 105 HP)

PASSAT (3C2) 2.0 TDI (81 KW / 110 HP)

PASSAT (3C2) 2.0 BlueTDI (105 KW / 143 HP)

PASSAT (3C2) 1.4 TSI (90 KW /122 HP)

PASSAT (3C2) 1.8 TSI (118 KW / 160 HP)

PASSAT (3C2) 2.0 TDI (88 KW / 120 HP)

PASSAT (3C2) 2.0 TDI (100 KW / 136 HP)

PASSAT (3C2) 2.0 TDI 16V 4motion (103 KW / 140 HP)

PASSAT (3C2) 2.0 FSI 4motion (110 KW / 150 HP)

PASSAT (3C2) 3.6 FSI (206 KW / 280 HP)

PASSAT (3C2) 2.0 TDI (90 KW / 122 HP)

PASSAT (3C2) 3.6 FSI 4motion (206 KW / 280 HP)

11.2001 - 05.2005

05.2002 - 05.2003

05.2003 - 05.2005

01.2009 - 07.2010

04.2007 - 07.2010

05.2005 - 07.2010

05.2009 - 07.2010

11.2005 - 07.2010

08.2007 - 07.2010

03.2005 - 06.2008

03.2005 - 07.2010

03.2005 - 11.2008

03.2005 - 07.2010

08.2009 - 07.2010

11.2008 - 07.2010

01.2009 - 11.2010

05.2007 - 07.2010

05.2007 - 07.2010

11.2005 - 05.2007

03.2005 - 11.2010

03.2005 - 08.2010

09.2005 - 07.2010

06.2005 - 07.2010

08.2005 - 07.2006

09.2005 - 07.2010

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



PASSAT (3C2) 2.0 FSI (147 KW / 200 HP)

PASSAT (3C2) 2.0 TDI (120 KW / 163 HP)

PASSAT (3C2) 1.8 TSI (112 KW / 152 HP)

PASSAT (3C2) 2.0 TDI (125 KW / 170 HP)

PASSAT (3C2) 2.0 TDI (103 KW / 140 HP)

PASSAT (3C2) 2.0 TDI 4motion (103 KW / 140 HP)

PASSAT ALLTRACK (365) 2.0 TSI 4motion (155 KW / 210

HP)

PASSAT ALLTRACK (365) 1.8 TSI (112 KW / 152 HP)

PASSAT ALLTRACK (365) 1.8 TSI (118 KW / 160 HP)

PASSAT ALLTRACK (365) 2.0 TDI 4motion (103 KW / 140

HP)

PASSAT ALLTRACK (365) 2.0 TDI (103 KW / 140 HP)

PASSAT ALLTRACK (365) 2.0 TDI 4motion (125 KW /170

HP)

PASSAT ALLTRACK (365) 2.0 TDI 4motion (130 KW / 177

HP)

PASSAT CC (357) 3.6 FSI (206 KW / 280 HP)

PASSAT CC (357) 2.0 TDI 4motion (125 KW / 170 HP)

PASSAT CC (357) 2.0 TDI (125 KW / 170 HP)

PASSAT CC (357) 2.0 TSI (147 KW / 200 HP)

PASSAT CC(357) 2.0 TDI (100 KW / 136 HP)

PASSAT CC (357) 2.0 BlueTDI (105 KW / 143 HP)

PASSAT CC (357) 2.0 TDI 4motion (103 KW / 140 HP)

PASSAT CC (357) 1.8 TSI (118 KW / 160 HP)

PASSAT CC (357) 3.6 FSI 4motion (220 KW / 300 HP)

PASSAT CC (357) 2.0 TDI (103 KW / 140 HP)

PASSAT CC (357) 2.0 TSI (155 KW / 211 HP)

PASSAT CC (357) 1.8 TSI (112 KW / 152 HP)

PASSAT CC (357) 2.0 TDI (120 KW / 163 HP)

07.2005 - 07.2010

08.2005 - 05.2009

11.2009 - 07.2010

08.2005 - 07.2010

03.2005 - 05.2009

03.2005 - 05.2009

01.2012 - 12.2014

01.2012 - 12.2014

01.2012 - 12.2014

01.2012 - 12.2014

01.2012 - 12.2014

01.2012 - 12.2014

01.2013 - 12.2014

06.2008 - 01.2012

11.2009 - 01.2012

06.2008 - 01.2012

06.2008 - 01.2012

06.2008 - 05.2011

05.2009 - 11.2010

08.2009 - 01.2012

06.2008 - 01.2012

06.2008 - 05.2010

06.2008 - 01.2012

11.2010 - 01.2012

11.2008 - 05.2010

05.2008 - 05.2011

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufdengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



PASSAT CC (357) 1.4 TSI MultiFuel (118 KW / 160 HP)

PASSAT CC (357) 3.6 FS| 4motion (206 KW / 280 HP)

PASSAT Stufenheck (32B) 2.0 (85 KW / 116 HP)
PASSAT Stufenheck (32B) 1.8 (64 KW / 87 HP)
PASSAT Stufenheck (32B) 1.6 (51 KW / 69 HP)
PASSAT Stufenheck (32B) 1.6 (55 KW / 75 HP)
PASSAT Stufenheck (32B) 1.6 (53 KW / 72 HP)
PASSAT Stufenheck (32B) 2.2 (85 KW / 115 HP)
PASSAT Stufenheck (32B) 1.8 (66 KW / 90 HP)
PASSAT Stufenheck (32B) 1.6 TD (51 KW / 70 HP)
PASSAT Stufenheck (32B) 1.6 D (40 KW / 54 HP)
PASSAT Variant (32B) 1.6 (55 KW / 75 HP)
PASSAT Variant (32B) 2.1 (85 KW / 115 HP)
PASSAT Variant (32B) 1.8 (82 KW / 112 HP)
PASSAT Variant (32B) 2.0 Syncro (85 KW / 116 HP)
PASSAT Variant (32B) 1.3 (40 KW / 55 HP)
PASSAT Variant (32B) 1.3 (44 KW / 60 HP)
PASSAT Variant (32B) 1.6 (51 KW / 70 HP)
PASSAT Variant (32B) 1.6 (53 KW / 72 HP)
PASSAT Variant (32B) 1.6 (55 KW / 75 HP)
PASSAT Variant (32B) 1.6 (63 KW / 85 HP)
PASSAT Variant (32B) 1.8 (64 KW / 87 HP)
PASSAT Variant (32B) 1.8 Syncro (66 KW / 90 HP)
PASSAT Variant (32B) 1.8 (66 KW / 90 HP)
PASSAT Variant (32B) 1.9 (85 KW / 115 HP)
PASSAT Variant (32B) 2.0 (85 KW / 115 HP)
PASSAT Variant (32B) 2.2 (85 KW / 115 HP)
PASSAT Variant (32B) 2.2 Syncro (88 KW / 120 HP)
PASSAT Variant (32B) 2.2 (100 KW / 136 HP)
PASSAT Variant (32B) 1.6 D (40 KW / 54 HP)
PASSAT Variant (32B) 1.6 TD (51 KW / 70 HP)
PASSAT Variant (32B) 1.3 (44 KW / 60 HP)

PASSAT Variant (365) 1.4 TSI (118 KW / 160 HP)

PASSAT Variant (365) 2.0 TDI (130 KW / 177 HP)

PASSAT Variant (365) 1.4 TSI (90 KW / 122 HP)

PASSAT Variant (365) 1.8 TSI (118 KW / 160 HP)

01.2011 - 01.2012

06.2008 - 01.2012

08.1984 - 07.1985

05.1986 - 03.1988

08.1987 - 03.1988

01.1985 - 03.1988

01.1985 - 03.1988

01.1985 - 03.1988

01.1985 - 03.1988

01.1985 - 03.1988

08.1984 - 03.1988

08.1980 - 03.1988

01.1981 - 07.1983

12.1983 - 03.1988

05.1984 - 03.1988

08.1980 - 07.1983

08.1980 - 07.1986

08.1987 - 03.1988

02.1986 - 03.1988

08.1980 - 03.1988

01.1981 - 02.1983

05.1986 - 03.1988

01.1986 - 03.1988

01.1983 - 03.1988

01.1981 - 07.1983

08.1983 - 03.1988

08.1985 - 03.1988

08.1985 - 03.1988

01.1985 - 03.1988

08.1980 - 03.1988

04.1982 - 03.1988

08.1980 - 07.1986

11.2012 - 12.2014

12.2012 - 12.2014

08.2010 - 12.2014

08.2010 - 12.2014

rechts

rechts

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

585

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



PASSAT Variant (365) 1.6 TDI (77 KW / 105 HP)

PASSAT Variant (365) 2.0 TSI (155 KW / 210 HP)

PASSAT Variant (365) 1.4 TSI MultiFuel (118 KW / 160 HP)

PASSAT Variant (365) 2.0 TDI (103 KW / 140 HP)

PASSAT Variant (365) 2.0 TDI 4motion (103 KW / 140 HP)

PASSAT Variant (365) 2.0 TDI (125 KW / 170 HP)

PASSAT Variant (365) 2.0 TDI 4motion (125 KW / 170 HP)

PASSAT Variant (365) 1.4 TSI EcoFuel (110 KW / 150 HP)

PASSAT Variant (365) 3.6 FSI 4motion (220 KW / 300 HP)

PASSAT Variant (365) 2.0 TDI (100 KW / 136 HP)

PASSAT Variant (365) 1.8 TSI (112 KW / 152 HP)

PASSAT Variant (365) 2.0 TDI 4motion (130 KW / 177 HP)

PASSAT Variant (3B5) 2.8 V6 (142 KW / 193 HP)

PASSAT Variant (3B5) 1.9 TDI (66 KW / 90 HP)

PASSAT Variant (385) 1.9 TDI (81 KW / 110 HP)

PASSAT Variant (3B5) 1.9 TDI 4motion (85 KW / 115 HP)

PASSAT Variant (3B5) 2.5 TDI Syncro/4motion (110 KW /

150 HP)

PASSAT Variant (3B5) 1.9 TDI (85 KW / 115 HP)

PASSAT Variant (3B5) 2.3 VR5 Syncro/4motion (110 KW /

150 HP)

PASSAT Variant (3B5) 1.9 TDI (74 KW / 101 HP)

PASSAT Variant (3B5) 2.0 (88 KW /120 HP)

PASSAT Variant (3B5) 2.0 4motion (88 KW / 120 HP)

PASSAT Variant (3B5) 1.8 (85 KW / 115 HP)

08.2010 - 12.2014

11.2010 - 12.2014

11.2010 - 12.2014

08.2010 - 12.2014

08.2010 - 12.2014

08.2010 - 12.2014

08.2010 - 01.2013

08.2010 - 12.2014

01.2011 - 12.2014

08.2010 - 12.2014

02.2011 - 12.2014

01.2013 - 12.2014

06.1997 - 11.2000

06.1997 - 11.2000

06.1997 - 11.2000

08.1999 - 11.2000

12.1998 - 11.2000

08.1998 - 11.2000

10.1997 - 11.2000

02.2000 - 11.2000

04.2000 - 11.2000

04.2000 - 11.2000

06.1997 - 11.2000

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]
Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

M16x1,5/
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5



PASSAT Variant (385) 2.8 V6 (132 KW / 180 HP)

PASSAT Variant (3B5) 2.8 V6 (140 KW / 190 HP)

PASSAT Variant (3B5) 2.8 V6 4motion (140 KW / 190 HP)

PASSAT Variant (3B5) 2.8 Syncro (132 KW / 180 HP)

PASSAT Variant (3B5) 2.5 TDI (110 KW / 150 HP)

PASSAT Variant (3B5) 2.8 V6 Syncro/4motion (142 KW /
193 HP)

PASSAT Variant (3B5) 1.8 Syncro/4motion (92 KW / 125 HP)

PASSAT Variant (3B5) 1.6 (74 KW / 101 HP)

PASSAT Variant (3B5) 1.9 TDI Syncro/4motion (81 KW /110

HP)

PASSAT Variant (3B5) 1.8 (92 KW / 125 HP)

PASSAT Variant (3B5) 1.8 T (110 KW / 150 HP)

PASSAT Variant (3B5) 2.3 VR5 (110 KW / 150 HP)

PASSAT Variant (3B6) 1.9 TDI (74 KW / 101 HP)

PASSAT Variant (3B6) 1.9 TDI (96 KW / 130 HP)

PASSAT Variant (386) 1.6 (75 KW / 102 HP)

PASSAT Variant (3B6) 2.0 (85 KW / 115 HP)

PASSAT Variant (3B6) 2.3 VR5 (125 KW / 170 HP)

PASSAT Variant (3B6) 2.5 TDI 4motion (132 KW / 180 HP)

PASSAT Variant (386) 2.8 (142 KW / 193 HP)

PASSAT Variant (3B6) 1.8 T (125 KW / 170 HP)

09.1997 - 09.1999

09.1999 - 11.2000

09.1999 - 11.2000

05.1997 - 09.1999

07.1998 - 11.2000

06.1997 - 11.2000

06.1997 - 11.2000

06.1997 - 11.2000

06.1997 - 11.2000

06.1997 - 11.2000

06.1997 - 11.2000

06.1997 - 11.2000

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

01.2003 - 05.2005

10.2000 - 08.2005

05.2002 - 08.2005

Vorderachse
beidseitig

Vorderachse

beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

aufden

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse

rechts

Vorderachse
beidseitig

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKTR-0240144

SKRA-0250059

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M14x1,5
128

M16x1,5/
M8x1,25
240/
276,5



PASSAT Variant (386) 4.0 W8 4motion (202 KW / 275 HP)

PASSAT Variant (3B6) 2.5 TDI 4motion (110 KW / 150 HP)

PASSAT Variant (3B6) 1.9 TDI 4motion (96 KW / 130 HP)

PASSAT Variant (3B6) 2.8 (140 KW / 190 HP)

PASSAT Variant (3B6) 2.0 4motion (85 KW / 115 HP)

PASSAT Variant (3B6) 2.3 VR5 4motion (125 KW / 170 HP)

PASSAT Variant (386) 1.8 T 20V (110 KW / 150 HP)

PASSAT Variant (3B6) 2.8 4motion (142 KW / 193 HP)

PASSAT Variant (386) 2.5 TDI (110 KW / 150 HP)

PASSAT Variant (3B6) 1.8 4motion (125 KW / 170 HP)

PASSAT Variant (3B6) 2.8 4motion (140 KW / 190 HP)

PASSAT Variant (3B6) 2.0 TDI (100 KW / 136 HP)

PASSAT Variant (3B6) 2.0 (96 KW / 130 HP)

PASSAT Variant (3B6) 2.5 TDI (120 KW / 163 HP)

PASSAT Variant (3C5) 2.0 TDI (125 KW / 170 HP)

PASSAT Variant (3C5) 1.4 TSI EcoFuel (110 KW / 150 HP)

PASSAT Variant (3C5) 3.6 R36 4motion (220 KW / 300 HP)

PASSAT Variant (3C5) 2.0 TDI 4motion (125 KW / 170 HP)

PASSAT Variant (3C5) 3.2 FSI 4motion (184 KW / 250 HP)

PASSAT Variant (3C5) 2.0 TDI (88 KW / 120 HP)

PASSAT Variant (3C5) 1.6 FSI (85 KW / 115 HP)

PASSAT Variant (3C5) 2.0 FSI (110 KW / 150 HP)

09.2001 - 09.2004

11.2000 - 05.2005

11.2000 - 05.2005

10.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

11.2000 - 05.2005

03.2001 - 05.2005

10.2000 - 05.2005

12.2003 - 05.2005

11.2001 - 05.2005

05.2003 - 05.2005

08.2005 - 11.2010

01.2009 - 11.2010

04.2007 - 11.2010

05.2009 - 11.2010

11.2005 - 11.2010

11.2005 - 05.2007

08.2005 - 06.2008

08.2005 - 11.2010

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKRA-0250059

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

Mi16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5 /
M8x1,25
240/
276,5

M16x1,5/
M8x1,25
240/
276,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



PASSAT Variant (3C5) 1.9 TDI (77 KW / 105 HP) 08.2005 - 11.2008 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/

[mm] M16x1,5
PASSAT Variant (3C5) 2.0 TDI 16V (103 KW / 140 HP) 08.2005 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 1.6 (75 KW / 102 HP) 08.2005 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 2.0 TDI (90 KW / 122 HP) 08.2005 - 02.2006 rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 2.0 TDI (100 KW / 136 HP) 08.2005 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 1.6 TDI (77 KW / 105 HP) 08.2009 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 2.0 TDI (81 KW / 110 HP) 11.2008 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 2.0 BlueTDI (105 KW / 143 HP) 01.2009 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 1.4 TSI (90 KW / 122 HP) 05.2007 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Au3engewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 1.8 TSI (118 KW / 160 HP) 05.2007 - 10.2011 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 3.6 FSI 4motion (206 KW / 280 HP) 09.2005 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 3.6 FSI (206 KW / 280 HP) 09.2005 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
AufRengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 2.0 TDI (120 KW / 163 HP) 08.2005 - 05.2009 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 2.0 TDI 16V 4motion (103 KW /140  08.2005 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
HP) Auf3engewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 2.0 FSI (147 KW / 200 HP) 08.2005 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 1.8 TSI (112 KW / 152 HP) 11.2009 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufdengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 2.0 FSI (125 KW / 170 HP) 12.2007 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Auflengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 2.0 FSI 4motion (110 KW / 150 HP) 09.2005 - 11.2010 rechts SKTR-0240040 Léinge [mm] 333
Aufiengewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 2.0 TDI (103 KW / 140 HP) 08.2005 - 05.2009 rechts SKTR-0240040 Léinge [mm] 333
Au3engewinde M16x1,5/
[mm] M16x1,5
PASSAT Variant (3C5) 2.0 TDI 4motion (103 KW / 140 HP)  08.2005 - 05.2009 rechts SKTR-0240040 Léinge [mm] 333
Auf3engewinde M16x1,5/
[mm] M16x1,5
MODEL YEAR FITTING POSITION ITEMNUMBER ITEM DETAILS
POLO (6N1) 1.7 SDI (42 KW / 57 HP) 04.1997 - 10.1999 links SKRA-0250049
POLO (6N1) 64 1.9 SDI (47 KW / 64 HP) 07.1996 - 10.1999 links SKRA-0250049
POLO (6N1) 64 1.9 D (47 KW / 64 HP) 10.1994 - 10.1999 links SKRA-0250049
POLO (6N1) 50 1.0 (37 KW / 50 HP) 09.1996 - 10.1999 links SKRA-0250049




POLO (6N1) 55 1.3 (40 KW / 55 HP)
POLO (6N1) 75 (55 KW / 75 HP)

POLO (6N1) 45 1.0 (33 KW / 45 HP)
POLO (6N1) 55 1.4 (40 KW / 55 HP)

POLO (6N1) 60 1.4 (44 KW / 60 HP)

POLO (6N1) 100 1.4 16V (74 KW /100 HP)

POLO (6N1) 120 1.6 16V GTI (88 KW / 120 HP)

POLO (6N1) 60 1.7 SDI (44 KW / 60 HP)
POLO (6N2) 1.4 (40 KW / 54 HP)

POLO (6N2) 1.9 SDI (47 KW / 64 HP)
POLO (6N2) 1.4 (44 KW / 60 HP)

POLO (6N2) 1.0 (37 KW / 50 HP)

POLO (6N2) 1.4 16V (74 KW / 101 HP)
POLO (6N2) 1.7 SDI (44 KW / 60 HP)
POLO (6N2) 1.9 D (47 KW / 64 HP)

POLO (6N2) 1.4 16V (55 KW / 75 HP)
POLO (6N2) 1.6 16V GTI (92 KW / 125 HP)
POLO (6N2) 1.4 TDI (55 KW / 75 HP)
POLO (86C, 80) 1.0 (29 KW / 40 HP)
POLO (86C, 80) 1.1 (37 KW / 50 HP)
POLO (86C, 80) 1.3 (44 KW / 60 HP)
POLO (86C, 80) 1.3 D (33 KW / 45 HP)
POLO (86C, 80) 1.4 D (35 KW / 48 HP)
POLO (86C, 80) 1.3 KAT (40 KW / 55 HP)
POLO (86C, 80) 1.0 KAT (33 KW / 45 HP)
POLO (86C, 80) 1.3 KAT (55 KW / 75 HP)
POLO (86C, 80) 0.9 (29 KW / 39 HP)
POLO (86C, 80) 1.3 (40 KW / 55 HP)
POLO (86C, 80) 1.0 (33 KW / 45 HP)
POLO (86C, 80) 1.3 (55 KW / 75 HP)
POLO (86C, 80) 1.3 (37 KW / 50 HP)
POLO (86C, 80) 1.3 (43 KW / 58 HP)
POLO (9N ) 1.8 GTI (110 KW / 150 HP)
POLO (9N) 1.4 (63 KW / 86 HP)

POLO (9N) 2.0 (85 KW / 115 HP)

POLO (9N) 1.9 TDI (96 KW / 130 HP)
POLO (9N) 1.4 FSI (63 KW / 86 HP)

POLO (9N ) 1.6 (74 KW /101 HP)

POLO (9N ) 1.8 GTi Cup Edition (132 KW / 180 HP)

POLO (9N ) 1.2 (40 KW / 54 HP)

10.1994 - 07.1995

10.1994 - 10.1999

10.1994 - 09.1996

08.1995 - 10.1999

07.1995 - 10.1999

04.1996 - 10.1999

09.1998 - 10.1999

08.1997 - 10.1999

10.1999 - 09.2001

10.1999 - 09.2001

10.1999 - 09.2001

10.1999 - 09.2001

10.1999 - 09.2001

10.1999 - 09.2001

10.1999 - 09.2001

10.1999 - 09.2001

10.1999 - 09.2001

10.1999 - 09.2001

10.1981 - 10.1986

10.1981 - 09.1989

10.1981 - 07.1983

08.1986 - 07.1990

10.1990 - 09.1994

07.1987 - 09.1994

08.1989 - 09.1994

10.1989 - 03.1991

10.1981 - 12.1981

08.1983 - 07.1988

08.1985 - 01.1992

09.1982 - 09.1989

08.1983 - 07.1985

08.1982 - 07.1988

09.2005 - 11.2009

08.2002 - 11.2009

10.2004 - 01.2012

11.2003 - 11.2009

02.2002 - 07.2006

08.2002 - 05.2005

05.2006 - 11.2009

01.2002 - 05.2007

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

links

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

links

links

links

links

links

links

links

links

SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250049
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064




POLO (9N_) 1.4 TDI (55 KW / 75 HP)

POLO (9N)) 1.2 (44 KW / 60 HP)

POLO (9N) 1.4 TDI (59 KW / 80 HP)

POLO (9N) 1.2 12V (51 KW / 69 HP)

POLO (9N ) 1.4 16V (74 KW / 101 HP)

POLO (9N) 1.4 16V (55 KW /75 HP)

POLO (9N ) 1.4 TDI (51 KW / 70 HP)

POLO (9N_) 1.6 Flex (74 KW / 101 HP)

POLO (9N ) 1.2 12V (47 KW / 64 HP)

POLO (9N ) 1.9 SDI (47 KW / 64 HP)

POLO (9N ) 1.9 TDI (74 KW / 101 HP)

POLO (9N ) 1.4 16V (59 KW / 80 HP)

POLO (9N ) 1.6 16V (77 KW / 105 HP)

POLO CLASSIC (86C, 80) 1.3 (40 KW / 55 HP)
POLO CLASSIC (86C, 80) 1.4 D (35 KW / 48 HP)
POLO CLASSIC (86C, 80) 1.0 (29 KW / 40 HP)
POLO CLASSIC (86C, 80) 1.0 (33 KW /45 HP)
POLO CLASSIC (86C, 80) 1.3 D (33 KW / 45 HP)
POLO CLASSIC (86C, 80) 1.3 KAT (40 KW / 55 HP)
POLO Coupe (86C, 80) 1.3 (57 KW / 78 HP)
POLO Coupe (86C, 80) 1.3 (40 KW / 55 HP)
POLO Coupe (86C, 80) 1.0 (33 KW / 45 HP)
POLO Coupe (86C, 80) 1.3 (55 KW / 75 HP)
POLO Coupe (86C, 80) 1.0 (29 KW / 40 HP)
POLO Coupe (86C, 80) 1.1 (37 KW / 50 HP)
POLO Coupe (86C, 80) 1.3 (44 KW / 60 HP)
POLO Coupe (86C, 80) 1.3 G40 (85 KW / 115 HP)
POLO Coupe (86C, 80) 1.3 D (33 KW / 45 HP)
POLO Coupe (86C, 80) 1.4 D (35 KW / 48 HP)
POLO Coupe (86C, 80) 1.0 KAT (33 KW / 45 HP)
POLO Coupe (86C, 80) 1.3 KAT (40 KW / 55 HP)
POLO Coupe (86C, 80) 1.3 KAT (55 KW / 75 HP)
POLO Coupe (86C, 80) 1.3 G40 (83 KW / 113 HP)
POLO Kasten (6NF) 1.9 SDI (47 KW / 64 HP)
POLO Kasten (6NF) 1.4 (44 KW / 60 HP)

POLO Kasten (6NF) 1.9 D (47 KW / 64 HP)

POLO Kasten (6NF) 1.7 SDI (44 KW / 60 HP)
POLO Kasten (6NF) 1.0 (33 KW / 45 HP)

POLO Kasten (86CF) 1.0 (33 KW / 45 HP)

POLO Kasten (86CF) 1.3 (40 KW / 54 HP)

10.2001 - 06.2005

05.2007 - 11.2009

04.2005 - 11.2009

05.2007 - 11.2009

10.2001 - 05.2008

10.2001 - 05.2008

04.2005 - 11.2009

06.2008 - 04.2009

10.2001 - 07.2007

10.2001 - 11.2009

10.2001 - 11.2009

05.2006 - 11.2009

05.2006 - 11.2009

01.1985 - 07.1987

10.1990 - 09.1994

01.1985 - 10.1986

01.1985 - 09.1994

08.1986 - 12.1988

07.1987 - 09.1994

03.1991 - 09.1994

08.1983 - 06.1987

08.1985 - 01.1992

09.1982 - 09.1989

05.1982 - 10.1986

10.1981 - 07.1983

10.1981 - 07.1983

01.1987 - 08.1990

08.1986 - 08.1990

08.1990 - 09.1994

08.1989 - 09.1994

07.1987 - 08.1994

10.1989 - 09.1994

08.1990 - 09.1994

07.1996 - 12.1999

05.1998 - 12.1999

10.1994 - 12.1999

08.1997 - 12.1999

10.1994 - 12.1999

08.1992 - 07.1994

08.1992 - 07.1994

links

links

links

links

links

links

links

links

links

links

links

links

links

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

links

links

Vorderachse

Vorderachse

SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250043
SKRA-0250049
SKRA-0250056
SKRA-0250049
SKRA-0250056
SKRA-0250049
SKRA-0250043
SKRA-0250043




POLO Kasten (86CF) 1.4 D (35 KW / 48 HP)
POLO Stufenheck (9A4) 1.4 (55 KW / 75 HP)
POLO Stufenheck (9A4) 1.4 (74 KW / 101 HP)
POLO Stufenheck (9A4) 1.9 SDI (47 KW / 64 HP)
POLO Stufenheck (9A4) 1.4 TDI (55 KW / 75 HP)
POLO Stufenheck (9A4) 1.6 (74 KW / 101 HP)
POLO Stufenheck (9A4) 1.9 TDi (74 KW / 101 HP)
POLO Variant (6KV5) 1.9 TDI (81 KW / 110 HP)
POLO Variant (6KV5) 1.4 (40 KW / 54 HP)
POLO Variant (6KV5) 1.4 16V (55 KW / 75 HP)
POLO Variant (6KV5) 1.4 (44 KW / 60 HP)
POLO Variant (6KV5) 1.6 (55 KW / 75 HP)
POLO Variant (6KV5) 1.6 (74 KW / 101 HP)
POLO Variant (6KV5) 1.9 TDI (66 KW / 90 HP)
POLO Variant (6KV5) 1.7 SDI (42 KW / 57 HP)
POLO Variant (6KV5) 1.9 SDI (47 KW / 64 HP)
POLO Variant (6KV5) 1.9 SDI (50 KW / 68 HP)

POLO Variant (6KV5) 1.8 (66 KW / 90 HP)

VOLKSWAGEN SANTANA

MODEL
SANTANA (32B) 1.6 (55 KW / 75 HP)
SANTANA (32B) 2.1 (85 KW / 115 HP)
SANTANA (32B) 1.3 (44 KW / 60 HP)
SANTANA (32B) 1.6 (55 KW / 75 HP)
SANTANA (32B) 1.6 (63 KW / 85 HP)
SANTANA (32B) 1.8 (66 KW / 90 HP)
SANTANA (32B) 1.9 (85 KW / 115 HP)
SANTANA (32B) 2.0 (85 KW / 115 HP)
SANTANA (32B) 1.6 D (40 KW / 54 HP)

SANTANA (32B) 1.6 TD (51 KW / 70 HP)

VOLKSWAGEN SCIROCCO

MODEL

SCIROCCO (137, 138) 1.4 TSI (110 KW / 150 HP)

08.1992 - 07.1994

07.2003 -

11.2003 -

09.2002 -

07.2003 -

09.2002 -

09.2002 -

06.1998 - 09.2001

12.1998 - 09.2001

10.1999 - 09.2001

05.1997 - 09.2001

05.1997 - 09.2001

05.1997 - 09.2001

05.1997 - 09.2001

08.1997 - 09.2001

06.1997 - 09.2001

08.1999 - 09.2001

05.1997 - 09.2001

YEAR

08.1981 - 12.1984

08.1982 - 12.1983

08.1981 - 07.1983

08.1981 - 12.1984

08.1981 - 12.1982

01.1983 - 12.1984

08.1981 - 07.1983

08.1983 - 12.1984

08.1981 - 12.1984

12.1981 - 12.1984

YEAR

07.2015 -

Vorderachse

links

links

links

links

links

links

links

links

links

links

FITTING POSITION

links

links

links

links

links

links

links

links

links

links

FITTING POSITION

rechts

SKRA-0250043
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKTR-0240064
SKRA-0250049
SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250049
SKRA-0250056
SKRA-0250056
SKRA-0250056
SKRA-0250049
SKRA-0250056
SKRA-0250049

ITEM NUMBER

SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019
SKRA-0250019

SKRA-0250019

ITEMNUMBER

SKTR-0240040

ITEM DETAILS

Lange [mm]

Linge [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

Lange [mm]

ITEM DETAILS

Linge [mm]

585

585

585

585

585

585

585

585

585

585

333

Auflengewinde M16x1,5/
[mm] M16x1,5




SCIROCCO (137, 138) 1.4 TSI (118 KW / 160 HP)

SCIROCCO (137, 138) 1.4 TSI (90 KW / 122 HP)

SCIROCCO (137, 138) 2.0 TDI (103 KW / 140 HP)

SCIROCCO (137, 138) 2.0 TSI (147 KW / 200 HP)

SCIROCCO (137, 138) 2.0 TDI (125 KW / 170 HP)

SCIROCCO (137, 138) 2.0 R (195 KW / 265 HP)

SCIROCCO (137, 138) 2.0 TSI (155 KW / 210 HP)

SCIROCCO (137, 138) 1.4 TSI (92 KW / 125 HP)

SCIROCCO (137, 138) 2.0 TDI (110 KW / 150 HP)

SCIROCCO (137, 138) 2.0 TSI (132 KW / 180 HP)

SCIROCCO (137, 138) 2.0 TSI (162 KW / 220 HP)

SCIROCCO (137, 138) 2.0 TDI (130 KW / 177 HP)

SCIROCCO (137, 138) 2.0 R (188 KW / 256 HP)

SCIROCCO (137, 138) 2.0 TDI (100 KW / 136 HP)

SCIROCCO (137, 138) 2.0 TDI (135 KW / 184 HP)

SCIROCCO (137, 138) 2.0 R (206 KW / 280 HP)

SCIROCCO (53) 1.5 (63 KW / 86 HP)

SCIROCCO (53) 1.5 (55 KW / 75 HP)

SCIROCCO (53) 1.6 (51 KW /70 HP)

SCIROCCO (53) 1.1 (37 KW / 50 HP)

SCIROCCO (53) 1.3 (44 KW / 60 HP)

SCIROCCO (53) 1.5 (51 KW / 70 HP)

SCIROCCO (53) 1.5 (51 KW / 70 HP)

SCIROCCO (53) 1.6 (55 KW / 75 HP)

SCIROCCO (53) 1.6 (63 KW / 85 HP)

SCIROCCO (53) 1.6 (81 KW /110 HP)

05.2008 -

08.2008 -

08.2008 -

05.2008 - 11.2009

05.2009 -

11.2009 -

11.2009 -

11.2013 -

11.2013 -

11.2013 -

11.20153 -

01.2013 -

11.2009 -

11.2010 -

05.2014 -

05.2014 -

02.1974 - 12.1977

02.1974 - 08.1975

08.1975 - 07.1977

04.1974 - 07.1979

08.1979 - 07.1980

08.1977 - 07.1980

02.1974 - 12.1975

08.1975 - 07.1979

08.1975 - 07.1980

06.1976 - 07.1980

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

Vorderachse
beidseitig

Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig
Vorderachse
beidseitig

Vorderachse
beidseitig

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

SKRA-0250025

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



SCIROCCO (53B) 1.6 (51 KW / 70 HP)
SCIROCCO (53B) 1.3 (44 KW / 60 HP)
SCIROCCO (53B) 1.5 (51 KW / 70 HP)
SCIROCCO (53B) 1.6 (55 KW / 75 HP)
SCIROCCO (53B) 1.6 (63 KW / 85 HP)
SCIROCCO (53B) 1.6 (81 KW / 110 HP)
SCIROCCO (53B) 1.6 (53 KW / 72 HP)
SCIROCCO (53B) 1.8 (66 KW / 90 HP)
SCIROCCO (53B) 1.8 (70 KW / 95 HP)
SCIROCCO (53B) 1.8 (82 KW / 112 HP)
SCIROCCO (53B) 1.8 16V (102 KW / 139 HP)

SCIROCCO (53B) 1.8 16V (95 KW /129 HP)

VOLKSWAGEN SHARAN

MODEL
SHARAN (7M8, 7M9, 7M6) 2.8 V6 24V (150 KW / 204 HP)
SHARAN (7M8, 7M9, 7M6) 1.9 TDI (85 KW / 115 HP)

SHARAN (7M8, 7M9, 7M6) 2.8 V6 24V 4motion (150 KW /
204 HP)

SHARAN (7M8, 7M9, 7M6) 2.0 TDI (100 KW / 136 HP)
SHARAN (7M8, 7M9, 7M6) 1.9 TDI (110 KW / 150 HP)
SHARAN (7M8, 7M9, 7M6) 1.9 TDI (66 KW / 90 HP)
SHARAN (7M8, 7M9, 7M6) 2.0 (85 KW / 115 HP)
SHARAN (7M8, 7M9, 7M6) 2.8 VR6 (128 KW / 174 HP)
SHARAN (7M8, 7M9, 7M6) 1.9 TDI (81 KW / 110 HP)

SHARAN (7M8, 7M9, 7M6) 2.8 VR6 Syncro (128 KW / 174
HP)

SHARAN (7M8, 7M9, 7M6) 2.0 LPG (85 KW / 115 HP)
SHARAN (7M8, 7M9, 7M6) 2.0 16V (110 KW / 150 HP)

SHARAN (7M8, 7M9, 7M6) 1.9 TDI 4motion (85 KW / 115
HP)

SHARAN (7M8, 7M9, 7M6) 2.0 TDI (103 KW / 140 HP)
SHARAN (7M8, 7M9, 7M6) 1.8 T 20V (110 KW / 150 HP)

SHARAN (7M8, 7M9, 7M6) 1.9 TDI (96 KW / 130 HP)

08.1983 - 07.1984

08.1980 - 12.1983

08.1980 - 12.1983

01.1983 - 12.1989

08.1980 - 04.1984

08.1980 - 07.1982

04.1986 - 07.1990

08.1983 - 07.1992

11.1985 - 07.1992

08.1982 - 12,1989

10.1985 - 07.1989

03.1986 - 07.1992

YEAR

04.2000 - 03.2010

04.2000 - 03.2010

04.2000 - 03.2010

11.2005 - 03.2010

06.2005 - 03.2010

09.1995 - 03.2010

09.1995 - 03.2010

09.1995 - 04.2000

09.1996 - 04.2000

11.1996 - 04.2000

04.2006 - 03.2010

09.1995 - 02.2000

04.2000 - 03.2010

11.2005 - 03.2010

09.1997 - 03.2010

11.2002 - 03.2010

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION
Vorderachse
Vorderachse

Vorderachse

Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse
Vorderachse

Vorderachse

Vorderachse
Vorderachse

Vorderachse

Vorderachse
Vorderachse

Vorderachse

SKRA-0250025
SKRA-0250025
SKRA-0250025
SKRA-0250025
SKRA-0250025
SKRA-0250025
SKRA-0250025
SKRA-0250025
SKRA-0250025
SKRA-0250025
SKRA-0250025

SKRA-0250025

ITEMNUMBER ITEM DETAILS

SKRA-0250010
SKRA-0250010
SKRA-0250010

SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010
SKRA-0250010

SKRA-0250010
SKRA-0250010

SKRA-0250010

SKRA-0250010
SKRA-0250010

SKRA-0250010




SHARAN (7N1, 7N2) 1.8 TSI (118 KW / 160 HP)

SHARAN (7N1, 7N2) 2.0 TDI (130 KW / 177 HP)
SHARAN (7N1, 7N2) 2.0 TDI (85 KW / 116 HP)

SHARAN (7N1, 7N2) 2.0 TDI 4motion (135 KW / 184 HP)
SHARAN (7N1, 7N2) 2.0 TDI 4motion (100 KW / 136 HP)
SHARAN (7N1, 7N2) 2.0 TDI 4motion (103 KW / 140 HP)
SHARAN (7N1, 7N2) 2.0 TSI (147 KW / 200 HP)
SHARAN (7N1, 7N2) 2.0 TDI (125 KW / 170 HP)
SHARAN (7N1, 7N2) 1.4 TSI (110 KW / 150 HP)
SHARAN (7N1, 7N2) 2.0 TDI (103 KW / 140 HP)

SHARAN (7N1, 7N2) 2.0 TDI (100 KW / 136 HP)

VOLKSWAGEN TIGUAN

MODEL

TIGUAN (5N_) 2.0 TFSI (125 KW / 170 HP)

TIGUAN (5N_) 2.0 TFSI (147 KW / 200 HP)

TIGUAN (5N_) 1.4 TSI (110 KW / 150 HP)

TIGUAN (5N_) 2.0 TDI (103 KW / 140 HP)

TIGUAN (5N_) 2.0 TDI 4motion (120 KW / 163 HP)
TIGUAN (5N_) 1.4 TSI (90 KW / 122 HP)

TIGUAN (5N_) 2.0 TDI 4metion (103 KW / 140 HP)
TIGUAN (5N_) 2.0 TDI (81 KW / 110 HP)

TIGUAN (5N_) 2.0 TDI 4motion (125 KW / 170 HP)
TIGUAN (5N_) 2.0 TFSI 4motion (147 KW / 200 HP)

TIGUAN (5N_) 2.0 TFSI 4motion (125 KW / 170 HP)

11.2011 -

01.2013 -

05.2011 -

05.2016 -

05.2011 - 05.2012

05.2011 -

12.2010 -

08.2010 -

05.2010 -

05.2010 -

05.2010 -

YEAR

05.2008 -

11.2007 -

05.2008 -

03.2008 -

02.2008 - 08.2009

08.2010 -

09.2007 -

05.2010 -

09.2007 -

09.2007 -

09.2007 -

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEMNUMBER

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

ITEM DETAILS

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



TIGUAN (5N_) 1.4 TSI 4motion (110 KW / 150 HP)
TIGUAN (5N_) 2.0 TDI 4motion (130 KW / 177 HP)
TIGUAN (5N_) 1.4 TSI (118 KW / 160 HP)

TIGUAN (5N_) 1.4 TSI 4motion (118 KW / 160 HP)
TIGUAN (5N_) 2.0 TSI 4motion (132 KW / 180 HP)
TIGUAN (5N_) 2.0 TDI 4motion (100 KW / 136 HP)
TIGUAN (5N_) 2.0 TSI 4motion (155 KW / 211 HP)
TIGUAN (AD1) 2.0 TSI 4motion (132 KW / 180 HP)
TIGUAN (AD1) 2.0 TDI (110 KW / 150 HP)

TIGUAN (AD1) 2.0 TDI 4motion (110 KW / 150 HP)
TIGUAN (AD1) 2.0 TDI 4motion (140 KW / 190 HP)
TIGUAN (AD1) 1.4 TSI 4motion (110 KW / 150 HP)
TIGUAN (AD1) 2.0 TDI (85 KW / 115 HP)

TIGUAN (AD1) 2.0 TDI 4motion (176 KW / 240 HP)
TIGUAN (AD1) 1.4 TSI (92 KW / 125 HP)

TIGUAN (AD1) 1.4 TSI (110 KW / 150 HP)

VOLKSWAGEN TOURAN

MODEL

TOURAN (1T1, 1T2) 1.4 TSI EcoFuel (110 KW / 150 HP)

TOURAN (1T1, 1T2) 1.9 TDI (66 KW / 90 HP)

TOURAN (1T1, 1T2) 1.6 FSI (85 KW / 115 HP)

TOURAN (1T1, 1T2) 2.0 TDI (100 KW / 136 HP)

TOURAN (1T1, 1T2) 2.0 FSI (85 KW / 115 HP)

TOURAN (1T1, 1T2) 1.4 FSI (125 KW / 170 HP)

09.2007 -

11.2012 -

05.2011 -

05.2011 -

05.2011 -

11.2007 -

05.2011 -

01.2016 -

01.2016 -

01.2016 -

04.2016 -

05.2016 -

05.2016 -

05.2016 -

01.2016 -

05.2016 -

YEAR

05.2009 - 05.2010

11.2004 - 05.2010

02.2003 - 01.2007

02.2003 - 05.2010

10.2004 - 05.2010

11.2006 - 05.2010

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEMNUMBER

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

ITEM DETAILS

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



TOURAN (1T1, 1T2) 2.0 FSI (110 KW / 150 HP)
TOURAN (1T1, 1T2) 1.9 TDI (77 KW / 105 HP)
TOURAN (1T1, 1T2) 2.0 TDI 16V (103 KW / 140 HP)
TOURAN (1T1, 1T2) 1.6 (75 KW / 102 HP)
TOURAN (1T1, 1T2) 2.0 TDI (125 KW / 170 HP)
TOURAN (1T1, 1T2) 2.0 EcoFuel (80 KW / 109 HP)
TOURAN (1T1, 1T2) 1.4 TSI (103 KW / 140 HP)
TOURAN (1T1, 1T2) 1.9 TDI (74 KW / 100 HP)
TOURAN (1T1, 1T2) 2.0 TDI (103 KW / 140 HP)
TOURAN (1T3) 1.4 TSI (125 KW / 170 HP)
TOURAN (1T3) 2.0 TDI (81 KW / 110 HP)

TOURAN (1T3) 1.6 TDI (66 KW / 90 HP)

TOURAN (1T3) 1.2 TSI (77 KW / 105 HP)

TOURAN (1T3) 2.0 TDI (125 KW / 170 HP)
TOURAN (1T3) 2.0 TDI (130 KW / 177 HP)
TOURAN (1T3) 1.6 TDI (77 KW / 105 HP)

TOURAN (1T3) 1.4 TSI (103 KW / 140 HP)
TOURAN (1T3) 1.4 TSI EcoFuel (110 KW / 150 HP)

TOURAN (1T3) 2.0 TDI (103 KW / 140 HP)

VOLKSWAGEN TRANSPORTER

MODEL

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.8 VR6
Syncro (103 KW / 140 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.5 TDI (65
KW / 88 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.5 TDI
(111 KW / 151 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 1.9 D (45
KW / 61 HP)

10.2003 - 01.2007

08.2003 - 05.2010

08.2003 - 05.2010

07.2003 - 05.2010

12.2005 - 05.2010

02.2006 - 05.2009

02.2006 - 05.2010

02.2003 - 05.2004

12.2005 - 05.2010

05.2010 - 05.2015

11.2010 - 05.2015

05.2010 - 05.2015

05.2010 - 05.2015

05.2010 - 01.2013

01.2013 - 05.2015

05.2010 - 05.2015

05.2010 - 05.2015

05.2010 - 05.2015

05.2010 - 05.2015

YEAR

01.1996 - 04.1996

05.1998 - 04.2003

05.1998 - 04.2003

09.1990 - 12.1995

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

SKTR-0240040

ITEMNUMBER

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufiengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

ITEM DETAILS

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 1.8 (49 KW
/67 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.8 VR 6
(103 KW / 140 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 1.9 D (44
KW / 60 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 1.9 TD (50
KW / 68 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.4 D (57
KW / 78 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.0 (62 KW
/84 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.5 TDI
Syncro (75 KW / 102 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.8 VR6
(150 KW / 204 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.5 TDI (75
KW /102 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.4 D (55
KW / 75 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.4 D
Syncro (57 KW /78 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.5 Syncro
(81 KW /110 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.5 (81 KW
/110 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.5 Syncro
(85 KW /115 HP)

TRANSPORTER IV Bus (70XB, 70XC, 7DB, 7DW) 2.5 (85 KW
/115 HP)

TRANSPORTER IV Kasten (70XA) 1.9 D (44 KW / 60 HP)
TRANSPORTER IV Kasten (70XA) 2.5 (85 KW / 115 HP)

TRANSPORTER IV Kasten (70XA) 2.5 Syncro (85 KW / 115
HP)

TRANSPORTER IV Kasten (70XA) 2.5 TDI (75 KW / 102 HP)
TRANSPORTER IV Kasten (70XA) 2.5 TDI (65 KW / 88 HP)

TRANSPORTER IV Kasten (70XA) 2.8 VR6 (150 KW / 204
HP)

TRANSPORTER IV Kasten (70XA) 2.8 VR6 (103 KW / 140
HP)

TRANSPORTER IV Kasten (70XA) 2.0 (62 KW / 84 HP)
TRANSPORTER IV Kasten (70XA) 2.5 (81 KW / 110 HP)
TRANSPORTER IV Kasten (70XA) 1.9 D (45 KW / 61 HP)
TRANSPORTER IV Kasten (70XA) 1.9 TD (50 KW / 68 HP)
TRANSPORTER IV Kasten (70XA) 2.4 D (57 KW / 78 HP)

TRANSPORTER IV Kasten (70XA) 2.5 Syncro (81 KW /110
HP)

TRANSPORTER IV Kasten (70XA) 2.4 D Syncro (57 KW / 78
HP)

TRANSPORTER IV Kasten (70XA) 2.4 D (55 KW / 75 HP)

TRANSPORTER IV Kasten (70XA) 2.5 TDI Syncro (75 KW /
102 HP)

TRANSPORTER IV Kasten (70XA) 2.5 TDI (111 KW / 151 HP)

12.1990 - 07.1992

11.1995 - 04.2000

09.1990 - 12.1995

10.1992 - 04.2003

09.1990 - 04.1998

09.1990 - 04.2003

01.1996 - 04.2003

04.2000 - 04.2003

09.1995 - 04.2003

08.1997 - 04.2003

10.1992 - 09.1998

11.1992 - 04.2003

11.1990 - 04.2003

07.1996 - 04.2003

08.1996 - 04.2003

09.1990 - 12.1995

08.1996 - 04.2003

08.1996 - 04.2003

09.1995 - 04.2003

12.1998 - 04.2003

06.2000 - 04.2003

05.1996 - 05.2000

07.1990 - 04.2003

11.1990 - 04.2003

07.1990 - 12.1995

10.1992 - 04.2003

07.1990 - 04.1998

10.1992 - 04.2003

10.1992 - 09.1998

08.1997 - 04.2003

09.1995 - 04.2003

09.2000 - 04.2003

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056

SKTR-0240056
SKTR-0240056

SKTR-0240056

SKTR-0240056
SKTR-0240056

SKTR-0240056
SKTR-0240056

SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056
SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056




TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.8 (103 KW /
140 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 1.9 D (44 KW
/60 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.5 (81 KW /
110 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.5 Syncro (81
KW /110 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.0 (62 KW /
84 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.5 (85 KW /
115 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.5 Syncro (85
KW /115 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.4 D Syncro
(57 KW /78 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.5 TDI (75
KW /102 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.5 TDI (65
KW / 88 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 1.8 (49 KW /
67 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.8 VR6 (150
KW / 204 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 1.9 D (45 KW
/ 61 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 1.9 TD (50
KW / 68 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.4 D (57 KW
/ 78 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.4 D (55 KW
/75 HP)

TRANSPORTER IV Pritsche/Fahrgestell (70XD) 2.5 TDI Syncro
(75 KW / 102 HP)

VOLKSWAGEN UP

MODEL

UP 1.0 (44 KW / 60 HP)

UP 1.0 (55 KW / 75 HP)

VOLKSWAGEN VENTO

MODEL
VENTO (1H2) 1.9 SDI (47 KW / 64 HP)
VENTO (1H2) 2.8 VR6 (120 KW / 163 HP)

VENTO (1H2) 1.9 TDI (81 KW / 110 HP)

05.1996 - 05.2000

09.1990 - 12.1995

11.1990 - 04.2003

10.1992 - 04.2003

07.1990 - 04.2003

08.1996 - 04.2003

08.1996 - 04.2003

10.1992 - 09.1998

09.1995 - 04.2003

05.1998 - 04.2003

12.1990 - 07.1992

06.2000 - 04.2003

07.1990 - 12.1995

10.1992 - 04.2003

09.1990 - 04.1998

08.1997 - 04.2003

05.1998 - 04.2003

YEAR

08.2011 -

08.2011 -

YEAR

04.1997 - 09.1998

01.1992 - 09.1998

04.1996 - 09.1998

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

rechts

rechts

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

SKTR-0240056

ITEMNUMBER

SKTR-0240040

SKTR-0240040

ITEMNUMBER

SKRA-0250054

SKRA-0250069

SKRA-0250054

ITEM DETAILS

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]

Aulengewinde
[mm]

ITEM DETAILS

333
M16x1,5/
M16x1,5

333
M16x1,5/
M16x1,5



VENTO (1H2) 1.9 D (48 KW / 65 HP)
VENTO (1H2) 1.9 TD (55 KW / 75 HP)
VENTO (1H2) 1.9 TDI (66 KW / 90 HP)
VENTO (1H2) 1.4 (40 KW / 55 HP)
VENTO (1H2) 1.4 (44 KW / 60 HP)
VENTO (1H2) 1.6 (55 KW / 75 HP)
VENTO (1H2) 1.8 (55 KW / 75 HP)
VENTO (1H2) 1.8 (66 KW / 90 HP)
VENTO (1H2) 2.0 (85 KW / 115 HP)
VENTO (1H2) 2.8 VR6 (128 KW / 174 HP)
VENTO (1H2) 1.6 (74 KW / 101 HP)
VENTO (1H2) 2.0 GL (62 KW / 84 HP)
VENTO (1H2) 2.0 GL (79 KW / 107 HP)

VENTO (1H2) 2.8 VR6 (120 KW / 163 HP)

11.1991 - 09.1998

11.1991 - 09.1998

09.1993 - 09.1998

11.1991 - 09.1998

11.1991 - 09.1998

09.1992 - 09.1998

11.1991 - 09.1998

11.1991 - 09.1998

11.1991 - 09.1998

01.1992 - 09.1998

10.1994 - 09.1998

11.1991 - 07.1998

05.1996 - 12.1997

08.1995 - 04.1996

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250069
SKRA-0250054
SKRA-0250054
SKRA-0250054
SKRA-0250069




VOLVO 240

MODEL

240 (P242, P244) 2.0 (89 KW / 121 HP)
240 (P242, P244) 2.3 (85 KW / 115 HP)
240 (P242, P244) 2.0 (71 KW / 97 HP)
240 (P242, P244) 2.3 (98 KW / 133 HP)
240 (P242, P244) 2.0 (60 KW / 82 HP)

240 (P242, P244) 2.0 (76 KW / 103 HP)

240 (P242, P244) 2.7 GLT6 (104 KW / 141 HP)

240 (P242, P244) 2.0 (100 KW / 136 HP)

240 (P242, P244) 2.0 (66 KW / 90 HP)

240 (P242, P244) 2.1 (71 KW / 97 HP)

240 (P242, P244) 2.1 (74 KW / 100 HP)

240 (P242, P244) 2.1 (79 KW / 107 HP)

240 (P242, P244) 2.1 (90 KW / 122 HP)

240 (P242, P244) 2.1 Turbo (114 KW / 155 HP)

240 (P242, P244) 2.3 (81 KW /110 HP)

240 (P242, P244) 2.3 (82 KW /112 HP)

240 (P242, P244) 2.3 (83 KW / 113 HP)

240 (P242, P244) 2.3 (96 KW / 131 HP)

240 (P242, P244) 2.3 (100 KW / 136 HP)

240 (P242, P244) 2.3 (103 KW / 140 HP)

VOLVO

YEAR

09.1984 - 12.1993

08.1986 - 12.1988

09.1978 - 08.1983

08.1984 - 12,1989

08.1974 - 07.1976

08.1984 - 07.1985

08.1979 - 07.1980

10.1982 - 08.1984

08.1976 - 07.1979

08.1974 - 07.1975

08.1975 - 07.1980

08.1980 - 07.1984

08.1974 - 09.1983

08.1980 - 07.1984

08.1984 - 07.1986

08.1980 - 07.1984

08.1986 - 07.1987

08.1983 - 07.1985

08.1980 - 07.1983

08.1978 - 07.1980

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEM NUMBER

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
2915



240 (P242, P244) 2.4 Diesel (60 KW / 82 HP)

240 (P242, P244) 2.3 i KAT (85 KW / 115 HP)

240 (P242, P244) 2.4 Diesel (58 KW /79 HP)

240 (P242, P244) 2.8 (114 KW / 155 HP)

240 (P242, P244) 2.0 (82 KW / 111 HP)

240 Kombi (P245) 2.8 (95 KW / 129 HP)

240 Kombi (P245) 2.3 (85 KW / 115 HP)

240 Kombi (P245) 2.0 D (50 KW / 68 HP)

240 Kombi (P245) 2.3 KAT (100 KW / 136 HP)

240 Kombi (P245) 2.8 (114 KW / 155 HP)

240 Kombi (P245) 2.0 (60 KW / 82 HP)

240 Kombi (P245) 2.0 (71 KW / 97 HP)

240 Kombi (P245) 2.1 (71 KW / 97 HP)

240 Kombi (P245) 2.0 (66 KW / 90 HP)

240 Kombi (P245) 2.0 (76 KW / 103 HP)

240 Kombi (P245) 2.7 GLT6 (104 KW / 141 HP)

240 Kombi (P245) 2.0 (100 KW / 136 HP)

240 Kombi (P245) 2.0 (86 KW / 117 HP)

240 Kombi (P245) 2.1 (74 KW / 100 HP)

240 Kombi (P245) 2.1 (80 KW / 109 HP)

240 Kombi (P245) 2.1 (90 KW / 122 HP)

240 Kombi (P245) 2.1 Turbo (114 KW / 155 HP)

240 Kombi (P245) 2.3 (81 KW / 110 HP)

240 Kombi (P245) 2.3 (100 KW / 136 HP)

240 Kombi (P245) 2.3 (82 KW / 112 HP)

240 Kombi (P245) 2.3 (83 KW / 113 HP)

08.1978 - 07.1985

08.1986 - 07.1993

08.1987 - 08.1993

10.1982 - 09.1984

09.1988 - 12.1993

10.1981 - 09.1982

08.1986 - 12.1988

09.1978 - 10.1980

08.1991 - 07.1992

10.1980 - 09.1982

08.1974 - 07.1975

08.1980 - 12.1984

08.1974 - 07.1975

08.1976 - 01.1982

08.1984 - 07.1985

08.1979 - 07.1980

10.1982 - 08.1984

08.1983 - 07.1993

08.1975 - 07.1980

08.1980 - 07.1984

08.1974 - 09.1983

08.1980 - 07.1985

08.1984 - 07.1986

08.1980 - 12.1984

08.1980 - 07.1984

08.1986 - 07.1987

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf?
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5/
M14X2
2915



240 Kombi (P245) 2.3 (96 KW / 131 HP)
240 Kombi (P245) 2.3 (98 KW / 133 HP)
240 Kombi (P245) 2.4 Diesel (58 KW / 79 HP)
240 Kombi (P245) 2.4 Diesel (60 KW / 82 HP)
240 Kombi (P245) 2.3 i KAT (85 KW / 115 HP)
240 Kombi (P245) 2.1 (79 KW / 107 HP)
240 Kombi (P245) 2.0 (82 KW / 111 HP)

240 Kombi (P245) 2.1 (86 KW / 117 HP)

VOLVO 260

MODEL

260 (P262, P264) 2.7 (92 KW / 125 HP)
260 (P262, P264) 2.8 (95 KW / 129 HP)

260 (P262, P264) 2.8 (114 KW / 155 HP)
260 (P262, P264) 2.7 (103 KW / 140 HP)
260 (P262, P264) 2.7 (109 KW / 148 HP)
260 Coupe (P262) 2.7 (103 KW / 140 HP)
260 Kombi (P265) 2.7 (109 KW / 148 HP)
260 Kombi (P265) 2.7 (103 KW / 140 HP)
260 Kombi (P265) 2.7 (92 KW / 125 HP)

260 Kombi (P265) 2.8 (114 KW / 155 HP)

VOLVO 850

MODEL

850 (LS) 2.5 TDI (103 KW / 140 HP)

08.1984 - 07.1985

08.1984 - 12,1988

08.1988 - 08.1993

04.1979 - 08.1993

08.1986 - 07.1993

08.1980 - 07.1984

09.1988 - 12,1993

01.1977 - 08.1978

YEAR

08.1976 - 07.1982

08.1980 - 07.1982

08.1980 - 07.1982

08.1974 - 07.1980

08.1978 - 07.1982

08.1977 - 07.1978

10.1978 - 07.1982

07.1975 - 07.1982

08.1975 - 07.1977

08.1980 - 07.1982

YEAR

08.1995 - 12.1996

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

FITTING POSITION

rechts

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

ITEM NUMBER

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

SKTR-0240145

ITEM NUMBER

SKTR-0240010

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf’
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
291,5

M14X1.5/
M14X2
291,5

M14X1.5 /
M14X2
291,5

M14X1.5/
M14X2
2915

M14X1.5/
M14X2
2915

M14X1.5/

M14X2
291,5

202

M14x2 /M

16x1,5



850 (LS) 2.0 (105 KW / 143 HP)

850 (LS) 2.5 (103 KW / 140 HP)

850 (LS) 2.5 (125 KW / 170 HP)

850 (LS) 2.3 T5 (166 KW / 226 HP)

850 (LS) 2.3 T5-R (184 KW / 250 HP)

850 (LS) 2.3 (106 KW / 144 HP)

850 (LS) 2.3 Turbo R (179 KW / 243 HP)

850 (LS) 2.0 Turbo (155 KW / 210 HP)

850 (LS) 2.4 GLE (142 KW / 193 HP)

850 (LS) 2.0 (93 KW / 126 HP)

850 (LS) 2.5 (106 KW / 144 HP)

850 (LS) 2.0 Turbo (132 KW / 179 HP)

850 (LS) 2.3 T5 R (176 KW / 239 HP)

850 (LS) 2.3 Turbo R (177 KW / 241 HP)

850 Kombi (LW) 2.5 TDI (103 KW / 140 HP)

850 Kombi (LW) 2.3 (106 KW / 144 HP)

850 Kombi (LW) 2.3 T5 (166 KW / 226 HP)

850 Kombi (LW) 2.3 T5-R (184 KW / 250 HP)

850 Kombi (LW) 2.3 Turbo R (179 KW / 243 HP)

850 Kombi (LW) 2.0 (105 KW / 143 HP)

850 Kombi (LW) 2.0 Turbo (155 KW / 210 HP)

850 Kombi (LW) 2.5 (106 KW / 144 HP)

850 Kombi (LW) 2.5 AWD (142 KW / 193 HP)

850 Kombi (LW) 2.4 GLE (142 KW / 193 HP)

850 Kombi (LW) 2.0 Turbo (132 KW / 180 HP)

06.1991 - 12,1996

06.1991 - 07.1994

08.1991 - 12.1996

08.1993 - 07.1996

08.1995 - 12,1996

01.1996 - 10.1996

09.1994 - 10.1997

08.1993 - 12.1996

09.1993 - 10.1997

08.1994 - 12.1996

08.1994 - 12.1996

09.1993 - 10.1996

04.1996 - 10.1996

06.1995 - 10.1996

08.1995 - 12.1996

01.1996 - 10.1996

02.1993 - 12,1996

08.1995 - 12.1996

09.1994 - 10.1997

02.1993 - 12,1996

02.1993 - 12.1996

08.1994 - 12.1996

04.1996 - 12.1996

09.1993 - 10.1997

09.1993 - 10.1997

rechts

rechts

rechts

rechts

rechts

rechts

Vorderachse

beidseitig

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

Vorderachse

beidseitig

rechts

rechts

Vorderachse

beidseitig

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240033

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240033

SKTR-0240010

SKTR-0240010

SKTR-0240033

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}

Linge [mm]
AuRengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Gewindemaf}

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Gewindemaf}

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
AufRengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

MM14X1.5R
/MM14X2R

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

MM14X1.5R
/MM14X2R

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

MM14X1.5R
/MM14X2R

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5



850 Kombi (LW) 2.3 Turbo R (177 KW / 241 HP)

850 Kombi (LW) 2.0 (93 KW / 126 HP)

850 Kombi (LW) 2.5 (125 KW / 170 HP)

850 Kombi (LW) 2.3 T5 R (176 KW / 239 HP)

850 Kombi (LW) 2.5 (103 KW / 140 HP)

VOLVO C70

MODEL

C70 | Cabriolet 2.0 (132 KW / 180 HP)
C70 | Cabriolet 2.0 T (166 KW / 226 HP)
C70 | Cabriolet 2.3 T5 (176 KW / 239 HP)
C70 | Cabriolet 2.5 T (142 KW / 193 HP)
C70 | Cabriolet 2.0 T (120 KW / 163 HP)
C70 | Cabriolet 2.5 (125 KW / 170 HP)
C70 | Cabriolet 2.4 (191 KW / 260 HP)
C70 | Cabriolet 2.3 (147 KW / 200 HP)
C70 | Cabriolet 2.4 T (147 KW / 200 HP)
C70 | Cabriolet 2.3 T5 (180 KW / 245 HP)
C70 1 Coupe 2.0 T (120 KW / 163 HP)
C70 1 Coupe 2.5 (121 KW / 165 HP)

C70 1 Coupe 2.5 (125 KW / 170 HP)

C70 1 Coupe 2.0 T (166 KW / 226 HP)
C70 1 Coupe 2.0 (132 KW / 180 HP)

C70 1 Coupe 2.3 T-5 (176 KW / 240 HP)

C70 1 Coupe 2.5 T (142 KW / 193 HP)

06.1995 - 10.1997

08.1994 - 12,1996

09.1992 - 12.1996

04.1996 - 10.1996

08.1992 - 07.1994

YEAR

03.1998 - 10.2005

03.1998 - 10.2005

03.1998 - 10.2005

03.1998 - 10.2005

03.2000 - 10.2005

06.1998 - 10.2005

09.2004 - 10.2005

09.2002 - 12.2003

07.2002 - 10.2005

07.2002 - 10.2005

03.2000 - 09.2002

03.1999 - 09.2002

05.1999 - 09.2002

03.1997 - 09.2002

03.1997 - 09.2002

03.1997 - 09.2002

03.1997 - 09.2002

rechts

rechts

rechts

rechts

rechts

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

ITEM NUMBER

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

ITEM DETAILS

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5



VOLVO S60

MODEL

S60 12.4 CDI (85 KW / 116 HP)
S60 124 D (120 KW / 163 HP)

S60 124 (103 KW / 140 HP)

S60 124 T (142 KW / 193 HP)

S60 124 (125 KW / 170 HP)

S60 124 T (147 KW / 200 HP)

S60 1T5 (184 KW / 250 HP)

S60 12.5 T AWD (154 KW / 210 HP)
S60 124 T5 (191 KW / 260 HP)
S60 12.4 T AWD (147 KW / 200 HP)
S60 12.4 AWD (191 KW / 260 HP)
S6012.5 T (154 KW / 210 HP)

S60 12.4 D5 (136 KW / 185 HP)
S6012.4 D (93 KW / 126 HP)

S60 123 T5 (195 KW / 265 HP)

S6012.4 D (96 KW /130 HP)

S60 1 2.4 Bifuel (LPG) (103 KW / 140 HP)

S60 1 2.4 Bifuel (CNG) (103 KW / 140 HP)

S60 124 (132 KW / 180 HP)

S6012.4 D (90 KW /122 HP)

S6012.0T (132 KW /180 HP)

S60 IR 2,5 T AWD (221 KW / 300 HP)

S6012.4 D5 (120 KW /163 HP)

YEAR

10.2003 - 12.2005

07.2005 - 12.2009

07.2000 - 04.2010

01.2001 - 04.2010

11.2000 - 04.2010

07.2000 - 04.2010

07.2000 - 04.2010

07.2002 - 04.2010

04.2004 - 04.2010

06.2001 - 04.2010

02.2004 - 04.2010

01.2003 - 04.2010

03.2005 - 04.2010

03.2005 - 04.2010

07.2000 - 09.2002

05.2001 - 04.2010

07.2001 - 04.2010

07.2001 - 04.2010

01.2005 - 10.2006

05.2005 - 12.2006

07.2000 - 04.2010

01.2003 - 04.2010

01.2001 - 04.2010

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

ITEMNUMBER

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf?
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Linge [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150



VOLVO S70

MODEL

S70 (LS) 2.5 (121 KW / 165 HP)
S70 (LS) 2.0 (93 KW / 126 HP)

S70 (LS) 2.5 (106 KW / 144 HP)

S70 (LS) 2.4 (125 KW / 170 HP)

S70 (LS) 2.4 Turbo (142 KW / 193 HP)
S70 (LS) 2.3 T-5 (176 KW / 239 HP)
S70 (LS) 2.5 TDI (103 KW / 140 HP)

S70 (LS) 2.4 Blu-Fuel (103 KW / 140 HP)
S70 (LS) 2.4 (103 KW / 140 HP)

S70 (LS) 2.3 T5 AWD (177 KW / 241 HP)
S70 (LS) 2.4 T5 AWD (142 KW / 193 HP)
S70 (LS) 2.3 T5 AWD (184 KW / 250 HP)
S70 (LS) 2.0 (120 KW / 163 HP)

S70 (LS) 2.5 Bifuel (106 KW / 144 HP)
S70 (LS) 2.0 (105 KW / 143 HP)

S70 (LS) 2.0 Turbo (155 KW / 210 HP)
S70 (LS) 2.3 Turbo (184 KW / 250 HP)
S70 (LS) 2.5 Bifuel (103 KW / 140 HP)
S70 (LS) 2.3 (177 KW / 241 HP)

S70 (LS) 2.4 AWD (103 KW / 140 HP)
S70 (LS) 2.4 AWD (106 KW / 144 HP)
S70 (LS) 2.5 TDi AWD (103 KW / 140 HP)
S70 (LS) 2.4 AWD (121 KW / 165 HP)

S70 (LS) 2.3 (195 KW / 265 HP)

YEAR

06.1998 - 11.2000

01.1997 - 11.2000

01.1997 - 11.2000

01.1997 - 11.2000

01.1997 - 11.2000

01.1997 - 11.2000

01.1997 - 11.2000

07.1997 - 09.2000

08.1999 - 11.2000

11.1996 - 09.1998

11.1996 - 04.1999

07.1997 - 09.2000

01.1997 - 11.2000

10.1998 - 11.2000

01.1997 - 11.2000

01.1997 - 11.2000

01.1997 - 11.2000

07.1999 - 11.2000

11.1996 - 11.2000

04.1999 - 09.2000

11.1996 - 05.1999

10.1999 - 09.2000

10.1998 - 05.1999

04.1999 - 09.2000

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

ITEMNUMBER

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

ITEM DETAILS

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Aufiengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
AuBengewinde
[mm]

Lange [mm]
Au3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5



S70 (LS) 2.4 AWD (125 KW / 170 HP)
S70 (LS) 2.0 Turbo (166 KW / 226 HP)

S70 (LS) 2.0 (132 KW / 180 HP)

VOLVO S80

MODEL

S80 1 (TS, XY) 2.9 (147 KW / 200 HP)
S80 1 (TS, XY) 2.4 (125 KW / 170 HP)

S80 I (TS, XY) 3.0 (144 KW / 196 HP)

S80 1 (TS, XY) 3.0 T6 (200 KW / 272 HP)

S80 1 (TS, XY) 2.4 D (96 KW / 131 HP)

S80 1 (TS, XY) 2.4 T5 AWD (147 KW / 200 HP)
S80 1 (TS, XY) 2.5 T AWD (154 KW / 210 HP)

S80 I (TS, XY) 2.3 R (195 KW / 265 HP)

S80 1 (TS, XY) 2.4 LTP (132 KW / 179 HP)

S80 1(TS, XY) 2.5 T (154 KW / 210 HP)

S80 1 (TS, XY) 2.0 (120 KW / 163 HP)

S80 (TS, XY) 2.4 Bifuel (LPG) (103 KW / 140 HP)
S80 I (TS, XY) 2.9 (150 KW / 204 HP)

S80 1 (TS, XY) 2.8 T6 (200 KW / 272 HP)

S80 1(TS, XY) 2.0 T (132 KW / 180 HP)

S80 1(TS, XY) 2.4 T (147 KW / 200 HP)

S80 (TS, XY) 2.4 D5 (120 KW / 163 HP)

S80 I (TS, XY) 2.4 Bifuel (CNG) (103 KW / 140 HP)

S80 I (TS, XY) 2.4 (103 KW / 140 HP)

04.1999 - 09.2000

01.1997 - 11.2000

01.1997 - 11.2000

YEAR

03.1999 - 07.2006

01.1999 - 07.2006

06.2001 - 07.2006

06.2001 - 07.2006

10.2001 - 07.2006

04.2000 - 09.2003

07.2003 - 07.2006

04.2000 - 08.2005

06.2004 - 07.2006

03.2003 - 07.2006

06.1998 - 07.2006

09.2001 - 07.2006

05.1998 - 07.2006

05.1998 - 07.2006

12.1999 - 07.2006

06.2000 - 07.2006

08.2001 - 07.2006

09.2001 - 07.2006

01.1999 - 07.2006

rechts

rechts

rechts

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240010

SKTR-0240010

SKTR-0240010

ITEM NUMBER

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf’
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5 /
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150



S80 I (TS, XY) 2.0 T (166 KW / 226 HP)

S80 I (TS, XY) 2.5 TDI (103 KW / 140 HP)

VOLVO V70

MODEL

V70 1(LV) 2.3 AWD (195 KW / 265 HP)
V70 1(LV) 2.5 AWD (195 KW / 265 HP)
V70 1(LV) 2.5 (121 KW / 165 HP)

V70 1(LV) 2.4 AWD (121 KW / 165 HP)
V70 1(LV) 2.3 AWD (177 KW / 241 HP)
V70 1(LV) 2.0 (93 KW / 126 HP)

V70 1(LV) 2.5 (106 KW / 144 HP)

V70 1(LV) 2.4 (125 KW / 170 HP)

V70 1(LV) 2.4 Turbo (142 KW / 193 HP)

V70 1 (LV) 2.5 Turbo AWD (142 KW / 193 HP)

V70 1(LV) 2.3 T-5 (176 KW / 239 HP)

V70 I (LV) 2.5 TDI (103 KW / 140 HP)

V70 1 (LV) 2.4 (103 KW / 140 HP)

V70 1(LV) 2.0 (120 KW / 163 HP)

V70 1(LV) 2.5 TDi AWD (103 KW / 140 HP)

V70 1(LV) 2.3 (177 KW / 241 HP)

V70 I (LV) 2.5 Bifuel (106 KW / 144 HP)

V70 I (LV) 2.3 T-5 AWD (176 KW / 239 HP)

V70 1(LV) 2.0 Turbo (155 KW / 211 HP)

V70 1(LV) 2.0 (105 KW / 143 HP)

06.1998 - 07.2006

01.1999 - 07.2006

YEAR

12.1998 - 02.2000

03.1999 - 12.2000

06.1998 - 12.1999

06.1998 - 12.1999

04.1997 - 09.1998

12.1995 - 03.2000

12.1995 - 03.2000

12.1995 - 05.2000

04.1996 - 12.2000

04.1996 - 12.2000

11.1996 - 12.2000

12.1995 - 12.2000

03.1999 - 12.2000

01.1997 - 12.2000

11.1996 - 02.2000

11.1996 - 11.2000

05.1998 - 12.1999

01.1997 - 12.2000

12.1995 - 03.2000

12,1995 - 03.2000

Vorderachse

Vorderachse

FITTING POSITION

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

rechts

SKTR-0240104

SKTR-0240104

ITEM NUMBER

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

Gewindemaf}

Linge [mm]

Gewindemaf}

Lange [mm]

ITEM DETAILS

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Aulengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auf3engewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
AuBengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5



V70 1(LV) 2.3 Turbo (184 KW / 250 HP)

V70 1(LV) 2.3 T AWD (184 KW / 250 HP)

V70 1 (LV) 2.4 Bifuel (103 KW / 140 HP)

V70 I (LV) 2.0 Turbo (166 KW / 226 HP)

V70 I (LV) 2.0 (132 KW / 180 HP)

V70 I (LV) 2.0 Turbo AWD (166 KW / 226 HP)

V70 I (SW) 2.5 R Sport (221 KW / 300 HP)

V70 Il (SW) 2.4 T AWD (142 KW / 193 HP)

V70 I (SW) 2.4 D (93 KW / 126 HP)

V70 Il (SW) 2.3 T5 (184 KW / 250 HP)

V70 Il (SW) 2.4 T (147 KW / 200 HP)

V70 Il (SW) 2.4 CDI (90 KW / 122 HP)

V70 Il (SW) 2.5 TDI (103 KW / 140 HP)

V70 Il (SW) R 2,5 T AWD (221 KW / 300 HP)

V70 Il (SW) 2.3 AWD (195 KW / 265 HP)

V70 Il (SW) 2.5 T (154 KW / 209 HP)

V70 Il (SW) 2.4 T5 (191 KW / 260 HP)

V70 Il (SW) 2.4 D5 (120 KW / 163 HP)

V70 Il (SW) 2.3 (195 KW / 265 HP)

V70 Il (SW) 2.4 (121 KW / 165 HP)

V70 Il (SW) 2.5 AWD (155 KW / 211 HP)

V70 Il (SW) 2.0 T (132 KW / 180 HP)

V70 Il (SW) 2.3 (176 KW / 239 HP)

V70 I (SW) 2.4 T AWD (147 KW / 200 HP)

V70 Il (SW) 2.4 D5 AWD (120 KW / 163 HP)

V70 Il (SW) 2.5 (155 KW / 211 HP)

12.1995 - 03.2000

04.1997 - 03.2000

08.1999 - 12.2000

11.1996 - 12.2000

11.1996 - 03.2000

11.1996 - 12.2000

12.2002 - 08.2007

09.2000 - 12.2002

04.2005 - 12.2008

11.1999 - 12.2004

11.1999 - 08.2003

07.2005 - 12.2008

11.1999 - 08.2007

03.2003 - 08.2007

10.2000 - 09.2004

07.2001 - 08.2007

04.2004 - 08.2007

08.2005 - 07.2007

10.2000 - 09.2004

03.2000 - 09.2003

09.2002 - 12.2004

11.1999 - 08.2007

03.2002 - 12.2004

09.2001 - 08.2002

07.2002 - 08.2007

09.2003 - 08.2007

rechts

rechts

rechts

rechts

rechts

rechts

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse

beidseitig

Vorderachse

Vorderachse

beidseitig

Vorderachse

rechts

Vorderachse

Vorderachse

Vorderachse

Vorderachse

rechts

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240010

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240033

SKTR-0240033

SKTR-0240104

SKTR-0240033

SKTR-0240104

SKTR-0240010

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240010

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

Linge [mm]
Auflengewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Auf3engewinde
[mm]

Lange [mm]
Aufdengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]

Linge [mm]
Auflengewinde
[mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}

Lange [mm]

Gewindemaf

Gewindemaf}

Gewindemaf}
Lange [mm]

Gewindemaf}

Gewindemaf}
Lange [mm]
Linge [mm]
Auflengewinde
[mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Linge [mm]
Auflengewinde
[mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Lange [mm]

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

202
M14x2 /M
16x1,5

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

MM14X1.5R
/MM14X2R

MM14X1.5R
/MM14X2R

M16X1.5/
M14X1.5
150

MM14X1.5R
/MM14X2R

M16X1.5/
M14X1.5
150

202
M14x2 /M
16x1,5

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

202
M14x2 /M
16x1,5

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/

M14X1.5
150

307



V70 Il (SW) 2.4 Bifuel (LPG) (103 KW / 140 HP)

V70 Il (SW) 2.4 AWD (121 KW / 165 HP)

V70 Il (SW) 2.4 D5 (136 KW / 185 HP)

V70 Il (SW) 2.4 D5 AWD (136 KW / 185 HP)

V70 Il (SW) 2.4 D5 (120 KW / 163 HP)

V70 Il (SW) 2.4 Bifuel (CNG) (103 KW / 140 HP)

V70 1l (SW) 2.4 D (96 KW / 131 HP)

V70 Il (SW) 2.4 (103 KW / 140 HP)

V70 Il (SW) 2.4 (125 KW / 170 HP)

V70 Il (SW) 2.5 T AWD (154 KW / 209 HP)

V70 I (SW) 24 T (142 KW / 193 HP)

VOLVO XC90

MODEL

XC90 1D5 (147 KW / 200 HP)
XC90 3.2 AWD (175 KW / 238 HP)
XC90 1D5 (136 KW / 185 HP)
XC90 1V8 (232 KW / 315 HP)
XC90 12.5 AWD (153 KW / 208 HP)
XC90 125 T (154 KW / 209 HP)
XC90 1 T6 (200 KW / 272 HP)

XC90 1D5 (120 KW / 163 HP)

XC90 3.2 AWD (179 KW / 243 HP)
XC90 1D5 AWD (155 KW / 211 HP)

XC90 1D3 /D5 (120 KW / 163 HP)

09.2001 - 08.2007

03.2000 - 09.2003

04.2005 - 12.2008

05.2005 - 08.2007

01.2001 - 12.2008

09.2001 - 08.2007

07.2001 - 08.2007

03.2000 - 08.2007

03.2000 - 08.2007

07.2002 - 08.2007

09.2000 - 12.2002

YEAR

01.2011 - 12.2014

03.2006 - 12.2010

04.2005 - 12.2010

01.2005 - 12.2010

06.2002 - 12.2014

10.2002 - 09.2014

10.2002 - 12.2006

10.2002 - 12.2006

04.2010 - 12.2012

11.2013 - 09.2014

04.2009 - 12.2014

Vorderachse

Vorderachse

beidseitig

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig
Vorderachse
beidseitig

Vorderachse

Vorderachse

FITTING POSITION

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse

Vorderachse

Vorderachse

Vorderachse

Vorderachse

beidseitig

Vorderachse

SKTR-0240104

SKTR-0240033

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240033

SKTR-0240033

SKTR-0240104

SKTR-0240104

ITEMNUMBER

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240105

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240104

SKTR-0240105

SKTR-0240104

Gewindemaf}

Linge [mm]

Gewindemaf}

Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]

Gewindemaf}

Gewindemaf}

Gewindemaf
Linge [mm]
Gewindemaf}

Lange [mm]

ITEM DETAILS

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]

Gewindemaf}

Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf}
Lange [mm]
Gewindemaf
Linge [mm]

Gewindemaf}

Gewindemaf}

Lange [mm]

M16X1.5/
M14X1.5
150

MM14X1.5R
/MM14X2R

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

MM14X1.5R
/MM14X2R

MM14X1.5R
/MM14X2R

M16X1.5/
M14X1.5
150

M16X1.5 /
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

MM16x1.5R
/
MM14x1.5R

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150

MM16x1.5R

/
MM14x1.5R

M16X1.5/
M14X1.5
150



XC90 11 D5 AWD (173 KW / 235 HP)

XC90 II'T6 AWD (236 KW / 321 HP)

XC90 1l D5 4WD (165 KW / 224 HP)

VOLVO XC70

MODEL

XC70 CROSS COUNTRY 2.4 T XCAWD (147 KW / 200 HP)
XC70 CROSS COUNTRY 2.5 T XC AWD (154 KW / 209 HP)

XC70 CROSS COUNTRY 2.0 T5 AWD (166 KW / 226 HP)

XC70 CROSS COUNTRY 2.4 T XCAWD (142 KW /193 HP)
XC70 CROSS COUNTRY 2.4 D5 AWD (136 KW / 185 HP)

XC70 CROSS COUNTRY 2.4 D5 XCAWD (120 KW / 163 HP)

09.2014 -

09.2014 -

09.2014 -

YEAR

03.2000 - 09.2002

09.2002 - 08.2007

10.1997 - 03.1999

11.1997 - 09.2002

12.2005 - 08.2007

09.2002 - 08.2007

Vorderachse
beidseitig

Vorderachse
beidseitig

Vorderachse
beidseitig

FITTING POSITION

rechts

Vorderachse

Vorderachse

beidseitig

rechts

Vorderachse

Vorderachse

SKTR-0240105

SKTR-0240105

SKTR-0240105

ITEMNUMBER

SKTR-0240010

SKTR-0240104

SKTR-0240033

SKTR-0240010

SKTR-0240104

SKTR-0240104

Gewindemaf}

Gewindemaf}

Gewindemaf}

ITEM DETAILS

Lange [mm]
Auf3engewinde
[mm]
Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]
Aulengewinde
[mm]
Gewindemaf}

Lange [mm]

Gewindemaf}

Lange [mm]

MM16x1.5R

/
MM14x1.5R

MM16x1.5R

/
MM14x1.5R
MM16x1.5R

/
MM14x1.5R

202
M14x2 /M
16x1,5

M16X1.5/
M14X1.5
150

MM14X1.5R
/MM14X2R

202
M14x2 /M
16x1,5

M16X1.5/
M14X1.5
150

M16X1.5/
M14X1.5
150



STARK AUTOMOTIVE GMBH

Potsdamer Platz 10

10785 Berlin

www.stark-germany.de




	ALFA ROMEO
	AUDI
	BMW
	CITROËN
	FIAT
	FORD
	HONDA
	LANCIA
	MAZDA
	MERCEDES-BENZ
	MITSUBISHI
	NISSAN
	OPEL
	PEUGEOT
	RENAULT
	ROVER
	SAAB
	SEAT
	SKODA
	TOYOTA
	VOLKSWAGEN
	VOLVO

